11/5/2024 5:21 PM Velva L. Price District Clerk Travis County D-1-GN-24-005548 Candy Schmidt

#### CAUSE NO. D-1-GN-24-005548

PAUL TESSIER, AS CO-TRUSTEE OF THE ANNE T. TESSIER FAMILY TRUST, and BLACK TORTUGA GROUP, LLC,

Plaintiffs, on behalf of themselves and all others similarly situated,

AND

STACY R. SCHIFFMAN, ADELAIDA MARTINEZ, WILLIAM D. AND SUSAN M. MADDEN, A.H. ROOT BUILDING, LLC, RYAN AND LISSA ONG LIVING TRUST, ALLA INVESTMENTS, LLC, 2M & 3D LTD., BUN RENTALS, LLC, HUGH G. DYKES III AS TRUSTEE OF THE DYKES FAMILY REVOCABLE TRUST DATED JULY 7,2004, SYDNEY CRISP AND NICOLA CRISP, DANIEL M. BELL, WILLIAM SMITH, DONNA DEKKER AS TRUSTEE OF THE DEKKER-ROBERTSON FAMILY TRUST; AND HARRY V. AND JOANNE P. HANSEN AS TRUSTEES OF THE HANSEN FAMILY TRUST, LAWRENCE K. SAMUELS AND JANE HEIDER AS TRUSTEES OF THE HEIDER SAMUELS FAMILY TRUST DATED JUNE 29. 2007, JOHN C. POLK AND JANICE C. POLK, AND JAMES PARZIALE, AS TRUSTEE OF THE PARZIALE FAMILY TRUST, Plaintiffs, derivatively on behalf of

Plaintiffs, derivatively on behalf of NP SKYLOFT DST

v.

BURGUNDY 523 OFFSHORE FUND, LTD.,
AXONIC SPECIAL OPPORUNITIES SBL
MASTER FUND LP, AXONIC CREDIT
OPPORTUNITIES MASTER FUND, LP; ACO
SKYLOFT MANAGER LLC; AXONIC
CAPITAL, LLC; and CLAYTON DEGIACINTO,
Defendants.

IN THE DISTRICT COURT OF

TRAVIS COUNTY, TEXAS

261<sup>ST</sup> JUDICIAL DISTRICT

# MOTION FOR ATTORNEY'S FEES AND EXPENSES AND CLASS REPRESENTATIVE SERVICE AWARDS

Class Representatives Black Tortuga Group, LLC and Paul Tessier, Co-Trustee of the Anne T. Tessier Family Trust (collectively "Class Representatives"), for the Class and derivatively on behalf of NP Skyloft DST (the "Trust"), file this Motion for Award of Attorney's Fees and Costs and Class Representative Service Awards from a Settlement Fund established by a post-verdict settlement with Burgundy 523 Offshore Fund, Ltd., Axonic Special Opportunities SBL Master Fund LP, ACO Skyloft Manager LLC, Axonic Credit Opportunities Master Fund LP, Axonic Capital LLC, Clayton DiGiacinto, (the "Axonic Defendants" or collectively "Axonic"), as follows:

#### I. BACKGROUND

The Parties are engaged in litigation styled NP Skyloft DST et al. v. Burgundy 523 Offshore Fund, Ltd., Cause No, D-1-GN-21-000097, before the 261st Judicial District Court of Travis County, Texas ("Original Action") in which certain investors asserted claims arising out of the management of the Trust and the sale of the real property owned by the Trust.

After a three-week trial, the jury reached a verdict in the Original Action on May 11, 2022. On October 13, 2022, the Court, on motions for entry of judgment, indicated its intent to enter judgment against Axonic in favor of the Trust in the amount of \$4,250,000.

<sup>&</sup>lt;sup>1</sup> As the Original Action was specially assigned to this Court, the Court can take judicial notice of the discovery, motion practice, summary judgment briefing, numerous pretrial hearings, and effort expended at trial and after verdict in awarding fees. *See* Tex. R. Evid. 201. The Court can also take judicial notice of the related actions filed in California by Class Counsel Brownlie Hansen that will also be resolved in the Settlement Stipulation: *Parziale v. Nelson, et al.*, No. 2:21-cv-01803 (C.D. Cal.); *Puleo, et al. v. Nelson, et al.*, No. 2:21-cv-06443 (C.D. Cal.); *Ames, et al. v. Nelson, et al.*, No. 2:22-cv-09400 (C.D. Cal.); and *Collins v. NP Skyloft ST, LLC, et al.*, No. 30-2021-01184473-CU-MC-CXC (Cal. Sup. Ct., Orange Cnty.) (collectively, the "Related Actions").

Before the entry of judgment and after a day-long mediation, the Parties reached an agreement to resolve the dispute on August 22, 2024. This agreement set forth in a Stipulation of Settlement and Releases ("Settlement Stipulation") states in relevant part:

- 1. Class Representatives shall file a Class Action Petition (for settlement purposes only) seeking certification of a class of "All Person(s) who purchased or otherwise acquired beneficial interests in NP Skyloft, DST, a Delaware statutory trust, and held such interests at any point from November 7, 2018 to the Effective Date of the Settlement Stipulation." Settlement Stipulation, Section 1;
- 2. Axonic will pay a total amount of \$9,000,000 to establish a Settlement Fund, allocated to full and final settlement of all derivative claims by the Trust and direct claims by Class Members (the "Derivative Claims Settlement" and "Direct Claims Settlement") against Axonic, *Id.*, Sections 3(b), (c);
- 3. \$2,500,000 of the Settlement Fund will be subject to a holdback pending resolution of certain covered claims, to the extent any are brought, *Id*. Section 3(d);
- 4. Class Counsel "will apply to the Court for an award of attorney's fees equal to 30% of the Settlement Fund, together with such expenses incurred as are approved by the Court for reimbursement, subject to approval by the Court," to be paid from the Settlement Fund subject to Court approval. *Id.*, Section 5(a); and
- 5. The Class Representatives appointed in the Preliminary Approval Order will be entitled to an incentive payment of \$5,000 each for their service, to be paid from the Settlement Fund subject to Court approval. *Id.*, Section 5(c).

On August 27, 2024, in the Original Action, the Court entered preliminary approval of the Settlement Stipulation through a Preliminary Class Action Settlement Approval which (1) granted preliminary approval of the settlement with Axonic; (2) certified a Class for settlement purposes only; (3) appointed Class Representatives and Class Counsel; (4) appointed the Administrator of the Settlement; (5) approved the form and manner of notice to the Class Members ("Notice"); and (6) set a Fairness Hearing on December 5, 2024. *Id*.

The Administrator served mail and email notice approved by the Court on each of the approximately 260 members of the Class, which described the attorney's fees and expenses for which Class Counsel would seek approval.

On October 21, 2024, the deadline for exclusion requests to the Direct Claims Settlement and objections to the Derivative Claims Settlement passed. No exclusion requests were filed. One objection by Class Member Patenaude Properties, LLC ("Patenaude") was timely filed and has not been withdrawn. It requests that "at a minimum, that [Class] counsel's share of the Axonic settlement be reduced to 20%" in light the pre-trial settlement in the Liquidation Plan with the Nelson Parties. It further objects that the terms of the Settlement are "so exceedingly complex that they are virtually incomprehensible."

Class Representatives and Class Counsel now move for approval of (1) payment of the 30% attorney's fee set forth in the Settlement Stipulation, (2) payment of \$163,472.24 in expenses incurred by Class Counsel, and (3) payment of \$5,000 service awards for each of Class Representatives, each to be paid from the Settlement Fund to be paid by Axonic. Axonic does not oppose this Motion.

# II. REQUEST FOR FEES AND EXPENSES

Class Counsel seek approval of a 30% fee on all sums paid by Axonic, to be paid one-half (15%) to George Brothers Kincaid & Horton, L.L.P. ("GBKH") and one-half (15%) to Brownlie Hansen LLP, as follows:

• Attorney's fees to GBKH of 15% of \$6,500,000, i.e. \$975,000, payable within 30 days of the Effective Date of the Settlement.

- Attorney's fees to Brownlie Hansen of 15% of \$6,500,000, i.e. \$975,000, payable within 30 days of the Effective Date of the Settlement.
- Attorney's fees to GBKH of 15% of remaining Holdback Funds upon the Holdback Termination Date.
- Costs to GBKH of \$77,506.22, payable within 30 days of the Effective Date.
- Attorney's fees to Brownlie Hansen of 15% of remaining Holdback Funds upon the Holdback Termination Date.
- Costs to Brownlie Hansen of \$85,966.02, payable within 30 days of the Effective Date of the Settlement.

In support of the Motion, Class Representatives submit the following:

- 1. The Declaration of D. Douglas Brothers (Exhibit 1);
- 2. Time and expense records of George Brothers Kincaid & Horton, LLP ("GBKH");
- 3. The Declaration of Robert W. Brownlie (Exhibit 2);
- 4. Time and Expense Records of Brownlie Hanson, LLP ("BH") and Miller Lloyd P.C. ("ML")

### III. ARGUMENT AND AUTHORITIES

The attorney's fee established by the Settlement Stipulation is reasonable and will adequately compensate Class Counsel for their efforts in prosecuting the actions against Axonic and the substantial benefits achieved for the Trust and the Class. Class Counsel conducted a three-week jury trial of the derivative claims, in addition to rigorously pursuing class and mass actions of direct securities claims in the Related Actions in California against Axonic. These efforts resulted in substantial benefit for the Trust and the Class. For this reason, the Court should exercise its discretion to approve the fees and expenses requested under a percentage calculation, cross-checked by a lodestar analysis.

# A. Delaware and Texas law support an attorney's fee award from the Settlement Fund paid by Axonic.

Plaintiffs pleaded for attorney's fees in both the Original Action for derivative claims on behalf of the Trust and in the Supplemental Class Action Petition for direct securities claims.<sup>2</sup> There are several bases for an award of attorney's fees from the Settlement Fund under both Delaware law (which applies the derivative claims on behalf of the Delaware Statutory Trust) and Texas law: (1) an express statutory authorization, 12 Del. Code §3816(d), (2) the common benefit or common fund doctrine, and (3) the Derivative and Class Action rules, Delaware Chancery Court Rules 23.1(e) and 23(g) and Texas Rule of Civil Procedure 42(h) and (i).

First, the Delaware Code specifically authorizes an award of attorney's fees and expenses in a derivative action on behalf of a Delaware Statutory Trust. 12 Delaware Code, section 3816(d) provides, in part:

If a derivative action is successful, in whole or in part, or if anything is received by a statutory trust as a result of a judgment, compromise or settlement of any such action, the Court may award the plaintiff reasonable expenses, including reasonable attorney's fees.

Second, it is well established under Delaware law and Texas law that the Court may use its equitable powers to award fees outside of an express "statutory authorization" in circumstances that include, but are not limited to, the presence of a "common fund created

Motion for Fees, Costs, and Service Awards

<sup>&</sup>lt;sup>2</sup> See Schiffman Fourth Amended Plea in Intervention ¶ 6.6; Parziale Original Petition in Intervention ¶ 141; Supplemental Class Action Petition (for Settlement Purposes Only) ¶ 55.

for the benefit of others."<sup>3</sup> Under the common fund doctrine, "a litigant or a lawyer who recovers a common fund for the benefit of persons other than himself or his client is entitled to a reasonable attorney's fee from the fund as a whole."<sup>4</sup> "Typically, successful derivative or class action suits which result in the recovery of money or property wrongfully diverted from the corporation ... are viewed as fund creating actions."<sup>5</sup> To the extent applicable, Texas law is consistent in awarding fees based on a common benefit to a class.<sup>6</sup>

# B. Attorney's fees of Thirty Percent of the Settlement Fund under the Common Fund Doctrine Should be Awarded.

There are two methods of calculating fee awards in common benefit cases: the percentage of the fund method and the lodestar method.<sup>7</sup> Under a percentage of the fund

<sup>&</sup>lt;sup>3</sup> Americas Mining Corp. v. Theriault, 51 A.3d 1213, 1252 (Del. 2012); see also Libhart v. Copeland, 949 S.W.2d 783, 803 (Tex. App.—Waco 1997, no writ)("The common fund doctrine allows for the recovery of attorney fees in equity where a plaintiff has maintained a successful suit for the preservation, protection, or increase of a common fund[,] or [of] common property.")(citing Knebel v. Capital Nat'l Bank, 518 S.W.2d 795, 799 (Tex.1974).

<sup>&</sup>lt;sup>4</sup> Americas Mining Corp. v. Theriault, 51 A.3d 1213, 1252 (Del. 2012) citing Boeing Co. v. Van Gemert, 444 U.S. 472, 478, 100 S. Ct. 745, 62 L.Ed.2d 676 (1980) (citations omitted). See also Goodrich v. E.F. Hutton Group, Inc., 681 A.2d 1039, 1049 (Del.1996) ("[T]he condition precedent to invoking the common fund doctrine is a demonstration that a common benefit has been conferred.").

<sup>&</sup>lt;sup>5</sup> Americas Mining Corp., 51 A.3d at 1252–53 citing Tandycrafts, Inc. v. Initio Partners, 562 A.2d 1162, 1164–65 (Del.1989).

<sup>&</sup>lt;sup>6</sup> In Texas, awarding costs and attorneys' fees to successful plaintiffs in shareholder derivative suits is a well-established practice. *Bayoud v. Bayoud*, 797 S.W.2d 304, 315 (Tex. App.—Dallas 1990, writ denied) citing *Prudential–Bache Sec., Inc. v. Matthews*, 627 F. Supp. 622, 625 (S.D.Tex.1986); *Modern Optics, Inc. v. Buck*, 336 S.W.2d 857, 861 (Tex. Civ. App.—Waco 1960, writ ref'd n.r.e.). Attorneys' fees are allowed in shareholder derivative suits where it is shown the suit has conferred substantial benefits on the corporation and its shareholders. *Id.* citing *Prudential–Bache Sec., Inc.*, 627 F. Supp. at 625.

<sup>&</sup>lt;sup>7</sup> Americas Mining Corp., 51 A.3d at 1253.

method, courts calculate fees based on a reasonable percentage of the common fund.<sup>8</sup> The lodestar method multiplies hours reasonably expended against a reasonable hourly rate to produce a "lodestar," which can then be adjusted through application of a "multiplier," to account for additional factors such as the contingent nature of the case and the quality of an attorneys' work.<sup>9</sup>

When the benefit is quantifiable, such as where the plaintiff's litigation secured a significant financial benefit for the corporation that they probably could not have achieved otherwise, Delaware courts typically apply a "percentage of the benefit" approach to awarding attorney's fees rather than lodestar. Delaware law relies on the *Sugarland* factors in an award of fees. In *Sugarland*, the Delaware Supreme Court expressly rejected the use of time expended (i.e. lodestar) as the principal basis for determining fees awarded to derivative plaintiff's counsel. Instead, Delaware law holds that the *benefit achieved* by the litigation is the "common yardstick by which a plaintiff's counsel is compensated in a successful derivative action."

Thus, the factors that a Court should consider and weigh in making an award of attorney fees under Delaware law are: 1) the results achieved; 2) the time and effort of

<sup>&</sup>lt;sup>8</sup> *Id*.

<sup>&</sup>lt;sup>9</sup> *Id*.

<sup>&</sup>lt;sup>10</sup> Sciabacucchi v. Salzberg, No. CV 2017-0931-JTL, 2019 WL 2913272, at \*6 (Del. Ch. July 8, 2019), judgment entered, (Del. Ch. 2019), vacated, (Del. Ch. 2020) citing Ams. Mining, 51 A.3d at 1254 (stating Delaware has eschewed the lodestar method principally for cases resulting in common funds or quantifiable common benefits.)

<sup>&</sup>lt;sup>11</sup> Americas Mining Corp., 51 A.3d at 1257 citing Sugarland Indus., Inc. v. Thomas, 420 A.2d at 150.Id.

<sup>&</sup>lt;sup>12</sup> Id. at 1258 citing Sugarland Indus., Inc. v. Thomas, 420 A.2d at 150.

counsel; 3) the relative complexities of the litigation; 4) any contingency factor; and 5) the standing and ability of counsel involved.<sup>13</sup> Here, each of these factors support an award of fees.

#### 1. Benefit achieved.

The *Sugarland* factor that is given the greatest emphasis is the size of the fund created, because a "common fund is itself the measure of success ... [and] represents the benchmark from which a reasonable fee will be awarded." <sup>14</sup> In determining the amount of a reasonable fee award, *Sugarland* calls for an award of attorney's fees based upon a percentage of the benefit. <sup>15</sup> Here, Plaintiffs' co-counsel, working collaboratively, obtained successfully tried the case to a jury, received a favorable verdict, and then, in settlement, nearly doubled the amount recovered.

Delaware case law supports a wide range of reasonable percentages for attorney's fees, but generally speaking, the Court of Chancery has a history of awarding lower

<sup>&</sup>lt;sup>13</sup> Id. at 1254 citing Sugarland Indus., Inc. v. Thomas, 420 A.2d at 149.

<sup>&</sup>lt;sup>14</sup> Americas Mining Corp., 51 A.3d at 1259 citing 4 Alba Conte & Herbert B. Newberg, Newberg on Class Actions § 14:6, at 547, 550 (4th ed.2001). See Irving Morris & Kevin Gross, Attorneys' Fee Applications In Common–Fund Cases Under Delaware Law: Benefit Achieved as "The Common Yardstick," 324 PLI/Lit 167, 175 (1987).

Texas similarly recognizes the "substantial benefit" test. Section 21.561 of the Texas Business Organizations Code provides that in a derivative proceeding, the trial court may require the company to pay the expenses the plaintiff incurred, including attorneys' fees, "if the court finds the proceeding has resulted in a substantial benefit to the [corporation.]" *J.C. Penney Co., Inc. v. Ozenne*, 453 S.W.3d 509, 512 (Tex. App.—Dallas 2014, pet. denied) citing Tex. Bus. Org. Code § 21.561(b)(1). Texas law also recognizes the Court's ability to award "reasonable and necessary attorneys' fees as are equitable and just" in equitable claims for declaratory judgment. *See* Tex. Civ. Prac. & Rem. Code 37.001.

percentages of the benefit where cases have settled before trial. When a case settles early, the Court of Chancery tends to award 10–15% of the monetary benefit conferred. When a case settles after the plaintiffs have engaged in meaningful litigation efforts, typically including multiple depositions and some level of motion practice, fee awards in the Court of Chancery range from 15–25% of the monetary benefits conferred. Higher percentages are warranted when cases progress to a post-trial adjudication. In the litigation by Plaintiffs against the Axonic Parties, the 'benefit achieved' test substantiates a fee of at least 30% of the Settlement Fund.

For this reason, Class Member Patenaude Properties LLC's objection to the proposed attorney's fees should be denied. Patenaude points to the 20% attorney's fee in

<sup>&</sup>lt;sup>16</sup> Americas Mining Corp., 51 A.3d at 1259 citing Franklin Balance Sheet Inv. Fund v. Crowley, 2007 WL 2495018, at \*13 (Del.Ch. Aug. 30, 2007).

<sup>&</sup>lt;sup>17</sup> Julian v. E. States Constr. Serv., Inc., 2009 WL 154432 (Del.Ch. Jan. 14, 2009) (awarding total of 8% when little time and effort were invested before settlement); Korn v. New Castle Cty., 2007 WL 2981939 (Del.Ch. Oct. 3, 2007) (awarding 10% when "there was limited discovery, no briefing, and no oral argument...."); In re Josephson Int'l, Inc., 1988 WL 112909 (Del.Ch. Oct. 19, 1988) (awarding 18% when case settled after ten days of document discovery); Schreiber v. Hadson Petroleum Corp., 1986 WL 12169 (Del.Ch. Oct. 29, 1986) (awarding 16% when case settled "[s]hortly after suit was filed").

<sup>&</sup>lt;sup>18</sup> Americas Mining Corp., 51 A.3d at 1260 citing In re Emerson Radio S'holder Deriv. Litig., 2011 WL 1135006, at \*3 & n. 3 (citing In re Cablevision/Rainbow Media Gp. Tracking Stock Litig., 2009 WL 1514925 (Del.Ch. May 22, 2009) (awarding 22.5% where plaintiffs' counsel devoted nearly 5,000 hours to the case); Gelobter v. Bressler, 1991 WL 236226 (Del.Ch. Nov. 6, 1991) (awarding 16.67% where counsel pursued extensive discovery, including seventeen depositions); Stepak v. Ross, 1985 WL 21137 (Del.Ch. Sept. 5, 1985) (awarding 20% where plaintiff took extensive discovery)).

<sup>&</sup>lt;sup>19</sup> In re Activision Blizzard, Inc. Stockholder Litig., 124 A.3d 1025, 1070 (Del. Ch. 2015), as revised (May 21, 2015)(awarding attorney fee of 26% of fund of \$275 Million where case settled one month before trial); In re Dell Techs. Inc. Class V Stockholders Litig., 300 A.3d 679, 685 (Del. Ch. 2023), as revised (Aug. 21, 2023), aff'd, No. 349, 2023, 2024 WL 3811075 (Del. Aug. 14, 2024)(awarding attorney's fees of 27% of \$1 Bilion where case settled on eve of trial).

Axonic should be reduced to 20%. However, the Liquidation Plan with Nelson was achieved without the necessity of trial; the settlement with Axonic necessitated a three-week trial of the derivative claims as well as a multiple class and mass securities actions in federal court in California to achieve the amount of the Settlement Fund. Under these circumstances and *Sugarland*, the 30% fee is justified.

# 2. Complexity of Litigation

Courts have held that the presence of following factors is indicative of a more complex litigation for which an award for attorney's fees on the higher range is more likely to be supported.<sup>20</sup>

- the legal issues were complex;
- factual issues were particularly challenging;
- lead counsel obtained and reviewed in excess of 800,000 pages of documents from defendants and numerous non-parties;
- to obtain, review, and analyze these documents required significant effort, including extensive and numerous follow-up communications with the producing parties to ensure timely and comprehensive productions;
- Obtaining documents required third party practice;
- Piecing together the chronology required mixing and matching documents from multiple sources; and
- Counsel had to engage in careful detective work to understand what happened, given the wholesale assertions of privilege.

Here, again, as in *Activision Blizzard*, the facts indicate the complexity of this case.<sup>21</sup> The factual and legal issues were challenging; the documents reviewed, produced, admitted at

<sup>&</sup>lt;sup>20</sup> Activision Blizzard, 124 A.3d at 1273.

<sup>&</sup>lt;sup>21</sup> As the trial judge that presided over the trial and post-judgment briefing, the Court can take judicial notice of these facts.

trial were copious; the briefing on factual and legal issues at summary judgment and postverdict stage was comprehensive. The Related Actions required copious briefing on motions to dismiss and concerning the legal issues of secondary liability for Axonic for securities fraud. The "complexity" factor substantiates a fee in the higher range.

# 3. Contingent representation

Another secondary *Sugarland* factor that may be considered in determining the amount of award in a common fund case is the contingent nature of the representation. It is the "public policy of Delaware to reward risk-taking in the interests of shareholders."<sup>22</sup> As the *Activision Blizzard* Court explained:

[Lead] Counsel faced risk in pursuing a damages remedy, including the realistic possibility that [Lead] Counsel would receive nothing for their time and effort. <sup>23</sup> The prosecution of the litigation by co-lead counsel was a largely undiversified, entrepreneurial undertaking [by] both small firms, with two partners and three partners respectively. Two partners from each firm were deeply involved in all stages of the litigation and took or defended all of the depositions. Both firms had limited ability to work on other cases and turned away potential new business. <sup>24</sup>

Based on these circumstances, the Court determined "[t]his case involved true contingency risk. This factor supports an award at the higher end of the range." As demonstrated by the Declaration of Mr. Brothers and Mr. Brownlie, both of their firms are small in size, their partners were involved in all stages of the litigation and conducted all of the pre-trial and trial work. In addition, Mr. Brothers personally guarantees his firm's line of credit,

<sup>&</sup>lt;sup>22</sup> Id., citing In re Plains Res. Inc., 2005 WL 332811, at \*6 (Del.Ch. Feb. 4, 2005).

<sup>&</sup>lt;sup>23</sup> *Id.*, citing *Orchard*, 2014 WL 4181912, at \*9.

<sup>&</sup>lt;sup>24</sup> *Id*.

<sup>&</sup>lt;sup>25</sup> *Id*.

which financed case expenses. Both firms had limited ability to work on other cases and turned away potential new business, and carried a substantial risk in bringing suit. The contingent representation factor, too, justifies a substantial award of fees.

### 4. Time and Effort of Co-Counsel

The time and effort expended by co-counsel serves as a cross-check on the reasonableness of a fee award.<sup>26</sup> Just as it sounds, this factor has two separate but related components: (i) time and (ii) effort.<sup>27</sup> As explained in more detail in the lodestar discussion below, the time and effort expended by Lead Counsel justifies the fees sought. In *Activision Blizzard*, the Court explained that the time (*i.e.* hours) that counsel claim to have worked is of secondary importance. As the court explained below, more important than hours is effort, as in what derivative co-counsel actually did:<sup>28</sup>

As demonstrated by the discussion of the complexities of the litigation, Derivative Lead Counsel did a lot. And they did it all under the pressure of a schedule designed to get the case to trial within one year. Lead Counsel did not throw a horde of junior timekeepers at the matter that would have inflated the overall number of hours. It created efficiencies for the four senior lawyers who comprised the trial team to take all of the depositions, work with the expert, and immerse themselves in all facets of the case.<sup>29</sup>

For these reasons, the Activision Blizzard court held that "[w]hile the size of the award implies a generous hourly rate, in this case it was justified by the effort." Here, too, a

<sup>&</sup>lt;sup>26</sup> In re Sauer–Danfoss Inc. S'holders Litig., 65 A.3d 1116, 1138 (Del. Ch. 2011).

<sup>&</sup>lt;sup>27</sup> *Id*.

<sup>&</sup>lt;sup>28</sup> *Id.* at 1074 citing *Ams. Mining*, 51 A.3d at 1258.

<sup>&</sup>lt;sup>29</sup> *Id.* at 1074.

<sup>&</sup>lt;sup>30</sup> *Id.* at 1074

sizeable award is justified. This Original Action was litigated and tried in under two years, with dozens of depositions, hundreds of exhibits, two summary judgment hearings with copious legal briefing, and an almost three-week trial followed by extensive post-verdict motions. GBKH expended over a thousand hours in prosecuting this case. On an hourly rate basis, without any multiplier, GBKH incurred a total of \$956,332.31 (and counting) in fees. Brownlie Hansen and Miller Lloyd similarly expended countless hours prosecuting this and the Related Actions, and on an hourly basis without any multiplier, incurred a total of \$1,803,132.00 and \$426,285.00, respectively (for a total of \$2,229,417.00) on this and the Related Actions. The request for 30% in fees here, then, is wholly consistent with the actual hours spent multiplied by a reasonable hourly rate.

# 5. Standing and Ability of Counsel

No one has disputed the standing or ability of Plaintiffs' co-counsel to handle this litigation. D. Douglas Brothers and Robert Brownlie are both experienced trial lawyers with experience in class, derivative and Delaware fiduciary litigation, and Jenny Lloyd has lengthy experience in Travis County District Courts. Despite the fact that Class Counsel was by far outnumbered by counsel for Defendants, Plaintiffs' co-counsel brought expertise, initiative, and ingenuity to the case causing Plaintiffs to prevail at trial against Axonic resulting in the Settlement Stipulation.

# C. A Percentage Fee May Also be Awarded under Del. Ch. Ct. R. 23.1 and 23(g) and Tex. R. Civ P. 42(h) and (i).

Attorney's fees and costs may be awarded in a certified class action or derivative action under the derivative and class action rules. Del. Ch. Ct. R. 23(g) states that "the Court may award reasonable attorney's fees and expenses to class counsel." Del. Ch. Ct. R. 23.1(e)(1) states "in a derivative action, the Court may award reasonable attorney's fees and expenses to derivative counsel." Tex. R. Civ. P. 42(h) states "in an action certified as a class action, the court may award attorney fees ... authorized by law or by agreement of the parties." By obtaining payment of the Settlement Fund by Axonic on behalf of the Class and Trust, Class Counsel has earned a fee. <sup>31</sup> Plaintiffs seek an award of attorney's fees under the percentage method, with a lodestar cross-check, in line with the prevailing class and derivative actions rules in Delaware and Texas. <sup>32</sup>

The two methods for awarding fees in class actions are (1) the percentage method, in which the Court awards fees as a reasonable percentage of the common fund made available to the class and (2) the lodestar method, in which the Court computes fees by multiplying the number of hours reasonably expended on the litigation by a reasonable hourly rate and, in its discretion, applying an upward or downward multiplier where

<sup>31</sup> See In re Dell Techs. Inc. Class V S'holders Litig., No. 349, 2023, 2024 WL 3811075, at \*7 (Del. Aug. 14, 2024); see also Boeing Co. v. Van Gemert, 444 U.S. 472, 478 (1980) (noting that, since the 1880s, the Supreme Court "has recognized consistently that a litigant or a lawyer who recovers a common fund for the benefit of persons other than himself or his client is entitled to a reasonable attorney's fee from the fund as a whole").

<sup>&</sup>lt;sup>32</sup> Sugarland Indus., Inc. v. Thomas, 420 A.2d 142 (Del. 1980); Gen. Motors Corp. v. Bloyed, 916 S.W.2d 949, 960 (Tex. 1996)

appropriate.<sup>33</sup> The Court has discretion as to which method is appropriate in a particular case.<sup>34</sup>

The focal point of the Court's analysis in determining a reasonable fee is the "benefit created by counsel's efforts." When the relief is monetary, the fees must be proportional to the class benefit. And they are in this case. Class Counsel obtained a settlement of up to \$9 million. The requested fee award is 30% of the Settlement Fund—within the range of percentages approved by Delaware and Texas courts. Additionally, each of the enhancement factors used to adjust the benchmark is present in the case presented.

After extensive publication of the Settlement Agreement and all of its terms, only one Class Member and no governmental entity has challenged it. The Axonic Defendants

<sup>&</sup>lt;sup>33</sup> See In re Dell Techs. Inc. Class V S'holders Litig., 300 A.3d 679 (Del. Ch. 2023), as revised (Aug. 21, 2023), aff'd, No. 349, 2023, 2024 WL 3811075 (Del. Aug. 14, 2024);

<sup>&</sup>lt;sup>34</sup> Goodrich v. E.F. Hutton Grp., Inc., 681 A.2d 1039, 1045-46 (Del. 1996); Gen. Motors Corp. v. Bloyed, 916 S.W.2d 949, 960 (Tex. 1996).

<sup>&</sup>lt;sup>35</sup> In re Dell Techs. Inc. Class V S'holders Litig., 300 A.3d 679 (Del. Ch. 2023), as revised (Aug. 21, 2023), aff'd, No. 349, 2023, 2024 WL 3811075 (Del. Aug. 14, 2024); Gen. Motors Corp. v. Bloyed, 916 S.W.2d 949, 960 (Tex. 1996).

<sup>&</sup>lt;sup>36</sup> In re Dell Techs. Inc. Class V S'holders Litig., 300 A.3d 679, 698–99 (Del. Ch. 2023), as revised (Aug. 21, 2023), aff'd, No. 349, 2023, 2024 WL 3811075 (Del. Aug. 14, 2024); In re Mindbody, Inc. S'holder Litig., C.A. No. 2019-0442-KSJM, at 14, 17, 27–28, 33, 2022 WL 2077906 (Del. Ch. June 8, 2022) (the plaintiffs reached a partial settlement, six weeks before trial, with all but two defendants; court approved attorneys' fee of 30% of common fund of \$27 million); Americas Mining Corp. v. Theriault, 51 A.3d 1213, 1260 (Del. 2012); Crouch v. Tenneco, Inc., 853 S.W.2d 643, 646 (Tex. App.—Waco 1993, writ denied)(approval of 28% of common fund in pre-trial settlement); see also FJC MANUAL FOR COMPLEX LITIGATION (FOURTH) § 14.121 (2010) ("Attorney fees awarded under the percentage method are often between 25% and 30% of the fund.")(citing THOMAS E. WILLGING, LAURAL L. HOOPER & ROBERT J. NIEMIC, EMPIRICAL STUDY OF CLASS ACTIONS IN FOUR FEDERAL DISTRICT COURTS: FINAL REPORT TO THE ADVISORY COMMITTEE ON CIVIL RULES 69, 146–47 figs.67 & 68 (Federal Judicial Center 1996)).

do not object to the amount of fees or expenses.<sup>37</sup> All of these factors support a percentage-fee benchmark of 30%, within the range of percentage-fee recoveries that have been approved by Delaware and Texas courts in similar derivative and class action cases after trial. The award is also confirmed by the lodestar calculation, which would roughly equate to 30% at reasonable or prevailing hourly rates for Class Counsel.

# D. Plaintiffs have Submitted Proof Sufficient under a Lodestar and Multiplier as well.

As described above, an award in the amount of a percentage of the Settlement Fund is appropriate under Delaware and Texas law. Plaintiffs have also complied with Texas practice and Tex. R. Civ. P. 42(i) in their proof. In General Motors Corp. v. Bloyed, the Texas Supreme Court observed there are two different methods for calculating attorney's fees class actions: the lodestar method the percentage method.<sup>38</sup> and The percentage method "is used when the value of the settlement [or judgment] is subject to reasonably clear estimation."39 Here, the value of the Settlement Fund is set, and a percentage if appropriate. A lodestar calculation would result in a similar amount. Which method should be used in awarding attorney's fees in a class action is left "to the sound discretion of the trial court."40

<sup>37</sup> In re Activision Blizzard, Inc. S'holder Litig., 124 A.3d 1025, 1075 (Del. Ch. 2015), as revised (May 21, 2015), judgment entered sub nom. In re Activision Blizzard, Inc. Stockholder Litig., No. CV 8885-VCL, 2015 WL 2415559 (Del. Ch. May 20, 2015).

<sup>&</sup>lt;sup>38</sup> J.C. Penney Co., Inc. 453 S.W.3d at 513 citing General Motors Corp. v. Bloyed, 916 S.W.2d 949 (Tex.1996).

<sup>&</sup>lt;sup>39</sup> Id. citing General Motors Corp., 916 S.W.2d at 960.

<sup>&</sup>lt;sup>40</sup> J.C. Penney Co., Inc. 453 S.W.3d citing General Motors Corp., 916 S.W.2d at 960–61.

The lodestar method is "the number of hours worked multiplied by the prevailing hourly rates." Under the lodestar method, the determination of what constitutes a reasonable attorney's fee involves two steps. First the court must determine the reasonable hours spent by counsel in the case and a reasonable hourly rate for such work. The court then multiplies the number of such hours by the applicable rate, the product of which is the base fee or "lodestar." This figure is then adjusted for such factors as the size or value of the recovery, the complexity of the litigation, the expertise of counsel, and the degree to which the attorney was precluded from accepting other work (the "multiplier"). 42

The Texas Supreme Court in *El Apple I, Ltd*. identified the following non-exclusive list of factors to be considered when awarding attorney's fees in a class or derivative action pursuant to Tex. R. Civ. P. 42(i)(1):

- (1) the time and labor required, the novelty and difficulty of the questions involved, and the skill requisite to perform the legal service properly;
- (2) the likelihood, if apparent to the client, that the acceptance of the particular employment will preclude other employment by the lawyer;
- (3) the fee customarily charged in the locality for similar legal services;
- (4) the amount involved and the results obtained;
- (5) the time limitations imposed by the client or by the circumstances;
- (6) the nature and length of the professional relationship with the client;
- (7) the experience, reputation, and ability of the lawyer or lawyers performing the services; and
- (8) whether the fee is fixed or contingent on results obtained or uncertainty of collection before the legal services have been rendered.<sup>43</sup>

<sup>&</sup>lt;sup>41</sup> J.C. Penney Co., Inc. 453 S.W.3d at 514 citing Gen. Motors, 916 S.W.2d at 960.

<sup>&</sup>lt;sup>42</sup> *Id.*.

<sup>&</sup>lt;sup>43</sup> El Apple I, Ltd. v. Olivas, 370 S.W.3d 757, 760–61 (Tex. 2012) citing Tex. R. Civ. P. 42(i) and Tex. Disc. R. Prof'l Cond. 1.04.

In calculating a lodestar, "contemporaneous billing records are not required to prove that the requested fees are reasonable and necessary. Nevertheless, billing records are strongly encouraged to prove the reasonableness and necessity of requested fees when those elements are contested.<sup>44</sup>

The fee and expense records attached to the Brownlie and Brothers' Declarations demonstrate the reasonableness of the fees requested and comply with the *Rohrmoos*-encouraged proof. GBKH incurred a total amount billed of \$956,332.31 in attorney's fees (of which \$902,326 remain unreimbursed). Brownlie Hansen and Miller Lloyd incurred total amount billed of \$1,803,132.00 and \$426,285.00, respectively (for a total of \$2,229,417.00) on this and the Related Actions, of which \$1,306,172.00 remains unreimbursed. Even were this Court to apply a lodestar calculation, the fees of GBKH, BH and ML equal or exceed the percentage calculation, and thus a fee of \$1.95 million would be supported.

When a percentage-of-recovery method is used for awarding fees in a common-fund case, it is appropriate, but not required, to cross-check the award using the lodestar method. "Hours worked are considered as a crosscheck to guard against windfall awards"<sup>45</sup> Here, the 30% of the Settlement Fund recovery compares favorably to the lodestar calculations provided by Class Counsel. Tallying up all the lodestar calculations from Class Counsel,

<sup>44</sup> Rohrmoos Venture v. UTSW DVA Healthcare, LLP, 578 S.W.3d 469, 501 (Tex. 2019)(internal citations omitted).

<sup>&</sup>lt;sup>45</sup> In re Dell Techs. Inc. Class V S'holders Litig., 300 A.3d 679, 692 (Del. Ch. 2023), as revised (Aug. 21, 2023), <u>aff'd</u>, No. 349, 2023, 2024 WL 3811075 (Del. Aug. 14, 2024) (quoting Olson v. EV3, Inc., 2011 WL 704409, at \*8 (Del. Ch. Feb. 21, 2011)).

the total attorney's fees would have been \$4,063,510 and unreimbursed total is \$2,212,498. The lodestar calculation should further assure the Court that 30% of the Settlement Fund is an appropriate and reasonable fee for Class Counsel under all of the circumstances.

In sum, under <u>either</u> a percentage or lodestar calculation, Class Counsel should be awarded fees of \$1,950,000 from the initial distribution. Determining the percentage of the Settlement Fund to award is a matter within the Court's discretion and will not be disturbed on appeal absence abuse of such discretion.<sup>46</sup>

# E. The Expenses are Fully Documented and Recoverable.

The Settlement Stipulation and Notice provided to Class Members states that Class Counsel can seek Court approval to recover expenses from the Settlement Fund.<sup>47</sup> Typically, an attorney who has created a common fund for the benefit of the class is entitled to reimbursement of reasonable litigation expenses from that fund.<sup>48</sup> Class Counsel has incurred \$172,136.27 in as yet unreimbursed expenses they have advanced on behalf of the Class that are to be paid out of the Settlement Fund as follows:

Class Counsels' Firms	Expenses
D. Douglas Brothers (George & Brothers; George Brothers Kincaid & Horton, LLP)	\$77,506.22
Brownlie Hansen	\$85,966.02
TOTAL	\$163,472.24

<sup>&</sup>lt;sup>46</sup> Id.; Crouch v. Tenneco, Inc., 853 S.W.2d 643, 646 (Tex. App.—Waco 1993, writ denied).

 $<sup>^{47}</sup>$  Settlement Stipulation  $\P$  5(a); Class Notice, Page 4.

<sup>&</sup>lt;sup>48</sup> In re Dell Techs. Inc. Class V S'holders Litig., 300 A.3d 679, 697 (Del. Ch. 2023), as revised (Aug. 21, 2023), aff'd, No. 349, 2023, 2024 WL 3811075 (Del. Aug. 14, 2024).

Each Class Counsel has proven the amount and necessity of these expenses.<sup>49</sup> Class Representatives therefore respectfully request that the Court award them their attorneys' expenses from the Settlement Fund.

# F. Service Awards are Appropriate for Services Provided by the Class Representatives and Do Not Raise Indicia of Potential Conflict.

Incentive awards to the Class Members that served as Class Representatives are appropriate here. Such awards are intended to compensate the Class Representative for work undertaken on behalf of the class, "are fairly typical in class action cases," and do not "create an impermissible conflict between class members and their representatives." Here, the representative of Black Tortuga LLC testified at the trial of the Original Action and was present for much of the trial, and both representatives closely reviewed the Settlement Stipulation. There is no indicia of conflict, since the service award is tied directly to the benefits provided to the class and is a fixed figure, not a sliding scale. The Class Representatives have no separate personal financial interest in settling for a particular number, as all Class Members will recover under the same formula and receive a *pro rata* share of the Settlement Fund. In addition, the service award is not contingent on the Class

<sup>&</sup>lt;sup>49</sup> See Ex. 1 Brothers Decl. at Ex.3; Ex 2 Brownlie Decl. At Ex. E.

<sup>&</sup>lt;sup>50</sup> See In re Dell Techs. Inc. Class V S'holders Litig., 300 A.3d 679 (Del. Ch. 2023), as revised (Aug. 21, 2023), aff'd. 2024 WL 3811075 (Del. Aug. 14, 2024) (Incentive award of \$50,000, to be paid out of award of attorney's fees, for named plaintiff was appropriate).

<sup>&</sup>lt;sup>51</sup> *In re Online DVD-Rental Antitrust Litig.*, 779 F.3d 934, 943 (9th Cir. 2015).

Representatives' approval of the Settlement. For this reason, the service awards of \$5,000 per Class Representative to be paid from the Settlement Fund should be approved.

### **PRAYER**

For the foregoing reasons, Plaintiffs and Class Representatives pray this court direct the Administrator to distribute funds from the Settlement Fund as follows:

- (a) To George Brothers Kincaid & Horton for attorney's fees in the amount of \$975,000.00;
- **(b)** To George Brothers Kincaid & Horton for expenses in the amount of \$77,506.22;
- (c) To Brownlie Hansen for attorney's fees in the amount of \$975,000.00;
- (d) To Brownlie Hansen for expenses in the amount of \$85,966.02;
- (e) To Black Tortuga Group, LLC a service fee of \$5,000.00; and
- (f) To Paul Tessier, Co-Trustee of the Anne T. Tessier Family Trust a service fee of \$5,000.00.

and for any further relief to which Class Representatives are entitled.

## Respectfully submitted,

### **CLASS COUNSEL:**

Dated: November 5, 2024

### GEORGE BROTHERS KINCAID & HORTON LLP

By: /s/ D. Douglas Brothers

D. Douglas Brothers State Bar No. 03084500 114 West 7th Street, Ste. 1100 Austin, Texas 78701 (512) 495-1400 telephone

(512) 499-0094 facsimile Email: dbrothers@gbkh.com

### **BROWNLIE HANSEN LLP**

ROBERT W. BROWNLIE California Bar No. 138793 10920 Via Frontera, Suite 550 San Diego, California 92127

Tel: 858.357.8001

Robert.Brownlie@brownliehansen.com

Admitted Pro Hac Vice

# MILLER LLOYD P.C.

By: /s/ Jennifer A. Lloyd

JENNIFER A. LLOYD

Texas Bar No. 24013050

P.O. Box 302068 Austin, Texas 78703

Email: jlloyd@millerlloyd.com

Tel: 512.694.5578 Fax: 512.532.6882

## **CERTIFICATE OF SERVICE**

This is to certify that on this the 5<sup>th</sup> day of November, 2024, a true and correct copy of the foregoing has been served upon counsel for all parties via the Court's CM/ECF system.

Bernard R. G iven II Loeb & Loeb, LLP 10100 Santa Monica Blvd., Suite 2200 Los Angeles, CA 90097 (310) 282-2235 Telephone bgiven@loeb.com

Bethany Simmons Loeb & Loeb LLP 345 Park Avenue New York, New York 10154 (212) 407-4982 Telephone bsimmons@loeb.com

Clayton N. Matheson Hornberger Fuller & Garza Inc. 7373 Broadway, Suite 300 San Antonio, Texas 78209 (210) 271-1700 Clayton@hfgtx.com

/s/ D. Douglas Brothers

# CAUSE NO. D-1-GN-21-000097

NP SKYLOFT DST, et al,	§ IN THE DISTRICT COURT OF
Plaintiffs,	§ §
v.	§ TRAVIS COUNTY, TEXAS
BURGUNDY 523 OFFSHORE, LTD., et al, Defendants,	§
Dejenuanis,	§ 261 <sup>ST</sup> JUDICIAL DISTRICT
STACY R. SCHIFFMAN, et al,	
Plaintiffs/Intervenors,	§ § §
JOHN C. POLK and JANICE C. POLK,	<b>§</b>
Plaintiffs/Intervenors,	§
V.	§ 8
<b>v.</b>	§ §
NP SKYLOFT 1B, LLC, et al,	§
Third-Party Defendants	§ §
JAMES V. PARZIALE, Trustee of THE	ÿ §
PARZIALE FAMILY TRUST derivatively on	<b>§</b>
behalf of NP SKYLOFT DST,	§
Intervenor,	§ §
V.	<b>§</b>
	§
NP SKYLOFT ST, LLC; TCG SKYLOFT OWNER, LLC; NP SKYLOFT JV, LLC; ACO	<b>§</b>
SKYLOFT MANAGER LLC;	§ §
AXONIC CREDIT OPPORTUNITIES	§
MASTER FUND, LP; AXONIC CAPITAL,	§
LLC; NELSON PARTNERS, LLC; NP	§
SKYLOFT EQUITY, LLC; and PATRICK	§
NELSON,  Defendants.	§ 8
Dejenuanis.	§ §
and CLAYTON DEGIACINTO,	\$ §
Third-Party Defendant.	§

#### UNSWORN DECLARATION OF D. DOUGLAS BROTHERS

### A. Background and Qualifications.

- 1. My name is D. Douglas Brothers. I am an attorney licensed to practice law in the State of Texas. I serve as counsel-of-record and lead counsel for the Schiffman Intervenors and as counsel-of-record and co-lead counsel for the Tessier and Black Tortuga Class Representatives in the subject litigation. I make this statement based on my personal knowledge and I declare under the penalty of perjury that the following is correct:
- 2. This declaration is submitted pursuant Stipulation of Settlement between the Class Representatives and the Axonic Defendants to submit requests for attorneys' fees to the Court, and the Court's Preliminary Approval Order. It is submitted in support of (1) the Motion for Final Approval of the Stipulation of Settlement with the Axonic Defendants and (2) the Motion for Attorneys' Fees and Expenses and Class Representative Service Awards. My CV is attached as Exhibit "1." I have not authored any publications in the last 10 years. I have not, to the best of my recollection, testified as a retained expert in the past 4 years, other than as an attorney of record on the issue of attorney's fees.
- 3. The subject matter of my testimony is the reasonable and necessary attorneys' fees and costs incurred by the Intervenors and Class Representatives.
- 4. My opinions are based on the terms of the engagement, applicable Delaware and Texas law as discussed below, the State Bar Rule 1.04(b) factors, and the expenses actually incurred by the Intervenors and Class Representatives.
- 5. I have more than thirty years of experience in a wide variety of complex litigation matters, representing both plaintiffs and defendants.

- 6. I am a partner in the Austin, Texas firm of George Brothers Kincaid and Horton LLP ("GBKH"). The firm currently has two partners, and two contract or 'of counsel' attorneys. The firm handles complex litigation including business disputes and litigation on behalf of investors. A substantial portion of the firm's practice is representing claimants on a contingency fee basis.
- 7. I was retained to represent the first of what is now known as the Schiffman Intervenors in February of 2021. Eventually, I undertook representation of numerous Intervenors, including the Class Representatives. The terms of the engagement were a contingent fee arrangement of 35% with the firm advancing expenses.
- 8. As is customary, the professionals at my firm recorded their time in the same manner as they would were the matter billed at an hourly rate. The billing records reflect the name of the professional, the task, the billing rate, and the time expended. These billing records, lightly redacted to remove reference to privileged matters are attached as Exhibit 2 to this Declaration.
- 9. In addition, the expenses incurred by the firm are recorded in the usual fashion. Such expenses are listed on the attached Exhibit 3.
- 10. My law firm serves as co-counsel to the Class Representatives with Brownlie Hansen LLP and Miller Lloyd, PC. Pursuant to the agreement of counsel my firm is entitled to one-half of attorneys' fees awarded (in addition to expenses advanced by my firm).

#### B. Delaware and Texas Law Control the Fee Award.

11. It is my opinion that Delaware Law controls the award of fees in this case pursuant to 12 Delaware Code, section 3816(d), Del. Ch. Ct. R. 23(g); and Texas Law pursuant to Tex. R. Civ. P, Rule 42(h) and (i)..

#### C. Application of Common Fund Factors under Delaware and Texas Law.

- 12. Under 12 Del. Code § 3816(d), if a derivative action or a class action is successful, in whole or in part, or if anything is received by a statutory trust as a result of a judgment, compromise or settlement of any such action, the Court may award the plaintiff reasonable expenses, including reasonable attorney's fees for the common benefit achieved. Additionally, under the common fund doctrine in Delaware and Texas law, and Del. Ch. Ct. R. 23(g) and 23.1, and Tex. R. Civ. P. 42(h) and (i), a Court can award attorney's fees in a class or derivative action.
- 13. When evaluating the reasonableness of attorney's fees and expenses from a common fund in a derivative of class action case, courts have looked at the following factors: "1) the results achieved; 2) the time and effort of counsel; 3) the relative complexities of the litigation; 4) any contingency factor; and 5) the standing and ability of counsel involved." *Ams. Mining Corp. v. Theriault*, 51 A.3d 1213, 1254 (Del. 2012) (citing *Sugarland Indus. v. Thomas*, 420 A. 2d 142, 149 (Del. 1980); *Crouch v. Tenneco, Inc.*, 853 S.W.2d 643, 647 (Tex. App.—Waco 1993, writ denied) (citing similar factors). Each of these factors favors an attorney's fees award of 30% of the Settlement Fund to be paid by Axonic.
- 14. The Court can take judicial notice of the (1) results achieved and (3) the relative complexities of the litigation. Generally, the Court indicated its intent to enter judgment on behalf of the Trust for \$4,250,000 against Axonic Defendants for their wrongful actions in the sale of the Skyloft Apartments; the Settlement Fund doubles that amount. This case presented myriad legal and factual complexities. Procedurally, it requires dozens of depositions, over electronic 65,000 documents produced and reviewed, hundreds of trial exhibits, lengthy and complex summary judgment motion briefing, and a three week jury trial in the Original Action. My firm also pursued Axonic for secondary liability for securities fraud claims in class and mass actions in the Related

Actions. Legally, it raised complex issues of duties appliable to Delaware statutory trusts and detailed analysis of Trust and financing agreements, and secondary liability of Axonic for securities claims arising out of statements made in the Offering Memoranda.

- 15. GBKH funds litigation expenses with a line of credit. I am a guarantor of that line. GBKH is small in size and I was personally involved in all stages of the litigation and conducted the depositions of adverse witnesses. This contingent representation factor, too, justifies an award of fees in the higher range.
- 16. The time and effort expended in the case is demonstrated in the attached billing and expense records.
- 17. It is my opinion that an attorneys' fee of 30% of all recovery awarded is appropriate in this case, together with as of now unreimbursed expenses in the amount of \$77,506.22. One-half of such fee, and the entirety of such expenses, should be awarded to GBKH.

# D. Application of Additional Factors for Lodestar Calculation Cross-Check.

- 18. The attached billing records reflect hours worked and the billing rate. It is my opinion that the hours worked are reasonable, and that the billing rates are reasonable. My rate is \$600 per hour. Associate time is billed at \$350 per hour. Legal assistant rate time is billed at \$150 hour.
- 19. An award of attorney's fees may include a legal assistant's time to the extent that the work performed "has traditionally been done by any attorney." *Clary Corp. v. Smith*, 949 S.W.2d 452, 469 (Tex. App.-Fort Worth 1997, writ denied). To recover attorney's fees for work performed by legal assistants, "the evidence must establish: (1) the qualifications of the legal assistant to perform substantive legal work; (2) that the legal assistant performed substantive legal work under the direction and supervision of an attorney; (3) the nature of the

legal work performed; (4) the legal assistant's hourly rate; and (5) the number of hours expended by the legal assistant." *Multi–Moto Corp. v. ITT Commercial Fin. Corp.*, 806 S.W.2d 560, 570 (Tex. App.-Dallas 1990, writ denied).

- (1) Qualifications of the legal assistant.
- (2) <u>Legal assistant performed substantive legal work under the direction and supervision of an attorney</u>. Under the supervision of either my partner Russ Horton or myself, Suzy Nakamura and Kelly Seabolt assisted in drafting and responding to discovery, client communications and coordinating clients for attendance at depositions and trial, assisting in voluminous document production, and corresponding with court, clients and opposing counsels regarding scheduling and other legal matters as they arose throughout the case.
- (3) <u>Nature of the legal work performed.</u> See above.
- (4) <u>Legal assistant's hourly rate and number of hours.</u> Kelly Seabolt and Suzy Nakamura were billed out at a rate of \$150 per hour. Given their experience and the nature of legal work performed under Russ Horton or my supervision, \$150 per hour is a reasonable rate for their work.
- 20. In *El Apple I, Ltd. v. Olivas*, 370 S.W.3d 757, 760–61 (Tex. 2012) citing TEX.R. CIV. P. 42(i)(1), the Texas Supreme Court identified the following non-exclusive list of factors to be considered when awarding attorney's fees in a class action pursuant to Tex. R. Civ. P. 42(i)(1):
  - (1) the time and labor required, the novelty and difficulty of the questions involved, and the skill requisite to perform the legal service properly;
  - (2) the likelihood, if apparent to the client, that the acceptance of the particular employment will preclude other employment by the lawyer;
  - (3) the fee customarily charged in the locality for similar legal services;
  - (4) the amount involved and the results obtained;
  - (5) the time limitations imposed by the client or by the circumstances;
  - (6) the nature and length of the professional relationship with the client;
  - (7) the experience, reputation, and ability of the lawyer or lawyers performing the services; and
  - (8) whether the fee is fixed or contingent on results obtained or uncertainty of collection before the legal services have been rendered.
- 21. The lodestar method is "the number of hours worked multiplied by the prevailing hourly rates." *J.C. Penney Co., Inc.* 453 S.W.3d at 514 citing *Gen. Motors*, 916 S.W.2d at 960.

First the court must determine the reasonable hours spent by counsel in the case and a reasonable hourly rate for such work. *Id.* The court then multiplies the number of such hours by the applicable rate, the product of which is the base fee or lodestar. *Id.* This figure is then adjusted for such factors as the size or value of the recovery, the complexity of the litigation, the expertise of counsel, and the degree to which the attorney was precluded from accepting other work.

- 22. In forming an opinion regarding the reasonableness of attorney's fees—whether calculated by a lodestar approach or any other—it is appropriate to make reference to the factors set forth in *Arthur Andersen & Co. v. Perry Equipment Corp.*, 945 S.W.2d 812, 818 (Tex. 1997); see also Johnson v. Georgia Highway Express, Inc., 488 F.2d 714, 717 (5th Cir. 1974), and TEX. DISCIPLINARY R. PROF'L CONDUCT R. 1.04. These factors include the time and labor required; the novelty and difficulty of the issues; the skill required to perform the legal services; whether other employment was precluded; the customary fee in the region; the amount involved and results obtained; any time limitations; the nature and length of the professional relationship with the client; the attorneys' experience, reputation, and skill; whether the fee is fixed or contingent; the "undesirability" of the case; and awards in similar cases.
  - (1) Time and labor required. This case involved complex litigation on behalf of twenty-five investor clients. I have one partner, and our firm has one associate and three contract or of counsel attorneys. I personally handled most aspects of this litigation, including working with experts, taking and defending numerous depositions, and attending numerous discovery and/or dispositive hearings. Additionally, our small team of lawyers reviewed over 800,000 pages of document production. The extensive amount of time and focus that this case required significantly limited any bandwidth I had to take on new clients in the year preceding trial.
  - (2) <u>Likelihood that the acceptance of the particular employment will preclude other employment by the lawyer</u>: In the year leading up to trial In the months leading up to trial, this case took up a significant amount of my time and allowed my days were consumed with investor depositions, trial preparation

(3) <u>Fees were customary.</u> Based on my experience, the fees we charged in this case are similar to those fees customarily charged in the locality for similar legal services

by attorneys having similar experience.

(4) <u>Contingency fee.</u> As previously stated, my firm is small in size. My partner and I were involved in all stages of the litigation and conducted the depositions of adverse witnesses. In addition, I personally guaranteed my firm's line of credit, which

financed case expenses. The contingent representation factor justifies a substantial

award of fees.

(5) Experience and ability of the lawyer or lawyers performing the services: Despite the fact that counsel for Intervenors was by far outnumbered by counsel for

Plaintiffs and Defendants, Intervenors' counsel brought a blend of expertise,

initiative, and ingenuity to the case causing Intervenors to ultimately prevail in this

matter.

23. Alternatively, and should Texas law apply to the award of fees, it is my opinion

that a Lodestar calculation of the remaining unpaid hourly rate fees should be applied in this case,

the Lodestar base fee is \$956,332.31 to GBKH. Applying a Lodestar premium of only 2% results

in an approximate fee of \$975,000. It is my opinion that, if the Lodestar method is used, that sum

is the appropriate fee for GBKH. In addition, GBKH is entitled to recover expenses in the amount

of \$77,506.22.

"My name is D. Douglas Brothers, my date of birth is March 29, 1955, and my address is 114

West 7<sup>th</sup> Street, Suite 625 Austin, Texas 78701. I declare under penalty of perjury that the facts

stated in this document are true and correct."

Executed in Travis County, State of Texas, on November 5, 2024.

/s/ D. Douglas Brothers

D. Douglas Brothers



# D. Douglas Brothers, PARTNER



Phone: 512-495-1446
Email: dbrothers@gbkh.com

#### Practice Areas Include:

- Commercial and Business Litigation
  - o Construction Litigation
  - Fiduciary Litigation
  - Financial Fraud Litigation
  - o Oil and Gas Litigation
  - Real Estate Litigation
  - Securities Litigation
- Intellectual Property Litigation
  - Confidentiality Agreement and Noncompete Agreement Litigation
  - o Trade Secret Litigation
- Professional Liability Litigation
  - Accounting and Auditing Malpractice
  - Architect and Engineering Errors and Omissions
  - Legal Malpractice

Doug Brothers has more than 30 years of experience in a wide variety of complex litigation matters, representing both plaintiffs and defendants in trials, appeals, and arbitrations.

He has obtained and collected numerous large awards and settlements in a wide range of matters spanning the practice areas listed above.

On the defense side, Doug has successfully represented on an ongoing basis a highrise design-builder, real estate developers, banks, and insurers.

Doug has been recognized for his accomplishments by numerous organizations. He has been selected for inclusion in *Texas Super Lawyers*® since 2003, and was named to the Top 50 Lawyers in Central/West Texas in 2016 and 2017. Doug was recognized by *The Best Lawyers in America*® for Bet-the-Company Litigation, Commercial Litigation, and Legal Malpractice Law since 2008, and named Austin's Lawyer of the Year for Bet-the-Company Litigation in *The Best Lawyers in America*® for 2016. *Doug* was also named *Best of the Bar* for Civil Litigators by the *Austin Business Journal* in 2003.









#### **EDUCATION**

- Artium Baccalaureatus, magna cum laude, Amherst College (1978)
- Juris Doctor, with honors, University of Texas School of Law (1981)

#### PROFESSIONAL EXPERIENCE

- Partner, George Brothers Kincaid & Horton, LLP (2012-present)
- Partner, George & Brothers, LLP (2004-2012)
- Partner, Brothers & Thomas, LLP (formerly Brothers, Reavis & McGinnis) (1984-2004)
- Partner, Leonard, Hurt (Austin) (1984)
- Partner, Leonard, Hurt (Dallas) (1981-1983)

#### **BAR ADMISSIONS**

- State Bar of Texas (1981)
- United States Court of Appeals for the Fifth Circuit
- U.S. District Court, Northern District of Texas
- U.S. District Court, Eastern District of Texas
- U.S. District Court, Southern District of Texas
- U.S. District Court, Western District of Texas

#### **AWARDS**

- Board Certified in Civil Trial Law (1988), Texas Board of Legal Specialization
- Selected as a Top 50 Lawyer in Central/West Texas by Texas Super Lawyers (2016-2017)
- Selected for inclusion in Texas Super Lawyers (2003-2018)
- Named Austin Lawyer of the Year for Bet-the-Company Litigation in The Best Lawyers in America (2016)
- Selected for inclusion in Best Lawyers® for Bet-the-Company Litigation, Commercial Litigation, and Legal Malpractice law (2008-2019)
- Selected for inclusion in Best of the Bar in Austin Business Journal for Civil Litigators (September 2003)
- Named in Who's Who in America, 55th Edition
- AV® Preeminent (5.0) Peer Review Rating by Martindale.com (AV® and AV®
   Preeminent are registered certification marks of Reed Elsevier Properties Inc., used in accordance with the Martindale-Hubbell certification procedures, standards and policies)

#### PROFESSIONAL ASSOCIATIONS AND ACTIVITIES

- American College of Trial Lawyers, Fellow
- American Board of Trial Advocates, Member
- American Association for Justice, Member
- Fellows of the American Bar Foundation, Fellow
- Texas Bar Foundation, Member
- Austin Bar Foundation, Founding Fellow

#### **PUBLICATIONS & PRESENTATIONS**

#### Articles & Papers

- D. Douglas Brothers and John W. Thomas, An Overview of the Texas Whistleblower Act, Suing and Defending Governmental Entities, State Bar of Texas (July 1997)
- D. Douglas Brothers, The Defense of Comparative Bad Faith: A Practitioner's Viewpoint, 72 Texas L. Rev. 1565 (1994)
- D. Douglas Brothers, Suing the State and Its Employees, 16th Annual Page Keeton Products Liability & Personal Injury Conf., University of Texas (November 1992)

#### Speeches

- Transitioning Your Litigation Practice, Keeton Civil Litigation Conference, University of Texas (2004)
- Liability Insurance in Employment Litigation, Travis County Bar Association, (1998)
- An Overview of the Texas Whistleblower Act, Suing and Defending Governmental Entities, State Bar of Texas (July 1997)
- Factors in Deciding Which Contingency Fee Cases to Take, Employment Law Seminar, University of Houston (1995, 1996)
- The Defense of Comparative Bad Faith, Symposium on the Law of Bad Faith in Contract and Insurance (1994)
- Exemplary Damages after Moriel, 18th Annual Page Keeton Conference, University of Texas (1994)
- Suing the State and Its Employees, 16th Annual Page Keeton Products Liability & Personal Injury Conf., University of Texas (November 1992)

#### SIGNIFICANT CASES

#### Supreme Court of Texas

- Rancho La Valencia, Inc. v. Aquaplex, Inc., 383 S.W.3d 150 (Tex. 2012)
- Americo Life, Inc. v. Myer, 356 S.W.3d 496 (Tex. 2011)
- Aquaplex, Inc. v. Rancho La Valencia, Inc., 297 S.W.3d 768 (Tex. 2009)
- In re Cerberus Capital Mgmt., L.P., 164 S.W.3d 379 (Tex. 2005)

#### **Texas Courts of Appeals**

- Myer v. Americo Life, Inc., 371 S.W.3d 537 (Tex. App.—Dallas 2012, pet. filed)
- Eco Built Inc. v. Lulfs, No. 03-08-00427-CV, 2010 WL 3629821 (Tex. App.—Austin. Sept. 17, 2010, no pet.)
- Myer v. Americo Life, Inc., 315 S.W.3d 72 (Tex. App.—Dallas 2009), rev'd, 356 S.W.3d 496 (Tex. 2011)
- Landmark Org., L.P. v. Tremco, Inc., No. 03-07-00673-CV, 2008 WL 2119341 (Tex. App.—Austin. April 24, 2008, no pet.) (per curiam)
- Texas Parks & Wildlife Dept. v. Dearing, 240 S.W.3d 330 (Tex. App.—Austin 2007, pet. denied)
- In re Abbott Labs., Inc., No. 03-06-00295-CV, 2007 WL 1498782 (Tex. App.—Austin. June 21, 2006, no pet.)
- CTTI Priesmeyer, Inc. v. K & O Ltd. P'ship, 164 S.W.3d 675 (Tex. App.—Austin 2005, no pet.)
- In re Cerberus Capital Management, L.P., 161 S.W.3d 531 (Tex. App.—Austin 2004, no. pet.)
- Samuelson v. United Healthcare of Texas, Inc., 79 S.W.3d 706 (Tex. App.—Fort Worth 2002, no pet.)

- State/Operating Contractors ABS Emissions, Inc. v. Operating Contractors/State, 985
   S.W.2d 646 (Tex. App.—Austin 1999, pet. denied)
- Spiller v. Texas Dept. of Ins., 949 S.W.2d 548 (Tex. App.—Austin 1997, pet. denied)
- Gregg County v. Farrar, 933 S.W.2d 769 (Tex. App.—Austin 1996, writ denied)
- City of San Antonio v. Heim, 932 S.W.2d 287 (Tex. App.—Austin 1996, writ denied)
- Texas Dept. of Human Servs. v. Green, 855 S.W.2d 136 (Tex. App.—Austin 1993, writ denied)
- Associated Telephone Directory Publishers, Inc. v. Five D's Pub Co., Inc., 849 S.W.2d 894 (Tex. App.—Austin 1993, no writ)
- City of Houston v. Savely, 708 S.W.2d 879 (Tex. App.—Houston [1st Dist.] 1986, writ ref'd n.r.e.)

## Fifth Circuit Court of Appeals

- Hasie v. Office of Comptroller of Currency of U.S., 633 F.3d 361 (5th Cir. 2011)
- United Forming, Inc. v. FaulknerUSA, LP, 350 Fed. App'x 948 (5th Cir. 2009)
- Brady Nat'l. Bank v. Gulf Ins. Co., 94 Fed. App'x 197 (5th Cir. 2004)
- Serna v. City of San Antonio, 244 F.3d 479 (5th Cir. 2001)

#### Other Circuit Courts of Appeals

In re Nat'l Sec. Agency Telecomms. Records Litig., 671 F.3d 881 (9th Cir. 2011), cert. denied, 133 S.Ct. 421 (2012)

#### Federal District Courts

- In re Nat'l Sec. Agency Telecomms. Records Litig., 633 F.Supp.2d 949 (N.D. Ca. 2009), aff'd in part, rev'd in part, 671 F.3d 881 (9th Cir. 2011), cert. denied, 133 S. Ct. 421 (2012)
- Hasie v. Office of Comptroller of Currency of U.S., No. 5:07-CV-208-C-ECF, 2008 WL 4549881, (N.D. Tex. May 9, 2008)
- State of Texas ex rel. Ven-a-Care of the Florida Keys, Inc. v. Abbott Labs. Inc., No. A-05-CA-897-LY, 2005 WL 5430194 (W.D. Tex. Dec. 5, 2005)

#### Other

In re Crescent Resources, LLC, No. 11-01135-CAG, No. 2012 WL 691876 (Bankr. W.D. Tex. March 2, 2012)

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	<b>Duration</b>	Rate	Amount
Conting	ent								
Skyloft e									
1848-001									
02-08-2021	Approved	_	Billable		Nakamura, Suzy		0.500	150.00	75.00
02 00 202				nd JP Court and ema	ails from and to D. Brothers (0.50).		0.000		. 0.00
02-09-2021	Approved		Billable		Nakamura, Suzy		1.700	150.00	255.00
		oleadings from Tra Brothers regarding		urt and review Justice	e of the Peace Court, Precinct 5 website	for downloading,			
02-10-2021	Approved		Billable		Nakamura, Suzy		0.300	150.00	45.00
					ephone call with Alex Quezada at Justice x Quezada and email to D. Brothers rega				
02-11-2021	Approved		Billable		Brothers, Doug		4.500	600.00	2,700.00
	Multiple ca	lls regarding Skylo	oft matter.						
02-12-2021	Approved		Billable		Nakamura, Suzy		0.700	150.00	105.00
	Email from	D. Brothers, down	nload client documents	and email to D. Brot	hers regarding same (0.70).				
02-12-2021	Approved		Billable		Brothers, Doug		5.500	600.00	3,300.00
	Extensive of	client communicati	ons; work on client pac	kage; document revi	iew and analysis.				
02-13-2021	Approved		Billable		Brothers, Doug		6.500	600.00	3,900.00
			preparation; draft Inter	ventions.					
02-14-2021	Approved		Billable		Brothers, Doug		3.300	600.00	1,980.00
			nit to prospective client	s; follow up commun					
02-14-2021	Approved		Billable		Nakamura, Suzy		1.000	150.00	150.00
			,	nic), download plead	lings in D-1-GN-20-002530, email to D Bi	rothers (1.0).			
02-15-2021	Approved		Billable		Horton, Russ		0.400	600.00	240.00
		ft pleadings; revie							
02-16-2021	Approved		Billable		Horton, Russ		1.100	600.00	660.00
00 10 0001	•		). Brothers regarding pl	eadings; review draf			4 000	450.00	000.00
02-16-2021	Approved		Billable		Nakamura, Suzy		4.000	150.00	600.00
	Sheet for n from T. Cal Expedited download N	ew filings in '097 o rnes regarding hea Discovery in '043 o	case, download Notice aring (0.10); telephone case (0.10), telephone	of Hearing on Motion call to District Clerk r call to 53rd Judicial [	and emails to and from D. Brothers (3.0); to Dismiss and email to D. Brothers (0.2) regarding hearing on Plea in Abatement a District regarding hearing and email to D. ice of the Peace website and email to D.	0); telephone call and Motion for Brothers (0.30);	1		
02-16-2021	Approved		Billable		Brothers, Doug		6.400	600.00	3,840.00
	Work on in	tervention and clie	nt communications.						
02-16-2021	Approved		Billable		Carnes, Tiffany		6.500	350.00	2,275.00
	Draft client documents		dministrative and conta	act lists; create client	document folders; review all client emails	s and save client			

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start S	Stop I	Duration	Rate	Amount
Conting	ent									
Skyloft e	et al 1848									
1848-001	NP Skylot	ft								
02-17-2021		_	Billable		Carnes, Tiffany			5.000	350.00	1,750.00
	Review mu intervene a	Itiple client emails nd file with the Co	; update spreadsheet; ourt; serve courtesy cop	save data to file; rev	isions to both intervenor petitions; finalize el; send email to clients.	both petitions	to			
02-17-2021	Approved		Billable		Brothers, Doug			5.200	600.00	3,120.00
	Pleading re review cour		communications; hear	ing prep; e-mail to o	oposing counsel; telephone conference op	posing couns	sel;			
02-17-2021	Approved		Billable		Horton, Russ			0.400	600.00	240.00
	Telephone	conference with D	). Brothers regarding st	atus and hearing; re	view additional pleadings.					
02-18-2021	Approved		No Charge		Nakamura, Suzy			0.700	150.00	105.00
	Emails from email to D l	n and to T. Carnes Brothers and T. C	s, draft Case Report an arnes (0.70).	d email to D. Brothe	rs and T. Carnes, revise Case Report and	draft Exh bit	Α,			
02-18-2021	Approved		Billable		Nakamura, Suzy			1.900	150.00	285.00
	D. Brothers	regarding Pretria	I and Eviction Trial, ext	nibits (0.10); compile	nd email to and from D. Brothers (0.10); el Exhibits for 2/22/21 and 2/23/21 Pretrial, ction and email to D. Brothers (1.60).					
02-18-2021	Approved		Billable		Brothers, Doug			5.900	600.00	3,540.00
	Multiple clie	ent calls and e-ma	nils; hearing preparation	and work on affirma	ative claims; research.					
02-18-2021	Approved		Billable		Carnes, Tiffany			3.600	350.00	1,260.00
			Nakamura; Llegal rese legal research on	arch on forcible entr	y and detainer; read pleadings in existing	matters and				
02-19-2021	Approved		Billable		Carnes, Tiffany			2.100	350.00	735.00
	Multiple clie	ent emails; update	spreadsheet; review a	nd add citations to J	P5 Petition in Intervention; draft and send	client email.				
02-19-2021	Approved		Billable		Nakamura, Suzy			0.800	150.00	120.00
	Review, rev from D. Bro	vise and redline P others and T. Carr	lea in Intervention for Jnes (0.30)	P5 and email to D. E	srothers (0.50); finalize Plea in Intervention	n and emails t	o and			
02-19-2021	Approved		Billable		Brothers, Doug			4.200	600.00	2,520.00
			phone conference with client communication		isclosure; update client chart and work on ation.	n affirmative cl	aim			
02-19-2021	Approved		Billable		Horton, Russ			0.500	600.00	300.00
	Telephone	conference with D	D. Brothers regarding st	atus and strategy; re	eview client materials; review pleadings in	CA action.				
02-20-2021	Approved		Billable		Carnes, Tiffany			0.100	350.00	35.00
	Receive an	d forward client c	ommunications.							
02-21-2021	Approved		Billable		Brothers, Doug			1.200	600.00	720.00
	Review and	d outline DST agre	eement; review investor	r communications; he	earing preparation.					
02-22-2021	Approved		Billable		Brothers, Doug			5.500	600.00	3,300.00

06-24-2022 15:30:40 Page 2 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

							FIC	<u> </u>	10 00-24-2022
Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	gent								
_	et al 1848								
_	NP Skylot	Ft							
1040-001		_	aring: cancellation: co	mmunications with a	prospective clients; review Delaware stat	ute: hearing			
		and review exh bi		minumoations with	orospective clients, review belaware state	ute, nearing			
02-22-2021	1 Approved		Billable		Nakamura, Suzy		6.300	150.00	945.00
	Contact Inference of Primeaux a Pam Seger upload to C status of Pl Defendants upload and providing Ir Primeaux r	ormation for Remo of hearing; email Count of nearing; email Count of Rachelle Primeat court's Box; review aintiff's and Defen of Response in Opp of emails to and fron of tervenors' Exhibits egarding download	te Hearing form and e ontact Information and sel; draft Exhibit List a ux and opposing coun v 200th Judicial Distric dants' upload and plad position to Request for n D. Brothers regardin s (0.10); telephone cal ding exhibits, emails to	emails to and from Ed request for record and emails to and from sel; emails from and Docket; emails to be number in Court's Temporary Injuncting same (0.20); emails from and to D. Brown and from Greg No	and court; review 200th Judicial District ID. Brothers; emails to and from D. Brother of hearing to 200th Judicial District, Pamorn D. Brothers; email Exhibit List to 200th de to Rachelle Primeaux regarding Court's D. Brothers regarding Exhibit upload con son Docket (2.80); download Defendants' Con (0.20); review Court's Box for Plaintiffulls to and from Kiara Dial requesting Plain others regarding downloading Exhibits, eachese requesting Defendants Exhibits, and email to D. Brothers (3.0).	rs regarding request I Seger, Rachelle In Judicial District, Is Box; mark Exhibits; Inplete to Court's Box, Indicial Answer and I and Defendants' Intiff's Exhibits and I mails to Rachelle			
02-22-2021			Billable		Lewis, Gary		6.300	500.00	3,150.00
		7 suit; review 423 s	suit; review trust agree	ement; review opera	ting agreement; review plea in intervention	on.			
02-22-2021	1 Approved		Billable		Carnes, Tiffany		3.800	350.00	1,330.00
	information	to client room for			is for all cases to client room; add each o ding client room; client email update; revi				
02-23-2021	1 Approved		Billable		Lewis, Gary		2.500	500.00	1,250.00
	Review Ca	lifornia suit and att	ached documents.						
02-23-2021	1 Approved		Billable		Carnes, Tiffany		0.400	350.00	140.00
	Receive an	d review client em	ails; update client port	tal and contacts acc	ordingly.				
02-23-2021	1 Approved		No Charge		Carnes, Tiffany		<del>2.000</del>	<del>350.00</del>	<del>700.00</del>
	Observe he	earing.							
02-23-2021	1 Approved		Billable		Horton, Russ		0.400	600.00	240.00
	Review rule	e 11; review client	materials.						
02-23-2021	1 Approved		Billable		Brothers, Doug		5.100	600.00	3,060.00
	Prepare for potential cli	and attend Tempo ent calls.	orary Injunction hearin	g; calls with opposi	ng counsel; telephone conference with R	. Horton; follow up;			
02-23-2021	1 Approved		Billable		Nakamura, Suzy		0.400	150.00	60.00
			Primeaux regarding Boregarding same (0.30		elaware Secretary of State website for Ce	ertificate of NP Skyloft			
02-24-2021	1 Approved		Billable		Nakamura, Suzy		0.900	150.00	135.00

06-24-2022 15:30:40 Page 3 of 101

06-24-2022 15:30:40

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All View = Original From 05-01-2018 To 06-24-2022

Page 4 of 101

							Fro	om 05-01-201	8 To 06-24-2022
Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		4							
1040-001	Download of JP5 for Doo	– current Docket She cket Sheet/Case S	ummary (0.60); emails	from and to Rache	ee cases and emails to D. Brothers, ema lle Primeaux, D. Brothers and Karen Rec	ed regarding			
	D. Brothers		trieve link for Courtroo	om Live Streaming to	or Superior Court of California, Orange C	county and email to			
02-24-2021	Approved		Billable		Brothers, Doug		5.700	600.00	3,420.00
	Telephone counsel; att	conference with A empt to view Calif	xonic counsel; memo ornia Temporary Rest	to clients and responsion	and to questions; telephone conference to eding; telephone conference with R. Hor	eam and Delaware ton.			
02-24-2021	Approved		Billable		Horton, Russ		0.800	600.00	480.00
	Attend call	with re	egarding new matter; ı	evise status report;	telephone conference with D. Brothers r	egarding status.			
02-24-2021	Approved		Billable		Carnes, Tiffany		1.900	350.00	665.00
	Multiple clie	ent emails; update	spreadsheets and clie	nt portal; client statu	us report sent.				
02-24-2021	Approved		Billable		Lewis, Gary		2.500	500.00	1,250.00
	Review Del	aware LLC law; re	view Texas LLC law; r	eview status report.					
02-25-2021	Approved		Billable		Lewis, Gary		0.500	500.00	250.00
	Review pro	posed Rule 11 agr	reement.						
02-25-2021	Approved		Billable		Carnes, Tiffany		1.000	350.00	350.00
	Receive an	d review multiple o	lient emails and follow	vup.					
02-25-2021	Approved		Billable		Nakamura, Suzy		0.400	150.00	60.00
	regarding J	P5 pleadings (0.10		Bečerra-Sotelo requ	, email to D. Brothers (0.10); emails from esting pleadings (0.10); email from Mond				
02-25-2021	Approved		Billable		Brothers, Doug		6.700	600.00	4,020.00
					elephone conference R. Horton; respond nunsel; client communications; draft prop				
02-26-2021	Approved		Billable		Nakamura, Suzy		1.300	150.00	195.00
	(0.20); telep	ohone call with T. (		s regarding citations	revise letter to Judge Mangrum and ema s and emails to and from T. Carnes (0.20 Insel (0.10).				
02-26-2021	Approved		Billable		Brothers, Doug		2.700	600.00	1,620.00
	Draft letter	to court; revisions	and edits; client comm	nunications; e-mail e	exchange with NP counsel; review other	parties' filings.			
02-26-2021	Approved		Billable		Carnes, Tiffany		0.300	350.00	105.00
	Add citation	s to Judge Mangr	am letter and proof.		•				
02-26-2021	Approved		Billable		Horton, Russ		0.400	600.00	240.00
	Review lette	er to Court; email r	egarding same.						
02-27-2021	Approved		Billable		Carnes, Tiffany		0.300	350.00	105.00
	Emails to cl	ients.							

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001 I		it							
02-27-2021	Approved	<u> </u>	Billable		Lewis, Gary		5.500	500.00	2,750.00
	Email from	Doug Brothers reg		phone conference with	h Doug Brothers and Russ Horton regard	ding same; draft first			·
02-27-2021	Approved		Billable		Brothers, Doug		2.000	600.00	1,200.00
	Client comr Lewis and I		eview Nelson commun	ication; internal comn	nunication; work on pleading; telephone	conference with G.			
02-27-2021	Approved		Billable		Nakamura, Suzy		1.000	150.00	150.00
	Temporary (0.10); dow Temporary	Injunction (0.10); onload Courtney Sa Injunction (0.10); osing counsel and	download Steve Skarn auer letter to Judge Ma download Steve Skarn	nulis letter to Judge Je angrum with proposed nulis letter brief to Cou	on (0.10); Greg Noschese letter brief in essica Mangrum regarding conference vid orders (0.10); download hearing transcurt regarding request for Temporary Injui Hearing (0.20); download Defendants' E	with Intervenors cript on Motion for nction (0.10); email			
02-28-2021	Approved		Billable		Brothers, Doug		2.500	600.00	1,500.00
	E-mails and	revisions to ame	nded plea in interventi	on; further revisions a	and attention to setting.				
02-28-2021	Approved		Billable		Lewis, Gary		4.000	500.00	2,000.00
	Work on dra email revise	aft of amended ple ed draft to Doug B	ea in intervention; ema rothers.	il to Doug Brothers re	egarding same; email from Doug Brother	s regarding same;			
02-28-2021	Approved		Billable		Carnes, Tiffany		0.800	350.00	280.00
	Multiple clie	ent correspondenc	e; updating calendarin	g for hearing.					
02-28-2021	Approved		Billable		Nakamura, Suzy		0.900	150.00	135.00
	R. Horton a	nd G. Lewis (0.50	); emails from and to [	D. Brothers, finalize In	irst Amended Plea in Intervention and entervenors' First Amended Plea in Intervend Motions Hearing (0.20).	mail to D. Brothers, ention (0.20); emails			
03-01-2021	Approved		Billable		Lewis, Gary		0.000	500.00	0.00
	Email from	Doug Brothers reg	garding discovery.		·				
03-01-2021	Approved		Billable		Brothers, Doug		4.800	450.00	2,160.00
	Revise inte orders; tele	rvention pleading; phone conference	work on discovery; pro Russ Horton and opp	epare for JP hearing; osing counsel.	draft Requests for Admissions; attend J	P hearing; review			
03-01-2021	Approved		No Charge		Carnes, Tiffany		0.300	350.00	<del>105.00</del>
	Observe he	aring.							
03-01-2021	Approved		Billable		Carnes, Tiffany		0.300	350.00	105.00
	Review and	l summarize new o	orders for client update	Э.					
03-01-2021	Approved		Billable		Nakamura, Suzy		1.800	150.00	270.00

06-24-2022 15:30:40 Page 5 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
	NP Skylot	ft							
	Emails from Interventior regarding s Brothers ar	n and to D. Brother n (0.20); review Su ame (0.30); retriev nd G. Lewis regardi x Parte Application	perior Court of Califor e current Docket She ing same and case tra	nia, County of Oran et and scheduled he acking (0.30); retriev	lea in Intervention, finalize Intervenors' F ge website to track case, email to Califor earing information for California case, em e and download pleadings from Californi tion to Show Cause and Order and email	nia Superior Court ails to and from D. a Superior Court			
03-01-2021	Approved		Billable		Horton, Russ		0.500	600.00	300.00
	Receive an	d review revised P	lea in Intervention; tel	ephone conference	with D. Brothers regarding same; review	orders from Court.			
03-02-2021	Approved		Billable		Brothers, Doug		1.800	450.00	810.00
	Emails bety	veen opposing cou	insel and telephone co	onferences with R. I	Horton and clients.				
03-02-2021	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Draft respo	nses to Requests f	or Disclosure.						
03-02-2021	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Telephone	call with T. Carnes	regarding disclosures	s and new Texas Ru	ules of Civil Procedure rules pertaining to	discovery (0.10).			
03-03-2021	Approved		Billable		Brothers, Doug		3.100	450.00	1,395.00
	Telephone	conference with et	hics counsel; telephor	ne conference with o	opposing counsel; client communications				
03-04-2021	Approved		Billable		Brothers, Doug		1.500	600.00	900.00
	Telephone	conferences with in	nvestors; work on plea	ading.					
03-04-2021	Approved		Billable		Carnes, Tiffany		1.200	350.00	420.00
	Draft agree	d motion to consol	idate;						
03-04-2021	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Finalize Inte	ervenor's First Ame	ended Plea in Interver	ntion (.50).					
03-05-2021	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Continue di	rafting motion to co	onsolidate; continue di	rafting initial disclosu	ures.				
03-05-2021	Approved		Billable		Nakamura, Suzy		0.700	150.00	105.00
	Preliminary	Injunction and No		rary Restraining Ord	norities in Support of Order to Show Caus der Bond and email to D Brothers (0.40);				
03-05-2021	Approved		Billable		Brothers, Doug		3.500	600.00	2,100.00
	Client comr	munications; work	on discovery and adde	endum to engageme	ent letter; work on amended pleading.				
03-06-2021	Approved		Billable		Brothers, Doug		3.000	600.00	1,800.00
	Work on ple	eading.							
03-06-2021	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Client corre	espondence; legal r	research on appellate	timelines.					
03-07-2021	Approved		Billable		Brothers, Doug		1.000	600.00	600.00
	Work on ple	eading.							

06-24-2022 15:30:40 Page 6 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
_	NP Skylof	t							
03-08-2021	Approved	<u>-</u>	Billable		Carnes, Tiffany		1.900	350.00	665.00
		afting initial disclo						000.00	000.00
03-08-2021	Approved	J	Billable		Nakamura, Suzy		1.900	150.00	285.00
	and D. Brotl	hers (0.90); emails	s, review, revise and re s from and to D. Broth es regarding same (1.	ers, search Delaware S	Consolidate and Proposed Order and ecretary of State for NP Skyloft DST a	email to T. Carnes nd emails to and			
03-08-2021	Approved		Billable		Brothers, Doug		5.800	600.00	3,480.00
	Extensive d	rafting on amende	ed plea in intervention;	amend disclosure; rev	iew disclosure; telephone conference v	vith R. Horton.			
03-08-2021	Approved		Billable		Horton, Russ		0.400	600.00	240.00
	Receive and	d review amended	d plea in intervention; r	eview client materials.					
03-09-2021	Approved		Billable		Horton, Russ		0.300	600.00	180.00
	Receive and materials.	d review notice of	California Zoom heari	ng; telephone conferen	ce with D. Brothers regarding status; re	eview client			
03-09-2021	Approved		Billable		Nakamura, Suzy		5.000	150.00	750.00
	Intervenors' Intervention (2.8); finaliz	Second Amende , email to D. Broth e Plea in Interven	d Plea in Intervention, ners, T. Carnes, R. Ho	review Delaware Secre rton and G. Lewis, ema from T. Carnes regard	roposed Order (0.20); review, revise an etary of State website for addresses an ill to D. Brothers regarding additional ca ing service addresses (0.50); download	d insert into Plea in ase in California			
03-09-2021	Approved		Billable		Brothers, Doug		3.800	600.00	2,280.00
	Work on dis	covery and amen	ded pleading; review a	additional filings.					
03-09-2021	Approved		Billable		Carnes, Tiffany		1.000	350.00	350.00
	Send draft r update.	notion to consolid	ate to other counsel;	review and post draft se	econd amended plea to client portal an	d send client email			
03-10-2021	Approved		Billable		Nakamura, Suzy		2.500	150.00	375.00
	to Ex Parte Regarding F finalize Intel Brothers reg Intervention Disclosures regarding E	Application for Te Plaintiff's Respons rvenor' Second Ar garding hearing or (0.10); download (0.10); download nrata (0.10); dowr	emporary Restraining C se, search for other rela- mended Plea in Interve in Motion to Dismiss (0 Plaintiff's First Ameno TCG Skyloft Owner's inload Order Granting I	Order, review Docket SI ated cases in Pacer, er ention and email to D. E .10); telephone calls fro led Petition and Initial I Initial Disclosures (0.10	10); download Exh bits to Nelson Defeneet for additional filings, download In Onail to D. Brothers regarding same (1.2 Brothers and T. Carnes (0.30); emails to m D. Brothers regarding Second Americon Disclosures (0.20); download Axonic Defenors of the Control of the Control of Dismissal in 123 (0.10).	Chamber Order 20); review and o and from D. nded Plea in efendants' Initial udge Mangrum			
03-10-2021	Approved		Billable		Carnes, Tiffany		1.000	350.00	350.00
			nt disclosures; update disclosure deadline.	draft intervenor disclos	ures; confer with D. Brothers on client	status updates;			
03-10-2021	Approved		Billable		Brothers, Doug		3.000	600.00	1,800.00

06-24-2022 15:30:40 Page 7 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Amount
Conting	ent									
_	et al 1848									
-	NP Skylot	ft								
		_	ephone conference wit	h Barney Given; review transacti	ion documents.					
03-11-2021	Approved	,	Billable	,	Brothers, Doug			3.000	600.00	1,800.00
	• •	prospective clients	; review California plea	adings and attachments; telepho		lorchese.				,
03-11-2021	Approved		Billable		Carnes, Tiffany			0.100	350.00	35.00
	Client corre	espondence.								
03-11-2021	Approved		Billable		Nakamura, Suzy			0.200	150.00	30.00
	Review Do	cket Sheet in Parz	iale for additional filing	s, download pleadings and emai	ils to and from D. Brothers	(0.20).				
03-12-2021	Approved		Billable		Brothers, Doug			1.000	600.00	600.00
	Review cor Rule 11 Ag		nts; review Axonic brie	efing regarding trust assets; revis	e consolidation papers; rev	view and transr	mittal of			
03-12-2021	Approved		Billable		Nakamura, Suzy			0.800	150.00	120.00
	and email t	o D. Brothers (0.50	0); review and revise I	Agreements to opposing counsel Intervenors and Defendants' Join Degarding Rule 11 Agreement (0.	t Agreed Motion to Consolid					
03-12-2021	Approved	•	Billable		Norton, Laura			0.400	125.00	50.00
	Finalize fee	agreements with	D. Brothers' electronic	signature.						
03-13-2021	Approved		Billable	B160 - Fee/Employment Application	Norton, Laura			1.500	125.00	187.50
	Finalize fee	agreements with	D. Brothers' electronic	signature.						
03-13-2021	Approved		No Charge		Carnes, Tiffany			0.300	350.00	105.00
	Confer with	S. Nakamura on t	finalizing engagement	letters and attention to client file						
03-15-2021	Approved		Billable		Brothers, Doug			2.500	600.00	1,500.00
		tion to consolidate B. Given call and f		e conference G. Lewis; prepare fo	or Bernard Given call; telep	hone conferen	ce with			
03-15-2021	Approved		Billable		Nakamura, Suzy			0.800	150.00	120.00
				ntervenors' and Defendants' Join oposed order, email to Steve Sk			rothers			
03-15-2021	Approved		Billable		Horton, Russ			0.400	600.00	240.00
	Telephone	conference with D	. Brothers regarding c	all with counsel; review and revis	se Rule 11 Agreement.					
03-17-2021	Approved		Billable		Brothers, Doug			0.900	600.00	540.00
	Telephone requests.	conference with po	otential client; e-mail e	exchange with opposing counsel	regarding consolidation; re	view discovery				
03-17-2021	Approved		Billable		Nakamura, Suzy			1.100	150.00	165.00

06-24-2022 15:30:40 Page 8 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All

View = Original From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start St	op Duration	Rate	Amount
Conting	ent								
Skyloft e									
100	NP Skylof	4							
1040-001		-	- DI-+ OL+ f	. EC	D D-# (0.00)				
	Defendants email to Mo	Joint Motion to C	onsolidate and Propos otelo regarding same (	sed Order (0.30); sea	D. Brothers (0.20); revise and finalize larch for new case number for Appeal in onic Defendants' First Set of Discovery to	County Court at L	aw, yloft		
03-17-2021	Approved		Billable		Carnes, Tiffany		2.400	350.00	840.00
	Review nev	v client documents disclosures and se	and update client dat nd to S. Nakamura for	a in files; Review Pla r final proofing.	aintiff and Defendant initial disclosures;	complete revisions	s to		
03-18-2021	Approved		Billable		Carnes, Tiffany		2.200	350.00	770.00
	Review disc	closure deadlines v	with D. Brothers; make	e additional edits to i	nitial disclosures.				
03-18-2021	Approved		Billable		Horton, Russ		0.500	600.00	300.00
	Telephone	conference with D	. Brothers regarding st	tatus and derivative	issues; receive and review legal researc	ch regarding same	i.		
03-18-2021	Approved		Billable		Brothers, Doug		1.900	600.00	1,140.00
	Review Axo	onic discovery requ	uests and deposition n	otice; revise disclosi	ures; client call; follow up.				
03-18-2021	Approved		Billable		Nakamura, Suzy		0.700	150.00	105.00
	Review, rev	ise and redline Int	ervenors' Initial Disclo	sures and email to [	D. Brothers and T. Carnes (0.70).				
03-19-2021	Approved		Billable		Nakamura, Suzy		1.400	150.00	210.00
	download B	Bernard Given Vac	ation Letter (0.10);		ners and T. Carnes (0.60); email to opposition and email to D. Brothers (0.20).	osing counsel (0.1) review			
03-19-2021	Approved	• ***	Billable		Brothers, Doug		1.700	600.00	1,020.00
	0.0	losures; review Ca	alifornia court actions;	telephone conference	ce				
03-19-2021	Approved	i.	Billable		Carnes, Tiffany		0.500	350.00	175.00
		ons to and review o	of initial disclosures.						
03-19-2021	Approved		Billable		Horton, Russ		0.700	600.00	420.00
	Telephone	conference with D	, Brothers regarding		**************************************				
	Lewis.				receive and review additional legal	research from G.			
03-22-2021	Approved		Billable		Brothers, Doug		1.200	600.00	720.00
00 22 2021				11 Agreements and	setting; work on client report; review res	search regarding	1.250	000.00	720.00
03-23-2021	Approved		Billable		Brothers, Doug		0.200	600.00	120.00
	The state of the s	client update.			topo attocogne associa accessivo. 🗸 I				
03-23-2021	Approved	• • • • • • • • • • • • • • • • • • • •	Billable		Nakamura, Suzy		0.300	150.00	45.00
	Review Doo	cket Sheet in Parzi email to D. Brothe		email to D. Brothers	s regarding same, review and download	Docket Sheet for			
03-24-2021	Approved		Billable		Nakamura, Suzy		1.000	150.00	150.00

06-24-2022 15:30:40 Page 9 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		•							
1040-001		_	r Donosition Subpoon	a to Patrick Nolson a	nd emails from and to D. Brothers (0.20)	: download			
			perior Court case (.80)		nd emails from and to D. Brothers (0.20)	, download			
03-24-2021	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Legal resea	rch							
03-24-2021	Approved		Billable		Brothers, Doug		3.200	600.00	1,920.00
			and strategy; telephone requests and pleading		Lewis regarding discovery; review resea	rch regarding			
03-25-2021	Approved		Billable		Brothers, Doug		4.100	600.00	2,460.00
	Draft tempo	rary restraining or	der pleading; draft dis	covery,					
03-26-2021	Approved		Billable		Carnes, Tiffany		3.000	350.00	1,050.00
	Legal resea	rch on		-					
03-26-2021	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Download F	laintiffs' Motion fo	r Protection from and	to Quash Subpoena	for Deposition of Patrick Nelson in '097 r	matter (0.10).			
03-26-2021	Approved		Billable		Horton, Russ		0.800	600.00	480.00
	Review and clients.	revise Plea in Int	ervention; telephone o	conference with T. Ca	aries regarding same; review and revise i	memorandum to			
03-26-2021	Approved		Billable		Brothers, Doug		4.000	600.00	2,400.00
	Draft Tempo	orary Restraining	Order and Temporary	Injunction Applicatio	n; draft status report; review revisions.				
03-27-2021	Approved		Billable		Brothers, Doug		0.500	600.00	300.00
	Revisions to	status report and	d pleading; transmittal	package to clients.					
03-29-2021	Approved		Billable		Carnes, Tiffany		4.000	350.00	1,400.00
	Send client	status update; up	date client contact; leg	gal research; edit and	continue drafting outgoing discovery.				
03-29-2021	Approved		Billable		Brothers, Doug		1.300	600.00	780.00
	Work on dis	covery plan; clien	t communications; rev	iew California pleadi	ngs; review trust memo.				
03-30-2021	Approved		Billable		Carnes, Tiffany		3.000	350.00	1,050.00
	Continue dr	afting and editing	outgoing discovery.						
03-30-2021	Approved		Billable		Brothers, Doug		1.400	600.00	840.00
		rick Capital e-mail	and work on case de	velopment; client cor					
03-30-2021	Approved		Billable		Horton, Russ		0.300	600.00	180.00
		d review email reg		ephone conference v	vith D. Brothers regarding same.				
03-31-2021	Approved		Billable		Carnes, Tiffany		2.200	350.00	770.00
	•	e; draft declaration		venors' Temporary R	estraining Order exhibits; legal research	on limitations.			
03-31-2021	Approved		Billable		Horton, Russ		0.400	600.00	240.00
00.04.0004		t response to clie	nts; review client mate	rials.			0.000	450.00	00.00
03-31-2021	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
06-24-2022	15:30:40							Page 1	0 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e	t al 1848								
-	NP Skylo								
1010001		_	iale. download Plaintif	f's Ex Parte Applicati	on for Reconsideration of Order Denying	g Temporary			
			to D. Brothers (0.20).		,,,	9 · -····p - · -··· )			
03-31-2021	Approved		Billable		Brothers, Doug		2.800	600.00	1,680.00
	Client com	munications; e-mai	il regarding research i	ssue; work on Temp	orary Restraining Order application; rev	iew docket sheets.			
04-01-2021	Approved		Billable		Nakamura, Suzy		1.100	150.00	165.00
					e and finalize Declaration of D. Brothers for Temporary Retraining Order and Te				
04-01-2021	Approved		Billable		Brothers, Doug		0.900	600.00	540.00
	Review and	d revise declaration	n and Temporary Rest	raining Order applica	ition; try to stream Orange County proce	eeding.			
04-01-2021	Approved		Billable		Horton, Russ		0.400	600.00	240.00
	Receive an Court.	d review draft plea	in intervention; teleph	none conference with	D. Brothers regarding same; receive ar	nd review orders from			
04-01-2021	Approved		Billable		Carnes, Tiffany		2.900	350.00	1,015.00
					g Order/Temporary Injunction; draft outg xonic Defendants, and Nelson Parties.	joing discovery			
04-02-2021	Approved		Billable		Nakamura, Suzy		0.600	150.00	90.00
	download S		and email to D. Brothe		n Orange County Superior Court and en finalize Intervenors' Application for Tem				
04-02-2021	Approved		Billable		Brothers, Doug		1.900	600.00	1,140.00
			estraining Order application; email to counsel; fol		ise discovery; calls to opposing counsel	; telephone			
04-03-2021	Approved		Billable		Brothers, Doug		0.400	600.00	240.00
	Review dis	covery and email r	egarding same.						
04-04-2021	Approved		Billable		Brothers, Doug		0.200	600.00	120.00
	Attention to	Temporary Restra	aining Order strategy.						
04-05-2021	Approved		Billable		Brothers, Doug		1.500	600.00	900.00
	Discovery r	review and edits.							
04-05-2021	Approved		Billable		Carnes, Tiffany		4.500	350.00	1,575.00
	Revisions t	o outgoing request	ts for production and a	ıdmissions; draft requ	uests for additional parties, review of rec	llines, and final edits.			
04-06-2021	Approved		Billable		Norton, Laura		2.000	125.00	250.00
	Review and	d make revisions o	n the discovery reques	sts prepared by T. Ca	arnes.				
04-06-2021	Approved		Billable		Brothers, Doug		1.100	600.00	660.00
		lifornia docket she ounsel and follow (		nference with R. Horto	on regarding case strategy; telephone c	onference with			

06-24-2022 15:30:40

Page 11 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e	et al 1848								
_	NP Skylof	ft							
04-06-2021	Approved	_	Billable		Nakamura, Suzy		0.700	150.00	105.00
		ocket Sheets in Ca	alifornia Federal and S	tate cases, download i	oleadings and emails from and to D. Bro	others (0.70).			
04-07-2021	Approved		Billable		Nakamura, Suzy	, ,	2.600	150.00	390.00
		vise and finalize al ounsel (2.60).	II Request for Production	on and Request for Ad	missions to Plaintiffs and Defendants ar	nd email to			
04-07-2021	Approved		Billable		Brothers, Doug		2.200	600.00	1,320.00
	Review disc	covery responses;	; telephone conference	with opposing counse	el; case planning.				
04-07-2021	Approved		Billable		Carnes, Tiffany		0.200	350.00	70.00
	Circulate dr	afts of discovery f	for final review.						
04-08-2021	Approved		Billable		Horton, Russ		0.200	600.00	120.00
	Receive an	d review draft lette	er to counsel; email re	garding same.					
04-08-2021	Approved		Billable		Nakamura, Suzy		0.700	150.00	105.00
		to opposing couns d email same (0.2		confer and deposition	s and email to D. Brothers (0.50); finaliz	ze letter to opposing			
04-08-2021	Approved		Billable		Brothers, Doug		2.200	600.00	1,320.00
	Attention to	discovery issues;	; letter to counsel; follo	w up communications.					
04-09-2021	Approved		Billable		Brothers, Doug		0.100	600.00	60.00
	Review em	ail regarding motio	on to compel.						
04-12-2021	Approved		Billable		Brothers, Doug		1.300	600.00	780.00
	Conference	with R. Horton; c	alls with opposing cou	nsel; review client com	nmunications; review clerk notice regard	ing appeal.			
04-12-2021	Approved		Billable		Horton, Russ		0.400	600.00	240.00
	Telephone	conference with D	). Brothers regarding s	tatus; review email and	d letter from broker and Nelson partners	i.			
04-13-2021	Approved		Billable		Nakamura, Suzy		0.300	150.00	45.00
		d review Docket F	Report in Parziale and	Collins case and emai	Is to D. Brothers (0.30).				
04-13-2021	Approved		Billable		Brothers, Doug		0.400	600.00	240.00
	Client comr	nunications.							
04-14-2021	Approved		Billable		Brothers, Doug		0.800	600.00	480.00
	Further clie	nt communication	s; initial Lis Pendens h	earing preparation.					
04-15-2021	Approved		Billable		Brothers, Doug		1.400	600.00	840.00
		esponsive pleadin		ry Restraining Order;	telephone conference with Nelson coun	sel.			
04-16-2021	Approved		Billable		Brothers, Doug		2.100	600.00	1,260.00
			Restraining Order stati iscovery responses.	us and other pleadings	; telephone conference R. Horton and b	egin hearing			
04-16-2021	Approved		Billable		Nakamura, Suzy		0.900	150.00	135.00

06-24-2022 15:30:40 Page 12 of 101

06-24-2022 15:30:40

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Page 13 of 101

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
_	NP Skylot	ft							
1010 001	Review Do	 cket Sheet in '097 show Authority (0.2			Is from and to D. Brothers regarding Spers' Response to Motion to Expunge and				
04-19-2021	Approved		Billable		Brothers, Doug		1.400	600.00	840.00
	Hearing pre	eparation; telephor	ne conference with Ne	Ison counsel and R.	Horton.				
04-20-2021	Approved		Billable		Brothers, Doug		0.700	600.00	420.00
	Attention to	Lis Pendens resp	onse.						
04-20-2021	Approved		Billable		Horton, Russ		0.300	600.00	180.00
	Receive an	d review solicitation	n; telephone conferer	ce with D. Brothers r	regarding same.				
04-21-2021	Approved		Billable		Carnes, Tiffany		0.200	350.00	70.00
	Receive Pla and save to		to Defendants Motion	to Show Authority an	nd Plaintiffs' Response to Motion to Expu	nge Lis Pendens			
04-21-2021	Approved		Billable		Nakamura, Suzy		2.900	150.00	435.00
	Expunge P		is Pendens and emai		ed Motion to Show Authority and (2) Defe ); prepare Exhibits to Intervenors' Respo				
04-21-2021	Approved		Billable		Brothers, Doug		2.600	600.00	1,560.00
	Draft respo	nse to Lis Penden							
04-22-2021	Approved		Billable		Nakamura, Suzy		4.500	150.00	675.00
	from D. Bro and Motion Contact Info Rincon regand from D Proposed C upload plea Court's web telephone cand to Step	others regarding re to Expunge Plaint ormation Sheet (0. arding Contact Info Brothers regardir Orders (0.30); comedings and exhibits osite for you tube licall with T. Carnes ohanie Rinkon regardings and exhibits and exhibits on the contact of	sponse (0.10); finalize iffs' Notice of Lis Pend 20); emails to and frou promation Sheet, draft (ng Proposed Orders, opile pleadings and exist to Box, review opposink for live streaming hemail to Stephanie R	Intervenors' Respondens (0.50); emails to mella Duett regardicentact Information Straft Proposed Orders ibits and email to Straft orders, telephone concerns, and emails to demail to clients and emails to demail to clients and	ing and emails from and to D. Brothers (note in Opposition to Defendants' Motion to and from Greg Noschese and Courtneying access to Box (0.20); emails from another and emails to and from D. Brothers and email to D. Brothers (0.50); finalize ephani Rincon, Della Duett and opposing and email to D. Brothers regarding same all to District Clerk, voicemail to Jonatha and from D. Brothers regarding same (0 to D. Brothers (0.40); upload TCG Skyloft	to Show Authority Sauer regarding d to Stephanie 6 (0.40); emails to 9 counsel (0.30); e (0.40); review n Glusband, .90); emails from			
04-22-2021	Approved		Billable		Brothers, Doug		3.100	600.00	1,860.00
	Review clie	ent communication nibits; review additi		nment and e-mails re	egarding same; hearing preparation; follo	w up; review other			
04-23-2021	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Emails fron regarding h	n and to Will Smith learing (0.10); dow	, Heath and D. Brothe rnload TCG Skyloft Ov	rs regarding hearing vner's Original Answe	and transcript (0.30); telephone call froner to Intervenors' Second Amended Plea	n D. Brothers in Intervention (0.10)			
04-23-2021	Approved		Billable		Brothers, Doug		2.900	600.00	1,740.00
	Hearing pre	eparation and atter	nd hearing; review ple	adings; telephone co	nference with R. Horton regarding plead	ings.			

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
-	NP Skylof	it							
04-23-2021	Approved	<u>.</u>	Billable		Horton, Russ		0.300	600.00	180.00
0 . 20 202 .	• •	d review special a		conference with D. Broth	,		0.000	000.00	100.00
04-24-2021	Approved	•	Billable		Brothers, Doug		0.300	600.00	180.00
	Review clie	nt letter and confe	erence with R. Horton.						
04-26-2021	Approved		Billable		Brothers, Doug		0.400	600.00	240.00
	Client comr	nunications.							
04-27-2021	Approved		Billable		Brothers, Doug		1.700	600.00	1,020.00
	Draft client	status report; mak	ce revisions; follow up	client communications.					
04-28-2021	Approved		Billable		Brothers, Doug		3.300	600.00	1,980.00
	Client comr	nunications; comr	nunications with REDA	CTED; follow up.					
04-29-2021	Approved		Billable		Brothers, Doug		3.000	600.00	1,800.00
		lient communicati	ons and related comm	unications.					
04-29-2021	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
		nt documents for		Nelson regarding cut in	dividends and emails to and from D	). Brothers (0.50).			
04-29-2021	Approved		Billable		Carnes, Tiffany		1.000	350.00	350.00
	Update								
04-30-2021	Approved		Billable		Nakamura, Suzy		0.700	150.00	105.00
	Email from	D. Brothers regard		Loredo, draft Notice of N ill same (0.20).	Non-Suit and email to D. Brothers (0	.50); draft email to			
04-30-2021	Approved		Billable		Brothers, Doug		0.600	600.00	360.00
	follow up re	garding client con	nmunications; review/a	pprove/transmit Loredo ı	notice of nonsuit; follow up commun	ications			
05-01-2021	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Emails from	and to D. Brothe	rs regarding Daniel La	redo Notice of Non-Suit i	n Justice of the Peace Court and Aլ	ppeal (0.20).			
05-03-2021	Approved		Billable		Brothers, Doug		1.300	600.00	780.00
	Communica	ations regarding S	kyloft; client communic	cations; review notice to i	nvestors; follow up.				
05-03-2021	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Revise and	finalize Notice of	Non-Suit for Daniel La	redo (0.20).					
05-04-2021	Approved		Billable		Nakamura, Suzy		0.700	150.00	105.00
	Search for email to D.	cases in Delaware Brothers, downloa	e and email D. Brothers ad pleadings in Collins	s regarding same, downlo (0.70).	oad Docket Sheet in Parziale and C	ollins matters and			
05-04-2021	Approved		Billable		Brothers, Doug		0.600	600.00	360.00
	Review doo	ket sheets and cli	ent communication.						
05-05-2021	Approved		Billable		Brothers, Doug		1.800	600.00	1,080.00
	Client and	other communicati	ons; initial review of di	scovery requests.					

06-24-2022 15:30:40 Page 14 of 101

06-24-2022 15:30:40

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Page 15 of 101

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		t							
05-06-2021	Approved	<u>-</u>	Billable		Carnes, Tiffany		3.900	350.00	1,365.00
00-00-2021	• •	d log discovery se		al intervenor: correspor	nd with clients regarding same.		0.500	000.00	1,000.00
05-06-2021	Approved		Billable	, comoc	Brothers, Doug		4.800	600.00	2,880.00
	Multiple clie	nt communication with Nelson coun		th opposing counsel; di	raft motion to quash depositions; e-ma	ils and telephone			,
05-06-2021	Approved		Billable		Nakamura, Suzy		0.000	150.00	0.00
	Draft Interve	enors' Motion to C	uash Axonic Defenda	nts' Notices of Depos a	nd email to D. Brothers.				
05-07-2021	Approved		Billable		Brothers, Doug		5.800	600.00	3,480.00
					riew eviction pleadings; extensive clier cations and Axonic discovery response				
05-07-2021	Approved		Billable		Carnes, Tiffany		2.500	350.00	875.00
	Review and	log into spreadsh	neet all discovery and	dates due/received to d	late.				
05-08-2021	Approved		Billable		Brothers, Doug		4.000	600.00	2,400.00
	Client memo	regarding Interv	enor discovery respon	ses; work on response	S.				
05-10-2021	Approved		Billable		Brothers, Doug		2.200	600.00	1,320.00
	•	of of service; prep rk on client memo	•	solidation; prepare for	Justice of the Peace appeal trial de no	ovo; assemble			
05-10-2021	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Review disc	overy and draft c	ient discovery guidand	e.					
05-10-2021	Approved		Billable		Nakamura, Suzy		1.200	150.00	180.00
	(0.20); email	Is with D. Brother	s regarding exhibits fo	r May 12 hearing, telep	ly Trust v. NP Skyloft, email to D. Brott chone call from D. Brothers, mark Exhi load pleadings and email to D. Brothe	ibits and email to			
05-11-2021	Approved		Billable		Nakamura, Suzy		3.100	150.00	465.00
	invite, review Brothers (1. Docket She download D hearing (0.5	w e-file service lis 40); revise Notice et from Delaware efendants' Object	t in Appeal case, uploate of Appearance and electric Chancery Court in the tion to Trial Subpoenation	ad pleadings and corre mails to and from D. Br Milner Family Trust v. s and Motion for Protec	parance, emails to and from D. Brother spondence, draft Notice of Appearance others (0.20); finalize Notice of Appea NP Skyloft and emails to and from D. Stion (0.20); download Defendants' Extended and Proposed Order Gra	e and email to D. rance (0.40); retrieve Brothers (0.20); nibits for 5/12/21			
05-11-2021	Approved		Billable		Brothers, Doug		4.200	600.00	2,520.00
	0 1	• '	ommunications; revise to motion to strike; re	0 0	discovery; review Delaware docket sh	neet; review filings;			
05-11-2021	Approved		Billable		Carnes, Tiffany		4.000	350.00	1,400.00
	Discovery re	eview; client comr	munications; call with o	clients.					
05-12-2021	Approved		Billable		Carnes, Tiffany		4.000	350.00	1,400.00

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
-	NP Skylof	+							
1040-001		_	onees to Avonic and T	CG first sate of writte	en discovery; multiple client email commur	nications			
05-12-2021	Approved	ate discovery respo	Billable	CO mist sets of writte	Brothers, Doug	iloations.	3 700	600.00	2.220.00
00-12-2021		and attend hearing		of the Peace dismiss	sal; follow up and attention to agreed cons	solidation: client	3.700	000.00	2,220.00
			n motions to compel			ondation, onom			
05-12-2021	Approved		Billable		Nakamura, Suzy		1.200	150.00	180.00
	and finalize	letter to Judge Ma		ubmission (1.0); ema	to Consolidate, telephone call from D. Bro ail from 200 submission, draft and finalize 0).				
05-13-2021	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Telephone of Consolidate	call from D. Brothe (0.20).	rs regarding hearing,	email to Courtney Sa	uer and Barbara Balliette regarding heari	ng on Motion to			
05-13-2021	Approved		Billable		Brothers, Doug		0.700	600.00	420.00
	Client comn	nunications; e-mail	s with T. Carnes and	opposing counsel; re	view research memo; work on motion to o	luash.			
05-13-2021	Approved		Billable		Carnes, Tiffany		4.900	350.00	1,715.00
	attend NP z	oom call; initial dr	afts of basic interveno	r response to written	discovery; schedule client calls; calendar	ing depositions;			
05-14-2021	Approved		Billable		Carnes, Tiffany		5.500	350.00	1,925.00
	Call with cli- responses;	ent Stacy Schiffma multiple client ema	n to review written dis ills to schedule depos	covery responses; ca itions and update spr	all with Heath Basham to review written di readsheet.	scovery			
05-14-2021	Approved		Billable		Brothers, Doug		3.400	600.00	2,040.00
	Work on de	position schedule;	revise motion to quas	h; follow up commun	ications; work on motions to compel disco	very responses.			
05-14-2021	Approved		Billable		Nakamura, Suzy		2.300	150.00	345.00
					venors' Motion to Quash Axonic Defendar sition scheduling chart (0.20).	nts' Deposition			
05-17-2021	Approved		Billable		Brothers, Doug		2.900	600.00	1,740.00
	Work on mo	otions to compel; re	eview orders; e-mail e	xchange regarding d	epositions; follow up.				
05-17-2021	Approved		Billable		Carnes, Tiffany		5.500	350.00	1,925.00
	Draft motion	n to compel discove	ery conference letters	based on multiple di	scovery responses from multiple parties.				
05-18-2021	Approved		Billable		Brothers, Doug		1.500	600.00	900.00
	Review con	ference letter; e-m	ail regarding discover	y conference; review	New York Times article.				
05-18-2021	Approved		Billable		Carnes, Tiffany		6.000	350.00	2,100.00
	Draft discov	ery responses; cal		Itiple clients regardin	g discovery responses and deposition sch	neduling.			
05-19-2021	Approved		Billable		Carnes, Tiffany		6.000	350.00	2,100.00
		ery responses; cal	Is with multiple clients	to review discovery	·				
05-20-2021	Approved		Billable		Brothers, Doug		1.800	600.00	1,080.00
	Prepare for	and attend meet a	nd confer call; follow เ	up and work on sche	duling hearing date; client communication	S.			

06-24-2022 15:30:40 Page 16 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		it							
05-20-2021	Approved	<u> </u>	Billable		Seabolt, Kelly		0.300	150.00	45.00
00-20-2021		ırt administrator fo		es (.2); email same to D. Bı	•		0.000	100.00	40.00
05-20-2021	Approved		Billable	oo (12), oa oao to 2. 2.	Carnes, Tiffany		3.000	350.00	1,050.00
	• • •	client emails; cale	endaring and documer	it review related to deposition	ons and written discovery reque	sts.			,
05-21-2021	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Client comm	nunication; discov	ery request review and	d calendaring.	•				
05-21-2021	Approved		Billable		Brothers, Doug		1.500	600.00	900.00
	Review pro	posed Protective (	Order; client communic	cations.					
05-22-2021	Approved		Billable		Brothers, Doug		0.400	600.00	240.00
	Finish revie	w of protective ord	der and comments.						
05-24-2021	Approved		Billable		Nakamura, Suzy		0.600	150.00	90.00
		or Parziale and Co			mail to D. Brothers (0.10); review Motions for Leave and Notices a				
05-24-2021	Approved		Billable		Brothers, Doug		2.800	600.00	1,680.00
					counsel; multiple e-mails regard r hearing; review request for ab				
05-24-2021	Approved		Billable		Carnes, Tiffany		6.000	350.00	2,100.00
	Draft discov	ery conference le	tter edits and revisions	; multiple calls and emails	vith clients; drafting written disc	overy responses.			
05-25-2021	Approved		Billable		Carnes, Tiffany		6.000	350.00	2,100.00
	Multiple em	ails with clients re	garding written discov	ery responses; continue dra	fting responses and reviewing of	documents.			
05-25-2021	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Emails to a	nd from D. Brother	rs regarding Delaware	Chancery Court pleadings	(0.20).				
05-25-2021	Approved		Billable		Brothers, Doug		2.400	600.00	1,440.00
		and attend hearin	-	multiple e-mails and draft of	orrespondence regarding time a	allocation.			
05-26-2021	Approved		Billable		Brothers, Doug		4.000	600.00	2,400.00
		ompel; revise disc			el regarding search protocol; a n Nelson deposition preparation				
05-26-2021	Approved		Billable		Carnes, Tiffany		7.000	350.00	2,450.00
	Continue dr	afting responses t	o written discovery red	quests; client communicatio	ns; review client documents and	d answers.			
05-26-2021	Approved		Billable		Nakamura, Suzy		2.500	150.00	375.00
	and from D. Hearing for	Brothers (1.0); er Omnibus Discove	mails from and to T. Ca	arnes regarding consolidate to and from D. Brothers (0.	in The Milner Family Trust v. N d style, revise discovery (0.20); 30); review and revise letter to d	draft Notice of			

06-24-2022 15:30:40 Page 17 of 101

George Brothers Kincaid and Horton, L.L.P.

Work on discovery responses.

Billable

Approved

06-02-2021

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

3.200

350.00

1.120.00

View = Original From 05-01-2018 To 06-24-2022 **Date Status Approval** BillableType **Task Professional** Start Stop **Duration** Rate **Amount** Contingent Skyloft et al 1848 1848-001 NP Skyloft 05-27-2021 Approved Billable Carnes, Tiffany 8.000 350.00 2,800.00 Client communication regarding written discovery and updates: continue drafting responses to written discovery responses and reviewing documents. 05-27-2021 Approved Billable Brothers, Doug 1.600 600.00 960.00 Attention to revisions to Protective Order; review client draft discovery responses; t/c with T. Carnes regarding discovery and deposition preparation: Docket Control Order review. 05-27-2021 Approved Billable Nakamura, Suzv 0.400 150.00 60.00 Revise and finalize letter to opposing counsel regarding Discovery Conference, email to opposing counsel (0.20); draft Motion to Determine time under Rule 190.2(a)(2) and email to D. Brothers (0.20) Billable 350.00 70.00 05-28-2021 Approved Manassian, Taline 0.200 Call from T. Carnes regarding discovery. Approved Billable 600.00 1,680.00 05-28-2021 Brothers, Doug 2.800 Attention to discovery responses; document review; review proposed Docket Control Order; e-mails regarding deposition schedule. 05-28-2021 3.000 350.00 1.050.00 Approved Billable Carnes, Tiffany Continue working on discovery responses, client communication, and document review, 05-29-2021 Approved Billable Nakamura, Suzy 0.700 150.00 105.00 Download TCG Skyloft Owner's First Set of Written Discovery to Nelson Defendants (0.50); download TCG Skyloft Owner's Demand for Abstract of Title and Request for Entry on Property (0.20). 05-30-2021 Billable Nakamura, Suzy 3.000 150.00 450.00 Approved Review and revise template responses and emails to and from D. Brothers, telephone calls with D. Brothers, draft 2M & 3D Ltd response and emails to and from D. Brothers (3.0). 05-30-2021 3.100 600.00 1.860.00 Approved Billable Brothers, Doug Work on discovery responses; e-mail regarding Docket Control Order. 990.00 05-31-2021 Approved Billable Nakamura, Suzy 6.600 150.00 Review and revise individual Intervenors' Response to TCG Skyloft Owner's Written Discovery (6.60). 1.245.00 06-01-2021 Approved Billable Nakamura, Suzy 8.300 150.00 Multiple emails with D. Brothers, T. Manassian and T. Carnes regarding responses to TCG Skyloft Owner's Written Discovery; review and revise individual Intervenors' Response to TCG Skyloft Owner's Written Discovery and email to D. Brothers and T. Manassian; draft Verifications to Axonic Defendants' discovery and email Responses to TCG Skyloft Owner's Written Discovery to Sydney and Nicola Crisp, Ryan Ong, and Javier Martinez for review and approval; emails to and from Dan Ngo regarding providing responses; emails to Louis Buttny and Dennis Moeller regarding providing responses (8.30). 06-01-2021 Approved Billable Manassian, Taline 2.000 350.00 700.00 Review discovery responses and email D. Brothers and S. Nakamura regarding the same. 600.00 06-01-2021 Approved Billable Brothers, Doug 2.300 1.380.00

06-24-2022 15:30:40 Page 18 of 101

Manassian, Taline

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e	et al 1848								
-	NP Skylo	F#							
1040-001		_	d amail D. Duathana na			(4)			
			ail D. Brothers and S. N		; call with S. Nakamura regarding status he same (3.0).	(. i ); review			
06-02-2021	Approved		Billable		Brothers, Doug		1.300	600.00	780.00
	Work on di	scovery responses							
06-02-2021	Approved		Billable		Nakamura, Suzy		11.500	150.00	1,725.00
	Discovery; and T. Mar Discovery t	review and revise lassian, draft Verifi o William Smith, G	individual Intervenors' cations to Axonic Defe	Response to TCG Skendants' discovery and man, Harry and Joann	garding responses to TCG Skyloft Owne cyloft Owner's Written Discovery and ema d email Responses to TCG Skyloft Owne he Hansen, Hugh and Zaida Dykes, Heat	ail to D. Brothers r's Written			
06-03-2021	Approved		Billable		Nakamura, Suzy		7.600	150.00	1,140.00
	TCG Skylo responses Verification	ft Owner's Written and Verifications, on to Axonic Defend	Discovery and email to emails from and to Dev dants' discovery and e	D. Brothers and T. M vina Goswami regardi mail Responses to TC	ssian; review and revise individual Interve Manassian; emails from and to Ryan Ong ing Adelaida Martinez's Verifications and CG Skyloft Owner's Written Discovery to I s regarding status of client documents ar	regarding responses; draft Faron Page, Daniel			
06-03-2021	Approved		Billable		Manassian, Taline		1.900	350.00	665.00
	Review dis	covery responses	and email S. Nakamur	a and D. Brothers reg	arding the same.				
06-03-2021	Approved		Billable		Brothers, Doug		3.300	600.00	1,980.00
	Work on di	scovery; work on e	xtension; review Dock	et Control Order issue	es.				
06-03-2021	Approved		Billable		Carnes, Tiffany		1.500	350.00	525.00
	Work with	Suzy Nakamura on	gathering responsive	documents from clier	nts.				
06-04-2021	Approved		Billable		Carnes, Tiffany		0.200	350.00	70.00
	Assist with	client document pr	oduction.						
06-04-2021	Approved		Billable		Brothers, Doug		3.100	600.00	1,860.00
	Attention to	discovery respons	ses and to Docket Cor	trol Order.					
06-04-2021	Approved		Billable		Manassian, Taline		2.300	350.00	805.00
	Review dis (.2); prepar	covery responses e chart on docume	and email S. Nakamur ent production (1.4); er	a regarding the same nail D. Brothers and S	(.6); call with S. Nakamura regarding do S. Nakamura regarding the same (.1).	cument production			
06-04-2021	Approved		Billable		Nakamura, Suzy		7.400	150.00	1,110.00
	response to Paul Tessic session; dr Owner's W from and to Ryan Ong	o TCG Skyloft Owr er regarding respor aft deposition prep ritten Discovery to heath Basham ar regarding response	ner's Written Discovery nses, Verifications and aration chart; draft Ver client and revised Res and Bill Madden regardi	and email to D. Brott client documents, en ifications to Axonic D sponses to Glenn Sch ng revisions to respons and email regarding	n and T. Carnes; review and revise indivi- ners and T. Manassian; emails from and nails to and from clients regarding deposi- efendants' discovery and email Respons iffman and Heath Basham for review and nse and client documents; email and tele same to D. Brothers; emails to and from	to M ke Plante and ition preparation es to TCG Skyloft approval; emails phone call with			

06-24-2022 15:30:40 Page 19 of 101

# George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

							Fro	m 05-01-2018	3 10 06-24-2022
Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	gent								
_	et al 1848								
	NP Skylo	F4							
		_	Dalla Li		Double and Double		4 000	000.00	700.00
06-05-2021	• •		Billable	101	Brothers, Doug		1.200	600.00	720.00
00.05.0004		discovery respon	ses and Docket Contro	ol Order approval.	N. I.		40.000	450.00	4 000 00
06-05-2021	• • •		Billable		Nakamura, Suzy		12.000	150.00	1,800.00
	review CCL Dan Ngo, <i>A</i> providing d	Docket Sheet for delaida Martinez, ocuments respons	Order and Trial; dowr and Louis Buttny rega sive to request for prod	load clients' docume rding scheduling de uction; email from a	ded Deposition Notices; emails from and ents; telephone call with T. Manassian; e position preparation; emails to Paul Tess nd to Louis Buttny, Heath Basham, Willia garding links in documents provided (12	mails from and to sier regarding am Smith, and Dan			
06-05-2021	Approved		Billable		Manassian, Taline		0.200	350.00	70.00
	Call with S.	Nakamura regard	ling spreadsheet and r	next steps.					
06-05-2021	Approved		Billable		Carnes, Tiffany		0.200	350.00	70.00
	Attend to cl	ient production.							
06-06-2021	Approved		Billable		Carnes, Tiffany		0.100	350.00	35.00
	Attend to cl	ient document pro	duction.						
06-06-2021	Approved		Billable		Brothers, Doug		1.700	600.00	1,020.00
	Review files	s for responsive m	aterials for production	; review responses.					
06-06-2021	Approved		Billable		Nakamura, Suzy		8.000	150.00	1,200.00
	regarding s regarding F Written Dis to and from	cheduling deposit Ryan Ong docume covery; review and D. Brothers; final Lissa Ong's Respo	ion preparation; emails nt review; email to D. I d revise William and S ize William and Susan	s from and to D. Brot Brothers and T. Man usan Madden's Resp Madden's Response	emails from and to Hugh Dykes and Ad hers regarding CCL trial; emails from an assian regarding Glenn Schiffman revisi conse to TCG Skyloft Owner's Written D e, draft Verifications and email to client; and from Paul Tessier regarding docume	d to T. Manassian ons to Response to iscovery and emails review and revise			
06-06-2021	Approved		Billable		Manassian, Taline		1.700	350.00	595.00
			spreadsheet and disc emails regarding Ong o		S. Nakamura (.2); prepare client docume	ents for production			
06-07-2021	Approved		Billable		Brothers, Doug		3.100	600.00	1,860.00
	Extensive v	vork on discovery	responses; prepare fo	r deposition meeting	•				
06-07-2021	Approved		Billable		Manassian, Taline		4.900	350.00	1,715.00
	review requ D. Brothers	uest for admission regarding RFA re	issues in discovery responses (.1); review N	sponses (3.1); email ⁄ladden responses a	call with S. Nakamura regarding discoves with A. Cardenas regarding document nd documents (.8); email S. Nakamura r Schiffman response and email S. Nakan	review (.1); call from egarding Madden			
06-07-2021	Approved		Billable		Nakamura, Suzy		12.000	150.00	1,800.00

06-24-2022 15:30:40 Page 20 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All View = Original From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e	t al 1848								
1848-001		ŧ							
	Review Rya and to Adela preparation and from D. and email to Mike Plante telephone ca and from D. Manassian; Manassian responses,	n Ong documents ida Martinez, Joa scheduling and up Brothers, T. Carn T. Manassian for regarding verifica all and emails with Brothers and T. Nemails to and fror egarding clients' rerifications and p	nne Hansen, Paul Te- odate scheduling char es and T. Manassian review; emails from a tions; emails from a A. Cardenas regardii Manassian; review and Glenn Schiffman reg esponses to Request	ssier, Will Smith an t; emails from and t regarding same; up ind to Bill Madden r it to Will Smith rega g document reviev I revise Stacy Schif jarding documents for Admissions and emails from and to	ents responsive to Request for Production d Sarah Toler for Glenn Schiffman regard to Paul Tessier regarding revisions to Resoload Paul Tessier and William and Susar regarding responses, verifications and dording documents; email to Daniel Bell reguy, review and revise Paul Tessier's Resport fman's Response and emails to and from and emails from and to T. Carnes; emailed documents; emails to and from Sydney T. Manassian regarding A.H. Root Response	ding deposition sponse and emails to n Madden documents cuments; email to garding documents; onse and emails to D. Brothers and T. s from and to T. Crisp regarding			
06-07-2021	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Attend to qu	estions on client r	esponses to discover	<b>y</b> .					
06-08-2021	Approved		Billable		Nakamura, Suzy		8.000	150.00	1,200.00
	Dropbox and Response; e email to T. N Discovery, o from and to confidential opposing co documents; Discovery, o Madden doo Simmons re	d share; emails from and to mails from and to mails from and to manassian; review raft verifications a A. Cardenas, D. E and bates numbe unsel; emails fron review and finaliz raft verifications a uments and email	om T. Manassian rega belil Madden regardin and finalize Paul Tes and emails to and from Frothers and T. Manas r Paul Tessier's docur n and to Daniel Bell re e William and Susan I and emails to and from I to D. Brothers, uploa t production (8.0).	rding Paul Tessier, g documents and v sier's Response to n D. Brothers, T. Massian regarding Paunents and emails to garding documents Madden's Responsin D. Brothers, email	Sydney Crisp regarding verifications and William and Susan Madden, Stacy Schif erifications; upload Bill Madden's addition TCG's Written Discovery, duplicate Respanassian and Paul Tessier, email to oppout Tessier and Bill Madden document revious and from D. Brothers, upload to Dropbos and email to D. Brothers and T. Manasse to TCG's Written Discovery, duplicate For the opposing counsel; bates number Williams and to opposing counsel; emails from an analysis of the suspension o	fman and Ryan Ong nal documents and ponse to Axonic's sing counsel; emails ew; redact, mark x and email to polician, upload Response to Axonic's am and Susan			
06-08-2021	Approved		Billable		Cardenas, Ann		2.000	350.00	700.00
		1.0); compare P.			ged and confidential information prior to pair nissions to language contained in docume				
06-08-2021	Approved		Billable		Carnes, Tiffany		0.200	350.00	70.00
	Client comm	unication regardi	ng document production	on.	_				
06-08-2021	Approved		Billable		Manassian, Taline		1.700	350.00	595.00
	responses d	ue June 8 and en		rding the same (.8)	Brothers and T. Carnes regarding responses due June 9 and emails				
06-08-2021	Approved		Billable		Brothers, Doug		4.200	600.00	2,520.00
		discovery respons	ses and deposition pre	eparation; revise Pa	atrick Nelson search terms; approve trans	mittal; review Nelson			
	91a motion.								

06-24-2022 15:30:40 Page 21 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

							FIC	7111 US-U 1-2U IC	71-2016 10 06-24-2022	
Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount	
Conting	ent									
Skyloft e										
1848-001		F#								
1040-001	_	_	rosponso: roviow Pulc	01a motion and are	der on plea to the jurisdiction.					
06-09-2021	Approved	work off discovery	Billable	e 9 la modon and ord	Manassian, Taline		0.700	350.00	245.00	
00-09-2021	Calls with 1	Carnes	Diliable		Manassian, Tamie		0.700	330.00	243.00	
06-09-2021	Approved	. Oames.	Billable		Cardenas, Ann		2.000	350.00	700.00	
00 03 2021	Review and	(1.0); compare P.	ments provided by Bill		ed and confidential information prior to pressions to language contained in docume		2.000	000.00	700.00	
06-09-2021	Approved		Billable		Carnes, Tiffany		8.000	350.00	2,800.00	
	Finalize wri	tten responses to	discovery and review	documents for produ	ction; attend to deposition scheduling.					
06-09-2021	Approved		Billable		Nakamura, Suzy		9.000	150.00	1,350.00	
	from D. Bro update Doo Dropbox ar from D. Bro documents finalize Sta	others regarding Recument Production and email to opposing thers, duplicate for and email to T. Carecy Schiffman's Reemail to opposing	yan Ong Response; er Status Chart; mark ar ng counsel; review, rev ir Response to Axonic' arnes; emails from and sponse to TCG's Writt	mails to and from Ry nd bates number Rya vise and finalize Rya s Discovery, email to I to Jeff Hansen rega en Discovery, emails	Schiffman regarding revisions to Resportan Ong regarding response to Request an Ong's documents and email to T. Car in Ong's Responses to TCG's Written Discopposing counsel; upload Sydney and arding responses and providing documes from and to T. Carnes, duplicate for Redocuments, upload to Dropbox and emails.	for Admission No. 3; rnes, upload to scovey, emails to and Nicola Crisp's nts; review and esponse to Axonic's				
06-10-2021	Approved		Billable		Nakamura, Suzy		12.000	150.00	1,800.00	
	Sarah Tole Cardenas r and from F to Dan Ngo regarding E and finalize counsel; re and from Carnes and finalize Hu Axonic's Di opposing o	r for Glenn Schiffn egarding Black To aron Page regardin, Hugh Dykes and Dennis Moeller, Sye Black Tortuga's redact, mark and ba Brothers regardir J. A. Cardenas; em gh and Zaida Dyke scovery, email to counsel; email Doni	nan and Paul Tessier r intuga's Response and ing responses, docume I Dennis Moeller regard dney and Nicola Cris Wi esponses to TCG's Wi tes number Black Tort ing Hugh Dykes' respon ail from Jeff Hansen rest as' and Sydney and Nicopposing counsel; bate	egarding deposition document review; events and verifications ding responses, doctor, Dan Ngo, Daniel Britten Discovery, dupuga's documents, upases and document pegarding revisions to cola Crisp's Responses number Sydney apponses and verifications and verifications and verifications and verifications are sponses and verifications.	n; emails from and to Bill Madden, Faron preparation session; emails from and to mails from and to Daniel Bell regarding; email to T. Carnes regarding Dan Ngo uments and verifications; emails to and tell and Donna Dekker's responses and clicate for Response to Axonic's Discover bload to Dropbox and email to opposing production; upload William Smith docum responses and emails from and to D. B se to TCG's Written Discovery, duplicate and Nicola Crisp's documents, upload to ations; email Dan Ngo regarding responses	documents; emails to solve responses; email from T. Carnes documents; review ry, email to opposing counsel; emails to thents and email to T. rothers; review and Response to Dropbox and email to				
06-10-2021	Approved		Billable		Brothers, Doug		3.500	600.00	2,100.00	
	Work on se	arch terms issue;	client communications							
06-10-2021	Approved		Billable		Carnes, Tiffany		8.000	350.00	2,800.00	
	Finalize wri	tten discovery res	ponses and review do	cuments for producti	on; client meeting.					
06-10-2021	Approved		Billable		Cardenas, Ann		5.800	350.00	2,030.00	

06-24-2022 15:30:40 Page 22 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Ar	mount
Continge	ent										
Skyloft e	t al 1848										
1848-001	NP Skylot	ft									
	docments ( prouction o	.8); review and ana	alysis of documents pr	ovided by Butt Rent	eged and confidential information prior to als for privileged and confidential information d by Crisp for privileged and confidential	ation prior to	or to				
06-11-2021	Approved		Billable		Cardenas, Ann			6.300	350.00	2,2	205.00
	and review documents	agreements to cor provided by Butts	nfirm accuracy with req	gard to responses to and confidential infor	and confidential information prior to produ o requests for admissions (3.2); review ar mation prior to production of documents or admissions (3.1).	nd analysis of	nents				
06-11-2021	Approved		Billable		Brothers, Doug			5.200	600.00	3,1	120.00
		Docket Control Onmails to opposing o		eposition preparation	n, discovery responses; e-mail to clients;	attend prepara	ation				
06-11-2021	Approved		Billable		Carnes, Tiffany			8.000	350.00	2,8	300.00
	Review doo deposition		tion; deposition prepa	ration; client commu	unications regarding written discovery res	sponses and					
06-11-2021	Approved		Billable		Nakamura, Suzy			11.000	150.00	1,6	350.00
	document a and to Hug reschedule depositions emails from Rentals and invite for Gi Production emails from preparation 2M & 3D Lt	and responses; em h Dykes regarding d depositions of Hu and deposition pro- n and to Dan Ngo a d 2M & 3D docume lenn Schiffman; en Log and email to T n and to T. Carnes i; review and finaliz id's, Harry and Joa o opposing counse	ails from and to Javier Responses, verification and Dykes, 2M & 3D and Paration session; emand T. Carnes regarding to and from and the season	Martinez and D. Brons and documents; and Adelaida Martine ails from and to Gle ag responses and Voo Sarah Toler and I grees regarding Willienas; review and reth additional documida Martinez's, Willia Dekker's, Butt Rent	riew; emails to and from T. Carnes regard others regarding deposition preparation emails to and from D. Brothers and T. Cez and status on responses, verifications on Schiffman regarding Responses to Werifications; emails from and to A. Carder D. Brothers regarding deposition prepara am Smith Responses; revise Intervenors vise Dennis Moeller Response and emailents; emails to and from D. Brothers regam Smith's, Alla Investments', AH Root's als LLC's Responses to TCG and Axonid's documents, upload to Dropbox and er	session; emails arnes regardin, documents, ritten Discover nas regarding Estion session ar to Document I to D. Brothers arding depositics, Dennis Moell c's Written Dis	s from g y; Butt d s; on er's, covery				
06-12-2021	Approved Client meet		Billable		Brothers, Doug			1.200	600.00	7	720.00
06-12-2021	Approved Client com		Billable		Carnes, Tiffany			0.200	350.00		70.00
06-12-2021	Approved		Billable		Nakamura, Suzy			0.100	150.00		15.00
	Emails fron (0.10).	n and to Louis Butt	ny regarding depositio	n preparation sessi	on and Responses to TCG and Axonic W	/ritten Discover	ry				
06-13-2021	Approved		Billable		Carnes, Tiffany			0.500	350.00	1	175.00
	Schedule d	epositions; client c	communications.								
06-13-2021	Approved		Billable		Cardenas, Ann			3.500	350.00	1,2	225.00
06-24-2022 <sup>-</sup>	15:30:40								Page	23 of	101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Amount
Continge	ent									
Skyloft et										
1848-001 N		it								
1040-0011	Review and	_ l analysis of docun			and confidential information prior to proucti	on of docme	nts			
06-13-2021	Approved	agreements to cor	Billable	gard to responses to	Brothers, Doug			0.200	600.00	120.00
00 10 2021	Client comr	nunications.	Billabio		Browners, Boug			0.200	000.00	120.00
06-14-2021	Approved		Billable		Brothers, Doug			2.200	600.00	1,320.00
00 11 2021		preparation for Pa		n and client commu	nications; deposition preparation.			2.200	000.00	1,020.00
06-14-2021	Approved	p. 5 p. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3. 3.	Billable		Norton, Laura			1.400	125.00	175.00
		osition notice to P	atrick Nelson; prepare	a cross notice to P.	Nelson and email to D. Brothers.					
06-14-2021	Approved		Billable		Cardenas, Ann			3.900	350.00	1,365.00
	Review and		nents provided by A.H accuracy with regard		and confidential information prior to produ	ction of docu	ments;			,
06-14-2021	Approved		Billable		Carnes, Tiffany			6.900	350.00	2,415.00
	• •	epositions; client c	ommunications; docu	ment review and pro	•					
06-14-2021	Approved		Billable		Nakamura, Suzy			1.100	150.00	165.00
	emails from	and to Dan Ngo r	egarding Verification (	0.10); emails from a	om and to Glenn Schiffman regarding Veri nd to Daniel Bell regarding responsive doc cuments, upload to Dropbox and email to c	cuments and	emails			
06-15-2021	Approved		Billable		Nakamura, Suzy			2.700	150.00	405.00
	(0.20); ema Dykes' Veri Responses (0.30); ema Bell docume Dropbox an	il to Ryan Ong reg fications to opposi (0.10); compile ar ils from and to T. ( ent review and Will d email to opposir posing counsel (0.	arding Verifications (0 ng counsel (0.40); em nd bates number Adela Carnes regarding Willi liam Smith documents ng counsel (0.60); com	0.10); email Stacy So ails from and to T. C aida Martinez's docu am Smith document s (0.10); compile and apile and bates numl	ons and Response to Request for Admissichiffman's, Butt Rentals', 2M & 3D's and Husarnes regarding Harry and Joanne Hansements, upload to Dropbox and email to ops (0.10); emails from and to A. Cardenas rates number additional Daniel Bell docuber Alla Investments, LLC documents, upload to Dropbox and e	ugh and Zaid n Verification posing coun egarding Da ments, uploa pad to Dropb	a is and sel niel ad to ox and			
06-15-2021	Approved	,	Billable		Cardenas, Ann			2.200	350.00	770.00
		litional documents	providing by Bell (1.3	3) ; review emails pro	ovided by Smith for hyper-links (.9).					
06-15-2021	Approved		Billable	·	Carnes, Tiffany			8.500	350.00	2,975.00
	Attend two	client depositions;	calls with clients rega	rding upcoming dep	ositions.					
06-15-2021	Approved		Billable		Brothers, Doug			7.500	600.00	4,500.00
	Attend depo	ositions and docun	nent review.		-					
06-16-2021	Approved		Billable		Nakamura, Suzy			0.800	150.00	120.00

06-24-2022 15:30:40 Page 24 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		F#							
1040-001	Retrieve Do download F emails to a	ocket Sheet for Pa Plaintiff Nelson Def nd from T. Carnes	endants' First Amende regarding Joanne Har	ed Responses and Onsen deposition (0.10	nload pleadings in Parziale and email to bjections to Intervenors' First Request fo I); download Plaintiffs' First Amended Re rom A. Cardenas regarding William Smit	or Admissions (0.10); eponses and			
06-16-2021	Approved		Billable		Brothers, Doug		6.900	600.00	4,140.00
	Attend inter	rvenor depositions	; review pleadings and	l attached evidence i	n related cases.				
06-16-2021	Approved		Billable		Carnes, Tiffany		6.000	350.00	2,100.00
	Attend clier	nt depositions; sch	edule depositions and	email opposing cour	nsel.				
06-17-2021	Approved		Billable		Carnes, Tiffany		1.500	350.00	525.00
	Client emai	il correspondence;	call with client regardi	ng upcoming deposit	tions.				
06-17-2021	Approved		Billable		Carnes, Tiffany		1.000	350.00	350.00
	Review opp	oosing discovery re	esponses in response	to discovery confere	nce letter and summarize for D. Brothers	<b>3</b> .			
06-17-2021	Approved		Billable		Nakamura, Suzy		4.700	150.00	705.00
	from and to email to op opposing o (0.40); com	Dan Ngo regardir posing counsel (1 ounsel (0.50); com pile and bates nur	ng Verifications (0.10); 40); compile and bate pile and bates numbe	compile and bates n s number Harry and or r Butt Rental docume g, LLC documents, u	denas regarding William Smith documer umber William Smith documents, upload Joanne Hansen documents, upload to D ents, upload to Dropbox and email to opp upload to Dropbox and email opposing co	I to Dropbox and ropbox and email to posing counsel			
06-17-2021	Approved		Billable		Brothers, Doug		2.800	600.00	1,680.00
	Further atte	ention to discovery	responses; document	review; Patrick Nels	on deposition preparation.				
06-18-2021	Approved		Billable		Brothers, Doug		3.300	600.00	1,980.00
	Review Do	cket Control Order	; telephone conference	e with opposing cour	sel and T. Carnes; extensive document	review.			
06-18-2021	Approved		No Charge		Norton, Laura		0.400	125.00	50.00
	Prepare se	rvice email and se	nd out cross depositio	n notice of Patrick Ne	elson.				
06-18-2021	Approved		Billable		Nakamura, Suzy		0.700	150.00	105.00
	Bates numl	ber Hugh and Zaid	a Dykes' documents f	or production; upload	I to Dropbox and email to opposing coun	sel (0.70).			
06-18-2021	Approved		Billable		Carnes, Tiffany		5.000	350.00	1,750.00
			up client meetings; client to Lexbe for uploadi		eview for production; receive and downlo	oad opposing			
06-18-2021	Approved		Billable		Cardenas, Ann		0.400	350.00	140.00
	Review and	d analysis of docur	nents provided by Mar	tinez for privileged a	nd confidential information prior to produ	ction of documents.			
06-19-2021	Approved		Billable		Brothers, Doug		3.000	600.00	1,800.00
	Continue e	xtensive document	t review.						
06-20-2021	Approved		Billable		Brothers, Doug		4.600	600.00	2,760.00
06-24-2022 1	15:30:40							Page	25 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001 I		4							
1040-0011		_	ad Datrick Nolson dan	acition proporation					
06-20-2021		ocument review a	nd Patrick Nelson dep Billable	osition preparation.	Carnes, Tiffany		0.300	350.00	105.00
00-20-2021	Approved	unications: roquo	st and forward client li	nk to deposition for fo	, ,		0.300	330.00	103.00
06-21-2021	Approved	iunications, reque	Billable	rik to deposition for it	Carnes, Tiffany		2.600	350.00	910.00
00-21-2021		regarding uncomir		and forward denosit	ion links for following day.		2.000	330.00	910.00
06-21-2021	Approved	egaranig apoorin	Billable	o ana forwara acposit	Brothers, Doug		6.500	600.00	3,900.00
00 21 2021		el Bell deposition:	prepare for Patrick Ne	elson deposition.	Browners, Bodg		0.000	000.00	0,000.00
06-21-2021	Approved	' '	Billable	'	Nakamura, Suzy		0.800	150.00	120.00
	Emails from				printing company in San Clemente, Cal son Exhibits to Dropbox (0.80).	ifornia; telephone			
06-22-2021	Approved		Billable		Nakamura, Suzy		1.400	150.00	210.00
	Printing and	Dana at Minutem		ch bits for deposition o	ails and telephone calls from and to Gal of Patrick Nelson, upload to Dropbox (0.				
06-22-2021	Approved		Billable		Brothers, Doug		3.400	600.00	2,040.00
	Continued of	leposition prepara	tion; issues regarding	omnibus discovery he	earing.				
06-22-2021	Approved		Billable		Carnes, Tiffany		8.000	350.00	2,800.00
	Defend thre	e client deposition	S.						
06-23-2021	Approved		Billable		Carnes, Tiffany		3.200	350.00	1,120.00
					nd information on discovery conference cheduling client meetings.	e letter; download			
06-23-2021	Approved		Billable		Brothers, Doug		8.000	600.00	4,800.00
	Travel to Or	ange County; ass	emble exh bits; depos	ition preparation.					
06-23-2021	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
		and to D. Brother xonic production (		ding TCG document	production and download; emails from a	and to T. Carnes			
06-24-2021	Approved		Billable		Brothers, Doug		9.000	600.00	5,400.00
	Prepare and	d attend Patrick Ne	·						
06-24-2021	Approved		Billable		Carnes, Tiffany		4.100	350.00	1,435.00
	Remote clie prepare clie	nt meetings prior t nt documents for p	to depositions; client so production.	cheduling; attention to	o other party production downloads; rec	ceive, review, and			
06-24-2021	Approved		Billable		Cardenas, Ann		1.000	350.00	350.00
	Review sup Compel.	plemental respons	ses from Skyloft to det	ermine what informati	ion is outstanding and should be include	ed in Motion to			
06-25-2021	Approved		Billable		Brothers, Doug		0.500	600.00	300.00
	Telephone of	conference with A.	Cardenas and R. Hor	ton.					

06-24-2022 15:30:40

Page 26 of 101

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All

View = Original From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et									
1848-001 I		te:							
06-25-2021	Approved	•	Billable		Brothers, Doug		10.000	600.00	6,000.00
	Travel.								
06-25-2021	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails from (0.10).	and to Steven Ar	teaga and D. Brothers	regarding read only	and original transcripts for William Madd	len and Paul Tessier			
06-25-2021	Approved		Billable		Carnes, Tiffany		1.100	350.00	385.00
	Communication documents.	tions regarding de	eposition scheduling; a	ttention to loading of	her party production into Lexbe; receive	and review client			
06-26-2021	Approved		Billable		Brothers, Doug		10.000	600.00	6,000.00
	Travel.								
06-28-2021	Approved		Billable		Brothers, Doug		2.200	600.00	1,320.00
	Conferences	s with T. Carnes;	review motion to comp	el issues; case plani	ning; attention to receivership issue.				
06-28-2021	Approved		Billable		Nakamura, Suzy		1.000	150.00	150.00
	Announcem Announcem	ent for Hearing or	n Omnibus Discovery I nil to Court (0.10); revie	Natters and emails to	document production (0.20); draft Docke and from D. Brothers (0.20); revise and ocuments and bates number (0.30); uplo	finalize Docket Call			
06-28-2021	Approved		Billable		Cardenas, Ann		3.000	350.00	1,050.00
	Continue rev	view of suppleme	ntal responses from Pl		nts in order to determine  D. Brothers regarding	(1.5).			
06-28-2021	Approved		Billable		Carnes, Tiffany	- Ma - Sa	5.000	350.00	1,750.00
	Defend two	client depositions	3						
06-29-2021	Approved		Billable		Carnes, Tiffany		7.000	350.00	2,450.00
	Defend three	e client deposition	IS.						
06-29-2021	Approved		Billable		Cardenas, Ann		4.600	350.00	1,610.00
		D. Brothers regar Ifting Motion (4.5)		(.1); research and a	nalysis of case law in support of motion t	to compel and			
06-29-2021	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
			rs regarding Axonic De n; download Axonic De		; telephone calls and emails with Ana M pers 1-312 (0.50).	anzano regarding			
06-29-2021	Approved		Billable		Brothers, Doug		4.600	600.00	2,760.00
	E-mail regar	ding Motion to Co	ompel; extensive docui	nent review.					
06-30-2021	Approved		Billable		Nakamura, Suzy		2.700	150.00	405.00
	telephone ca	all with T. Carnes production (2.50)	regarding same; emai	ls to and from D. Bro	ants production bates numbers 1-312 an thers regarding same; continue downloa arry and Joanne Hansen Verifications, e	ad Axonic			

06-24-2022 15:30:40

Page 27 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et									
1848-001 N		+							
06-30-2021	Approved	<u>-</u>	Billable		Cardenas, Ann		2.500	350.00	875.00
00-30-2021	• • •	afting Intervenor's	Motion to Compel.		Caldellas, Allii		2.500	330.00	073.00
06-30-2021	Approved	alting intervenors	Billable		Brothers, Doug		6.000	600.00	3.600.00
00-00-2021		ocument review.	Billable		Brothers, Bodg		0.000	000.00	0,000.00
06-30-2021	Approved	ocamon roviow.	Billable		Carnes, Tiffany		1.500	350.00	525.00
00 00 202 !	• •	other party produc		munications regardir	ng same; receive and read filed motion for	summary	1.000	000.00	020.00
07-01-2021	Approved		Billable		Nakamura, Suzy		1.100	150.00	165.00
	D. Brothers Brothers (0.	(0.10); review Doo 10); emails to TSC	cket Sheet for Collins and Reporting regarding	and email to D. Broth repository and read	thers (0.50); review Docket Sheet for Parz lers (0.10); download pleadings in Collins only deposition transcripts for Susan Mado parding deposition exhibits for deposition o	and email to D. len, Ryan Ong,			
07-01-2021	Approved		Billable		Carnes, Tiffany		0.200	350.00	70.00
	Attention to	deposition forms.							
07-01-2021	Approved		Billable		Cardenas, Ann		1.800	350.00	630.00
	Review and	revise Intervenors	s' Motion to Compel.						
07-01-2021	Approved		Billable		Brothers, Doug		2.700	600.00	1,620.00
	Prepare for	and attend status	conference; further do	cument review.					
07-01-2021	Approved		Billable		Cardenas, Ann		1.800	350.00	630.00
	Review and	revise Intervenors	s' Motion to Compel.						
07-02-2021	Approved		Billable		Brothers, Doug		4.200	600.00	2,520.00
	Document r	eview; telephone of	conference with Interven	enor's counsel.					
07-02-2021	Approved		Billable		Carnes, Tiffany		0.300	350.00	105.00
	Attention to	uploading discove	ery from other parties f	or review.					
07-02-2021	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
		and to TSG Repo Omn bus Discover		nly transcript for Dan	niel Bell (0.10); email to D. Brothers regard	ing preparation for			
07-06-2021	Approved		Billable		Carnes, Tiffany		0.900	350.00	315.00
	Client call renotices.	egarding upcoming	g deposition; client cor	respondence; corres	pondence with opposing counsel regardin	g deposition			
07-06-2021	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Email client	s deposition transc	cripts, errata sheet and	d signature page (0.5	50).				
07-06-2021	Approved		Billable		Brothers, Doug		1.000	600.00	600.00
	Attention to	scheduling and m	otions to compel; e-ma	ails regarding deposi	tion scheduling.				
07-07-2021	Approved		Billable		Nakamura, Suzy		0.600	150.00	90.00
06-24-2022 1	5:30:40							Page 28	of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		4							
1040-001		_	zialo and Collins and a	mails to and from D	Brothers (0.30); emails from and to TS	C Poporting			
		eposition transcrip			); email to Susan Madden regarding de				
07-07-2021	Approved		Billable		Carnes, Tiffany		3.000	350.00	1,050.00
	Defend dep	osition of A.H. Ro	ot Building.						
07-07-2021	Approved		Billable		Brothers, Doug		4.800	600.00	2,880.00
	Work on Mo	otion for Partial Su	mmary Judgment; e-m	nails regarding depos	itions.				
07-08-2021	Approved		Billable		Brothers, Doug		1.800	600.00	1,080.00
	Amend inte	rvention and conti	nued work on Motion f	or Partial Summary J	udment; deposition preparation.				
07-08-2021	Approved		Billable		Nakamura, Suzy		1.000	150.00	150.00
	Continue to signature pa	upload deposition age (0.10); email F	n transcripts to ND (0.7 Ryan Ong Errata Shee	0); emails from and t t and signature page	o Ryan Ong regarding deposition Errata to TSG Reporting and opposing couns	a Sheet and el (0.20).			
07-09-2021	Approved		Billable		Nakamura, Suzy		2.600	150.00	390.00
			nird Amended Plea in I of Pleas in Intervention		service on third-party defendants; email demand fees (0.20).	s to and from D.			
07-09-2021	Approved		Billable		Brothers, Doug		3.800	600.00	2,280.00
	E-mails reg production.	arding deposition	scheduling; work on de	esignated representa	tive deposition categories; extensive re	view of Axonic			
07-09-2021	Approved		Billable		Carnes, Tiffany		0.500	350.00	175.00
	Attention to	produced docume	ent download and revi	ew.					
07-10-2021	Approved		Billable		Brothers, Doug		4.800	600.00	2,880.00
	Review Axo	onic production.							
07-11-2021	Approved		Billable		Brothers, Doug		0.300	600.00	180.00
	Case plann	ing.							
07-12-2021	Approved		Billable		Brothers, Doug		4.200	600.00	2,520.00
	Discussion	regarding docume	ent review; review depo	osition notice; work or	n task list; work on Motion for Partial Su	ımmary Judgment.			
07-12-2021	Approved		Billable		Nakamura, Suzy		1.900	150.00	285.00
	submitting f Brothers re (0.20); verif	ee for Jury Demar garding deposition y appearance and	nd, emails from and to n transcript (0.20); ema l answer of Third Party	D. Brothers regarding ils to and from D. Brothers Defendants and ema	arding fee for Jury Demand, chat with eg same (0.60); emails from and to Sydrothers regarding Rule 11 Agreement regails to and from D. Brothers (0.50); draffrothers (0.30); revise Cross Notice (0.1	ney Crisp and D. garding Third-Parties t Intervenors' Cross			
07-12-2021	Approved		Billable		Carnes, Tiffany		2.500	350.00	875.00
	Run term se	earches in docume	ents produced by othe	r parties.					
07-13-2021	Approved		Billable		Carnes, Tiffany		0.300	350.00	105.00
	Correspond	lence with client a	nd opposing counsel r	egarding deposition o	lates.				

06-24-2022 15:30:40 Page 29 of 101

# George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	jent								
_	et al 1848								
_	NP Skylof	•							
		<u>L</u>	Dillabla		Prothers Doug		2 500	600.00	2 100 00
07-13-2021	Approved		Billable		Brothers, Doug		3.500	600.00	2,100.00
07.40.0004		otion for Partial St	ımmary Judgment.		N-1		4 400	450.00	405.00
07-13-2021	Approved		Billable	San and an MacOnstructed	Nakamura, Suzy	ile from and to Dill	1.100	150.00	165.00
	Madden reg deposition t	arding deposition ranscript (0.20); re	transcript (0.10); ema	ils from and to Sydr ne Third Amended I	c and email to opposing counsel (0.10); emaney Crisp, D. Brothers and Court Reporter replies in Intervention and email to D. Brothers transcript (0.10).	egarding			
07-14-2021	Approved		Billable		Brothers, Doug		0.700	600.00	420.00
	Client comn	nunications; e-ma	il Emily Miller; review	ΓCG amended petiti	ion.				
07-14-2021	Approved		Billable		Nakamura, Suzy		0.300	150.00	45.00
					ng Errata Sheet and signature page for depo g deposition of Brendan McCormick (0.10).	osition transcript			
07-14-2021	Approved		Billable		Carnes, Tiffany		4.500	350.00	1,575.00
	Schedule de	eposition; draft ini	tial timeline and review	documents.					
07-15-2021	Approved		Billable		Carnes, Tiffany		4.500	350.00	1,575.00
	Continue do	cument review; for	ollow up with client on	deposition schedule	e.				
07-15-2021	Approved		Billable		Brothers, Doug		4.200	600.00	2,520.00
	Work on an	nended pleading a	and Motion for Partial S	Summary Judgment	; collect exhibits regarding same.				
07-16-2021	Approved		Billable		Brothers, Doug		4.400	600.00	2,640.00
			tial Summary Judgmer tion; draft insert for clie		nt review; review correspondence; client cor P. Nelson filings.	mmunications;			
07-16-2021	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Emails from transcripts of	and to T. Carnes of Louis Buttny, Jo	regarding deposition to panne Hansen and Dar	transcripts (0.10); e n Ngo (0.10).	mails from and to TSG Reporting regarding	deposition			
07-16-2021	Approved		Billable		Carnes, Tiffany		1.300	350.00	455.00
			cheduling Black Tortug rm receipt of read-only		ntervenor update correspondence for D. Bro	other's review;			
07-17-2021	Approved		Billable		Brothers, Doug		1.400	600.00	840.00
	Review ame	ended discovery r	esponses; work on des	signated representa	ative categories.				
07-18-2021	Approved		Billable		Brothers, Doug		1.000	600.00	600.00
	Work on as	sembling evidenc	e for Motion for Partial	Summary Judgmer	nt.				
07-19-2021	Approved		Billable		Brothers, Doug		0.500	600.00	300.00
	• •	tions regarding p	otential bankruptcy filir	ng; conference with	Russ Horton regarding same.				
07-19-2021	Approved		Billable		Nakamura, Suzy		2.500	150.00	375.00
					•				

06-24-2022 15:30:40 Page 30 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	gent								
Skyloft	et al 1848								
	1 NP Skylo	ft							
	Collect exe	ecuted Errata Shee email clients remin		eet and signature pag	Reporting and opposing counsel; emai ge; emails to and from TSG Reporting is (2.50).				
07-19-202	1 Approved		Billable		Carnes, Tiffany		0.200	350.00	70.00
	Finalize an	d send client upda	te.						
07-19-2021	1 Approved		Billable		Horton, Russ		0.400	600.00	240.00
	Email with	D. Brothers regard	ling	; telephone confe	erence with regarding same.	•			
07-20-202	1 Approved		Billable		Carnes, Tiffany		0.700	350.00	245.00
	Attention to	scheduling Black	Tortuga deposition; lo	cate requested depos	sition transcript; client communications	i.			
07-20-2021	1 Approved		Billable		Nakamura, Suzy		3.600	150.00	540.00
			orting; email depositionize transcripts and exl		heet and signature page to clients, dov	vnload clients'			
07-20-202	1 Approved		Billable		Brothers, Doug		2.300	600.00	1,380.00
	Communic	ations regarding cl	ients; work on Motion	for Partial Summary .	Judgment; consideration of				
07-21-2021	1 Approved		Billable		Brothers, Doug		1.500	600.00	900.00
	Work on M	otion for Partial Su	ımmary Judgment issı	ues; e-mail opposing o	counsel regarding operating issue.				
07-21-2021	1 Approved		Billable		Carnes, Tiffany		2.600	350.00	910.00
	Call with cl	ient in preparation	for deposition; attention	on to intervenor motio	n for summary judgment draft and ider	ntifying exhibits.			
07-22-2021	1 Approved		Billable		Carnes, Tiffany		3.200	350.00	1,120.00
	Defend clie	ent deposition; clier	nt correspondence.						
07-22-2021	1 Approved		Billable		Brothers, Doug		0.400	600.00	240.00
	Telephone	conference with B	ernard Given; docume	ent review.					
07-23-2021	1 Approved		Billable		Nakamura, Suzy		0.300	150.00	45.00
					e page to deposition transcript; email t la Martinez regarding deposition transc				
07-23-202	1 Approved		Billable		Brothers, Doug		0.200	600.00	120.00
	Review cor	respondence rega	rding building manage	ement.					
07-25-2021	1 Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails fron	n and to Glenn Sch	niffman regarding Erra	ta Sheet and signatu	re page to deposition transcript (0.10).				
07-26-202	1 Approved		Billable		Brothers, Doug		0.800	600.00	480.00
	Review cor	respondence; cliei	nt communications; pr	oduction review.					
07-26-202	1 Approved		Billable		Nakamura, Suzy		7.300	150.00	1,095.00
	Page regar Schiffman	rding Errata Sheet and Donna Dekker	and signature page, e	mail to TSG Reportin	ranscript (0.10); emails from and to Wil g and opposing counsel (0.20); emails e (0.20); emails from and to D. Brother	from and to Glenn			
									. <b>.</b>

06-24-2022 15:30:40 Page 31 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001 I		ft							
07-26-2021	Approved	<u> </u>	Billable		Carnes, Tiffany		0.200	350.00	70.00
01 20 2021	Client comr	munication.	Billabio		camos, rmany		0.200	000.00	7 0.00
07-26-2021	Approved		Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Research a Summary J	pplication of udgment.			to support Plaintiffs	' Partial Motion for			·
07-27-2021	Approved		Billable		Cardenas, Ann		2.500	350.00	875.00
	Revise Inte	rvenors' Respons	e to Motion to Dismiss.						
07-27-2021	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Document	search related to	entities.						
07-27-2021	Approved		Billable		Nakamura, Suzy		3.600	150.00	540.00
	review and email to D. Agreed Ord from and to	download Docket Brothers (0.10); d ler on Motion to C Adelaida Martine	Sheet in Parziale and lownload Intervenors Jo compel Discovery (0.10	email to D. Brothers ohn C. and Janice C. ); extract contracts fret and signature page	ludge Marshall and emails from and to I (0.10); review and download Docket Sh. Po k's Original Petition in Intervention of the TCG production and email to D. Broge (0.10); emails from and to Donna Delel (0.10).	neet in Collins and (0.10); download others (2.30); emails			
07-27-2021	Approved		Billable		Brothers, Doug		2.700	600.00	1,620.00
					Nelson counsel; continue document re vorganizational documents.	eview; attempt to			
07-28-2021	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
					ails from and to D. Brothers (0.10); ema script and email to TSG Reporting and				
07-29-2021	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Review Do	cket Sheet in Parz	ziale for Order and ema	ail to D. Brothers rega	arding same (0.10).				
07-29-2021	Approved		Billable		Brothers, Doug		0.200	600.00	120.00
	Review cor	respondence rega	arding discovery.						
07-29-2021	Approved		Billable		Carnes, Tiffany		4.000	350.00	1,400.00
	Document i	review and draft ti	meline.						
07-30-2021	Approved		Billable		Nakamura, Suzy		2.200	150.00	330.00
	Review Doo (0.20); dow	cket Sheet in Parz nload TCG Skylof	ziale, download Court's ft document production	Minutes on Hearing (2.0).	Regarding Motion to Dismiss and emai	I to D. Brothers			
07-30-2021	Approved		Billable		Brothers, Doug		0.300	600.00	180.00
	Review and	forward correspo	ondence regarding doc	ument production.					
	Troviow and			·					

06-24-2022 15:30:40 Page 32 of 101

06-24-2022 15:30:40

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Page 33 of 101

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	gent								
Skyloft (	et al 1848								
1848-001	NP Skylo	ft							
	Email to D.	 Brothers regardin	g TCG Skyloft docume Nelson Partners' docu		compile, organize and upload documer 0).	nt production from			
08-01-2021	Approved		Billable	· ·	Nakamura, Suzy		1.000	150.00	150.00
	Continue c	ompiling, organizir	ng and extracting Nelso	on Partners' docume	nt production (1.0).				
08-02-2021	Approved		Billable		Nakamura, Suzy		0.600	150.00	90.00
		Collins case, emails			s and Axonic document production (0.10 ngs (0.40); review hearings schedule an				
08-02-2021	Approved		Billable		Brothers, Doug		0.400	600.00	240.00
	Review Ca	lifornia filings; tele	phone conference with	Russ Horton regard	ing same.				
08-02-2021	Approved		Billable		Cardenas, Ann		3.800	350.00	1,330.00
	Research				and prepare memo with an	alysis of findings.			
08-03-2021	Approved		Billable		Nakamura, Suzy		1.500	150.00	225.00
	Sheet and Transcript, opposing c	signature page, er Errata Sheet and sounsel regarding h	nails from and to TSG signature page to Hea Hugh Dykes' Errata Sh	Reporting regarding th Basham (1.0); emeted and signature pa	ugh Dykes, Dan Ngo and Louis Buttny r deposition transcript for Heath Basham ails from and to Hugh Dykes, email to T ge (0.20); download Intervenors John a re page to TSG Reporting and opposing	, email Deposition SG Reporting and nd Janice Polk's			
08-03-2021	Approved		Billable		Brothers, Doug		1.700	600.00	1,020.00
	Attention to counsel.	document review	; telephone conference	e with <del>Knex</del> counsel;	work on motion exhibits; telephone con	ference with Nelson			
08-04-2021	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Download	Notice of Appeara	nce in CCL #1 case (0	.10).					
08-04-2021	Approved		Billable		Brothers, Doug		4.000	600.00	2,400.00
	Document	review; client com	munications; communi	cations with opposing	g counsel.				
08-05-2021	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Begin dow	nload Axonic's doc	cument production (0.5	0).					
08-05-2021	Approved		Billable		Brothers, Doug		1.000	600.00	600.00
	Continued	document review.							
08-06-2021	Approved		Billable		Nakamura, Suzy		0.800	150.00	120.00
	Email to Ar	na Manzano regard	ding Axonic document	production (0.10); re	-attempt download of Axonic document	production (0.70).			
08-06-2021	Approved		Billable		Brothers, Doug		3.600	600.00	2,160.00
	Review dis communica		document review; dis-	cussion with opposin	g counsel and work on Rule 11 agreem	ent; client			
08-07-2021	Approved		Billable		Brothers, Doug		0.700	600.00	420.00
	E-mail opp	osing counsel; cat	ch up on filings.						

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
1848-001		it							
08-07-2021	Approved	<u> -</u>	Billable		Nakamura, Suzy		1.500	150.00	225.00
00-01-2021		ownloading Axonic	document production	(1.50)	rtakamara, Guzy		1.000	100.00	220.00
08-08-2021	Approved	, , , , , , , , , , , , , , , , , , ,	Billable	(1.00).	Nakamura, Suzy		1.000	150.00	150.00
		oload of Axonic do	cument production (1.0	0).					
08-09-2021	Approved		Billable	,	Nakamura, Suzy		0.200	150.00	30.00
	Continue up	oload of Axonic do	cument production (0.2	20).					
08-09-2021	Approved		Billable		Brothers, Doug		4.300	600.00	2,580.00
	E-mail oppo	sing counsel; initia	al preparation for hear	ng; document review	y; client communications; draft Response	e to Motion to Strike.			
08-09-2021	Approved		Billable		Carnes, Tiffany		0.500	350.00	175.00
	Received a	nd read case filing	s; document review.						
08-10-2021	Approved		Billable		Nakamura, Suzy		1.800	150.00	270.00
			rivilege Log and emails D. Brothers (1.70).	s from and to D. Brot	hers (0.10); review and revise Interveno	rs' Response to			
08-10-2021	Approved		Billable		Brothers, Doug		3.300	600.00	1,980.00
	Revise Res	ponse to Motion to	o Strike; review privileg	je logs.					
08-11-2021	Approved		Billable		Brothers, Doug		1.900	600.00	1,140.00
	Final review	and edits of resp	onse to Motion to Strik	e; e-mail Knox couns	sel; review motion for summary judgmen	it pleadings.			
08-11-2021	Approved		Billable		Nakamura, Suzy		1.100	150.00	165.00
	Brothers (0				Strike Plea in Intervention and emails front to D. Brothers (0.50); email to client Z				
08-11-2021	Approved		Billable		Carnes, Tiffany		0.100	350.00	35.00
	Client comr	nunication regardi	ng upcoming hearing.						
08-12-2021	Approved		Billable		Carnes, Tiffany		3.000	350.00	1,050.00
	Drafting wo	rk on Motion for Pa	artial Summary Judgm	ent and gathering ex	hibits.				
08-12-2021	Approved		Billable		Nakamura, Suzy		0.700	150.00	105.00
	and Lea Do Sheet for C	wney Gallatin (0.2 ollins case and em	20); email Response to	Plaintiff's Motion to 3 0); review and downl	s Motion to Strike Plea in Intervention to Strike to Ryan Ong (0.10); review and do oad Docket Sheet for Parziale case and se (0.20).	ownload Docket			
08-12-2021	Approved		Billable		Brothers, Doug		2.600	600.00	1,560.00
	Hearing pre	paration and plead	ding review.						
08-13-2021	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Emails from	and to Daniel Bel	ll and Jeff Hansen rega	arding Zoom link (0.2	0).				
08-13-2021	Approved		Billable		Brothers, Doug		4.300	600.00	2,580.00

06-24-2022 15:30:40 Page 34 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All

View = Original From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Amount
Continge	ent									
Skyloft e										
1848-001 I		Ť								
1040-0011		ing; follow up;			; client communications.					
08-13-2021	Approved	ing, rollott up,	Billable		Horton, Russ			0.500	600.00	300.00
		eral securities law		; telephon	e conference with D. Brothers regarding sa	ime.		0.000		000.00
08-15-2021	Approved		Billable	· ·	Cardenas, Ann			2.800	350.00	980.00
		w regarding the is	sue of		; review and an	alysis of artic	cle on			
08-16-2021	Approved		Billable		Cardenas, Ann			4.800	350.00	1,680.00
	Research									
08-16-2021	Approved		Billable		Brothers, Doug			1.700	600.00	1,020.00
		ket sheets and ple	eadings; work on draft	motions.						
08-16-2021	Approved		Billable		Nakamura, Suzy			1.200	150.00	180.00
	download D Brothers (0.	ocket Sheet in Pa .10); review and do	rziale and email to D.	Brothers (0.10); rev t in Puleo and email	re Status Report and email to clients (0.10) iew and download Docket Sheet in Collins to D. Brothers (0.10); download pleading in D. Brothers (0.20).	and email to	D.			
08-17-2021	Approved		Billable		Nakamura, Suzy			0.400	150.00	60.00
			sham regarding Errata lize Intervenors' Third		e page (0.10); email to TSG Reporting and ntervention (.20).	Opposing C	Counsel			
08-17-2021	Approved		Billable		Brothers, Doug			1.900	600.00	1,140.00
	Work on an	nended pleading a	nd Docket Control Ord	der schedule.						
08-17-2021	Approved		Billable		Carnes, Tiffany			2.000	350.00	700.00
	Document r	eview; attention to	legal research questi	on with A. Cardenas	S.					
08-18-2021	Approved		Billable		Carnes, Tiffany			2.000	350.00	700.00
	Document r	review.								
08-18-2021	Approved		Billable		Cardenas, Ann			6.000	350.00	2,100.00
	Research to	support Intervend	ors' Motion for Partial :	Summary Judgment	on various issues:					
00 10 2021	Ammental		Dillable		· Cardenae Ann			C 500	250.00	2 275 00
08-19-2021	Approved	aa law raaaarah te	Billable	Mation for Dorticl Co	Cardenas, Ann			6.500	350.00	2,275.00
	Continue ca	ise iaw research io	Support intervenors	. Paruai S	ummary Judgment; research					
08-19-2021	Approved		Billable		Nakamura, Suzy			0.300	150.00	45.00
	• • •	view and finalize I	ntervenors' Third Ame	ended Plea in Interve						
08-20-2021	Approved		Billable		Nakamura, Suzy			2.000	150.00	300.00
	finalize Inte	rvenors' Third Ame		ition and emails fror	Brothers regarding Lawrence Samuels, re n and to D. Brothers (1.70); review and dow 0.30).					

06-24-2022 15:30:40 Page 35 of 101

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All

View = Original From 05-01-2018 To 06-24-2022

08-21-2021 Approv	oft d to re-pleading; review ( d task list. d leadings. d t.	Billable		Brothers, Doug  Brothers, Doug  Brothers, Doug  Cardenas, Ann  afting Intervenors' Motion for	Start Stop	3.900 0.600 0.600	600.00 600.00	2,340.00 360.00
Skyloft et al 184  1848-001 NP Sky  08-20-2021 Approv Attention  08-21-2021 Approv Work on  08-22-2021 Approv Review  08-22-2021 Approv Researd Judgme  08-23-2021 Approv Researd handling	oft d to re-pleading; review ( d task list. d leadings. d t.	California order and to- Billable Billable Billable		Brothers, Doug  Brothers, Doug  Cardenas, Ann	Dortial Summan	0.600	600.00	360.00
1848-001 NP Sky  08-20-2021 Approv Attention  08-21-2021 Approv Work on  08-22-2021 Approv Review  08-22-2021 Approv Researd Judgme  08-23-2021 Approv Researd Approv Researd handling	oft d to re-pleading; review ( d task list. d leadings. d t.	California order and to- Billable Billable Billable		Brothers, Doug  Brothers, Doug  Cardenas, Ann	Dortial Summan	0.600	600.00	360.00
1848-001 NP Sky  08-20-2021 Approv Attention  08-21-2021 Approv Work on  08-22-2021 Approv Review  08-22-2021 Approv Researd Judgme  08-23-2021 Approv Researd Approv Researd handling	oft d to re-pleading; review ( d task list. d leadings. d t.	California order and to- Billable Billable Billable		Brothers, Doug  Brothers, Doug  Cardenas, Ann	Dortial Summan	0.600	600.00	360.00
08-20-2021 Approv Attention 08-21-2021 Approv Work on 08-22-2021 Approv Review 08-22-2021 Approv Researd Judgme 08-23-2021 Approv Researd handling	to re-pleading; review ( ad task list. ad leadings. ad t.	California order and to- Billable Billable Billable		Brothers, Doug  Brothers, Doug  Cardenas, Ann	Dortial Summan	0.600	600.00	360.00
Attention 08-21-2021 Approv Work on 08-22-2021 Approv Review 08-22-2021 Approv Researc Judgme 08-23-2021 Approv Researc handling	to re-pleading; review ( ed task list. ed leadings. ed t.	California order and to- Billable Billable Billable		Brothers, Doug  Brothers, Doug  Cardenas, Ann	Dortial Summan	0.600	600.00	360.00
08-21-2021 Approv Work on 08-22-2021 Approv Review 08-22-2021 Approv Researd Judgme 08-23-2021 Approv Researd handling	task list.  d leadings. d t.	Billable Billable		Brothers, Doug  Cardenas, Ann	Dortial Summan	0.600		
08-22-2021 Approv Review 08-22-2021 Approv Researd Judgme 08-23-2021 Approv Researd handling	d leadings. d t. d	Billable	for purposes of dra	Cardenas, Ann	Dortial Summan		600.00	360.00
Review  08-22-2021 Approv Researd Judgme  08-23-2021 Approv Researd handling	leadings. od t. d	Billable	for purposes of dra	Cardenas, Ann	Dortial Summan		600.00	360.00
08-22-2021 Approv Researd Judgme 08-23-2021 Approv Researd handling	d t.		for purposes of dra	•	Dartial Summan	1.800		
Researd Judgme 08-23-2021 Approv Researd handling	t. d		for purposes of dr	•	Dartial Summan	1.800		
Judgme 08-23-2021 Approv Research	t. ed	Rillable	for purposes of dra	afting Intervenors' Motion for	Dortiol Cummon		350.00	630.00
Researc		Rillable		-	raidal Sulliffaty			
handling		Dillabic		Cardenas, Ann		4.500	350.00	1,575.00
		participate in conferen	nce call with D. Brothers, T.	; research Carnes, and T. Manassian to (.5).	discuss strategy for			
	d	Billable		Manassian, Taline		0.400	350.00	140.00
	D. Brothers regarding s			,				
08-23-2021 Approv	d	Billable		Carnes, Tiffany		4.000	350.00	1,400.00
Summa	document review statu	us and create related for	olders; document review.	•				
08-23-2021 Approv	d	Billable		Horton, Russ		1.500	600.00	900.00
Telepho	e conference with D. Br regarding same.	rothers regarding statu	ıs; review client materials; te	elephone conference with D. I	Brothers and			
08-23-2021 Approv	d	Billable		Brothers, Doug		4.700	600.00	2,820.00
Team ca	l; extensive document r	eview; telephone conf	erence with					
08-24-2021 Approv	d	Billable		Nakamura, Suzy		0.600	150.00	90.00
	and email to D. Brothe			ils to and from D. Brothers (.: parison report of First and Se				
08-24-2021 Approv	d	Billable		Brothers, Doug		6.700	600.00	4,020.00
Client co	mmunications; extensiv	e document review; wo	ork on research for motion;	review securities research.				
08-24-2021 Approv	d	Billable		Manassian, Taline		0.400	350.00	140.00
Call with	T. Carnes regarding no	n-party discovery proc	edure (.2); review rules on l	etters rogatory (.2).				
08-24-2021 Approv	d	Billable		Carnes, Tiffany		4.200	350.00	1,470.00
Client co	mmunications - status u	ipdate; document revie	ew .					
08-25-2021 Approv	d	Billable		Cardenas, Ann		4.500	350.00	1,575.00
Continu	drafting Intervenors' Mo	otion for Partial for Sur	mmary Judgment.					
08-25-2021 Approv	d	Billable		Carnes, Tiffany		6.000	350.00	2,100.00

06-24-2022 15:30:40

Page 36 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et									
-		4							
1848-001 N		_							
00.05.0004	Document r	eview.	D'II I I				0.400	050.00	05.00
08-25-2021	Approved	Darth and a second	Billable		Manassian, Taline		0.100	350.00	35.00
00.05.0004		Brothers regardin	<b>.</b>		D 11 D		5.000	000.00	0.000.00
08-25-2021	Approved		Billable		Brothers, Doug		5.000	600.00	3,000.00
22 25 2224		ocument review; r	nemo regarding docur	nent searches and rev			0.000	450.00	45.00
08-25-2021	Approved		Billable		Nakamura, Suzy		0.300	150.00	45.00
22 22 2224		load of TCG docu	ment production (0.30	).	5 " 5		0.400	000.00	0.000.00
08-26-2021	Approved		Billable		Brothers, Doug		6.100	600.00	3,660.00
22 22 2224		t motion; extensiv	e document review.		O T://		0.000	050.00	0.400.00
08-26-2021	Approved		Billable		Carnes, Tiffany		6.000	350.00	2,100.00
00 00 0004	Document r	eview.	D'II I I		N. 1		4 400	450.00	000.00
08-26-2021	Approved		Billable		Nakamura, Suzy		4.400	150.00	660.00
			regarding TCG docun Skyloft document Rev		continue download of TCG's fourth do	ocument production			
08-26-2021	Approved		Billable		Cardenas, Ann		5.000	350.00	1,750.00
	Research		(1	l.5); continue drafting l	ntervenors' Motion for Partial for Sumr	mary Judgment (3.5).			
08-27-2021	Approved		Billable		Cardenas, Ann		2.300	350.00	805.00
	Research	in su	pport of arguments as	serted in Intervenors' N	Notion for Partial Summary Judgment.				
08-27-2021	Approved		Billable		Carnes, Tiffany		3.000	350.00	1,050.00
	Attention to	Heider discovery	request; document rev	riew					
08-27-2021	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Defendants	First Set Discover	ry to Polk Intervenors,	Court Reporter's Certi	nd Jane Heider, Po k Intervenors' Initia fication of Deposition of Bill Madden, N email to D. Brothers (0.20).				
08-27-2021	Approved		Billable		Brothers, Doug		5.800	600.00	3,480.00
	Document r	eview and analysi	S.						
08-30-2021	Approved		Billable		Brothers, Doug		6.500	600.00	3,900.00
	Extensive d	ocument review a	nd extraction.						
08-30-2021	Approved		Billable		Nakamura, Suzy		4.800	150.00	720.00
	Download d	ocuments from Le	exbe for document revi	ew plan (4.80).					
08-30-2021	Approved		Billable		Carnes, Tiffany		4.500	350.00	1,575.00
	Targeted do	cument review.			•				
08-31-2021	Approved		Billable		Carnes, Tiffany		6.500	350.00	2,275.00
	Document r	eview and logging	; client communication	s regarding discovery					
08-31-2021	Approved		Billable		Nakamura, Suzy		3.600	150.00	540.00
06-24-2022 1	5:30:40							Page 37	of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Page 38 of 101

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e	et al 1848								
_	NP Skylot	ŧ							
	Review and Docket She	– I download Docke et in Parziale and	email to D. Brothers (	0.10); review and do	ls to and from D. Brothers (0.20); review a bwnload Docket Sheet in Puleo and email s to and from T. Carnes, email to D. Broth	to D. Brothers			
08-31-2021	Approved		Billable	• •	Brothers, Doug	,	6.200	600.00	3,720.00
	Extensive of	locument review a	nd analysis.		, 0				,
09-01-2021	Approved		Billable		Brothers, Doug		7.400	600.00	4,440.00
	Document i	review and extract	ion.		, 0				
09-01-2021	Approved		Billable		Carnes, Tiffany		6.300	350.00	2,205.00
	Client comr	nunication regardi	ng discovery response	es; document review	and gather specific documents for Doug	Brothers.			
09-01-2021	Approved		Billable		Cardenas, Ann		3.000	350.00	1,050.00
			y who knowingly partio ummary judgment.	cipates in trustee's b	oreach of fiduciary duties to beneficiaries; p	prepare argument to			
09-02-2021	Approved		Billable		Cardenas, Ann		5.300	350.00	1,855.00
			e trustee owed to bene by trustee as collatera		ch standards for conveyances involving tru	ustees (2.0);			
09-02-2021	Approved		Billable		Nakamura, Suzy		1.100	150.00	165.00
	from and to	D. Brothers (0.10		Depositions and Tria	Plante deposition transcript (0.10); telephoral and deposition exhibits (0.50); download				
09-02-2021	Approved		Billable		Brothers, Doug		6.900	600.00	4,140.00
					egarding setting up exhibit folders; telepho ence regarding SYL matter and follow up c				
09-03-2021	Approved		Billable		Nakamura, Suzy		1.500	150.00	225.00
	Emails to a deposition	nd from D. Brothe transcript and exhi	rs and Brian O'Donnel bits (0.50); continue a	with TSG Reportin	g regarding Mike Plante deposition transcroad of exhibits from Fuentez.(1.0).	ript and upload			
09-03-2021	Approved		Billable		Brothers, Doug		6.800	600.00	4,080.00
			logs; draft letter regard communication (.9).	ling challenges to p	rivilege claims (2.7); telephone conference	with Mick Rusing			
09-03-2021	Approved		Billable		Cardenas, Ann		4.000	350.00	1,400.00
		rvenors' Motion fo Ratings documer		gment to include cit	tes to Delaware law (3.0); review documer	its in Lexbe to			
09-03-2021	Approved		Billable		Horton, Russ		0.500	600.00	300.00
	Telephone	conference with D	. Brothers regarding p	rivilege issues; revie	ew client materials.				
09-03-2021	Approved		Billable		Carnes, Tiffany		6.000	350.00	2,100.00
	Document	review.							
09-06-2021	Approved		Billable		Manassian, Taline		2.800	350.00	980.00
00 04 0000								_	

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All View = Original From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001 I		4							
1040-0011		_			. (10)	е и			
					ion (1.3); email D. Brothers and S. Nakan email D. Brothers and S. Nakamura regar				
09-06-2021	Approved		Billable		Brothers, Doug		1.000	600.00	600.00
	Analyze sec	curities claims.							
09-07-2021	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Email from	D. Brothers regard	ding subpoena in Miss	ouri.					
09-07-2021	Approved		Billable		Carnes, Tiffany		4.800	350.00	1,680.00
	Attention to	Heider discovery	responses; document	review and exhibit o	organization; review production for privileç	ge request.			
09-07-2021	Approved		Billable		Nakamura, Suzy		1.200	150.00	180.00
	and email to	D. Brothers (0.20 on regarding privilent	0); draft letter to Steve	Skarnulis regarding	0.10); draft letter to Greg Noschese regar privilege log and email to D. Brothers (0. nails from D. Brothers and finalize letters	20); draft letter to			
09-07-2021	Approved		Billable		Brothers, Doug		4.300	600.00	2,580.00
			garding privilege log; onference with potentia		nas; telephone conference with Nelson co als to same.	ounsel and e-mail			
09-07-2021	Approved		Billable		Cardenas, Ann		3.000	350.00	1,050.00
	Review volu	ıminous documen	ts to locate appraisal i	eport for 2020.					
09-08-2021	Approved		Billable		Cardenas, Ann		1.000	350.00	350.00
	Research				and confer with Tiffany Carnes	regarding same.			
09-08-2021	Approved		Billable		Manassian, Taline		0.600	350.00	210.00
			subpoena (.1); call wit n (.1); emails to D. Wo		ng conflicts information (.1); emails with S cts information (.3).	. Nakamura			
09-08-2021	Approved		Billable		Nakamura, Suzy		0.600	150.00	90.00
	Patrick Cap	ital Markets (0.20)		. Carnes regarding i	mation and subpoenas to Citizens Commedacted Crisp production (0.20); telephosponses (0.20).				
09-08-2021	Approved		Billable		Carnes, Tiffany		6.500	350.00	2,275.00
	Gather and	organize exhibits;	confer on legal resea	rch issue with Ann C	Cardenas.				
09-08-2021	Approved		Billable		Brothers, Doug		2.200	600.00	1,320.00
	Attention to	client communica	tions.						
09-09-2021	Approved		Billable		Brothers, Doug		0.400	600.00	240.00
	Client comn	nunications.			, ,				
09-09-2021	Approved		Billable		Carnes, Tiffany		4.900	350.00	1,715.00
		view and logging	of intervenor produced	d documents.	· • •				
09-09-2021	Approved	33 0	Billable		Manassian, Taline		0.600	350.00	210.00
06-24-2022 1	15:30:40							Page	39 of 101

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All View = Original

								m 05-01-2018	View = Origina To 06-24-2022
Date		Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amoun
Continge	ent								
Skyloft e	t al 1848								
-	NP Skyloft								
10-10-001		ton regarding r	esearch needed ( 3):	review documents t	for Idaho subpoena (.2); email S. Nakamı	ura regarding			
	documents for s		cacaron necded (.a),	Teview documents i	or identi subpoeria (.2), email o. ivakami	ara regarding			
09-09-2021	Approved		Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Continue draftin	g Intervenors' l	Motion for Partial Sun	nmary Judgment.					
09-09-2021	Approved		Billable		Horton, Russ		0.800	600.00	480.00
	Receive and rev	view		; review client n	naterials.				
09-10-2021	Approved		Billable		Cardenas, Ann		2.000	350.00	700.00
	Research				for purposes of Motion for Partial Sun	nmary Judgment.			
09-10-2021	Approved		Billable		Carnes, Tiffany		5.000	350.00	1,750.00
	Organize and lo	g trial exhibits.							
09-10-2021	Approved		Billable		Nakamura, Suzy		0.900	150.00	135.00
	Collins and ema	il to D. Brother		T. Manassian regard	o D. Brothers (0.20); review and downloa ling Notice and Subpoena, review TRCP				
09-13-2021	Approved		Billable		Manassian, Taline		1.000	350.00	350.00
	Research								
09-13-2021	Approved		Billable		Carnes, Tiffany		6.100	350.00	2,135.00
	Document and o	deposition revie	ew in preparation for l	_isa Hartman depos	ition.				
09-13-2021	Approved		Billable		Nakamura, Suzy		1.200	150.00	180.00
					layton DeGiacinto and email to D. Brothe D. Brothers and T. Manassian (0.20).	ers (1.0); revise			
09-13-2021	Approved		Billable		Brothers, Doug		3.400	600.00	2,040.00
	Prepare for call;	review draft m	otion; work on discov	ery and subpoenas					
09-13-2021	Approved		Billable		Cardenas, Ann		4.000	350.00	1,400.00
	Include argumer and revise and p		aft for D. Brothers' re		clude in Intervenors' Motion for Partial Su	mmary Judgment			
09-14-2021	Approved		Billable		Brothers, Doug		3.800	600.00	2,280.00
	Emails regarding	g discovery an	d depositions; attention	on to PCM subpoen	a; document review.				
09-14-2021	Approved		Billable		Nakamura, Suzy		3.000	150.00	450.00
	(0.10); email fro	m and to D. Br e of Morris Doເ	others, revise deposit	tion notice of Clayto	ners and T. Carnes, email to Joanne Har n DeGiacinto (0.20); email from and to D Jane Heider's Response to Axonic's Dis	. Brothers, revise			
09-14-2021	Approved		Billable		Manassian, Taline		2.200	350.00	770.00
	retention of Miss	souri counsel (.	.1); review Missouri c	ounsel fee agreeme	ding Missouri procedure (.1); email D. Br ent and email D. Brothers regarding issue with R. Horton regarding research (.1).				

06-24-2022 15:30:40 Page 40 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
-	NP Skylof	it							
09-14-2021	Approved	<u> </u>	Billable		Carnes, Tiffany		6 800	350.00	2,380.00
00 11 2021	• • •	eview regarding r	privilege; document rev	iew in preparation for	•		0.000	000.00	2,000.00
09-15-2021	Approved		Billable		Carnes, Tiffany		6.200	350.00	2,170.00
	Review and	log client docum		ent communication; dra	aft discovery responses including reque	est for admissions,			,
09-15-2021	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Follow up w	vith D. Brothers re	garding Missouri coun	sel agreement.					
09-15-2021	Approved		Billable		Cardenas, Ann		2.700	350.00	945.00
	Draft Motion	n to Compel to Pla	aintiffs to produce bank	records and native a	counting files pursuant to agreed order	۲.			
09-15-2021	Approved		Billable		Brothers, Doug		0.400	600.00	240.00
	Work on ex	pert retention; fur	ther email regarding di	scovery.					
09-16-2021	Approved		Billable		Brothers, Doug		1.000	600.00	600.00
	Revise depo	osition notices; re	view motion to compel	draft					
09-16-2021	Approved		Billable		Cardenas, Ann		1.000	350.00	350.00
		revise Intervenor Brothers' review.	rs' Motion to Compel P	laintiffs to produce bar	nk records and native accounting files a	nd prepare final			
09-16-2021	Approved		Billable		Carnes, Tiffany		6.400	350.00	2,240.00
	Review and	redaction of clier	nt documents for produ	ction.					
09-16-2021	Approved		Billable		Nakamura, Suzy		2.900	150.00	435.00
	(0.10); orga of Clayton I deposition r D. Brothers DeGiacinto	nize documents s DeGiacinto and er notices (0.10); em and revise Depos and Brendan Mc	sent to expert and draft mail to opposing couns tails from and to D. Bro sition Notice of Brenda Cormick, email to oppo	log (0.60); emails fror el and Court Reporter thers and revise Depo n McCormick (0.10); fi sing counsel and Cou	download Return of Service of Subpoen and to D. Brothers, finalize Intervenor (1.10); telephone call from D. Brothers sition Notice of Morris Doueck (0.10); analize Deposition Notice for Morris Dourt Reporter (0.30); emails from and to Tonic's First Set of Discovery (0.40).	rs' Deposition Notice regarding emails from and to leck, Clayton			
09-16-2021	Approved		Billable		Manassian, Taline		0.400	350.00	140.00
	Emails with	Missouri counsel	regarding subpoena (.	1); research cases on	qualification or disqualification of deriva	ative counsel (.3).			
09-17-2021	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
		n and to Natalie B n McCormick (0.2		ng and D. Brothers reg	arding depositions of Clayton DeGiacin	to, Morris Doueck			
09-17-2021	Approved		Billable		Brothers, Doug		4.600	600.00	2,760.00
			Partial Summary Judg th Ann Cardenas.	ment; attention to dep	osition notices; review correspondence	regarding privilege			
09-20-2021	Approved		Billable		Nakamura, Suzy		0.600	150.00	90.00
		nd from D. Brothe and email to D. B		third production (0.30)	; review and download Docket Sheet fo	or Parziale, Puleo			

06-24-2022 15:30:40

Page 41 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skvloft e	et al 1848								
_	NP Skylo								
09-20-2021	Approved	_	Billable		Brothers, Doug		0.400	600.00	240.00
			mail to Axonic counsel.		,				
09-20-2021	Approved		Billable		Carnes, Tiffany		4.700	350.00	1,645.00
	Review and	d log client docume	ents for privilege and p	roduction.	•				
09-20-2021	Approved		Billable		Horton, Russ		0.400	600.00	240.00
	Review me	morandum regard	ing history of solicitatio	ns; telephone confer	rence with D. Brothers regarding same.				
09-20-2021	Approved		Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Revise Inte	ervenors' Motion fo	r Partial Sumamry Jud	gment per D. Brothe	rs' revisions.				
09-21-2021	Approved		Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Research a		ΓA to actions by Nelsor	n Parties and Axionic	for puposes of drafting Intervenors' Mot	ion for Partial			
09-21-2021	Approved		Billable		Nakamura, Suzy		1.700	150.00	255.00
	emails fron	n and to D. Brother		to experts, upload pl	pload pleadings and discovery to Dropbo eadings to Dropbox and email to John S n Lexbe.				
09-21-2021	Approved		Billable		Carnes, Tiffany		3.800	350.00	1,330.00
	Review and	d log client docume	ents for privilege and p	roduction.					
09-21-2021	Approved		Billable		Brothers, Doug		2.200	600.00	1,320.00
	Work throu	gh authority to trar	nsfer issues; e-mail reg	arding depositions; r	review Parziale plea in intervention.				
09-21-2021	Approved		Billable		Manassian, Taline		0.200	350.00	70.00
	Email D. W	oods regarding Mi	issouri subpoena (.1); e	email S. Nakamura r	egarding Idaho subpoena (.1).				
09-21-2021	Approved		Billable		Horton, Russ		0.300	600.00	180.00
	Review dra	ift summary; email	regarding same.						
09-22-2021	Approved		Billable		Carnes, Tiffany		7.500	350.00	2,625.00
	Identify, log	g, and organize tria	al exhibits; client comm	unication regarding	discovery responses.				
09-22-2021	Approved		Billable		Nakamura, Suzy		2.300	150.00	345.00
	Clayton De	:Giacinto (0.10); do zer and John Sims	ownload Motion for Adr	nission of Counsel P	download Jenny Lloyd letter to Clerk red ro Hac Vice (0.10); draft log of documen ft ST, NP Skyloft DST, and NP Skyloft IE	ts sent to Experts			
09-22-2021	Approved		Billable		Brothers, Doug		2.500	600.00	1,500.00
			vention; telephone con garding discovery issu		orton; review expert contract; review and	d comment on			
09-22-2021	Approved		Billable		Cardenas, Ann		3.000	350.00	1,050.00
	Research Motion for	Partial Summary J	udgment (1.0); prepare	analysis to include	for purposes of drain Motion for Partial Summary Judgment				

06-24-2022 15:30:40 Page 42 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Page 43 of 101

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
-	NP Skylo	ft							
09-23-2021	Approved	_	Billable		Cardenas, Ann		5.200	350.00	1,820.00
00 20 2021	Review and 4); researc	d analysis of privile h law to support ar roduction of Privile	ege log produced by Pl gument regarding defi	ciencies in Plaintiffs' p	respondence in preparation for drafting rivilege log (1.0); Draft Intervenors' Mo Partial Summary Judgment in accordar	tion to Compel ``	0.200	000.00	1,020.00
09-23-2021	Approved		Billable		Nakamura, Suzy		3.600	150.00	540.00
	Order Re N	Notion to Dismiss a		or Reconsideration and	ed - Reviewed, and Simmons - Review d emails from and to D. Brothers (0.20)				
09-23-2021	Approved		Billable		Carnes, Tiffany		7.700	350.00	2,695.00
	Continued	document review,	saving exhibits to file,	and updating logs.					
09-23-2021	Approved		Billable		Manassian, Taline		0.200	350.00	70.00
	Email S. M	echam regarding o	call (.1); call with D. Bro	others regarding status	s of Missouri subpoena (.1).				
09-23-2021	Approved		Billable		Brothers, Doug		3.200	600.00	1,920.00
	Attention to	discovery issues	and pleadings.						
09-23-2021	Approved		Billable		Manassian, Taline		1.100	350.00	385.00
	Research			•					
09-23-2021	Approved		Billable		Horton, Russ		0.900	600.00	540.00
	Attend con	ference call with	review client ma	aterials.					
09-24-2021	Approved	_	Billable		Manassian, Taline		1.400	350.00	490.00
	Woods reg	arding subpoena (	g motion to strike interv .3); email S. Nakamura and D. Woods regardir	a and D. Brothers rega	r call with Missouri counsel (.2); call wit ording Missouri process and timing (.2); 2).	th S. Mecham and D. ; review motion to			
09-24-2021	Approved		Billable		Brothers, Doug		5.800	600.00	3,480.00
			e Intervention; attention port; deposition notices		a regarding Patrick; Rule 11 Agreemer esentative categories.	nt regarding Nelson			
09-24-2021	Approved		Billable		Carnes, Tiffany		6.500	350.00	2,275.00
	Client corre	espondence; docur	ment and exhibit review	v, logging, and organiz	zation.				
09-24-2021	Approved		Billable		Nakamura, Suzy		4.000	150.00	600.00
	Carnes reg download of Skyloft Doo Agreement redline Inte	arding status of do documents from Le cument Review Pla regarding Patrick ervenors' Motion to	ocuments to download exbe regarding TCG Av an and downloads, ema Nelson withdrawal of S	from Lexbe (0.20); rev ware regarding DST - I ails to and from T. Car Special Appearance ar roduce Privilege Log (0	der's response to discovery (0.20); em rise response to discovery and email to Reviewed, emails from and to T. Carne nes regarding outstanding items (0.20) nd emails from and to D. Brothers (0.30 0.20); download Axonic Defendants' fo d email to D. Brothers	o T. Carnes (0.80); es (0.70); review ); draft Rule 11 0); review, revise and			
09-24-2021	Approved		Billable		Cardenas, Ann		2.500	350.00	875.00
	Review Pa	trick Nelson depos	sition for evidence to us	se in support of Interve	nors' Motion for Partial Summary Judg	gment.			

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All

View = Original From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		t							
09-26-2021	Approved	<u>.</u>	Billable		Brothers, Doug		1.700	600.00	1.020.00
00 20 2021	• • •	to opposing coun	sel; deposition prepara	ation.	Browners, Bodg		1.17 00	000.00	1,020.00
09-27-2021	Approved		Billable		Manassian. Taline		1.700	350.00	595.00
		on to strike interv	ention (.3); call with D. (.1); research	Brothers regarding	(.1); email D.	. Brothers regarding			
09-27-2021	Approved		Billable		Carnes, Tiffany		6.100	350.00	2,135.00
	Identify, rev	iew, log, and save	e exh bits to folders for	trial and deposition.	•				
09-27-2021	Approved		Billable		Brothers, Doug		1.700	600.00	1,020.00
		; work	on deposition preparati	on.					
09-27-2021	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Review and and D. Brot	finalize Lawrence hers and T. Carne	e Samuels and Jane Hes, email to opposing c	eider's Responses to [ ounsel (0.50).	Discovery, bates number document pro	oduction, emails to			
09-27-2021	Approved		Billable		Cardenas, Ann		2.000	350.00	700.00
	Continue re	view and analysis	of Patrick Nelson dep	osition for evidence to	support Motion for Partial Summary Ju	udgment.			
09-28-2021	Approved		Billable		Carnes, Tiffany		4.000	350.00	1,400.00
	Continued of	locument review,	saving exhibits to file,	and updating logs.					
09-28-2021	Approved		Billable		Nakamura, Suzy		3.200	150.00	480.00
	Emails from to D. Brothe	and to Samantha ers and T. Manass	a Ray regarding docum sian regarding	ent production, share	Dropbox folder with Samantha Ray (0.	.10); emails from and			
09-28-2021	Approved		Billable		Manassian, Taline		1.200	350.00	420.00
	Email with S	6. Mecham regard	ling subpoenas to Miss	ouri entity (.1); resear	ch requirements for	(1.1).			
09-28-2021	Approved		Billable		Brothers, Doug		4.500	600.00	2,700.00
	Review and issues; final	revise ize Motion.	; review and revis	se Motion for Partial S	ummary Judgment; correspondence re	egarding discovery			
09-28-2021	Approved		Billable		Cardenas, Ann		4.800	350.00	1,680.00
		erpts from Patrick r D. Brothers' revi		s evidence to support I	ntervenors' Motion for Summary Judgr	ment and prepare			
09-28-2021	Approved		Billable		Horton, Russ		0.400	600.00	240.00
	Review and	revise summary	for email rega	rding same.					
09-29-2021	Approved		Billable		Cardenas, Ann		2.900	350.00	1,015.00
			or Partial Summary Jud garding evidence to be		determine additional evidence to supp tion (.4).	oort motion (2.5);			
09-29-2021	Approved		Billable		Nakamura, Suzy		0.400	150.00	60.00

06-24-2022 15:30:40 Page 44 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Page 45 of 101

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
-	NP Skylof	it							
1040 001	Review and draft Index	revise Motion to	oits and email to D. Bro		others (0.20); email deposition exhibits to evise and finalize Intervenors' Motion to				
09-29-2021	Approved		Billable		Brothers, Doug		3.000	600.00	1,800.00
	Telephone	conference with (1); work on r		llow up communication	on (.7); finalize dgment (.8); review multiple pleadings a	nd e-mails (.5).			
09-29-2021	Approved		Billable		Carnes, Tiffany		5.800	350.00	2,030.00
	Document i	eview, de-duplicat	ting, logging, and savii	ng as potential exhib	its.				
09-30-2021	Approved		Billable		Carnes, Tiffany		5.000	350.00	1,750.00
	Continue re	view and logging	of intervenor productio	n.					
09-30-2021	Approved		Billable		Nakamura, Suzy		0.800	150.00	120.00
	to Compel I	Plaintiffs Nelson Pa 0.60); telephone c		Intervenors' First Re	( ); review and revise equest for Production, emails from and to ng available hearing dates for Motion to	D. Brothers and A.			
09-30-2021	Approved		Billable		Manassian, Taline		0.700	350.00	245.00
			egarding issuance of <sup>.</sup> Nakamura regarding s		our of state witnesses (.1); draft subpo	enas to Patrick			
09-30-2021	Approved		Billable		Brothers, Doug		6.600	600.00	3,960.00
	Close revie	w of discovery and	d pleadings; extensive	drafting and revision	s regarding motion.				
09-30-2021	Approved		Billable		Horton, Russ		0.500	600.00	300.00
	Receive an	d review TSG mot	ion for summary judgn	nent.					
10-01-2021	Approved		Billable		Nakamura, Suzy		2.500	150.00	375.00
	Agreement				at for TCG and DST, review file and Lex rs' latest production ( ); continue draft of				
10-01-2021	Approved		Billable		Brothers, Doug		5.200	600.00	3,120.00
	Extensive v	vork on Motion for	Partial Summary Judg	ment; exhibit review	; telephone conference regarding				
10-01-2021	Approved		Billable		Carnes, Tiffany		2.500	350.00	875.00
	Exhibit orga	anization.							
10-01-2021	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Email S. Na	akamura regarding	Missouri subpoena.						
10-01-2021	Approved		Billable		Cardenas, Ann		6.500	350.00	2,275.00
	accordingly	(2.5); revise Inter-		tial Summary Judgm	ors' Motion to Compel and revise Motior ent; research common law duty of good				
10-03-2021	Approved		Billable		Nakamura, Suzy		2.200	150.00	330.00

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All View = Original From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate		Amount
Conting	ent										
Skyloft e											
1848-001											
1040-001	Review em Custodian revise Sub	ails from T. Manas of Records and Co poena to Custodiar rkets and Notice of	orporate Representativ n of Records and ema	e for Patrick Capital Ma il to D. Brothers (0.10);	o Patrick Capital Markets, review and r arkets and Exhibits A, emails to T. Man draft Notice of Intent to Take Oral Dep ons of Patrick Capital Markets and ema	assian (1.0); osition of Pa	further trick				
10-03-2021	Approved		Billable		Manassian, Taline			0.300	350.00		105.00
	Emails with	S. Nakamura rega	arding subpoenas (.2)	; review subpoena draf	ts (.1).						
10-04-2021	Approved		Billable		Carnes, Tiffany			4.000	350.00		1,400.00
	Exhibit orga	anization and docu	iment review.								
10-04-2021	Approved		Billable		Nakamura, Suzy			5.400	150.00		810.00
	Notices and	d Subpoenas (0.20	)); continue draft of Ind	lex for Deposition Exhi as to Patrick Capital Ma		and telephor thers, review	ne calls , revise				
10-04-2021	Approved		Billable		Brothers, Doug			6.100	600.00		3,660.00
	Attention to	motions to compe	el; setting motion to str	ike; expert issues; exhi	ibits; other motions.						
10-04-2021	Approved		Billable		Manassian, Taline			1.300	350.00		455.00
				and calls with S. Nakar esearch damages mod	mura regarding deposition notices and els (.8).	subpoenas (.	2); call				
10-04-2021	Approved		Billable		Cardenas, Ann			6.300	350.00		2,205.00
	Revise Inte Production		r Partial Summary Jud	lgment (4.0); revise Mo	tion to Compel Plaintiffs' Responses to	Requests fo	Г				
10-05-2021	Approved		Billable		Cardenas, Ann			1.500	350.00		525.00
	Final revisi	ons to Intervenors'	Motion for Partial Sun	nmary Judgment.							
10-05-2021	Approved		Billable		Nakamura, Suzy			0.000	150.00		0.00
	from and to Records fo	D. Brothers (   ); r r Patrick Capital M	eview Subpoenas and arkets and emails to a	I Exhibit to Patrick Cap and from D. Brothers an	nses to Request for Production, teleph ital Markets and draft Notice of Deposit Id T. Manassian, telephone call from T. nagement, NP Skyloft Equity and emai	tion for Custo Manassian (	dian of				
10-05-2021	Approved		Billable		Manassian, Taline			2.900	350.00		1,015.00
	Review dra	ft motion for summ	nary judgment (2.8); er	mails with S. Nakamura	a regarding subpoena to Patrick Capita	Markets (.1)	)_				
10-05-2021	Approved		Billable		Brothers, Doug			5.600	600.00		3,360.00
	Work on de	eposition preparation	on; finalize motion to c	ompel and work on dis	positive motion; communications with o	opposing cou	nsel.				
10-05-2021	Approved		Billable		Carnes, Tiffany			5.000	350.00		1,750.00
	Document	review and exh bit	organization.		-						
10-06-2021	Approved		Billable		Carnes, Tiffany			4.900	350.00		1,715.00
06-24-2022	15:30:40								Page	46	of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
_	NP Skylot	F#							
1040-001		_	and arganization.						
10.00.0001		and exhibit review	· · ·		Nakamanna Cumu		4 000	150.00	270.00
10-06-2021	• • •	a and to D. Duetha	Billable	lut-u N	Nakamura, Suzy	LLC Nalaan	1.800	150.00	270.00
	Brothers Pr	roperty Manageme Subpoena for Patric	ent, Inc., and Nelson P	artners, LLC (0.40);	otice of Depositions of NP Skyloft Equity emails from and to D. Brothers, revise Do nd redline Intervenors' Motion to Compel	eposition Notice and			
10-06-2021	Approved		Billable		Brothers, Doug		4.400	600.00	2,640.00
	Review and dispositive	d revise deposition motion comments	n notices and associate ; prepare for schedulir	ed document requesting call; attention to do	s; work on motion regarding privilege cla ocument review items; call with counsel a	iims; work on and follow up.			
10-06-2021	Approved		Billable		Manassian, Taline		0.400	350.00	140.00
		Cardenas regard ate and location (.1		with D. Brothers reg	arding Missouri subpoenas (.1); email D.	. Woods regarding			
10-06-2021	Approved		Billable		Cardenas, Ann		4.100	350.00	1,435.00
	Revise Axo	onic Motion to Com	npel Hearing on Axoni	c's Assertion of Privile	ege.				
10-07-2021	Approved		Billable		Cardenas, Ann		2.500	350.00	875.00
	Revisions to	o Intervenors' Mot	ion for Partial Summa	ry Judgment.					
10-07-2021	Approved		Billable		Nakamura, Suzy		2.000	150.00	300.00
	(0.10); ema (0.30); ema production,	ails from and to D. ails from D. Brothe	Brothers, review, revis rs, emails to and from	se and redline Interve Samantha Ray rega	ervenors' Motion to Compel the Nelson F enors' Motion for Hearing on Axonic's Cla rding depositions, deposition exhibits and els and Jane Heider regarding Verification	aims of Privilege d document			
10-07-2021	Approved		Billable		Carnes, Tiffany		4.900	350.00	1,715.00
	Review nor	n-privileged supple	emental document pro	duction for search ter	rms; organize and download potential ex	hibits.			
10-07-2021	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Emails with	D. Brothers regar	rding Missouri pleading	gs.					
10-07-2021	Approved		Billable		Brothers, Doug		2.300	600.00	1,380.00
	Review mo	tion to compel with	h exhibits; review Cou	nty Court of Law #2	order; team call regarding status.				
10-08-2021	Approved		Billable		Nakamura, Suzy		3.900	150.00	585.00
	Miller (3.30	); emails to and fro		revise Subpoenas ar	cripts and Axonic document production to nd Notices to Patrick Capital Markets (0.5				
10-08-2021	Approved		Billable		Manassian, Taline		0.900	350.00	315.00
	notices (.1)	; email S. Nakamu		ubpoenas and notices	oods regarding subpoena (.1); review Te s (.1); email with S. Nakamura regarding				
10-08-2021	Approved		Billable		Carnes, Tiffany		3.000	350.00	1,050.00

06-24-2022 15:30:40 Page 47 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Page 48 of 101

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
-	NP Skylo								
1040-001		_	ent organization and r	eview					
10-08-2021	Approved		Billable	eview.	Brothers, Doug		0.800	600.00	480.00
10-00-2021			review of Parziale Mo	tion for Partial Summ	, ,		0.000	000.00	+00.00
10-08-2021	Approved		Billable		Cardenas, Ann		2.500	350.00	875.00
				n for Partial Summary	Judgment and continue revisions to me	otion.			
10-09-2021	Approved	• • • • • • • • • • • • • • • • • • • •	Billable		Brothers, Doug		2.800	600.00	1,680.00
		munications; close	review of Parziale Mo	tion for Summary Jud	dgment; attention to PCM subpoena; att	ention to Sol y Luna			,
10-11-2021	Approved		Billable		Brothers, Doug		0.200	600.00	120.00
	Telephone	conference with A	nn Cardenas regardin	g motion.					
10-11-2021	Approved		Billable		Nakamura, Suzy		1.400	150.00	210.00
	D. Brothers Lenders' M	s (0.30); download lotion for Partial Su lders' MPSJ (0.10);	Parziale Motion for Pa mmary Judgment Aga	rtial Summary Judgn inst Plaintiffs Lacking	et in Parziale, Collins, Puleo and Appeal nent and Appendix (0.10); download TC g Capacity (0.10); download Notice of H letter to District Clerk and Subpoenas to	G Skyloft & Axonic earing on TCG &			
10-11-2021	Approved		Billable		Manassian, Taline		0.200	350.00	70.00
	Review Mis	ssouri subpoenas (	.1); email S. Nakamur	a regarding changes	to cover letter (.1).				
10-11-2021	Approved		Billable		Cardenas, Ann		5.500	350.00	1,925.00
	Revisions t	o Intervenors' Moti	on for Partial Summar	y Judgment.					
10-11-2021	Approved		Billable		Carnes, Tiffany		0.100	350.00	35.00
	Receive ar	nd save client docu	ments.						
10-12-2021	Approved		Billable		Carnes, Tiffany		6.100	350.00	2,135.00
		munication regardii Itiple filings;	ng 1031 exchanges; C	continue project of ga	thering potential exhibits identified in dis	scovery review plan;			
10-12-2021	Approved		Billable		Brothers, Doug		2.800	600.00	1,680.00
		setting motion to depositions.	compel; review docket	sheets from other m	atters; e-mail regarding deposition logis	tics; initial document			
10-12-2021	Approved		Billable		Nakamura, Suzy		1.200	150.00	180.00
	regarding h Compel an Ready forn and Time S regarding s	nearing on Motion t d Motions for Sand n (0.30); emails fro Schedule Order (0.2	o Compel and Sanctions, voice mail mess m and to D. Brothers, 20); telephone call fror to and from D. Brothe	ns, telephone call wi age to Warren Vavra download Notice of A n Warren Vavra rega	unce Ready form (0.30); emails to and the Court Administrator regarding setting regarding same, draft Notice of Hearin appeal and Notification from US Court of rding setting hearing and emails to and of Appeal and Notification from Court (0.20).	hearing on Motion to g and Announce f Appeals 9th Circuit from D. Brothers			
10-13-2021	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	45.00.40							_	

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Page 49 of 101

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
_	NP Skylot	F#							
1040-001		_	o filo TCC 9 Avenie I e	andere! Exhibite Under	Seel (0.10				
10-13-2021		violion for Leave to	Billable	enders' Exhibits Under	,		1.800	600.00	1 000 00
10-13-2021	Approved	erding diagovery or		whihit and denocition r	Brothers, Doug preparation; attention to	(.3).	1.000	000.00	1,080.00
10-13-2021	ŭ	irding discovery ar	Billable	exhibit and deposition p	Manassian, Taline	(.3).	0.100	350.00	35.00
10-13-2021	Approved	A Cardonas roga	arding motion for sumr	nary judament	Manassian, railine		0.100	330.00	35.00
10-13-2021	Approved	A. Cardenas rega	Billable	nary judgment.	Carnes, Tiffany		7.000	350.00	2,450.00
10-13-2021	• •	roject nulling and	organizing identified p	otential exhibite	Carries, Tiliarly		7.000	330.00	2,430.00
10-14-2021	Approved	roject pulling and	Billable	oteritiai exhibits.	Cardenas, Ann		3.000	350.00	1,050.00
10-14-2021		rvenors' Motion fo		lament (1.5): look un in	formation for entities/investors invovle	d in Sol V Luna (1.5)	3.000	330.00	1,030.00
10-14-2021	Approved	TVCTIOTS WIDGOTT TO	Billable	iginiciti (1.5), look up ili	Nakamura, Suzy	a iii ooi 1 Luna.(1.0).	1.200	150.00	180.00
10-14-2021	• •	unload of Nelson		on emails from and to	T. Carnes, emails to and from Courtne	av Sauer regarding	1.200	130.00	100.00
	link for dow NP Skyloft	nload (0.30); dowi	nload Nelson supplem T, and NP Skyloft IB a	ental production, extra	t and upload ( ); revise Intervenors' D. Brothers (0.80); email to D. Brother	Deposition Notice of			
10-14-2021	Approved	,	Billable		Carnes, Tiffany		7.300	350.00	2,555.00
	Download r	new documents pr	oduced; continue logg	ing intervenor production	on for privilege and supplemental prod	luction purposes.			,
10-14-2021	Approved		Billable		Manassian, Taline		0.300	350.00	105.00
	Review mo	tion for summary j	udgment.						
10-14-2021	Approved		Billable		Brothers, Doug		5.000	600.00	3,000.00
	Deposition	preparation; comn	nunications with couns	sel regarding special as	signment of judge; review recent prod	luction issues.			
10-15-2021	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails from	n and to Samantha	Ray regarding depos	itions and exhibits and	document production upload (0.10).				
10-15-2021	Approved		Billable		Brothers, Doug		4.400	600.00	2,640.00
	Deposition	preparation and a	ssemble exhibits.		-				
10-15-2021	Approved		Billable		Manassian, Taline		1.500	350.00	525.00
	Review mo of subpoen motion (.2).	a (.2); review ema	udgment (.8); call A. C il from Idaho court and	cardenas regarding mo d email S. Nakamura re	tion (.1); call Idaho court regarding progarding the same (.2); call with A. Car	ocedure for issuance rdenas regarding			
10-15-2021	Approved		Billable		Carnes, Tiffany		7.800	350.00	2,730.00
		supplemental prod tal production purp		rtners; continue to revi	ew and log intervenor production for p	rivilege review and			
10-15-2021	Approved		Billable		Cardenas, Ann		2.000	350.00	700.00
			udgment accordingly.	revisions for Interveno	rs' Motion for Partial Summary Judgm	ent and revise			
10-16-2021	Approved		Billable		Brothers, Doug		2.000	600.00	1,200.00
	Deposition	preparation.							

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
1848-001		F <del>t</del>							
10-17-2021	Approved	<u></u>	Billable		Brothers, Doug		4.000	600.00	2.400.00
10-17-2021	• •	nreparation: e-ma	ils regarding depositio	n notices	Brothers, Doug		4.000	000.00	2,400.00
10-17-2021	Approved	ргерагацоп, е-та	Billable	ii iiotices.	Nakamura, Suzy		0.200	150.00	30.00
10-17-2021	Emails fron	n and to D. Brothe NP Skyloft IB, DS	rs regarding New York	deposition exhibits, o	cross notice of deposition for Lisa Hartma	an and deposition	0.200	100.00	30.00
10-18-2021	Approved	ra Grylon IB, BG	Billable		Brothers, Doug		4.800	600.00	2,880.00
10 10 2021		preparation and a		matter: review and re	vise dispositive motion.		1.000	000.00	2,000.00
10-18-2021	Approved	p	Billable		Carnes, Tiffany		7.000	350.00	2,450.00
		review and organi			<b>,</b>				_,
10-18-2021	Approved	<b>.</b>	Billable		Nakamura, Suzy		9.500	150.00	1,425.00
	Emails and exhibits, tel	ephone call to The	omas Rutledge at Rair	ımaker, upload to Raiı	ng exh bits, compile and download exhib nmaker portal, emails to and from Thoma Carnes regarding Glacier bank (9.50).	its and deposition as Rutledge, Mark			,
10-18-2021	Approved		Billable		Cardenas, Ann		5.500	350.00	1,925.00
	Continue re	visions for Interve	nors' Motion for Partia	l Summary Judgment	per conversation with Taline Manassian	ı.			
10-19-2021	Approved		Billable		Cardenas, Ann		2.300	350.00	805.00
	Prepare ex	hibits in support of	Skyloft Intervenors' M	lotion for Summary Ju	idgment.				
10-19-2021	Approved		Billable		Carnes, Tiffany		5.500	350.00	1,925.00
	Pull specific	documents for de	eposition exhibits; com	plete tracing project r	equested by D. Brothers for Sol Y Luna	Funds.			
10-19-2021	Approved		Billable		Nakamura, Suzy		0.800	150.00	120.00
	from D. Bro to Patrick C	others (0.30); ema Capital Markets and	ils from and to D. Brot	hers regarding hearin and T. Manassian (0.	Rainmaker portal, email to Thomas Rutle g on Motion to Compel (0.10); download 20); emails from and to T. Manassian, er ital Markets (0.20).	Subpoenas issued			
10-19-2021	Approved		Billable		Brothers, Doug		4.400	600.00	2,640.00
	Final reviev	v and edits to Moti	on for Partial Summar	y Judgment; extensive	e deposition preparation.				
10-19-2021	Approved		Billable		Manassian, Taline		0.300	350.00	105.00
	Email S. Na	akamura regarding	Missouri subpoena (.	1); review motion for	summary judgment (.2).				
10-20-2021	Approved		Billable		Nakamura, Suzy		3.500	150.00	525.00
	from and to Amended N	Bethany Simmon Notice of Hearing (	s and TSG Reporting 0.10); download TCG'	regarding Zoom link, o s Amended Depositio	Compel and emails to and from D. Brothe court reporter and videographer (0.20); d n Notice of Nelson Brothers Property Ma Cross Notice of Deposition of Lisa Hartr	lownload TCG's nagement (0.10);			
10-20-2021	Approved		Billable		Brothers, Doug		5.500	600.00	3,300.00
	Deposition	preparation and a	ssemble exhibits.						

06-24-2022 15:30:40 Page 50 of 101

## George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
_	NP Skylo	f+							
		_	Dillabla		Compan Tifforni		7 000	250.00	2.450.00
10-20-2021	Approved		Billable	intonionor productio	Carnes, Tiffany n; assist Ann Cardenas in locating exhibit f	for Motion, locato	7.000	350.00	2,450.00
	review, and				n, assist Ann Cardenas in locating exhibits locating additional documents for exhibits				
10-20-2021	Approved		Billable		Cardenas, Ann		2.500	350.00	875.00
	Review de Judgment	position of Michael (1.5); finalize exhib	Plant and Heath Bash oits for Motion for Partia	nam for additional evi al Summary Judgme	idence in support of Intervenors' Motion for nt (1.3).	Partial Summary			
10-21-2021	Approved		Billable		Nakamura, Suzy		4.600	150.00	690.00
	Woods reg Intervenors regarding of Summary of and emails regarding s	arding deposition of Motion to Compe copy service in New Judgment (0.10); e with Tremayne Ha	of Patrick Capital Mark el and Sanctions and e w York (0.10); emails fi mails from and to Mari aynes regarding depos	ets (0.10); telephone mails to and from D. rom and to A. Carder tha Ortiz regarding vi ition exh bits for New	Public Notice of Motion (1.50); emails from a call to Court Administrator regarding setting Brothers (0.20); emails from and to Robert nas and T. Carnes regarding exhibits to Modeographer for New York depositions (0.2) and York depositions and emails to D. Brothers (0.20) osition exhibits, email to D. Brothers (0.20)	ng hearing on t Villalobos otion for Partial 0); telephone calls rs and T. Carnes			
10-21-2021	Approved		Billable		Carnes, Tiffany		6.000	350.00	2,100.00
	Document	review, logging, ar	nd organizing.						
10-21-2021	Approved		Billable		Brothers, Doug		4.100	600.00	2,460.00
	Extensive of	deposition prepara	tion; telephone conference	ence with Nelson cou	ınsel.				
10-22-2021	Approved		Billable		Brothers, Doug		5.700	600.00	3,420.00
	Telephone 4)	conference regard	ling discovery matters	and deposition prepa	aration; telephone conference counsel rega	arding Sol y Luna (.			
10-22-2021	Approved		Billable		Carnes, Tiffany		4.000	350.00	1,400.00
	Downloadii	ng non-privileged s	supplemental production	on; continue review a	nd logging of intervenor production.				
10-22-2021	Approved		Billable		Nakamura, Suzy		5.500	150.00	825.00
	regarding s depositions Brothers (0	same (0.20); downl s (3.40); revise and 0.30); revise and fir	load multiple Cross-No d finalize deposition no	otices for depositions tices for NP Skyloft I In Notices for NP Sky	ns, emails to and from TSG Reporting and (1.30); continue compiling final exhibits for B, NP Skyloft DST and NP Skyloft Equity a loft Equity, Nelson Brothers Property Mana	r New York and email to D.			
10-22-2021	Approved		Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Prepare ap	pendix and table o	of contents in support of	of Intervenors' Motion	r for Partial Summary Judgment.				
10-23-2021	Approved		Billable		Nakamura, Suzy		9.900	150.00	1,485.00

06-24-2022 15:30:40 Page 51 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

							FIC	m 05-0 1-20 1	8 10 06-24-2022
Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
	t al 1848								
	NP Skylof	•							
	Download Ir Agreed Ord Skyloft First Discovery, N Response to Skyloft ST S Skyloft First	tervenor James P er Granting Motion Set Discovery, Ne NP Skyloft DST's S o TCG Skyloft First Second Amended F Set Discovery, Ax Objections to Inte	I for Admission Pro Ha elson Brothers Propert Second Amended Res It Set Discovery, NP S Response to TCG Sky conic Defendants' Obje	ac Vice of Robert Bity Management, Inc ponse to TCG Skyl- kyloft JV Second Ai loft First Set Discovections to Plaintiffs'	n's Original Answer and Withdrawal of Sp frownlie, Nelson Partner's Second Amend c. Second Amended Response to TCG S loft First Set Discovery, NP Skyloft Equity mended Response to TCG Skyloft First Se very, Patrick Nelson Second Amended R Cross Notice of Deposition of Brendan Manda McCormick (1.30); continue compiling de	ded Response to TCG kyloft First Set / Second Amended Set Discovery, NP desponse to TCG /// McCormick, Axonic			
10-23-2021	Approved		Billable		Brothers, Doug		1.200	600.00	720.00
	Deposition p	oreparation.							
10-24-2021	Approved		Billable		Brothers, Doug		6.500	600.00	3,900.00
	Travel to NY	C and extensive d	deposition preparation	( <u>-</u>					
10-24-2021	Approved		Billable		Nakamura, Suzy		0.800	150.00	120.00
	(0.20); emai (0.20); emai	Is to and from L No Is to and from L. N	orton and D. Brothers lorton and D. Brothers	regarding Notice of regarding finalizing	bits and emails from and to D. Brothers of Hearing on Motion to Compel and Motiog Notice of Depositions for NP Skyloft, Derk deposition exhibits (0.20); continue of the state	on for Sanctions ST, ST and IB (0.20);			
10-24-2021	Approved		Billable		Norton, Laura		2.700	125.00	337.50
	Nakamura a DST) and ei NP Skyloft I	ınd D. Brothers reç mail to D. Brothers B (.60); prepare ar	garding deposition not (.80); make final edit	tices to finalize and s, finalize and serve t Reporter for hand	d send draft notice of hearing (1.0); email serve; review and update deposition noti e the deposition notices of NP Skyloft DS lling the depositions of NP Skyloft DST, N For Sanctions (.10)	ices in Skyloft (IB, ST, ST, NP Skyloft ST, and			
10-25-2021	Approved	,.	Billable		Nakamura, Suzy		0.800	150.00	120.00
			rting regarding Zoom of Clayton DeGiacinto		depositions in New York (0.10); downloa	d James Parziale's			
10-25-2021	Approved		Billable		Brothers, Doug		3.700	600.00	2,220.00
	Telephone of	conference with ex	pert regarding damag	jes issues; review e	e-mails; deposition preparation and exhib	it review.			
10-25-2021	Approved		Billable		Cardenas, Ann		1.600	350.00	560.00
	Revise appe	endix and table of	comtents per D. Broth	ers' instruction.					
10-25-2021	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Continue re	viewing and loggin	g production.						
10-26-2021	Approved		Billable		Carnes, Tiffany		5.300	350.00	1,855.00
	Review sup	plemental producti	on.						
10-26-2021	Approved		Billable		Nakamura, Suzy		0.000	150.00	0.00
	Emails from	and to TSG Repo	rting regarding depos	itions of Morris Dou	ieck				
	Approved		Billable		Brothers, Doug		11.000	600.00	6,600.00

06-24-2022 15:30:40 Page 52 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Amount
Conting	ent									
Skyloft e										
1848-001		ft								
101001		_	n and attend McCormi	ck deposition: review	and revise dispositive motion.					
10-27-2021	Approved		Billable	,	Brothers, Doug			7.000	600.00	4.200.00
	Attend Dou	eck deposition; pro Sol y Luna matter (	•	deposition; extensive	review on Motion for Partial Summary	Judgment; ca	II			,
10-27-2021	Approved		Billable		Carnes, Tiffany			6.100	350.00	2,135.00
	Confer with	Kelly Seabolt on	filing items; revise D. E	Brothers' declaration f	or filing; continue upload, review, and lo	gging of prod	uction.			
10-27-2021	Approved		Billable		Seabolt, Kelly			0.200	150.00	30.00
	Draft Decla	ration of D. Brothe	ers (.2).							
10-28-2021	Approved		Billable		Seabolt, Kelly			0.300	150.00	45.00
	Create drop	obox link and uploa	ad appendix and exh b	oits (.3).						
10-28-2021	Approved		Billable		Brothers, Doug			12.000	600.00	7,200.00
	Attend DiG	iancinto depositior	n; draft proposed Arizo	na agreement; travel	to Austin.					
10-28-2021	Approved		Billable		Carnes, Tiffany			5.400	350.00	1,890.00
	Confer with document r	K. Seabolt on filin	ng Motion for Summar I exhibits in supplemer	/ Judgment; speak wi ntal production.	th client Tessier; draft work product mer	morandum;				
10-29-2021	Approved		Billable		Brothers, Doug			2.200	600.00	1,320.00
	Review ma	terials regarding M	/lotion to Str ke; organi	ze deposition materia	ls.					
10-29-2021	Approved		Billable		Cardenas, Ann			1.000	350.00	350.00
	Create tabl	e tracking appeara	ance by parties.							
10-29-2021	Approved		Billable		Nakamura, Suzy			0.400	150.00	60.00
					ment, telephone calls with Court Admining deposition transcripts (0.10).	istrator's office	Э			
10-29-2021	Approved		Billable		Manassian, Taline			0.100	350.00	35.00
	Email D. Br	others regarding N	Missouri subpoena.							
10-30-2021	Approved		Billable		Brothers, Doug			0.900	600.00	540.00
	work on mo	otion to strike strate	egy		-					
11-01-2021	Approved		Billable		Brothers, Doug			3.200	600.00	1,920.00
	Telephone Agreement		nlie and R. Horton; dra	ft reply; re-mails rega	rding production; work on Sol y Luna ma	atter Rule 11				
11-01-2021	Approved		Billable		Manassian, Taline			1.300	350.00	455.00
			ng motion to seal (.1); ı R. Horton regarding rep		or sealing court records (.8); email D. Bro eply brief (.2).	others regardi	ing			
11-01-2021	Approved		Billable		Nakamura, Suzy			1.600	150.00	240.00

06-24-2022 15:30:40 Page 53 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
-	NP Skylof	ft							
	Emails from Contact Info exhibits (0.	n and to D. Brother ormation Sheet for 10); emails from ar	11/4 hearing and em	ail to Della Duett and npile and prepare ext	regarding hearing and Rules and Proce d opposing counsel (0.30); email K. Seab n bits for hearing (0.50); review and revis	olt regarding hearing			
11-01-2021	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Review and	report to Doug Br	others on summary o	f contents of recent p	production; client update and update port	tal.			
11-02-2021	Approved		Billable		Nakamura, Suzy		5.700	150.00	855.00
	Patrick Cap Brothers (0 (0.30); draft marking exl Markets Co (0.30); draft	oital Markets (0.10) .20); finalize Interv t Order Granting In hibits for 11/4 hear prporate Represent t Witness and Exhi	i; emails from and to I renors' Reply Brief in S stervenors Motion to S ring and emails to and tative and Custodian o	<ol> <li>Brothers regarding Support of Their Moti Strike Parziale Interve I from D. Brothers reg of Records Subpoena ant Pleadings, uploag</li> </ol>	telephone call from T. Manassian regarding hearing, draft email to Brent McCabe at on to Strike Parziale Intervention and email to D Brothers (0.20); congarding same (2.50); review Exhibit A for as and emails to and from D. Brothers are d Exhibits, Pleadings and Committee Co	nd email to D. nail to D. Brothers ntinue compiling and Patrick Capital nd T. Manassian			
11-02-2021	Approved		Billable		Manassian, Taline		1.900	350.00	665.00
	<ol><li>call with regarding s</li></ol>	D. Brothers regard ubpoena (.1); revis	ding sealing and subp	oena issue (.1); call	amura regarding Missouri subpoenas (.1) with S. Mecham regarding subpoenas (. attorneys' fees in derivative actions (.4); o	1); email D. Brothers`			
11-02-2021	Approved		Billable		Carnes, Tiffany		5.100	350.00	1,785.00
	Reviewing documents.		ganizing for upcoming	hearing; receive and	d save documents to file and created file	for expert review of			
11-02-2021	Approved		Billable		Brothers, Doug		3.500	600.00	2,100.00
	Prepare for Agreement		n preparation for Nels	son depositions; mee	et and confer regarding discovery issues;	revise Rule 11			
11-03-2021	Approved		Billable		Manassian, Taline		2.600	350.00	910.00
	Mecham re revise notic review final	garding subpoena es of deposition an subpoena (.1); ca	(.1); email D. Brother nd email D. Brothers r Il with K. Seabolt rega	rs regarding draft doo regarding the same ( arding final subpoena	eabolt regarding subpoena (.4); email D. suments (.1); call with D. Brothers regard .4); emails with D. Woods regarding notion (.2); emails and calls with K. Seabolt rest. Brothers regarding the same (.2).	ing subpoena (.1); ce of deposition (.2);			
11-03-2021	Approved		Billable		Brothers, Doug		6.000	600.00	3,600.00
		hearing; e-mails r bank statement pr		discovery disputes;	prepare for Nelson party and Hartman d	epositions. T/c expert			
11-03-2021	Approved		Billable		Carnes, Tiffany		4.000	350.00	1,400.00
	Document i	review and organiz	ation; communication	s from client; call wit	h consulting expert.				
11-03-2021	Approved		Billable		Brothers, Doug		0.800	600.00	480.00

06-24-2022 15:30:40 Page 54 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	gent								
Skyloft	et al 1848								
	NP Skylo	ft							
11-03-2021			Billable		Seabolt, Kelly		1.300	150.00	195.00
	Phone call regarding b	ox link for hearing	ng subpoena processin naterial upload (.2); e dings to dropbox link fo	mail all counsel with	ter for D. Brothers (.2); emails to and from hearing material (.2); upload exhibits, e	om Ms. Duett exh bit list, witness			
11-04-2021	Approved		Billable		Cardenas, Ann		0.900	350.00	315.00
	Assist D. B	rothers in prepara	tion of Sol y Luna Rule	11 Agreement.					
11-04-2021	Approved		Billable		Manassian, Taline		0.800	350.00	280.00
	Emails with S. Seabolt	n K. Seabolt regard regarding notices	ding notices (.1); review and letter (.1); review t	v notices (.3); revise inal notices and lette	notice and email K. Seabolt regarding re r (.1).	evision (.2); call with			
11-04-2021	Approved		Billable		Carnes, Tiffany		6.000	350.00	2,100.00
	Organize, printing.	oull, and print print	ed deposition exh bits	for upcoming deposit	ions; organize Hartman deposition exh	bits and prepare for			
11-04-2021	Approved		Billable		Brothers, Doug		4.500	600.00	2,700.00
	Attend hea	ring on Motion to S	Strike; follow up; attent	ion to exhibits for Nel	son depositions.				
11-05-2021	Approved		Billable		Carnes, Tiffany		4.500	350.00	1,575.00
			of bank statements for due from a different pa		n; respond to several client emails; atte  N.	ention to court			
11-05-2021	Approved		Billable		Brothers, Doug		4.400	600.00	2,640.00
	Preparation	n for Nelson entity	depositions.						
11-07-2021	Approved		Billable		Brothers, Doug		0.400	600.00	240.00
	Attention to	rescheduling dep	ositions; communication	on with expert.					
11-08-2021	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Email D. Bı	rothers regarding	service of notices on P	atrick Capital Markets	S.				
11-08-2021	Approved		Billable		Brothers, Doug		3.400	600.00	2,040.00
			uling; document review with PCM attorney; wo		ce with Nelson counsel; redact Motion fissue.	for Partial Summary			
11-08-2021	Approved		Billable		Carnes, Tiffany		7.000	350.00	2,450.00
	Receive, de	ownload and surve	ey supplemental Nelso	n Parties Production;	prepare deposition exhibits; prepare m	otion exhibits.			
11-09-2021	Approved		Billable		Carnes, Tiffany		2.200	350.00	770.00
	Locate and	send Doug Broth	ers NP bank documen	t production; continue	ed document review.				
11-09-2021	Approved		Billable		Brothers, Doug		4.000	600.00	2,400.00
	Prepare for	Lisa Hartman de	position; review bank re	ecords.					
11-10-2021	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Call with K.	Seabolt regarding	g notices for Missouri s	ubpoena.					
11-10-2021	Approved		Billable		Seabolt, Kelly		0.800	150.00	120.00

06-24-2022 15:30:40 Page 55 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

Page 56 of 101

Contingen Skyloft et a 1848-001 NF	Status Approval	BillableType	Task	Professional	Start Stop			To 06-24-2022
Skyloft et a	nt			1 TOTOGOTOTIAI	Start Stop	Duration	Rate	Amount
Skyloft et a								
•								
		4		no collective Descript HODO shade as asset	die e file a kommune			
	Motion to Compel (.5).	on transcripts, videos	and exhibits (.3); pho	ne call with Daniel, USDC clerk, regard	aing file stamped			
11-10-2021 A	Approved	Billable		Carnes, Tiffany		0.300	350.00	105.00
Γ	Draft client agreement - Tess	ier Sol Y Luna.						
11-10-2021 A	Approved	Billable		Norton, Laura		0.600	125.00	75.00
				arding re-noticing Nelson depositions yloft DST and send to D. Brothers. (.4				
11-10-2021 A	Approved	Billable		Brothers, Doug		1.700	600.00	1,020.00
Г	Deposition preparation; comr	nunications regarding	hearing settings and i	notions.				
11-11-2021 A	Approved	Billable		Carnes, Tiffany		0.200	350.00	70.00
(	Client communications.							
11-11-2021 A	Approved	Billable		Brothers, Doug		5.700	600.00	3,420.00
F	E-mails regarding hearing; re	view Lisa Hartman de <sub>l</sub>	position exhibits; trave	el to San Diego and deposition prepara	ation.			
11-11-2021 A	Approved	Billable		Norton, Laura		1.000	125.00	125.00
N a	Multiple emails regarding am approval and then serve (.40	ended deposition notice; email and call to arra	es and court reporter inge court reporter fo	(.40); update deposition notices, send r NP Skyloft depositions and inform tea	to D. Brothers for am (.20).			
11-11-2021 A	Approved	Billable		Manassian, Taline		0.100	350.00	35.00
F	Email D. Brothers regarding I	₋evy Craig.						
11-12-2021 A	Approved	Billable		Brothers, Doug		9.600	600.00	5,760.00
ļ	Assemble exhibits and attend	l Lisa Hartman depo; f	ollow up meeting with	Brownlie.				
11-13-2021 A	Approved	Billable		Brothers, Doug		4.500	600.00	2,700.00
7	Travel to Austin; draft letter to	court regarding heari	ngs.					
11-14-2021 A	Approved	Billable		Carnes, Tiffany		0.400	350.00	140.00
(	Client communication receipt	and attention to						
11-15-2021 A	Approved	Billable		Brothers, Doug		0.400	600.00	240.00
F	Review motion to seal; e-mai	I to PCM counsel.						
11-16-2021 A	Approved	Billable		Manassian, Taline		0.500	350.00	175.00
c				); calls with K. Seabolt regarding Miss ubpoenas (.1); emails with D. Woods r				
11-16-2021 A	Approved	Billable		Brothers, Doug		0.600	600.00	360.00
E	E-mail regarding Patrick Cap	tal Markets subpoena	e-mail with Tucson o	counsel; client communication.				
11-17-2021 A	Approved	Billable		Carnes, Tiffany		2.400	350.00	840.00
F	Review newly produced disco	overy and confirm docu	ıments produced as p	per opposing attorney discription.				
11-17-2021 A	Approved	Billable		Brothers, Doug		3.400	600.00	2,040.00

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Conting	ent								
Skyloft e	t al 1848								
1848-001	NP Skylof	t							
	Review ban	_	n to letter to court; rev	iew transcript; revise le	etter; e-mails regarding resolving sche	duling issue; transmit			
11-18-2021	Approved	sotting and to soci	Billable	ed review of bank reco	Brothers, Doug		1.600	600.00	960.00
11-18-2021	Approved	setting and to sect	Billable	ed review of ballk reco	Manassian, Taline		0.200	350.00	70.00
		Brothers regarding		to D. Woods regarding	,		0.200	000.00	10.00
11-18-2021	Approved	3 3	Billable	3 3	Carnes, Tiffany		4.200	350.00	1,470.00
	• •	eview and organiza	ation; receive client do	ocument and forward.	· , ,				,
11-19-2021	Approved	J	Billable		Carnes, Tiffany		2.000	350.00	700.00
	Client comn	nunication; review a	and organize docume	nts received in suppler	mental production.				
11-19-2021	Approved		Billable		Brothers, Doug		2.000	600.00	1,200.00
	Extensive w	ork on opposition t	o TCG motion; expert	communication					
11-19-2021	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Email to D.	Woods regarding s	subpoenas.						
11-19-2021	<b>Approved</b>		Billable		Brothers, Doug		<del>1.000</del>	600.00	600.00
	Attention to	possible securities	case.						
11-21-2021	Approved		Billable		Brothers, Doug		0.100	600.00	60.00
	Client comn	nunication.							
11-22-2021	Approved		Billable		Brothers, Doug		1.100	600.00	660.00
	Revise oppo	osition.							
11-22-2021	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Emails with	D. Brothers and D.	. Woods regarding Mi	ssouri subpoena.					
11-22-2021	Approved		Billable		Norton, Laura		3.800	125.00	475.00
					position to TSG/Axionic Motion for Par ng and email back to attorneys.	tial Summary			
11-22-2021	Approved		Billable		Seabolt, Kelly		0.400	150.00	60.00
	Draft declar	ation for Doug Brot	thers and forward to h	im for approval (.4).					
11-22-2021	Approved		Billable		Carnes, Tiffany		0.500	350.00	175.00
	Confer with exhibits.	Kelly Seabolt on o	pposition to motion fo	r summary judgment n	notion draft and assist in locating relat	ed pleadings and			
11-23-2021	Approved		Billable		Brothers, Doug		0.700	600.00	420.00
	Initial prepa	ration for status co	nference; continued p	reparation for Nelson	depositions.				
11-24-2021	Approved		Billable		Brothers, Doug		4.600	600.00	2,760.00
	Preparation	for Status Confere	ence and for Nelson de	epositions; finalize obje	ection to TCG Motion; expert commun	ication.			
11-28-2021	Approved		Billable		Brothers, Doug		0.600	600.00	360.00
06-24-2022 ·	15:30:40							Page 5	7 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Page 58 of 101

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	jent								
Skvloft e	et al 1848								
-	NP Skylo	ft							
1040 001		_	nce; e-mail Russ Hort	on regarding securiti	ies arhitration				
11-29-2021	Approved		Billable	on regarding securit	Brothers, Doug		3 600	600.00	2,160.00
11 20 2021		conferences regar		vork on deposition p	reparation and document review; continue	e assembling	0.000	000.00	2,100.00
			reparation for status c		, , , , , , , , , , , , , , , , , , , ,	g			
11-29-2021	Approved		Billable		Carnes, Tiffany		2.500	350.00	875.00
	Add addition	nal bank statemen	ts to expert folder; pre	pare hard copy docu	uments for deposition exhibits.				
11-29-2021	Approved		Billable		Seabolt, Kelly		0.300	150.00	45.00
	Finalize co	mbined exhibits an	d attach to opposition	(.3).					
11-30-2021	Approved		Billable		Brothers, Doug		5.700	600.00	3,420.00
	Prepare for	and attend status	conference; prepare f	or Nelson deposition	IS.				
12-01-2021	Approved		Billable		Brothers, Doug		9.000	600.00	5,400.00
	Prepare for	and attend Nelsor	n depositions.						
12-02-2021	Approved		Billable		Nakamura, Suzy		0.400	150.00	60.00
			ervenors' Traditional F to and from D. Brothe		gment and emails to and from D. Brothers	s (0.30); revise			
12-02-2021	Approved		Billable		Brothers, Doug		9.500	600.00	5,700.00
	Attend dep	ositions; depositior	n preparation; prepare	notice of hearing.					
12-02-2021	Approved		Billable		Brothers, Doug		0.200	600.00	120.00
	E-mail rega	arding Skyloft.							
12-03-2021	Approved		Billable		Brothers, Doug		7.500	600.00	4,500.00
	Prepare for	and attend depos	itions.						
12-03-2021	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails to a	nd from D. Brother	rs regarding Notice of	Hearing (0.10).					
12-05-2021	Approved		Billable		Nakamura, Suzy		0.400	150.00	60.00
	GREP (0.1		tiffs' Third and Fourth		0); download Notice of Counsels' Change .10); compare Plaintiffs' Third and Fourth				
12-06-2021	Approved		Billable		Nakamura, Suzy		1.900	150.00	285.00
	Sheet in Pa Puleo, 151	arziale, Parziale Ap	peal, Puleo, Collins, 1	519 Appeal and ema	summary Judgment (0.10); review and do ails to and from D. Brothers (0.70); downl Patrick Capital Market document producti	oad pleadings in			
12-06-2021	Approved		Billable		Brothers, Doug		0.800	600.00	480.00
	Sol y Luna	- call with Tucson	counsel; call with Calif	ornia counsel; reviev	w confidentiality designation.				
12-07-2021	Approved		Billable		Nakamura, Suzy		0.300	150.00	45.00
	Continue u	pload of Patrick Ca	apital Market documen	t production to Drop	box and emails to and from T. Carnes (0.	30).			

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		ft							
12-07-2021	Approved	_	Billable		Brothers, Doug		2.600	600.00	1,560.00
12 07 2021	• •		telephone conference	e with PCM counsel:	, 0		2.000	000.00	1,000.00
12-07-2021	Approved	•	Billable	,	Carnes, Tiffany		1.000	350.00	350.00
			nd save to file, share w	vith team, and send to	b be uploaded to Lexbe.				
12-08-2021	Approved		Billable		Carnes, Tiffany		1.500	350.00	525.00
	Perform ter	m searches in PCI	M production.						
12-09-2021	Approved		Billable		Brothers, Doug		0.900	600.00	540.00
	E-mail rega	arding PCM; talk wi	ith expert; assemble m	naterials.					
12-09-2021	Approved		Billable		Carnes, Tiffany		3.000	350.00	1,050.00
	Document	review and search	terms in Capital Patrio	ck Markets discovery	locate documents.				
12-10-2021	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails fron	n and to D. Brother	rs regarding valuations	and appraisals (0.10	0).				
12-10-2021	Approved		Billable		Brothers, Doug		1.300	600.00	780.00
	Materials to	expert; attention t		ephone conference v	vith expert regarding appraisal.				
12-10-2021	Approved		Billable		Carnes, Tiffany		0.700	350.00	245.00
				Capital Markets volu	imes 003 and 004; locate documents for	Doug Brothers.			
12-12-2021	Approved		Billable		Nakamura, Suzy		0.300	150.00	45.00
		n and to D. Brother Injunction (0.30).	rs and T. Carnes, revie	ew and revise Interve	nors' Application for Temporary Restrain	ing Order and			
12-13-2021	Approved		Billable		Brothers, Doug		1.500	600.00	900.00
	Status to cl	ients; work on exp	ert matters; attention t	o broker dealer issue	s; e-mails with opposing counsel.				
12-13-2021	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Emails rega	arding Levy Craig i	nvoice.						
12-13-2021	Approved		Billable		Carnes, Tiffany		2.500	350.00	875.00
		M production; run t							
12-14-2021	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
				ners; organize certain	documents for sharing.				
12-14-2021	Approved		Billable		Brothers, Doug		1.200	600.00	720.00
10 15 0001				ew e-mails; attention	to SyL issue; materials to expert.		0.500	050.00	475.00
12-15-2021	Approved		Billable		Carnes, Tiffany		0.500	350.00	175.00
10 15 0001			red space; client comr	nunication.	D " D		0.700	000.00	400.00
12-15-2021	Approved		Billable	ala a manil management	Brothers, Doug		0.700	600.00	420.00
40.45.0004			xpert; opposing counse	ei; e-mail regarding P			0.000	000.00	000.00
12-15-2021	Approved		Billable		Horton, Russ		0.600	600.00	360.00
06-24-2022 1	15:30:40							Page 59	of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Page 60 of 101

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
_	NP Skylof	•							
1040-001		_	m D. Brothoro rogardin	a talling agraement	talanhana aanfaranaa with D. Brathara	agarding come.			
			e arbitration complaint		telephone conference with D. Brothers r tal.	egarding same,			
12-17-2021	<b>Approved</b>		Billable		<del>Manassian, Taline</del>		2.000	350.00	700.00
	Draft demai	nd for arbitration.							
12-17-2021	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Representa	tive and emails to		and T. Manassian (0	ick Capital Markets' Custodian of Record .30); emails to and from DeAnna Woods				
12-17-2021	Approved		Billable		Carnes, Tiffany		1.300	350.00	455.00
		rith clients on 103 <sup>-</sup> o Taline Manassia		requests; begin dow	nload of supplemental NP production; lo	cate and send			
<del>12-18-2021</del>	<b>Approved</b>		Billable		Manassian, Taline		<del>2.700</del>	350.00	945.00
	Draft demai	nd for arbitration.							
<del>12 18 2021</del>	<b>Approved</b>		<del>Billable</del>		Brothers, Doug		<del>0.600</del>	600.00	<del>360.00</del>
	Attention to	broker dealer arb	itration.						
12-20-2021	Approved		Billable		Nakamura, Suzy		0.900	150.00	135.00
	Plaintiffs' U	nopposed Motion		ors to File Exh bits Ur	lephone call with Court Administrator required real (0.20); emails from and to D. B				
12-20-2021	<b>Approved</b>		<del>Billable</del>		Brothers, Doug		<del>2.200</del>	600.00	<del>1,320.00</del>
	Revise arbi	tration demand; re	view order and motion	regarding eviction;	conference with T. Carnes regarding We	althforge.			
<del>12-20-2021</del>	<b>Approved</b>		<del>Billable</del>		Manassian, Taline		0.100	<del>350.00</del>	35.00
	Call with D.	Brothers regardin	g demand for arbitration	on.					
12-20-2021	Approved		Billable		Carnes, Tiffany		0.700	350.00	245.00
	Client comn	nunication; save N	IP supplemental produ	iction download to file	e; confer with Doug Brothers on calenda	ring dates.			
12-21-2021	Approved		Billable		Manassian, Taline		1.600	350.00	560.00
					S. Nakamura regarding CA pleadings (.1); research possible conflict (.5).	); call with D.			
12-21-2021	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Demand for	Arbitration ( ); te			ails and telephone calls with D. Brothers tthew Goldstein (0.10).	, initiate filing of			
<del>12-21-2021</del>	<b>Approved</b>		Billable		Brothers, Doug		0.700	600.00	420.00
	Securities of	laim - revisions; te	elephone conference w	vith Realized counsel					
12-21-2021	Approved		Billable		Carnes, Tiffany		0.600	350.00	210.00
	Respond to	fact inquiries from	n Taline Manassian; ca	all with Paul Tessier.					
12-22-2021	Approved		Billable		Nakamura, Suzy		0.300	150.00	45.00

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
_	NP Skylof	Ft							
1040 001		_	uesting Writ of Posse	ssion (0 10)· downloa	ad Greg Noschese letter to Clerk regardin	g authority to issue			
	writ of poss	ession (0.10); dov	vnload Defendants' Re	esponse to Plaintiff's I	Motion to Extend the time for Issuance of ion to proposed Order (0.10).	Writ of Possession			
12-26-2021	Approved		Billable		Brothers, Doug		0.700	600.00	420.00
	Case plann	ing.							
12-27-2021	Approved		Billable		Brothers, Doug		2.500	600.00	1,500.00
	Review filin	igs in County Cour	t; work on expert issu	es; work on temporar	y restraining order.				
12-28-2021	Approved		Billable		Brothers, Doug		2.300	600.00	1,380.00
			d comments; review n ocket control order.	notion for summary ju	dgment; client communication; expert co	mmunication; e-			
12-28-2021	Approved		Billable		Manassian, Taline		0.800	350.00	280.00
	Research								
12-29-2021	Approved		Billable		Manassian, Taline		3.900	350.00	1,365.00
	Research regarding fa	(3.5) acts relevant to	; revise letter to Judge (.1).	e Livingston (.2); call	with T. Carnes regarding parties (.1); email	ail D. Brothers			
12-29-2021	Approved		Billable		Brothers, Doug		7.500	600.00	4,500.00
	Extensive v	vork on trial prepa	ration, expert commur	ications, and re-plea	ding.				
12-29-2021	Approved		Billable		Nakamura, Suzy		6.300	150.00	945.00
	Download p Traditional	oleadings and disc Motion for Partial	overy filed and served Summary Judgment (	I from 11/29/21 to 12 11:45 - 6:00)	/29/21 ( ); download exhibits to TCG & A	xonic Lenders			
12-29-2021	Approved		Billable		Seabolt, Kelly		0.200	150.00	30.00
	Draft Rule	11 agreement (.1);	forward to Ben King f	or review and approv	val (.1).				
12-29-2021	Approved		Billable		Carnes, Tiffany		2.300	350.00	805.00
	Receive an	d save client com	munications to file; do	cument search rent re	olls.				
12-30-2021	Approved		<del>Billable</del>		Carnes, Tiffany		0.200	350.00	70.00
	Call to Jon	Kemmerer.							
12-30-2021	Approved		Billable		Manassian, Taline		2.000	350.00	700.00
	Call with K.	Seabolt regarding	pleadings (.2); resea	rch (1.	8).				
12-30-2021	Approved		Billable		Nakamura, Suzy		0.000	150.00	0.00
	Emails from	n and to K. Seabol	t regarding deposition	exhibits					
12-30-2021	Approved		Billable		Seabolt, Kelly		0.900	150.00	135.00
	Upload dep	osition exhibits for	Morris Doueck and E	rendan McCormick (	.9).				
12-30-2021	Approved		Billable		Brothers, Doug		6.400	600.00	3,840.00
			ocket control order; e-r vork on drafting amen		11 agreement; expert communications; rention.	eview depositions			

06-24-2022 15:30:40 Page 61 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		ft							
12-31-2021	Approved	_	Billable		Brothers, Doug		3.000	600.00	1,800.00
	• •	vork on re-pleadin	g.		, 3				,
01-02-2022	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
		Plaintiff's Emergen Propose Order (0.2		Final Judgment and Rela	ated Relief, Plaintiff's Emergency M	lotion to Set Appeal			
01-03-2022	Approved		Billable		Manassian, Taline		0.200	350.00	70.00
	Call with T.	Carnes regarding	conflicts issue.						
01-03-2022	Approved		Billable		Brothers, Doug		5.500	600.00	3,300.00
	Extensive v	vork on Skyloft re-	pleading; telephone co	onference with Greg Noc					
01-03-2022	Approved		Billable		Nakamura, Suzy		0.900	150.00	135.00
	Transcript of case and e	of Brendan Mccorr mail to D. Brothers	nick (0.10); review and	download Docket Shee ice of Hearing and email	ic's Notice of Confidentiality Design t and Minutes of in Chambers Orde D. Brothers (0.10); emails to and fr	er-Directive in Puleo			
01-03-2022	Approved		Billable		Carnes, Tiffany		1.700	350.00	595.00
	by Parties I	Lacking Capacity a	ce to opposing counsel and by Improper Nelso revious response.	; Review TCG/Axonic M n Derivative Representa	otion for Partial Summary Judgmen tives, compare to their previous mo	nt on Claims Brought tion for partial			
01-04-2022	<b>Approved</b>		<del>Billable</del>		Carnes, Tiffany		0.500	<del>350.00</del>	<del>175.00</del>
	Create and	share Dropbox wi	th Jon Kemmerer.						
01-04-2022	Approved		Billable		Brothers, Doug		3.900	600.00	2,340.00
		evisions to pleadingliscovery and matt		on sealing motion; attend	d hearing and calls with counsel reg	garding inspection and			
01-05-2022	Approved		Billable		Brothers, Doug		2.200	600.00	1,320.00
	Work on ex	pert issues;		; work	on motion for partial summary judgi	ment response.			
01-05-2022	Approved		Billable		Carnes, Tiffany		1.200	350.00	420.00
			conic Motion for Partial rith expert Weaver.	Summary Judgment fina	al time to confirm response actions,	send summary to D.			
01-05-2022	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails to a case (0.10)		rs regarding zoom link	for hearing on Plaintiffs'	Emergency Motion for Entry and Is	suance of Writ '1519			
01-06-2022	Approved		Billable		Carnes, Tiffany		2.900	350.00	1,015.00
	Attend Cou	inty Court at Law 1	hearing on YouTube	and summarize; call with	Jon Kemmerer; client emails reque	esting documents.			
01-06-2022	Approved		Billable		Nakamura, Suzy		2.600	150.00	390.00
	telephone of	call from D. Brothe	rs, email to D. Brothers		e Intervenors' Fourth Amended Plea dants' Response to Plaintiff's Bond I s' Response (0.10.				

06-24-2022 15:30:40 Page 62 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
1848-001		F <del>t</del>							
01-06-2022	Approved	<u> </u>	Billable		Brothers, Doug		2.000	600.00	1.200.00
0.002022		nended pleading a	and related issues.		Browner, Bodg		2.000	000.00	1,200.00
01-07-2022	Approved	nonded pleading c	Billable		Brothers, Doug		6.500	600.00	3,900.00
		nended intervention	on; draft application for	injunctive relief; work	on opposition to TCG/Axonic motion for p	partial summary	2.222		2,222.2
01-07-2022	Approved		Billable		Nakamura, Suzy		1.300	150.00	195.00
	Emails from regarding A	application for Tem		der and Temporary Ir	in Intervention (0.50); emails from and to njunction and depositions and exhibits (0.1				
01-07-2022	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Review Fou	urth Amended Plea	a in Intervention; share	Fourth Amended Ple	ea draft with clients; research				
01-09-2022	Approved		Billable		Carnes, Tiffany	_	0.500	350.00	175.00
	Review and	d edit response to	Motion for Partial Sum	mary Judgment; rece	eive client documents and save to file.				
01-09-2022	Approved		Billable		Brothers, Doug		4.800	600.00	2,880.00
			ntervention; revise opposed tolling agreement		partial summary judgment; revise applicat	ion for temporary			
01-09-2022	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails from	n and to D. Brothe	rs regarding Interveno	rs' Fourth Amended F	Plea in Intervention (0.10).				
01-10-2022	Approved		Billable		Nakamura, Suzy		6.100	150.00	915.00
	Plea in Inte deposition t	rvention, draft and	I finalize emails to opposition of the final field in the first fi	osing counsel and co	to Dropbox (0.50); finalize Intervenors' Fourt and send, telephone calls to Veritext reew Response to Motion for Partial Summa	egarding			
01-10-2022	Approved		Billable		Brothers, Doug		4.100	600.00	2,460.00
	regarding to	emporary restraini	ng order application; te	elephone conference	Polk counsel; e-mail regarding Rule 11 aç with Suzy Nakamura regarding opposition otion for partial summary judgment oppos	to TCG motion for			
01-10-2022	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Emails with	D. Brothers regar	ding conflicts research	1.					
01-10-2022	Approved		Billable		Carnes, Tiffany		6.000	350.00	2,100.00
		o Intervenor applic urth Amended Pe		estraining Order/Ten	nporary Injunction and identifying exhibits	for same; review			
01-11-2022	Approved		Billable		Carnes, Tiffany		3.500	350.00	1,225.00
	Share files correspond		; review and edit draft	Temporary Restrainii	ng Order and draft declaration; client meet	ing; client			
01-11-2022	Approved		Billable		Nakamura, Suzy		1.100	150.00	165.00

06-24-2022 15:30:40 Page 63 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et									
1848-001 I		•							
1010 001	Download F	nal Judgment (0.	10); emails to and fron udgment, mark Exh bit		se Intervenors' Opposition to TCG and Ax	onic's Traditional			
01-11-2022	Approved		Billable		Brothers, Doug		9.800	600.00	5,880.00
					ment; review and revise temporary restrai com; review evening filings.	ning order application			
01-12-2022	Approved		Billable		Carnes, Tiffany		3.000	350.00	1,050.00
			tions; share client port nd Declaration; set up		ng and editing Intervenors' Motion for Tem rdan.	porary Restraining			
01-12-2022	Approved		Billable		Nakamura, Suzy		2.100	150.00	315.00
	Traditional M Judgment an Announcem TCG Skyloft Judgment an Exhibits (0.2 Schiffman an	Motion for Partial S and Exhibits (0.30); ent to Court (0.10 and Axonic's Not and Response to Ir 0); download Tria and Parziale Motion	Summary Judgment (0 ; draft Docket Call Anr ); download TCG Skyl ice of Hearing (0.10); ntervenors Schiffman's angle's Supplement to n for Summary Judgm	.30); download Ne nouncement and er oft and Axonic Ler download TCG Sk Motion for Partial Special Appearancent (0.10); download	ntervenors' Opposition, in Part, to TCG ar elson Parties' Responses to Motions for Pamails to and from D. Brothers (0.20); emainders' Motion for Partial Summary Judgmeyloft's Response to Parziale Motion for Passummary Judgment (0.20); download TC (0.10); download Axonic's Opposition to ad Intervenor Parziale's Opposition to Axonemail to D. Brothers (0.30).	artial Summary I Docket Call ent (0.10); download irtial Summary G Skyloft's Joint o Intervenor			
01-12-2022	Approved		Billable		Brothers, Doug		6.000	600.00	3,600.00
	Work on ten	porary restraining	g order; review other p	arty pleadings for	omnibus hearing.				
01-13-2022	Approved		Billable		Carnes, Tiffany		2.900	350.00	1,015.00
	Create meet	ing and meet with	n Jared Jordan team; r	evise draft declara	ition of J. Jordan and update exhibits.				
01-13-2022	Approved		Billable		Nakamura, Suzy		2.300	150.00	345.00
	regarding sa Temporary I	me (0.20); teleph njunction, Declara	one calls and emails f ation and Exhibits, revi	rom and to T. Carr lew, revise and red	ary Judgment and exhibits, emails to and f nes regarding Application for Temporary R Iline Application for TRO and TI and mark ent and exhibits (2.0).	estraining Order and			
01-13-2022	Approved		Billable		Brothers, Doug		0.600	600.00	360.00
	Expert comr	nunication.							
01-14-2022	Approved		Billable		Brothers, Doug		1.700	600.00	1,020.00
	Review and	revise temporary	restraining order docu	ments; telephone	conference with T. Carnes.				
01-14-2022	Approved		Billable		Nakamura, Suzy		2.300	150.00	345.00
					lelson Parties' Response to Triangle Capi xhibits for 1/18/22 hearing (2.0).	tal Group's Special			
01-14-2022	Approved		Billable		Carnes, Tiffany		5.000	350.00	1,750.00
		eaver; revisions to cuments to file.	o draft Temporary Res	straining Order/Ter	mporary Injunction and declarations; client	communications and			
01-15-2022	Approved		Billable		Brothers, Doug		1.100	600.00	660.00

06-24-2022 15:30:40 Page 64 of 101

# George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
-	NP Skylo								
1040-001		_	g order documents; be	ain hoaring prop	pration				
01-15-2022	Approved	. , ,	Billable	giii ileailiig piepa	Nakamura, Suzy		4.000	150.00	600.00
01-10-2022	Continue d Carnes reg	ownloading and co parding Application revise and finaliz	ompiling all motions, re of for Temporary Restra	ining Order and I	nibits for 1/18/22 hearing; emails from and to Femporary Injunction, hearing, notice and colosed Order, draft, revise and finalize email to	nfidential	4.000	130.00	000.00
01-16-2022	Approved		Billable		Brothers, Doug		1.000	600.00	600.00
	Work on he	earing preparation.	-						
01-17-2022	Approved		Billable		Brothers, Doug		8.800	600.00	5,280.00
	Extensive I	nearing preparatio	n (8.50); revise letter to	Judge Livingsto	n (.3)				
01-17-2022	Approved		Billable		Nakamura, Suzy		0.700	150.00	105.00
	Intervenors Intervention	s' Pre-marked Exh n (0.10); emails to	bits folder in Court's B	ox (0.10); email t egarding Propos	t's Box (0.10); emails to and from Jamie Fole o D. Brothers regarding filing Fourth Amende ed Order for Intervenors Motion for Partial S	ed Plea in			
01-17-2022	Approved		Billable		Carnes, Tiffany		0.400	350.00	140.00
	Receive do	ocuments from clie	nts, save to file; client	communications;	share documents with expert.				
01-18-2022	Approved		Billable		Nakamura, Suzy		1.300	150.00	195.00
	opposing p emails fron and to Jeni	earties (0.50); draft n and to T. Carnes ny Lloyd regarding	Contact Information S regarding Application upload to Box (0.10);	heet for Remote for Temporary R emails from and	m D. Brothers, finalize letter and email to 261 Hearing and email to D. Brothers, email to D estraining Order and Temporary Injunction (0 to D. Brothers regarding upload to Box, revie er point presentations (0.10).	ella Duett (0.20); 0.10); emails from			
01-18-2022	Approved		Billable		Brothers, Doug		9.000	600.00	5,400.00
	Hearing pro	eparation; attend h	nearings; follow up.						
01-18-2022	Approved		Billable		Carnes, Tiffany		5.000	350.00	1,750.00
	Attend hea	ring via zoom; cor	respondence with clier	t; attention to ex	pert report information.				
01-19-2022	Approved		Billable		Horton, Russ		0.500	600.00	300.00
	Telephone	conference with D	). Brothers regarding m	ediation; email r	egarding same.				
01-19-2022	Approved		Billable		Carnes, Tiffany		4.500	350.00	1,575.00
		search per D. Brot , supplemental, ar		on Kemmerer, sh	nare documents to shared folder; review clier	nt production for			
01-19-2022	Approved		Billable		Brothers, Doug		1.700	600.00	1,020.00
	Review e-r	nails regarding Bo	x posting and confiden	tiality designation	ns; review request for privilege log and respo	ond.			
01-19-2022	Approved		Billable		Nakamura, Suzy		2.200	150.00	330.00

06-24-2022 15:30:40 Page 65 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
1848-001		F4							
1040-001		_		Day (0.40), amaila t	a and from T. Comes and D. Drothers				
	exhibits to I Grace McG Order, revie	Box (0.10); review see regarding Judg ew and finalize Pro	Travis County District ge Crump's procedures posed Order, upload t	Court website for Ju s on uploading exhibi o Box (0.30); separa	o and from T. Carnes and D. Brothers reg dge Crump's procedures (0.10); email to its (0.10); emails from and to D. Brothers tte Exhibits in Box to Application for Temp mary Judgment into individual pdfs (1.50)	Taylor Hoang and regarding Proposed porary Restraining			
01-20-2022	Approved		Billable		Carnes, Tiffany		6.500	350.00	2,275.00
	request and	d receive client do		arious files; continue	cknowledgement; create shared dropbox review of client production for privilege a				
01-20-2022	Approved		Billable		Brothers, Doug		1.400	600.00	840.00
	Attention to	mediation selection	on; e-mails regarding s	same; call opposing o	counsel and Judge Ferguson staff; work o	on expert issues.			
01-21-2022	Approved		Billable		Carnes, Tiffany		6.000	350.00	2,100.00
					nt for Jared Jordan; communication with up conference with J. Jordan; conference				
01-21-2022	Approved		Billable		Manassian, Taline		0.900	350.00	315.00
	Call from R	. Horton regarding	letter from Jenny Lloy	d (.1); review letter (	.3); review cases cited in letter (.5).				
01-21-2022	Approved		Billable		Brothers, Doug		3.700	600.00	2,220.00
	E-mails reg	arding mediation;	letter to Judge Crump	telephone conferen	ces with experts regarding reports.				
01-21-2022	Approved		Billable		Nakamura, Suzy		1.500	150.00	225.00
	Bethany Si	mmons regarding	power point presentati	on (0.10); draft Expe	ng requesting power point presentations ( ort Disclosures and email to D. Brothers ( onsel letter to Judge Crump regarding sele	1.0); draft and			
01-22-2022	Approved		Billable		Manassian, Taline		2.400	350.00	840.00
	Review cas	ses on conflicts (2.	2); email D. Brothers a	nd R. Horton regard	ing the same (.2).				
01-22-2022	Approved		Billable		Brothers, Doug		0.300	600.00	180.00
	E-mails reg	arding cases cited	I in Brownlie letter.						
01-23-2022	Approved		Billable		Nakamura, Suzy		3.000	150.00	450.00
	Email from	D. Brothers, redac	ct Exh bits to Application	n for Temporary Res	straining Order and Temporary Injunction	(3.0)			
01-24-2022	Approved		Billable		Nakamura, Suzy		2.000	150.00	300.00
	Continue re Brothers (2		or Application for Temp	oorary Restraining O	rder and Temporary Injunction, emails to	and from D.			
01-24-2022	Approved		Billable		Carnes, Tiffany		4.500	350.00	1,575.00
	Finish revie	w of client docum	ents for privilege; revie	w Intervenor discove	ery related to				
01-24-2022	Approved		Billable		Brothers, Doug		3.700	600.00	2,220.00
			phone conference with regarding depositions;		e-mails; telephone conference with Russ owerpoints.	Horton; planning for			

06-24-2022 15:30:40 Page 66 of 101

# George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Email from D. Brothers, emails to and from Brandon Stendara, Gregory Noschese and Courtney Sauer regarding redactions to Exhibits B and F of Application for Temporary Restraining Order and Temporary Injunction, revise and redact Exhibit B and F (0.50); review and finalize letter to G. Noschese and C. Sauer requesting additional Nelson documents from deposition, emails from and to D. Brothers, email to G. Noschese and C. Sauer (0.30); emails from and to D. Brothers regarding Intervenors' Fourth Amended Plea and sealing requests (0.20); review previous discovery requests, draft Request for Admissions and Interrogatories to Nelson Parties, emails to and from D. Brothers (1.20).  O1-25-2022 Approved Billable Brothers, Doug 4.200 6  Review Nelson PowerPoint and forward to expert; attention to mediation scheduling; draft letter to Greg Nochese regarding Nelson deposition follow up; draft additional requests for admissions and interrogatories; e-mails regarding depositions; work on mediation strategy.  O1-25-2022 Approved Billable Carnes, Tiffany 2.000 3  Call with Weaver and follow up; fact research and follow up document identification.  O1-26-2022 Approved Billable Brothers, Doug 2.000 6  E-mails and calls regarding mediation; draft response to Parziale; arrange expert meetings; revise letter regarding Parziale.	50.00 330.00 00.00 2,520.00
Skyloft et al 1848  1848-001 NP Skyloft  01-25-2022 Approved Billable Nakamura, Suzy 2.200 1  Email from D. Brothers, emails to and from Brandon Stendara, Gregory Noschese and Courtney Sauer regarding redactions to Exhibits B and F of Application for Temporary Restraining Order and Temporary Injunction, revise and redact Exhibit B and F (0.50); review and finalize letter to G. Noschese and C. Sauer requesting additional Nelson documents from deposition, emails from and to D. Brothers, emails to G. Noschese and C. Sauer (0.30); emails from and to D. Brothers (1.20). Provided Plea and sealing requests (0.20); review previous discovery requests, draft Request for Admissions and Interrogatories to Nelson Parties, emails to and from D. Brothers (1.20).  01-25-2022 Approved Billable Brothers, Doug 4.200 6  Review Nelson PowerPoint and forward to expert; attention to mediation scheduling; draft letter to Greg Nochese regarding Nelson deposition follow up; draft additional requests for admissions and interrogatories; e-mails regarding depositions; work on mediation strategy.  01-25-2022 Approved Billable Carnes, Tiffany 2.000 3  Call with Weaver and follow up; fact research and follow up document identification.  01-26-2022 Approved Billable Brothers, Doug 2.000 6  E-mails and calls regarding mediation; draft response to Parziale; arrange expert meetings; revise letter regarding Parziale.  01-26-2022 Approved Billable Manassian, Taline 0.500 3  Review draft letter regarding Parziale intervention (.2); revise letter and email D. Brothers regarding the same (.2); emails with D.	00.00 2,520.00
1848-001 NP Skyloft  01-25-2022 Approved Billable Nakamura, Suzy 2.200 1  Email from D. Brothers, emails to and from Brandon Stendara, Gregory Noschese and Courtney Sauer regarding redactions to Exhibits B and F of Application for Temporary Restraining Order and Temporary Injunction, revise and redact Exhibit B and F (0.50); review and finalize letter to G. Noschese and C. Sauer requesting additional Nelson documents from deposition, emails from and to D. Brothers, emails to S. Noschese and C. Sauer (0.30); emails from and to D. Brothers regarding Intervenors' Fourth Amended Plea and sealing requests (0.20); review previous discovery requests, draft Request for Admissions and Interrogatories to Nelson Parties, emails to and from D. Brothers (1.20).  01-25-2022 Approved Billable Brothers, Doug 4.200 6  Review Nelson PowerPoint and forward to expert; attention to mediation scheduling; draft letter to Greg Nochese regarding Nelson deposition follow up; draft additional requests for admissions and interrogatories; e-mails regarding depositions; work on mediation strategy.  01-25-2022 Approved Billable Carnes, Tiffany 2.000 3  Call with Weaver and follow up; fact research and follow up document identification.  01-26-2022 Approved Billable Brothers, Doug 2.000 6  E-mails and calls regarding mediation; draft response to Parziale; arrange expert meetings; revise letter regarding Parziale.  01-26-2022 Approved Billable Manassian, Taline 0.500 3  Review draft letter regarding Parziale intervention (.2); revise letter and email D. Brothers regarding the same (.2); emails with D.	00.00 2,520.00
D1-25-2022 Approved Billable Nakamura, Suzy 2.200 1  Email from D. Brothers, emails to and from Brandon Stendara, Gregory Noschese and Courtney Sauer regarding redactions to Exhibits B and F of Application for Temporary Restraining Order and Temporary Injunction, revise and redact Exhibit B and F (0.50); review and finalize letter to G. Noschese and C. Sauer requesting additional Nelson documents from deposition, emails from and to D. Brothers, email to G. Noschese and C. Sauer (0.30); emails from and to D. Brothers regarding Intervenors' Fourth Amended Plea and sealing requests (0.20); review previous discovery requests, draft Request for Admissions and Interrogatories to Nelson Parties, emails to and from D. Brothers (1.20).  D1-25-2022 Approved Billable Brothers, Doug 4.200 6  Review Nelson PowerPoint and forward to expert; attention to mediation scheduling; draft letter to Greg Nochese regarding Nelson deposition follow up; draft additional requests for admissions and interrogatories; e-mails regarding depositions; work on mediation strategy.  D1-25-2022 Approved Billable Carnes, Tiffany 2.000 3  Call with Weaver and follow up; fact research and follow up document identification.  D1-26-2022 Approved Billable Brothers, Doug 2.000 6  E-mails and calls regarding mediation; draft response to Parziale; arrange expert meetings; revise letter regarding Parziale.  D1-26-2022 Approved Billable Manassian, Taline 0.500 3  Review draft letter regarding Parziale intervention (.2); revise letter and email D. Brothers regarding the same (.2); emails with D.	00.00 2,520.00
Email from D. Brothers, emails to and from Brandon Stendara, Gregory Noschese and Courtney Sauer regarding redactions to Exhibits B and F of Application for Temporary Restraining Order and Temporary Injunction, revise and redact Exhibit B and F (0.50); review and finalize letter to G. Noschese and C. Sauer requesting additional Nelson documents from deposition, emails from and to D. Brothers, emails to G. Noschese and C. Sauer (0.30); emails from and to D. Brothers regarding Intervenors' Fourth Amended Plea and sealing requests (0.20); review previous discovery requests, draft Request for Admissions and Interrogatories to Nelson Parties, emails to and from D. Brothers (1.20).  O1-25-2022 Approved Billable Brothers, Doug 4.200 6  Review Nelson PowerPoint and forward to expert; attention to mediation scheduling; draft letter to Greg Nochese regarding Nelson deposition follow up; draft additional requests for admissions and interrogatories; e-mails regarding depositions; work on mediation strategy.  O1-25-2022 Approved Billable Carnes, Tiffany 2.000 3  Call with Weaver and follow up; fact research and follow up document identification.  O1-26-2022 Approved Billable Brothers, Doug 2.000 6  E-mails and calls regarding mediation; draft response to Parziale; arrange expert meetings; revise letter regarding Parziale.  O1-26-2022 Approved Billable Manassian, Taline 0.500 3  Review draft letter regarding Parziale intervention (.2); revise letter and email D. Brothers regarding the same (.2); emails with D.	
Review Nelson PowerPoint and forward to expert; attention to mediation scheduling; draft letter to Greg Nochese regarding Nelson deposition follow up; draft additional requests for admissions and interrogatories; e-mails regarding depositions; work on mediation strategy.  01-25-2022 Approved Billable Carnes, Tiffany 2.000 3 Call with Weaver and follow up; fact research and follow up document identification.  01-26-2022 Approved Billable Brothers, Doug 2.000 6 E-mails and calls regarding mediation; draft response to Parziale; arrange expert meetings; revise letter regarding Parziale.  01-26-2022 Approved Billable Manassian, Taline 0.500 3 Review draft letter regarding Parziale intervention (.2); revise letter and email D. Brothers regarding the same (.2); emails with D.	
deposition follow up; draft additional requests for admissions and interrogatories; e-mails regarding depositions; work on mediation strategy.  01-25-2022 Approved Billable Carnes, Tiffany 2.000 3 Call with Weaver and follow up; fact research and follow up document identification.  01-26-2022 Approved Billable Brothers, Doug 2.000 6 E-mails and calls regarding mediation; draft response to Parziale; arrange expert meetings; revise letter regarding Parziale.  01-26-2022 Approved Billable Manassian, Taline 0.500 3 Review draft letter regarding Parziale intervention (.2); revise letter and email D. Brothers regarding the same (.2); emails with D.	
Call with Weaver and follow up; fact research and follow up document identification.  01-26-2022 Approved Billable Brothers, Doug 2.000 6  E-mails and calls regarding mediation; draft response to Parziale; arrange expert meetings; revise letter regarding Parziale.  01-26-2022 Approved Billable Manassian, Taline 0.500 3  Review draft letter regarding Parziale intervention (.2); revise letter and email D. Brothers regarding the same (.2); emails with D.	
O1-26-2022 Approved Billable Brothers, Doug 2.000 6 E-mails and calls regarding mediation; draft response to Parziale; arrange expert meetings; revise letter regarding Parziale.  O1-26-2022 Approved Billable Manassian, Taline 0.500 3 Review draft letter regarding Parziale intervention (.2); revise letter and email D. Brothers regarding the same (.2); emails with D.	50.00 700.00
E-mails and calls regarding mediation; draft response to Parziale; arrange expert meetings; revise letter regarding Parziale.  O1-26-2022 Approved Billable Manassian, Taline 0.500 3  Review draft letter regarding Parziale intervention (.2); revise letter and email D. Brothers regarding the same (.2); emails with D.	
01-26-2022 Approved Billable Manassian, Taline 0.500 3 Review draft letter regarding Parziale intervention (.2); revise letter and email D. Brothers regarding the same (.2); emails with D.	00.00 1,200.00
Review draft letter regarding Parziale intervention (.2); revise letter and email D. Brothers regarding the same (.2); emails with D.	
	50.00 175.00
, , ,	
, ,	50.00 225.00
Draft Schiffman Intervenors' Request for Admissions and First Set of Interrogatories to Nelson Partners, LLC, NP Skyloft IB, LLC and TCG Skyloft Owners, LLC (1.50).	
01-26-2022 Approved Billable Carnes, Tiffany 5.800 3	50.00 2,030.00
Call with Jon Kemmerer and follow up; attention to exhibits and information needed for motions expert reports;	
01-26-2022 Approved Billable Horton, Russ 0.600 6	00.00 360.00
Telephone conference with D. Brothers regarding deposition coverage; review client materials.	
01-27-2022 Approved Billable Carnes, Tiffany 4.000 3	50.00 1,400.00
Document review PCM 3rd and 4th production sets; call with Weaver re scheduling meeting; call with Jon Kemmerer; email clients regarding deposition dates.	
01-27-2022 Approved Billable Nakamura, Suzy 2.600 1	50.00 390.00

06-24-2022 15:30:40 Page 67 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amou
Conting	ent								
_	et al 1848								
	NP Skylot	ft							
	redacted A regarding in redacted Int (0.70), ema NP Skyloft Nelson Par and to D. B email to 26 Intervenors emails to a	pplication for Temp neonsistencies, tele itervenors' Applicat ails from and to D. I IB, LLC, revise and thers, LLC, emails trothers (0.10); revi 1 Submission, Jud ' Application for TF nd emails to and f	orary Restraining Orcephone call and emails ion for TRO and TI are Brothers, finalize Schild redline Schiffman Into and from D. Brother ew, revise and finalize ge Crump and opposition on TI, emails to and TI, emails to a	ler and Temporary Ir is to and from Brando id Exhibits, draft and ffman Intervenors' Fi servenors' Second Ro irs (0.50); revise and be letter to Judge Livir ing counsel (0.40); dr ind from D. Brothers, ding Intervenors' Fou	n, email from Mina Myers (0.10); compile njunction and Exhibits, emails to and from Stendara regarding same (0.50); complication of Stendara regarding same (0.50); complication of Stendara regarding same (0.50); complication of Stendara regarding same for Admissions and First Set of Infinalize Interrogatory to NP Skyloft IB, Lingston and email to D. Brothers, T. Manaft and revise email to Judge Crump regemail to 250 Submission and opposing ourth Amended Plea in Intervention, email same (0.10).	n D. Brothers pile and finalize and from D. Brothers t of Interrogatories to tterrogatories to LC and emails from assian and R. Horton, jarding redacted counsel (0.20);			
01-27-2022			Billable	3	Brothers, Doug		4.200	600.00	2,520.0
	Review and	d revise outgoing d	iscovery; e-mails rega tion; draft additional d		stics; case planning; e-mails regarding re	esponse to Parziale;			,
01-28-2022	Approved		Billable		Nakamura, Suzy		1.600	150.00	240.0
	Brandon St (0.30); ema Lift Stay of Axonic's Tr Schiffman I Nelson Par Schiffman I	tendara regarding in the from and to T. ( Writ of Possession additional Motion fool intervenors MPSJ-ties Appendixes and the venors MPSJ-ties Appendixes and the venors MPSJ-ties Appendixes and the venors MPSJ-	redactions to Plea, reveal and Proposed Order Partial Summary Jud Redacted (0.10); Nels and Joint Exhibits to its Redacted (0.10); down Redacted (0.10); down Redacted (0.10); down Redacted (0.10); down	riew redactions, ema erts' CV (0.10); down (0.10); download Ne Igment-Redacted (0. on Parties' Response Responses to MPSJ nload Axonic Defend	Intervention and email to D. Brothers, en ils to and from D. Brothers, upload Plea is load TCG's Emergency Motion to Set Appleson Parties' Amended Response in Opp 10); download Nelson Parties' Response to Parziale MPSJ on Recission-Redact (0.50); download Axonic Defendants Response to Parziale MPSJ on Response to Parziale MPSJ on Respond and Lift Stay of Writ of Posses	to Court's Box opeal Bond and to position to TCG- e in Opposition to ted (0.10); download Response to scission-Redacted			
01-28-2022	Approved		Billable		Carnes, Tiffany		5.000	350.00	1,750.0
			h Rick Edwards and J vith multiple clients; P		Jon Kemmerer; call with Ong; draft Polk i v.	initial client			
01-28-2022	Approved		Billable		Brothers, Doug		5.200	600.00	3,120.0
	Calls regardesignation		; telephone conference	e with Robert Brown	lie; telephone conference with Emily Mill	er; work on expert			
01-30-2022	Approved		Billable		Carnes, Tiffany		1.300	350.00	455.0
	Send out Z	oom invitation for e	expert meeting; call to	Jon Kemmerer; draf	t client administrative documents and se	nd to Emily Miller.			
01-30-2022	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.0
		nd from D. Brother Vitae (0.10).	s regarding list of doc	uments sent to expe	rts (0.10); emails to and from Jon Kemm	erer regarding			
01-31-2022	Approved		Billable		Nakamura, Suzy		7.500	150.00	1,125.0
	compile do	cuments sent to ex	pert Jon Kemmerer, r	eview and redact, en	view and revise Intervenors' Designation nails to and from T. Carnes (7.0); draft and and opposing counsel (0.30).				
01-31-2022		• •	Billable		Brothers, Doug		6.200	600.00	3,720.0
	• • •							Dama	CO of 40
06-24-2022	15:30:40							Page	68 of 10

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

							FIC	111 03-01-2016	10 00-24-2022		
Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount		
Continge	ent										
Skyloft e											
1848-001	NP Skylof	t									
	Multiple cor deposition s	– mmunications rega scheduling; follow		perts; telephone cor	experts; client communications regarding ference with Emily Miller regarding Polk;						
01-31-2022	Approved		Billable		Carnes, Tiffany		6.300	350.00	2,205.00		
					; review documents; confer with Suzy Na ts and others for deposition.	kamura on					
02-01-2022	Approved		Billable		Nakamura, Suzy		3.200	150.00	480.00		
	Exhibits (0.: from Emily emails to ar telephone of	20); draft Polk Joir Miller (0.70); telep nd from D. Brother all from and to T.	nder to Schiffman Inter hone call with D. Broth s, bookmark and finali Carnes regarding Jon	venors' Expert Desi lers regarding Rick ze expert designation Kemmerer docume	gnation and emails to and from D. Brothe gnation and emails to and from D. Brothe Edwards' curriculum vitae, revise expert cons and email to opposing counsel (0.50) nts, revise production (0.30); draft letter to email to G. Noschese (0.20).	ers, emails to and designations and ; emails and					
02-01-2022	Approved		Billable		Brothers, Doug		4.400	600.00	2,640.00		
		ert reports and dis s' expert reports.	sclosure; revisions; de	position scheduling;	letter to Greg Nochese; document review	v for privilege; review					
02-02-2022	Approved		Billable		Nakamura, Suzy		3.400	150.00	510.00		
	Carnes, rev regarding re and filing fe and to T. Ci download F Leave for S download F Under Seal Exhibits Un	Bates number document production, upload to Dropbox, draft email to opposing counsel, emails to and from D. Brothers and T. Carnes, revise email and email to opposing counsel with Dropbox link (1.20); emails and telephone calls with Nancy Rodriguez regarding returned filing, Schiffman Intervenors' Application for Temporary Restraining Order and Temporary Injunction (Redacted), and filing fee, emails from and to D. Brothers (1.0); emails from and to D. Brothers regarding discovery requests (0.10); emails from and to T. Carnes regarding supplemental production (0.10); download TCG Skyloft Owner LLC letter to Judge Crump (0.10); download Polk Intervenors' Joinder in Schiffman Intervenors' Designation of Expert Witnesses (0.10); download Plaintiffs' Motion for Leave for Schiffman Intervenors to File Application for TRO & T Under Seal (0.10); download Greystar's Expert Designation (0.10); download TCG's Verified Copy of Public Notice of Motion for Leave to File Exhibits Under Seal Pursuant to TRCP 76A (0.10); download Axonic Defendants' Verified Copy of Public Notice of Motion for Leave to File Exhibits Under Seal Pursuant to TRCP 76A (0.10); download Axonic Defendants' Designation of Experts (0.10); download Plaintiffs' Designation of Experts (0.10); download Plaintiffs' Verified Copy of Public Notices of Motions for Leave to File Exhibits Under Seal									
02-02-2022	Approved		Billable		Carnes, Tiffany		6.500	350.00	2,275.00		
					Jeffrey Hansen; call with Jane Heider; careview, and log supplemental production						
02-02-2022	Approved		Billable		Brothers, Doug		4.500	600.00	2,700.00		
		conference with R al production of m		strategy; attention t	o Po k substitution; e-mail regarding disc	overy out;					
02-02-2022	Approved		Billable		Horton, Russ		2.200	600.00	1,320.00		
		erence with D. Bro ert designation fror		tion of Amy Pikula;	review notice of same; review client mate	erials; receive and					
02-03-2022	Approved		Billable		Nakamura, Suzy		4.900	150.00	735.00		

06-24-2022 15:30:40 Page 69 of 101

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	gent								
Skyloft (	et al 1848								
	NP Skylo	ft							
	confidentia Smith (0.10 and to Barr supplemen compile all from and to Skyloft IB, (0.90), draf Patrick Ne and email t	lity, and bates nun D); upload Schiffmaney Given and Min Ital production of e Motions for Leave D D. Brothers, revis LLC and Schiffman It Schiffman Interventson and email to I	mber (0.30); emails fror an Intervenors' suppler na Myers regarding pro expert billing, redact and to File Exhibits Under se and finalize Schiffman Intervenors' Second enors' First Request fo D. Brothers (0.70); dra 10); draft Schiffman Inte	n and to T. Carnes remental production to duction (0.20); email d bates number, uple Seal and Public Nor Intervenors' First Request for Admissions, First St Schiffman Interveremental productions.	I, telephone call with Sam Arnholz at Wea egarding supplemental document product Dropbox and email to opposing counsel Is from and to T. Carnes and D. Brothers and to Dropbox and email to opposing co- tices and email to D. Brothers and T. Car Request for Admissions and First Set of ons and First Set of Interrogatories to Ne Set of Interrogatories and First Request for cors' First Set of Interrogatories to TCG Sequest for Admission and First Set of Inter-	etion for William (0.20); emails from regarding punsel (0.50); rnes (0.20); emails Interrogatories to NP elson Partners, LLC or Production to Skyloft Owner, LLC			
02-03-2022			Billable		Seabolt, Kelly		1.200	150.00	180.00
	Locate dep			ons for third party de	ponents (.5) draft depo notices and subp	oenas for Sandy			
02-03-2022	2 Approved		Billable		Brothers, Doug		4.600	600.00	2,760.00
					nference John Pok; work on mediation is g experts; multiple communications regar				
02-03-2022	2 Approved		Billable		Carnes, Tiffany		5.000	350.00	1,750.00
	client emai				ailability for depositions; update client po review documents for privilege and save				
02-04-2022	2 Approved		Billable		Brothers, Doug		4.100	600.00	2,460.00
			disclosures and interro		evise outgoing discovery; work on mediat t.	tion preparation;			
02-04-2022	2 Approved		Billable		Seabolt, Kelly		1.100	150.00	165.00
			or Sandy Simmons and bload subpoenas for Sa		one calls to and from contact Sheri at Dir	rect Legal regarding			
02-04-2022	2 Approved		Billable		Manassian, Taline		0.200	350.00	70.00
	Email from	K. Seabolt regard	ling deposition in Califo	ornia (.1); call with K.	Seabolt regarding procedure for subpoe	ena in California (.1).			
02-04-2022	2 Approved		Billable		Nakamura, Suzy		5.000	150.00	750.00
	redline and ACO Skylo Interrogato	l finalize Requests ift Manager, LLC, ries and Request f	s for Admissions and In and NP Skyloft IB, LL0 for Production to Patric	terrogatories to ACC C; Interrogatories to k Nelson and Nelso	rizona subpoena for depositions (0.30); on Skyloft Manager, LLC, Axonic Capital, In TCG Skyloft Owner, LLC; Request for Actin Partners, LLC; and Interrogatories and hers (4.60); email to opposing counsel (0.	LC, Axonic Lenders, Imissions, Request for			
02-04-2022	2 Approved		Billable		Carnes, Tiffany		5.400	350.00	1,890.00
		orocedure and loca ditional information		ut of state deposition	subpoena in Arizona; review discovery i	responses and			
02-05-2022	2 Approved		Billable		Brothers, Doug		0.200	600.00	120.00
06-24-2022	15:30:40							Page	70 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
-	NP Skylof	t							
101001		zy Nakamura.							
02-06-2022	Approved		Billable		Brothers, Doug		0.700	600.00	420.00
	Revise subs	titution papers for	Po k intervention; revi	sions and transmit.					
02-06-2022	Approved		Billable		Nakamura, Suzy		0.700	150.00	105.00
	Review, revi emails to an	se and redline Und d from D. Brothers	opposed Motion to Sul regarding mediation (	bstitute Counsel for Polk Ir (0.10).	ntervenors and Order and email	to D. Brothers (0.60);			
02-07-2022	Approved		Billable		Brothers, Doug		5.000	600.00	3,000.00
					lient communications regarding hone conference with opposing				
02-07-2022	Approved		Billable		Carnes, Tiffany		4.500	350.00	1,575.00
				rards regarding deposition nses to interrogatories and	availability; continue updating s d requests for admissions.	upplemental			
02-07-2022	Approved		Billable		Nakamura, Suzy		0.800	150.00	120.00
	Motion for S	ubstitution of Po k	Intervenors and propo	osed Order and email to D.	ubpoena for Jay Fuertez (0.10); Brothers (0.30); email to 250 S cument production from Emily M	ubmission and			
02-07-2022	Approved		Billable		Seabolt, Kelly		1.400	150.00	210.00
	conversatior deposition n	ns (.3); email updat	ted versions to Sheri f	or processing (.2); upload	a and Texas subpoenas (.3); edi California and Texas subpoenas andy Simmons deposition in Ari	s (.2); forward			
02-08-2022	Approved		Billable		Nakamura, Suzy		1.400	150.00	210.00
	to T. Carnes	and to T. Carnes r regarding same (o and email to D. Bro	0.50); bates number p	al production (0.10); reviev roduction and email to D. l	v and redact Will Smith supplem Brothers (0.30); download Polk (	ental production, email client documents and			
02-08-2022	Approved		Billable		Brothers, Doug		0.900	600.00	540.00
	Work on dep	oosition scheduling	; initial review of TCG	's multiple summary judgm	nent motions.				
02-08-2022	Approved		Billable		Carnes, Tiffany		3.600	350.00	1,260.00
	several case	e electronic filings;	multiple calls to all thr	ee intervenor experts to of	discovery responses; receive a otain dates available for depositi t communication to determine d	on; check internally on			
02-09-2022	Approved		Billable		Carnes, Tiffany		1.200	350.00	420.00
	Interoffice at		for planning; receive	and initial review of severa	al electronic court filings as well	as several opposing			
02-09-2022	Approved		Billable		Manassian, Taline		0.400	350.00	140.00
	Call with D.	Brothers regarding	motions (.2); review r	motions (.2).					
02-09-2022	Approved		Billable		Nakamura, Suzy		3.700	150.00	555.00

06-24-2022 15:30:40 Page 71 of 101

06-24-2022 15:30:40

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Page 72 of 101

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Amount
Conting	ent									
Skyloft e										
1848-001		it								
1040 001		_	tions and exhibits (3.5)	0): telephone call wi	th team regarding responses to new motio	ns (0.20): do	ownload			
02-09-2022	Approved	paraso	Billable	o), 10.0p0 ca	Brothers, Doug	(0.20), a.		7.000	600.00	4,200.00
	Extensive to				garding various summary judgment motion iew correspondence regarding temporary r					,
02-10-2022	Approved		Billable		Nakamura, Suzy			2.300	150.00	345.00
	Defendants Notices of H finalize lette and opposir	' Amended Unopp Hearing (0.20); upour rer response to Gre ang counsel (0.50);	posed Motion for Leave date Deposition Sched g Noschese 2/9 letter draft and revise Media	e to File Exhibits Unduling Chart and emore regarding Schiffman ation Statement to J	ice of Hearing (0.20); download Notice of Her Seal (0.10); emails from and to D. Brot ail to team (0.20); telephone call with team n TRO & TI and email to D. Brother, email udge Royal Furgeson, compile Expert Reple and email to D. Brothers (0.10).	hers regard (0.20); draf to 250 Subn	ing t and nission			
02-10-2022	Approved		Billable		Manassian, Taline			1.600	350.00	560.00
			judgment (.6); call wit eabolt regarding cases		ng (.4); calls with D. Br	others rega	rding			
02-10-2022	Approved		Billable		Seabolt, Kelly			0.400	150.00	60.00
	Search cou	rt docket for heari	ng notices (.3); email t	eam regarding the s	same (.1).					
02-10-2022	Approved		Billable		Brothers, Doug			7.600	600.00	4,560.00
	Research a team; telepl	nd draft letter rega none conferences	arding temporary restr with other counsel req	aining order applica garding depositions,	tion; draft mediation statement; multiple e- and motion for summary judgment hearing	mails and ca g; team mee	alls with eting.			
02-10-2022	Approved		Billable		Carnes, Tiffany			3.900	350.00	1,365.00
	temporary r to TCG mot	estraining order/te ion on NP Count I	emporary injunction; cr B; start notes on oppo	eate meeting invitat sition to TCG's motion	akamura; legal research related to respons ion for Jane Heider deposition meeting; be on for summary judgment on NP Count B; response to TCG motion for summary jud	gin draft op gather relev	position			
02-11-2022	Approved		Billable		Carnes, Tiffany			4.200	350.00	1,470.00
			th Jane Heider; continent availability; researc		o TCG motion on NP Count B; multiple cal poenas.	ls with expe	rts			
02-11-2022	Approved		Billable		Seabolt, Kelly			0.900	150.00	135.00
	Compile an	d upload Westlaw	cases from TCG Moti	on for Summary Jud	dgment (.9).					
02-11-2022	Approved		Billable		Nakamura, Suzy			1.600	150.00	240.00
	Furgeson (( McQuade a	0.30); email Media nd email to oppos gin compiling exhi	ition Statement and ex sing counsel (0.20); en	thibits to Judge R. F nails from and to D.	nt (0.70); draft, revise and finalize cover lett ourgeson (0.10); finalize Deposition Notice of Brothers and T. Carnes regarding David S regarding status of service of Subpoenas of	of Jonathan chwartz dep	osition			
02-11-2022	Approved		Billable		Brothers, Doug			3.500	600.00	2,100.00
	Finalize me	diation statement;	review motion for sur	nmary judgment exh	n bits; attention to deposition scheduling.					
02-12-2022	Approved		Billable		Brothers, Doug			0.700	600.00	420.00

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Amount
Conting	ent									
_	et al 1848									
_	NP Skylot	ft								
1010 001		ended disclosures								
02-13-2022			Billable		Brothers, Doug			0.200	600.00	120.00
	• •	privilege log moti	ons.		, 3					
02-13-2022	Approved		Billable		Carnes, Tiffany			2.500	350.00	875.00
	Continued	legal research and	d drafting for opposition	n to TCG's motion fo	or summary judgment on NP's Count B.					
02-14-2022	Approved		Billable		Carnes, Tiffany			4.400	350.00	1,540.00
	Jane Heide	r Zoom link to her	lient deposition notice; deposition; confirm na l exhibits for Doug Bro	ame spellings for dis	sition to TCG motion on NP Count B; receiclosure supplements; review and redline d m.	ive and forwa isclosure	ırd			
02-14-2022	Approved		Billable		Seabolt, Kelly			0.800	150.00	120.00
	Hansen (.4		immons subpoena and		or upcoming depositions of Javier Martinez with location (.2); update Jay Fuertez subpo					
02-14-2022	Approved		Billable		Manassian, Taline			0.700	350.00	245.00
	Review ma	terials for rescission	on motion (.6); call with	n T. Carnes regardir	ng notice issue (.1).					
02-14-2022	Approved		Billable		Brothers, Doug			3.600	600.00	2,160.00
	Revise disc	closures; letter to N	Nelson counsel; review	e-mails regarding	depositions; work on mediation preparation					
02-14-2022	Approved		Billable		Nakamura, Suzy			3.200	150.00	480.00
	from and to Support of Nelson fina Grace Mcg	D. Brothers (1.70) TCG Skyloft's Mot ncial statement ar ee regarding hear	)); emails from and to I tions for Summary Jud nd emails to and from I	D. Brothers regardin gment (0.10); draft a D. Brothers, email to	Amy Pikula (0.10); review Intervenors' Disc g Exhibit E-1 of Morris Doueck Supplemen and finalize letter to Greg Noschese and C. o Greg Noschese and Courtney Sauer (0.4 R. Horton (0.10); revise Intervenors' Disclos	tal Affidavit ir . Sauer regar 0); email from	n ding n			
02-14-2022	Approved		Billable		Horton, Russ			1.400	600.00	840.00
	Preparation	for deposition of	Amy Pikula; review cli	ent materials.						
02-15-2022	Approved		Billable		Nakamura, Suzy			0.100	150.00	15.00
	Email to D.	Brothers regardin	g Box invite for 2/16 h	earing and upload (	0.10).					
02-15-2022	Approved		Billable		Manassian, Taline			2.900	350.00	1,015.00
	Research a	vailability of resci	ssion (2.6); call with D.	Brothers regarding	research (.3).					
02-15-2022	Approved		Billable		Brothers, Doug			1.600	600.00	960.00
	Multiple e-r	nails regarding de	position scheduling an	d upcoming hearing	J.					
02-15-2022	Approved		Billable		Carnes, Tiffany			3.500	350.00	1,225.00
	Defend dep	oosition of Jane He	eider; research addres	ses for subpoenas;	review subpoenas for service.					
02-16-2022	Approved		Billable		Carnes, Tiffany			4.300	350.00	1,505.00

06-24-2022 15:30:40 Page 73 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Amount
Conting	ent									
Skyloft e										
-	NP Skylof	it								
	Attend hear summary ju Brothers on subpoena a	ing via Youtube a dgment on NP Co temporary restrai and witnesses nee	ount B; confer internall ning order and respor ded for temporary inju	y with Doug Brother nd to Court on bond nction hearing; draf	ent communication; revise opposition to TC is on client availability for depositions; confections; conference and requests; confer with Suzy thand send group client communication; call d information to Doug Brothers.	er with Doug Nakamura	g on			
02-16-2022	Approved		Billable		Brothers, Doug			2.400	600.00	1,440.00
	Multiple tex regarding s		follow up; attention to	temporary restraining	ng order and bond; calls with Russ Horton a	and Tiffany	Carnes			
02-16-2022	Approved		Billable		Nakamura, Suzy			1.000	150.00	150.00
	Leave to Fi Temporary regarding s for 3/1 Tem	e Exhibits Under S Restraining Order ame, telephone ca porary Injunction I	Seal (0.20); email from granted, hearing date all with T. Carnes (0.40 nearing (0.10); downlo	n Taylor Whitlow Ho e, and agreed upon D); emails from and ead Order Granting	g transcript of hearing on Motion to Continu ang regarding Schiffman Intervenors' Appli- bond amount, emails to and from R. Horton to T. Carnes regarding witness subpoenas Femporary Restraining Order and emails to bond and procedures (0.10)	cation for and D. Bro for Patrick	others Nelson			
02-16-2022	Approved		Billable		Manassian, Taline			0.300	350.00	105.00
	Call with T.	Carnes regarding	responses to motions	i.						
02-17-2022	Approved		Billable		Nakamura, Suzy			3.600	150.00	540.00
	posting bon Michelle Pa call and em marked cop regarding p Brothers re and email to Writ (0.10); Brothers (0 Service Rea	d and file-marked rilla (0.30); downka ail to Rene Range by of Order Grantir ayment of bond, is garding Jared Jorco D. Brothers (0.20 email to team reg 20); email to D. Bquest Form and at	copy of Order Granting and documents product regarding posting boing Temporary Restrain souing bond, fee and product and availability for 3/1 (2); emails to and from arding same and receptothers regarding Tem	ng Temporary Restracted by Nelson Partrand (0.10); telephoning Order and emalorocedures, emails whearing and exhibits Jose Garcia regard ipt for payment of biporary Restraining to D. Brothers (0.80)	of bond (0.30); telephone call with Nancy Faining Order (0.10); telephone calls and emers and emails to D. Brothers and T. Carnes e call and emails from and to Jose Garcia rill to team (0.30); telephone call and emails with team regarding same (0.60); emails from the semantial f	ails to and (0.20); telegarding filewith Paul S m and to D ef regardin estraining (0.20) estion (0.10)	from to ephone e- sintef . g bond Order ); draft			
02-17-2022	Approved		Billable		Manassian, Taline			5.700	350.00	1,995.00
	Draft respo	nse to motion for s	summary judgment.							
02-17-2022	Approved		Billable		Brothers, Doug			3.000	600.00	1,800.00
		closures; revise op y restraining orde		summary judgment	count B; conference regarding rescission r	esponse; a	ttention			
02-17-2022	Approved		Billable		Seabolt, Kelly			0.600	150.00	90.00
			Texas Subpoenas to S and payment and coor		et Legal to serve (.3); emails to and from A. purthouse (.3).	Hernandez	:			
02-17-2022	Approved		Billable		Carnes, Tiffany			2.100	350.00	735.00
	Revisions to	Skyloft suppleme	ental discovery respor	ses for Tessier and	Smith; respond to client email;					

06-24-2022 15:30:40 Page 74 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
_	NP Skylof	t							
02-17-2022	Approved	_	Billable		Horton, Russ		1.600	600.00	960.00
	Review clie	nt materials and p	reparation for status c	onference; attend same.	,				
02-18-2022	Approved		Billable		Cardenas, Ann		2.100	350.00	735.00
	Attend clien in Interventi	t zoom call lead b on to include addi	y D. Brothers to discustion of Polks (1.1).	ss updates and upcoming n	nediation (1.0); draft supplement	t to 4th Amended Plea			
02-18-2022	Approved		Billable		Seabolt, Kelly		0.200	150.00	30.00
	Emails to ar	nd from Mary Free	eman regarding depos	tion zoom link from Veritext	t (.2).				
02-18-2022	Approved		Billable		Carnes, Tiffany		6.800	350.00	2,380.00
	Parties Cou categories f deposition a	nt B; confer with A or determination of	Ann Cardenas on infor of motions and respons compiling exhibits for F	mation needed for Polk pleases; locate exhibit needed f	sition to TCG motion for summa ading supplement; research dep or motion response; email client r summary judgment on rescissi	osition notice to obtain new			
02-18-2022	Approved		Billable		Manassian, Taline		0.600	350.00	210.00
	Revise moti	on on rescission (	(.4); email D. Brothers	regarding fact issue (.1); ca	all with T. Carnes regarding resp	onse (.1).			
02-18-2022	Approved		Billable		Brothers, Doug		7.500	600.00	4,500.00
		onse to two sumn estraining order.	nary judgment motions	s, team call regarding depos	sition scheduling; client status ca	all; follow up regarding			
02-18-2022	Approved		Billable		Nakamura, Suzy		3.100	150.00	465.00
	deposition s Sheet, Order to Compel A Sheet, Apper download D issuance of Injunction (( Schiffman II) attendance	schedule and ema er on Motion to Dis Arbitration in Pulec ellant's Opening B oocket Sheet in Co Temporary Restra 0.10); email to 250 ntervenors' Motion at mediation (0.10	il to team (0.20); revisioniss & Request for Jubic case, and email from rief, Appellant's Excer callinis case and email to alining Order (0.20); er of Submission and oppon for Temporary Injunct); email to Judge R. F	e Intervenors' Disclosures a udicial Notices, Order on Mo and to D. Brothers regarding to f Record in Parziale 9th D. Brothers (0.20); emails from and to D. Brother osing counsel, receipt from tion and email to D. Brother urgeson regarding attendar	tion and knowledge (0.10); revision and email to D. Brothers (1.10); obtion to Dismiss, Request for Jung continuance of hearing (0.30 Circuit case and email to D. Brothers and from Jose Garcia regard is regarding hearing on Motion for Bond payment (0.10); draft Notices (0.30); emails from and to T. Conce at mediation (0.10); emails to Temporary Restraining Order (1.10);	download Docket dicial Notice & Motion ); download Docket others (0.20); ing expediting or Temporary ce of Hearing on Carnes regarding o and service on Greg			
02-19-2022	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails from	and to A. Carden	as regarding Interven	ors' Fourth Amended Plea i	n Intervention (0.10).				
02-19-2022	Approved		Billable		Cardenas, Ann		0.800	350.00	280.00
		analysis of of TC very was served o		ests for admissions and re	quests for production to Interver	nors to confirm the			
02-20-2022	Approved		Billable		Brothers, Doug		0.400	600.00	240.00
		revise Po k plead	ling; notice of hearing;	forward discovery requests					
02-21-2022	Approved		Billable		Brothers, Doug		3.400	600.00	2,040.00

06-24-2022 15:30:40 Page 75 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Amount
Conting	gent									
_	et al 1848									
-	NP Skylo									
1010 001		_	udament response: rev	view discovery and e	-mails regarding same; mediation preparati	on: review	and			
					l; prepare for mediation and management.	,				
02-21-2022	2 Approved		Billable		Manassian, Taline			1.200	350.00	420.00
					d T. Carnes regarding exh bits (.1); email D. eview S. Nakamura's revisions (.2).	Brothers				
02-21-2022	2 Approved		Billable		Seabolt, Kelly			0.400	150.00	60.00
			rs regarding service or erve J. Fuertez (.2).	n Jay Fuertez (.2); pl	none call and emails to and from Sheri Kerr	n with Dire	ct Legal			
02-21-2022	2 Approved		Billable		Nakamura, Suzy			5.200	150.00	780.00
	Summary Seabolt reg Brothers, fi Schiffman Motion for	Judgment on Nelso garding status of so nalize and email to Intervenors' Applic Summary Judgme	on Parties Count B, revervice of Subpoena on o Civil District Annound ation for Temporary In nt on Rescission and 6	view exhibits, email t Jay Fuertez (0.10); cement (0.30); email junction (0.20); ema exhibits, emails to ar	e Schiffman Intervenors' Opposition to TCG o D. Brothers, T. Carnes (2.90); emails fror draft Announcement form for 3/1 hearing a s from and to D. Brothers, revise Notice of I ils from and to T. Manassian, review and red from D. Brothers and T. Manassian regains and email to opposing counsel (0.20)	n and to K nd email to Hearing or dline Resp ding exhib	D. D. Doonse to			
02-21-2022	2 Approved		Billable		Carnes, Tiffany			3.500	350.00	1,225.00
					n Parties Claim B and pull exhibits for same ve and respond to client email.	; receive				
02-22-2022	2 Approved		Billable		Manassian, Taline			2.300	350.00	805.00
	Revise res	ponse to motion or	n rescission.							
02-22-2022	2 Approved		Billable		Brothers, Doug			7.200	600.00	4,320.00
	Extensive v conference		judgment responses; r	nediation preparation	n; telephone conference with opposing coul	nsel; telep	hone			
02-22-2022	2 Approved		Billable		Cardenas, Ann			0.300	350.00	105.00
	Review and Intervenors		s' First Supplement to	Intervenors' 4th Am	ended Plea in Intervention to include addition	on of Po ks	s as			
02-22-2022	2 Approved		Billable		Carnes, Tiffany			6.100	350.00	2,135.00
	cite to then	n in the response; and opposition t summary judgmen vitation for client m	t on rescission; revise	client email; work v judgment on Count opposition to TCG n	d exhibits and follow up to identify exhibits, so with Suzy Nakamura B; review supplemental production; revise re notion for summary judgment on Count B; on the sel email regarding outstanding bank acco	esponse t create Zoo	o TCG m			
02-22-2022	2 Approved		Billable		Nakamura, Suzy			6.500	150.00	975.00

06-24-2022 15:30:40 Page 76 of 101

# George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
_	NP Skylot	F#							
	Emails from Judgment of summary ju (0.10); ema and exh bits same (1.50 T. Carnes ( Manassian Submissior	n and to T. Carnes on Rescission and to T. Carnes on Rescission and adgment on Rescisuils to and from T. s., mark Exhibits to 2.30); review, revi (1.20); finalize Real and opposing co	Count B and email to ssion and revisions (0. Carnes regarding inset Response to Motion 1 se and redline Response to Francisco for Sponse to Motion for Spons	T. Carnes (0.60); e 20); email Zoom lin rting exhibits in Re- for Summary Judgr or Summary Judgr nse to Motion for Su Summary Judgmen desponse to Motion	rothers Declarations for Response to Motion mail to T. Carnes regarding exhibits to Response to Joseph McQuade's deposition to opposition to opposition to Count B, and emails to and from T. Onent on Rescission, revise Declaration and emails to another to Rescission, revise Declaration and emails to Count B, Declaration and Exhibits and Gor Summary Judgment on Rescission, Declaration and Exhibits and Gor Summary Judgment on Rescission, Declaration and Exhibits and Gor Summary Judgment on Rescission, Declaration	conse to motion for sing counsel ons to Responses Carnes regarding emails to and from and to T.			
02-23-2022	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
		n and to T. Carnes Schwartz (0.10).	and D. Brothers rega	rding cross-deposit	ion notices for Amy P kula, Eric Kaufman, A	dam Ashourzadeh,			
02-23-2022	Approved		Billable		Carnes, Tiffany		4.900	350.00	1,715.00
			t list, and task list for A that process; client zo		rding upcoming depositions; identify docume	ents to re-produce			
02-23-2022	Approved		Billable		Cardenas, Ann		0.300	350.00	105.00
	Attend call	with clients via Zo	om for						
02-23-2022	Approved		Billable		Brothers, Doug		8.200	600.00	4,920.00
	Prepare for	and attend Media	tion; post-mediation c	lient call.					
02-24-2022	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Application	for Temporary Injury	unction and email to 2	50 Submission and	(0.10); finalize Notice of Hearing on Schiffm Grace Mcgee (0.20); draft Intervenors Cros an, Adam Ashouradeh and David Schwartz.				
02-24-2022	Approved		Billable		Brothers, Doug		3.000	600.00	1,800.00
	Expert prep	aration; attention	to mediation issues.						
02-24-2022	Approved		Billable		Carnes, Tiffany		2.500	350.00	875.00
	Identify pot	ential exh bits for A	Amy Pikula deposition		· · · · · ·				
02-25-2022	Approved		Billable		Carnes, Tiffany		4.600	350.00	1,610.00
	Call from S notes interr	nally and shared w			supplemental responses to discovery; draft on the re-running intervenor production in standard				
02-25-2022	Approved		Billable		Brothers, Doug		2.700	600.00	1,620.00
	Mediation p	reparation; e-mail	to mediator; meet wit	h R. Horton.					
02-25-2022	Approved		Billable		Cardenas, Ann		1.000	350.00	350.00
	Confer with	T. Carnes regard	ing supplementing Sky	yloft discovery and	production and strategy for handling client d	epositions.			
02-25-2022	Approved		Billable		Nakamura, Suzy		1.000	150.00	150.00
					•				

06-24-2022 15:30:40 Page 77 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start St	op Duration	Rate	Amount
Continge	ent								
Skyloft et									
1848-001 N		•							
1040-0011		_	a Tomporory Postroin	ing Order and email	to D. Brothers (0.20); begin draft of Temp	norani Injunation			
	Order and e D. Brothers	mail to A. Carden (0.30); emails from	as (0.20); emails from m and to D. Brothers,	and to D. Brothers i revise and finalize A	regarding Temporary Restraining Order, regreed Order Extending Temporary Restraining Temporary Restrato T. Carnes regarding discovery request	redline and emai aining Order and	l to		
02-26-2022	Approved		Billable		Cardenas, Ann		0.500	350.00	175.00
		respondence to cl chart to documer		supplemental reque	ests for admissions and requests for prod	uction to Interve	nors		
02-27-2022	Approved		Billable		Cardenas, Ann		1.300	350.00	455.00
	(.9)				very responses from Glenn Schiffman, Sy	ydney and Nicola	a a		
02-27-2022	Approved		Billable		Brothers, Doug		2.000	600.00	1,200.00
	Work on mo	tion for summary	judgment hearing pre	oaration.					
02-27-2022	Approved		Billable		Nakamura, Suzy		1.100	150.00	165.00
	Emails from	and to D. Brother	rs, research and obtain	n cases for hearing a	and email to D. Brothers (1.10).				
02-28-2022	Approved		Billable		Nakamura, Suzy		2.700	150.00	405.00
	Ashourzade research ou Cadenas (.5 regarding B Carnes rega Motion for S Judgment o	th and email to D. t of state process 50); emails from all ox invite for hearing case cite for the summary Judgmen or Count B and process.	Brothers (0.20); draft servers, telephone cand to Jamie Foley regang (0.10); emails to an r Volair and email to Ent on Count B and Resposed Order Denying	Cross Deposition No Il with United Proces arding hearing trans d from D. Brothers r b. Brothes (0.20); up scission to Box (0.30 Motion for Partial S	s (0.30); draft Cross Deposition Notice for otice for David Schwartz and email to D. Ess Service and emails to D. Brothers, T. Coript and email to team (0.10); emails to a egarding hearing exhibits (0.10); emails to a load Exhibits to Intervenors' Responses a coript draft proposed Order Denying TCG's Normany Judgment on Rescission and en s Motion for Summary Judgment and emails.	Brothers (0.30), Carnes and A. and from Jamie F rom and to T. and Opposition to Motion for Summ nail to D. Brother	o ary s		
02-28-2022	Approved		Billable		Brothers, Doug		10.500	600.00	6,300.00
	Prepare for	and attend Media	tion; follow up and Zoo	om call with clients.					
02-28-2022	Approved		Billable		Cardenas, Ann		1.300	350.00	455.00
					ses from Will Smith, Dan Ngo and Marina ng lead by D. Brothers (1.0).	Thai, Bill Madde	en,		
02-28-2022	Approved		Billable		Carnes, Tiffany		6.100	350.00	2,135.00
	preparation	continue working		on sets of produced	notice of depositions; pull case from Wes intervenor documents; respond to client of t votes.		m		
03-01-2022	Approved		Billable		Seabolt, Kelly		0.200	150.00	30.00
	Email from I	Direct Legal regar	ding subpoena service	on Sandy Simmon	s and Jay Fuertez (.1); email team regard	ling the same (.1	).		
03-01-2022	Approved		Billable		Brothers, Doug		6.200	600.00	3,720.00
	Prepare for	and attend hearin	g; client calls; follow u	p regarding discove	ry planning.				

06-24-2022 15:30:40 Page 78 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et									
1848-001 N		<del>'</del>							
03-01-2022	Approved	<u>-</u>	Billable		Nakamura, Suzy		1.900	150.00	285.00
00 01 2022	Emails from emails from Order Deny Cross Notic (1.0); email	and to D. Brother ing TCG Motion for es of Deposition of	s regarding exh bits fo s, finalize proposed Or or Partial Summary Jud f Adam Ashourzadeh, arding service of Davi	rder Denying TĈG Mo dgment on Rescissior Eric Kaufman, Amy F	ills from and to T. Carnes regarding Lou bition for Summary Judgment on Count in and upload to Court's Box (0.20); final P kula and David Schwartz and email to tice (0.10); review and revise Declaration	B and proposed lize Intervenors' o opposing counsel	1.500	100.00	200.00
03-01-2022	Approved		Billable		Cardenas, Ann		0.300	350.00	105.00
	Confer with	T. Carnes regardi	ng potential settlemen	t and handling of Sky	loft case moving forward.				
03-01-2022	Approved		Billable		Horton, Russ		0.400	600.00	240.00
	Receive and	d review email reg	arding extension of me	ediator's proposal; rev	view client materials.				
03-02-2022	Approved		Billable		Horton, Russ		0.500	600.00	300.00
	Receive and	d review billing an	d authorize payment fo	or same; review client	materials.				
03-02-2022	Approved		Billable		Nakamura, Suzy		1.500	150.00	225.00
	Heider and Patrick Nels Carnes (0.2 Brothers red Clayton De	emails from and to son and identity of (0); emails from ar garding status of J Giacinto, email to	o T. Carnes regarding designated representa d to Kim Stephens reg ared Jordon's expert r D. Brothers regarding	same (0.20); emails t ative (0.10); draft witn garding Joseph McQu eport (0.10); email fro transcript and exhibits	(0.10); email deposition transcript and e o and from T. Carnes regarding witness ess subpoena for Patrick Nelson and e lade deposition (0.10); emails from and om Barbara Balliette regarding Depositions (0.10); finalize Declaration of Richard (e.11 Agreement (0.10).	s subpoenas for mails to and from T. to T. Carnes and D. on Transcript of			
03-02-2022	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
			ding Declaration; reviewegen drafting process		osures related to Defendants' Motion to	o Designate			
03-02-2022	Approved		Billable		Brothers, Doug		1.500	600.00	900.00
	Emails rega	rding depositions	and sealing motions;	expert declaration; co	mmunications regarding client docume	nts.			
03-02-2022	Approved		Billable		Seabolt, Kelly		0.200	150.00	30.00
	Coordinate	Joseph McQuade	zoom deposition start	time and court report	ter and videographer with Veritext (.2).				
03-03-2022	Approved		Billable		Brothers, Doug		2.500	600.00	1,500.00
	Work on de	position schedulin	g; multiple emails with	team regarding docu	ment production and deposition notices	s; case planning.			
03-03-2022	Approved		Billable		Nakamura, Suzy		1.600	150.00	240.00
	Carnes and from and to McQuade d regarding re	D. Brothers (0.90 Courtney Sauer re eposition (0.10); e edactions to Respo	); emails to and from E egarding Joseph McQ mails to and from T. C	D. Brothers and T. Ca uade deposition (0.10 Carnes regarding depo d TCG Skyloft Unopp	C Designated Representative and ema rnes regarding Glenn Schiffman deposi I); emails to and from Kim Stephens regosition exhibits (0.10); emails from and cosed Motion for Leave to File Exhibits U	ition (0.10); emails garding Joseph to D. Brothers			
03-04-2022	Approved		Billable		Nakamura, Suzy		0.300	150.00	45.00
06-24-2022 1	5:30:40							Page	79 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Amount
Conting	ent									
Skyloft e										
1848-001		ft								
1040 001	Download Evidence N	Verified Copy of P Motion for Summar Judgment on Nelso	y Judgment on Rescis	sion Redacted, Nelso	its Under Seal, Nelson Response to TC on Response to TCG Traditional and No tts' Amended Unopposed Motion for Lea	o-Evidence Mo	tion for			
03-04-2022	Approved		Billable		Brothers, Doug			2.000	600.00	1,200.00
	Follow up i	egarding discover	y matters; telephone c	onference with Russ	Horton regarding settlement and case p	olanning.				
03-04-2022	Approved		Billable		Carnes, Tiffany			3.000	350.00	1,050.00
	Finalize re-	running of product	tion on Jeffrey Hansen	and Glenn Schiffma	n.					
03-04-2022	Approved		Billable		Seabolt, Kelly			0.700	150.00	105.00
			otice for Sandy Simmon deposition location and		sition location (.3) emails to and from H	leather Wilson	with			
03-07-2022	Approved		Billable		Brothers, Doug			0.700	600.00	420.00
	E-mails re	garding to do items	s; e-mails regarding me	ediation follow up.	-					
03-07-2022	Approved		Billable		Nakamura, Suzy			0.700	150.00	105.00
					(0.10); email to opposing counsel regar Partners and email to D. Brothers (0.50)					
03-07-2022	Approved		Billable		Horton, Russ			0.500	600.00	300.00
	Email rega	rding deposition of	f Amy P kula; review cl	ient materials.						
03-07-2022	Approved		Billable		Cardenas, Ann			0.100	350.00	35.00
	Correspon	d with John Polk re	e: rescheduling deposi	tion; correspond with	Sarah Toler re: rescheduling deposition	n of Glenn Shit	fman.			
03-08-2022	Approved		Billable		Cardenas, Ann			4.400	350.00	1,540.00
	responses scheduling regarding p	to TCG's 2nd set of time to prepare for prepping witnesses	of discovery requests ( or deposition (.2); recei	.3); correspond with option	Il production (.6); correspond with client John Polk regarding moving his deposit ple cross-notices for depositions (.2); co in support of Intervenors' Objection to T	tion time and onfer with T. C				
03-08-2022	Approved		Billable		Horton, Russ			3.800	600.00	2,280.00
	Email rega	rding mediator's pi	roposal; preparation fo	r deposition; review e	exh bits for same.					
03-08-2022	Approved		Billable		Nakamura, Suzy			1.700	150.00	255.00
	Designated emails from with Dropb for Patrick (0.10); draf	d Representative and to T. Carnes ox link for correcte Nelson and Nelson to Competal production to o	and Amended Disclosu regarding corrected F red production for Hanse n Partners, LLC (0.10) el for Non-Compliance	res (0.20); email from lansen document pro en and Schiffman (0. ; emails to D. Brother Nelson Financial Sta	, subpoenas for Patrick Nelson and Nel n D. Brothers regarding filing redacted reduction (0.10); email to Dylan Jones an 10); follow-up email to T. Carnes regard as and T. Carnes regarding Smith suppletements and email to D. Brothers (0.50) D. Brothers, revise and finalize Motion to	esponses (0.1) nd opposing co ding draft subp emental produ ); email Smith	0); unsel oenas ction			
03-08-2022	Approved		Billable		Brothers, Doug			2.600	600.00	1,560.00

06-24-2022 15:30:40 Page 80 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
1848-001		ft							
1040 001		_	sition preparation; bec	in hearing preparation	on				
03-08-2022	Approved		Billable	,g p. opaa	Carnes, Tiffany		0.800	350.00	280.00
		gh deposition prep		enas; review status	of several open tasks with A. Cardenas.				
03-09-2022	Approved		Billable		Carnes, Tiffany		0.500	350.00	175.00
	Gather, upo	date, and send pot	ential Amy Pikula doc	uments to R. Horton	and D. Brothers for deposition preparation.				
03-09-2022	Approved		Billable		Brothers, Doug		5.000	600.00	3,000.00
			ediation and call with review discovery resp		ients; attention to deposition rescheduling;	preparation for			
03-09-2022	Approved		Billable		Nakamura, Suzy		2.300	150.00	345.00
	Brothers, en regarding en regarding Jopposing co	mail to clients rega xhibits for Amy P k ohn Po k depositio ounsel link to depo	arding mediator's propo kula deposition (0.10); on (0.10); compile docu	osal, discovery and t compile exhibits for uments reviewed by uade (0.10); continue	Sandy Simmons and Fuertez (0.20); email rial preparation (0.20); emails from and to 1 McQuade deposition ( ); emails from and Joseph McQuade (1.50); email from D Brote compiling Joseph McQuade documents a rt time (0.10)	Г. Carnes to A. Cardenas :hers, email to			
03-09-2022	Approved		Billable		Horton, Russ		4.100	600.00	2,460.00
	Preparation	for deposition of	Amy Pikula; review ad	ditional documents fo	or same.				
03-09-2022	Approved		Billable		Cardenas, Ann		7.900	350.00	2,765.00
			sition change for Schift tion for Leave to Desig	man/Polk (.1); depos	Po k to prepare for upcoming deposition (.7 sition preparation with Jeff Hansen (.8); dranird Party (4.5).				
03-10-2022	Approved		Billable		Cardenas, Ann		8.600	350.00	3,010.00
	deposition of		)); revise Response to		e to Designate Responsible Third Party (2. for Leave to Designate Responsible Third				
03-10-2022	Approved		Billable		Horton, Russ		11.100	600.00	6,660.00
	Travel: Aus	tin - LA; preparatio	on for deposition of Am	ıy P kula.					
03-10-2022	Approved		Billable		Nakamura, Suzy		1.100	150.00	165.00
	clients' resp subpoenas Representa deposition, Leave to De	oonses to TCG Sky for Temporary Inju ative (0.20); Emails review Veritext po esignate Responsi	yloft's Second Set of V unction hearing, finaliz s from and to Barbara urtal (0.30); emails fron ible Third Party (0.10);	Vritten Discovery and e subpoenas for Pat Balliette, Ben King, E n and to T. Carnes and upload TCG's docur	on (0.10); emails to and from A. Cardenas r d production (1.10); emails from and to D. E rick Nelson and Nelson Partners, LLC Desi Bethany Simmons and D. Brothers regardin and D. Brothers regarding Intervenors' Resp ment production and email to D. Brothers (0 al and No-Evidence Motion for Summary Ju	Brothers regarding gnated g Amy P kula onse to Motion for 0.10); emails from			
03-10-2022	Approved		Billable		Norton, Laura		0.300	125.00	37.50
	Review K. S	Seabolt and S. Nal	kamura emails regardi	ng deposition status	and all arrangements.				

06-24-2022 15:30:40 Page 81 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
-	NP Skylof	it							
03-10-2022	Approved	<u> </u>	Billable		Brothers, Doug		10.000	600.00	6.000.00
00 10 2022	Prepare for		h McQuade deposition		notions to compel; work on motion for sun Horton; client deposition preparation.	nmary judgment		000.00	0,000.00
03-11-2022	Approved		Billable		Brothers, Doug		9.000	600.00	5,400.00
					ent; attend Glenn Schiffman deposition; cosing counsel and Russ Horton.	Iraft revised			
03-11-2022	Approved		Billable		Nakamura, Suzy		3.400	150.00	510.00
	Tessier, Wi Schiffman a review and Motion for F 194.2 First	lliam and Susan Mand John and Jani revise Response Partial Summary J Amended Disclosi	Madden, Ryan and Liss ce Polk's Supplement to Axonic Motion for S udgment and email to	sa Ong and Stacy Scl to Rule 194.2 First Ai ummary Judgment ( D. Brothers (1.90); re sing counsel (0.20); e	sentatives, review Interrogatory response niffman (0.20); emails from and to D. Brot mended Disclosure (0.70); emails from ar ); compile exh bits to Schiffman's Response evise and finalize Schiffman and Po k Sup mails from and to D. Brothers, download	hers, draft Stacy nd to D. Brothers, nse to Axonic's plement to Rule			
03-11-2022	Approved		Billable		Horton, Russ		16.100	600.00	9,660.00
	Attend the	deposition of Amy	Pikula; travel: LA - Au	stin; telephone confe	rence with D. Brothers regarding same.				
03-11-2022	Approved		Billable		Cardenas, Ann		3.300	350.00	1,155.00
	Defend Dep	oosition of John Po	olk.						
03-12-2022	Approved		Billable		Cardenas, Ann		4.700	350.00	1,645.00
	Draft Skylot	t's Response to A	xonic's Motion for Par	tial Summary Judgme	ent and conduct research for law in suppo	rt of motion.			
03-12-2022	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Download 7 (0.30)	「CG Skyloft docur	ment production (0.20)	; upload Parziale Inte	rvenor document production to ND and e	mail to D. Brothers			
03-12-2022	Approved		Billable		Brothers, Doug		2.800	600.00	1,680.00
	Revisions to	o motion for summ	nary judgment respons	e; telephone confere	nce with Russ Horton.				
03-13-2022	Approved		Billable		Brothers, Doug		1.700	600.00	1,020.00
	Further revi	sions to motion fo	r partial summary judg	ment response; begi	n work on response to motion to compel a	arbitration.			
03-13-2022	Approved		Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Review and	l revise Skyloft's F	Response to Axonic's N	Notion for Partial Sum	mary Judgment.				
03-13-2022	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails from	and to D. Brothe	rs regarding Interveno	rs' Response to Axon	ic Motion for Summary Judgment and ex	hibits (0.10).			
03-14-2022	Approved		Billable		Cardenas, Ann		5.200	350.00	1,820.00
	Review and	l analysis of cases			mmary Judgment and prepare analysis ance with D. Brothers' revisions.				
03-14-2022	Approved		Billable		Norton, Laura		1.400	125.00	175.00
	Update trav	el arrangements,	itinerary and gather m	aterials for D. Brother	rs to use at depositions; emails to and fro	m D. Brothers.			

06-24-2022 15:30:40 Page 82 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e	et al 1848								
	NP Skylot	ŧ							
03-14-2022		=	Billable		Nakamura, Suzy		0.400	150.00	60.00
	( ); review Brothers re	Intervenors' Resp	onse to Axonic's Motion	on for Summary Judg	of Authorities, draft Table of Contents and gment for Exhibits, compile exh bits, emai d Mccormick for page and line designation	ils to and from D.			
03-14-2022	Approved		Billable		Brothers, Doug		12.300	600.00	7,380.00
			summary judgment re e and declarations.	sponse; telephone o	onference with opposing counsel; client o	communications;			
03-15-2022	Approved		Billable		Brothers, Doug		2.800	600.00	1,680.00
			arbitration response; to compel arbitration,		Sandy Simmons deposition; multiple calls nd matters.	and e-mails			
03-15-2022	Approved		Billable		Nakamura, Suzy		1.600	150.00	240.00
	Capital doc Objections Greg Noscl Motion to S of Interroga Compel Dis	ument production and Motion to Cor nese and Jay Ray tr ke Patrick Nelso tories and Reques	to Dropbox (0.20); em npel Discovery Respo regarding acceptance on's and Nelson Partne st for Production, and I ck Nelson and email to	ails from and to D. B nses from ACO Skylo of service of Subpoors trs LLC's Objections Motion to Compel res	on Partners Designated Representative (Corothers regarding Motion to Compel, draft oft, Axonic and Axonic Lenders (end 1:30 ena for Patrick Nelson and Nelson Partnet to Schiffman Intervenors' Requests for Asponses to Discovery ( ); revise and final 54 pm); draft Announcement for 3/21 hea	it Motion to Strike p.m.); email to ers (0.10); draft dmission, First Set ize Motion to			
03-15-2022	Approved		Billable		Norton, Laura		3.100	125.00	387.50
	flights, hote	I, deposition site a	ind court reporter; draf	t amended notice of	arding deposition arrangements; calls an deposition for Sandy Simmons and serve send additional email to all counsel.				
03-15-2022	•	•	Billable		Horton, Russ		0.600	600.00	360.00
	Email regar	ding Sandy Simm	ons deposition; email	egarding same; revi	ew client materials.				
03-16-2022	Approved		Billable		Cardenas, Ann		7.400	350.00	2,590.00
	Brothers; co	onfer with D. Broth	ers and S. Nakamura	regarding strategy for	on; deposition preparation with Javier Ma or handling Skyloft outstanding discovery sions and conduct additional research in	; revise Intervenors'			
03-16-2022	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
	ACO Skylo				ks (0.20); review and revise Intervenors' l Objections and Motion to Compel Respo				
03-16-2022	Approved		Billable		Brothers, Doug		2.600	600.00	1,560.00
	Hearing pre	eparation; revise m	notions to compel; worl	c on opposition to mo	otion to compel arbitration; witness prepa	ration.			
03-16-2022	Approved		Billable		Norton, Laura		1.500	125.00	187.50

06-24-2022 15:30:40 Page 83 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
-	NP Skylot	F4							
1040-001		_	orongo room for Sand	v Simmono donocitio	on; email from S. Nakamura and check the	Toyon Bulon about			
	filing depos	ition notices; emai	I to D. Brothers and S	Nakamura regardin	g same; prepare an itinerary for R. Horton I amended deposition notice.				
03-17-2022	Approved		Billable		Norton, Laura		1.000	125.00	125.00
					leposition notice of Sandy Simmons with C Simmons; call to hotel sales person and co				
03-17-2022	Approved		Billable		Brothers, Doug		12.300	600.00	7,380.00
	Discussions	s with opposing co	unsel; deposition prep	aration; hearing pre	paration; attend James Parziale depositior	١.			
03-17-2022	Approved		Billable		Horton, Russ		0.400	600.00	240.00
	Receive an	d review notice fro	m mediator to Court;	email with D. Brother	rs regarding same.				
03-18-2022	Approved		Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Attend depo	osition of Ashley H	lolloway.						
03-18-2022	Approved		Billable		Brothers, Doug		7.000	600.00	4,200.00
	Hearing pre	eparation; deposition	on preparation; teleph	one conference with	opposing counsel.				
03-19-2022	Approved		Billable		Cardenas, Ann		1.700	350.00	595.00
	Review clie	nt documents for o	documents responsive	to Interrogatory #20	).				
03-20-2022	Approved		Billable		Cardenas, Ann		4.400	350.00	1,540.00
	Draft orders	s for all intervenor	motions and/or respor	ses set to be heard	3/21/2022.				
03-20-2022	Approved		Billable		Brothers, Doug		3.200	600.00	1,920.00
	E-mails with	n counsel; review a	and communications r	egarding discovery r	esponses; hearing preparation.				
03-21-2022	Approved		Billable		Norton, Laura		1.000	125.00	125.00
	Change tra BRH and D Brothers ar	DB travel and dep	arrangements; email ositions to make sure	to S. Nakamura and all cancellations and	K. Seabolt; review emails and doubleched arrangements are correct; prepare and se	ck details about end itinerary to D.			
03-21-2022	Approved		Billable		Brothers, Doug		8.000	600.00	4,800.00
	Prepare for	and attend hearin	g; follow up conference	e and telephone cor	offerences with counsel.				,
03-21-2022	Approved		Billable		Horton, Russ		0.900	600.00	540.00
	Office confe	erence with D. Bro	thers regarding object	ion to Parziale interv	rention; review client materials.				
03-22-2022	Approved		Billable		Horton, Russ		1.100	600.00	660.00
	Receive an	d review term she	et for Nelson settleme	nt; office conference	with D. Brothers regarding same.				
03-22-2022	Approved		Billable		Cardenas, Ann		2.000	350.00	700.00
		osition of Interven	or Javier Martinez.						
03-22-2022	Approved		Billable		Norton, Laura		0.500	125.00	62.50
		. Nakamara about nd send email to t		calls to hotel, court	reporter, etc. to reconfirm for the Skyloft do	eposition of Sandy			

06-24-2022 15:30:40 Page 84 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Amount
Conting	ent									
Skyloft e										
-	NP Skylof	ft								
03-22-2022	Approved	_	Billable		Brothers, Doug			11.500	600.00	6,900.00
		endance; follow up depositions; trave		y responses and disc	cussions with opposing counsel and Parzia	ale counsel;				
03-23-2022	Approved		Billable		Brothers, Doug			19.000	600.00	11,400.00
		oositions; e-mail re			counsel; travel to Austin; work on confider to Austin; work on trial preparation; attent					
03-23-2022	Approved		Billable		Cardenas, Ann			4.400	350.00	1,540.00
	Motion for S Count B; re correspond	Summary Judgme view requirements ence to Nelson Pa	ent on the remedy of rests for presentment of a	scission and their Res claim for attorney's fe and TCG Parties pres	order for Schiffman Intervenors' Respons sponse to TCG Skyloft's Motion for Summes under Tex. Civ. Prac. & Rem Code secting claim for attorney's fees pursuant toponses due (.3).	nary Judgme c. 38.001; pr	nt on epare			
03-23-2022	Approved		Billable		Nakamura, Suzy			0.400	150.00	60.00
	( ); downlo	oad Parziale Cross	s Deposition Notice of	Adam Ashourzadeh,	d TCG Second Set Discovery and email to David Schwartz, and Morris Doueck (0.20 Second Amended Deposition Notice of Ac	); download				
03-23-2022	Approved		Billable		Horton, Russ			1.200	600.00	720.00
	Review dep	osition of Amy Pil	kula; review client mate	erials.						
03-24-2022	Approved		Billable		Seabolt, Kelly			0.200	150.00	30.00
	Locate Ame	ended Intervention	n and cles	s and forward to R. H	orton (.).					
03-24-2022	Approved		Billable		Horton, Russ			1.600	600.00	960.00
	Review terr	n sheet; telephone	e conference with	regarding sar	me.					
03-24-2022	Approved		Billable		Brothers, Doug			6.400	600.00	3,840.00
	Prepare for	and attend Adam	Ashourzadeh and Mo	rris Doueck depositio	ns; communications with opposing counse	el.				
03-24-2022	Approved		Billable		Manassian, Taline			0.100	350.00	35.00
	Call with R.	Horton regarding	settlement.							
03-24-2022	Approved		Billable		Carnes, Tiffany			1.500	350.00	525.00
	Locate seve	eral documents fo	r use as upcoming exh	ibits; dowload, extrac	ct, and save multiple NP productions to sha	ared firm file	s.			
03-25-2022	Approved		Billable		Manassian, Taline			0.200	350.00	70.00
	Meeting wit	h R. Horton regar	ding research (.2).							
03-25-2022	Approved		Billable		Brothers, Doug			6.600	600.00	3,960.00
	Attend Dav		sition; telephone confe	rence with opposing o	counsel; telephone conference with client	and other co	unsel;			
03-25-2022	<b>Approved</b>		<del>Billable</del>		Horton, Russ			<del>1.200</del>	600.00	<del>720.00</del>

06-24-2022 15:30:40 Page 85 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
_	NP Skylot	Ft							
1040 001		conference with	regarding	; revi	ew client materials; office conference with	D. Brothers			
03-25-2022	Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Supplemen	Parziale's Disclosu Ital and Initial Disc Egarding deposition	losures (0.20); emails	al Disclosures, Plair from and to Joanne	tiffs' First Amended Disclosures, and TCG Hansen regarding Verification (0.10); emai	& Triangle ils from and to Kori			
03-26-2022	Approved		Billable		Brothers, Doug		0.400	600.00	240.00
	Review filin	igs.							
03-26-2022	Approved		Billable		Manassian, Taline		1.800	350.00	630.00
	Research								
03-26-2022	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Download A	Axonic Defendants	Supplemental and Ini	tial Disclosures and	TCG & Triangle Second Supplemental Dis	sclosures (0.20).			
03-27-2022	<b>Approved</b>		<del>Billable</del>		Brothers, Doug		<del>1.200</del>	600.00	<del>720.00</del>
	Draft and s	ubmit response							
03-27-2022	Approved	_	Billable		Cardenas, Ann		0.300	350.00	105.00
			arding potential depos er regarding potential o		er with Rick Edwards regarding potential d	eposition dates (.			
03-28-2022	Approved		Billable		Brothers, Doug		4.600	600.00	2,760.00
	Trial prepar	ration; telephone o	onference with opposi	ng counsel; e-mail to	intervenor counsel.				
03-28-2022	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Call to R. H	lorton regarding re	esearch on						
03-28-2022	Approved		Billable		Carnes, Tiffany		0.500	350.00	175.00
	Continue d	ownloading docum	nents produced by othe	er parties and saving	to firm shared files.				
03-29-2022	Approved		Billable		Nakamura, Suzy		0.600	150.00	90.00
	regarding C	Order on Motion to ne 1 images and lo	Compel Arbitration, re	view Court's website	Deposition Exhibit List ( ); emails from and for Order (0.20); emails from and to Ana largarding Ashley Holloway deposition exh	Manzano regarding			
03-29-2022	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Call with R.	. Horton regarding	research on						
03-29-2022	Approved		Billable		Brothers, Doug		6.200	600.00	3,720.00
	Extensive t	rial preparation; w	ork on voir dire, jury ch	narge, exhibit list.					
03-30-2022	Approved		Billable		Brothers, Doug		6.800	600.00	4,080.00
	Extensive t	rial preparation; co	ontinue to work on jury	charge and exhibit I	ist; call with opposing counsel.				
03-30-2022	Approved		Billable		Nakamura, Suzy		0.800	150.00	120.00

06-24-2022 15:30:40 Page 86 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
ent								
	+							
Review and regarding A production (	download Orders shley Holloway de (0.10); email from	position transcripts (0 TSG Reporting regard	.10); emails from an ling Adam Ashourza	d to Dylan Jones regarding PCM Volume deh deposition exhibits, download exhibi	e 1 images			
	no regarding r Ow	<u> </u>	10), continue draiting	• • • • • • • • • • • • • • • • • • • •		1 800	600.00	1.080.00
Office confe			ning discovery and s	,	erials; review draft	1.000	000.00	1,000.00
Approved		Billable		Horton, Russ		1.100	600.00	660.00
Receive and	d review response	to motion to exclude	expert; review filings	; legal research regarding draft charge.				
Approved		Billable		Brothers, Doug		1.600	600.00	960.00
Work on tria	al preparation; com	nmunications with opp	osing counsel.					
Approved		Billable		Manassian, Taline		0.400	350.00	140.00
Research								
Approved		Billable		Nakamura, Suzy		0.000	150.00	0.00
Continue dr	afting Deposition I	Exhibit List						
Approved		Billable		Cardenas, Ann		0.200	350.00	70.00
Confer with	D. Brothers regard	ding projects to be co	mpleted prior to trial.					
Approved		Billable		Cardenas, Ann		0.300	350.00	105.00
Call with Rick Ed	ck Edwards regard dwards regarding t	ding trial prep and dep trial prep and depositi	osition (.1); call with on (.1).	Jared Jordan regarding trial prep and de	eposition (.1); call			
Approved		Billable		Nakamura, Suzy		0.000	150.00	0.00
Continue dr	afting Deposition I	Exhibit List.						
Approved		Billable		Carnes, Tiffany		1.300	350.00	455.00
Review and	summarize March	n 2022 Parziale produ	ction.					
Approved		Billable		Brothers, Doug		4.600	600.00	2,760.00
Extensive w	ork on exhibit list;	e-mails and telephon	e conferences with o	ther counsel.				
Approved		Billable		Carnes, Tiffany		2.300	350.00	805.00
Review and	summarize TCG	March supplemental բ	production.					
Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
			om Court's website	and email to team (0.50); download Jame	es Parziale			
Approved		Billable		Brothers, Doug		7.000	600.00	4,200.00
Extensive tr	ial preparation; wo	ork on exhibit list; clier	nt communications; t	elephone conference with opposing cour	nsel.			
Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Review and regarding A production (Ana Manzal Approved Office confejury charge. Approved Receive and Approved Research Approved Continue dr Approved Confer with Approved Call with Rick Ed Approved Review and Approved Review and Approved Extensive was Approved Review and Approved Extensive was Approved Emails from deposition to Approved Extensive tressive tressi	Review and download Orders regarding Ashley Holloway de production (0.10); email from Ana Manzano regarding PCM Approved Office conference with D. Bro jury charge. Approved Receive and review response Approved Work on trial preparation; con Approved Research Approved Continue drafting Deposition I Approved Confer with D. Brothers regar Approved Call with Rick Edwards regarding and Approved Continue drafting Deposition I Approved Call with Rick Edwards regarding and Approved Continue drafting Deposition I Approved Extensive work on exhibit list; Approved Review and summarize Marcial Approved Extensive work on exhibit list; Approved Extensive work on Exhibit list; Approved Emails from and to D. Brother deposition transcript and exhibit Approved Extensive trial preparation; we extensive trial preparation; we	Review and download Orders from Court's Attorney regarding Ashley Holloway deposition transcripts (0 production (0.10); email from TSG Reporting regard Ana Manzano regarding PCM Volume.1 images (0.10).  Approved Billable Office conference with D. Brothers regarding remaining pury charge.  Approved Billable Receive and review response to motion to exclude Approved Billable Work on trial preparation; communications with opposition Approved Billable Research Search Sear	Review and download Orders from Court's Attorney Access portal and oregarding Ashley Holloway deposition transcripts (0.10); emails from an production (0.10); emails from an production (0.10); emails from an an approach of the provided and a	Review and download Orders from Court's Attorney Access portal and email to D. Brothers (0.30); email from TS regarding Ashley Holloway deposition transcripts (0.10); emails from and to Dylan Jones regarding PCM Volume production (0.10); email from TSG Reporting regarding Adam Ashourzaden deposition exhibits, download exhibit Ana Manzano regarding PCM Volume.1 images (0.10); continue drafting Deposition Exhibit List ().  Approved Billable Horton, Russ Office conference with D. Brothers regarding remaining discovery and settlement discussions; review client mate jury charge.  Approved Billable Horton, Russ Receive and review response to motion to exclude expert; review filings; legal research regarding draft charge.  Approved Billable Brothers, Doug Work on trial preparation; communications with opposing counsel.  Approved Billable Manassian, Taline Research Approved Billable Nakamura, Suzy Continue drafting Deposition Exhibit List  Approved Billable Cardenas, Ann Confer with D. Brothers regarding projects to be completed prior to trial.  Approved Billable Cardenas, Ann Call with Rick Edwards regarding trial prep and deposition (.1); call with Jared Jordan regarding trial prep and deposition (.1).  Approved Billable Nakamura, Suzy Continue drafting Deposition Exhibit List.  Approved Billable Carrnes, Tiffany Review and summarize March 2022 Parziale production.  Approved Billable Carnes, Tiffany Review and summarize March 2022 Parziale production.  Approved Billable Brothers, Doug Extensive work on exhibit list; e-mails and telephone conferences with other counsel.  Approved Billable Review and summarize TCG March supplemental production.  Approved Billable Review and summarize TCG March supplemental production.  Approved Billable Review and summarize TCG March supplemental production.  Approved Billable Review and summarize TCG March supplemental production.  Approved Billable Review and semantic total conditions to team (0.50); download Jamdeposition transcript and exhibits.	Review and download Orders from Court's Attorney Access portal and email to D. Brothers (0.30); email from TSG Reporting regarding Ashley Holloway deposition transcripts (0.10); emails from and to Dylan Jones regarding PCM Volume 1 images production (0.10); email from TSG Reporting regarding Adam Ashourzadeh deposition exhibits, download exhibits (0.20); email to Ana Manzano regarding PCM Volume. 1 images (0.10); continue drafting Deposition exhibits List (1).  Approved Billable Horton, Russ Office conference with D. Brothers regarding remaining discovery and settlement discussions; review client materials; review draft jury charge.  Approved Billable Horton, Russ Receive and review response to motion to exclude expert; review filings; legal research regarding draft charge.  Approved Billable Brothers, Doug Work on trial preparation; communications with opposing counsel.  Approved Billable Manassian, Taline Research  Approved Billable Nakamura, Suzy Continue drafting Deposition Exhibit List  Approved Billable Cardenas, Ann Confer with D. Brothers regarding projects to be completed prior to trial.  Approved Billable Cardenas, Ann Call with Rick Edwards regarding trial prep and deposition (.1); call with Jared Jordan regarding trial prep and deposition (.1); call with Rick Edwards regarding trial prep and deposition (.1); call with Rick Edwards regarding trial prep and deposition (.1); call with Rick Edwards regarding trial prep and deposition (.1); call with Rick Edwards regarding trial prep and deposition (.1); call with Rick Edwards regarding trial prep and deposition (.1); call with Jared Jordan regarding trial prep and deposition (.1); call with Rick Edwards regarding trial prep and deposition (.1); call with Rick Edwards regarding trial prep and deposition (.1); call with Rick Edwards regarding trial prep and deposition (.1); call with Rick Edwards regarding trial prep and deposition (.1); call with Rick Edwards regarding trial prep and deposition (.1); call with Jared Jordan regarding trial prep and deposi	Review and download Orders from Court's Attorney Access portal and email to D. Brothers (0.30); email from TSG Reporting regarding Ashley Holloway deposition transcripts (0.10); emails from and to Dylan Jones regarding PCM Volume 1 images production (0.10); email from TSG Reporting regarding Ashley Holloway deposition transcripts (0.10); emails from and to Dylan Jones regarding PCM Volume. I images production (0.10); email from TSG Reporting regarding Adam Ashourzadeh deposition exhibits, download exhibits (0.20); email to Ana Manzano regarding PCM Volume. I images (0.10); continue drafting Deposition Exhibit List ().  Approved Billable Horton, Russ 1.800 (Office conference with D. Brothers regarding remaining discovery and settlement discussions; review client materials; review draft Jury charge.  Approved Billable Horton, Russ 1.100 (Receive more than 1990) (Receive more representations) (Receive and review response to motion to exclude expert; review filings; legal research regarding draft charge.  Approved Billable Brothers, Doug 1.600 (Work on trial preparation; communications with opposing counsel.  Approved Billable Manassian, Taline 0.400 (Research Billable Nakamura, Suzy 0.000 (Continue drafting Deposition Exhibit List (Approved Billable Cardenas, Ann 0.200 (Continue drafting Deposition Exhibit List (Cardenas, Ann 0.200 (C	Review and download Orders from Court's Attorney Access portal and email to D. Brothers (0.30); email from TSG Reporting regarding Ashhey Holloway deposition transcripts (0.10); emails from and to Dylan Jones regarding PCM Volume 1 images production (0.10); emails from TSG Reporting regarding Ashhay Ashhey Holloway deposition transcripts (0.10); emails from and to Dylan Jones regarding PCM Volume 1 images production (0.10); emails from TSG Reporting regarding Ashhay Ashhay Ashhay Long and Ashhay Long (0.10); emails from TSG Reporting regarding Ashhay Long (0.10); emails from and to Dylan Jones regarding PCM Volume 1. Images (0.10); continue drafting Deposition Exhibit List (1.)  Approved Billable Horton, Russ 1.100 600.00  Receive and review response to motion to exclude expert; review filings; legal research regarding draft charge.  Approved Billable Brothers, Doug 1.600 600.00  Receive and review response to motion to exclude expert; review filings; legal research regarding draft charge.  Approved Billable Manassian, Taline 0.400 350.00  Research  Approved Billable Manassian, Taline 0.400 350.00  Research  Approved Billable Nakamura, Suzy 0.000 150.00  Confirme drafting Deposition Exhibit List  Approved Billable Cardenas, Ann 0.200 350.00  Confirme drafting Deposition Exhibit List  Approved Billable Cardenas, Ann 0.200 350.00  Call with Rick Edwards regarding trial prep and deposition (.1); call with Jared Jordan regarding trial prep and deposition (.1); call with Jared Jordan regarding trial prep and deposition (.1); call with Rick Edwards regarding trial prep and deposition (.1).  Approved Billable Carnes, Tiffany 1.300 350.00  Review and summarize March 2022 Parziale production.  Approved Billable Carnes, Tiffany 1.300 350.00  Review and summarize TCG March supplemental production.  Approved Billable Carnes, Tiffany 2.300 350.00  Review and summarize TCG March supplemental production.  Approved Billable Nakamura, Suzy 0.500 150.00  Extensive trial preparation; download Orders from Court's website and email

06-24-2022 15:30:40 Page 87 of 101 George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate		Amount
Continge	ent										
Skyloft e											
1848-001		4									
		<u>.</u>	Billable		Cornes Tiffeny			2.000	250.00		1 050 00
04-05-2022	Approved	rovious and summs		upplemental production.	Carnes, Tiffany			3.000	350.00		1,050.00
04-05-2022	Approved	review and summe	Billable	аррієтієткаї ргодаскої.	Brothers, Doug			6.800	600.00		4,080.00
0.002022	• • •	ation; assemble e		ing supplemental discovery; cor	, ,	ounsel; work	on	0.000	000.00		1,000.00
	graphics for		,	7,		,					
04-05-2022	Approved		Billable		Manassian, Taline			0.600	350.00		210.00
	Research										
04-05-2022	Approved		Billable	1D 1 M 5 1 O1	Cardenas, Ann			3.000	350.00		1,050.00
04.05.0000		search for case lav		rs' Response to Motion to Stay.	Hawton Duca			4 000	600.00		700.00
04-05-2022	Approved Review		Billable	vith D. Brothers regarding same	Horton, Russ			1.200	600.00		720.00
04-06-2022	Approved		Billable	will b. brothers regarding same	Horton, Russ			2.100	600.00		1,260.00
04-00-2022	• • •	al research from .l.	Lloyd; review revised	charge	Horton, Russ			2.100	000.00		1,200.00
04-06-2022	Approved		Billable	onargo.	Cardenas, Ann			9.200	350.00		3,220.00
	Research				J			01200			0,==0100
	investment		ition (and exh bits) of I	(.5); review deposition (and exh Paul Tessier for testimony to		mony to estab v deposit <u>ion (</u> a	lish				
04-06-2022	Approved		Billable		Brothers, Doug			7.000	600.00		4,200.00
	Meet with Ir	ntervenor counsel;	trial preparation - incl	uding limine, charge, exhibit and	l witness list.						
04-06-2022	Approved		Billable		Carnes, Tiffany			4.100	350.00		1,435.00
	Pull trial ext	nibits; work on cre	ating large trial demon	strative exh bits; review recent F	Parziale supplemental produc	ction.					
04-06-2022	Approved		Billable		Manassian, Taline			0.900	350.00		315.00
	Research			(.8); conference with R. Horto							
04-07-2022	Approved		Billable		Carnes, Tiffany			3.900	350.00		1,365.00
04.07.0000	· .	ılling trial exhibits;		rge trial demonstrative exhibits;	• • • • • • • • • • • • • • • • • • • •	lemental prod	uction.	0.000	050.00		70.00
04-07-2022	Approved	0 1 14 15	Billable		Manassian, Taline			0.200	350.00		70.00
04-07-2022	Approved	Seabolt regarding	Billable	call with R. Horton regarding mo	Brothers, Doug			7.300	600.00		4.380.00
04-07-2022	Work on Ne	elson matter; telep tion in limine, and	none conference with	opposing counsel; team meeting	,	demonstrativ	es, jury	7.300	000.00		4,300.00
04-07-2022	Approved		Billable		Seabolt, Kelly			1.200	150.00		180.00
	Compile an	d organize trial de	position notebooks (1.	2).	•						
04-07-2022	Approved		Billable		Nakamura, Suzy			0.000	150.00		0.00
06-24-2022	15:30:40								Page	88	of 101

**Status** 

Date

George Brothers Kincaid and Horton, L.L.P.

**Approval** 

BillableType

Task

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

Rate

Duration

From 05-01-2018 To 06-24-2022

**Amount** 

Date	Status Appro	ovai Biliable i ype	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent							
Skyloft e	t al 1848							
1848-001 I	NP Skyloft							
		. Brothers, download Orders fro and exhibits, update Deposition		nd email to team (0.50); download James Par	rziale			
04-07-2022	Approved	Billable		Cardenas, Ann		3.700	350.00	1,295.00
	Review NP Parties' E	mergency Motion to Stay (.2);	conduct additional re	search regarding whether				
	Horton. (1.0).		(2.5); includ	e additional research in analysis to D. Brother	s and R.			
04-07-2022	Approved	Billable		Horton, Russ		3.100	600.00	1,860.00
	Review depositions; p	preparation trial deposition des	ignations.					
04-08-2022	Approved	Billable		Cardenas, Ann		8.500	350.00	2,975.00
	Begin gathering interv	venor's exh bits to be used at tr	rial establishing					
04-08-2022	Approved	Billable		Brothers, Doug		7.200	600.00	4,320.00
	Trial preparation; witn	ness preparation.						
04-08-2022	Approved	Billable		Seabolt, Kelly		2.000	150.00	300.00
	Compile and organize	e live pleadings trial notebooks	(2.0).					
04-09-2022	Approved	Billable		Brothers, Doug		4.500	600.00	2,700.00
	Work on issues regard	ding Nelson; telephone conference	ences with counsel;	drafting.				
04-10-2022	Approved	Billable		Brothers, Doug		4.000	600.00	2,400.00
	Draft client e-mail; e-r	mail between opposing counse	l; set up client meeti	ng; prepare for and attend client call.				
04-10-2022	Approved	Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Review depositions or page and line reference settlement development	ces to testimony proving-up Sk	i, Faron Page, Dan N kyloft investment (2.5	Igo, Adelaida Martinez, Daniel Bell and Donna i); attend client Zoom call lead by D. Brothers	a Dekker for to discuss			
04-11-2022	Approved	Billable		Cardenas, Ann		9.500	350.00	3,325.00
	for page and line refe	rences to testimony proving-up	Skyloft investment	, Lous Buttny, Hugh Dykes, Sydney Crisp, an (4.0); confer with D. Brothers and R. Horton re w and revise (including reformatting) witness p	egarding trial			
04-11-2022	Approved	Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails from and to D.	. Brothers regarding Jon Kemn	nerer documents and	I email to T. Carnes regarding same (0.10);				
04-11-2022	Approved	Billable		Manassian, Taline		0.100	350.00	35.00
	Call with R. Horton re	garding settlement credits.						
04-11-2022	Approved	Billable		Seabolt, Kelly		0.800	150.00	120.00
	Continue organizing li	ive pleadings trial notebooks (.	80).					
04-11-2022	Approved	Billable		Brothers, Doug		8.600	600.00	5,160.00
	Trial preparation; com	nmunications with opposing co	unsel; client commur	nications.				

**Professional** 

Start Stop

06-24-2022 15:30:40 Page 89 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
_	NP Skylot	ft							
04-11-2022	Approved	_	Billable		Horton, Russ		2.200	600.00	1,320.00
	Telephone	conference with	aterials.		; review and revise charge; preparation tria	al deposition			,
04-12-2022	Approved		Billable		Horton, Russ		3.700	600.00	2,220.00
	Trial prepar	ration; review Nels	on term sheet; legal re	search regarding	contribution and comparative submission un	der Chapter 33.			
04-12-2022	Approved		Billable		Seabolt, Kelly		4.300	150.00	645.00
	DeGiacinto	and Morris Doued		firm with Paul Sin	2); contact TSG Reporting to order ASCII for tef, court accounting, jury fee paid (.3); emai				
04-12-2022	<b>Approved</b>		Billable		<del>Manassian, Taline</del>		3.500	350.00	1,225.00
	Draft liquida	ation plan.							
04-12-2022	Approved		Billable		Brothers, Doug		6.800	600.00	4,080.00
	Trial prepar	ration.							
04-12-2022	Approved		Billable		Cardenas, Ann		3.000	350.00	1,050.00
	Continue di	rafting jury charge							
04-13-2022	Approved		Billable		Cardenas, Ann		8.000	350.00	2,800.00
	Complete fi	irst draft of jury ch	arge (4.5); revise witne	ess designations (3	3.5).				
04-13-2022	Approved		Billable		Seabolt, Kelly		2.500	150.00	375.00
	Continue or compile, cre	rganizing live plead eate and organize	dings trial notebook for interrogatories and red	D. Brothers (.3); quests for admissi	compile, create and organize disclosures tria on responses trial notebook (1.4).	al notebook (.8);			
04-13-2022	Approved		Billable		Brothers, Doug		8.000	600.00	4,800.00
	Trial prepar	ration; exhibit list; v	work on partial resoluti	on.					
04-13-2022	Approved		Billable		Carnes, Tiffany		2.000	350.00	700.00
	Locate doc	uments for trial ex	hibits.						
04-13-2022	Approved		Billable		Horton, Russ		3.100	600.00	1,860.00
	Review judgment.	; pr	eparation charge ques	stion; trial preparat	tion; telephone conference with K. Mercer re	garding pocket			
04-14-2022	Approved		Billable		Horton, Russ		1.100	600.00	660.00
	Trial prepar	ration and work on	charge credit issues.						
04-14-2022	Approved		Billable		Brothers, Doug		8.300	600.00	4,980.00
	Trial prepar	ration - objection a	nd counter designation	ns; motion in limin	e				
04-14-2022	Approved		Billable		Seabolt, Kelly		4.900	150.00	735.00
	Compile an	d organize expert	reports trial notebooks	s (1.0).					
04-14-2022	Approved		Billable		Nakamura, Suzy		23.500	150.00	3,525.00

06-24-2022 15:30:40 Page 90 of 101

06-24-2022 15:30:40

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All View = Original From 05-01-2018 To 06-24-2022

Page 91 of 101

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		it							
	Email Word	version of Exhibit	List and Deposition Devise Motion in Limine.	esignations to oppo	osing counsel, upload Exhibits to Dropbox	and email to D.			
04-14-2022	Approved	,	Billable		Manassian, Taline		0.500	350.00	175.00
		with R. Horton re		anguage (.1); calls	with K. Seabolt regarding enforcement lar	nguage (.3); email R.			
04-14-2022	Approved		Billable		Cardenas, Ann		7.500	350.00	2,625.00
			e and conduct research ections and cross obje		al damages instructions (2.5); review NP's (5.0).	witness			
04-15-2022	Approved		Billable		Cardenas, Ann		4.500	350.00	1,575.00
	Review Axo	nic's witness desi	gnations and prepare o	bjections and cros	ss designations in response.				
04-15-2022	Approved		Billable		Nakamura, Suzy		6.100	150.00	915.00
	(0.30); down deadline for emails to ar download T	nload John Polk d objections to exh nd from T. Carnes CG/Axonic exhibi	eposition exhibits and ibits and email team re regarding additional pits ( ); telephone call fr	email to K. Seaboli garding same (1.5 oduction (0.10); co om D. Brothers an	e call from D. Brothers (0.20); download N (0.20); review Scheduling Orders and em 0); email to K. Seabolt regarding exhibit no ompile experts Rick Edwards' documents of d emails to and from Jenny Lloyd and D. I (); download pleadings ( ).	nails regarding otebook (0.10); relied upon ( );			
04-15-2022	Approved		Billable		Brothers, Doug		8.000	600.00	4,800.00
	Trial prepar	ation; attend dock	et call; work on partial	resolution.					
04-15-2022	Approved		Billable		Manassian, Taline		1.200	350.00	420.00
	Review liqu	idation plan and e	mail D. Brothers and R	. Horton regarding	the same.				
04-15-2022	Approved		Billable		Horton, Russ		2.500	600.00	1,500.00
	Trial prepar	ation; legal resear	ch regarding contributi	on issue; review cl	ient materials.				
04-16-2022	Approved		Billable		Horton, Russ		1.100	600.00	660.00
	Receive and	d review revisions	to liquidation plan; tele	phone conference	with D. Brothers regarding same.				
04-16-2022	Approved		Billable		Brothers, Doug		4.500	600.00	2,700.00
	Trial Prepar	ation.							
04-17-2022	Approved		Billable		Brothers, Doug		3.200	600.00	1,920.00
	Work on res	solution issues; tri	al preparation.						
04-17-2022	Approved		Billable		Horton, Russ		1.200	600.00	720.00
	Receive and	d review draft poc	ket judgment; email reç	garding same; revi	ew client materials.				
04-18-2022	Approved		Billable		Horton, Russ		6.300	600.00	3,780.00
	Review and motion and	revise objections order of severand	to A. Pikula deposition e; email regarding sam	designations; dra	ft motion to quash; review client materials;	review and revise			
04-18-2022	Approved		Billable		Manassian, Taline		1.800	350.00	630.00
	Call from R. email R. Ho	. Horton regarding orton regarding mo	trial subpoenas (.1); retion to quash (.1).	esearch limits on tr	ial subpoena to parties (1.4); revise motio	n to quash (.2);			

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
_	NP Skylof	t							
04-18-2022	Approved	<u>-</u>	Billable		Seabolt, Kelly		1.900	150.00	285.00
0.10202	Continue to				p pickup and finalize (1.5); draft motion	n to quash and send			200.00
04-18-2022	Approved		Billable		Cardenas, Ann		12.000	350.00	4,200.00
	clients rega subpoenas	rding trial subpoei and prepare chart	nas (.3); communicate	with numerous clients railability (1.5); include	and cross designations in response (9 by phone and email regarding concerevidence in Motion to Quash prepare for trial (1.0).	rns with trial			
04-18-2022	Approved		Billable		Brothers, Doug		11.000	600.00	6,600.00
	Trial prepar	ation; work on res	olution.						
04-19-2022	<b>Approved</b>		<del>Billable</del>		Brothers, Doug		9.400	600.00	5,640.00
	Trial prepar	ation; finalize Nel	son documents; comm	unications with opposi	<del>ng counsel.</del>				
<del>04-19-2022</del>	<b>Approved</b>		Billable		Horton, Russ		<del>7.400</del>	600.00	4,440.00
	Trial prepar materials; p	ation; preparation reparation objecti	of liquidation plan doc on to trial subpoenas;	uments; draft preliminadditional trial prepara	ary motion to approve; review charge; tion.	review client			
04-19-2022	Approved		Billable		Cardenas, Ann		7.900	350.00	2,765.00
	what if any	documents relied regarding concern rch	upon by J. Kemmerer	have not yet been pro-	's Expert Tesimony and review docun duced (5.3); calls with John Po k and I with evidence to support Motion to Qu	Paul Tessier			
04-19-2022	Approved		Billable		Manassian, Taline		0.900	350.00	315.00
	Calls with R	t. Horton regarding	g liquidation plan (.1);	draft motion for prelimi	nary approval (.8).				
04-19-2022	Approved		Billable		Carnes, Tiffany		2.800	350.00	980.00
	Review mot	tion to exclude Jor	n Kemmerer and draft	initial response draft.					
04-20-2022	Approved		Billable		Cardenas, Ann		6.500	350.00	2,275.00
	(4.5); draft e	email to clients reg w for R. Horton on	garding signature on se	ettlement documents a	d upon by Jon Kemmerer have not ye nd email correspondence with clients ton with locating evidence to support	regarding same (.5);			
04-20-2022	Approved		Billable		Horton, Russ		6.400	600.00	3,840.00
	Trial prepar materials.	ation; attend mee	t and confer; review ar	nd revise order of prelin	minary approval of plan of liquidation;	review client			
04-20-2022	Approved		Billable		Manassian, Taline		1.200	350.00	420.00
	Calls with R	t. Horton regardin	g research (.1); resear	ch	(1.1).				
04-20-2022	Approved		Billable		Carnes, Tiffany		0.200	350.00	70.00
	Answer que	estions for client co	ommunications.						

06-24-2022 15:30:40 Page 92 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		t							
04-20-2022	Approved	-	Billable		Brothers, Doug		13.000	600.00	7,800.00
	Prepare for	trial and pre-trial.			, ,				
04-20-2022	Approved		Billable		Seabolt, Kelly		4.300	150.00	645.00
	Create and	organize docusign	for clients to forward	signature (2.6); begin to	organize and order trial lunches for	trial team (1.7).			
04-21-2022	Approved		Billable		Brothers, Doug		12.500	600.00	7,500.00
	Attend pre-	trial and follow up.							
04-21-2022	Approved		Billable		Seabolt, Kelly		1.800	150.00	270.00
	Continue up	odating chart of sig	natures (.5); continue	ordering trial lunches (1.3	3).				
04-21-2022	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Call with R.	Horton regarding p	ore-trial hearing.						
04-21-2022	Approved		Billable		Cardenas, Ann		9.000	350.00	3,150.00
		rial hearing via Zoo ters arising out of h		quest; revise various plea	dings per D. Brothers' request; ass	sist D. Brothers with			
04-22-2022	Approved		Billable		Cardenas, Ann		8.500	350.00	2,975.00
	with witness	ses, communication		ng nonsuit; follow up with	nts as requested by D. Brothers, co clients regarding signature on pro				
04-22-2022	Approved	_	Billable		Brothers, Doug		10.500	600.00	6,300.00
	Trial prepar	ation.			·				
04-22-2022	Approved		Billable		Seabolt, Kelly		1.400	150.00	210.00
		ebooks (.8); email i			nate with Rainmaker to create hard inches, rides to courthouse and red				
04-22-2022	Approved		Billable		Horton, Russ		7.600	600.00	4,560.00
	Trial prepar	ation.							
04-23-2022	Approved		Billable		Horton, Russ		6.500	600.00	3,900.00
	Trial prepar	ation.							
04-23-2022	Approved		Billable		Brothers, Doug		7.000	600.00	4,200.00
	Trial prepar	ation.							
04-24-2022	Approved		Billable		Brothers, Doug		2.500	600.00	1,500.00
	Trial prepar	ation.							
04-24-2022	Approved		Billable		Horton, Russ		1.100	600.00	660.00
	Trial prepar	ation.							
04-25-2022	Approved		Billable		Horton, Russ		12.500	600.00	7,500.00
	Attend pre-	trial; trial preparatio	on.						

06-24-2022 15:30:40 Page 93 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e	t al 1848								
1848-001 I									
04-25-2022	Approved		Billable		Nakamura, Suzy		0.000	150.00	0.00
	Attend Trial								
04-25-2022	Approved		Billable		Brothers, Doug		11.000	600.00	6,600.00
	Attend pre-tr	ial; prepare for n	ext day.						
04-25-2022	Approved		Billable		Seabolt, Kelly		0.800	150.00	120.00
	Emails to an confirm trial	d from Rainmake boards are delive	er regarding delivery of ered (.2); forward Fourt	Trial Exhibit Notebook h Amended Plea in Int	ks boxes and help moving trial boxes to tervention to (.2).	the courthouse (.4);			
04-25-2022	Approved		Billable		Cardenas, Ann		5.500	350.00	1,925.00
					mmunications with clients regarding no l; locate various documents per D. Brotl				
04-26-2022	Approved		Billable		Horton, Russ		13.400	600.00	8,040.00
	Trial and tria	l preparation; cod	ordinate with trial witne	sses.					
04-26-2022	Approved		Billable		Seabolt, Kelly		0.500	150.00	75.00
					nanges to blow-up boards in Notice Tim opies for trial and arrange delivery (.2).	eline and arrange			
04-26-2022	Approved		Billable		Brothers, Doug		10.000	600.00	6,000.00
	Jury Selection	on; prepare for ne	ext day.						
04-26-2022	Approved		Billable		Cardenas, Ann		3.300	350.00	1,155.00
		earch to support prepare analysis		CH BRIEF ON ADMISS	SILBITY OF LIQUIDATION PLAN per J	ennifer Lloyd's			
04-27-2022	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Attend Trial	( ); emails to and	d from Sherrie Wirth re	garding edits to Powe	r Point presentation (0.10).				
04-27-2022	Approved		Billable		Brothers, Doug		12.000	600.00	7,200.00
	Trial; prepar	e for next day.							
04-27-2022	Approved		Billable		Manassian, Taline		0.100	350.00	35.00
	Emails with	R. Horton regardi	ng orders.						
04-27-2022	Approved		Billable		Seabolt, Kelly		1.100	150.00	165.00
	contact and	confirmation ema	ding attending trial and uil to Javier Martinez re Purchase Agreements t	garding the same (.4);	t Ms. Martinez regarding attending trial forward Notice Timeline to S. Nakamu	and testifying (.2); ra (.1) ; forward			
04-27-2022	Approved		Billable		Horton, Russ		13.400	600.00	8,040.00
	Trial and tria	l preparation; rev	iew legal research reg	arding trial issues.					
04-28-2022	Approved		Billable		Seabolt, Kelly		1.400	150.00	210.00

06-24-2022 15:30:40 Page 94 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

							110	111 03-01-2010	3 10 06-24-2022
Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et									
1848-001 I									
1040-0011	Phone call to	arrange hotel re			firmation and instructions regarding the solits project and begin organizing for cour				
		arrange color pr tary restrictions (		none call and email	s to and from L. Norton regarding Juror I	unch order and			
04-28-2022	Approved	,	Billable		Brothers, Doug		10.500	600.00	6,300.00
	• •	e for next day.			, 0				,
04-28-2022	Approved		Billable		Nakamura, Suzy		0.000	150.00	0.00
	Attend Trial								
04-28-2022	Approved		Billable		Horton, Russ		8.500	600.00	5,100.00
	Trial prepara	tion; attend trial.							
04-28-2022	Approved		Billable		Cardenas, Ann		3.000	350.00	1,050.00
	Research iss	ue of D. Brothers' requ	est.						
04-29-2022	Approved		Billable		Nakamura, Suzy		0.000	150.00	0.00
	Attend Trial								
04-29-2022	Approved		Billable		Horton, Russ		13.400	600.00	8,040.00
	Trial prepara	tion; attend trial.							
04-29-2022	Approved		Billable		Brothers, Doug		8.000	600.00	4,800.00
	Trial								
04-30-2022	Approved		Billable		Brothers, Doug		7.200	600.00	4,320.00
	Trial Prepara	tion.							
04-30-2022	Approved		Billable		Horton, Russ		4.200	600.00	2,520.00
	Trial prepara	tion; office confer	ence with D. Brothers	regarding same; re	<u> </u>				
04-30-2022	Approved		Billable		Seabolt, Kelly		1.200	150.00	180.00
	Trial prepara	tion - locate plead	dings, upload from Co	urt portal and forwa	rd to trial team (1.2).				
04-30-2022	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Email to K. S	eabolt regarding	obtaining cause numb	er for severed action	on (0.10); email to K. Seabolt regarding				
05-01-2022	Approved		Billable		Brothers, Doug		2.500	600.00	1,500.00
	Trial prepara	tion.			-				
05-01-2022	Approved		Billable		Horton, Russ		2.100	600.00	1,260.00
	Trial depositi	on designations;	email regarding same						
05-02-2022	Approved		Billable		Horton, Russ		11.200	600.00	6,720.00
	Trial, trial pre	paration.							
05-02-2022	Approved		<del>Billable</del>		Seabolt, Kelly		<del>1.300</del>	<del>150.00</del>	<del>195.00</del>

06-24-2022 15:30:40 Page 95 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Continge <b>Skyloft et</b> 1848-001 N	al 1848									
Skyloft et	al 1848									
-										
10-10-0011	i Okyloi	ŀ								
	of bond and	- ı <del>rt regarding new (</del>	orary Injunction (.3); o		ele phone calls to Court regarding refugarding the same (.2); locate and cool					
05-02-2022	Approved	,	Billable		Nakamura, Suzy			0.300	150.00	45.00
	to K. Seabol	t regarding issuar		ection and bond refund	nd judicial district for severed cause ((d (0.10); emails to and from Kathy Ma					
05-02-2022	Approved		Billable		Brothers, Doug			10.000	600.00	6,000.00
	Trial									
05-02-2022	Approved		Billable		Cardenas, Ann			2.500	350.00	875.00
	Research w	hether the sale an	d misappropriation of	trust property resulted	d in two separate harms.					
05-03-2022	Approved		Billable		Cardenas, Ann			3.300	350.00	1,155.00
	Research is	sues raised in Axo	onic's Motion for Direct	ed Verdict and other	issues raised during trial.					
05-03-2022	Approved		Billable		Horton, Russ			13.200	600.00	7,920.00
	Trial prepara	ation; attend trial.								
05-03-2022	Approved		Billable		Nakamura, Suzy			0.300	150.00	45.00
			nd to Gavin Oram and g Joseph McQuade d		synced video, upload to Dropbox (0.2 leo file (0.10).	20); emails fror	n Gavin			
05-03-2022	Approved		Billable		Seabolt, Kelly			3.600	150.00	540.00
	upload video SOS records	os (.6); forward Mos s for Black Tortuga ies from SOS (.3)	cQuade videos and tra a, LLP forfeiture and re	nscripts to K. Martine einstatement docume	S. Nakamura regarding the same (.8); z and Gavin Oram to prepare deposit nts (.3); forward same to R. Horton ar (.3); receive, upload, proof and forward.	ion clips (.2); re nd trial team (.1	esearch ); order			
05-03-2022	Approved		Billable		Brothers, Doug			10.000	600.00	6,000.00
	Trial									
05-04-2022	Approved		Billable		Brothers, Doug			10.000	600.00	6,000.00
	Trial									
05-04-2022	Approved		Billable		Nakamura, Suzy			0.300	150.00	45.00
		(  ); emails to and d from D. Brothers		d Mark Lischka regard	ding boards for excerpts from trial trar	nscript, review	drafts,			
05-04-2022	Approved		Billable		Horton, Russ			12.700	600.00	7,620.00
	Trial prepara	ation; attend trial.								
05-04-2022	Approved		Billable		Cardenas, Ann			6.500	350.00	2,275.00
	Research va	rious legal issues	as requested by Jenr	y Lloyd including requ						
	findings.				pre	epare analysis	OŤ.			

06-24-2022 15:30:40 Page 96 of 101

# George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
1848-001		ft .							
05-05-2022	Approved		Billable		Cardenas, Ann		6.500	350.00	2,275.00
	Research la	aw to support Intervended to by Intervended	venors' proposed jury or rs in support of jury ch	charge; prepare trial arge liability.	notebook for D. Brothers containing high	ighted cases (with			,
05-05-2022	Approved		Billable		Horton, Russ		13.300	600.00	7,980.00
	Trial prepar	ation; attend trial.							
05-05-2022	Approved		Billable		Nakamura, Suzy		0.700	150.00	105.00
	lists and rev regarding N	view (0.40); emails	to and from Joanna W	/alls regarding coord	Kempton, Joanna Walls regarding admitte inating jurors' lunch (0.10); emails to and arding Judge Crump's Tracker, List of Ad	from D. Brothers			
05-05-2022	Approved		Billable		Brothers, Doug		12.000	600.00	7,200.00
	Trial; jury cl	harge.							
05-06-2022	Approved		Billable		Brothers, Doug		9.000	600.00	5,400.00
	Trial								
05-06-2022	Approved		Billable		Nakamura, Suzy		0.000	150.00	0.00
	Attend Trial								
05-06-2022	Approved		Billable		Horton, Russ		12.100	600.00	7,260.00
	Trial prepar	ation; attend trial.							
05-06-2022	Approved		Billable		Cardenas, Ann		4.300	350.00	1,505.00
			thers containing highli irious legal issues rais		alysis) cited to by Intervenors in support of ference.	of jury charge			
05-07-2022	Approved		Billable		Horton, Russ		4.500	600.00	2,700.00
	Trial prepar	ation; office confer	ence with D. Brothers	regarding same.					
05-07-2022	Approved		Billable		Brothers, Doug		3.000	600.00	1,800.00
	Closing arg	ument preparation.							
05-08-2022	Approved		Billable		Brothers, Doug		2.000	600.00	1,200.00
	Closing arg	ument preparation.	•						
05-08-2022	Approved		Billable		Horton, Russ		1.200	600.00	720.00
	Trial prepar	ation; review charg	је.						
05-08-2022	Approved		Billable		Nakamura, Suzy		0.300	150.00	45.00
	updated list		ts and Exhibit 285 (0.1		Exhibit 285 (0.10); email from Mina Myer da Tellez regarding final Master List of A				
05-09-2022	Approved		Billable		Nakamura, Suzy		0.800	150.00	120.00

06-24-2022 15:30:40 Page 97 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Attend Skyloft Trial and assist D. Brothers and Jenny Lloyd in handling research on various issues, including jury charge.  Approved Billable Horton, Russ 5.500 600.00 3,300.00 Attend trial and closing argument; review client materials.  05-09-2022 Approved Billable Brothers, Doug 7.000 600.00 4,200.00 Closing arguments and post-trial.  05-10-2022 Approved Billable Brothers, Doug 5.000 600.00 3,000.00 Walt on jury verdict.  05-10-2022 Approved Billable Horton, Russ 1.400 600.00 840.00 Attend jury deliberations.  05-10-2022 Approved Billable Nakamura, Suzy 0.100 150.00 150.00 150.00 Download GREP's First Amended Traditional and No Evidence Motion for Summary Judgment (0.10).  05-11-2022 Approved Billable Nakamura, Suzy 1.700 150.00 255.00 Email from Jenny Lloyd regarding Motions to Seal (0.10); email from and to D. Brothers, email to clients regarding verdict (0.10); draft Schiffman Intervenors' Motion to Seal TCG Axonic Motion to Exclude Testimony of Jon Kemmerer and Exhibit A Public Notice, emails to and from D. Brothers and A. Cardenas (1.50).  05-11-2022 Approved Billable Horton, Russ 5.500 600.00 3,300.00 Email regarding jury verdict: telephone conference with D. Brothers regarding same; receive and review draft notice to investors; review client materials.  05-11-2022 Approved Billable Nakamura, Suzy 5.500 600.00 3,300.00 Receive verdict materials.  05-12-2022 Approved Billable Nakamura, Suzy 5.500 600.00 3,300.00 Receive verdict materials.  05-12-2024 Approved Billable Nakamura, Suzy 5.500 600.00 3,300.00 Receive verdict materials.  05-12-2025 Approved Billable Nakamura, Suzy 5.500 600.00 1,980.00 15	Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Skyloft et al 1848	Conting	ent								
Attend Trial ( ); emails from and to Korl Kempton regarding Parziale admitted exhibits notebook and upload to Court's Box (0.10); email from Flona McKeown regarding schedule for jurors lunch (0.10); email from Mina Myers regarding upload to Court's Box of joint admitted trial exhibits and TCG/Axonic exhibits (0.10); email from Mina Myers regarding deleting Exhibit 985 in Court's admitted exhibits and provided in Nethopous (1.00); email from Mina Myers regarding optical in Nethopous (1.00); email from Mina Myers regarding confirmation Exhibit 986 emitted in Nethopous (1.00); email from Mina Myers regarding pulpoading exhibits designated "for Court only" to Court's Box and upload (0.20); emails to and from J. Lloyd regarding Parziale admitted exhibits and upload to Court's Box (1.00).  50-09-2022 Approved Billable Cardenas, Ann S. 0.00 \$5.00 \$0.00 \$3.00.00	_									
Attend Trial ( ): emails from and in Kori Kempton regarding Parziale admitted exhibits notebook and upload to Court's Box (0.10); email from Mina Mickoroux regarding schedule for jurnos' tunnot', (10); email from Mina Myers regarding ploaded to Court's admitted exhibits Box (0.10); email from Mina Myers regarding confirmation Exhibits (0.10); email from Mina Myers regarding confirmation Exhibits 10x (0.10); email from Mina Myers regarding confirmation Exhibit 980 milet din Notebook (0.10); email from Mina Myers regarding confirmation Exhibit 980 milet din Notebook (0.10); email from Mina Myers regarding ploading exhibits designated "for Court only" to Court's Box and upload (0.20); emails to and from J. Lioyd regarding Parziale admitted exhibits and upload to Court's Box (0.10).  65-09-2022 Approved Billable Cardenas, Ann S. 6.000 \$5.000 \$3.000.000 Attend trial and closing argument; review client materials.  65-09-2022 Approved Billable Brothers, Doug 7.000 600.000 \$3.000.000 Attend trial and closing argument; review client materials.  65-10-2022 Approved Billable Brothers, Doug 5.000 600.000 \$3.000.000 Attend trial and closing arguments and post-trial.  65-10-2022 Approved Billable Brothers, Doug 5.000 600.000 \$3.000.000 Attend trial and closing arguments and post-trial.  65-10-2022 Approved Billable Brothers, Doug 5.000 600.000 \$3.000.000 Attend trial distributions.  65-10-2022 Approved Billable Horton, Russ 1.400 600.000 840.000 Attend y deliberations.  65-10-2022 Approved Billable Nakamura, Suzy 0.100 150.00 150.000 150.000 150.000 5-11-2022 Approved Billable Nakamura, Suzy 0.100 150.000 255.000 5-11-2022 Approved Billable Nakamura, Suzy 0.100 150.000 255.000 5-11-2022 Approved Billable Nakamura, Suzy 0.100 150.000 1	-		Ft							
Attend Skyloft Trial and assist D. Brothers and Jenny Lloyd in handling research on various issues, including jury charge.  Approved Billable Brothers, Doug 7.00 600.00 3,300.00 Closing arguments and post-trial.  05-09-2022 Approved Billable Brothers, Doug 7.00 600.00 3,000.00 Closing arguments and post-trial.  05-10-2022 Approved Billable Brothers, Doug 5.000 600.00 3,000.00 Walt on jury verdict.  05-10-2022 Approved Billable Brothers, Doug 5.000 600.00 3,000.00 Walt on jury verdict.  05-10-2022 Approved Billable Horton, Russ 1.400 600.00 150.00 150.00 5.10-2022 Approved Billable Nakamura, Suzy 0.100 150.00 150.00 150.00 150.00 150.00 5.11-2022 Approved Billable Nakamura, Suzy 0.100 150.00 15	10.10.001	Attend Tria email from joint admitt exhibits Bo regarding u	I ( ); emails from a Fiona McKeown re ed trial exhibits and x (0.10); email fron aploading exhibits o	egarding schedule for j d TCG/Axonic exhibits n Mina Myers regardin designated "for Court o	urors' lunch (0.10); (0.10); email to Jar g confirmation Exhi only" to Court's Box	email from Mina Myers regarding upload to mie Foley regarding deleting Exhibit 958 in ibit 958 omitted in Notebook (0.10); email fi	Court's Box of Court's admitted rom Mina Myers			
O5-09-2022   Approved   Billable   Horton, Russ   5.500   600.00   3,300.00	05-09-2022	Approved		Billable		Cardenas, Ann		5.000	350.00	1,750.00
Attend trial and closing argument; review client materials.		Attend Sky	loft Trial and assist	D. Brothers and Jenn	y Lloyd in handling	research on various issues, including jury	charge.			
O5-09-2022   Approved   Billable   Brothers, Doug   7.000   600.00   4,200.00	05-09-2022	Approved		Billable		Horton, Russ		5.500	600.00	3,300.00
Closing arguments and post-trial.    Closing arguments and post-trial   Closing arguments		Attend trial	and closing argum	ent; review client mate	erials.					
Approved   Billable   Brothers, Doug   5.000   600.00   3,000.00	05-09-2022	Approved		Billable		Brothers, Doug		7.000	600.00	4,200.00
Wait on jury verdict.  05-10-2022 Approved Billable Horton, Russ 1.400 600.00 840.00 Attend jury deliberations.  05-10-2022 Approved Billable Nakamura, Suzy 0.100 150.00 150.00 150.00 Download GREP's First Amended Traditional and No Evidence Motion for Summary Judgment (0.10).  05-11-2022 Approved Billable Nakamura, Suzy 1.700 150.00 255.00 Email from Jenny Lloyd regarding Motions to Seal (0.10); email from and to D. Brothers, email to clients regarding verdict (0.10); draft Schiffman Intervenors' Motion to Seal TCG Axonic Motion to Exclude Testimony of Jon Kemmerer and Exhibit A Public Notice, emails to and from D. Brothers and A. Cardenas (1.50).  05-11-2022 Approved Billable Horton, Russ Email regarding jury verdict; telephone conference with D. Brothers regarding same; receive and review draft notice to investors; review client materials:  05-11-2022 Approved Billable Brothers, Doug 5.500 600.00 3,300.00 Receive verdict and follow up.  05-12-2022 Approved Billable Nakamura, Suzy 1.000 150.00 150.00 150.00 150.00 Paralis from and to D. Brothers and A. Cardenas, draft Verification, revise and finalize Schiffman Intervenors' Motion for Leave to File Exhibit Under Seal, emails to and from opposing counsel regarding certificate of conference (0.40); email to Heath Basham regarding Verification (0.10); email from Grace Mocepe, review Charge of the Court (0.20); download TCG's Joinder in Axonic Defendants' Motion to Compel Discovery from Parziale (0.10); download Intervenor Parziale's Motion to Seal Confidential Deposition Excerpts (0.10); download Plaintiffs' and Intervenors' Joint Motion to Seal (0.10).  Emails to and from D. Brothers, email Charge of Court to Heath Basham (0.10).		Closing arg	uments and post-t	rial.						
Approved Allable Billable Horton, Russ 1.400 600.00 840.00 Attend jury deliberations.  05-10-2022 Approved Billable Nakamura, Suzy 0.100 150.00 150.00 Download GREP's First Amended Traditional and No Evidence Motion for Summary Judgment (0.10).  05-11-2022 Approved Billable Nakamura, Suzy 1.700 150.00 255.00 Email from Jenny Lloyd regarding Motions to Seal (0.10); email from and to D. Brothers, email to clients regarding verdict (0.10); draft Schiffman Intervenors' Motion to Seal TCG Axonic Motion to Exclude Testimony of Jon Kemmerer and Exhibit A Public Notice, emails to and from D. Brothers and A. Cardenas (1.50).  05-11-2022 Approved Billable Horton, Russ Email regarding jury verdict; telephone conference with D. Brothers regarding same: receive and review draft notice to investors; review client materials:  05-11-2022 Approved Billable Brothers, Doug Receive verdict and follow up.  05-12-2022 Approved Billable Nakamura, Suzy 1.000 150.00 150.00 Emails from and to D. Brothers and A. Cardenas, draft Verification, revise and finalize Schiffman Intervenors' Motion for Leave to File Exhibit Under Seal, emails to and from opposing coursel regarding certificate of conference (0.40); email to Heath Basham regarding Verification (0.10); email from Grace Mogee, review Charge of the Court (0.20); download TCG's Joinder in Axonic Defendants' Motion to Compel Discovery from Parziale (0.10); download Intervenor Parziale's Motion to Seal Confidential Deposition Excerpts (0.10); download Plaintiffs' and Intervenors' Joint Motion to Seal (0.10).  05-13-2022 Approved Billable Nakamura, Suzy 0.100 150.00 15	05-10-2022	Approved		Billable		Brothers, Doug		5.000	600.00	3,000.00
Attend jury deliberations.  05-10-2022 Approved Billable Nakamura, Suzy 0.100 150.00 150.00 150.00 Download GREP's First Amended Traditional and No Evidence Motion for Summary Judgment (0.10).  05-11-2022 Approved Billable Nakamura, Suzy 1.700 150.00 255.00 Email from Jenny Lloyd regarding Motions to Seal (0.10); email from and to D. Brothers, email to clients regarding verdict (0.10); draft Schiffman Intervenors' Motion to Seal TCG Axonic Motion to Exclude Testimony of Jon Kemmerer and Exhibit A Public Notice, emails to and from D. Brothers and A. Cardenas (1.50).  05-11-2022 Approved Billable Horton, Russ 3 600.00 1,980.00 Email regarding jury verdict; telephone conference with D. Brothers regarding same; receive and review draft notice to investors; review client materials:  05-11-2022 Approved Billable Brothers, Doug 5.500 600.00 3,300.00 Receive verdict and follow up.  05-12-2022 Approved Billable Nakamura, Suzy 1.000 150.00 150		Wait on jur	y verdict.							
Description	05-10-2022	Approved		Billable		Horton, Russ		1.400	600.00	840.00
Download GREP's First Amended Traditional and No Evidence Motion for Summary Judgment (0.10).  05-11-2022 Approved Billable Nakamura, Suzy 1.700 150.00 255.00 Email from Jenny Lloyd regarding Motions to Seal (0.10); email from and to D. Brothers, email to clients regarding verdict (0.10); draft Schiffman Intervenors' Motion to Seal TCG Axonic Motion to Exclude Testimony of Jon Kemmerer and Exhibit A Public Notice, emails to and from D. Brothers and A. Cardenas (1.50).  05-11-2022 Approved Billable Horton, Russ 5.500 600.00 1,980.00 Email regarding jury verdict; telephone conference with D. Brothers regarding same; receive and review draft notice to investors; review client materials;  05-11-2022 Approved Billable Brothers, Doug 5.500 600.00 3,300.00 Receive verdict and follow up.  05-12-2022 Approved Billable Nakamura, Suzy 1.000 150.00 150.00 150.00 Emails from and to D. Brothers and A. Cardenas, draft Verification, revise and finalize Schiffman Intervenors' Motion for Leave to File Exhibit Under Seal, emails to and from opposing counsel regarding certificate of conference (0.40); email to Heath Basham regarding Verification (0.10); email from Grace Mcgee, review Charge of the Court (0.20); download TCG's Joinder in Axonic Defendants' Motion to Compel Discovery from Parziale (0.10); download Intervenor Parziale's Motion to Seal Confidential Deposition Excerpts (0.10); download Plaintiffs' and Intervenors' Joint Motion to Seal (0.10).  Nakamura, Suzy 0.100 150.0		Attend jury	deliberations.							
Approved Billable Nakamura, Suzy 1.700 150.00 255.00  Email from Jenny Lloyd regarding Motions to Seal (0.10); email from and to D. Brothers, email to clients regarding verdict (0.10); draft Schiffman Intervenors' Motion to Seal TCG Axonic Motion to Exclude Testimony of Jon Kemmerer and Exhibit A Public Notice, emails to and from D. Brothers and A. Cardenas (1.50).  O5-11-2022 Approved Billable Horton, Russ  Co5-11-2022 Approved Billable Brothers, Doug 5.500 600.00 3,300.00  Receive verdict and follow up.  O5-12-2022 Approved Billable Nakamura, Suzy 1.000 150.00	05-10-2022	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
Email from Jenny Lloyd regarding Motions to Seal (0.10); email from and to D. Brothers, email to clients regarding verdict (0.10); draft Schiffman Intervenors' Motion to Seal TCG Axonic Motion to Exclude Testimony of Jon Kemmerer and Exhibit A Public Notice, emails to and from D. Brothers and A. Cardenas (1.50).  05-11-2022 Approved Billable Horton, Russ Email regarding jury verdict; telephone conference with D. Brothers regarding same; receive and review draft notice to investors; review client materials;  05-11-2022 Approved Billable Brothers, Doug 5.500 600.00 3,300.00 Receive verdict and follow up.  05-12-2022 Approved Billable Nakamura, Suzy 1.000 150.00 150.00 150.00 Emails from and to D. Brothers and A. Cardenas, draft Verification, revise and finalize Schiffman Intervenors' Motion for Leave to File Exhibit Under Seal, emails to and from opposing counsel regarding certificate of conference (0.40); email to Heath Basham regarding Verification (0.10); email from Grace Mcgee, review Charge of the Court (0.20); download TCG's Joinder in Axonic Defendants' Motion to Compel Discovery from Parziale (0.10); download Intervenor Parziale's Motion to Seal Confidential Deposition Excerpts (0.10); download Plaintiffs' and Intervenors' Joint Motion to Seal (0.10).  Nakamura, Suzy 0.100 150.		Download (	GREP's First Amer	nded Traditional and N	o Evidence Motion	for Summary Judgment (0.10).				
draft Schiffman Intervenors' Motion to Seal TCG Axonic Motion to Exclude Testimony of Jon Kemmerer and Exhibit A Public Notice, emails to and from D. Brothers and A. Cardenas (1.50).  Approved  Billable  Horton, Russ  Email regarding jury verdict; telephone conference with D. Brothers regarding same; receive and review draft notice to investors; review client materials:  05-11-2022  Approved  Billable  Brothers, Doug  Receive verdict and follow up.  05-12-2022  Approved  Billable  Nakamura, Suzy  1.000  Emails from and to D. Brothers and A. Cardenas, draft Verification, revise and finalize Schiffman Intervenors' Motion for Leave to File Exhibit Under Seal, emails to and from opposing counsel regarding certificate of conference (0.40); email to Heath Basham regarding Verification (0.10); email from Grace Mogee, review Charge of the Court (0.20); download TCG's Joinder in Axonic Defendants' Motion to Compel Discovery from Parziale (0.10); download Intervenor Parziale's Motion to Seal Confidential Deposition Excerpts (0.10); download Plaintiffs' and Intervenors' Joint Motion to Seal (0.10).  Approved  Billable  Nakamura, Suzy  0.100  150.00	05-11-2022	Approved		Billable		Nakamura, Suzy		1.700	150.00	255.00
Email regarding jury verdict; telephone conference with D. Brothers regarding same; receive and review draft notice to investors; review client materials;  05-11-2022 Approved Billable Brothers, Doug 5.500 600.00 3,300.00 Receive verdict and follow up.  05-12-2022 Approved Billable Nakamura, Suzy 1.000 150.00 150.00 150.00 Emails from and to D. Brothers and A. Cardenas, draft Verification, revise and finalize Schiffman Intervenors' Motion for Leave to File Exhibit Under Seal, emails to and from opposing counsel regarding certificate of conference (0.40); email to Heath Basham regarding Verification (0.10); email from Grace Mcgee, review Charge of the Court (0.20); download TCG's Joinder in Axonic Defendants' Motion to Compel Discovery from Parziale (0.10); download Intervenor Parziale's Motion to Seal Confidential Deposition Excerpts (0.10); download Plaintiffs' and Intervenors' Joint Motion to Seal (0.10).  05-13-2022 Approved Billable Nakamura, Suzy 0.100 150.00 15.00 Emails to and from D. Brothers, email Charge of Court to Heath Basham (0.10).		draft Schiffi	man Intervenors' M	lotion to Seal TCG Ax	onic Motion to Exclu	nd to D. Brothers, email to clients regarding ude Testimony of Jon Kemmerer and Exhib	verdict (0.10); it A Public Notice,			
review client materials;  05-11-2022 Approved Billable Brothers, Doug 5.500 600.00 3,300.00 Receive verdict and follow up.  05-12-2022 Approved Billable Nakamura, Suzy 1.000 150.00 150.00 150.00 Emails from and to D. Brothers and A. Cardenas, draft Verification, revise and finalize Schiffman Intervenors' Motion for Leave to File Exhibit Under Seal, emails to and from opposing counsel regarding certificate of conference (0.40); email to Heath Basham regarding Verification (0.10); email from Grace Mcgee, review Charge of the Court (0.20); download TCG's Joinder in Axonic Defendants' Motion to Compel Discovery from Parziale (0.10); download Intervenor Parziale's Motion to Seal Confidential Deposition Excerpts (0.10); download Plaintiffs' and Intervenors' Joint Motion to Seal (0.10).  05-13-2022 Approved Billable Nakamura, Suzy 0.100 150.00 15.00 Emails to and from D. Brothers, email Charge of Court to Heath Basham (0.10).	05-11-2022	Approved		Billable		Horton, Russ		3.000	600.00	1,980.00
Receive verdict and follow up.  05-12-2022 Approved Billable Nakamura, Suzy 1.000 150.00 150.00  Emails from and to D. Brothers and A. Cardenas, draft Verification, revise and finalize Schiffman Intervenors' Motion for Leave to File Exhibit Under Seal, emails to and from opposing counsel regarding certificate of conference (0.40); email to Heath Basham regarding Verification (0.10); email from Grace Mcgee, review Charge of the Court (0.20); download TCG's Joinder in Axonic Defendants' Motion to Compel Discovery from Parziale (0.10); download Intervenor Parziale's Motion to Seal Confidential Deposition Excerpts (0.10); download Plaintiffs' and Intervenors' Joint Motion to Seal (0.10).  Nakamura, Suzy 0.100 150.00 15.00 Emails to and from D. Brothers, email Charge of Court to Heath Basham (0.10).				elephone conference v	with D. Brothers reg	arding same; receive and review draft notice.	ce to investors;			
Approved Billable Nakamura, Suzy 1.000 150.00  Emails from and to D. Brothers and A. Cardenas, draft Verification, revise and finalize Schiffman Intervenors' Motion for Leave to File Exhibit Under Seal, emails to and from opposing counsel regarding certificate of conference (0.40); email to Heath Basham regarding Verification (0.10); email from Grace Mcgee, review Charge of the Court (0.20); download TCG's Joinder in Axonic Defendants' Motion to Compel Discovery from Parziale (0.10); download Intervenor Parziale's Motion to Seal Confidential Deposition Excerpts (0.10); download Plaintiffs' and Intervenors' Joint Motion to Seal (0.10).  Nakamura, Suzy 0.100 150.00 15	05-11-2022	Approved		Billable		Brothers, Doug		5.500	600.00	3,300.00
Emails from and to D. Brothers and A. Cardenas, draft Verification, revise and finalize Schiffman Intervenors' Motion for Leave to File Exhibit Under Seal, emails to and from opposing counsel regarding certificate of conference (0.40); email to Heath Basham regarding Verification (0.10); email from Grace Mcgee, review Charge of the Court (0.20); download TCG's Joinder in Axonic Defendants' Motion to Compel Discovery from Parziale (0.10); download Intervenor Parziale's Motion to Seal Confidential Deposition Excerpts (0.10); download Plaintiffs' and Intervenors' Joint Motion to Seal (0.10).  O5-13-2022 Approved Billable Nakamura, Suzy 0.100 150.00 15.00 Emails to and from D. Brothers, email Charge of Court to Heath Basham (0.10).		Receive ve	rdict and follow up							
Exhibit Under Seal, emails to and from opposing counsel regarding certificate of conference (0.40); email to Heath Basham regarding Verification (0.10); email from Grace Mcgee, review Charge of the Court (0.20); download TCG's Joinder in Axonic Defendants' Motion to Compel Discovery from Parziale (0.10); download Intervenor Parziale's Motion to Seal Confidential Deposition Excerpts (0.10); download Plaintiffs' and Intervenors' Joint Motion to Seal (0.10).  05-13-2022 Approved Billable Nakamura, Suzy 0.100 150.00 15.00 Emails to and from D. Brothers, email Charge of Court to Heath Basham (0.10).	05-12-2022	Approved		Billable		Nakamura, Suzy		1.000	150.00	150.00
Emails to and from D. Brothers, email Charge of Court to Heath Basham (0.10).		Exhibit Und Verification Motion to C	ler Seal, emails to (0.10); email from compel Discovery f	and from opposing co Grace Mcgee, review rom Parziale (0.10); do	unsel regarding cer Charge of the Cou ownload Intervenor	tificate of conference (0.40); email to Heath rt (0.20); download TCG's Joinder in Axoni Parziale's Motion to Seal Confidential Dep	n Basham regarding c Defendants'			
	05-13-2022	Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
05-16-2022 Approved Billable Nakamura, Suzy 0.400 150.00 60.00		Emails to a	nd from D. Brother	s, email Charge of Co	urt to Heath Basha	m (0.10).				
	05-16-2022	Approved		Billable		Nakamura, Suzy		0.400	150.00	60.00

06-24-2022 15:30:40 Page 98 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	gent								
_	et al 1848								
_	NP Skylof	it							
1010001	Email Char Plan (0.10);	_ ge of Court to clier	Response Brief to TO		rs' Joint Motion to Amend Preliminary Apped Verdict on Count B (0.10); email from a				
05-16-2022	2 Approved		Billable		Cardenas, Ann		0.500	350.00	175.00
05-16-2022	2 Approved		Billable		Horton, Russ		0.300	600.00	180.00
	Receive an	d review court app	proval of notice to inve	stors.					
05-17-2022	2 Approved		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Download a	admitted exhibits fr	rom Court's Box, uploa	ad to Dropbox and er	mails to and from Kori Kempton (0.50).				
05-18-2022	2 Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
05-19-2022	2 Approved		Billable		Nakamura, Suzy		0.100	150.00	15.00
00-10-2022	Арргочеа		Diliabic		Nakamura, Guzy		0.100	130.00	13.00
05-19-2022	2 Approved		Billable		Horton, Russ		0.800	600.00	480.00
00 10 2022	• • •	conference with J.	Ruud regarding admi	nistrator matters; rev	· ·		0.000	000.00	.00.00
05-20-2022			Billable		Nakamura, Suzy		0.300	150.00	45.00
					each of Fiduciary Duty (0.10); download T Exclude Expert Jon Kemmerer (Redacted				
05-23-2022	2 Approved		Billable		Carnes, Tiffany		0.100	350.00	35.00
	Respond to	client email.							
05-24-2022	2 Approved		Billable		Nakamura, Suzy		0.900	150.00	135.00
	Parziale Mo Production (0.10); revie for Directed Dealing (0.10); dow	otion in Limine Nos (0.10); download <sup>-</sup> ew Travis County I I Verdict on Schiffr 10); download Axo nload Axonic's Mo	s. A-3 - A-5 (0.10); down TCG/Axonic Trial Brief District Court website in man Intervenors' First pnic's Motion for Direct	vnload TCG's Motion Concerning Admiss for Order Approving the Cause of Action for E ed Verdict that Any L ict on Schiffman Intel	count B (0.10); download TCG/Axonic Join to Compel Nelson Parties' Supplementa ibility of Intervenors' and Nelson Settleme form of Notice to Investors (0.10); downlow Breach of the Implied Covenant of Good Fluck of Notice of the Sale did not Cause Invenors' First Cause of Action for Breach	I Document ent Agreement ad Axonic's Motion Faith and Fair Damage to the Trust			
05-30-2022	Approved		<del>Billable</del>		Brothers, Doug		0.600	600.00	360.00
	Attention to	hearing on motion	n for entry and fee app	olication.					
05-30-2022	Approved		Billable		Brothers, Doug		0.100	600.00	60.00
	E-mail to W	ealthforge.							
05 31 2022	1.1		<del>Billable</del>		Brothers, Doug		0.900	600.00	540.00
	Telephone	conference broker	dealer counsel; analy	ze net losses; e-mai	I with Intervenor's counsel.				

06-24-2022 15:30:40 Page 99 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 05-01-2018 To 06-24-2022

Contingent   Skyloft et al 1848   1	Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Skyloff et al 1848	Conting	jent								
484-001 N P Skyloff         487-022         Approved parling investor questions.         Billable parling investor questions.         480-06 (a)         480										
Separation   Sep	-									
Email from J. Lloyd regarding investor questions.			_	Billable		Horton Russ		0.300	600.00	180.00
06-01-2022         Approved prepare for and attend call with Intervenors' counsel; draft e-mail to other counsel.         Brothers, Doug         1.600         60.00         96.00           06-02-2022         Approved Billable Sillable Nakamura, Suzy         0.000         150.00         30.00           06-03-2022         Approved Billable Approved Billable Sillable Brothers, Doug         0.000         50.00         30.00           Review TRCP for Service Tamper and email A. Cardenas and T. Carnes regarding same (0.20).         0.000         300.00         360.00           60-07-2022         Approved Billable Sillable Sillabl	00 0 1 2022			2		rionon, rude		0.000	000.00	100.00
06-02-2022         Approved Review, revise and redline Plaintiff's Original Pletition in severed case ( ) .         Nakamura, Suzy         0.000         150.00         30.00           06-03-2022         Approved Billable and mail A. Cardenas and T. Carnes regarding same (0.20).         Review TRCP for and email A. Cardenas and T. Carnes regarding same (0.20).         0.000         300.00           06-06-2022         Approved Billable Sillable Carnes, Tiffany         0.000         300.00         700.00           06-07-2022         Approved Billable Carnes, Tiffany         0.000         300.00         700.00           06-07-2022         Approved Billable Carnes, Tiffany         0.000         300.00         1800.00           06-08-2022         Approved Billable Carnes, Tiffany         0.000         300.00         700.00           06-08-2022         Approved Billable Carnes, Tiffany         0.000         300.00         700.00           06-08-2022         Approved Billable Brothers, Doug         0.000         300.00         700.00           06-08-2022         Approved Billable Brothers, Doug         0.000         400.00         180.00           06-09-2022         Approved Billable Brothers, Doug         0.000         400.00         400.00           06-09-2022         Approved Billable Brothers, Doug         0.000         600.00         400.0	06-01-2022					Brothers, Doug		1.600	600.00	960.00
Review, revise and redline Plaintiff's Original Petition in severed case ( ).   Approved   Billable   Billable   Brothers, Doug   0.200   150.00   30.00   2		Prepare for	r and attend call w	ith intervenors' counse	l; draft e-mail to other	counsel.				
Octobe   Proposed   Billable   Makamura, Suzy   0.200   150.00   30.00	06-02-2022	Approved		Billable		Nakamura, Suzy		0.000	<del>150.00</del>	0.00
Review TRCP for		Review, re	vise and redline Pl	aintiff's Original Petitio	n in severed case ( )					
0.00	06-03-2022	Approved		Billable		Nakamura, Suzy		0.200	150.00	30.00
E-mail counsel and work on post trial matters; e-mail exchange with securities counsel.		Review TR	CP for		and email A. Ca	ardenas and T. Carnes regarding same	(0.20).			
06-07-2022         Approved Respond to client communication.         Billable Respond to client communication.         Carnes, Tiffany         0.200         350.00         70.00           06-07-2022         Approved Billable Review briefing and e-mail AC         Billable Review briefing and e-mail AC         To carnes, Tiffany         0.200         350.00         70.00           06-08-2022         Approved Billable Review Bil	06-06-2022	Approved		Billable		Brothers, Doug		0.600	600.00	360.00
Respond to client communication.		E-mail cou	nsel and work on բ	oost trial matters; e-ma	il exchange with secu	rities counsel.				
06-07-2022         Approved review briefing and e-mail AC         Billable review briefing and e-mail AC         Billable review briefing and e-mail AC         Carnes, Tiffany         0.20         350.00         70.00           06-08-2022         Approved Billable attention to post trial matters and setting;         Billable Brothers, Doug         1.00         600.00         600.00           66-08-2022         Approved Billable Brothers, Doug         0.300         600.00         180.00           66-08-2022         Approved Billable Brothers, Doug         0.300         600.00         180.00           66-09-2022         Approved Billable Brothers, Doug         0.700         600.00         420.00           96-09-2022         Approved Billable Brothers, Doug         0.300         600.00         420.00           66-09-2022         Approved Billable Brothers, Doug         0.300         600.00         420.00           60-09-2022         Approved Billable Brothers, Doug         0.400         600.00         480.00           60-13-2022         Approved Billable Brothers, Brothers, Doug         0.400         600.00         240.00           96-14-2022         Approved Billable Brothers, Brothers, Doug         0.400         600.00         240.00           66-15-2022         Approved Billable Brothers, Poug         0.800         600	06-07-2022					Carnes, Tiffany		0.200	350.00	70.00
Review briefing and e-mail AC			o client communica							
06-08-2022         Approved Draft and send client communication.         Billable         Carnes, Tiffany         0.200         350.00         70.00           06-08-2022         Approved         Billable         Brothers, Doug         1.000         600.00         600.00           06-08-2022         Approved         Billable         Brothers, Doug         0.300         600.00         480.00           e-mail regarding Wealthforge tolling agreement         e-mail regarding Wealthforge tolling agreement         0.700         600.00         420.00           06-09-2022         Approved         Billable         Brothers, Doug         0.700         600.00         420.00           06-09-2022         Approved         Billable         Brothers, Doug         0.300         600.00         480.00           06-13-2022         Approved         Billable         Brothers, Doug         0.300         600.00         480.00           06-13-2022         Approved         Billable         Brothers, Doug         0.400         600.00         240.00           06-14-2022         Approved         Billable         Brothers, Doug         0.800         600.00         240.00           06-15-2022         Approved         Billable         Brothers, Doug         0.800         600.00	06-07-2022	• •				Brothers, Doug		0.300	600.00	180.00
Draft and send client communication.  06-08-2022 Approved Billable Brothers, Doug 1.000 600.00 600.00 600.00 attention to post trial matters and setting;  06-08-2022 Approved Billable Brothers, Doug 0.300 600.00 480.00 e-mail regarding Wealthforge tolling agreement  06-09-2022 Approved Billable Brothers, Doug 0.700 600.00 420.00 work on responses regarding plan administration; e-mail regarding severed action  06-09-2022 Approved Billable Brothers, Doug 0.300 600.00 480.00 follow up e-mail with Wealthforge counsel; e-mail regarding severed action  06-13-2022 Approved Billable Brothers, Doug 1.400 600.00 840.00 securities case - prepare for call; attend call; revise tolling agreement  06-14-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00 attention to follow up items regarding plan of liquidation  06-15-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00 attention to follow up items regarding plan of liquidation  06-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 eview objection and setup calls-regarding same  06-17-2022 Approved Billable Brothers, Doug 0.800 600.00 2.220.00 prepare for and attend calls; review contract for SYL sale and review-plan  06-17-2022 Approved Billable Brothers, Doug 0.400 600.00 2.220.00 prepare for and attend calls; review contract for SYL sale and review-plan			_							
Approved Billable Brothers, Doug 1.000 600.00 600.00 attention to post trial matters and setting;  96-08-2022 Approved Billable Brothers, Doug 0.300 600.00 180.00 e-mail regarding Wealthforge tolling agreement  96-09-2022 Approved Billable Brothers, Doug 0.700 600.00 420.00 work on responses regarding plan administration; e-mail regarding severed action  96-09-2022 Approved Billable Brothers, Doug 0.300 600.00 180.00 follow up e-mail with Wealthforge counsel; e-mail regarding severed action  96-13-2022 Approved Billable Brothers, Doug 0.300 600.00 840.00 securities case - prepare for call; attend call; revise tolling agreement  96-14-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00 attention to follow up items regarding plan of liquidation  96-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 review-objection and setup-calls regarding same  96-17-2022 Approved Billable Brothers, Doug 0.800 600.00 2.220.00 prepare for and attend calls; review contract for SYL-sale and review-plan  96-17-2022 Approved Billable Brothers, Doug 0.400 600.00 2.220.00 prepare for and attend calls; review contract for SYL-sale and review-plan	06-08-2022					Carnes, Tiffany		0.200	350.00	70.00
attention to post trial matters and setting;  06-08-2022 Approved Billable Brothers, Doug 0.300 600.00 180.00 e-mail regarding Wealthforge tolling agreement  06-09-2022 Approved Billable Brothers, Doug 0.700 600.00 420.00 work on responses regarding plan administration; e-mail regarding severed action  06-09-2022 Approved Billable Brothers, Doug 0.300 600.00 180.00 follow up e-mail with Wealthforge counsel; e-mail regarding severed action  06-13-2022 Approved Billable Brothers, Doug 1.400 600.00 840.00 securities case - prepare for call; attend call; revise tolling agreement  06-14-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00 attention to follow up items regarding plan of liquidation  06-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 review objection and setup calls regarding same  06-17-2022 Approved Billable Brothers, Doug 0.800 600.00 2,220.00 prepare for and attend-calls; review contract for SYL sale and review plan										
96-08-2022   Approved   Billable   Brothers, Doug   0.300   600.00   180.00	06-08-2022					Brothers, Doug		1.000	600.00	600.00
e-mail regarding Wealthforge tolling agreement  06-09-2022 Approved Billable Brothers, Doug 0.700 600.00 420.00 work on responses regarding plan administration; e-mail regarding severed action  06-09-2022 Approved Billable Brothers, Doug 0.300 600.00 180.00 follow up e-mail with Wealthforge counsel; e-mail regarding severed action  06-13-2022 Approved Billable Brothers, Doug 1.400 600.00 840.00 securities case - prepare for call; attend call; revise tolling agreement  06-14-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00 attention to follow up items regarding plan of liquidation  06-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 review objection and setup calls regarding same  06-17-2022 Approved Billable Brothers, Doug 0.800 600.00 2,220.00 prepare for and attend calls; review contract for SYL sale and review plan  06-17-2022 Approved Billable Brothers, Doug 0.400 600.00 2,220.00 prepare for and attend calls; review contract for SYL sale and review plan			•	<u> </u>						
Office of the second of the	06-08-2022	• •				Brothers, Doug		0.300	600.00	<del>180.00</del>
work on responses regarding plan administration; e-mail regarding severed action  06-09-2022 Approved Billable Brothers, Doug 0.300 600.00 180.00 follow up e-mail with Wealthforge counsel; e-mail regarding severed action  06-13-2022 Approved Billable Brothers, Doug 1.400 600.00 840.00 securities case - prepare for call; attend call; revise tolling agreement  06-14-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00 attention to follow up items regarding plan of liquidation  06-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 review objection and setup calls regarding same  06-17-2022 Approved Billable Brothers, Doug 3.700 600.00 2,220.00 prepare for and attend calls; review contract for SYL sale and review plan  06-17-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00		<del>-</del>								
Approved Billable Brothers, Doug 0.300 600.00 180.00 follow up e-mail with Wealthforge counsel; e-mail regarding severed action  06-13-2022 Approved Billable Brothers, Doug 1.400 600.00 840.00 securities case - prepare for call; attend call; revise tolling agreement  06-14-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00 attention to follow up items regarding plan of liquidation  06-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 review objection and setup calls regarding same  06-17-2022 Approved Billable Brothers, Doug 3.700 600.00 2,220.00 prepare for and attend calls; review contract for SYL sale and review plan  06-17-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00	06-09-2022				9 11	, ,		0.700	600.00	420.00
follow up e-mail with Wealthforge counsel; e-mail regarding severed action  06-13-2022 Approved Billable Brothers, Doug 1.400 600.00 840.00 securities case - prepare for call; attend call; revise tolling agreement  06-14-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00 attention to follow up items regarding plan of liquidation  06-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 review objection and setup calls regarding same  06-17-2022 Approved Billable Brothers, Doug 3.700 600.00 2,220.00 prepare for and attend calls; review contract for SYL sale and review plan  06-17-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00	00 00 0000			•	-mail regarding severe			0.000	000.00	400.00
O6-13-2022 Approved Billable Brothers, Doug 1.400 600.00 840.00 securities case - prepare for call; attend call; revise tolling agreement  O6-14-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00 attention to follow up items regarding plan of liquidation  O6-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 review objection and setup calls regarding same  O6-17-2022 Approved Billable Brothers, Doug 3.700 600.00 2,220.00 prepare for and attend calls; review contract for SYL sale and review plan  O6-17-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00	06-09-2022					, 0		0.300	600.00	180.00
securities case - prepare for call; attend call; revise tolling agreement  06-14-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00 attention to follow up items regarding plan of liquidation  06-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 review objection and setup calls regarding same  06-17-2022 Approved Billable Brothers, Doug 3.700 600.00 2,220.00 prepare for and attend calls; review contract for SYL sale and review plan  06-17-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00	00 40 0000			_	garding severed actio			1 100	600.00	040.00
O6-14-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00 attention to follow up items regarding plan of liquidation  O6-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 review objection and setup calls regarding same  O6-17-2022 Approved Billable Brothers, Doug 3.700 600.00 2,220.00 prepare for and attend calls; review contract for SYL sale and review plan  O6-17-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00	00-13-2022	1.1			talling agreement	Brothers, Doug		1.400	600.00	840.00
attention to follow up items regarding plan of liquidation  06-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 review objection and setup calls regarding same  06-17-2022 Approved Billable Brothers, Doug 3.700 600.00 2,220.00 prepare for and attend calls; review contract for SYL sale and review plan  06-17-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00	06 14 2022				tolling agreement	Prothers Days		0.400	600.00	240.00
06-15-2022 Approved Billable Brothers, Doug 0.800 600.00 480.00 review-objection and setup calls regarding same  06-17-2022 Approved Billable Brothers, Doug 3.700 600.00 2,220.00 prepare for and attend calls; review contract for SYL sale and review plan  06-17-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00	00-14-2022	• •			tion	<del>Brothers, Doug</del>		0.400	000.00	240.00
review objection and setup calls regarding same  06-17-2022 Approved Billable Brothers, Doug 3.700 600.00 2,220.00 prepare for and attend calls; review contract for SYL sale and review plan  06-17-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00	06_15_2022				uon	Brothers Doug		0.800	600.00	480.00
06-17-2022Approved prepare for and attend calls; review contract for SYL sale and review planBrothers, Doug3.700600.002,220.0006-17-2022ApprovedBillableBrothers, Doug0.400600.00240.00	00 10 2022			2		Brothers, Bodg		0.000	000.00	400.00
prepare for and attend calls; review contract for SYL sale and review plan  06-17-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00	06 17 2022	_				Brothers Doug		3.700	600.00	2 220 00
06-17-2022 Approved Billable Brothers, Doug 0.400 600.00 240.00	00 11 Z0ZZ	• •			sale and review plan			0.700	300.00	2,220.00
, ,	06-17-2022				aa .orion plan			0.400	600.00	240.00
	JJ II LULL	11			nsmit	2.04.0.0, 2049		3.100	500.00	2.0.00

06-24-2022 15:30:40 Page 100 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

							Fro	m 05-01-20	18 To 06-24-2022
Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et	t al 1848								
1848-001 N	NP Skylof	<u>t</u>							
06-19-2022	Approved		<del>Billable</del>		Brothers, Doug		<del>1.500</del>	600.00	900.00
	revise seve	red petition							
06-20-2022	<b>Approved</b>		<del>Billable</del>		Brothers, Doug		0.000	600.00	0.00
	transmit sev	<del>/ered pleading; e-</del> r	nail regarding Sol y Lu	una contact;					
06-21-2022	<b>Approved</b>		<del>Billable</del>		Brothers, Doug		0.600	600.00	360.00
	Review obje	ection; e-mails reg	arding post-trial and se	<del>ettings</del>					
06-22-2022	<b>Approved</b>		<del>Billable</del>		Brothers, Doug		0.700	600.00	420.00
	attention to	<del>plan administratio</del> i	<del>1</del>						
06-22-2022	<b>Approved</b>		<del>Billable</del>		Nakamura, Suzy		0.800	<del>150.00</del>	<del>120.00</del>
	Review and	revise Plaintiffs' C	riginal Petition in seve	ered claim (0.80).					
06-23-2022	<b>Approved</b>		<del>Billable</del>		Nakamura, Suzy		<del>1.000</del>	<del>150.00</del>	<del>150.00</del>
	Continue re	view, revise and re	edline of Original Petit	ion in severed action (1.0)	-				
06-24-2022	<b>Approved</b>		<del>Billable</del>		Brothers, Doug		<del>1.100</del>	600.00	660.00
	attention to	plan admin and po	st-trial setting; collect	atty fees data					
						Matter Total Client Total Fee Basis Total Grand Total	3662.400 3662.400 3662.400 3662.400		1,598,745.00 1,598,745.00 1,598,745.00 1,598,745.00

06-24-2022 15:30:40 Page 101 of 101

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001									
06-27-2022	Billed	_	Billable		Brothers, Doug		0.000	600.00	0.00
06-28-2022	Billed		Billable		Brothers, Doug		0.300	600.00	180.00
	Attention to	post-trial motion s	setting.						
06-28-2022	Billed		Billable		Horton, Russ		0.400	600.00	240.00
	receive and	d review emails fro	m counsel regarding h	earing and briefing so	hedule; review client materials.				
06-29-2022	Billed		Billable		Brothers, Doug		1.000	600.00	600.00
	Review and	d approve motion f	for final approval; atten	tion to post-trial sched	duling; call with objector and counsel.				
07-06-2022	Billed		Billable		Brothers, Doug		0.200	600.00	120.00
	E-mails reg	garding post-trial br	riefing.						
07-07-2022	Billed		Billable		Brothers, Doug		0.800	600.00	480.00
	Outline pos	st trial briefing; tele	phone conference with	Ann Cardenas; sche	dule call.				
07-07-2022	Billed		Billable		Cardenas, Ann		4.800	350.00	1,680.00
	Research								
	participate	in call with D. Brot	thers, Jenny Lloyd and	Robert Brownlie (.3);	research	(2.8);			
07 00 0000	1.7).		Dillable		Profitore Doug		0.400	COO OO	240.00
07-08-2022	Billed	and attand souns	Billable	rial matters	Brothers, Doug		0.400	600.00	240.00
07-08-2022		and attend cours	el call regarding post-t Billable	nai mallers,	Cardenae Ann		3.500	350.00	1 225 00
07-00-2022	Billed	nont including anal	lysis of case law to inc	ludo in Dlaintiffe' nost	Cardenas, Ann		3.500	350.00	1,225.00
07-11-2022	Billed	nerit iriciddirig ariai	Billable	idde iii Fiairitiiis post-	Brothers, Doug		0.400	600.00	240.00
01-11-2022		nmunications rega	arding plan of liquidatio	n final approval	brothers, bodg		0.400	000.00	240.00
07-12-2022	Billed	minumedilons rege	Billable	п ппагарргочаг.	Brothers, Doug		0.200	600.00	120.00
07 12 2022		egarding plan adır			Brothero, Boug		0.200	000.00	120.00
07-12-2022	Billed	ogarag p.a aa	Billable		Cardenas, Ann		1.200	350.00	420.00
	Research					2			
07-14-2022	Billed		Billable		Brothers, Doug		2.300	600.00	1,380.00
	Work on at	torney fees proof;	work on revisions to pl	an administration.					
07-15-2022	Billed		Billable		Brothers, Doug		0.700	600.00	420.00
	Work on at	torney fees proof.			•				
07-15-2022	Billed		Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Research								
		•							

11-04-2024 10:39:20 Page 1 of 37

07-26-2022

Billed

Review settlement letter.

Billable

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All

View = Original From 06-25-2022 To 11-04-2024

120.00

0.200 600.00

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
1848-001		÷							
07-17-2022	Billed		Billable		Cardenas, Ann		2 000	350.00	700.00
01-11-2022	Research		Diliable		Caldellas, Allii		2.000	330.00	700.00
07-17-2022	Billed		Billable		Brothers, Doug		0.300	600.00	180.00
57 17 <b>2022</b>		arding post-trial br			Browners, Boug		0.000	555.55	100.00
07-18-2022	Billed	and any poor and or	Billable		Brothers, Doug		1.100	600.00	660.00
. ,,		st-trial submission	regarding attorneys' f	ees.	2.0			000.00	555.55
07-18-2022	Billed		Billable		Cardenas, Ann		3.000	350.00	1,050.00
	Research								
	8				2				
07-19-2022	Billed		Billable		Brothers, Doug		0.200	600.00	120.00
		arding Zoom setti							
07-19-2022	Billed		Billable		Nakamura, Suzy		0.100	150.00	15.00
		Notice of Hearing (							
07-20-2022	Billed		Billable		Brothers, Doug		1.900	600.00	1,140.00
		eparation regarding	g plan of liquidation.						
07-20-2022	Billed		Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Research								
					V11-117-20 11				
07-21-2022	Billed		Billable		Brothers, Doug		1.000	600.00	600.00
	Prepare for	and attend hearin	ng on Motion for Final	Approval of Plan.	•				
07-21-2022	Billed		Billable		Brothers, Doug		1.800	600.00	1,080.00
	Work on po	st-trial briefing and	d attorneys fees proof.						
07-21-2022	Billed		Billable		Horton, Russ		0.900	600.00	540.00
	Observe he	earing approving se	ettlement; review clien	t materials.					
07-22-2022	Billed		Billable		Brothers, Doug		1.200	600.00	720.00
	Work on po	st-trial motions.							
07-23-2022	Billed		Billable		Brothers, Doug		6.000	600.00	3,600.00
	Work on po	st-trial briefing; red	dact billing statements						

11-04-2024 10:39:20 Page 2 of 37

Brothers, Doug

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	t al 1848								
	NP Skylot	<del>'</del>							
07-26-2022	Billed		Billable		Cardenas, Ann		0.100	350.00	35.00
07 20 2022		email regarding A	xonic settlement offer.		ourdenas, / tim		0.100	000.00	00.00
07-26-2022	Billed	gg	Billable		Cardenas, Ann		0.100	350.00	35.00
	Draft client	email regarding A	xonic settlement offer.						
07-27-2022	Billed		Billable		Brothers, Doug		1.500	600.00	900.00
	Work on att	omey fees proof.							
07-29-2022	Billed		Billable		Cardenas, Ann		0.200	350.00	70.00
	Call with Jo	hn Polk to discuss	his questions and cor	ncerns with correspo	ondence received regarding settlement.				
07-30-2022	Billed		Billable		Brothers, Doug		0.600	600.00	360.00
	Work on at	omey fees declara	ation and review of billi	ng statements.					
07-31-2022	Billed		Billable		Brothers, Doug		1.400	600.00	840.00
	Work on att	omey fees declara	ation.						
08-02-2022	Billed		Billable		Brothers, Doug		0.400	600.00	240.00
	Multiple e-r	nails regarding pos	st-trial matters and call	l.					
08-03-2022	Billed		Billable		Brothers, Doug		0.400	600.00	240.00
		with Ann Cardena	as and call with opposi	ing counsel.					
08-04-2022	Billed		Billable		Cardenas, Ann		2.500	350.00	875.00
		loft billing records		ees incurred that w	ere not billed to clients.				
08-05-2022	Billed		Billable		Cardenas, Ann		2.500	350.00	875.00
	Research in same.	n support of and re	vise D. Brothers Unsw	om Declaration on	Attorney's Fees; communicate with Jenny	Lloyd regarding			
08-07-2022	Billed		Billable		Brothers, Doug		0.400	600.00	240.00
	Review pos	st trial motion.							
08-09-2022	Billed		Billable		Cardenas, Ann		2.500	350.00	875.00
	Research					i.			
08-10-2022	Billed		Billable		Cardenas, Ann		0.500	350.00	175.00
	Revise D. E	Brothers' Unsworn	Declaration supporting	attorney's fees.					
08-10-2022	Billed		Billable		Brothers, Doug		1.300	600.00	780.00
	Attention to	post-trial matters;	review pleadings; con	ference with Ann C	ardenas.				
08-11-2022	Billed		Billable		Brothers, Doug		0.300	600.00	180.00
	Review filin	gs; conference wit	h Ann Cardenas.						
08-11-2022	Billed		Billable		Cardenas, Ann		0.700	350.00	245.00
	Research								

11-04-2024 10:39:20 Page 3 of 37 George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All

View = Original From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et									
1848-001 I		it							
08-13-2022	Billed	_	Billable		Brothers, Doug		0.200	600.00	120.00
	Collect pos	t trial briefing.							
08-14-2022	Billed		Billable		Cardenas, Ann		0.700	350.00	245.00
	Review and	analysis of Skylo	ft post-trial briefing file	ed by the Axonic Defe	endants and prepare brief summa <mark>ry</mark> to pr	ovide to investors.			
08-21-2022	Billed		Billable		Brothers, Doug		1.200	600.00	720.00
	Review pos	st-trial motions.							
08-22-2022	Billed		Billable		Horton, Russ		1.100	600.00	660.00
	Receive an	d review TCG mot	tion for fees.						
08-22-2022	Billed		Billable		Manassian, Taline		1.700	350.00	595.00
	Call with R	Horton regarding	response to motion for	or judgment and requ	uest for fees (.2); research				
08-23-2022	Billed		Billable		Manassian, Taline		0.900	350.00	315.00
00 20 2022		Horton regarding		s' fees (.1); draft resu	oonse on attorneys' fees (.8).		0.000	000.00	010.00
08-23-2022	Billed	g	Billable	(	Nakamura, Suzy		0.100	150.00	15.00
00 00 0000		and to T. Carnes	regarding post-trial pl	eadings (0.10).	, ca, ca,		3,755		
08-23-2022	Billed		Billable	J , ,	Carnes, Tiffany		0.500	350.00	175.00
	Save post-t	rial pleadings to cl	lient portal and confirm	n all clients have acc	ess; update client update with collabspa	ce info.			
08-23-2022	Billed		Billable		Horton, Russ		1.300	600.00	780.00
	Receive an	d review post-trial	motions from defenda	ints.					
08-23-2022	Billed		Billable		Brothers, Doug		0.800	600.00	480.00
	Review of p	ost-trial filings; tel	ephone conference wi	ith Russ Horton.	<del>-</del>				
08-24-2022	Billed		Billable		Brothers, Doug		1.100	600.00	660.00
	Work on po	st trial response a	nd response to motion	n for fees.	_				
08-24-2022	Billed		Billable		Carnes, Tiffany		0.100	350.00	35.00
	Follow up o	n adding documer	nts to client portal.						
08-24-2022	Billed		Billable		Manassian, Taline		3.100	350.00	1,085.00
	Review aut	horities in motions	for fees and draft res	ponse.					
08-25-2022	Billed		Billable		Brothers, Doug		1.800	600.00	1,080.00
	Outline pos	t-trial briefing; tele	phone conferences wi	ith Russ Horton.					
08-25-2022	Billed		Billable		Horton, Russ		1.100	600.00	660.00
	Review out	line of responses t	to post-trial motions; re	eview client materials	5.				
08-29-2022	Billed		Billable		Horton, Russ		1.500	600.00	900.00

Page 4 of 37 11-04-2024 10:39:20

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
	et al 1848								
_	NP Skylo	Ft							
08-29-2022	Billed	<u></u>	Billable		Brothers, Doug		5 000	600.00	3,000.00
00 20 2022		and extensive work	on post trial motions	esponse.	Browners, Bodg		0.000	000.00	0,000.00
08-29-2022	Billed		Billable		Manassian, Taline		3.700	350.00	1,295.00
					briefing (.4); call with R. Horton on briefind regarding response on fees (.3); draft r				·
08-30-2022	Billed		Billable		Manassian, Taline		4.800	350.00	1,680.00
	Draft respo (1.3).	nse on fees (3.5);	call with A. Cardenas	egarding response o	on fees (.1); research attorneys' fees awa	ards in class cases			
08-30-2022	Billed		Billable		Brothers, Doug		1.200	600.00	720.00
	Work on po	st-verdict briefing;	review and comment	on draft.					
08-31-2022	Billed		Billable		Brothers, Doug		2.800	600.00	1,680.00
	Revisions t	o response regard	ing attorneys fees; foll	ow up.					
08-31-2022	Billed		Billable		Manassian, Taline		0.400	350.00	140.00
	Review cor response o		others on response or	fees (.1); call with S	. Nakamura regarding exhibits (.1); revie	w exhibits to			
08-31-2022	Billed		Billable		Horton, Russ		1.500	600.00	900.00
	Review leg	al research suppo	rting response; review	and revise draft resp	onses; review client materials.				
08-31-2022	Billed		Billable		Nakamura, Suzy		1.500	150.00	225.00
	Telephone (1.50).	call from T. Manas	ssian regarding attorne	ys' fees, compile ext	nibits to Response to TCG's Motion for A	ttorneys' Fees			
09-01-2022	Billed		Billable		Manassian, Taline		1.900	350.00	665.00
	Revise resp	oonse on fees (1.8	;); email J. Lloyd and R	. Brownlie regarding	response on fees (.1).				
09-01-2022	Billed		Billable		Nakamura, Suzy		1.500	150.00	225.00
	Emails fron	n and to T. Manas	sian, review, revise and	d redline Intervenors	Response to Motion for Attorney's Fees	(1.50).			
09-01-2022	Billed		Billable		Horton, Russ		2.200	600.00	1,320.00
		d review legal rese I review multiple d		telephone confere	nce with team regarding briefing issue; re	eview draft brief;			
09-01-2022	Billed		Billable		Brothers, Doug		3.800	600.00	2,280.00
	Extensive v	vork on post-trial n	notions responses; cor	ference with Nelson	counsel.				
09-01-2022	Billed		Billable		Cardenas, Ann		5.000	350.00	1,750.00
	Research in	mposition of attorn	ey's fees on derivative	claims and other po	st-trial attorney's fees issues raised in re	sponses.			
09-02-2022	Billed		Billable		Brothers, Doug		3.600	600.00	2,160.00
	Review and	d edit post trial res	ponses; initial review o	f filings.					
09-02-2022	Billed		Billable		Horton, Russ		1.100	600.00	660.00

11-04-2024 10:39:20

Page 5 of 37

11-04-2024 10:39:20

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All View = Original From 06-25-2022 To 11-04-2024

Page 6 of 37

									10 11-04-2024
Date	Status A	oproval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amoun
Continge	ent								
Skyloft et									
-	NP Skyloft								
1040-0011		a draft briaf: re	wiew client materials	·· receive and revie	w email regarding revisions to same.				
09-02-2022	Billed	e diait blief, le	Billable	, receive and revie	Manassian, Taline		6 300	350.00	2,205.00
09-02-2022		on settlement		Brothers and R F	lorton regarding opening of brief (.1); revi	ise resnonse on	0.300	330.00	2,200.00
					neys' fees (.1); revise response to post-ve				
09-02-2022	Billed		Billable		Nakamura, Suzy		0.100	150.00	15.0
	Emails from and	to T. Manassia	n regarding trial exc	erpts (0.10).					
09-06-2022	Billed		Billable		Brothers, Doug		2.500	600.00	1,500.00
	Close review of F same.	Response briefi	ng; outline replies a	nd e-mails regardir	ng same; telephone conference with Russ	s Horton regarding			
09-07-2022	Billed		Billable		Brothers, Doug		0.700	600.00	420.0
	Attention to post-	trial briefing.							
09-07-2022	Billed		Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Research various	issues for law	in support of reply t	o motion to enforce	e attorney's fees.				
09-07-2022	Billed		Billable		Manassian, Taline		0.300	350.00	105.00
	Calls with R. Hor Seabolt regarding			1); call with A. Car	denas regarding responsive briefing (.1);	emails with K.			
09-07-2022	Billed		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Emails to and fro	m D. Brothers,	email to 250 Submis	ssion, Intervenors'	Response to Motion for Attorneys' Fees	(0.20).			
09-08-2022	Billed		Billable		Cardenas, Ann		5.500	350.00	1,925.00
	Research various reply.	issues for law	in support of reply t	o motion to enforce	e attorney's fees and draft argument to in	clude in intervenor's			
09-08-2022	Billed		Billable		Brothers, Doug		4.600	600.00	2,760.00
	Draft reply and co	oordinate filings	s; revise and edit.						
09-09-2022	Billed		Billable		Brothers, Doug		3.000	600.00	1,800.00
	Review and revis	e post-trial rep	ly briefs; follow up.						
09-09-2022	Billed		Billable		Cardenas, Ann		3.500	350.00	1,225.00
	Research various reply.	issues for law	in support of reply t	o motion to enforce	e attorney's fees and draft argument to in	clude in intervenor's			
09-09-2022	Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00
	Emails from and	to D. Brothers,	review, revise and r	edline Intervenors'	Joint Reply regarding Attorney's Fees (0	.30).			
09-12-2022	Billed		Billable		Nakamura, Suzy		0.500	150.00	75.00
	Download variou	s post trial plea	adings (0.50).						
09-12-2022	Billed		Billable		Brothers, Doug		3.600	600.00	2,160.0
	Preparation for p	ost-trial motion	hearing.						
09-13-2022	Billed		Billable		Brothers, Doug		5.200	600.00	3,120.0

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Contings           Skyloft et al 1848           1848-001 NP Skyloft         Hearing preparton.           Communicate with investors regarding Skyloft post-trial hearing.           Review Court's Box for Intervenors upload of Motions and Responses and enail to D. Brothers, Doug         6.600	Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Section   1988   198	Conting	gent								
1	_									
Hearing preparation.   Billable   Cardenas, Ann   0.300   35.00   105.00	_		ft							
09-13-20222         Billed Nominate with investors regarding Skyloft post-trial hearing.         Cardenas, Ann         0,300         35,000         105,00           09-13-2022         Billed Billable         Nakamura, Suzy         0,200         150,00         30,00           09-13-2022         Billed Billable         No Makemura, Suzy         0,200         60,00         30,00           09-14-202         Billed Billable         No Charge         Brothers, Doug         2,400         600,00         1,440,00           09-15-2022         Billed No Charge         Brothers, Doug         2,00         600,00         1,200,00           09-16-2022         Billed Segregation.         No Charge         Brothers, Doug         0,00         600,00         1,200,00           09-16-2022         Billed Billable         Billable Billable         Brothers, Doug         0,00         600,00         300,00           09-19-2022         Billed Billable         Billable Billable Billable Billable Billable Billable Billable Billable Billable Brothers, Doug         0,50         600,00         300,00           09-20-2022         Billable Bill	1010 001		_							
Communicate with investors regarding Skyloft post-trial hearing.   Skyloft post-trial motions and Responses and email to D. Brothers (0.20).	09-13-2022	٠.		Billable		Cardenas, Ann		0.300	350.00	105.00
09-13-2022   Billed   Billable   Nakamura, Suzy   0.200   15.000   30.000   16.000   30.000   16.000   30.0000   30.		Communica	ate with investors r	regarding Skyloft post-	trial hearing.	20.20.00.,				70070
Review Court's Box for Intervenor's upload of Motions and Responses and email to D. Brothers (D.20).   Billed   Billable   Billable   Brothers, Doug   Brothers,	09-13-2022				J	Nakamura, Suzy		0.200	150.00	30.00
Preparation and attendance at post-trial motions hearing.		Review Co	urt's Box for Interv	enor's upload of Motio	ns and Responses a	and email to D. Brothers (0.20).				
09-15-2022   Billed   No Charge   Brothers, Doug   1.700   600.00   1.440.00	09-14-2022	Billed		Billable		Brothers, Doug		6.600	600.00	3,960.00
Work on fee segregation.   Work on fee segregation.   No Charge   Brothers, Doug   1.700   600.00   1,020.00   Work on fee segregation.   Work on fee segregation.		Preparation	and attendance a	at post-trial motions he	aring.					
09-16-2022   Billed   No Charge   Brothers, Doug   1.700   600.00   1.020.00	09-15-2022	Billed		No Charge		Brothers, Doug		2.400	600.00	1,440.00
Work on fee segregation.   Silled   Billable   Brothers, Doug   0.700   600.00   420.00		Work on fee	e segregation.							
Billed   Billable   Brothers, Doug   Dougle	09-16-2022	Billed		No Charge		Brothers, Doug		1.700	600.00	1,020.00
Calls with opposing counsel; call with Brownlie.  09-17-2022 Billed Billable Brothers, Doug 0.600 600.00 360.00 consideration to settlement issues and review revised Baliette declaration.  09-19-2022 Billed Billable Brothers, Doug 0.500 600.00 300.00 call with Brownlie/Lloyd regarding settlement; e-mail to Skarnulis and Given.  09-19-2022 Approved Non-Billable Brothers, Doug 0.500 600.00 300.00 call with Brownlie/Lloyd regarding settlement; e-mail to Steve Skarnulis and Barney Given.  09-20-2022 Billed Billable Brothers, Doug 0.500 600.00 240.00 Prepare for and attend settlement call.  09-21-2022 Billed Billable Brothers, Doug 0.500 600.00 180.00 Draft client status report.  09-21-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Draft client status report.  09-22-2022 Billed Billable Nakamura, Suzy 7.700 150.00 1,155.00 Emails from and to D. Brothers, calculate billing with Nelson-related tasks removed (7.70).  09-22-2022 Billed Billable Nakamura, Suzy 4.800 150.00 720.00 Feasils from Jenny Lloyd and D. Brothers regarding filing Attorney's Fees (0.10); emails from and to D. Brothers and draft chart of Nelson related belied fees and calculate amounts, email to D. Brothers (0.40); emails from and to D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers and exhibits to Jenny Lloyd and Robert Brown (0.10).  99-22-2022 Billed Billable Carnes, Tiffany 0.700 350.00 245.00 Emails from Alamama Declaration of Declaration of Declaration of Declaration of Decla		Work on fee	e segregation.							
Billed   Billable   Brothers, Doug   0.600   600.00   360.00   3	09-16-2022	Billed		Billable		Brothers, Doug		0.700	600.00	420.00
Consideration to settlement issues and review revised Ballette declaration.  9-19-2022 Billed Billable Brothers, Doug 0.500 600.00 300.00 Call with Brownlie/Lloyd regarding settlement; e-mail to Skarnulis and Given.  9-19-2022 Approved Non-Billable Brothers, Doug 0.500 600.00 300.00 Call with Brownlie/Lloyd regarding settlement; e-mail to Steve Skarnulis and Barney Given.  9-20-2022 Billed Billable Brothers, Doug 0.400 600.00 240.00 Prepare for and attend settlement call.  9-21-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 240.00 Draft client status report.  99-21-2022 Billed Billable Nakamura, Suzy 7.700 150.00 1,155.00 Emails from and to D. Brothers, calculate billing with Nelson-related tasks removed (7.70).  99-22-2022 Billed Billable Nakamura, Suzy 4.800 150.00 720.00 Emails from Jenny Lloyd and D. Brothers regarding filing Attorney's Fees (0.10); emails from and to D. Brothers (0.10); review and draft chart of Nelson related billed fees and calculate amounts billed, emails to and from D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email from and to D. Brothers revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers and exploration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0		Calls with o	pposing counsel;	call with Brownlie.						
Billed   Billable   Brothers, Doug   D.500   600.00   300.00	09-17-2022	Billed		Billable		Brothers, Doug		0.600	600.00	360.00
Call with Brownlie/Lloyd regarding settlement; e-mail to Skarnulis and Given.  9-19-2022 Approved Non-Billable Brothers, Doug 0.500 600.00 300.00 Call with Brownlie/Lloyd regarding settlement; e-mail to Steve Skarnulis and Barney Given.  9-20-2022 Billed Billable Brothers, Doug 0.400 600.00 240.00 Prepare for and attend settlement call.  90-21-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Draft client status report.  90-21-2022 Billed Billable Nakamura, Suzy 7.700 150.00 1,155.00 Emails from and to D. Brothers, calculate billing with Nelson-related tasks removed (7.70).  90-22-2022 Billed Billable Nakamura, Suzy 4.800 150.00 720.00 Emails from Jenny Lloyd and D. Brothers regarding filing Attorney's Fees (0.10); emails from and to D. Brothers regarding attorney's fees and expense invoices (0.10); review and draft chart of Nelson related billed expenses and calculate amounts billed, emails to and from D. Brothers (3.80); review and draft chart of Nelson related billed expenses and calculate amounts billed, emails to and from D. Brothers (3.80); review and draft chart of Nelson related billed expenses and calculate amounts billed, emails to and from D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers regarding s		Considerati	on to settlement is	ssues and review revis	ed Baliette declarati	on.				
Op-19-2022   Approved   Non-Billable   Brothers, Doug   D.500   600.00   300.00	09-19-2022	Billed		Billable		Brothers, Doug		0.500	600.00	300.00
Call with Brownlie/Lloyd regarding settlement; e-mail to Steve Skarnulis and Barney Given.  99-20-2022 Billed Billable Brothers, Doug 0.400 600.00 240.00 Prepare for and attend settlement call.  99-21-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Draft client status report.  99-21-2022 Billed Billable Nakamura, Suzy 7.700 150.00 1,155.00 Emails from and to D. Brothers, calculate billing with Nelson-related tasks removed (7.70).  99-22-2022 Billed Billable Nakamura, Suzy 4.800 150.00 720.00 Emails from Jenny Lloyd and D. Brothers regarding filing Attorney's Fees (0.10); emails from and to D. Brothers invoices (0.10); review and draft chart of Nelson related billed fees and calculate amounts billed, emails to and from D. Brothers (0.30); review and draft chart of Nelson related billed sepenses and calculate amounts, email to D. Brothers (0.40); emails from and to D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); emails from and to D. Brothers and exhibits to Jenny Lloyd and Robert Brown (0.10).  99-22-2022 Billed Billable Carnes, Tiffany 0.700 350.00 245.00 Prepare document for client communication; create zoom meeting; send client communication;			ownlie/Lloyd regar	rding settlement; e-ma	il to Skarnulis and G					
Billed   Billable   Brothers, Doug   D.400   600.00   240.00	09-19-2022					, ,		0.500	600.00	300.00
Prepare for and attend settlement call.  09-21-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Draft client status report.  09-21-2022 Billed Billable Nakamura, Suzy 7.700 150.00 1,155.00 Emails from and to D. Brothers, calculate billing with Nelson-related tasks removed (7.70).  09-22-2022 Billed Billable Nakamura, Suzy 4.800 150.00 720.00  Emails from Jenny Lloyd and D. Brothers regarding filing Attorney's Fees (0.10); emails from and to D. Brothers regarding attorney's fees and expense invoices (0.10); review and draft chart of Nelson related billed fees and calculate amounts billed, emails to and from D. Brothers (3.80); review and draft chart of Nelson related billed expenses and calculate amounts, email to D. Brothers (0.40); emails from and to D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers and exhibits to Jenny Lloyd and Robert Brown (0.10).  09-22-2022 Billed Billable Carnes, Tiffany 0.700 350.00 245.00 Prepare document for client communication; create zoom meeting; send client communication;			ownlie/Lloyd regar	•	il to Steve Skarnulis	and Barney Given.				
Billed Billable Brothers, Doug 0.300 600.00 180.00  Draft client status report.  09-21-2022 Billed Billable Nakamura, Suzy 7.700 150.00 1,155.00  Emails from and to D. Brothers, calculate billing with Nelson-related tasks removed (7.70).  09-22-2022 Billed Billable Nakamura, Suzy 4.800 150.00 720.00  Emails from Jenny Lloyd and D. Brothers regarding filing Attorney's Fees (0.10); emails from and to D. Brothers regarding attorney's fees and expense invoices (0.10); review and draft chart of Nelson related billed fees and calculate amounts billed, emails to and from D. Brothers (3.80); review and draft chart of Nelson related billed expenses and calculate amounts, email to D. Brothers (0.40); emails from and to D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers and exhibits to Jenny Lloyd and Robert Brown (0.10).  09-22-2022 Billed Billable Carnes, Tiffany 0.700 350.00 245.00 Prepare document for client communication; create zoom meeting; send client communication;	09-20-2022					Brothers, Doug		0.400	600.00	240.00
Draft client status report.  09-21-2022 Billed Billable Nakamura, Suzy 7.700 150.00 1,155.00 Emails from and to D. Brothers, calculate billing with Nelson-related tasks removed (7.70).  09-22-2022 Billed Billable Nakamura, Suzy 4.800 150.00 720.00 Emails from Jenny Lloyd and D. Brothers regarding filing Attorney's Fees (0.10); emails from and to D. Brothers regarding attorney's fees and expense invoices (0.10); review and draft chart of Nelson related billed fees and calculate amounts billed, emails to and from D. Brothers (3.80); review and draft chart of Nelson related billed expenses and calculate amounts, email to D. Brothers (0.40); emails from and to D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers and exhibits to Jenny Lloyd and Robert Brown (0.10).  09-22-2022 Billed Billable Carnes, Tiffany 0.700 350.00 245.00 Prepare document for client communication; create zoom meeting; send client communication;		•	and attend settler							
Billed Billable Nakamura, Suzy 7.700 150.00 1,155.00  Emails from and to D. Brothers, calculate billing with Nelson-related tasks removed (7.70).  09-22-2022 Billed Billable Nakamura, Suzy 4.800 150.00 720.00  Emails from Jenny Lloyd and D. Brothers regarding filing Attorney's Fees (0.10); emails from and to D. Brothers regarding attorney's fees and expense invoices (0.10); review and draft chart of Nelson related billed fees and calculate amounts billed, emails to and from D. Brothers (3.80); review and draft chart of Nelson related billed expenses and calculate amounts, email to D. Brothers (0.40); emails from and to D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers and exhibits to Jenny Lloyd and Robert Brown (0.10).  09-22-2022 Billed Billable Carnes, Tiffany 0.700 350.00 245.00 Prepare document for client communication; create zoom meeting; send client communication;	09-21-2022			Billable		Brothers, Doug		0.300	600.00	180.00
Emails from and to D. Brothers, calculate billing with Nelson-related tasks removed (7.70).  09-22-2022 Billed Billable Nakamura, Suzy 4.800 150.00 720.00  Emails from Jenny Lloyd and D. Brothers regarding filing Attorney's Fees (0.10); emails from and to D. Brothers regarding attorney's fees and expense invoices (0.10); review and draft chart of Nelson related billed fees and calculate amounts billed, emails to and from D. Brothers (3.80); review and draft chart of Nelson related billed expenses and calculate amounts, email to D. Brothers (0.40); emails from and to D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers and exhibits to Jenny Lloyd and Robert Brown (0.10).  09-22-2022 Billed Billable Carnes, Tiffany 0.700 350.00 245.00 Prepare document for client communication; create zoom meeting; send client communication;			status report.							
D9-22-2022 Billed Billable Nakamura, Suzy 4.800 150.00 720.00  Emails from Jenny Lloyd and D. Brothers regarding filing Attorney's Fees (0.10); emails from and to D. Brothers regarding attorney's fees and expense invoices (0.10); review and draft chart of Nelson related billed fees and calculate amounts billed, emails to and from D. Brothers (3.80); review and draft chart of Nelson related billed expenses and calculate amounts, email to D. Brothers (0.40); emails from and to D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers and exhibits to Jenny Lloyd and Robert Brown (0.10).  D9-22-2022 Billed Billable Carnes, Tiffany 0.700 350.00 245.00 Prepare document for client communication; create zoom meeting; send client communication;	09-21-2022							7.700	150.00	1,155.00
Emails from Jenny Lloyd and D. Brothers regarding filing Attorney's Fees (0.10); emails from and to D. Brothers regarding attorney's fees and expense invoices (0.10); review and draft chart of Nelson related billed fees and calculate amounts billed, emails to and from D. Brothers (3.80); review and draft chart of Nelson related billed expenses and calculate amounts, email to D. Brothers (0.40); emails from and to D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers and exhibits to Jenny Lloyd and Robert Brown (0.10).  109-22-2022 Billed Billable Carnes, Tiffany 0.700 350.00 245.00 Prepare document for client communication; create zoom meeting; send client communication;			n and to D. Brother		n Nelson-related task	` '				
fees and expense invoices (0.10); review and draft chart of Nelson related billed fees and calculate amounts billed, emails to and from D. Brothers (3.80); review and draft chart of Nelson related billed expenses and calculate amounts, email to D. Brothers (0.40); emails from and to D. Brothers, revise Supplemental Declaration of D. Brothers regarding segregated fees (0.30); email Supplemental Declaration of D. Brothers and exhibits to Jenny Lloyd and Robert Brown (0.10).  O9-22-2022 Billed Billable Carnes, Tiffany 0.700 350.00 245.00 Prepare document for client communication; create zoom meeting; send client communication;	09-22-2022							4.800	150.00	720.00
Prepare document for client communication; create zoom meeting; send client communication;		fees and ex from D. Bro emails from	opense invoices (0 others (3.80); revie or and to D. Brother	.10); review and draft of wand draft chart of Ne s, revise Supplementa	chart of Nelson relatel elson related billed e al Declaration of D. E	ed billed fees and calculate amounts billed, xpenses and calculate amounts, email to D trothers regarding segregated fees (0.30); e	emails to and . Brothers (0.40);			
	09-22-2022					, ,		0.700	350.00	245.00
09-22-2022 Billed Billable Brothers, Doug 3.400 600.00 2,040.00		Prepare do	cument for client c	communication; create	zoom meeting; send	d client communication;				
	09-22-2022	Billed		Billable		Brothers, Doug		3.400	600.00	2,040.00

11-04-2024 10:39:20 Page 7 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Review and approve supplemental declaration; e-mails with co-counsel; multiple follow up communications.	Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Skyloff et al 1848	Conting	gent								
Revise dicaration and e-mails regarding same; segregate expenses; review settlement letter, forward to client portal with comments; e-mails to co-coursel?		_								
Revise declaration and e-mails regarding same; segregate expenses; review settlement letter; forward to client portal with comments; e-mails to co-counsel   Billable   Brothers, Doug   0.900   600.00   540.00	_									
Review and approve supplemental declaration; e-mails with co-counsel; multiple follow up communications.		Revise dec	_ laration and e-mai	0 0	gregate expenses; re	eview settlement letter; forward to client	portal with			
Second   Silled   Billable   Brothers, Doug   0.900   0.000	09-23-2022	2 Billed		Billable		Brothers, Doug		0.900	600.00	540.00
Prepare for and attend client call.   Billable		Review and	d approve supplem	nental declaration; e-m	ails with co-counsel;	multiple follow up communications.				
0.9-23-2022   Billed   Billable   Carnes, Tiffany   0.500   350.00   175.00	09-23-2022	2 Billed		Billable		Brothers, Doug		0.900	600.00	540.00
Client correspondence and resend client portal access to several clients;  09-23-2022 Billed Billable Billable Emails from and to D. Brothers, review, revise and recalculate Nelson related billed attorneys' fees and expenses (3.20); emails from and to D. Brothers, draft Intervenors' Supplement to Intervenors' Motion for an Award of Attorney's Fees (0.40); emails to and from Jenny Lloyd and Robert Brownile (0.10); email and telephone call to D. Brothers regarding correction and adjustment to Declaration of D. Brothers (0.20); finalize Intervenors' Supplement to Intervenors' Motion for an Award of Attorney's Fees (0.20).  10-04-2022 Billed Billable Billable Horton, Russ 0.400 600.00 240.00 Receive and review email from B. Evans regarding sealing of post verdict motions.  10-05-2022 Billed Billable Billable Horton, Russ 0.400 600.00 240.00 Receive and review status report from Nelson.  10-06-2022 Billed Billable Billable Brothers, Doug 0.300 600.00 180.00 Receive and review multiple emails regarding post verdict motions; review client materials.  10-08-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Review Plan and e-mail Jason Rudd.  10-13-2022 Billed Billable Brothers, Doug 0.300 600.00 600.00 600.00 Review Plan and e-mail Jason Rudd.  10-13-2022 Billed Billable Brothers, Doug 0.300 600.00 600.00 600.00 Review letter from Court and draft client communication.  10-13-2022 Billed Billable Billable Brothers, Doug 0.300 600.00 150.00 600.00 Review letter from Court and draft client communication.  10-17-2022 Billed Billable Billable Nakamura, Suzy 0.200 150.00 30.00 Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-17-2022 Billed Billable Billable Brothers, Doug 0.300 600.00 600.00 960.00 Draft from of judgement (.2); e-mail regarding Nelson plan (.1).		Prepare for	and attend client	call.						
Silled   Billable	09-23-2022	2 Billed		Billable		Carnes, Tiffany		0.500	350.00	175.00
Emails from and to D. Brothers, review, revise and recalculate Nelson related billed attorneys' fees and expenses (3.20); emails from and to D. Brothers, draft Intervenors' Supplement to Intervenors' Motion for an Award of Attorney's Fees (0.40); emails to and from Jenny Lloyd and Robert Brownile (0.10); email and telephone call to D. Brothers registring correction and adjustment to Declaration of D. Brothers (0.20); finalize Intervenors' Supplement to Intervenors' Motion for an Award of Attorney's Fees (0.20).  10-04-2022 Billed Billable Horton, Russ 0.400 600.00 240.00 Receive and review email from B. Evans regarding sealing of post verdict motions.  10-05-2022 Billed Billable Horton, Russ 0.400 600.00 240.00 Receive and review status report from Nelson.  10-06-2022 Billed Billable Horton, Russ 0.400 600.00 240.00 Receive and review multiple emails regarding post verdict motions; review client materials.  10-06-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 180.00 Review Plan and e-mail Jason Rudd.  10-08-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 180.00 Review Plan and e-mail Jason Rudd.  10-13-2022 Billed Billable Brothers, Doug 0.300 600.00 600.00 600.00 Review Plan and e-mail Jason Rudd.  10-13-2022 Billed Billable Brothers, Doug 0.300 600.00 600.00 600.00 Review Plan and e-mail Jason Rudd.  10-13-2022 Billed Billable Horton, Russ 1.100 600.00 600.00 600.00 600.00 Feesive and review order regarding final judgment; telephone conference with D. Brothers regarding same.  10-17-2022 Billed Billable Billable Brothers, Poug 1.600 600.00 960.00 Feesive and review order regarding final judgment; telephone conference with D. Brothers, Doug 1.600 600.00 960.00 Feesive and review order regarding final judgment; telephone conference with D. Brothers, Doug 1.600 600.00 960.00 Feesive Billed Billable Billable Brothers, Doug 1.600 600.00 96		Client corre	espondence and re	esend client portal acc	ess to several clients	<b>;</b>				
and to D. Brothers, draft Intervenors' Supplement to Intervenors' Motion for an Award of Attorney's Fees (0.40), emails to and from Jenny Lloyd and Robert Brownile (0.10); email and telephone call telephone call telephone call to D. Brothers regarding correction and adjustment to Declaration of D. Brothers (0.20); finalize Intervenors' Supplement to Intervenors' Motion for an Award of Attorney's Fees (0.40).  10-04-2022 Billed Billable Horton, Russ 0.400 600.00 240.00 Receive and review email from B. Evans regarding sealing of post verdict motions.  10-05-2022 Billed Billable Horton, Russ 0.400 600.00 240.00 Receive and review status report from Nelson.  10-06-2022 Billed Billable Horton, Russ 0.400 600.00 240.00 Receive and review multiple emails regarding post verdict motions; review cleint materials.  10-06-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 180.00 Telephone conference with Greg Nochese; attention to plan of liquidation administration.  10-08-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Review Plan and e-mail Jason Rudd.  10-13-2022 Billed Billable Brothers, Doug 1.000 600.00 600.00 600.00 Review letter from Court and draft client communication.  10-13-2022 Billed Billable Brothers, Doug 1.000 600.00 600.00 600.00 Receive and review order regarding final judgment; telephone conference with D. Brothers regarding same.  10-17-2022 Billed Billable Nakamura, Suzy 0.200 150.00 30.00 600.00 Praft form of judgment.  10-17-2022 Billed Billable Brothers, Poug 1.600 600.00 960.00 Praft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00 Praft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Praft form of judgment.	09-23-2022	2 Billed		Billable		Nakamura, Suzy		4.100	150.00	615.00
Receive and review email from B. Evans regarding sealing of post verdict motions.  10-05-2022 Billed Billable Horton, Russ 0.400 600.00 240.00 Receive and review status report from Nelson.  10-06-2022 Billed Billable Horton, Russ 0.400 600.00 240.00 Receive and review multiple emails regarding post verdict motions; review client materials.  10-06-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 180.00 Telephone conference with Greg Nochese; attention to plan of liquidation administration.  10-08-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Review Plan and e-mail Jason Rudd.  10-13-2022 Billed Billable Brothers, Doug 1.000 600.00 600.00 Review letter from Court and draft client communication.  10-13-2022 Billed Billable Horton, Russ 1.100 600.00 660.00 Receive and review order regarding final judgment; telephone conference with D. Brothers regarding same.  10-17-2022 Billed Billable Nakamura, Suzy 0.200 150.00 30.00 10-17-2022 Billed Billable Billable Nakamura, Suzy 0.200 150.00 30.00 Draft form and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-18-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00 Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Draft form of judgment.		and to D. B Jenny Lloy	rothers, draft Inter d and Robert Brow	venors' Supplement to Inlie (0.10); email and	Intervenors' Motion telephone call to D.	for an Award of Attorney's Fees (0.40); Brothers regarding correction and adjust	emails to and from tment to Declaration			
10-05-2022   Billed   Billable   Billable   Horton, Russ   0.400   600.00   240.00	10-04-2022	2 Billed		Billable		Horton, Russ		0.400	600.00	240.00
Receive and review status report from Nelson.		Receive an	d review email fro	m B. Evans regarding	sealing of post verdi	ct motions.				
10-06-2022   Billed   Billable   Horton, Russ   0.400   600.00   240.00     Receive and review multiple emails regarding post verdict motions; review client materials.     10-06-2022   Billed   Billable   Brothers, Doug   0.300   600.00   180.00     Telephone conference with Greg Nochese; attention to plan of liquidation administration.     10-08-2022   Billed   Billable   Brothers, Doug   0.300   600.00   180.00     Review Plan and e-mail Jason Rudd.       10-13-2022   Billed   Billable   Brothers, Doug   1.000   600.00   600.00     Review letter from Court and draft client communication.     10-13-2022   Billed   Billable   Horton, Russ   1.100   600.00   660.00     Receive and review order regarding final judgment; telephone conference with D. Brothers regarding same.     10-17-2022   Billed   Billable   Nakamura, Suzy   0.200   150.00   30.00     Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).     10-17-2022   Billed   Billable   Brothers, Doug   1.600   600.00   960.00     Draft form of judgment.     10-18-2022   Billed   Billable   Brothers, Doug   0.300   600.00   180.00     Attention to form of judgment (.2); e-mail regarding Nelson plan (.1).	10-05-2022	2 Billed		Billable		Horton, Russ		0.400	600.00	240.00
Receive and review multiple emails regarding post verdict motions; review client materials.  10-06-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 180.00 Telephone conference with Greg Nochese; attention to plan of liquidation administration.  10-08-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Review Plan and e-mail Jason Rudd.  10-13-2022 Billed Billable Brothers, Doug 1.000 600.00 600.00 600.00 Review letter from Court and draft client communication.  10-13-2022 Billed Billable Horton, Russ 1.100 600.00 660.00 Receive and review order regarding final judgment; telephone conference with D. Brothers regarding same.  10-17-2022 Billed Billable Nakamura, Suzy 0.200 150.00 30.00 Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-17-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00 Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Attention to form of judgment (.2); e-mail regarding Nelson plan (.1).		Receive an	d review status rep	port from Nelson.						
10-06-2022   Billed   Billable   Brothers, Doug   0.300   600.00   180.00	10-06-2022	2 Billed		Billable		Horton, Russ		0.400	600.00	240.00
Telephone conference with Greg Nochese; attention to plan of liquidation administration.  10-08-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Review Plan and e-mail Jason Rudd.  10-13-2022 Billed Billable Brothers, Doug 1.000 600.00 600.00 Review letter from Court and draft client communication.  10-13-2022 Billed Billable Horton, Russ 1.100 600.00 660.00 Receive and review order regarding final judgment; telephone conference with D. Brothers regarding same.  10-17-2022 Billed Billable Nakamura, Suzy 0.200 150.00 30.00 Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-17-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00 Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Attention to form of judgment (.2); e-mail regarding Nelson plan (.1).		Receive an	d review multiple e	emails regarding post	verdict motions; revie	ew client materials.				
10-08-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Review Plan and e-mail Jason Rudd.  10-13-2022 Billed Billable Brothers, Doug 1.000 600.00 600.00 Review letter from Court and draft client communication.  10-13-2022 Billed Billable Horton, Russ 1.100 600.00 660.00 Receive and review order regarding final judgment; telephone conference with D. Brothers regarding same.  10-17-2022 Billed Billable Nakamura, Suzy 0.200 150.00 30.00 Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-17-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00 Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Attention to form of judgment (.2); e-mail regarding Nelson plan (.1).	10-06-2022	2 Billed		Billable		Brothers, Doug		0.300	600.00	180.00
Review Plan and e-mail Jason Rudd.  10-13-2022 Billed Billable Brothers, Doug 1.000 600.00 600.00 Review letter from Court and draft client communication.  10-13-2022 Billed Billable Horton, Russ 1.100 600.00 660.00 Receive and review order regarding final judgment; telephone conference with D. Brothers regarding same.  10-17-2022 Billed Billable Nakamura, Suzy 0.200 150.00 30.00 Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-17-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00 Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Attention to form of judgment (.2); e-mail regarding Nelson plan (.1).		Telephone	conference with G	reg Nochese; attentio	n to plan of liquidatio	n administration.				
Billed Billable Brothers, Doug 1.000 600.00 600.00 Review letter from Court and draft client communication.  10-13-2022 Billed Billable Horton, Russ 1.100 600.00 660.00 Receive and review order regarding final judgment; telephone conference with D. Brothers regarding same.  10-17-2022 Billed Billable Nakamura, Suzy 0.200 150.00 30.00 Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-17-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00 Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Attention to form of judgment (.2); e-mail regarding Nelson plan (.1).	10-08-2022	2 Billed		Billable		Brothers, Doug		0.300	600.00	180.00
Review letter from Court and draft client communication.  10-13-2022 Billed Billable Horton, Russ 1.100 600.00 660.00 Receive and review order regarding final judgment; telephone conference with D. Brothers regarding same.  10-17-2022 Billed Billable Nakamura, Suzy 0.200 150.00 30.00 Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-17-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00 Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Attention to form of judgment (.2); e-mail regarding Nelson plan (.1).		Review Pla	ın and e-mail Jasoı	n Rudd.						
Billed Billable Horton, Russ 1.100 600.00 660.00 Receive and review order regarding final judgment; telephone conference with D. Brothers regarding same.  10-17-2022 Billed Billable Nakamura, Suzy 0.200 150.00 30.00 Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-17-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00 Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Attention to form of judgment (.2); e-mail regarding Nelson plan (.1).	10-13-2022	2 Billed		Billable		Brothers, Doug		1.000	600.00	600.00
Receive and review order regarding final judgment; telephone conference with D. Brothers regarding same.  10-17-2022 Billed Billable Nakamura, Suzy 0.200 150.00 30.00 Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-17-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00 Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Attention to form of judgment (.2); e-mail regarding Nelson plan (.1).		Review lett	er from Court and	draft client communica	ation.					
10-17-2022 Billed Billable Nakamura, Suzy 0.200 150.00 30.00 Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-17-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00 Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Attention to form of judgment (.2); e-mail regarding Nelson plan (.1).	10-13-2022	2 Billed		Billable		Horton, Russ		1.100	600.00	660.00
Emails from and to D. Brothers, review Court's website and download Charge of Court (0.20).  10-17-2022 Billed Billable Brothers, Doug 1.600 600.00 960.00  Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00  Attention to form of judgement (.2); e-mail regarding Nelson plan (.1).		Receive an	d review order reg	arding final judgment;	telephone conference	ce with D. Brothers regarding same.				
10-17-2022       Billed       Billable       Brothers, Doug       1.600       600.00       960.00         Draft form of judgment.         10-18-2022       Billed       Billable       Brothers, Doug       0.300       600.00       180.00         Attention to form of judgement (.2); e-mail regarding Nelson plan (.1).	10-17-2022	2 Billed		Billable		Nakamura, Suzy		0.200	150.00	30.00
Draft form of judgment.  10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.00 Attention to form of judgement (.2); e-mail regarding Nelson plan (.1).		Emails fron	n and to D. Brother	rs, review Court's web	site and download C	harge of Court (0.20).				
10-18-2022 Billed Billable Brothers, Doug 0.300 600.00 180.0 Attention to form of judgement (.2); e-mail regarding Nelson plan (.1).	10-17-2022	2 Billed		Billable		Brothers, Doug		1.600	600.00	960.00
Attention to form of judgement (.2); e-mail regarding Nelson plan (.1).		Draft form	of judgment.							
	10-18-2022	2 Billed		Billable		Brothers, Doug		0.300	600.00	180.00
10-18-2022 Billed Billable Horton, Russ 1.100 600.00 660.0		Attention to	form of judgemen	ıt (.2); e-mail regardinç	g Nelson plan (.1).					
	10-18-2022	2 Billed		Billable		Horton, Russ		1.100	600.00	660.00

11-04-2024 10:39:20 Page 8 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	gent								
_	et al 1848								
-	NP Skylo	ft							
1010 001		_	m J. Rudd regarding o	all with G. Noesche	; review client materials; telephone confer	ence with team			
	regarding s		g -		,				
10-20-2022	2 Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00
	to Axonic D Response i Judgment (	efendants' Motion n Opposition to the 0.10); download D n Opposition to the	for Settlement Credit e Remedies Issues Ra eclaration of Benjami	(0.10); download To aised in the Parziale n D. Evans in Suppo	Axonic and TCG's Post Verdict Motions a CG Skyloft Owner, LLC's and the Axonic E and Schiffman Intervenors' Joint Motion fort of TCG Skyloft Owner, LLC and the Ax and Schiffman Intervenors' Joint Motion for the	Defendants' for Entry of onic Parties'			
10-21-2022	2 Billed		Billable		Horton, Russ		1.100	600.00	660.00
	Receive an	d review emergen	cy motion; review clie	nt materials.					
10-21-2022	2 Billed		Billable		Brothers, Doug		1.800	600.00	1,080.00
	Attention to	Nelson plan admi	inistration; emergency	filing and hearing.					
10-25-2022	2 Billed		Billable		Brothers, Doug		0.400	600.00	240.00
	Attention to	proposed letter to	Judge Crump.						
10-25-2022	2 Billed		Billable		Horton, Russ		1.100	600.00	660.00
	Telephone regarding s		. Brothers regarding le	etter to judge; reviev	v and revise letter to court; telephone conf	ference with J. Lloyd			
10-25-2022	2 Billed		Billable		Manassian, Taline		1.800	350.00	630.00
	Calls with F Horton (.3).		g letter (.4); review lett	er (.1); call with J. L	loyd regarding letter (.1); revise letter (.9);	draft email to R.			
10-26-2022	2 Billed		Billable		Manassian, Taline		0.100	350.00	35.00
	Review brie	efing on common for	und doctrine.						
10-27-2022	2 Billed		Billable		Horton, Russ		1.200	600.00	720.00
	Receive an	d review revisions	to letter to court; telep	ohone conference w	rith D. Brothers regarding same; review cli	ent materials.			
10-27-2022	2 Billed		Billable		Brothers, Doug		0.500	600.00	300.00
	Revise corr	espondence to Ju	dge Crump.						
10-28-2022	2 Billed		Billable		Brothers, Doug		1.000	600.00	600.00
	Attention to	post trial matters	(.5); Nelson plan (.5).						
11-01-2022	2 Billed		Billable		Brothers, Doug		0.500	600.00	300.00
	Prepare for	and attend attorne	ey call; follow up.						
11-01-2022	2 Billed		Billable		Horton, Russ		0.800	600.00	480.00
	Receive an client mate		m J. Rudd regarding v	vire transfers; teleph	none conference with D. Brothers regardin	g same; review			
11-03-2022	2 Billed		Billable		Brothers, Doug		0.300	600.00	180.00
	Attention to	request regarding	Nelson sale.						

11-04-2024 10:39:20 Page 9 of 37

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et									
1848-001 N		•							
11-04-2022	Billed	<u> </u>	Billable		Brothers, Doug		0.400	600.00	240.00
11-04-2022		egarding informati	on requests to Nelson.		Brothers, Dodg		0.400	000.00	240.00
11-07-2022	Billed	garang imornian	Billable		Brothers, Doug		0.200	600.00	120.00
		with Russ Horton	regarding Nelson colle	ection.	2.00.0.0, 200.9		0.200	000.00	0.00
11-08-2022	Billed		Billable		Brothers, Doug		1.400	600.00	840.00
	Call and foll judgment (.:	1 /	ministrator's counsel; w	ork on plan administ	ration issue (1.1); initial review of TCG	comments to			
11-08-2022	Billed		Billable		Horton, Russ		1.100	600.00	660.00
	Telephone of same.	conference with te	eam regarding	; review client	materials; telephone conference with I	D. Brothers regarding			
11-09-2022	Billed		Billable		Horton, Russ		0.700	600.00	420.00
	Legal resea	rch regarding bill	of costs; email regardir	ng same; review bill o	of costs.				
11-09-2022	Billed		Billable		Seabolt, Kelly		0.200	150.00	30.00
	Multiple pho	ne calls with cour	t clerk and accounting	to request a bill of co	ests and email partners (.2).				
11-09-2022	Billed		Billable		Brothers, Doug		1.800	600.00	1,080.00
	Review plar	documents; conf	erence with Russ Hort	on; call with Adminis	rators' counsel.				
11-09-2022	Billed		Billable		Brothers, Doug		1.300	600.00	780.00
	Comments	on form of judgme		costs; zoom call with	all counsel and follow up.				
11-10-2022	Billed		Billable		Brothers, Doug		1.300	600.00	780.00
	Review e-m follow up (.5		son Plan (.3); work on	bill of costs and inter	est calculations (.5); call with Nelson P	lan administrator and			
11-10-2022	Billed		Billable		Seabolt, Kelly		3.500	150.00	525.00
	Search for b	oill of costs form (.	4); draft and prepare b	ill of costs (1.3); revie	ew D. Brother's edits and confirm chang	ges (1.8).			
11-10-2022	Billed		Billable		Horton, Russ		1.600	600.00	960.00
		tiple emails regard ost judgment inter		Luna closing; review	client materials; review bill of costs; le	gal research			
11-11-2022	Billed		Billable		Brothers, Doug		0.500	600.00	300.00
	Revisions to	judgment and tra	ansmit bill of costs.						
11-14-2022	Billed		Billable		Brothers, Doug		1.500	600.00	900.00
	Attention to	Nelson plan issue	es; review and commer	nt on contempt motio					
11-14-2022	Billed		Billable		Horton, Russ		1.100	600.00	660.00
		conference with D	. Brothers regarding sh	now cause hearing.					
11-14-2022	Billed		Billable		Nakamura, Suzy Ramirez regarding PPMs, upload to Dr		0.500	150.00	75.00

11-04-2024 10:39:20 Page 10 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
	t al 1848								
-	NP Skylof	+							
11-15-2022	Billed	<u>.</u>	Billable		Nakamura, Suzy		1 000	150.00	150.00
11-13-2022		and to Catherine		mirez unload PPMs t	o Wick Phillips LLP ShareFile (0.50); d	lownload pleadings in	1.000	130.00	130.00
			Brothers and T. Carne		o wick i imips Let Gharer ne (0.00), e	lowilload picadiligs iii			
11-15-2022	Billed		Billable		Carnes, Tiffany		0.900	350.00	315.00
	Save recen	t document to clie	nt portal and send clie	nt communication; cor	ntinue client demographic information f	or Russ Horton.			
11-15-2022	Billed		Billable		Horton, Russ		1.000	600.00	600.00
	Telephone	conference with te	eam regarding show ca	iuse hearing.					
11-15-2022	Billed		Billable		Brothers, Doug		2.500	600.00	1,500.00
	Attention to	Nelson Plan issue	e; call with Administrat	or's counsel.					
11-16-2022	Billed		Billable		Brothers, Doug		1.300	600.00	780.00
	E-mail to ac	lministrator and be	egin hearing preparation	on; call and work on p	reparation.				
11-16-2022	Billed		Billable		Carnes, Tiffany		0.300	350.00	105.00
	Respond to	, draft, and send,	client communications						
11-16-2022	Billed		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Download N	Nelson Parties' Six	th Report to Court (0.1	10).					
11-17-2022	Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00
	Download N Plan Admin	Nelson Parties' Re istrator's Verified	sponse to Plan Admini Application for TRO an	istrator's Motion for Co d Motion for Expedite	ontempt, Sanctions and Request for SI d Discovery, Proposed Orders (0.30).	now Cause Hearing,			
11-17-2022	Billed		Billable		Horton, Russ		1.600	600.00	960.00
	Review sho	w cause hearing;	review client materials						
11-17-2022	Billed		Billable		Brothers, Doug		2.400	600.00	1,440.00
	Telephone	conference admin	istrator counsel; hearir	ng preparation; multipl	e follow up calls and e-mails.				
11-18-2022	Billed		Billable		Brothers, Doug		3.000	600.00	1,800.00
			g on show cause; muljections to costs (.3).	tiple follow up calls an	d e-mails; review forms of orders; wor	k on discovery plan			
11-18-2022	Billed		Billable		Horton, Russ		2.500	600.00	1,500.00
	Attend show	v cause hearing; c	office conference with I	D. Brothers regarding	same.				
11-21-2022	Billed		Billable		Horton, Russ		1.800	600.00	1,080.00
	Review and	revise broker dea	aler complaint.						
11-21-2022	Billed		Billable		Nakamura, Suzy		0.400	150.00	60.00
	Requests for	or Production to No	elson Partners Propert	y Management, Inc. ((	(0.10); download Plan Administrator's 0.10); download Plan Administrator's F or's Expedited Requests for Productio	irst Set of Requests			
11-21-2022	Billed		Billable		Brothers, Doug		3.600	600.00	2,160.00

11-04-2024 10:39:20

Page 11 of 37

12-07-2022

Billed

Billable

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

0.500 150.00

75.00

							Fro	om 06-25-2022	View = Original To 11-04-2024
Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amoun
Conting	ent								
•	et al 1848								
-	NP Skylof	•							
1040-001		_	on recording administ	ration of plan (2.2); a	allost costs for Avania judgment ( 4)				
11-22-2022	Billed	ork and consultati	Billable	ration of plan (3.2), c	ollect costs for Axonic judgment (.4).  Brothers, Doug		1.700	600.00	1,020.00
11-22-2022		etration issues: ca	lls with Administrator t	eam: call with Nelso			1.700	000.00	1,020.00
11-23-2022	Billed	stration issues, ca	Billable	eam, can with Neison	Brothers, Doug		1.300	600.00	780.00
11-23-2022		tolophono confor		oport to Parzialo cou	nsel (.5); review and comment on comr	mon intoroct	1.300	000.00	700.00
			(.4); preparation regard			non interest			
11-28-2022	Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00
			r Withdrawal of Couns nistrator's Powers (0.1		g Nelson Parties (0.10); download Motic of Hearing (0.10).	on to Approve			
11-29-2022	Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00
					Plan Administrator's Agreed Motion to se Hearing (0.10); download Proposed				
11-29-2022	Billed		Billable		Brothers, Doug	, ,	0.400	600.00	240.00
	Attention to	plan administratio	n issues and strategy.						
11-30-2022	Billed		Billable		Brothers, Doug		0.300	600.00	180.00
	E-mail to Je	nny Lloyd and Axo	onic regarding judgme	nt.					
11-30-2022	Billed		Billable		Brothers, Doug		1.300	600.00	780.00
	Execute cor	mmon interest agre	eement; e-mail admini	strator and counsel;	review amended contempt motion.				
11-30-2022	Billed		Billable		Nakamura, Suzy		0.200	150.00	30.00
			n of Defendants Nelsc ate Representative (0.3		Management Corporate Representative	e, Patrick Nelson, and			
12-01-2022	Billed		Billable		Nakamura, Suzy		1.400	150.00	210.00
					otective order, review trial exhibits regar and from D. Brother regarding trial exh				
12-01-2022	Billed		Billable		Horton, Russ		1.100	600.00	660.00
	Telephone of	conference with te	am regarding contemp	ot hearing; review clie	ent materials.				
12-01-2022	Billed		Billable		Brothers, Doug		2.500	600.00	1,500.00
	Hearing and	d discovery prepar	ation regarding Nelsor	n plan; team call (2.2	); e-mails regarding judgment (.3).				
12-05-2022	Billed		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Text messa	ges from and to A	nn Cardenas regardin	g depositions of Nels	on Parties (0.20).				
12-06-2022	Billed		Billable		Nakamura, Suzy		0.400	150.00	60.00
	Partners, LL Partners Pr	₋C 's Responses a operty Manageme	ind Objections to Plan nt, Inc.'s Responses a	Administrator's First nd Objections to Pla	or's Expedited Interrogatories (0.10); do Set of Requests for Production (0.10); In Administrator's First Set of Requests ator's First Set of Requests for Production	download Nelson for Production (0.10);			
									-/

11-04-2024 10:39:20 Page 12 of 37

Nakamura, Suzy

11-04-2024 10:39:20

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Page 13 of 37

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	gent								
_	et al 1848								
_	I NP Skylo	F#							
1040-001		_			Nalasa Bartina daran-itinas (0.20), davur				
	deposition	notices (0.10); ema	ail to D. Brothers and	A. Cardenas (0.10); (	Nelson Parties depositions (0.20); down download Nelson Parties' Opposition to E inal Proceedings (0.10).	Entry of Amended			
12-07-2022	2 Billed		Billable		Horton, Russ		0.500	600.00	300.00
	Receive an	d review settlemer	nt offer; receive and re	eview multiple emails	regarding same.				
12-07-2022	2 Billed		Billable		Brothers, Doug		1.200	600.00	720.00
	Review set	tlement correspond	dence and forward (.3	); follow up on Nelso	n issue (.9).				
12-08-2022	2 Billed		Billable		Brothers, Doug		0.600	600.00	360.00
	Call with a	dministrator counse	el; follow up.						
12-08-2022	2 Billed		Billable		Horton, Russ		0.400	600.00	240.00
	Review set	tlement emails; rev	view client materials.						
12-08-2022	2 Billed		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Emails fron Compel (0.		done regarding new li	nks to depositions (0	.10); download Plan Administrator's Eme	ergency Motion to			
12-09-2022	2 Billed		Billable		Brothers, Doug		0.700	600.00	420.00
	Telephone	conference with B	rownlie and draft e-ma	ail.					
12-12-2022	2 Billed		Billable		Nakamura, Suzy		0.800	150.00	120.00
	Administrat Corporate l	tor's Motion to Desi	ignate Qualified Perso	ons (0.10); download	duction to Plan Administrator (0.50); dov Nelson Parties' Response to Notice of D ponse to Deposition Notice of Nelson Pa	Deposition of NPPM's			
12-13-2022	2 Billed		Billable		Nakamura, Suzy		0.400	150.00	60.00
			rs, T. Carnes regardin Ison Parties and ema		cument production to Plan Administrator T. Carnes (0.20).	(0.20); download			
12-13-2022	2 Billed		Billable		Brothers, Doug		1.200	600.00	720.00
	Multiple e-r communica		ninistrator and co-cou	nsel regarding Nelso	n plan (.7); e-mails regarding settlement	and client			
12-14-2022	2 Billed		Billable		Brothers, Doug		1.500	600.00	900.00
	Preparation	n for meeting and h	nearing on motion to e	nforce; telephone co	nference Dan Byrne.				
12-14-2022	2 Billed		Billable		Horton, Russ		1.600	600.00	960.00
		id review multiple e of Nelson Parties.	emails regarding settle	ement with Axonic an	d terms of same; review client materials;	preparation for			
12-14-2022	2 Billed		Billable		Nakamura, Suzy		0.400	150.00	60.00
	from and to				elson Parties' Verified Motion for Continuon om and to D. Brothers and T. Carnes reg				
12-14-2022	2 Billed		Billable		Carnes, Tiffany		0.200	350.00	70.00

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only) Group By Partners Client - Matter = 1848-001 NP Skyloft (Active Only) Task Code = All View = Original From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et	t al 1848								
1848-001 I		t							
10 10 00 1		-	nental discovery into o	document review svs	stem.				
12-15-2022	Billed	7 7 11	Billable	,	Nakamura, Suzy		0.200	150.00	30.00
			n Nelson Parties' Veri elson Parties (0.10).	fied Motion for Conti	inuance (0.10); email to R. Horton and h	K. Seabolt regarding			
12-15-2022	Billed		Billable		Horton, Russ		10.100	600.00	6,060.00
	Telephone of deposition of	onference with te f Nelson Partners	am regarding depositi Property Managemer	ons and upcoming h it; telephone confere	earing; attend deposition of Nelson Partence with team regarding same.	tners; attend			
12-15-2022	Billed		Billable		Brothers, Doug		2.000	600.00	1,200.00
	Pre-depositi	on calls; attend N	elson deposition; follo	w up.					
12-16-2022	Billed		Billable		Brothers, Doug		0.300	600.00	180.00
	Draft e-mail	response to Skar	nulis regarding settlem	nent.					
12-16-2022	Billed		Billable		Horton, Russ		6.400	600.00	3,840.00
	Attend depo	sition of Patrick N	elson; review client ma	aterials.					
12-16-2022	Billed		Billable		Nakamura, Suzy		0.400	150.00	60.00
	Response in	Opposition to De	fendants' Verified Mot	ion for Continuance	e (0.10); download Plan Administrator's (0.10); download Plaintiffs' Joinder to P olt regarding 12/19 and 12/21 hearing (	lan Administrator's			
12-18-2022	Billed		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Emails from	and to R. Horton	regarding hearing link	and Responses and	Supplements for Motion for Continuand	ce (0.20).			
12-18-2022	Billed		Billable		Horton, Russ		2.600	600.00	1,560.00
	Team meeti	ng regarding depo	sitions and hearing pr	eparation; review cli	ent materials; preparation for hearing.				
12-18-2022	Billed		Billable		Brothers, Doug		1.000	600.00	600.00
	Team call re	garding Nelson.							
12-19-2022	Billed		Billable		Horton, Russ		1.300	600.00	780.00
	Telephone of	onference with te	am regarding continua	ance; receive and re	view multiple emails regarding same; re	view client materials.			
12-19-2022	Billed		Billable		Nakamura, Suzy		0.600	150.00	90.00
	Withdraw (0 Sanction an emails to an	.10); download Ar d Application for T d from J. Lloyd ar	nended Notice of Hea emporary Injunction (	ring for Show Cause 0.10); review Court's g hearing (0.20); dov	dants' Verified Motion for Continuance a Hearing on Plan Administrator's Motior Docket for 12/19/23 Hearing and email Wnload Notice of Hearing on Plan Admir	n for Contempt and I to R. Horton (0.10);			
12-19-2022	Billed		Billable		Seabolt, Kelly		0.200	150.00	30.00
	Emails to an	d from submissio	n regarding hearing zo	oom link (.2).	-				
12-20-2022	Billed		Billable		Nakamura, Suzy		0.200	150.00	30.00
		mended Notice of porary Restraining		r Withdrawal (0.10);	download Plan Administrator's Second	Agreed Motion to			

11-04-2024 10:39:20 Page 14 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
1848-001		ft							
12-20-2022		<u> </u>	Billable		Horton, Russ		0.500	600.00	300.00
		d revise Rule 11 ex	ktending TRO; review	client materials.	,				
12-27-2022	Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00
	Emails fron	n and to D. Brother	rs, download contemp	t hearing materials fror	n Robert Brownlie (0.30).				
12-29-2022	Billed		Billable		Horton, Russ		0.600	600.00	360.00
	Review em	ail to clients regard	ding ; review	client materials.					
01-02-2023	Billed		Billable		Brothers, Doug		0.200	600.00	120.00
	E-mails reg	arding Axonic.							
01-03-2023	Billed		Billable		Brothers, Doug		0.400	600.00	240.00
	Telephone	conference Brown	ilie Lloyd; follow up.						
01-03-2023	Billed		Billable		Horton, Russ		0.900	600.00	540.00
	·	conference with te		negotiations; review cli					
01-03-2023	Billed		Billable		Nakamura, Suzy		1.500	150.00	225.00
	Telephone emails to a	call with T. Carnes nd from T. Carnes	s regarding Nelson Pa (0.30); download Rule	rties documents produ e 11 Agreement regard	ced to Plan Administrator (0.10); uploa ing Confidentiality and Protective Orde	ad to Dropbox (1.0); er (0.10).			
01-03-2023	Billed		Billable		Carnes, Tiffany		1.000	350.00	350.00
	Client upda	ite; work with Suzy	Nakamura to upload	recent documents to re	eview platform.				
01-04-2023	Billed		Billable		Nakamura, Suzy		6.000	150.00	900.00
	Email to T.	Carnes, upload Ne	elson Parties docume	nt production to Plan A	dministrator to Dropbox (6.0).				
01-05-2023	Billed		Billable		Nakamura, Suzy		0.400	150.00	60.00
	Emails to a Carnes (0.2		Curtis and Brenda Ra	ımirez regarding Share	file link for Nelson Parties' production	(0.20); emails to T.			
01-05-2023	Billed		Billable		Horton, Russ		0.800	600.00	480.00
	Email with	R. Brownlee regar	ding Axonic terms; rev	iew client materials; er	mail regarding settlement terms.				
01-05-2023	Billed		Billable		Brothers, Doug		0.900	600.00	540.00
	Call regard	ing Nelson plan; fo	ollow up review.						
01-08-2023	Billed		Billable		Carnes, Tiffany		0.200	350.00	70.00
	Respond to	client emails.							
01-10-2023	Billed		Billable		Carnes, Tiffany		0.200	350.00	70.00
	Finalize up	load of documents	sent to plan administ	ator and circulate.					
01-10-2023	Billed		Billable		Horton, Russ		1.800	600.00	1,080.00
		tlement terms from		materials; review subp	poena to Fidelity Title; review client ma	terials.			
01-11-2023	Billed		Billable		Horton, Russ		0.500	600.00	300.00
	Receive an	d review motion fo	or tees and expenses;	review client materials					

11-04-2024 10:39:20 Page 15 of 37

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Continge				Task	Professional	Start Stop	Duration	Rate	Amount
	ent								
Skyloft et									
1848-001 N		•							
01-12-2023	Billed		Billable		Horton, Russ		1.400	600.00	840.00
01 12 2020	Review final			letter to Fidelity regarding	g same; receive and review emai	il from S. Skarnulis	1.100	000.00	010.00
01-13-2023	Billed		Billable		Brothers, Doug		0.600	600.00	360.00
	Telephone of	onference with Br	ownlie and follow up.						
01-13-2023	Billed		Billable		Cardenas, Ann		0.400	350.00	140.00
	Draft Interve	nors' Motion for A	ward of Attorney's Fee	es and Expenses.					
01-13-2023	Billed		Billable		Cardenas, Ann		0.400	350.00	140.00
	Assist K. Se	abolt in calculating	costs and expenses	owed to Intervenors to inc	clude in correspondende to Judge	e Crump.			
01-16-2023	Billed		Billable		Horton, Russ		1.800	600.00	1,080.00
	Review doc	ıments produced l	oy Nelson; review disc	overy; review client mate	rials.				
01-16-2023	Billed		Billable		Nakamura, Suzy		0.400	150.00	60.00
		Fidelity National			straining Order (0.10); download eabolt regarding Subpoenas for				
01-17-2023	Billed		Billable		Nakamura, Suzy		0.700	150.00	105.00
	regarding Ro Show Cause	eturn of Service for Hearing (0.10); d	r Subpoena to Xchanզ	ge (0.10); download Amer	o Judge Crump (0.20); emails to nded Notice of Hearing (0.10); do rary Restraining Order (0.10); do	ownload Order Setting			
01-17-2023	Billed		Billable		Brothers, Doug		0.500	600.00	300.00
	Work on tax	able court costs a	nd fees issues.		· · · · · · · · · · · · · · · · · · ·				
01-18-2023	Billed		Billable		Brothers, Doug		0.300	600.00	180.00
	Finalize lette	r to Judge Crump			· · · · · · · · · · · · · · · · · · ·				
01-18-2023	Billed		Billable		Horton, Russ		0.900	600.00	540.00
		review multiple e l; review client ma		cause preparation; receiv	e and review correspondence wi	ith Nelson Partners			
01-18-2023	Billed		Billable		Cardenas, Ann		0.900	350.00	315.00
	Review and Motion for F	revise Letter to Cr ees and Expenses	rump Regarding Agree s (.5).	ed Expenses (.4); downloa	ad Westlaw history for Skyloft to	be used in support of			
01-18-2023	Billed		Billable		Nakamura, Suzy		0.400	150.00	60.00
		se and redline lett earing (0.20).	er to Judge Crump, er	nails to and from D. Broth	ers and A. Cardenas (0.20); dow	vnload Amended			
01-26-2023	Billed		Billable		Horton, Russ		2.200	600.00	1,320.00
	Attend Skylo	ft planning meetir	g; preparation for hea	ring; review client materia	ıls.				
01-27-2023	Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00

11-04-2024 10:39:20

Page 16 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
	et al 1848								
_	NP Skylof	<del>i</del>							
	Download S	– Second Amended I or's Motion to Appl			for Withdrawal of Counsel (0.10); down 0); download Plan Administrator's Motic				
01-27-2023			Billable		Horton, Russ		1.500	600.00	900.00
	Receive an	d review draft distr	ibution procedures or	der; review client ma	terials.				
01-30-2023	Billed		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails from	and to T. Carnes	regarding client email	(0.10).					
01-30-2023	Billed		Billable		Carnes, Tiffany		0.300	350.00	105.00
	Draft and se	end client update;							
01-31-2023	Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00
	Download F (0.10); dow	Rule 205.3(e) Notice of De	ce (0.10); download No esignation of Classified	otice of Designation of Information regarding	of Classified Information regarding Fideling Xchange Solution (0.10).	lity National Title			
02-01-2023	Billed		Billable		Horton, Russ		1.100	600.00	660.00
	attend call r	egarding hearing	and reschedule of sam	ne; review client mate	erials.				
02-01-2023	Billed		Billable		Brothers, Doug		0.700	600.00	420.00
	Call with pla	an administrator's t	team; telephone confe	rence with Russ Hor	ton; e-mail to Ann Cardenas.				
02-02-2023	Billed		Billable		Cardenas, Ann		1.700	350.00	595.00
	Review Jen Doug Broth		Motion for Fees and	Costs and incorporat	e into final draft; revise per discussions	with J. Lloyd and			
02-06-2023	Billed		Billable		Brothers, Doug		0.200	600.00	120.00
	Client comr	nunications.							
02-06-2023	Billed		Billable		Horton, Russ		0.900	600.00	540.00
	Receive and client mater		ndence from counsel r	egarding subpoena;	telephone conference with C. Curtis rec	garding same; review			
02-06-2023	Billed		Billable		Carnes, Tiffany		0.100	350.00	35.00
	Client comr	nunication update.							
02-07-2023	Billed		Billable		Horton, Russ		0.700	600.00	420.00
		conference with Date if the application.	. Brothers regarding fe	ee application; teleph	one conference with J. Lloyd regarding	same; receive and			
02-07-2023	Billed		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Download N	Notice of Hearing (	0.10).						
02-08-2023	Billed		Billable		Nakamura, Suzy		2.400	150.00	360.00
	compile ext regarding F	nibits (0.70); compi inal Judgment (0.1	le fully executed Tollir	ng Agreements and e loyd regarding propo	ls from and to D. Brothers, revise letter email to R. Horton (1.0); emails from and osed Final Judgment (0.10); emails from	d to D. Brothers			

11-04-2024 10:39:20 Page 17 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e									
1848-001		4							
		<u>.</u>	Billable		Dreeth ave. Davis		0.000	600.00	200.00
02-08-2023	Billed	nt communication		www.rowioo motion for f	Brothers, Doug		0.600	600.00	360.00
02-09-2023	Billed	nt communication	by administrator; review Billable	ew/revise motion for i	Horton, Russ		1.600	600.00	960.00
02-09-2023	Email with	regard		ne conference with F	delity regarding same; review client mat	terials: receive and	1.000	000.00	900.00
			of attorneys' fees; revi		denty regarding same, review ellert mat	ichais, receive and			
02-09-2023	Billed		Billable		Nakamura, Suzy		1.000	150.00	150.00
		ers, revise letter to			email to D. Brothers regarding same (0.1 and telephone call with D. Brothers rega				
02-10-2023	Billed		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Download F	Plaintiffs' Motion fo	r Distribution of Attorn	eys' Fees and Costs	(0.10).				
02-10-2023	Billed		Billable		Horton, Russ		1.600	600.00	960.00
	Call to disc	uss hearing and p	reparation for same; re	view client materials	preparation for hearing.				
02-13-2023	Billed		Billable		Nakamura, Suzy		1.600	150.00	240.00
	Announcen	nent Form (0.20);		onal Financial records	D. Brothers (0.50); emails from and to Es and email to team (0.70); finalize Anno				
02-13-2023	Billed		Billable		Brothers, Doug		0.200	600.00	120.00
	Attention to	Nelson hearing so	chedule.		-				
02-14-2023	Billed		Billable		Horton, Russ		2.800	600.00	1,680.00
	Telephone	conference with te	eam regarding hearing;	review proposed ord	lers; review client materials; preparation	for hearing.			
02-16-2023	Billed		Billable		Carnes, Tiffany		0.300	350.00	105.00
	Send client	update.							
02-16-2023	Billed		Billable		Horton, Russ		0.600	600.00	360.00
	Receive an	d review notices fr	om court regarding he	aring; review client m	naterials.				
02-20-2023	Billed		Billable		Horton, Russ		1.100	600.00	660.00
	Review disc	covery responses;	email with C. Burgess	regarding same.					
02-20-2023	Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00
			quest for Production of onal documents (0.20).		mails from and to D. Brothers, emails to	and from Catherine			
02-21-2023	Billed		Billable		Nakamura, Suzy		0.600	150.00	90.00
	(0.20); ema	ils to and from Ch	ristine Burgess regard	ing URL for Fidelity N	documents and status of Xchange Solut lational documents and status of XChan ties' supplemental production (0.20).	tions documents nge Solutions			
02-21-2023	Billed		Billable		Horton, Russ		3.100	600.00	1,860.00

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
1848-001	NP Skylo	ft							
02-22-2023	Billed		Billable		Nakamura, Suzy		0.100	150.00	15.00
		Plan Administrator for Temporary Inju		nibit List for Hearing	on His Motion for Contempt and for Sanc	tions and Verified			
02-22-2023	Billed		Billable		Horton, Russ		1.100	600.00	660.00
	Preparation	n for hearing; telep	hone conference with I	D. Byrne regarding h	earing issues.				
02-22-2023	Billed		Billable		Brothers, Doug		1.000	600.00	600.00
	Prepare for	and attend group	call; follow up.						
02-23-2023	Billed		Billable		Brothers, Doug		2.200	600.00	1,320.00
	E-mail rega	arding conversation	n with Nelson attorneys	; team call; follow up	and prepare for call; review subsequent	e-mails.			
02-23-2023	Billed		Billable		Horton, Russ		1.700	600.00	1,020.00
	Preparation	n for hearing; revie	w client materials.						
02-23-2023	Billed		Billable		Nakamura, Suzy		0.500	150.00	75.00
					or 2/24/23 Hearing (0.30); download Nel 0); download Plan Administrator's Amend				
02-24-2023	Billed		Billable		Nakamura, Suzy		0.500	150.00	75.00
	(0.10); ema	ails from and to D.		an Administrator's ac	ownload Nelson Parties' List of Exhibits f Iditional Exhibits (0.20); download Affidav				
02-24-2023	Billed		Billable		Horton, Russ		8.700	600.00	5,220.00
	Preparation	n for hearing; atten	d show cause hearing;	preparation of agree	ed order; enter same with Court.				
02-24-2023	Billed		Billable		Brothers, Doug		1.000	600.00	600.00
	Consult on	interim order.							
02-27-2023	Billed		Billable		Horton, Russ		1.200	600.00	720.00
	Review ord same.	lers; email with J. F	Rudd regarding		; telephone conference with D. B	rothers regarding			
02-28-2023	Billed		Billable		Horton, Russ		0.600	600.00	360.00
	Telephone	conference with J.	Rudd regarding order	review client materi	als.				
02-28-2023	Billed		Billable		Brothers, Doug		0.700	600.00	420.00
	Telephone	conference with R	uss Horton; e-mail rev	ew; begin status rep	ort; review e-mails regarding CSO.				
03-01-2023	Billed		Billable		Horton, Russ		1.300	600.00	780.00
		conference with P nt materials.	. Van Osselear regardi	ng arbitration role; a	ttend meeting with team regarding CSO a	and arbitrator;			
03-02-2023	Billed		Billable		Brothers, Doug		1.000	600.00	600.00
	Draft client	communication.							
03-03-2023	Billed		Billable		Brothers, Doug		1.200	600.00	720.00
11-04-2024	10:39:20							Page	19 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
1848-001		•							
1040-001	_	_	CO ( 2), review alient o	ammunication (2).	attention to modiation propagation (7)				
03-03-2023	Billed	appointment of Co	Billable	ommunication (.5), a	attention to mediation preparation (.7)		1 600	600.00	960.00
03-03-2023		conforcing with I		adation: ravious di	Horton, Russ ent materials; receive and review email fr	rom I Budd	1.000	000.00	960.00
			evise notice to clients.	selection, review cir	ent materials, receive and review email in	om J. Ruda			
03-03-2023	Billed		Billable		Nakamura, Suzy		0.700	150.00	105.00
			s, review, revise and r	edline client update	(0.40); finalize client update and emails t	o and from T.			
03-04-2023	Billed		Billable		Brothers, Doug		0.500	600.00	300.00
	Attention to	mediation prepara	ition.						
03-05-2023	Billed		Billable		Brothers, Doug		1.800	600.00	1,080.00
	Draft media	tion statement (1.3	B); telephone conferen	ce with Russ Hortor	n and attend call with CSO (.5).				
03-05-2023	Billed		Billable		Horton, Russ		1.100	600.00	660.00
	Telephone	conference with tea	am regarding CSO se	lection and status of	f investigation.				
03-06-2023	Billed		Billable		Horton, Russ		1.600	600.00	960.00
			. Hawkins regarding a ce with M. Hawkins re		D. Byrne regarding same; email regardin ole.	g same; review client			
03-06-2023	Billed		Billable		Brothers, Doug		2.100	600.00	1,260.00
	Revise Axo	nic mediation state	ement and mediation p	preparation (1.4); att	ention to Nelson Plan agreement (.7).				
03-06-2023	Billed		Billable		Nakamura, Suzy		1.200	150.00	180.00
	client updat	e to Louis Buttny a	and Hugh Dykes (0.20	); email from Hugh I	and Judgment (0.60); emails to and from Dykes (0.10); emails from and to D. Broth Agreement on a Chief Strategy Officer a	ers, revise and			
03-07-2023	Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00
	Emails from	and to D. Brother	s, revise Intervenors'	Mediation Statemen	t and compile exhibits (0.30).				
03-07-2023	Billed		Billable		Carnes, Tiffany		0.300	350.00	105.00
	Draft and se	end client status up	odate and follow up.						
03-07-2023	Billed		Billable		Brothers, Doug		1.200	600.00	720.00
	Further revi	sions to mediation	statement and e-mail	and telephone conf	rerence with Brownlie regarding same (.8)	); client status memo			
03-07-2023	Billed		Billable		Horton, Russ		2.200	600.00	1,320.00
	Receive and Hawkins.	d review draft orde	rs; telephone confere	nce with team regar	ding CSO and arbitrator roles; telephone	conference with M.			
03-08-2023	Billed		Billable		Horton, Russ		1.800	600.00	1,080.00
	Receive and	d review final draft	of CSO order; review	client materials.					
03-08-2023	Billed		Billable		Brothers, Doug		1.000	600.00	600.00

11-04-2024 10:39:20 Page 20 of 37

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e	t al 1848								
1848-001	NP Skylof	it							
	Prepare for	and attend call wit	th mediator on Axonic rding Broker Dealer m		ew proposed order regarding Nelson (.2)	); telephone			
03-08-2023	Billed		Billable		Carnes, Tiffany		0.500	350.00	175.00
	Call to clier	t to check current	email address as corre	espondence to him is	s getting kicked back.				
03-09-2023	Billed		Billable		Brothers, Doug		1.200	600.00	720.00
	Multiple e-r	nails regarding Nel	lson Plan.						
03-09-2023	Billed		Billable		Horton, Russ		0.800	600.00	480.00
	Telephone	conference with J.	Lloyd regarding M. Ha	awkins; telephone co	onference with M. Hawkins.				
03-10-2023	Billed		Billable		Brothers, Doug		1.000	600.00	600.00
	Multiple e-r	nails regarding Nel	lson Plan.						
03-10-2023	Billed		Billable		Brothers, Doug		1.500	600.00	900.00
	Revise med	liation statement; r	eview other parties' st	atements.					
03-10-2023	Billed		Billable		Seabolt, Kelly		0.100	150.00	15.00
	Email Jaso	n Rudd our firm wir	ring instructions (.1).						
03-10-2023	Billed		Billable		Nakamura, Suzy		0.700	150.00	105.00
			rs, finalize Schiffman Ir vebsite (0.20); email to		itial Mediation Statement and mark exhi	bits (0.40); submit to			
03-11-2023	Billed		Billable		Brothers, Doug		0.300	600.00	180.00
	E-mails reg	arding Nelson Plar	n.						
03-11-2023	Billed		Billable		Horton, Russ		0.800	600.00	480.00
	Receive an	d review revised C	SO order; review clier	nt materials.					
03-13-2023	Billed		Billable		Brothers, Doug		0.400	600.00	240.00
	Multiple e-r	nails regarding Nel	lson Plan.						
03-13-2023	Billed		Billable		Brothers, Doug		0.400	600.00	240.00
	Attention to	mediation schedu	ling.						
03-13-2023	Billed		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Download I	Motion for Withdray	wal of Counsel (0.10).						
03-14-2023	Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00
		n and to D. Brother d mediation date (0		with clients and reso	cheduled mediation date (0.20); email to	o clients regarding			
03-14-2023	Billed		Billable		Carnes, Tiffany		0.300	350.00	105.00
	Review and	I draft list of client r	names and names of t	he investing entities					
03-14-2023	Billed		Billable		Brothers, Doug		0.600	600.00	360.00
	Attention to	mediation re-sche	eduling.						
03-14-2023	Billed		Billable		Brothers, Doug		1.200	600.00	720.00
11-04-2024 1	10-39-20							Page 2	1 of 37

11-04-2024 10:39:20

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

Page 22 of 37

Dete	Otatus	Dillolata	Tools	D	Otherst Other			To 11-04-2024
Date	Status Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent							
Skyloft e	t al 1848							
1848-001 I	NP Skyloft							
10 10 00 1	Multiple e-mails regarding Ne	elson Plan.						
03-14-2023	Billed	Billable		Horton, Russ		0.600	600.00	360.00
	Receive and review revised (	CSO order from T. Faw	kes; review client ma	aterials.				
03-15-2023	Billed	Billable		Brothers, Doug		0.800	600.00	480.00
	Multiple e-mails regarding Ne	elson Plan.		_				
03-15-2023	Billed	Billable		Brothers, Doug		0.300	600.00	180.00
	Client communications regard	ding .						
03-15-2023	Billed	Billable		Carnes, Tiffany		1.000	350.00	350.00
	Locate and review several do	ocuments requested fo	r distributions.					
03-15-2023	Billed	Billable		Nakamura, Suzy		0.100	150.00	15.00
	Download Notice of Hearing	(0.10).						
03-20-2023	Billed	Billable		Brothers, Doug		0.300	600.00	180.00
	Communication regarding me	ediation.						
03-20-2023	Billed	Billable		Horton, Russ		1.100	600.00	660.00
	Receive and review multiple		order; telephone cor	ference with M. Hawkins regarding sam	e.			
03-21-2023	Billed	Billable		Brothers, Doug		0.800	600.00	480.00
	Communications regarding m		n preparation.					
03-22-2023	Billed	Billable		Brothers, Doug		8.000	600.00	4,800.00
	Prepare for and attend media							
03-24-2023	Billed	Billable		Brothers, Doug		0.400	600.00	240.00
	Draft client update (.4); telepl		ert Brownlie (.2).					
03-24-2023	Billed	Billable		Carnes, Tiffany		0.100	350.00	35.00
00.07.0000	Send client communication.	B.W. 1.1		O T:"		0.000	050.00	70.00
03-27-2023	Billed	Billable		Carnes, Tiffany		0.200	350.00	70.00
00 00 0000	Client email request and requ	•	g Brothers and Russ			0.000	050.00	405.00
03-28-2023	Billed	Billable	D 41	Carnes, Tiffany		0.300	350.00	105.00
02 20 2022	Gather documents requested		g Brotners.	Ducthers Davis		0.500	COO OO	200.00
03-28-2023	Billed Team call regarding CSO and	Billable		Brothers, Doug		0.500	600.00	300.00
03-28-2023	Billed	Billable		Horton, Russ		1.500	600.00	900.00
03-20-2023			h team regarding car	ne and further actions; review client mat	oriale Ariale	1.500	000.00	900.00
03-30-2023	Billed	Billable	ir team regarding sar	Brothers, Doug	GIIAIS.	0.300	600.00	180.00
03-30-2023	Follow up on Schiffman inves			Brothers, Doug		0.300	000.00	100.00
03-31-2023	Billed	Billable		Horton, Russ		0.00	600.00	540.00
00-01-2023	Dilled	Diliable		Horton, Nuss		0.900	300.00	J40.00

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Sto	p Duration	Rate	Amount
Continge	ent								
Skyloft e	t al 1848								
1848-001	NP Skylo	ft							
		_	rom J. Rudd regarding	distribution question	s; review client materials.				
03-31-2023	Billed	·	Billable	,	Nakamura, Suzy		0.100	150.00	15.00
	Email from	Louis Buttny regar	rding tax information a	nd email to D. Brothe	rs regarding same (0.10).				
04-03-2023	Billed		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Email to G	regory Milligan and	l Jason Rudd regarding	g (0.	10).				
04-04-2023	Pending		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails fron	n and to Gregory N	∕lilligan regarding tax d	ocuments (0.10).					
04-04-2023	Billed		Billable		Brothers, Doug		0.300	600.00	180.00
	•	conference with Lo	ou Buttney.						
04-05-2023	Billed		Billable		Nakamura, Suzy		0.300	150.00	45.00
	Email from regarding	Gregory Milligan r (0.10).	egarding tax inquiry (0	.10); emails to and fr	om D. Brothers regarding same (0.10); e	email to Louis Butt	ny		
04-06-2023	Billed	, ,	Billable		Nakamura, Suzy		0.100	150.00	15.00
	Email to Da	aniel Bell regarding	(0.10).		· •				
04-11-2023	Pending		Billable		Horton, Russ		0.700	600.00	420.00
	email with	D. Byrne regarding	motion to withdraw; re	eceive and review dra	aft order; preparation for hearing.				
04-12-2023	Pending		Billable		Horton, Russ		2.100	600.00	1,260.00
	Receive ar	nd review email reg	garding P. Nelson atter	dance; review pleadi	ngs on show cause; preparation for hea	ring.			
04-12-2023	Billed		Billable		Brothers, Doug		0.300	600.00	180.00
	Communic	ations with Plan Ad	dministrator counsel ar	nd Ann Cardenas reg	arding tax returns.				
04-12-2023	Pending		Billable		Nakamura, Suzy		0.200	150.00	30.00
					PC's Motion for Withdrawal as Counsel awal of Counsel (0.10).	(0.10); download			
04-13-2023	Pending		Billable		Horton, Russ		1.100	600.00	660.00
	Receive ar	nd review response	e to motion to withdraw	; preparation for hear	ing.				
04-14-2023	Pending		Billable		Horton, Russ		1.600	600.00	960.00
	Preparation	n for hearing; revie	w client materials; rece	eive and review reply	in support of motion to withdraw.				
04-14-2023	Pending		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Download & Harr, P.C	Plaintiffs' Joinder to C's Reply in Suppo	o Administrator's Oppo ort of Its Motion for Witl	sition to Motions for \ ndrawal of Counsel (0	Withdrawal of Counsel (0.10); download 0.10).	Munsch Hardt Ko	pf		
04-16-2023	Pending		Billable		Horton, Russ		0.700	600.00	420.00
	receive and	d review exhibits for	or hearing; preparation	for same.					
04-17-2023	Pending		Billable		Horton, Russ		5.400	600.00	3,240.00
		n for hearing; atten	d same; telephone cor	ference with D. Brotl					
04-17-2023	Billed		Billable		Cardenas, Ann		0.500	350.00	175.00
11-04-2024 <sup>-</sup>	10:39:20							Page 2	3 of 37

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start	Stop	Duration	Rate	Amount
Conting	ent									
Skyloft e	t al 1848									
1848-001										
1010 001		_	ırns per D. Brothers' re	equest						
04-17-2023	Pending	,	Billable	- 4 - 5 - 1	Nakamura, Suzy			0.200	150.00	30.00
	Ū	Plan Administrator'	s Exhibit List (0.10); d	ownload Plan Admini	strator's Witness List (0.10)					
04-18-2023	Pending		Billable		Horton, Russ			0.600	600.00	360.00
	Receive an	nd review transcript	; receive and review n	nultiple emails regard	ing orders on hearing and next steps.					
04-26-2023	Pending		Billable		Brothers, Doug			0.700	600.00	420.00
	Initial revie	w of proposed Axo	nic Settlement papers							
04-27-2023	Pending		Billable		Brothers, Doug			0.700	600.00	420.00
	Team call a	and follow up.								
04-27-2023	Pending		Billable		Horton, Russ			0.900	600.00	540.00
	Telephone	conference with te	am regarding distribut	ions and next steps;	review client materials.					
04-30-2023	Pending		Billable		Brothers, Doug			0.300	600.00	180.00
	Client com	munication and e-r	nail to co-counsel rega	arding Axonic docs.						
04-30-2023	Pending		Billable		Carnes, Tiffany			0.100	350.00	35.00
	Send client	contact information	n email to plan admini	istrator.						
05-01-2023	Pending		Billable		Brothers, Doug			2.000	600.00	1,200.00
	Review and	d comment on Axo	nic draft settlement ag	reement; follow up e-	mails.					
05-02-2023	Pending		Billable		Brothers, Doug			0.200	600.00	120.00
	E-mails reg	arding Axonic sett	lement.							
05-03-2023	Approved		Non-Billable		Brothers, Doug			0.800	600.00	480.00
	Work on co	mments to propos	ed settlement agreem	ent; call with Robert I	Brownlie and Jenny Lloyd; e-mail to Barn	ey Given.				
05-03-2023	Pending		Billable		Carnes, Tiffany			0.200	350.00	70.00
	Attention to	client address iss	ue.							
05-04-2023	Pending		Billable		Nakamura, Suzy			0.100	150.00	15.00
	Download I	Notice of Hearing (	0.10).							
05-05-2023	Pending		Billable		Brothers, Doug			0.400	600.00	240.00
	Call with A	xonic counsel; follo	w up.							
05-06-2023	Pending		Billable		Brothers, Doug			1.500	600.00	900.00
	Review and	d edit class settlem	ent documents, includ	ling MOU, stipulation	of settlement, and preliminary and final of	orders.				
05-10-2023	Pending		Billable		Nakamura, Suzy			0.100	150.00	15.00
	Download I	Nelson Parties' Se		ourt Pursuant to the J	oint Stipulation and Liquidation Plan (0.1	0).				
05-12-2023	Pending		Billable		Nakamura, Suzy			0.200	150.00	30.00
		Defendants' Motior		ortion of the Court's T	ranscript (0.10); download Proposed Ord	der (0.10).				
05-12-2023	Pending		Billable		Horton, Russ			0.700	600.00	420.00
11-04-2024	10:39:20								Page	24 of 37

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
_	et al 1848								
	NP Skylof	+							
1040-001		_	emails regarding withd	rawal and progress:	email with J. Rudd regarding claims aga	ainet Munech			
05-22-2023	Pending	a review manple c	Billable	rawai ana progress,	Carnes, Tiffany	anist manson.	0.100	350.00	35.00
00-22-2020	J	client email.	Billabic		Garries, Finally		0.100	000.00	00.00
05-24-2023	Approved		Non-Billable		Brothers, Doug		0.300	600.00	180.00
00 2 1 2020	• • •	smittal to Barney			Breaters, Beag		0.000	000.00	100.00
05-30-2023	Pending	···,	Billable		Brothers, Doug		0.700	600.00	420.00
	J	and attend team of			,g				1_0.00
05-30-2023	Pending		Billable		Horton, Russ		1.100	600.00	660.00
	review clien	t materials; teleph	one conference with t	eam regarding next	steps.				
05-30-2023	Pending		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Download N	Notice of Hearing o	on Defendants' Motion	to Seal in Camera F	Portion of the Court's Transcript (0.10).				
05-31-2023	Pending		Billable		Nakamura, Suzy		0.200	150.00	30.00
	Download F Munsch Ha	Plan Administrator' rdt Kopf & Harr, P.	's Motion to Amend Sh .C. to Deposit Funds i	now Cause Order (0. nto Court Registry (0	.10); download Plan Administrators Motio 0.10).	on for Order Directing			
06-02-2023	Pending		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Download \	/erified Copy of Pu	ublic Notice of Defenda	ants' Motion to Seal	in Camera Portion of the Court's Transc	ript (0.10).			
06-06-2023	Pending		Billable		Nakamura, Suzy		0.100	150.00	15.00
	Download N	/lunsch Hardt's Mo	otion for Continuance	(0.10).					
06-06-2023	Pending		Billable		Brothers, Doug		0.400	600.00	240.00
	Attention to	setting; review co	ntinuance motion.						
06-08-2023	Pending		Billable		Brothers, Doug		0.400	600.00	240.00
	Attention to	form of withdrawa	al order.						
06-12-2023	Pending		Billable		Brothers, Doug		0.400	600.00	240.00
	Prepare for	and attend Axonic							
06-13-2023	Pending		Billable		Horton, Russ		0.500	600.00	300.00
		d review motion fo	r continuance; review	client materials.					
06-15-2023	Pending		Billable		Horton, Russ		1.100	600.00	660.00
		egarding status an	nd show cause hearing	J.					
06-15-2023	Pending		Billable		Brothers, Doug		0.700	600.00	420.00
		nd follow up.							4= 00
06-15-2023	Pending		Billable		Nakamura, Suzy		0.100	150.00	15.00
00.40.0000		Notice of Hearing c	on Defendants Motion	tor Continuance (0.1			0.400	450.00	45.00
06-16-2023	Pending		Billable 's Objection and Resp		Nakamura, Suzy		0.100	150.00	15.00

11-04-2024 10:39:20

Page 25 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
	et al 1848								
-	NP Skylof	it							
06-18-2023		<u>-</u>	Billable		Brothers, Doug		0.700	600.00	420.00
	J	conference with N	lelson counsel and sta	tus to team.	2, 29				
06-19-2023	Pending		Billable		Brothers, Doug		2.500	600.00	1,500.00
		hearing (1); e-ma	ail from Nelson's couns	el (.3); team call and t	follow up (.6); review and comment on	response (.3); review			
06-19-2023	Pending		Billable		Horton, Russ		2.100	600.00	1,260.00
	Receive an	d review multiple	emails from J. Rudd re	garding hearing; revie	ew client materials; review proposed rul	le 11.			
06-20-2023	Pending		Billable		Horton, Russ		0.400	600.00	240.00
	Receive an	d review email fro	m J. Lloyd regarding s	ettlement in Axonic aç	greement.				
06-20-2023	Pending		Billable		Brothers, Doug		1.100	600.00	660.00
	Review Rul	e 11 Agreement;	prepare for and attend	hearing.					
06-21-2023	Pending		Billable		Brothers, Doug		0.200	600.00	120.00
	Review fina	ncial data produc	ed by Nelson.						
06-21-2023	Pending		Billable		Horton, Russ		1.100	600.00	660.00
	Receive an	d review financial	reports from Nelson; r	eview client materials					
06-22-2023	Pending		Billable		Horton, Russ		0.600	600.00	360.00
	Receive an	d review email re	garding continuance of	show cause hearing;	review client materials; email regarding	g scheduling.			
06-22-2023	Pending		Billable		Nakamura, Suzy		0.100	150.00	15.00
		Notice of Hearing Injunction (0.10).	- Show Cause Hearing	on Plan Administrato	or's Motion for Contempt and Sanctions	and Application for			
07-06-2023	Pending		Billable		Horton, Russ		0.400	600.00	240.00
	Receive an	d review email fro	m counsel regarding h	earing and Zoom link	; review client materials.				
07-06-2023	Pending		Billable		Brothers, Doug		0.300	600.00	180.00
	Analyze Ne	Ison							
07-12-2023	Pending		Billable		Brothers, Doug		0.100	600.00	60.00
		rding Nelson payı							
07-14-2023	Pending		Billable		Brothers, Doug		0.900	600.00	540.00
		and attend call w		view Axonic and TCG	revisions and e-mails regarding same (	(.4).			
07-14-2023	Pending		Billable		Horton, Russ		1.100	600.00	660.00
/		d review email re	garding Axonic settlem	ent; review client mat					
07-21-2023	Pending		Billable		Brothers, Doug		0.300	600.00	180.00
07 00 0000		arding Nelson rev			5 " 5		0.500	000.00	000.00
07-23-2023	Pending		Billable us call (.2); client upda		Brothers, Doug		0.500	600.00	300.00

11-04-2024 10:39:20 Page 26 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e	et al 1848								
_	NP Skylof	t							
07-24-2023	Pending	<u>-</u>	Billable		Brothers, Doug		0.800	600.00	480.00
07 21 2020	9	status report.	Billabio		Brothere, Bedg		0.000	000.00	100.00
07-25-2023	Pending		Billable		Brothers, Doug		0.300	600.00	180.00
	Court and to	eam communication	ons regarding setting.		, 3				
07-25-2023	Pending		Billable		Horton, Russ		0.300	600.00	180.00
	Receive an	d review proposed	d hearing dates from C	ourt; review client ma	terials.				
07-26-2023	Pending		Billable		Brothers, Doug		1.100	600.00	660.00
	Prepare and	d attend team call	regarding Axonic settl	ement.					
07-27-2023	Pending		Billable		Nakamura, Suzy		0.400	150.00	60.00
	Emails from (0.10).	and to D. Brothe	rs, review, revise and r	edline client status re	port (0.30); finalize client status report a	and email to clients			
07-31-2023	Pending		Billable		Nakamura, Suzy		0.300	150.00	45.00
	Rep of Nels		erty Management, Inc.		wnload Reporter's Certification of Patric wnload Reporter's Certification Patrick N				
07-31-2023	Pending		Billable		Brothers, Doug		0.600	600.00	360.00
	Call with Ax	onic counsel; follo	ow up.						
08-04-2023	Pending		Billable		Brothers, Doug		0.700	600.00	420.00
	Review	; review	draft plan; e-mails reg	arding response and	call; telephone conference with Russ Ho	orton.			
08-07-2023	Approved		Non-Billable		Horton, Russ		0.600	600.00	360.00
		d review email fro om Robert Brownl		tempt hearing; review	client materials; receive and review				
08-08-2023	Pending		Billable		Horton, Russ		0.600	600.00	360.00
	Receive an	d review summary	of properties; review	client materials.					
08-09-2023	Pending		Billable		Horton, Russ		1.100	600.00	660.00
	Zoom call re	egarding liquidatio	n plan from Nelson; re	view client materials.					
08-10-2023	Pending		Billable		Horton, Russ		0.400	600.00	240.00
	Receive an	d review notice of	setting; review client n	naterials; review motio	on.				
08-10-2023	Pending		Billable		Nakamura, Suzy		2.600	150.00	390.00
	Temporary	Injunction (0.10);		Brothers, prepare ema	tor's Motion for Contempt and Sanction ails for production (2.30); finalize Plainti				
08-14-2023	Approved		Non-Billable		Horton, Russ		0.300	600.00	180.00
	Receive an	d review revised r	elease language from	Robert Brownlie; ema	il with team regarding same.				
08-14-2023	Approved		Non-Billable		Brothers, Doug		0.200	600.00	120.00

11-04-2024 10:39:20 Page 27 of 37

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
=		4							
<u> 1848-001  </u>		_	"						
00.45.0000		t release and e-ma	ail Robert Brownlie.		D # D		0.000	000.00	400.00
08-15-2023	Approved	D	Non-Billable		Brothers, Doug		0.200	600.00	120.00
00.40.0000		Barney Given and	·		D # D		0.000	000.00	400.00
08-16-2023	Approved	hant Danier Co. and	Non-Billable		Brothers, Doug		0.300	600.00	180.00
00 00 0000		bert Brownile and	Jenny Lloyd regarding	g Axonic.			0.000	000.00	400.00
08-22-2023	Approved		Non-Billable		Horton, Russ		0.300	600.00	180.00
00 04 0000		a review email fron		arding revisions to Ax	onic settlement and escrow amounts.		0.500	600.00	200.00
08-24-2023	Approved	d raviau amaila fra	Non-Billable	abort Drawalia regard	Horton, Russ	t matariala	0.500	600.00	300.00
00 05 0000		a review emails fro		obert Browniie regard	ing settlement with Axonic; review clien	t materials.	0.500	600.00	200.00
08-25-2023	Pending		Billable		Brothers, Doug		0.500	600.00	300.00
00 05 0000		arding call with ive	lson representative; re Billable	eview materials.	Prothers Doug		0.200	600.00	100.00
08-25-2023	Pending				Brothers, Doug		0.300	600.00	180.00
00 00 0000		rding potential Axo			Ducthous Down		0.500	600.00	200.00
08-28-2023	Pending		Billable		Brothers, Doug		0.500	600.00	300.00
00 00 0000		and attend call wit			Hawton Dura		0.500	600.00	200.00
08-28-2023	Pending	di	Billable		Horton, Russ		0.500	600.00	300.00
00 00 0000		a review multiple e	mails regarding status	s call; review client ma			0.000	450.00	20.00
08-28-2023	Pending	and to D. Dueth an	Billable	(0.00)	Nakamura, Suzy		0.200	150.00	30.00
00 20 2022		and to D. Brother		(0.20).	Duethers Davis		0.500	600.00	200.00
08-30-2023	Approved	navillavid and Dah	Non-Billable	_	Brothers, Doug		0.500	600.00	300.00
00 05 0000		nny Lioya ana Rob	pert Brownlie; follow u	p.	Ducthous Down		0.000	600.00	400.00
09-05-2023	Approved	Usud sad Dahar	Non-Billable		Brothers, Doug		0.200	600.00	120.00
00 07 0000		ly Lloyd and Rober	rt Brownlie regarding r	elease scope.	Duethers Davis		0.500	600.00	200.00
09-07-2023	Approved	aarmaali fallannin	Non-Billable		Brothers, Doug		0.500	600.00	300.00
00 07 0000		-counsel; follow up	o. Non-Billable		Duethers Davis		0.400	600.00	240.00
09-07-2023	Approved				Brothers, Doug		0.400	600.00	240.00
00 00 0000		revise mediator co			Ducthous Down		0.400	600.00	60.00
09-08-2023	Approved		Non-Billable		Brothers, Doug		0.100	600.00	60.00
00 44 0000		mmunication.	Non-Billable		Duethers Davis		0.200	600.00	400.00
09-14-2023	Approved	t- Avenie.			Brothers, Doug		0.300	600.00	180.00
00 40 2022		sponse to Axonic;			Prothers Days		0.500	600.00	200.00
09-19-2023	Approved	ak Malaan sell sud	Non-Billable		Brothers, Doug		0.500	600.00	300.00
00 00 0000		ck Nelson call and	·		Dueth D		0.000	600.00	400.00
09-22-2023	Approved		Non-Billable		Brothers, Doug		0.300	600.00	180.00
11-04-2024 1	10:39:20							Page 28	of 37

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et									
1848-001 I		F <del>f</del>							
1040-0011		_	ence with Russ Hortor	regarding uncoming	n hearing				
09-22-2023	Approved	a telephone comen	Non-Billable	rregarding upcoming	Nakamura, Suzy		0.200	150.00	30.00
00 22 2020		Plan Administrator'		earing (0.10), downlo	pad Plan Administrator's Witness List for	Hearing (0.10)	0.200	100.00	00.00
09-25-2023	Approved		Non-Billable	-ag (0.10), a011111	Nakamura, Suzy		7.700	150.00	1,155.00
	Telephone	call with D. Brothe K. Seabolt (7.70).		n Agreed Final Judg	ment, review file, emails to and from D. E	Brothers, J. Lloyd, R.			.,
09-25-2023	Approved		Non-Billable		Brothers, Doug		2.200	600.00	1,320.00
	Attention to judgment.	hearing preparation	on; team call; telephon	e conference with R	uss Horton; review Nelson side e-mails;	attention to agreed			
09-26-2023	Approved		Non-Billable		Brothers, Doug		0.900	600.00	540.00
	Attention to	Plan; review e-ma	ails regarding proposal	s; telephone confere	nces with Russ Horton.				
09-26-2023	Approved		Non-Billable		Nakamura, Suzy		2.500	150.00	375.00
		n and to R. Horton d T. Carnes (2.50).		ding Stipulation and	Liquidation Plan signed by clients, reviev	v file and email to K.			
09-26-2023	Approved		Non-Billable		Carnes, Tiffany		0.200	350.00	70.00
	Locate requ	uired signature pag	•						
09-27-2023	Approved		Non-Billable		Nakamura, Suzy		0.300	150.00	45.00
		n and to D. Brother	s, review, revise and r	edline client status r	• • •				
09-27-2023	Approved		Non-Billable		Brothers, Doug		0.900	600.00	540.00
		status report (.6); f	follow up regarding Ne	lson orders (.3)	5 " 5		0.100	000.00	00.00
09-28-2023	Approved		Non-Billable		Brothers, Doug		0.100	600.00	60.00
40.00.0000	Revise clie	nt report.	Nan Dillakta		Double and David		0.700	000.00	400.00
10-02-2023	Approved	and follow up	Non-Billable		Brothers, Doug		0.700	600.00	420.00
10-02-2023	Approved	and follow up.	Non-Billable		Brothers, Doug		0.700	600.00	420.00
10-02-2023		and follow up.	Non-billable		Brothers, Doug		0.700	000.00	420.00
10-03-2023	Approved	ina ioliow up.	Non-Billable		Brothers, Doug		1.000	600.00	600.00
10-03-2023		egarding Nelson m			Brothers, Boug		1.000	000.00	000.00
10-04-2023	Approved	ogaranig Holoon ii	Non-Billable		Nakamura, Suzy		0.300	150.00	45.00
	Email from	Hugh Dykes, emai iel Bell and D. Brot		ners, revise and final	ize client status report, email to clients (0	0.20); emails from	0.000	100.00	.0.0
10-05-2023	Approved		Non-Billable		Nakamura, Suzy		0.100	150.00	15.00
		n and to Sydney Cr	risp regarding client up	date, emails to D. B					
10-09-2023	Approved		Non-Billable		Brothers, Doug		0.100	600.00	60.00
	• •	gory Milligan.							

11-04-2024 10:39:20

Page 29 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

From 06-25-2022 To 11-04-2024

Start Stop Date **Status Approval** BillableType **Task Professional** Duration Rate **Amount** Contingent Skyloft et al 1848 1848-001 NP Skyloft 10-10-2023 Approved Non-Billable Brothers, Doug 0.200 600.00 120.00 Attention to proposed Nelson meeting. 150.00 10-11-2023 Non-Billable 150.00 Approved Seabolt, Kelly 1.000 Contact multiple counties to retrieve filing forms to abstract Nelson Judgment (.). 10-13-2023 Approved Non-Billable Seabolt, Kelly 1.800 150.00 270.00 Continue research on abstract of Nelson Judgment and prepare forms (1.8). 10-13-2023 Approved Non-Billable Brothers, Doug 0.500 600.00 300.00 Work on Axonic settlement. 10-16-2023 Non-Billable 0.200 600.00 120.00 Approved Brothers, Doug E-mail regarding Axonic claims. 45.00 10-16-2023 Approved Non-Billable Nakamura, Suzy 0.300 150.00 Emails from and to D. Brothers regarding tolled claims (0.20); email to Harry and Joanne Hansen regarding (0.10).10-17-2023 Approved Non-Billable Nakamura, Suzy 0.100 150.00 15.00 (0.10).Email to Joanne Hansen regarding 10-18-2023 Approved Non-Billable Seabolt, Kelly 0.200 150.00 30.00 Email R. Horton and included updated letter regarding update on Request for Abstract of Judgment (.2). 15.00 10-24-2023 Approved Non-Billable Nakamura, Suzv 0.100 150.00 Emails to and from D. Brothers regarding settlement conference logistics (0.10). 10-27-2023 Approved Non-Billable Brothers, Doug 0.500 600.00 300.00 Review notice of appeal and e-mails regarding upcoming meetings. 10-31-2023 Approved Non-Billable Brothers, Doug 1.200 600.00 720.00 Prepare for and attend team call; follow up. 3.900 600.00 2.340.00 11-01-2023 Approved Non-Billable Brothers, Doug Prepare for meeting; attend meeting and follow up. Approved Carnes, Tiffany 350.00 175.00 11-01-2023 Non-Billable 0.500 in office to set up A/V for settlement conference; review judgment and edit request for abstract; 11-07-2023 Approved Non-Billable Brothers, Doug 0.300 600.00 180.00 Follow up on Axonic resolution issue. 600.00 420.00 11-08-2023 Approved Non-Billable Brothers, Doug 0.700 Recovery communications regarding judgment; e-mail Jenny Lloyd and conference with Russ Horton regarding entry of judgment; emails with Robert Brownlie (.5); e-mails regarding Nelson meeting follow up (.2) 11-14-2023 Non-Billable Brothers, Doug 0.300 600.00 180.00 Approved E-mails regarding Axonic resolution.

11-04-2024 10:39:20 Page 30 of 37

11-04-2024 10:39:20

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Page 31 of 37

						110	111 00-20-2022	10 11-04-2024
Date	Status Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent							
Skyloft et								
1848-001 N								
11-15-2023		Non-Billable		Prothers Days		0.500	600.00	300.00
11-15-2023	Approved		ort to Dobort Drownli	Brothers, Doug		0.500	600.00	300.00
11-15-2023	Telephone conference with Approved	Non-Billable	or to Robert Browning			0.200	600.00	180.00
11-15-2025	Locate plan paragraph and		h commont	Brothers, Doug		0.300	000.00	100.00
11-28-2023		Non-Billable	ii comment.	Prothoro Doug		0.500	600.00	300.00
11-20-2023	Approved E-mail from Given; e-mail t		nny Lloyd: a mail to	Brothers, Doug		0.500	600.00	300.00
11-30-2023		Non-Billable	illiy Lloyu, e-mail to	•		0.100	600.00	60.00
11-30-2023	Approved			Brothers, Doug		0.100	000.00	00.00
10 17 2022	E-mail regarding Nelson fo	Non-Billable		Nakamura Suzw		0.200	150.00	30.00
12-17-2023	Approved  Emails from and to D. Brotl		dina	Nakamura, Suzy (0.2	00)	0.200	150.00	30.00
01-04-2024			uiig	,	0).	0.200	600.00	180.00
J1-04-202 <del>4</del>	Approved	Non-Billable	, aliant materials	Horton, Russ		0.300	600.00	100.00
01-08-2024	email with J. Rudd regardir	Non-Billable	r client materials.	Horton Duos		0.400	600.00	240.00
J1-00-202 <del>4</del>	Approved  Review file and preparation			Horton, Russ		0.400	000.00	240.00
01-09-2024		Non-Billable		Horton, Russ		1 100	600.00	660.00
J1-09-202 <del>4</del>	Approved		and collection afforts	•	roviow contempt order	1.100	000.00	000.00
01-29-2024	Approved	Non-Billable	and conection enorts	s; review client materials; receive and r Brothers, Doug	eview contempt order.	0.700	600.00	420.00
J1-29-202 <del>4</del>	• •		ail Lloyd/Prownline	, 0		0.700	600.00	420.00
01-30-2024	Review correspondence re Approved	Non-Billable	ali Lioyu/browrille, e-	Brothers, Doug		0.200	600.00	120.00
J1-30-202 <del>4</del>	Transmit proposed settlem		orongo with Pues Ho			0.200	000.00	120.00
02-01-2024	Approved	Non-Billable	erence with russ no	Brothers, Doug		0.600	600.00	360.00
JZ-U I-ZUZ <del>4</del>	Client communication (.2);		Civon proposal roga	, 0		0.000	000.00	300.00
02-01-2024	Approved	Non-Billable	Giveri proposai rega	Carnes, Tiffany		0.200	350.00	70.00
JZ-0 1-202 <del>4</del>	Send client closing docume			Carries, Tillally		0.200	330.00	70.00
02-12-2024	Approved	Non-Billable		Brothers, Doug		1 000	600.00	600.00
JZ-1Z-ZUZ <del>4</del>	Work on potential claim	Non-billable		Biotileis, Doug		1.000	000.00	000.00
02-13-2024	Approved	Non-Billable		Brothers, Doug		1.000	600.00	600.00
JZ-13-202 <del>4</del>	Close review of Axonic cou			Biotileis, Doug		1.000	000.00	000.00
02-14-2024	Approved	Non-Billable		Brothers, Doug		1 500	600.00	900.00
JZ-14-2UZ4	• •		arging orders: follow	up (.5); prepare for and attend call on	Avania sattlement	1.500	000.00	900.00
	terms (1).	neison collection and cr	larging orders, lollow	rup (.5), prepare for and aftend call on	Axonic settlement			
02-14-2024	Approved	Non-Billable		Nakamura, Suzy		0.200	150.00	30.00
	Emails from and to D. Brotl	hers regarding		(0.20).				
				Brothers, Doug			600.00	900.00

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et	al 1848								
1848-001 N		t							
		_	nges to Stipulation of S	Settlement.					
02-19-2024	Approved		Non-Billable		Brothers, Doug		0.800	600.00	480.00
		onic settlement do	cuments.		, 0				
02-23-2024	Approved		Non-Billable		Brothers, Doug		0.500	600.00	300.00
	Telephone of	conference with op	posing counsel regar	ding Axonic resolut	on; follow up.				
02-27-2024	Approved		Non-Billable		Brothers, Doug		1.000	600.00	600.00
	Review redl	ne of Axonic agre	ement; follow up.						
02-29-2024	Approved		Non-Billable		Brothers, Doug		0.800	600.00	480.00
	Attend call v	vith Delaware cou	nsel and follow up.						
03-08-2024	Approved		Non-Billable		Brothers, Doug		1.000	600.00	600.00
	Close review	v and comments r	egarding proposed Ax	conic settlement.					
03-19-2024	Approved		Non-Billable		Manassian, Taline		0.300	400.00	120.00
	Call from R.	Horton on abstrac	cts needed; emails wit	th K. Seabolt regard	ling abstracts; review prior questions from	K. Seabolt.			
03-20-2024	Approved		Non-Billable		Manassian, Taline		0.300	400.00	120.00
	Call with K.	Seabolt regarding	judgment and abstract	ct; emails regarding	judgment and abstract.				
03-20-2024	Approved		Non-Billable		Nakamura, Suzy		0.100	150.00	15.00
	Emails from	and to K. Seabolt	regarding Agreed Fir	nal Judgment (0.10)	•				
03-20-2024	Approved		Non-Billable		Seabolt, Kelly		0.400	150.00	60.00
	Pull docket	and research sign	ed Agreed Judgment	(.3); email team reg	arding the same (.1).				
03-24-2024	Approved		Non-Billable		Manassian, Taline		0.400	400.00	160.00
	Review info	mation needed fo	r abstracts; calculate	credits; email R. Ho	rton and K. Seabolt regarding abstracts a	nd credits.			
03-27-2024	Approved		Non-Billable		Brothers, Doug		1.600	600.00	960.00
	Assemble m	aterials for	-						
03-28-2024	Approved		Non-Billable		Brothers, Doug		1.000	600.00	600.00
	Continue rev	view of matters re	garding						
04-09-2024	Approved		Non-Billable		Manassian, Taline		0.100	400.00	40.00
	Follow up w	ith R. Horton and	K. Seabolt regarding	status of abstracts.					
04-10-2024	Approved		Non-Billable		Manassian, Taline		0.100	400.00	40.00
	Emails with	R. Horton and K.	Seabolt regarding abs	tract.					
04-10-2024	Approved		Non-Billable		Brothers, Doug		0.600	600.00	360.00
	E-mail regar	ding New York re	ceiver; review transcri	pt.					
04-11-2024	Approved		Non-Billable		Manassian, Taline		0.100	400.00	40.00
	Emails with	R. Horton and K.	Seabolt regarding abs	tract.					
04-12-2024	Approved		Non-Billable		Brothers, Doug		0.600	600.00	360.00
11-04-2024 1	0:39:20							Page	32 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only) Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status /	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft e									
-	NP Skyloft								
1010 001		comments: e-m	nails regarding same.						
04-16-2024	Approved	0011111101110, 0 11	Non-Billable		Nakamura, Suzy		0.000	150.00	0.00
01 10 2021	• •	ocuments for a	greements and comm	nunication with	rtanamara, cuzy		0.000	100.00	0.00
04-17-2024	Approved		Non-Billable		Brothers, Doug		0.900	600.00	540.00
J. 11 2021	• •	d team call rega	arding next steps; rev	ew Brownlie men	, ,		0.000	000.00	010.00
04-18-2024	Approved		Non-Billable		Brothers, Doug		0.400	600.00	240.00
	Review e-mails	re next steps.			2.04.16.2, 204.9		000	000.00	
04-29-2024	Approved	'	Non-Billable		Brothers, Doug		0.300	600.00	180.00
	E-mails regardi	ng liquidating tr	ustee.		, 3				
05-03-2024	Approved	<b>5</b> , <b>5</b>	Non-Billable		Nakamura, Suzy		0.100	150.00	15.00
	• •	d to R. Horton a	and Donna Brown reg	arding Liquidation	•				
05-09-2024	Approved		Non-Billable		Manassian, Taline		0.100	400.00	40.00
	Review email o	n status of filing	abstracts.						
05-29-2024	Approved		Non-Billable		Horton, Russ		0.700	600.00	420.00
	Review draft of	settlement fron	n J. Lloyd; review clie	nt materials.					
06-04-2024	Approved		Non-Billable		Brothers, Doug		2.700	600.00	1,620.00
	Extensive revie	w of Axonic set	tlement documents.		_				
06-19-2024	Approved		Non-Billable		Brothers, Doug		1.700	600.00	1,020.00
	Review revised	settlement doc	uments; prepare for a	and attend team o	call regarding Axonic settlement terms; follow	/ up.			
06-20-2024	Approved		Non-Billable		Brothers, Doug		0.700	600.00	420.00
	Attention to rev	sions of Axonic	settlement.						
06-21-2024	Approved		Non-Billable		Brothers, Doug		1.200	600.00	720.00
	Call with Admin	istrator's couns	el and follow up.						
06-25-2024	Approved		Non-Billable		Brothers, Doug		1.200	600.00	720.00
	revise Axonic d	ocuments (.5);	schedule call with Ca	lifornia counsel (.:	2); conference call with two class representa	tives			
06-26-2024	Approved		Non-Billable		Brothers, Doug		2.400	600.00	1,440.00
	review Axonic s		rs and prepare for ca -mail regarding same		ministrator's edits; attend call with Axonic; re	view			
06-28-2024	Approved		Non-Billable		Brothers, Doug		0.500	600.00	300.00
	e-mails regardir	ng Nelson (.3);	work on Axonic resol	ution (.2)					
07-05-2024	Approved		Non-Billable		Brothers, Doug		0.200	600.00	120.00
	E-mails regardi	ng discussions	with bankruptcy cour	isel.					
07-11-2024	Approved		Non-Billable		Brothers, Doug		0.200	600.00	120.00
	Review Axonic	comments to de	ocuments.		<u> </u>				

11-04-2024 10:39:20

Page 33 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

ont								
EIIL								
t al 1848								
NP Skylof	t							
Approved	-	Non-Billable		Nakamura, Suzy		0.500	150.00	75.00
	calls and emails fr	rom and to T. Carnes re	egarding client depositi	· · · · · · · · · · · · · · · · · · ·				
Approved		Non-Billable		Manassian, Taline		0.100	400.00	40.00
Review info	rmation on status	of recording of abstrac	ts.					
Approved		Non-Billable		Brothers, Doug		0.300	600.00	180.00
E-mail exch	ange with Barney	Given and Jenny Lloy	d regarding settlement.					
Approved		Non-Billable		Brothers, Doug		0.200	600.00	120.00
Review Nel	son e-mails.							
Approved		Non-Billable		Brothers, Doug		0.400	600.00	240.00
Work on Ax	onic resolution iss	sues						
Approved		Non-Billable		Brothers, Doug		0.400	600.00	240.00
E-mails reg	arding settlement							
Approved		Non-Billable		Brothers, Doug		0.600	600.00	360.00
Team call a	nd follow up.							
Approved				Brothers, Doug		0.400	600.00	240.00
	gotiations with Ax							
• •		Non-Billable		Brothers, Doug		0.100	600.00	60.00
	bert Brownlie.							
Approved				Brothers, Doug		0.500	600.00	300.00
	munications and							
• •				Brothers, Doug		0.700	600.00	420.00
	final settlement d							
• •								0.00
• •				Brothers, Doug		0.500	600.00	300.00
	arding final docun		emo.					
• •				Nakamura, Suzy		2.100	150.00	315.00
	and to D. Brothe		documents (1.0).					
• •				•		1.200	150.00	180.00
		).	I to clients (1.0); emails	from clients regarding settlement app	roval, forward to D.			
Approved		Non-Billable		Brothers, Doug		0.300	600.00	180.00
	nt responses.							
Approved		Non-Billable		Nakamura, Suzy		1.000	150.00	150.00
	t al 1848  NP Skylof  Approved  Telephone of Approved Review infor Approved Review Nels Approved Work on Ax Approved E-mails rega Approved Team call an Approved E-mail to Ro Approved Review com Approved Attention to Approved Approved E-mails rega Approved Attention to Approved E-mails rega Approved Approved E-mails from Approved Emails from Approved Emails from Approved Emails from Approved Review color Approved Emails from Brothers an Approved Review clien	Approved Telephone calls and emails for Approved Review information on status Approved E-mail exchange with Barney Approved Review Nelson e-mails. Approved Work on Axonic resolution iss Approved E-mails regarding settlement Approved Team call and follow up. Approved Ongoing negotiations with Ax Approved E-mail to Robert Brownlie. Approved Review communications and Approved Attention to final settlement of Approved E-mails regarding final docum Approved E-mails regarding final docum Approved E-mails from and to D. Brothe Approved Emails from and to D. Brothe Brothers and R. Horton (0.20 Approved Review client responses.	Approved Non-Billable Telephone calls and emails from and to T. Carnes re Approved Non-Billable Review information on status of recording of abstract Approved Non-Billable E-mail exchange with Barney Given and Jenny Lloy. Approved Non-Billable Review Nelson e-mails. Approved Non-Billable Work on Axonic resolution issues Approved Non-Billable E-mails regarding settlement status and claimants. Approved Non-Billable Team call and follow up. Approved Non-Billable Ongoing negotiations with Axonic (.4). Approved Non-Billable E-mail to Robert Brownlie. Approved Non-Billable Review communications and amended motion. Approved Non-Billable Review communications and amended motion. Approved Non-Billable E-mails regarding final documents. Approved Non-Billable E-mails regarding final documentation; draft client m Approved Non-Billable E-mails from and to D. Brothers, compile class action Approved Non-Billable Emails from and to D. Brothers and R. Horton, emails rothers and R. Horton (0.20). Approved Non-Billable Emails from and to D. Brothers and R. Horton, emails rothers and R. Horton (0.20). Approved Non-Billable Review client responses.	NP Skyloft Approved Non-Billable Telephone calls and emails from and to T. Carnes regarding client depositi Approved Non-Billable Review information on status of recording of abstracts. Approved Non-Billable E-mail exchange with Barney Given and Jenny Lloyd regarding settlement Approved Non-Billable Review Nelson e-mails. Approved Non-Billable Work on Axonic resolution issues Approved Non-Billable E-mails regarding settlement status and claimants. Approved Non-Billable Team call and follow up. Approved Non-Billable Ongoing negotiations with Axonic (.4). Approved Non-Billable E-mail to Robert Brownlie. Approved Non-Billable Review communications and amended motion. Approved Non-Billable Attention to final settlement documents. Approved Non-Billable E-mails regarding final documentation; draft client memo. Approved Non-Billable E-mails regarding final documentation; draft client memo. Approved Non-Billable E-mails from and to D. Brothers, compile class action documents (1.0). Approved Non-Billable Emails from and to D. Brothers and R. Horton, email to clients (1.0); emails Brothers and R. Horton (0.20). Approved Non-Billable	Review Call and follow up. Approved Non-Billable Brothers, Doug E-mail to Robert Brownlie. Approved Non-Billable Brothers, Doug E-mail rokoert Brownlie. Approved Non-Billable Brothers, Doug E-mail exchange with Axonic (.4). Approved Non-Billable Brothers, Doug E-mail settlement documents. Approved Non-Billable Brothers, Doug E-mail exchange with Barney Given and Jenny Lloyd regarding settlement. Approved Non-Billable Brothers, Doug Work on Axonic resolution issues Approved Non-Billable Brothers, Doug Work on Axonic resolution issues Approved Non-Billable Brothers, Doug E-mails regarding settlement status and claimants. Approved Non-Billable Brothers, Doug Team call and follow up. Approved Non-Billable Brothers, Doug Congoing negotiations with Axonic (.4). Approved Non-Billable Brothers, Doug E-mail to Robert Brownlie. Approved Non-Billable Brothers, Doug Review communications and amended motion. Approved Non-Billable Brothers, Doug Approved Non-Billable Brothers, Doug Review communications and arended motion. Approved Non-Billable Brothers, Doug Brothers, Doug Brothers and R. Horton, email to clients (1.0); emails from clients regarding settlement app Brothers and R. Horton (0.20). Approved Non-Billable Brothers, Doug Review client responses.	NP Skyloft Approved Non-Billable (0.50). Approved Non-Billable Manassian, Taline Review information on status of recording of abstracts. Approved Non-Billable Brothers, Doug E-mails exchange with Barney Given and Jenny Lloyd regarding settlement. Approved Non-Billable Brothers, Doug Review Nelson e-mails. Approved Non-Billable Brothers, Doug Review Non-Billable Brothers, Doug Review Nelson e-mails. Approved Non-Billable Brothers, Doug Review Communications with Axonic (4). Approved Non-Billable Brothers, Doug Review communications and amended motion. Approved Non-Billable Brothers, Doug Attention to final settlement documents. Approved Non-Billable Brothers, Doug Attention to final settlement documents. Approved Non-Billable Brothers, Doug Attention to Brothers, Complic dians action documents (1.0). Approved Non-Billable Brothers, Doug Remails from and to D. Brothers, complic class action documents (1.0). Approved Non-Billable Nakamura, Suzy Emails from and to D. Brothers and R. Horton, email to clients (1.0); emails from clients regarding settlement approval, forward to D. Brothers and R. Horton, email to clients (1.0); emails from clients regarding settlement approval, forward to D. Brothers and R. Horton, email to clients (1.0); emails from clients regarding settlement approval, forward to D. Brothers and R. Horton, email to clients (1.0); emails from clients regarding settlement approval, forward to D. Brothers and R. Horton, email to clients (1.0); emails from clients regarding settlement approval, forward to D. Brothers and R. Horton, email to clients (1.0); emails from clients regarding settlement approval, forward to D. Brothers client responses.	NP Skyloft  Approved Non-Billable (Sammar, Suzy) (S	Natamura, Suzy   0.500   150.00   150

11-04-2024 10:39:20 Page 34 of 37

11-04-2024 10:39:20

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

From 06-25-2022 To 11-04-2024

Page 35 of 37

	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Continge	ent								
Skyloft et	t al 1848								
1848-001 N		t							
1040 0011		_	s (0.20): draft chart of	client approval o	of settlement (0.40); email to clients regarding	ı approval of			
	settlement a			Carnes regarding	g same (0.30); email to Heath Basham and F				
08-26-2024	regarding		Non-Billable	(0.1	, , , , , , , , , , , , , , , , , , ,		0.400	150.00	60.00
00-20-2024	Approved	wals on settlemen		d Final Judamen	Nakamura, Suzy t (0.10); download Agreed Motion for Prelimii	aary Approval of	0.400	150.00	00.00
	Settlement		greed Motion to Seve		Axonic Parties (0.10); download Supplemen				
08-26-2024	Approved		Non-Billable		Brothers, Doug		2.600	600.00	1,560.00
		l documents and e tions regarding do		ignatures; teleph	none conferences with clients; calendar dead	lines;			
08-27-2024	Approved		Non-Billable		Brothers, Doug		1.300	600.00	780.00
	Review tran	smissions; prepar	e for hearing (.8); atte	nd hearing.					
09-06-2024	Approved		Non-Billable		Horton, Russ		0.600	600.00	360.00
	Receive and	d review disclosure	es from administrator;	review settlemer	nt filings; email regarding motion to withdraw.				
09-06-2024	Approved		Non-Billable		Nakamura, Suzy		0.300	150.00	45.00
			regarding settlement aring on Motion to Wit		s to and from D. Brothers, R. Horton, K. Seal el (0.10).	oolt and T. Carnes			
09-09-2024	Approved		Non-Billable		Nakamura, Suzy		0.200	150.00	30.00
	Emails from	and to Adelaida N	Martinez regarding set	tlement, emails to	o and from K. Seabolt regarding same (0.20)				
09-11-2024	Approved		Non-Billable		Nakamura, Suzy		0.100	150.00	15.00
	Email to D.	Brothers regarding	hearing on Motion to	Withdraw as Co	unsel (0.10).				
09-16-2024	Approved		Non-Billable		Horton, Russ		0.400	600.00	240.00
	Receive and	d review email reg	arding settlement web	site; review clien	t materials.				
09-18-2024	Approved		Non-Billable		Horton, Russ		1.500	600.00	900.00
			am regarding litigation riew client materials.	trust issues; tele	ephone conference with J. Rudd regarding sa	ame; receive and			
09-18-2024	Approved		Non-Billable		Brothers, Doug		0.400	600.00	240.00
	Telephone	conference with Ru	uss Horton regarding l	iquidating trust;	follow up.				
10-02-2024	Approved		Non-Billable		Nakamura, Suzy		0.200	150.00	30.00
	Download ( web portal (		tion for Withdrawal of	Counsel and Pre	liminary Class Action Settlement Approval O	rder from Court's			
10-10-2024	Approved		Non-Billable		Brothers, Doug		0.400	600.00	240.00
	call regardir	ng							
10-16-2024	Approved		Non-Billable		Brothers, Doug		1.000	600.00	600.00
	telephone o	onference opposir	ng counsel and respon	d;					
10-16-2024	Approved		Non-Billable		Brothers, Doug		0.500	600.00	300.00

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original
From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	ent								
Skyloft e	et al 1848								
-	NP Skylof	<del>i</del>							
10 10 00 1		Axonic negotiation	and related	1					
10-16-2024		7 Brome Hegenaner	Non-Billable		Nakamura, Suzy		0.200	150.00	30.00
	• •	and to D. Brother	s regarding Motion for	Attorney's Fees and			0.200		00.00
10-17-2024			Non-Billable	,	Nakamura, Suzy		0.100	150.00	15.00
		and to D. Brother	s regarding Application	n for Attorney's Fees					
10-18-2024			Non-Billable		Manassian, Taline		1.100	400.00	440.00
	• •	rdt) Revise petition	; call with R. Horton re	garding petition; call	with S. Nakamura regarding exhibits a	and files.			
10-19-2024			Non-Billable		Manassian, Taline		1.900	400.00	760.00
	(Munsch Ha	ardt) Revise petitio	n; calls with R. Horton	and K. Seabolt rega	rding claims; email R. Horton regardin	g petition issues.			
10-20-2024	Approved		Non-Billable		Manassian, Taline		0.200	400.00	80.08
10-22-2024	Approved		Non-Billable		Nakamura, Suzy		0.400	150.00	60.00
	Download F expense re		ies LLC's Objection to	Proposed Axonic Se	ttlement (0.10); emails from and to D.	Brothers, run fees and			
10-22-2024	Approved		Non-Billable		Brothers, Doug		0.000	600.00	0.00
	attention to	objector (.3); e-ma	ail with Nelson counse	(.2); begin work on f	ee app (.7)				
10-23-2024	Approved		Non-Billable		Brothers, Doug		0.800	600.00	480.00
		onference Fawkes	s and follow up						
10-23-2024	Approved		Billable		Seabolt, Kelly		1.800	150.00	270.00
10-24-2024	Approved		Billable		Seabolt, Kelly		0.200	150.00	30.00
10-24-2024	Approved		Non-Billable		Manassian, Taline		0.100	400.00	40.00
	_								
10-24-2024	1 1		Non-Billable		Brothers, Doug		1.300	600.00	780.00
		erials and begin wo	ork on fee application		B B		4.000	000.00	0.400.00
10-25-2024			Non-Billable		Brothers, Doug		4.000	600.00	2,400.00
0.00.0004		ork on fee applica			Duathana Davis		2 200	600.00	4 220 00
10-26-2024	Pending		Billable		Brothers, Doug		2.200	600.00	1,320.00
10 20 2024		claration and fee a			Nakamura Cuzu		0.200	150.00	20.00
10-28-2024		and to D. Brother	Billable		Nakamura, Suzy		0.200	150.00	30.00
10-29-2024		ו מווט נט ט. סוטנחפו	Billable		Nakamura, Suzy		0.200	150.00	30.00
10-29-2024	Approved		regarding 12/5 hearing	(0.00)	ivakamura, Suzy		0.200	150.00	30.00

11-04-2024 10:39:20

Page 36 of 37

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
View = Original

From 06-25-2022 To 11-04-2024

Date	Status	Approval	BillableType	Task	Professional	Start Stop	Duration	Rate	Amount
Conting	gent								
Skyloft	et al 1848								
1848-001	NP Skylof	t							
10-29-2024	1 Approved		Billable		Brothers, Doug		1.500	600.00	900.00
	attention to	Axonic follow up i	tems (.3); work on fee	арр (1.2)					
10-30-2024	1 Approved		Billable		Brothers, Doug		0.800	600.00	480.00
	continued w	ork on fee app							
10-30-2024	1 Approved		Billable		Carnes, Tiffany		3.900	350.00	1,365.00
	Legal resea	rch related to							
10-31-2024	1 Approved		Billable	_	Carnes, Tiffany		1.900	350.00	665.00
	finish resea	rch and draft for s	ection of fee applicatio	n;					
11-01-2024	1 Approved		Billable		Carnes, Tiffany		1.100	350.00	385.00
	Continue le	gal research for fe	e application;						
11-01-2024	1 Approved		Billable		Brothers, Doug		2.700	600.00	1,620.00
	finalize fee	app and declaration	on; review/approve mo	tion for entry					
						Matter Total Client Total Fee Basis Total Grand Total	589.500 589.500 589.500 589.500		289,355.00 289,355.00 289,355.00 289,355.00

11-04-2024 10:39:20 Page 37 of 37

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
Expense Code = All
View = Original
Approval Status = All
Selected Expenses = All
From 05-11-2022 To Latest

							1 10111 03-1	1-2022 TO Latest
Entered	Status Approva	I BillableType	Expense	Professional	Price	Mark Up %	Qty	Amount
<b>Continge</b>	<u>nt</u>							
Skyloft et a								
1848-001 NP	Skyloft							
05-12-2022	Billed	Billable	E117 - Trial exhibits	Norton, Laura	292.50	0.00	1.00	292.50
	The Exhibit Company - Trial D	emonstrative Exhibits						
05-19-2022	Billed	Billable	Trial transcripts	GBKH, Accountant	1,576.64	0.00	1.00	1,576.64
05-19-2022	Billed	Billable	Trial transcripts	GBKH, Accountant	2,144.28	0.00	1.00	2,144.28
05-27-2022	Billed	Billable	Deposition transcripts	GBKH, Accountant	150.00	0.00	1.00	150.00
	Deposition transcripts - Certifi	ed - MPEG of David Sch	wartz					
05-31-2022	Billed	Billable	Copying	GBKH, Accountant	1,786.13	0.00	1.00	1,786.13
	Rainmaker Invoice INV15970	34						
05-31-2022	Billed	Billable	Copying	GBKH, Accountant	233.76	0.00	1.00	233.76
	Rainmaker Invoice INV15970	35						
06-14-2022	Billed	Billable	E119 - Experts	GBKH, Accountant	11,541.15	0.00	1.00	11,541.15
	Weaver & Tidwell Invoice #10	712821						
06-24-2022	Billed	Billable	Copying	GBKH, Accountant	108.57	0.00	1.00	108.57
	Rainmaker Invoice No. 15739	59						
06-24-2022	Billed	Billable	Copying	GBKH, Accountant	74.09	0.00	1.00	74.09
	Rainmaker Invoice No. 15739	62						
06-24-2022	Billed	Billable	Copying	GBKH, Accountant	383.96	0.00	1.00	383.96
	Rainmaker Invoice No. 15740	10						
06-24-2022	Billed	Billable	Copying	GBKH, Accountant	3,978.19	0.00	1.00	3,978.19
	Rainmaker Invoice No. 15749	83						
07-19-2022	Billed	Billable		GBKH, Accountant	101.17	0.00	1.00	101.17
	Rainmaker Inv. 1623848 - Tria	al Color Copies						

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
Expense Code = All
View = Original
Approval Status = All
Selected Expenses = All
From 05-11-2022 To Latest

								From 05-1	1-2022 To Latest
Entered	Status	Approval	BillableType	Expense	Professional	Price	Mark Up %	Qty	Amount
Continge	<u>ent</u>								
Skyloft et a	al 1848								
1848-001 NI	P Skyloft								
08-02-2022	Billed		Billable	Deposition transcripts	GBKH, Accountant	729.00	0.00	1.00	729.00
	TSG Reporte	rs Inv. #2076975 - Ce	ertified Transcript of A	Ashley Holloway					
08-02-2022	Billed		Billable	Deposition transcripts	GBKH, Accountant	1,993.75	0.00	1.00	1,993.75
	TSG Reporte	rs Inv. #2077590 - Ce	ertified Transcripts of		m Ashourzadeh, and \	/ideo Remote Fees			
08-02-2022	Billed		Billable	Deposition transcripts	GBKH, Accountant	787.50	0.00	1.00	787.50
	TSG Reporte	rs Inv. #2077591 - Vid	deo Deposition for Mo						
08-02-2022	Billed		Billable	Deposition transcripts	GBKH, Accountant	930.95	0.00	1.00	930.95
	TSG Reporte	rs Inv. #208324- Cert	ified Transcript of Da	vid Schwartz					
08-02-2022	Billed		Billable	Deposition transcripts	GBKH, Accountant	150.00	0.00	1.00	150.00
	TSG Reporte	rs Inv. #2082862 - Ce	ertified MPEG Deposi	tion of David Schwa	rtz				
10-19-2022	Billed		Billable	E119 - Experts	Norton, Laura	39,494.08	0.00	1.00	39,494.08
	Weaver - Exp	ert Fees for Forensic	s						
11-22-2022	Billed		Billable	Deposition transcripts	Norton, Laura	267.80	0.00	1.00	267.80
	Jamie Foley,	Court Reporter - Dep	osition transcripts of						
12-19-2022	Billed		Billable	Deposition transcripts	Norton, Laura	1,588.01	0.00	1.00	1,588.01
		osition transcripts - P	Patrick Nelson						
01-13-2023	Billed		Billable	Subpoena fees	Norton, Laura	197.00	0.00	1.00	197.00
		nnection - Subpoena	•						
01-17-2023	Billed		Billable	Subpoena fees	Norton, Laura	204.00	0.00	1.00	204.00
04 04 0000	The Legal Co Billed	nnection - Subpoena	Billable	•	Mantan Laura	4.045.00	0.00	4.00	4 045 00
01-31-2023		nal Financial - Subpo		Subpoena fees	Norton, Laura	1,645.28	0.00	1.00	1,645.28
	r lucilly ivalion	nai Financiai - Subpo	ena ices ioi Docume	E121 -					
03-06-2023	Billed		Billable	Arbitrators / mediators	Norton, Laura	4,737.50	0.00	1.00	4,737.50
	JAMS Invoice	e 6561512 - For Media	ation on 3/15/23						

10-26-2024 13:11:36 Page 2 of 4

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
Expense Code = All
View = Original
Approval Status = All
Selected Expenses = All
From 05-11-2022 To Latest

								F10111 U3-11	-2022 To Latest
Entered	Status	Approval	BillableType	Expense	Professional	Price	Mark Up %	Qty	Amount
Continge	<u>nt</u>								
Skyloft et a									
1848-001 NF									
03-09-2023	Billed		Billable	Delivery/	Norton, Laura	31.25	0.00	1.00	31.25
03-09-2023				Messengers	Norton, Laura	31.23	0.00	1.00	31.23
	Federal Expre	ess - Delivery of Medi	iation check to JAMS						
03-14-2023	Billed		Billable	E121 - Arbitrators / mediators	Norton, Laura	1,850.00	0.00	1.00	1,850.00
	Patrick Keel -	Payment for 2nd Me	diation (April 5, 2023	)					
12-05-2023	Approved		Billable	E129 - Official Fees	Norton, Laura	1,600.00	0.00	<del>1.00</del>	1,600.00
	FINRA Online	Claim Filing Paymer	nt Confirmation (Trac	king Number 69518	77) - For filing the Init	ial Statement of Claim			
12-06-2023	Approved		Billable	Online research	Norton, Laura	4.00	0.00	1.00	4.00
	Secretary of S	State - Online researc	ch	E400 Off: 1					
04-11-2024	Approved		Billable	E129 - Official Fees	Norton, Laura	41.16	0.00	1.00	41.16
	Requests for	Abstract of Judgment	ts (5).						
05-09-2024	Approved		Billable	E129 - Official Fees	Norton, Laura	29.00	0.00	1.00	29.00
	Fee to record	Bexar County Abstra	act of Judgment						
05-09-2024	Approved		Billable	E129 - Official Fees	Norton, Laura	24.00	0.00	1.00	24.00
	Fee to record	Tarrant County Abst	ract of Judgment was	,	it back on 6/20/24)				
05-09-2024	Approved		Billable	E129 - Official Fees	Norton, Laura	36.50	0.00	1.00	36.50
	Fee to record	Harris County Abstra	act of Judgment						
05-09-2024	Approved		Billable	E129 - Official Fees	Norton, Laura	29.00	0.00	1.00	29.00
	Fee to record	Travis County Abstra	act of Judgment						
05-09-2024	Approved		Billable	E129 - Official Fees	Norton, Laura	29.00	0.00	1.00	29.00
	Fee to record	Dallas County Abstra	act of Judgment						
05-28-2024	Approved		Billable	E119 - Experts	Norton, Laura	720.00	0.00	1.00	720.00
	Expert - Donn	a Brown (Invoice #19	9119)						
07-15-2024	Approved		Billable	E129 - Official Fees	Norton, Laura	17.00	0.00	1.00	17.00

10-26-2024 13:11:36 Page 3 of 4

# **All Expenses**

George Brothers Kincaid and Horton, L.L.P.

Professional = All (Active Only)
Group By Partners
Client - Matter = 1848-001 NP Skyloft (Active Only)
Task Code = All
Expense Code = All
View = Original
Approval Status = All
Selected Expenses = All
From 05-11-2022 To Latest

**Grand Total** 

79,506.22

Entered	Status	Approval	BillableType	Expense	Professional	Price	Mark Up %	Qty	Amount
Continge	<u>ent</u>								
Skyloft et	al 1848								
1848-001 N	P Skyloft								
	Filing Fees -	Abstract of Judgment							
								Matter Total	79,506.22
								Client Total	79,506.22
							F	ee Basis Total	79,506.22

10-26-2024 13:11:36 Page 4 of 4

#### CAUSE NO. D-1-GN-24-005548

PAUL TESSIER, AS CO-TRUSTEE OF THE ANNE T. TESSIER FAMILY TRUST, and BLACK TORTUGA GROUP, LLC,

Plaintiffs, on behalf of themselves and all others similarly situated,

AND

STACY R. SCHIFFMAN, ADELAIDA MARTINEZ, WILLIAM D. AND SUSAN M. MADDEN, A.H. ROOT BUILDING, LLC. RYAN AND LISSA ONG LIVING TRUST, ALLA INVESTMENTS, LLC, 2M & 3D LTD., BUN RENTALS, LLC, HUGH G. DYKES III AS TRUSTEE OF THE DYKES FAMILY REVOCABLE TRUST DATED JULY 7,2004, SYDNEY CRISP AND NICOLA CRISP, DANIEL M. BELL, WILLIAM SMITH, DONNA DEKKER AS TRUSTEE OF THE DEKKER-ROBERTSON FAMILY TRUST; AND HARRY V. AND JOANNE P. HANSEN AS TRUSTEES OF THE HANSEN FAMILY TRUST, LAWRENCE K. SAMUELS AND JANE HEIDER AS TRUSTEES OF THE HEIDER SAMUELS FAMILY TRUST DATED JUNE 29, 2007, JOHN C. POLK AND JANICE C. POLK, AND JAMES PARZIALE, AS TRUSTEE OF THE PARZIALE FAMILY TRUST,

Plaintiffs, derivatively on behalf of NP SKYLOFT DST

v.

BURGUNDY 523 OFFSHORE FUND, LTD., AXONIC SPECIAL OPPORUNITIES SBL MASTER FUND LP, AXONIC CREDIT OPPORTUNITIES MASTER FUND, LP; ACO SKYLOFT MANAGER LLC; AXONIC CAPITAL, LLC; and CLAYTON DEGIACINTO,

Defendants.

IN THE DISTRICT COURT OF

TRAVIS COUNTY, TEXAS

261<sup>ST</sup> JUDICIAL DISTRICT

DECLARATION OF ROBERT BROWNLIE IN SUPPORT OF ATTORNEYS' FEES

My name is Robert W. Brownlie. My date of birth is March 5, 1962 and my address is 10920 Via Frontera, Suite 550, San Diego, California 92127. I make this statement based on my personal knowledge and I declare under the penalty of perjury that the following is correct:

- 1. I am an attorney licensed to practice before the courts of the State of California and am a partner in the firm of Brownlie Hansen LLP ("BH"). My resume is attached hereto as Exhibit A.
- 2. I submit this Declaration in support of (1) the Motion for Final Approval of the Stipulation of Settlement with the Axonic Defendants and (2) the Motion for Attorneys' Fees and Expenses and Class Representative Service Awards.
- 3. I am counsel of record for plaintiff James V. Parziale in the above-referenced matter. I also represent approximately 150 Class Members who were investors in in NP Skyloft, DST (the "Trust"), owning approximately 58% in interest in the Trust. I was appointed by the Court as co-Class Counsel along with George Brothers Kincaid & Horton in the Preliminary Order of Approval of the Settlement Stipulation.
- 4. I am admitted pro hac vice and have associated Jennifer A. Lloyd of Miller Lloyd P.C. ("MLPC") as local counsel in Austin, Texas. Her resume is attached hereto as Exhibit B.
- 5. This declaration is submitted pursuant to Section 5(a) of the Settlement Stipulation to seek Court approval of attorneys' fees and expenses from the Settlement Fund to be paid by Axonic. I have not authored any publications in the last 10 years. I have not, to the best of my recollection, testified as a retained expert in the past 4 years, other than as an attorney of record on the issue of attorney's fees.
- 6. The subject matter of my testimony is the reasonable and necessary attorney's fees and costs incurred by the Class and Trust.

- 7. My opinions are based on the terms of my engagement, my experience in Delaware and Texas derivative and class litigation, the applicable factors under Delaware and Texas law as discussed below, and the expenses actually incurred by my firm that have not yet been reimbursed.
- 8. I concentrate my practice on complex business, securities, and corporate litigation, particularly class action and derivative litigation. Among other relevant experience, I served as Co-Chair of the American Bar Association's Securities Litigation Committee and Editor of the Class Actions and Derivative Suits Newsletter, the Co-Chair of DLA Piper's Global Securities Litigation Practice Group and the Chair of the Gray Cary Securities Litigation Practice Group. I have represented parties in derivative cases in California, Delaware, Texas, Arizona, Nevada, Michigan, New York and other jurisdictions. I have argued and won a key case before the California Supreme Court on standing to maintain derivative suits and choice of law in cases involving Delaware corporations, Grosset v. Wenaas, 42 Cal. 4th 1100 (2008), and have had another derivative case before the California Supreme Court, which reviewed derivative suit standing in cases involving non-profit corporations, Turner v. Victoria, 15 Cal.5th 99 (2023). I have also tried and won for my clients a derivative suit in the Orange County, California Superior Court, Alexandros v. KOR Electronics, Inc., et al. And I tried for my clients and won a direct action seeking to invalidate a substantial equity grant in the Delaware Chancery Court, and *In re Genelux* Corp., 126 A.3d 644 (Del. Ch. 2015), vacated in part sub nom. Genelux Corp. v. Roeder, 143 A.3d 20 (Del. 2016).
- 9. I am a partner in the firm of Brownlie Hansen LLP. The firm currently has two partners, two associates, three contract "of counsel" attorneys, and two paralegals.
- 10. I am also counsel of record in four cases that my firm filed in state and federal court in California against the Axonic Defendants and others related to NP Skyloft DST. Those cases

are: Parziale v. Nelson, et al., No. 2:21-cv-01803 (C.D. Cal.) (dismissed); Puleo, et al. v. Nelson, et al., No. 2:21-cv-06443 (C.D. Cal.); Ames, et al. v. Nelson, et al., No. 2:22-cv-09400 (C.D. Cal.); and Collins v. NP Skyloft ST, LLC, et al., No. 30-2021-01184473-CU-MC-CXC (Cal. Sup. Ct., Orange Cnty.) (the "Related Actions"). These cases will also be resolved in the Settlement Stipulation with Axonic.

- 11. My firm intervened in Cause No. D-1-GN-21-000097 in Travis County District Court (the "Original Action") on behalf of James Parziale, after we filed the first derivative case in California in January 2021. Eventually, my firm undertook representation of approximately 150 investors in the Trust, representing approximately 58% by interest of the investors. My firm has a hybrid reduced hourly rate/contingency arrangement with its clients. Pursuant to agreement with co-Class Counsel, my firm is entitled to one-half of attorneys' fees awarded by the Court (in addition to expenses advanced by my firm).
- 12. As is customary, the professionals at my firm and MLPC contemporaneously recorded their time. The billing records reflect the name of the professional, the task, the billing rate, and the time expended. These billing records, lightly redacted to remove reference to privileged matters are attached as Exhibit C to this Declaration. The billing records of MLPC are attached as Exhibit D to this Declaration.
- 13. In addition, the expenses incurred by the firm are recorded in the usual fashion. Such unreimbursed expenses are listed on the attached Exhibit E.

### Application of Common Fund Factors under Delaware Law and Texas Law

14. Under 12 Del. Code § 3816(d), if a derivative action is successful, in whole or in part, or if anything is received by a statutory trust as a result of a judgment, compromise or settlement of any such action, the Court may award the plaintiff reasonable expenses, including

reasonable attorney's fees for the common benefit achieved. Additionally, under the common fund doctrine in Delaware and Texas law, and Del. Ch. Ct. R. 23(g) and 23.1, and Tex. R. Civ. P. 42(h) and (i), a Court can award attorney's fees in a class or derivative action.

15. When evaluating the reasonableness of attorney's fees and expenses from a common fund in a derivative of class action case, courts have looked at the following factors: "1) the results achieved; 2) the time and effort of counsel; 3) the relative complexities of the litigation; 4) any contingency factor; and 5) the standing and ability of counsel involved." *Ams. Mining Corp. v. Theriault*, 51 A.3d 1213, 1254 (Del. 2012) (citing *Sugarland Indus. v. Thomas*, 420 A. 2d 142, 149 (Del. 1980); *Crouch v. Tenneco, Inc.*, 853 S.W.2d 643, 647 (Tex. App.—Waco 1993, writ denied)(citing similar factors). Each of these factors favors an attorney's fees award of 30% of the Settlement Fund to be paid by Axonic.

16. The Court can take judicial notice of the (1) results achieved and (3) the relative complexities of the litigation. Generally, the Court indicated its intent to enter judgment on behalf of the Trust for \$4,250,000 against Axonic Defendants for their wrongful actions in the sale of the Skyloft Apartments; the Settlement Fund doubles that amount. This case presented myriad legal and factual complexities. Procedurally, it requires dozens of depositions, over electronic 65,000 documents produced and reviewed, hundreds of trial exhibits, lengthy and complex summary judgment motion briefing, and a three week jury trial in the Original Action. My firm also pursued Axonic for secondary liability for securities fraud claims in class and mass actions in the Related Actions. Legally, it raised complex issues of duties appliable to Delaware statutory trusts and detailed analysis of Trust and financing agreements, and secondary liability of Axonic for securities claims arising out of statements made in the Offering Memoranda.

17. The attached billing and expense records of BH and ML demonstrate the second

factor, (2) the time and effort expended in the case.

18. BH has advanced substantial out of pocket expenses for the prosecution of this and other cases on behalf of the investors in NP Skyloft, DST. Some of those expenses have been reimbursed our clients and our clients paid a substantially discounted hourly rate for the first three months of the filing of our initial case in February 2021. BH and MLPC are small in size and I and Ms. Lloyd were personally involved in all stages of the litigation and attended all depositions, hearings, and the trial. Both firms were required to turn away other business due to the time commitments of this case. This contingent representation factor, too, justifies an award of fees in the higher range.

Under a percentage recovery method, it is my opinion that an attorneys' fee of thirty percent of the Settlement Fund to be paid by Axonic is appropriate in this case overall. One-half of such fee, together with expenses for BH in the amount of \$85,966.02, is reasonable and well within ranges of fees awarded in similar cases. Thus, such a percentage award is within the range of awards in similar class and derivative actions and is reasonable and necessary.

### **Application of Additional Factors for Lodestar Calculation Cross-Check**

- 14. The attached billing records reflect hours worked at my firm's standard rates. During the period of time covered by such records, my standard rate was \$795 and \$850, and Ms. Lloyd's was \$450 an hour. It is my opinion that the hours worked are reasonable and that even at \$850.00 is at the very low end of reasonable for a case this complex, and that my standard rate and Ms. Lloyd's standard rate are more reasonable, especially when considering that my standard rate at DLA Piper LLP (US) at the time a left that firm in 2020 was \$1295 per hour.
- 15. My billing records reflect work of Kori Kempton, Veronica Collins and Tammy King, who were during the time covered by this application were paralegals in my firm. To recover

attorney's fees for work performed by legal assistants, "the evidence must establish: (1) the qualifications of the legal assistant to perform substantive legal work; (2) that the legal assistant performed substantive legal work under the direction and supervision of an attorney; (3) the nature of the legal work performed; (4) the legal assistant's hourly rate; and (5) the number of hours expended by the legal assistant." *Multi–Moto Corp. v. ITT Commercial Fin. Corp.*, 806 S.W.2d 560, 570 (Tex.App.-Dallas 1990, writ denied).

- (1) Qualifications. Kori Kempton, Tammy King and Veronica Collins are California certified paralegals with substantial experience. Veronica Collins has substantial experience in plaintiffs' litigation. Kori Kempton is a seasoned paralegal with substantial experience in complex business and intellectual property litigation. At DLA Piper, Kori Kempton worked with lawyers across the country to assist them in preparing cases for trial and trying cases. Similarly, Tammy King has substantial litigation experience at DLA Piper and in my firm firm.
- (2) <u>Legal assistant performed substantive legal work under the direction and supervision of an attorney</u>. Under the supervision of either myself or Ms. Lloyd, Ms. Kempton, Ms. King and Ms. Collins assisted in drafting and responding to discovery, client communications, voluminous document production, searching, and analysis and document database management, scheduling, and corresponding with court, clients and opposing counsels regarding matters as they arose throughout the case.
- (3) <u>Nature of the legal work performed</u>. See above and billing records attached.
- (4) <u>Legal assistant's hourly rate and number of hours</u>. Ms. Kempton, Ms. King and Ms. Collins' standard rates were \$275, \$265 and \$245 per hour, respectively. Given their experience and the nature of legal work performed under my supervision, such hourly rates are reasonable rates for their work.
- 16. In *El Apple I, Ltd. v. Olivas*, 370 S.W.3d 757, 760–61 (Tex. 2012), the Texas Supreme Court identified the following non-exclusive list of factors to be considered when awarding attorney's fees in a class action pursuant to Tex. R. Civ. P. 42(i)(1):
  - (1) the time and labor required, the novelty and difficulty of the questions involved, and the skill requisite to perform the legal service properly;
  - (2) the likelihood, if apparent to the client, that the acceptance of the particular employment will preclude other employment by the lawyer;
  - (3) the fee customarily charged in the locality for similar legal services;
  - (4) the amount involved and the results obtained;
  - (5) the time limitations imposed by the client or by the circumstances;

- (6) the nature and length of the professional relationship with the client;
- (7) the experience, reputation, and ability of the lawyer or lawyers performing the services; and
- (8) whether the fee is fixed or contingent on results obtained or uncertainty of collection before the legal services have been rendered.

See also Arthur Andersen & Co. v. Perry Equipment Corp., 945 S.W.2d 812, 818 (Tex. 1997) and Tex. Disc. R. Prof'l Conduct 1.04 (citing same 8 factors). In my opinion, these factors support applying a multiple to the base lodestar rate incurred by Plaintiffs in this case.

- (1) Time and labor required; novelty and difficulty of issues; skill required; . This case involved complex derivative litigation on behalf of the Trust against multiple entities alleged to have participated in the wrongdoing. Additionally, the class and direct claims asserted in the Related Actions in California involved complex issues of secondary actor liability for statements made in Offering Memoranda against Axonic. My firm and MLPC handled this case very leanly. I personally handled most aspects of this litigation and the Related Actions, including analyzing the legal and factual issues, taking and defending depositions, researching and briefing dispositive motions, and attending numerous discovery and/or dispositive hearings and the trial.
- (2) <u>Preclusion of other employment by the lawyer</u>: This case took up a significant amount of my and Ms. Lloyd's time in briefing, depositions, hearings, and post-verdict negotiations, and required that we decline other employment and postpone several trial or arbitration dates in other matters handled by my firm.
- (3) <u>Fees were customary.</u> Based on my experience, the fees we charged in this case are similar to those fees customarily charged in the locality for similar legal services by attorneys having similar experience.
- (4) The amount involved and the results obtained; The litigation involved Class Members who invested approximately \$75,000,000 in a Trust; the Settlement Fund to be paid by Axonic will allow recovery of \$9,000,000.
- (5) <u>Time limitations</u>: This Original Action moved to trial in Texas under two years, from filing in January 2021 to Parziale's intervention in September 2021 to trial in April 2022 and post-verdict rulings in October 2022. Since the end of 2022, we have engaged in mediation and protracted negotiations with Axonic over the Settlement Stipulation.
- (6) Experience and ability of the lawyer or lawyers performing the services: I have extensive experience in derivative and class action cases, including under Delaware law and in Chancery Court, and Ms. Lloyd has similar experience in addition to experience in the trial courts of Travis County. We handled these cases leanly, against numerous counsel Defendants, but our expertise and initiative resulted in a jury award on behalf of the Trust.

Additionally, in my opinion, my efforts in the Related Actions in California on securities

claims helped increase the amount of the Settlement Fund.

(7) Contingency fee and uncertainty of collection. As previously stated, my firm and MLPC

are small in size and Ms. Lloyd and I were involved in all stages of the litigation and post-verdict negotiations. I was engaged on a hybrid reduced hourly rate/contingency fee basis

that involved substantial risk of recovery for our firms. The contingent representation factor justifies a substantial award of fees.

17. In sum, to the extent the Court uses the lodestar as a cross-check on the percentage

of recovery calculation, the total, unreimbursed lodestar base at BH and ML's standard rates is

\$1,106,143.71 (BH) and \$200,028.28 (ML), for a total of unreimbursed fees of \$1,306,171.99.

This amount represents 1.03 times one of half of the requested fees, or a multiplier of 1.03 times

the regular billable hours rates to the lodestar base for counsel. Additionally, BH and ML incurred

unreimbursed expenses in the amount of \$85,966.02. An award of fees with a multiplier of 1.03

on the unreimbursed lodestar base plus an award of the unreimbursed expenses are not only

reasonable, but fall on the low end for the range, especially for a case of this complexity and

duration and was actually tried to a jury resulting in a favorable verdict.

Executed in San Diego, California on November 5, 2024.

/s/ Robert W. Brownlie

Robert W. Brownlie

# EXHIBIT A





Robert W. Brownlie

**Partner** 

robert.brownlie@brownliehansen.com

10920 Via Frontera, Suite 550, San Diego, CA 92127 O: 858.357.8001 M: 619.987.4665

Robert Brownlie concentrates in the representation of corporations and their officers and directors in complex business, securities and corporate litigation, particularly class action and derivative litigation, and related Securities and Exchange Commission and criminal investigations and enforcement actions.

He argued and won Grosset v. Wenaas, 42 Cal. 4th 1100 (2008), a case before the California Supreme Court, clarifying a key standing requirement for derivative suits in California and the choice of law analysis for California-headquartered companies incorporated in Delaware.

### **EXPERIENCE**

**Federal Securities Cases** 

#### - 1 10 111 0

- Mauss v. NuVasive, Inc. NuVasive involves a securities class
   action lawsuit filed in the US District Court for the Southern District of California for alleged violations of
   Section 10(b) of the Securities Exchange Act of 1934. The case was filed on the heels of the Company's
   announcement that it was the subject of an investigation into potential violations of the federal healthcare
   fraud and abuse laws. The case has settled.
- Perrin v. SouthWest Water Company. SouthWest Water involved a securities class action suit filed in the US District Court for the Central District of California for alleged violations of Section 10(b) of the Securities Exchange Act of 1934 and Section 11 of the Securities Act of 1933 arising from a restatement of the Company's financial statements. The district court granted our motion to dismiss the plaintiffs' Second Consolidated and Amended Complaint with prejudice and without leave to amend on all claims as to all defendants. The dismissal of the Section 10(b) claim was affirmed by the Ninth Circuit Court of Appeals. On remand, the district court granted our motion to summary judgment on the Section 11 claim and again denied leave to amend. The decision was affirmed by the Ninth Circuit Court of Appeals
- In re REMEC Inc. Securities Litigation. REMEC is a securities class action filed in the US District Court
  for the Southern District of California. The court granted two motions to dismiss with leave to amend: In
  re REMEC Inc. Securities Litigation, 388 F. Supp. 2d 1170 (S.D. Cal. 2005) and In re REMEC Inc.

### **CREDENTIALS**

#### Education

University of California at Davis (1988) J.D.

Order of the Coif Phi Kappa Phi

University of California at San Diego (1985) B.A.

**Economics** 

Admissions

California



Securities Litigation, 415 F. Supp. 2d 1106 (S.D. Cal. 2006). On the eve of trial, the district court granted our motion for summary judgment. *In re REMEC Inc. Securities Litigation*, 702 F. Supp. 2d 1202 (S.D. Cal. 2010). An appeal was taken by the plaintiffs, but it was voluntarily dismissed by them

- In re ArthroCare Corporation Securities Litigation. This case involves a securities class action suit filed in the US District Court for the Western District of Texas following the company's restatement of its financial statements
- In re Heckmann Corporation Securities Litigation. This case involves a securities class action suit filed in the US District Court for the District of Delaware following the company's goodwill write-off related to its acquisition of a company in the People's Republic of China
- Holzwasser v. Staktek Holdings, Inc. This case involved a securities class action suit currently pending in the US District Court for the Western District of Texas. After the withdrawal of the original plaintiff, the court denied the motion to intervene of a new plaintiff, dismissed the case and entered judgment for the defendants
- In re JNI Corporation Securities Litigation. JNI involved a securities class action filed by Milberg Weiss in the US District Court for the Southern District of California. Our motion to dismiss the First Amended Consolidated Complaint was granted with leave to amend in Osher v. JNI Corp., 256 F.Supp.2d 1144 (S.D. Cal. 2003), our motion to dismiss the Second Amended Consolidated Complaint was also granted with leave to amend in Osher v. JNI Corp., 302 F.Supp.2d 1145 (S.D. Cal. 2003), and our motion to dismiss the Third Amended Complaint was granted with prejudice and without leave to amend in Osher v. JNI Corp., 308 F.Supp.2d 1168 (S.D. Cal. 2004). The Ninth Circuit Court of Appeals affirmed the dismissal, but reversed and remanded the denial of leave to amend. On remand, the trial court again denied leave to amend and that decision was not appealed
- In re Titan Inc Securities Litigation. We represented an individual defendant in this federal securities case
  and in state court derivative litigation and in a federal grand jury investigation and investigation by the
  Securities and Exchange Commission arising from alleged violations of the Foreign Corrupt Practices
  Act. The civil litigation has been settled. The investigations were concluded with no action taken by the
  government against our client
- Securities and Exchange Commission v. Yuen. We represented a former officer and board member of Gemstar-TV Guide International in a civil enforcement action brought by the SEC in the US District Court for the Central District of California. Our motion to dismiss, the SEC's second amended complaint was granted with leave to amend in S.E.C. v Yuen, 221 F.R.D. 631 (C.D. Cal. 2004). This case has settled
- In re Foundry Networks, Inc. Securities Litigation. Foundry involved a securities class action filed by
  Milberg Weiss in the US District Court for the Northern District of California. The district court granted
  with prejudice and without leave to amend our motion to dismiss the fourth amended complaint in In re
  Foundry Networks, Inc. Sec. Litig., 2003 WL 22077729 (N.D. Cal. Aug. 29, 2003). This case was
  dismissed without payment while on appeal
- In re The Vantive Corporation Securities Litigation. Vantive involved a securities class action filed by Milberg Weiss in the US District Court for the Northern District of California. The case was dismissed on



the first motion to dismiss heard by the court. *In re The Vantive Corporation Securities Litigation*, 110 F. Supp. 2d 1209 (N.D. Cal. 2000). The decision has been affirmed by the Ninth Circuit Court of Appeals. *In re The Vantive Corporation Sec. Litig.*, 283 F.3d 1079 (9th Cir. 2002) in the first Ninth Circuit decision involving accounting fraud claims under the Private Securities Litigation Reform Act of 1995

- Zeid v. Kimberley, et al. (Firefox Communications, Inc.). Firefox involved a securities class action filed by Milberg Weiss in the US District Court for the Northern District of California. It resulted in the first favorable defense decision under the Private Securities Litigation Reform Act of 1995 (Zeid v. Kimberley, 930 F.Supp. 431 (N.D. Cal. 1996)) and first dismissal with prejudice in California under the Act. (Zeid v. Kimberley, 973 F. Supp. 910 (N.D. Cal. 1997)). The case was appealed to the Ninth Circuit Court of Appeal, which remanded the case to the district court for further consideration. The district court again dismissed the lawsuit. The trial court decision has been affirmed by the Ninth Circuit Court of Appeals
- In re CIENA Corporation Securities Litigation. CIENA was a securities class action filed by Milberg Weiss in the US District Court for the District of Maryland. CIENA had conducted one of the largest initial public offerings in history. It was subsequently sued by several of its shareholders for securities fraud. The district court granted our motion to dismiss the case. In re CIENA Corporation Securities Litigation, 99 F. Supp. 2d 650 (D. Md. 2000). The plaintiffs did not appeal the decision
- In re JDA Software Group Securities Litigation. JDA was a securities class action filed by Milberg Weiss
  in the US District Court for the District of Arizona. The case alleged claims for securities fraud under
  Section 10(b) of the Securities Exchange Act of 1934 and violations of the Securities Act of 1933. This
  case was dismissed on the first motion to dismiss heard by the court. The plaintiffs did not appeal the
  decision
- pcOrder.com, Inc. Shareholder Litigation. This involved a series of case filed in state and federal court in Austin, Texas that initially attempted to block a tender offer to the shareholders of pcOrder.com, Inc. We were retained by the Special Committee of the board of directors of pcOrder.com, Inc. and successfully overcame the shareholders' attempt to block the tender offer. After the tender offer and merger closed, a second series of lawsuits were filed in the US District Court for the Western District of Texas alleging violations of the Securities Act of 1933 in connection with pcOrder.com, Inc.'s initial and secondary public offerings. The court denied plaintiffs' motion for class certification and found that Milberg Weiss was could not adequately represent the class in Krim v. pcOrder.com, Inc., 210 F.R.D. 581 (W.D. Tex. 2002). The dismissal of this case was affirmed by the Fifth Circuit Court of Appeals in Krim v. pcOrder.com, Inc., 402 F.3d 489 (5th Cir. 2005)
- IPO Laddering Cases. These cases involve alleged improper conduct by various investment banking
  firms in connection initial public offerings during 1999 and 2000. We have been retained by several
  securities issuers and the directors and officers to defend them in these cases in the US District Court for
  the Southern District of New York
- In re Informix Securities Litigation. Informix was a securities class action filed by Milberg Weiss in the US
  District Court for the Northern District of California and a shareholder derivative lawsuit in California state
  court. We represented an individual defendant in all of the cases. This case has been settled without
  payment by our client



- Steckman v. Hart Brewing. Hart Brewing was a securities class action filed in state and federal court in San Diego. It resulted in the first dismissal with prejudice after the enactment of the Private Securities Litigation Reform Act of 1995. The case was dismissed on the initial round of motions. Steckman v. Hart Brewing, Inc., Fed. Sec. L. Rep. (CCH) ¶ 99,420 (S.D. Cal. Dec. 24, 1996). The Ninth Circuit Court of Appeals affirmed the dismissal in Steckman v. Hart Brewing, Inc., 143 F.3d 1293 (9th Cir. 1998)
- Powers v. Proxima Corporation. These cases involved a series of shareholder class actions filed by
  Milberg Weiss in state and federal court in San Diego. Several claims, including all claims asserted
  against some of Proxima's former officers, were dismissed in the first round of motions (Powers v.
  Eichen, Fed. Sec. L. Rep. (CCH) ¶ 99,483 (S.D. Cal. Mar. 13, 1997)) and achieved a stay of discovery
  while motions for reconsideration were pending (Powers v. Eichen, 961 F. Supp. 233 (S.D. Cal. 1997)).
  The cases have settled
- Miller v. NTN Communications, Inc. NTN involved a securities class action filed in federal court in San Diego. We represent NTN and its present and former officers and directors. The district court granted in part and denied in part NTN's motion to dismiss. This case has settled
- Lefkowitz v. NTN Communications, Inc. Lefkowitz involved another securities class action filed in the San Diego federal court in which we represented NTN and its present and former officers and directors. We persuaded the plaintiffs to voluntarily dismiss the case for no consideration soon after it was served
- Miller v. Telios Pharmaceuticals, Inc. We represented the directors and officers of Telios
   Pharmaceuticals in this securities class action filed by Milberg Weiss in the federal court in the Southern
   District of California alleging misrepresentations in a recent preferred stock offering. The case was settled below policy limits and below cost of defense with insurance benefits
- Robbins v. Hometown Buffet. This case involved a securities class action filed in federal court in San
  Diego by the Milberg Weiss firm attacking a public offering. We were selected to represent one of the
  underwriters, Alex. Brown & Sons, Inc. The firm persuaded Milberg Weiss to dismiss the action against
  our client without payment of any kind
- Schneierson v. Aldila, Inc., et al. This securities class action was filed in federal court in San Diego by the Milberg Weiss firm challenging a public offering. We represented one of the underwriters, Alex. Brown & Sons, Inc. We persuaded the Milberg Weiss firm to dismiss the action against our client without payment of any kind
- Benedict v. August Financial. This case was a securities class action filed in federal court in San Diego.
   Investors alleged that there were materially misleading statements made in the prospectus upon which
   they based their decision to invest in a series of real estate limited partnerships. We were selected to
   represent the law firm sued in the case and won the case on summary judgment

Mergers and Acquisition and Corporate Fiduciary Litigation

Borta v. Lucier. This case involved a shareholder derivative suit filed in the San Diego Superior Court
against the board of directors and management of NuVasive, Inc., alleging breach of fiduciary duty
arising from a government investigation and settlement. We challenged the plaintiff's standing to proceed



derivatively on behalf of NuVasive through a demurrer. After two rounds, the court sustained our demurrer without leave to amend and entered judgment in favor of defendants and awarded costs against the plaintiff

- Nonprofit Foundation Derivative Suit. This case involves an alleged shareholder derivative suit against
  the members of the board of directors of a nonprofit public benefit corporation, which is one of the largest
  charitable foundations ever located in San Diego County. We represent the foundation and have
  challenged the plaintiff's standing to proceed derivatively on behalf of the foundation. The case is
  currently pending
- Garfield v. DTS, Inc. This case involved a shareholder class action cased filed in the Ventura County,
   California Superior Court seeking to enjoin the closing of a tender off. The motion for the injunction was contested and, after a hearing, the court denied the Plaintiff's motion. The case was then dismissed
- Lehn v. Multi-Fineline Electronix, Inc. This case involved a shareholder class action case filed in the US
  District Court for the Central District of California alleging claims under Section 14(a) of the Securities
  Exchange Act of 1934, claiming that a proxy statement issued for a proposed merger was materially
  false and misleading. The case was voluntarily dismissed after the claims were mooted
- Alexandros v. KOR Electronics. This case involved a shareholder derivative suit filed on behalf of KOR Electronics filed in the Orange County Superior Court alleging breach of fiduciary duty arising from a recapitalization. After a three week trial, the court found for the defendants on all claims and ordered the plaintiff to pay attorneys' fees and costs to the defendants
- Burt v. Rubio. This litigation involved shareholder class action cases filed in the Delaware Chancery
  Court and the San Diego Superior Court alleging breach of fiduciary duty involving the sale of Rubio's
  Restaurants, Inc. to a private equity fund. The cases were voluntarily dismissed without settlement
- Sherman v. Christie. This case involved a shareholder derivative suit on behalf of SouthWest Water
  Corporation filed in the Los Angeles Superior Court alleging breach of fiduciary duty following the
  Company's restatement of its financial statements. The court sustained the defendants' demurrer on the
  grounds that the plaintiff had failed to adequately allege demand futility. The plaintiff declined to file an
  amended complaint and the case was dismissed
- Hess v. Heckmann. This case involves a shareholder derivative suit filed in the Riverside County
  Superior Court on behalf of Heckmann Corporation arising from the Company's acquisition of a company
  in the People's Republic of China
- Grosset v. Wenaas, et al. This case involved a shareholder derivative suit involving JNI Corporation. The plaintiff sought to recover damages for breach of fiduciary duty and insider trading. The San Diego Superior Court sustained our demurrers with leave to amend, but allowed the case to proceed. The case was dismissed through a special litigation committee's investigation and motion to dismiss. The plaintiff appealed. The Court of Appeal dismissed the appeal because the plaintiff sold his stock in a cash merger of JNI into another company. The California Supreme Court granted review of the decision and later affirmed, holding that standing to bring a derivative suit requires a plaintiff to own stock in the subject company continuously throughout the litigation. Grosset v. Wenaas, 42 Cal. 4th 1100 (2008)



- Stanley v. i2 Technologies, Inc. This case involved an alleged shareholder class action suit filed in Dallas County District Court that sought to enjoin a shareholder meeting of i2 Technologies, Inc. to consider a proposed merger of i2 Technologies. The court denied the shareholders' motion to enjoin the meeting. The shareholders then voluntarily dismissed their case
- Cyber Dyne Liquidating Corporation v. All Optical Networks, Inc. This case involved a shareholder
  derivative suit alleging breach of fiduciary duty relating to a "down-round" financing. After three rounds of
  demurrers arguing that plaintiff lacked standing to proceed because it failed to adequately allege demand
  futility, plaintiff abandoned the case. Thereafter, our clients sued the plaintiff and its counsel for malicious
  prosecution and recovered approximately US\$1 million from plaintiffs' counsel
- Chen v. Net Solve, Incorporated. This case was a class action filed in the Travis County, Texas District
  Court to enjoin the merger of Net Solve, Incorporated into Cisco Systems, Inc. The merger proceeded
  and closed unimpeded by the lawsuit. Plaintiffs then voluntarily dismissed the case without settlement or
  payment
- Aites v. Garden Fresh Restaurant Corp., et al. This case was a class action filed by Milberg Weiss in the San Diego Superior Court and involved an attempt to enjoin the cash merger of Garden Fresh Restaurant Corp. The case was voluntarily dismissed after we filed our demurrer
- Bemanian v. Stern, et al. This case was a class action filed in the San Diego Superior Court and involved
  an attempt to block a meeting of the stockholders of JNI Corporation for the approval a proposed merger.
  The case settled for an additional disclosure and an nominal payment of attorneys' fees to the plaintiff
- Grossett v. Flanagan, et al. This case involved a stockholder derivative suit filed on behalf of JNI
  Corporation in the San Diego Superior Court. This case was dismissed following an investigation by a
  special litigation committee of the board of directors finding that the pursuit of the action was not in the
  best interest of the corporation
- Ulrich v. Raytel Medical Corporation. This case filed in the San Mateo County Superior Court involved a
  class action filed by Milberg Weiss to challenge a going-private merger. After defeating Milberg's attempt
  to enjoin the merger, we defeated the case through a demurrer that was sustained without leave to
  amend. The plaintiff chose not to appeal the dismissal
- Mizel v. Bennett. This case was a shareholder derivative suit involving NTN Communications, Inc. in the San Diego Superior Court. Our demurrer to the plaintiff's complaint was sustained without leave to amend. The plaintiff chose not to appeal
- Scholl v. Applied Digital Access. Applied Digital Access involved a series of lawsuits arising from the
  acquisition of Applied Digital Access filed by Milberg Weiss. After intensive, expedited discovery, we
  defeated Milberg Weiss' request to enjoin the transaction. The case has settled
- In re Chips and Technologies, Inc. Shareholder Litigation. Chips and Technology involves shareholder class actions filed in Delaware and California seeking to enjoin Intel's acquisition of Chips and Technology. These cases were settled with no payment by the company

Stock Option Investigations and Litigation



- Successfully defended JDA Software Group and its officers and directors in a shareholder derivative
  case alleging stock option backdating, which was pending in the Maricopa County, Arizona Superior
  Court. After successive motions to dismiss for failure to plead standing to proceed derivatively on behalf
  of the company, the plaintiff voluntarily dismissed the case
- Successfully defended ArthroCare Corporation and its officers and directors on shareholder derivative
  cases alleging stock option backdating, which were pending in the US District Court for the Western
  District of Texas. After successive motions to dismiss, the plaintiffs voluntarily dismissed the cases
- Conducted an internal investigation of every stock option grant by a software company, which provided sufficient comfort to a Big Four audit firm that the company properly accounted for stock options despite minor discrepancies in record keeping
- Conducted an internal investigation of every stock option grant by a Fortune 100 company, which
  provided sufficient comfort to a Big Four audit firm that the company properly accounted for stock options
  despite minor discrepancies in record keeping
- Represented a Fortune 100 company in a confidential informal inquiry by the SEC into stock option granting practices, which resulted in the Commission closing the matter without further action or investigation
- Counsel to a former officer of an Austin, Texas-based company in a shareholder derivative case alleging stock option backdating pending in the US District Court for the Western District of Texas
- Counsel to a former executive officer of a software company in shareholder derivative cases alleging stock option backdating pending in the US District Court for the Central District of California and the Ventura County, California Superior Court and in connection with a related corporate investigation
- Shadow counsel to a former executive officer of a real estate development company in a shareholder derivative case alleging stock option backdating pending in the US District Court for the Central District of California
- Shadow counsel to a former officer of a Dallas-based retail specialty company in shareholder derivative cases alleging stock option backdating pending in Dallas County state court and US District Court for the Northern District of Texas

### **Consumer Class Action and Complex Business Litigation**

- Gholamshadi v. IOS Capital, LLC. This case involved a class action suit challenging a force placed insurance program relating the lease of business equipment filed in the San Diego Superior Court
- Matloubian v. Home Savings of America. Matloubian was a consumer class action filed in San Diego Superior Court involving lender force placed insurance. The plaintiffs alleged claims under the California Unfair Business Practices Act (Business and Professions Code § 17200) and a variety of common law claims. The case settled on the first day of trial
- Lesser v. IKON Office Solutions, Inc. Lesser involved an alleged consumer class action filed in San Francisco Superior Court involving alleged improper billing practices. The plaintiff alleged claims under



the California Consumers Legal Remedies Act (Civil Code § 1770, et seq.) and the California Unfair Business Practices Act (Business and Professions Code § 17200). This case has settled

- Devoy v. Safeco Insurance Company. Devoy involved an alleged consumer class action filed in San Diego Superior Court involving alleged fraud and misrepresentation in the sale of annuity contracts. The plaintiffs alleged claims under the California Consumers Legal Remedies Act (Civil Code § 1770, et seq.) and the California Unfair Business Practices Act (Business and Professions Code § 17200). This case settled after a favorable trial result
- Adler v. Prism Solutions, Inc. Adler is a securities class action filed by Milberg Weiss in California State
  Court (Santa Clara County) in which we represent Alex. Brown & Sons, Hambrecht & Quist and Cowen
  & Company. The plaintiffs voluntarily dismissed Alex. Brown & Sons, Hambrecht & Quist and Cowen &
  Company from the case
- Durkin v. Shields. Durkin involves a malpractice and breach of fiduciary duty lawsuit arising from the settlement of shareholder class and derivative actions filed by Milberg Weiss involving Imperial Corporation of America. We represent the former New York law firm Shea & Gould and its former partners in litigation California and New York federal courts. The case has been to the Ninth Circuit Court of Appeal on an interlocutory appeal. Durkin v. Shea & Gould, 92 F.3d 1510 (9th Cir. 1996). The New York federal court granted our motion to dismiss in the New York litigation. Durkin v. Shea, 1998 WL 637462 (S.D.N.Y. 1998). The California case has settled

### **PUBLICATIONS**

- Co-author, "<u>Delaware Court of Chancery Awards US\$1.2B, Issues Guidance Re Controlling Shareholders in M&A Deals</u>," *DLA Piper Securities Litigation Alert*, January 3, 2012
- Legal Spotlight Commentary on the Globalization of Securities Enforcement, Credit, April 2009
- "De Lange Arm Van De Amerikaanse Rechter," de Commissaris (Dutch translation of "The Long Arm of the American Law"), October 2006
- Co-author, "Concern Grows Over Exposure to US Lawsuits," Financial Times, May 30, 2005 (with Alexopoulos)
- "Next Stop: The Supreme Court? The Apparent Split in the Circuits Interpreting the Private Securities Litigation Reform Act of 1995," Class Actions & Derivative Suits (ABA), Spring 1999
- "Federal Pre-emption as a Possible Response to a New Challenge: Securities Class Actions in State Court," 34 Cal.W. L. Rev. 493, 1998
- "A New Forum: Securities Fraud Class Actions in State Court, Class Actions & Derivative Suits," ABA,
   July 1997
- "Corporate Records and Reports," Chapter 10 in California Transaction Forms, 1996
- Co-author, "Representing Multiple Parties in Securities Litigation and Arbitration," 819 Securities Arbitration 723 (Practical Law Institute), 1993 (with Weiss)
- "Usury Law in California: A Guide Through the Maze," 20 U.C.Davis L. Rev. 397, 1987 (with Rabin)



### **COURTS AND FORUMS**

- · United States District Court for the Northern District of California
- United States District Court for the Eastern District of California
- United States District Court for the Central District of California
- United States District Court for the Southern District of California
- United States Court of Appeals for the Ninth Circuit
- United States Court of Appeals for the Fifth Circuit
- United States Court of Federal Claims
- Supreme Court of the United States

### **PROFESSIONAL MEMBERSHIPS**

- Disciplinary Committee for the US District Court for the Southern District of California
- Co-Chair Derivative Suits Subcommittee, Securities Litigation Committee, American Bar Association
- American Bar Association Class Action and Derivative Litigation Committee
- Advisory Committee, BNA Class Action Litigation Report

#### Civic and Charitable

- Past President and Board Member, University of California, San Diego Alumni Association
- Former Trustee, University of California, San Diego Foundation
- Former Board Member, San Diego Economic Development Corporation
- Former Chair, Qualcomm Stadium Advisory Board (appointed by San Diego City Council
- Former Chair, Union of Pan Asian Communities
- Former Officer and Board Member, National Asian Pacific American Bar Association
- Former Co-Editor, American Bar Association Class Actions and Derivative Suits Newsletter
- Past President, Asian Business Association of San Diego RECOGNITIONS

The Legal 500 United States has repeatedly recommended Robert for his securities work. Robert also is listed in *The Best Lawyers in America* in the area of derivative litigation, the *Best Lawyers Annual Guide to Commercial Litigation*, and a Super Lawyer.

# EXHIBIT B



# JENNY LLOYD

Ms. Lloyd has a broad civil and business litigation practice, in state and federal courts and arbitration, with particular background in complex business litigation including securities, shareholder and fiduciary disputes, contract and licensing disputes, and business torts.

Ms. Lloyd has represented business of all types, from start-up technology companies to large publicly-traded and international entities. She understands technology, software, and media, and has experience in licensing, trademark, and joint venture disputes. She enjoys learning about her client's business goals and helps efficiently resolve their disputes with competitors, customers, vendors, employees, or shareholders, starting with pre-suit evaluation through trial and appeal.



CONTACT HOME

After starting her career as a federal clerk and at a litigation boutique in

Austin, Ms. Lloyd spent several years at a large international law firm before starting her own practice. She completed her training as a mediator in January of 2016 and is a member of the American Arbitration Association commercial arbitrator panel as of May 2017.

# Representative Matters

- Defended privately-held pharmaceutical company with arbitration dispute with international pharmaceutical holder of
  intellectual property rights over manufacturing agreement.
- Defended majority California owners of Texas limited partnership over dissolution and valuation of partnership interests.
- Represented individual founder of software company in dispute with other founders and new investors over stock ownership and valuation
- Defended individual stock traders and publicly-traded corporations in investigations by Securities and Exchange Commission
  of insider trader allegations.

- Defended individual in Securities and Exchange Commission investigation of violations of broker/dealer provisions of Securities and Exchange Act of 1934.
- Defended issuers of publicly-traded securities in allegations of securities fraud under Securities and Exchange Act of 1934.
- Represented various technology business in seeking emergency injunctive relief related to misuse by former employees of confidential information of employers.
- Defended founders and majority owners in fiduciary claims arising out of merger and acquisitions.

### Admissions

- State Bar of Texas
- United States Court of Appeals for the Fifth Circuit
- United States District Court for the Northern District of Texas
- United States District Court for the Southern District of Texas
- United States District Court for the Eastern District of Texas
- United States District Court for the Western District of Texas

# Prior Experience

- Law Clerk, The Honorable Barefoot Sanders, the United States District Court for the Northern District of Texas
- Associate, George & Donaldson LLP
- Of Counsel, DLA Piper LLP (US)

### Education

- Brown University, Bachelor of Arts with Honors
- University of Texas School of Law, Juris Doctorate with Honors



### Professional

- Member, Commercial Arbitration Panel, American Arbitration Association
- Certified Mediator under University of Texas Center for Dispute Resolution
- Member, Texas Bar College
- Named a "Super Lawyer" by Thompson Reuters in 2015 to 2022 and a "Rising Star" in 2013
- Fellow of the Texas Bar Foundation
- Fellow of the Austin Bar Foundation

## Community and Recognition

- Member, Austin Bar Association
- Board Member, Austin Bar Association Civil Litigation Section
- Member, MAMAs (Mother Attorney Mentoring Association)
- Pro Bono Award, Texas Civil Rights Project



Contact Jenny Lloyd

Phone: (512) 694-5578

Email: jlloyd@millerlloyd.com

### DOWNLOAD JENNY LLOYD'S ELECTRONIC BUSINESS CARD



### Miller Lloyd PC

P.O. Box 302068 Austin, Texas 78703

Tel: 512.694.5578 Fax: 512.532.6288

Email Us

DISCLAIMER: The content of this web site is for general informational purposes only. It is not intended to create an attorney-client relationship and it should not be considered as legal advice.

We look forward to hearing from you. However, we do not represent you until a written representation agreement has been signed by an attorney of the firm. Unsolicited emails may not be considered privileged or confidential. Please do not provide confidential information to us by phone or email until you have written confirmation that we represent you.

This website may be considered attorney advertising under the Texas Rules of Professional Conduct. Unless specifically noted, our attorneys are not certified by the Texas Board of Legal Specialization.

# EXHIBIT C

Date	User	Description	Hours	Billable Rate	Total Billable Cost
2/15/2021 2/16/2021	Robert Brownlie Robert Brownlie	Prepare complaint. Continue to prepare complaint. Begin preparing TRO papers.	7.1 11.2	\$795.00 \$795.00	\$5,644.50
2/16/2021	Koreen Kempton	Participate in various conference calls to organize the case.  Assist with meeting with	0.5	\$275.00	\$137.50
2/16/2021	Gerard Trippitelli	Conduct legal research and analysis  review and provide comments on draft state court complaint; draft declaration of Robert W. Brownlie in Support of Motion for Temporary Restraining Order.	5.7	\$550.00	\$3,135.00
2/17/2021	Robert Brownlie	Participate in various conference calls Continue to prepare TRO papers.	6.3	\$795.00	\$5,008.50
2/17/2021	Koreen Kempton	Prepare and Court file Civil Case Cover Sheet, Summons, Complaint and Exhibits.	4.5	\$275.00	\$1,237.50
2/17/2021	Gerard Trippitelli	Draft federal court complaint for violations of federal and state securities laws, fraud, negligent misrepresentation and conspiracy.	6	\$550.00	\$3,300.00
2/18/2021	Koreen Kempton	Download and distribute court stamped documents; Prepare and file amended Summons; and Monitor court docket for final summons.	2.7	\$275.00	\$742.50
2/18/2021 2/18/2021	Robert Brownlie Gerard Trippitelli	Continue to prepare ex parte application and supporting documents.  Draft federal court complaint for violations of federal and state securities laws, fraud, negligent misrepresentation and civil conspiracy; conduct legal research regarding  review memorandum of points and authorities in support of motion for temporary restraining order.	8.5 5.8	\$795.00 \$550.00	. ,
2/19/2021 2/19/2021	Robert Brownlie Gerard Trippitelli	Prepare First Amended Complaint. Continue to prepare TRO papers. Draft federal court complaint for violations of federal and state securities laws, fraud, negligent misrepresentation and civil conspiracy.	4.8 5.4	\$795.00 \$550.00	. ,
2/19/2021	Koreen Kempton	Prepare and file Amended Complaint and Summons; and Upload case documents into database.	2.8	\$275.00	\$770.00
2/20/2021 2/22/2021	Robert Brownlie Robert Brownlie	Prepare discovery requests. Finalize ex parte applications. Prepare and provide ex parte notice. Exchange correspondence with Attorney Givens. Oversee filing of ex parte papers. Prepare for and participate in participate in various telephone conferences with Revise fraud complaint.	7.5 10.1	\$795.00 \$795.00	. ,
2/22/2021	Gerard Trippitelli	Review and revise federal court complaint for violations of federal and state securities laws, fraud, negligent misrepresentation and civil conspiracy; conduct legal research	2.9	\$550.00	\$1,595.00
2/22/2021	Koreen Kempton	Prepare and File Ex Parte Application for a Temporary Restraining Order and Order to Show Cause re Preliminary Injunction and Supporting documents; Prepare and File Ex Parte Application for Leave to Conduct Limited Expedited Discovery and Supporting documents; Prepare and File Declaration regarding Notice; Communicate with Court Clerk regarding filing; and Prepare Courtesy copy of filed documents for Judge Wilson.	8.5	\$275.00	\$2,337.50
2/23/2021	Robert Brownlie	Monitor hearing in Texas. Prepare for and participate in conference call  Continue to prepare fraud complaint.	4.9	\$795.00	\$3,895.50
2/23/2021	Gerard Trippitelli	Review and revise federal court complaint for violations of federal and state securities laws, fraud, negligent misrepresentation and civil conspiracy.	2.3	\$550.00	\$1,265.00
2/23/2021	Koreen Kempton	Prepare Ex Parte Hearing Binder documents and Send to Vendor to deliver courtesy copy to Judge Wilson; and Prepare and send electronic package of same documents to Attorneys Robert Brownlie and Drew Larson.	1.7	\$275.00	\$467.50
2/24/2021 2/24/2021	Drew Larson Robert Brownlie	Conduct search for surety bond companies; contact same re quotes.  Prepare for and argue application for TRO. Participate in various conference calls	2.7 6.4	\$495.00 \$795.00	
2/24/2021	Gerard Trippitelli	Review and revise federal court complaint; conduct legal research regarding	2	\$550.00	\$1,100.00
2/24/2021	Koreen Kempton	Prepare Complaint, Summons form, and Civil Cover sheet for new Federal filing; Reveiw case initiating document rules; and Send electronic correspondence to Nationwide legal regarding personal service of Superior Court documents.	7.9	\$275.00	\$2,172.50
2/25/2021	Drew Larson	Communicate in firm re preparation of application for injunctive bond.	1	\$495.00	\$495.00

2/25/2021	Robert Brownlie	Review and revise federal complaint. Telephone conferences with  Telephone conference with property.  Telephone conference with property.  Telephone conference with property.	7.6	\$795.00	\$6,042.00
2/25/2021	Koreen Kempton	communicate with repare and send documents to Nationwide for personal service; Fill out Court bond application and send for Attorney review; Prepare Court's electronic initiating case information; Communicate with court regarding filing procedures; and Prepare and file Complaint and Civil Cover sheet for new Federal case.	9.7	\$275.00	\$2,667.50
2/26/2021 2/26/2021	Robert Brownlie Koreen Kempton	Prepare federal TRO brief. Participate in Finalize Court's Bond application; Communicate  Meet with Research Prepare and file Summons with Federal court; Communicate with Bond officer regarding Temporary Restraining Order Bond and make payment for same.	6.8 5.9	\$795.00 \$275.00	\$5,406.00 \$1,622.50
3/1/2021 3/1/2021	Robert Brownlie Koreen Kempton	Continue to prepare brief in support of federal TRO.  Update personal service tracking chart; Load court filed documents in document management database; Prepare and file Notice of Interested Parties in District Court; Communicate with Court clerk regarding filing; Prepare	8.3 5	\$795.00 \$275.00	\$6,598.50 \$1,375.00
3/2/2021	Drew Larson	Revise application for Temporary Restraining Order; communicate in firm re same; review	4	\$495.00	\$1,980.00
3/2/2021	Robert Brownlie	Continue to prepare application for TRO in the federal case. Prepare for and participate in	10.6	\$795.00	\$8,427.00
3/2/2021	Gerard Trippitelli	Review and revise brief in support of ex parte motion for temporary restraining order in federal action.	0.6	\$550.00	\$330.00
3/2/2021	Koreen Kempton	Prepare Temporary Restraining Order; Discovery documents and Ex Parte documents and send to Attorney Drew Larson for review; and Prepare and File Summons.	3.6	\$275.00	\$990.00
3/3/2021	Drew Larson	Prepare Notice of Posting of Temporary Restraining Order Bond; file District Court Ex Parte Application for Temporary Restraining Order; communicate in firm re same.	2.2	\$495.00	\$1,089.00
3/3/2021 3/3/2021	Robert Brownlie Gerard Trippitelli	Continue to prepare federal TRO.  Review and revise proposed order in support of ex parte motion for	8.7 1	\$795.00 \$550.00	\$6,916.50 \$550.00
3/3/2021	Koreen Kempton	temporary restraining order in federal action.  Prepare electronic correspondence to Nationwide with instructions to personally serve all Registered Agents for District Court Case;  Communicate with One Legal regarding Proof of Service of Summons;  Prepare and file Proof of Service of Summons to all Defendants; and Prepare and file Notice of Posting Temporary Restraining Order Bond;  Prepare and file Supplemental Memorandum of Points and Authorities in Support of Order to Show cause re Preliminary Injunction.	8.1	\$275.00	\$2,227.50
3/4/2021	Robert Brownlie	Respond to Follow up on filings in the state court and federal court injunction proceeds. Exchange correspondence with Attorney Givens. Telephone conferences with Prepare materials for Draft.	6.3	\$795.00	\$5,008.50
3/4/2021	Koreen Kempton	Prepare and file Notice of Posting Temporary Restraining Order Bond with Supporting documents; Prepare District Court Ex Parte Filing; Prepare electronic correspondence ; Update Download and update court stamped documents in management database; Prepare mailing of all service documents; and Email serve TRO documents on Defendants.	8.7	\$275.00	\$2,392.50
3/5/2021	Robert Brownlie	Prepare . Respond to . Telephone conferences .	7.1	\$795.00	\$5,644.50
3/5/2021	Koreen Kempton	Prepare and file Notice of Lodging Proposed Order; Prepare electronic correspondence to Court Clerk regarding Proposed Order Granting Ex Parte Application of Asset Freeze; and update	2.6	\$275.00	\$715.00
3/8/2021	Robert Brownlie	Prepare for and participate in call Finalize  Exchange various email messages with Attorney  Givens. Various telephone conferences Respond to	2.3	\$795.00	\$1,828.50
3/8/2021	Koreen Kempton	Download court stamped filings and update Worldox document management database; Communicate with Court Clerk regarding Proposed Order; and	1.8	\$275.00	\$495.00

3/9/2021	Robert Brownlie	Telephone conference Prepare email to . Participate in Review Nelson Partners' opposition to the federal TRO motion. Prepare reply. Meet with	6.8	\$795.00	\$5,406.00
3/9/2021	Koreen Kempton	Update ; Send calendar invites to Attorneys for Status Conference; and Download court stamped filings and update Worldox document management database	3.1	\$275.00	\$852.50
3/10/2021	Robert Brownlie	Prepare reply to Nelson Defendants' opposition to the federal motion for an asset freeze. Prepare supplemental declaration regarding compliance with Local Rules for ex parte motions. Review Axonic Defendants' opposition. Prepare arguments replying to Axonic Defendants' opposition. Revise the reply to the Nelson Defendants' opposition.	11.6	\$795.00	\$9,222.00
3/10/2021	Koreen Kempton	Prepare, file and serve Federal case Statement of Non-Opposition to Request for Briefing Schedule and Brownlie Declaration; Update ; and Download Defendants' filings and update Worldox document management database.	2.3	\$275.00	\$632.50
3/11/2021	Robert Brownlie	Revise and finalize reply in support of the motion for an asset freeze.  Review and respond to Provide Telephone conferences	7.2	\$795.00	\$5,724.00
3/11/2021	Koreen Kempton	Prepare exhibits for Federal filing papers; and Prepare, file and serve Reply Memorandum of Points and Authorities in Support of Plaintiff's Ex Parte Application and Supporting documents;	2.6	\$275.00	\$715.00
3/12/2021	Robert Brownlie	Telephone conferences  . Meet and confer with Nelson Partners' counsel regarding a	2.1	\$795.00	\$1,669.50
3/12/2021	Koreen Kempton	potential motion to compel arbitration. Update	1.4	\$275.00	\$385.00
3/15/2021	Robert Brownlie	•	1.4	\$795.00 \$795.00	\$954.00
		Telephone conferences .			
3/16/2021	Robert Brownlie	Attend to Review oppositions. Prepare	7.7	\$795.00	\$6,121.50
3/16/2021	Koreen Kempton	opposition to Defendants' motion for an order shortening time.  Download Defendants' filings from Nationwide; Communicate with  Nationwide regarding issues with downloading case materials; Same  Court filings to document management database; Update	4.8	\$275.00	\$1,320.00
3/17/2021	Robert Brownlie	; and Pull all State and Federal stamped documents for ShareFile folder.  Attend to ex parte opposition. Analyze Prepare reply in support of order to show cause. Telephone conferences with Exchange email	7.4	\$795.00	\$5,883.00
3/17/2021	Koreen Kempton	Prepare, file and serve Memorandum of Points and Authorities in Support of Opposition; Prepare electronic correspondence to Martha Ortiz regarding e-service agreement; and Update	5.4	\$275.00	\$1,485.00
3/18/2021	Robert Brownlie	Continue to prepare objections to defendants' oppositions. Continue to prepare reply. Prepare declarations. Telephone conferences  Review order denying federal TRO. Analyze  Prepare Review and respond to	10.4	\$795.00	\$8,268.00
3/18/2021	Gerard Trippitelli	Review and analyze conduct legal research regarding	3.4	\$550.00	\$1,870.00
3/18/2021	Koreen Kempton	Prepare and edit Declarations for filing; Prepare Pleading template for Attorney Aimee Parmley; and Update	6	\$275.00	\$1,650.00
3/18/2021	Aimee Parmley	Research	0.9	\$350.00	\$315.00
3/19/2021	Robert Brownlie	Telephone conferences . Prepare Continue to prepare reply in support of preliminary injunction motion. Respond	5.5	\$795.00	\$4,372.50
3/19/2021	Gerard Trippitelli	Conduct legal research and analysis regarding	0.7	\$550.00	\$385.00
3/19/2021	Koreen Kempton	Gather Investor Declarations for filing; Prepare electronic correspondence and Update	2.6	\$275.00	\$715.00
2/10/2024	Aimoo Dormies	Passarch and draft	2.4	¢250.00	<b>6725.00</b>
3/19/2021	Aimee Parmley	Research and draft	2.1	\$350.00	\$735.00 \$1,005.00
3/20/2021 3/21/2021	Aimee Parmley Robert Brownlie	Research and draft Continue to prepare reply in support of preliminary injunction. Finalize objections and motion to strike. Finalize exhibits and declarations.  Exchange correspondence.	5.7 8.6	\$350.00 \$795.00	\$1,995.00 \$6,837.00
3/21/2021	Aimee Parmley	to motion to quash.  Research and draft	4.4	\$350.00	\$1,540.00

3/22/2021	Robert Brownlie	Finalize and file reply in support of preliminary injunction. Review and revise opposition to motion to quash. Prepare evidence and declaration	4.9	\$795.00	\$3,895.50
3/22/2021	Koreen Kempton	supporting the opposition.  Assist with preparation, file and serve Motion to Strike Portions of Defendants' Opposition; Reply Memorandum of Points and Authorities;	3.5	\$275.00	\$962.50
3/22/2021	Koreen Kempton	and multiple Declarations.  Pull secretary of State documents for Gateway; Prepare electronic correspondence to all Parties regarding agreement to accept e-service of all documents; update Proof of Service with replies; and Update	2.2	\$275.00	\$605.00
3/22/2021	Aimee Parmley	Revisions to Memorandum of Points and Authorities.	3	\$350.00	\$1,050.00
3/23/2021 3/23/2021	Robert Brownlie Koreen Kempton	Telephone conferences  Assist in preparation, file and serve Plaintiffs' Memorandum of Points and Authorities in Opposition to Defendants Motion to Quash and Supporting documents.	0.4 2.3	\$795.00 \$275.00	\$318.00 \$632.50
3/23/2021 3/24/2021	Aimee Parmley Robert Brownlie	Drafted Proposed Order. Prepare case management conference statement. Telephone conferences  Exchange email  Telephone conference with	0.6 4.8	\$350.00 \$795.00	\$210.00 \$3,816.00
3/24/2021	Koreen Kempton	Update court stamped filings in Collin's State and Federal cases and load to document management database; Update  Prepare, file and serve Case  Management Statement; and Prepare electronic correspondence to all Parties regarding agreement to accept services by email.	5.8	\$275.00	\$1,595.00
3/25/2021	Robert Brownlie	Telephone with Prepare updates. Review documents	1.4	\$795.00	\$1,113.00
3/25/2021	Koreen Kempton	served by Axonic. Prepare Update ; Schedule Court Reporter for April 1st hearing date; Prepare electronic correspondence Defendants' court filings and load to Worldox database for Attorney review; and Update	6.8	\$275.00	\$1,870.00
3/26/2021	Robert Brownlie	Further review Axonic's filings. Telephone conference Prepare update. Prepare chart illustrating the consideration received from the sale. Telephone conference	4.6	\$795.00	\$3,657.00
3/28/2021 3/29/2021	Robert Brownlie Robert Brownlie	Draft motion for reconsideration.  Prepare sur-reply and ex parte application for leave to file sur-reply.  Review transcript from Texas case. Exchange correspondence  Continue to prepare motion for reconsideration.	3.2 6.8	\$795.00 \$795.00	\$2,544.00 \$5,406.00
3/29/2021	Koreen Kempton	Update ; scan mail to save images in database; Prepare, file and serve Ex Parte Application and supporting documents; Download Court Stamped documents and save in management database; and Save documents	5.6	\$275.00	\$1,540.00
3/30/2021	Robert Brownlie	Revise motion for reconsideration. Prepare supporting documents for motion for reconsideration. Exchange messages with Defense counsel.  Telephone conference with Telephone conferences Telephone con	4	\$795.00	\$3,180.00
3/30/2021	Koreen Kempton	Update scan mail to save images in database; Prepare, file and serve Federal Ex Parte Application and supporting documents; and Schedule Court Call for hearing.	2.8	\$275.00	\$770.00
3/30/2021 3/31/2021	Ryan Hansen Robert Brownlie	Review and analyze Review additional filings by defendants. Telephone conferences . Prepare second amended derivative complaint.	1.1 4.9	\$695.00 \$795.00	\$764.50 \$3,895.50
3/31/2021 4/1/2021	Koreen Kempton Robert Brownlie	Update Prepare for hearing. Continue to prepare second amended complaint. Telephone conferences Research Prepare	0.4 9	\$275.00 \$795.00	\$110.00 \$7,155.00
4/1/2021	Koreen Kempton	deposition notice. Communicate with	8.0	\$275.00	\$220.00
4/1/2021	Gerard Trippitelli	; and Prepare Deposition subpoena.  Draft early class action notice to class members; draft certification of conduct legal research regarding	5.7	\$550.00	\$3,135.00
4/2/2021	Robert Brownlie	Analyze Identify research Prepare	1.1	\$795.00	\$874.50
4/2/2021	Koreen Kempton	Prepare Prepare Subpoena for Collins case; Scan	2.3	\$275.00	\$632.50
4/2/2021	Gerard Trippitelli	; and Update	5	\$550.00	\$2,750.00

4/5/2021 4/5/2021	Robert Brownlie Koreen Kempton	Prepare Delaware complaint. Telephone conferences Coordinate personal service of Christoropher Green deposition subpoena; Scan ; and Prepare	5.9 1.7	\$795.00 \$275.00	\$4,690.50 \$467.50
4/6/2021	Robert Brownlie	Continue to prepare Delaware complaint. Telephone conference	1.9	\$795.00	\$1,510.50
4/6/2021	Koreen Kempton	Telephone conference with  Scan Update ; and  Prepare	1.9	\$275.00	\$522.50
4/7/2021	Robert Brownlie	Continue to prepare Delaware papers. Telephone conferences	1.8	\$795.00	\$1,431.00
4/7/2021	Koreen Kempton	Prepare Prepar	3.1	\$275.00	\$852.50
4/0/0004	Dahart Drawalia	Scan ; and Update	6.2	¢705.00	ΦE 000 E0
4/8/2021	Robert Brownlie	Prepare for and participate in Continue to prepare Delaware papers.  Propage and apply accurs Sharefile felder access to layouters. Propage	6.3 4.7	\$795.00	\$5,008.50
4/8/2021	Koreen Kempton	Prepare and send secure Sharefile folder access to Investors; Prepare  Scan ; and Update	4.7	\$275.00	\$1,292.50
4/9/2021	Robert Brownlie	Prepare Telephone conference with Attorney Kaplan. Telephone conference Telephone conference Revise Delaware complaint.	6.7	\$795.00	\$5,326.50
4/9/2021	Koreen Kempton	Locate and provide case materials  Call regarding deposition date; Locate adn provide April 1st Hearing Minute Order; Prepare and send Prepare	5.3	\$275.00	\$1,457.50
		Scan and Update .			
4/9/2021	Gerard Trippitelli	Review and analyze ; identify arguments for potential reply brief; strategize draft jurisdictional discovery to be served on	5.2	\$550.00	\$2,860.00
4/10/2021	Gerard Trippitelli	defendants in California state action.  Draft jurisdictional discovery to be served on defendants in California state action.	4.6	\$550.00	\$2,530.00
4/11/2021	Robert Brownlie	Continue to prepare Delaware TRO. Telephone conference  Review and comment on revised Delaware complaint.	4.4	\$795.00	\$3,498.00
4/11/2021	Gerard Trippitelli	Draft jurisdictional discovery to be served on defendants in state action; research	5.6	\$550.00	\$3,080.00
4/12/2021	Robert Brownlie	Revise Delaware complaint. Review and revise jurisdictional discovery.	1.6	\$795.00	\$1,272.00
4/12/2021 4/12/2021	Koreen Kempton Gerard Trippitelli	Prepare  Draft jurisdiction discovery to be served on defendants in California state	0.1 2.9	\$275.00 \$550.00	\$27.50 \$1,595.00
4/13/2021	Robert Brownlie	action and Axonic Capital LLC. Revise Delaware papers. Prepare	2	\$795.00	\$1,590.00
4/13/2021	Koreen Kempton	Update ; Reschedule Greenwell deposition with Aptus Court Reporting Company; Communicate with ; Prepare and serve Notice of Deposition on 3 Defendants; Assist with preparation of New York subpoena; and Prepare	6.1	\$275.00	\$1,677.50
4/13/2021	Gerard Trippitelli	and serve Jurisdictional Discovery on Opposing Counsel. Finalize jurisdictional discovery to be served on defendants in California	4.3	\$550.00	\$2,365.00
4/14/2021	Koreen Kempton	state action and Axonic LLC. Update Prepare electronic correspondence	6.3	\$275.00	\$1,732.50
4/14/2021	Koreen Kempton	regarding Zoom Greenwell deposition with Aptus Court Reporting Company; Prepare, file and serve Notice of Ruling; Pull New York and California subpoena forms as requested by Attorney Jerry Trippitelli; Prepare electronic correspondence to Attorney Robert Brownlie and Matt Kaplan regarding Response to Answer and Stipulation; and Communicate with Matt Kaplan regarding Filing of same.	0.3	φ213.00	φ1,732.30
4/14/2021	Robert Brownlie	Review and revise Delaware complaint and motion for TRO. Telephone conference with	2.3	\$795.00	\$1,828.50
4/15/2021	Koreen Kempton	Prepare New York and California subpoenas as requested by Attorney Jerry Trippitelli; and Update	0.6	\$275.00	\$165.00
4/16/2021	Robert Brownlie	Prepare	1.7	\$795.00	\$1,351.50

4/16/2021	Koreen Kempton	Prepare New York and California subpoenas as requested by Attorney Jerry Trippitelli; Update  Send calendar	4.5	\$275.00	\$1,237.50
		invitations for upcoming depositions to Attorneys, Edit Greenwell Deposition Notice; and Prepare and send electronic correspondence to Loeb regarding deposition dates.			
4/16/2021	Robert Brownlie	Review and revise Delaware complaint, motion for a TRO and motion for	1.2	\$795.00	\$954.00
4/19/2021	Robert Brownlie	expedited proceedings.  Telephone conferences  Telephone conference  Review filings in Texas.  Review filings in Delaware. Research request for production for Delaware.	6.4	\$795.00	\$5,088.00
4/19/2021	Koreen Kempton	Update Prepare and send electronic correspondence and send electronic correspondence regarding Greenwell Deposition.	1.4	\$275.00	\$385.00
4/20/2021	Robert Brownlie	Telephone conference with  Telephone conference Review and revise discovery requests. Respond to communications	1.5	\$795.00	\$1,192.50
4/20/2021	Koreen Kempton	Update Prepare and Prepare electronic correspondence to Aptus Court Reporting	3	\$275.00	\$825.00
4/21/2021	Robert Brownlie	regarding upcoming deposition dates.  Telephone conference Review order from the Chancery  Court. Review order from the District Court. Continue to prepare second amended complaint in Collins.	7	\$795.00	\$5,565.00
4/21/2021	Koreen Kempton	Prepare and serve Notice of Deposition for Greenwell; Prepare Amended Notice of Deposition for Skyloft; Update  ; Prepare  Calendar deposition dates for Attorneys; Prepare electronic correspondence to Aptus Court Reporting regarding upcoming deposition dates; Set up  ; and Prepare proof of service and serve Standing Order	4.9	\$275.00	\$1,347.50
4/21/2021	Ryan Hansen	on Opposing Counsel. Prepare for deposition of C. Greenwell.	1.2	\$695.00	\$834.00
4/22/2021	Robert Brownlie	Attend to Delaware action. Continue to prepare amended complaint.  Telephone conferences  Telephone conferences	5.1	\$795.00	\$4,054.50
4/22/2021	Koreen Kempton	Update Prepare and Prepare	1.7	\$275.00	\$467.50
4/23/2021	Robert Brownlie	Continue to prepare amended complaint. Telephone conference  Telephone conference with Telephone conference	3.1	\$795.00	\$2,464.50
4/23/2021	Koreen Kempton	Prepare New York Subpoena and send to New York Process server to get Court Clerk signature; Upload ; Update Prepare Prepare ; Attend conference call	4.9	\$275.00	\$1,347.50
4/26/2021	Robert Brownlie	Review and revise reply brief for Delaware TRO. Review and revise declaration for Delaware TRO. Exchange correspondence with Telephone conference Telephone  Continue to prepare second amended derivative complaint in Collins.	4.8	\$795.00	\$3,816.00
4/26/2021	Koreen Kempton	Prepare electronic correspondence to New York Process server regarding Axonic subpoena; Communicate with  Prepare Update Prepare and Prepare	3.3	\$275.00	\$907.50
4/27/2021	Robert Brownlie	Review and revise reply in support of Delaware TRO. Continue to prepare second amended complaint. Telephone conferences	4.6	\$795.00	\$3,657.00
4/27/2021	Koreen Kempton	Update Prepare Prepare Prepare and and Serve Axonic subpoena on Opposing Counsel.	3.7	\$275.00	\$1,017.50

4/28/2021	Robert Brownlie	Review opposition to Delaware TRO. Prepare for hearing on TRO. Continue to prepare amended complaint. Attend to deposition scheduling.	5.3	\$795.00	\$4,213.50
4/28/2021	Gerard Trippitelli	Conduct legal research and analysis  conduct legal research and analysis regarding	3.2	\$550.00	\$1,760.00
4/28/2021	Koreen Kempton	Prepare multiple electronic correspondence to Aptus court reporters regarding upcoming depositions; Prepare electronic correspondence to Opposing Counsel regarding deposition login information; Prepare electronic correspodnence to Attorney Matt Kapton regarding subpoenas; Update  Prepare  and Prepare	2.3	\$275.00	\$632.50
4/29/2021	Robert Brownlie	Prepare for and participate in Delaware TRO hearing. Prepare  Telephone conferences  Continue to prepare amended complaint.	6.4	\$795.00	\$5,088.00
4/29/2021	Koreen Kempton	Prepare multiple electronic correspondence to Aptus court reporters regarding upcoming depositions; Update; Prepare and Prepare	3.1	\$275.00	\$852.50
4/30/2021	Robert Brownlie	Prepare for depositions. Continue to prepare second amended	4.3	\$795.00	\$3,418.50
4/30/2021	Koreen Kempton	complaint.  Prepare and serve Deposition Notices to Degiacinto and Doueck;  Prepare electronic correspondence to Opposing Counsel regarding upcoming depositions; Prepare multiple electronic correspondence to Aptus court reporters regarding upcoming depositions; Update  Prepare  and Prepare	3.7	\$275.00	\$1,017.50
4/30/2021	Ryan Hansen	Prepare for deposition of C. Greenwell.	1.4	\$695.00	\$973.00
5/1/2021 5/2/2021	Ryan Hansen Ryan Hansen	Review documents in preparation for Greenwell deposition.  Prepare for Greenwell deposition; analyze and revise key information outline.	1.8 3.2	\$695.00 \$695.00	\$1,251.00 \$2,224.00
5/3/2021 5/3/2021	Robert Brownlie Gerard Trippitelli	Update second amended complaint. Prepare for depositions.  Draft stipulation to file second amended complaint and proposed order in California state court action; review and revise second amended complaint in California state court action.	7.2 1.8	\$795.00 \$550.00	\$5,724.00 \$990.00
5/3/2021	Koreen Kempton	Communicate with Court Reporting Agency regarding deposition exhibits; Locate and provide Complaint as requested by Attorney Ryan Hansen in preparation of upcoming deposition; Prepare  ; Review  Prepare  and Prepare	2.9	\$275.00	\$797.50
5/3/2021	Ryan Hansen	Prepare for and take Greenwell deposition; follow up communications with opposing counsel regarding deponent's notes and privilege issue; strategize	5.2	\$695.00	\$3,614.00
5/4/2021	Robert Brownlie	Prepare for and take Axonic PMK deposition. Prepare for TCG PMK deposition.	6.7	\$795.00	\$5,326.50
5/4/2021	Gerard Trippitelli	Draft notice of motion and motion for leave to file second amended derivative complaint; draft memorandum of points and authorities in support of motion for leave to file second amended derivative complaint; conduct legal research regarding	3.2	\$550.00	\$1,760.00
5/4/2021	Koreen Kempton	Prepare exhibits for upcoming depositions; Locate and provide case docket as requested by Attorney Jerry Trippitelli; Prepare  Review of Prepare and Prepare	3.7	\$275.00	\$1,017.50
5/4/2021	Ryan Hansen	Review deposition transcript from Greenwell deposition; strategize	1.3	\$695.00	\$903.50
5/4/2021	Ryan Hansen	Strategize	0.8	\$695.00	\$556.00

				8	10
5/5/2021	Robert Brownlie	Prepare for and take the deposition of TCG. Finalize second amended complaint. Revise stipulation and proposed order. Prepare correspondence to defendants regarding stipulation.	4	\$795.00	\$3,180.00
5/5/2021	Koreen Kempton	Prepare ; and Review	0.2	\$275.00	\$55.00
5/6/2021	Koreen Kempton	Review Prepare and Prepare	2	\$275.00	\$550.00
5/7/2021	Koreen Kempton	Prepare  Review Prepare  and Prepare	4.9	\$275.00	\$1,347.50
5/8/2021 5/9/2021	Robert Brownlie Gerard Trippitelli	Revise motion for leave to amend and supporting documents.  Draft appendix to motion for leave to file second amended complaint in	2.4 2.2	\$795.00 \$550.00	\$1,908.00 \$1,210.00
5/10/2021	Robert Brownlie	California state court action. Finalize motion for leave to amend. Respond to latest letter from Clyde	1.1	\$795.00	\$874.50
5/10/2021	Gerard Trippitelli	Snow.  Draft appendix to motion for leave to file second amended complaint in California state court action.	1.9	\$550.00	\$1,045.00
5/10/2021	Koreen Kempton	Prepare, file and serve Memorandum of Points and Authorities in Support of Motion for leave to file Second Amended Complaint and all supporting documents; Review  Prepare ; and Prepare	5.5	\$275.00	\$1,512.50
5/11/2021	Robert Brownlie	Prepare requests for production to Nelson Partners and Patrick Nelson. Prepare special interrogatories to Nelson Partners and Patrick Nelson.	4.3	\$795.00	\$3,418.50
5/11/2021	Koreen Kempton	Prepare Prepare and serve Discovery on Opposing Counsel; Prepare and serve Notice of Ruling; Review Prepare and Prepare	2.4	\$275.00	\$660.00
5/12/2021 5/12/2021	Robert Brownlie Robert Brownlie	Telephone conference with Mr. Woodruff. Telephone conference with Mr. Woodruff. Telephone conference Review Nelson Partners' proposed motion to dismiss.	0.5 1.3	\$795.00 \$795.00	\$397.50 \$1,033.50
5/12/2021	Gerard Trippitelli	Research Review and analyze ; conduct legal research regarding	4.4	\$550.00	\$2,420.00
5/12/2021	Koreen Kempton	Prepare and serve Discovery on Opposing Counsel; Prepare and serve Notice of Ruling; Review Prepare and Prepare	5.5	\$275.00	\$1,512.50
5/13/2021 5/13/2021	Robert Brownlie Gerard Trippitelli	Analyze Conduct legal research and analysis regarding	1.3 3.7	\$795.00 \$550.00	\$1,033.50 \$2,035.00
5/13/2021	Koreen Kempton	Download and distribute Delaware case filings; Review Prepare and Prepare	4.9	\$275.00	\$1,347.50
5/14/2021	Robert Brownlie	Prepare . Telephone conferences . Research . Analyze	3.2	\$795.00	\$2,544.00
5/14/2021	Gerard Trippitelli	Conduct legal research and analysis regarding	2.9	\$550.00	\$1,595.00
5/14/2021	Koreen Kempton	Prepare Review ; Prepare and Prepare	4.1	\$275.00	\$1,127.50

5/16/2021	Gerard Trippitelli	Draft and revise outline of arguments for supplemental brief in opposition to motion to quash in California state action.	2.2	\$550.00	\$1,210.00
5/17/2021	Robert Brownlie	Prepare Mr. DeGiacinto's deposition.	1.2	\$795.00	\$954.00
5/17/2021	Robert Brownlie	Prepare Mr. DeGiacinto's deposition.	1.2	\$795.00	\$954.00
5/17/2021	Gerard Trippitelli	Draft supplemental brief in opposition to motion to quash in California	4.3	\$550.00	\$2,365.00
		state court action.			
5/17/2021	Koreen Kempton	Review	3.9	\$275.00	\$1,072.50
		and Prepare			
5/18/2021	Robert Brownlie	Preliminary review of documents produced by Axonic. Prepare for and	5.4	\$795.00	\$4,293.00
		take the deposition of Clayton DeGiancinto. Telephone conferences			
		. Prepare Review arguments in			
E/40/0004	0 17: ""	opposition to motion quash.	4.0	<b>#</b> 550.00	40.500.00
5/18/2021	Gerard Trippitelli	Draft supplemental brief in opposition to motion to quash in California state court action.	4.6	\$550.00	\$2,530.00
5/18/2021	Koreen Kempton	Download Loeb & Loeb document production; Update document	1.1	\$275.00	\$302.50
3/10/2021	Norcen Nempton	production tracker and Send document production to CasePoint vendor	1.1	Ψ213.00	Ψ302.30
		to load in review database.			
5/19/2021	Gerard Trippitelli	Draft supplemental brief in opposition to motion to quash in California	4.8	\$550.00	\$2,640.00
	- ''	state court action.		•	, ,
5/19/2021	Koreen Kempton	Review	2.8	\$275.00	\$770.00
		and Prepare			
5/20/2021	Robert Brownlie	Identify documents for supplement opposition to motion to quash.	1.7	\$795.00	\$1,351.50
F/00/0004	0 17: "	Telephone conference	4.5	<b>#</b> 550.00	00.475.00
5/20/2021	Gerard Trippitelli	Draft supplemental brief in opposition to motion to quash in California	4.5	\$550.00	\$2,475.00
E/20/2021	Varaan Vamntan	state court action.	1 1	¢275.00	<b>ቀ</b> 20E 00
5/20/2021	Koreen Kempton	Review ACO document production; and Locate and provide case materials as requested by Attorney Jerry Trippitelli.	1.4	\$275.00	\$385.00
5/21/2021	Koreen Kempton	Download depositions and load into Case Notebook for Attorney Review;	5.3	\$275.00	\$1,457.50
0,2.,202.	. to. compton	Communicate	0.0	ΨΞ. σ.σσ	ψ.,.σσσ
		Prepare			
		and Prepare			
5/22/2021	Robert Brownlie	Prepare Exchange correspondence	1.3	\$795.00	\$1,033.50
F/00/0004	O I Toin - :4 - II:	Design and the second best of the second blanks and the second by California	4 7	<b>#</b> FF0.00	<b>#</b> 005.00
5/23/2021	Gerard Trippitelli	Revise supplemental brief in opposition to motion to quash in California state court action.	1.7	\$550.00	\$935.00
5/24/2021	Robert Brownlie	Review and revise supplemental opposition to motion to quash. Prepare	4	\$795.00	\$3,180.00
3/24/2021	Robert Brownie	opposition to motion to dismiss.	7	Ψ133.00	ψ5, 100.00
5/24/2021	Gerard Trippitelli	Revise supplemental brief in opposition to motion to quash in California	2.4	\$550.00	\$1,320.00
		state court action; draft Robert Brownlie Declaration in support of		********	* 1,0=2110
		supplemental opposition to motion to quash.			
5/24/2021	Koreen Kempton	Download depositions and load into Case Notebook for Attorney Review;	2.7	\$275.00	\$742.50
		Prepare electronic correspondence			
		; Communicate with			
= 10= 1000 1	5	Update		4=0= 00	44 = 24 = 2
5/25/2021	Robert Brownlie	Continue to prepare supplemental opposition to motion to quash.	5.7	\$795.00	\$4,531.50
		Prepare opposition to motion to dismiss. Participate in conference call			
5/25/2021	Koreen Kempton	Prepare exhibits for Collin's Filing; Locate and provide DiGiacinto	3.8	\$275.00	\$1,045.00
3/23/2021	Norcen Nempton	electronic correspondence as requested by Attorney Jerry Trippitelli for	0.0	Ψ213.00	Ψ1,043.00
		use with Supplemental Opposition to Motion to Quash.			
5/26/2021	Koreen Kempton	Prepare Supplemental Memorandum of Points and Authorities in	2.6	\$275.00	\$715.00
	•	Opposition to Defendants' Motion to Quash and supporting documents			
		with exhibits and send to Attorneys for review.			
5/27/2021	Koreen Kempton	Finalize, file and serve Supplemental Memorandum of Points and	0.6	\$275.00	\$165.00
		Authorities in Opposition to Defendants' Motion to Quash.			
5/28/2021	Gerard Trippitelli	Draft argument that	3.2	\$550.00	\$1,760.00
		conduct legal			
6/1/2021	Robert Brownlie	research  Continue to prepare opposition to motion to dismiss in Parziale. Review	5.3	\$795.00	\$4,213.50
U1 112UZ I	RODGIT DIOWING	TCG's document production.	0.0	ψ1 33.00	ψ-τ,∠ 13.30
6/1/2021	Koreen Kempton	Assist with Filing and serving Notice of Ruling; Download document	4.5	\$275.00	\$1,237.50
	•	production and distribute to team; Update document production tracker		-	
		with same; Prepare electronic correspondence			
		and Prepare			

6/1/2021	Gerard Trippitelli	Conduct legal research regarding	2.2	\$550.00	\$1,210.00
6/2/2021 6/2/2021	Robert Brownlie Koreen Kempton	Prepare supplemental brief in support of preliminary injunction. Prepare, file and serve bookmarked Declaration of Robert Brownlie in Support of Supplemental Memorandum of Points and Authorities in Opposition to Specially Appearing Defendants' Motion to Quash with the exhibits.	6.4 1.2	\$795.00 \$275.00	\$5,088.00 \$330.00
6/3/2021	Robert Brownlie	Continue to prepare supplemental reply in support of preliminary injunction. Prepare declaration and supporting exhibits. Prepare joint status report.	7.9	\$795.00	\$6,280.50
6/3/2021	Koreen Kempton	Prepare, file and serve Plaintiff's Supplemental Reply Memorandum of Points and Authorities in Order to Show Cause re Preliminary Injunction and bookmarked Declaration of Robert Brownlie in Support of Supplemental Memorandum of Points and Authorities in Opposition to Specially Appearing Defendants' Motion to Quash with the exhibits; Prepare	4.3	\$275.00	\$1,182.50
6/4/2021	Robert Brownlie	Attend to joint status report. Telephone conference with counsel for Nelson Partners.	0.6	\$795.00	\$477.00
6/4/2021	Koreen Kempton	Prepare, file and serve Joint Status Report; Prepare Proof of Service; Review Court Rules regarding in-person attendance; Prepare electronic correspondence to Opposing Paralegal regarding Court Reporter attendance for upcoming hearing; Prepare  and Update	1.2	\$275.00	\$330.00
6/7/2021	Robert Brownlie	Prepare	0.6	\$795.00	\$477.00
6/7/2021	Koreen Kempton	Prepare and Update	0.5	\$275.00	\$137.50
6/8/2021	Robert Brownlie	Review reply in support of motion to quash.	0.5	\$795.00	\$397.50
6/8/2021	Koreen Kempton	Prepare, file and serve Collin's case filing with bookmarks as requested by Court.	1.5	\$275.00	\$412.50
6/8/2021	Koreen Kempton	Download filed document and research ; and Communicate with Court clerk and One Legal regarding same.	1.5	\$275.00	\$412.50
6/8/2021	Gerard Trippitelli	Review and analyze outline potential arguments for hearing on motion to quash.	2.5	\$550.00	\$1,375.00
6/9/2021 6/9/2021	Robert Brownlie Veronica Collins- Perez	Prepare update. Review analysis of sur-reply on motion to quash. Contacted Orange County Superior Court regarding e-filing issue	0.2 0.5	\$795.00 \$245.00	\$159.00 \$122.50
6/9/2021	Koreen Kempton	Review ; Prepare electronic correspondence to Download Parziale Court filing and distribute to team; Communicate with Court clerk and One Legal regarding pdf bookmarked problems; and File and serve Collins case documents.	5.1	\$275.00	\$1,402.50
6/11/2021	Robert Brownlie	Respond to	0.4	\$795.00	\$318.00
6/11/2021	Koreen Kempton	Research	1.3	\$275.00	\$357.50
6/14/2021	Koreen Kempton	Prepare Update ; Communicate with Attorney Jerry Trippitelli regarding Axonic proof of service; and Update and share Sharefile downloads with team.	2	\$275.00	\$550.00
6/14/2021	Gerard Trippitelli	Conduct legal research regarding	3.3	\$550.00	\$1,815.00
6/15/2021	Robert Brownlie	Prepare for hearing on motion to quash and motion for preliminary injunction. Telephone conference	7.4	\$795.00	\$5,883.00
6/15/2021	Koreen Kempton	Prepare electronic correspondence to Opposing Counsel's Paralegal regarding Court Reporter for new hearing; Prepare and Update	1.9	\$275.00	\$522.50
6/16/2021	Koreen Kempton	Prepare Update ; and Prepare	2.1	\$275.00	\$577.50
6/17/2021	Robert Brownlie	Prepare for and attend hearing on various motions in Collins. Telephone conference Coordinate the filing of the Second Amended Complaint in Collins.	3.2	\$795.00	\$2,544.00

6/17/2021	Koreen Kempton	Review Court website for tentative ruling; Prepare electronic correspondence Attorney Robert Brownlie regarding tentative ruling; Print case material as requested by Attorney Robert Brownlie; Prepare	2.3	\$275.00	\$632.50
		Update ; Conference with			
6/17/2021	Gerard Trippitelli	Conduct legal research regarding	1	\$550.00	\$550.00
6/18/2021	Veronica Collins- Perez	Prepare and e-file with court the Second Amended Derivative Complaint, Amended Summons and Proof of Service.	1	\$245.00	\$245.00
6/18/2021 6/18/2021	Robert Brownlie Koreen Kempton	Prepare Prepare Update ; Assist with filing and service of Amended Summons and Complaint; Review Parziale court docket and pull court stamped documents; load same to Worldox for team review; and Prepare	0.7 5.6	\$795.00 \$275.00	\$556.50 \$1,540.00
6/21/2021 6/21/2021	Robert Brownlie Koreen Kempton	Review minute order. Finalize notice of ruling. Prepare	0.6 0.9	\$795.00 \$275.00	\$477.00 \$247.50
6/22/2021	Koreen Kempton	Update ; and Finish gathering Parziale court stamped documents and Review One Legal to confirm court accepted Summons; Prepare	3.6	\$275.00	\$990.00
		Update Review Collins court docket; and Locate and provide court stamped documents			
6/23/2021	Robert Brownlie	Instruct Telephone conference with	0.7	\$795.00	\$556.50
6/23/2021	Koreen Kempton	Download deposition and distribute to team; Prepare Update and Coordinate research	3.8	\$275.00	\$1,045.00
6/24/2021	Robert Brownlie	Exchange correspondence Telephone conference Telephone conferences Prepare RFPs to Axonic and TCG.	3.3	\$795.00	\$2,623.50
6/24/2021	Koreen Kempton	Locate and provide case Discovery templates as requested by Attorney Robert Brownlie; Prepare and Update	2	\$275.00	\$550.00
6/25/2021	Koreen Kempton	Download Court accepted Summons; Coordinate personal service of Summons and Complaint on new Defendants; Prepare  and Update	1.4	\$275.00	\$385.00
6/28/2021	Koreen Kempton	Scan Prepare electronic correspondence to Nationwide regarding personal service of Amended Complaint; Prepare electronic correspondence to Aptus regarding deposition transcripts; Prepare and file Proof of Service for Summons and Complaint; and Prepare	2.2	\$275.00	\$605.00
6/29/2021	Koreen Kempton	Update and Prepare	1.3	\$275.00	\$357.50
6/30/2021					
	Robert Brownlie	Analyze	1	\$795.00	\$795.00
6/30/2021 6/30/2021	Robert Brownlie Robert Brownlie Koreen Kempton	Prepare new federal complaint. Scar ; Update ; Prepare	1 1.6 2.3	\$795.00 \$795.00 \$275.00	\$795.00 \$1,272.00 \$632.50
	Robert Brownlie	Prepare new federal complaint. Scar ; Update ; Prepare and Prepare  Continue to prepare new federal complaint. Prepare and	1.6	\$795.00	\$1,272.00
6/30/2021 7/1/2021	Robert Brownlie Koreen Kempton Robert Brownlie	Prepare new federal complaint. Scar ; Update ; Prepare  and Prepare  Continue to prepare new federal complaint. Prepare update Prepare	1.6 2.3	\$795.00 \$275.00 \$795.00	\$1,272.00 \$632.50 \$2,146.50
6/30/2021 7/1/2021 7/1/2021 7/2/2021 7/6/2021	Robert Brownlie Koreen Kempton  Robert Brownlie Koreen Kempton  Koreen Kempton  Robert Brownlie	Prepare new federal complaint. Scar ; Update ; Prepare  and Prepare  Continue to prepare new federal complaint. Prepare update Prepare Update Prepare Update Continue to prepare federal complaint.	1.6 2.3 2.7 0.9 2.4 1.3	\$795.00 \$275.00 \$795.00 \$275.00 \$275.00 \$795.00	\$1,272.00 \$632.50 \$2,146.50 \$247.50 \$660.00 \$1,033.50
6/30/2021 7/1/2021 7/1/2021 7/2/2021	Robert Brownlie Koreen Kempton  Robert Brownlie Koreen Kempton  Koreen Kempton	Prepare new federal complaint. Scar ; Update ; Prepare  and Prepare  Continue to prepare new federal complaint. Prepare Update Prepare Update Update and Update hard copy files.	1.6 2.3 2.7 0.9 2.4	\$795.00 \$275.00 \$795.00 \$275.00 \$275.00	\$1,272.00 \$632.50 \$2,146.50 \$247.50 \$660.00
6/30/2021 7/1/2021 7/1/2021 7/2/2021 7/6/2021 7/7/2021	Robert Brownlie Koreen Kempton  Robert Brownlie Koreen Kempton  Koreen Kempton  Robert Brownlie  Robert Brownlie	Prepare new federal complaint. Scar ; Update ; Prepare  and Prepare  Continue to prepare new federal complaint. Prepare update Prepare update Prepare update Continue to prepare federal complaint. Continue to prepare new federal complaint. Continue to prepare new federal complaint.	1.6 2.3 2.7 0.9 2.4 1.3 2.6	\$795.00 \$275.00 \$795.00 \$275.00 \$275.00 \$795.00 \$795.00	\$1,272.00 \$632.50 \$2,146.50 \$247.50 \$660.00 \$1,033.50 \$2,067.00
6/30/2021  7/1/2021  7/2/2021  7/6/2021  7/7/2021  7/7/2021	Robert Brownlie Koreen Kempton  Robert Brownlie Koreen Kempton  Koreen Kempton  Robert Brownlie Robert Brownlie Koreen Kempton	Prepare new federal complaint. Scar ; Update ; Prepare  and Prepare  Continue to prepare new federal complaint. Prepare	1.6 2.3 2.7 0.9 2.4 1.3 2.6 0.5	\$795.00 \$275.00 \$795.00 \$275.00 \$275.00 \$795.00 \$795.00 \$275.00	\$1,272.00 \$632.50 \$2,146.50 \$247.50 \$660.00 \$1,033.50 \$2,067.00 \$137.50

7/9/2021	Koreen Kempton	Prepare	0.3	\$275.00	\$82.50
7/12/2021 7/12/2021	Robert Brownlie Gerard Trippitelli	Continue to prepare new federal complaint. Review and analyze conduct legal research regarding	4.2 2.4	\$795.00 \$550.00	\$3,339.00 \$1,320.00
7/12/2021	Koreen Kempton	Update Prepare and Prepare	2	\$275.00	\$550.00
7/13/2021	Robert Brownlie	Review responses to special	1.8	\$795.00	\$1,431.00
7/13/2021	Gerard Trippitelli	interrogatories. Prepare  Conduct legal research regarding  conduct legal research regarding	5.2	\$550.00	\$2,860.00
7/13/2021	Koreen Kempton	Prepare  Prepare  and Update	2.7	\$275.00	\$742.50
7/14/2021	Robert Brownlie	Analyze	0.6	\$795.00	\$477.00
7/14/2021	Gerard Trippitelli	Conduct legal research regarding	5.5	\$550.00	\$3,025.00
7/14/2021	Koreen Kempton	Update Prepare	3.1	\$275.00	\$852.50
7/15/2021 7/15/2021	Robert Brownlie Gerard Trippitelli	Address issues regarding the new federal complaint.  Conduct legal research  revise draft of new federal court complaint.	0.4 5.8	\$795.00 \$550.00	\$318.00 \$3,190.00
7/15/2021	Koreen Kempton	Continue and Prepare and Attend meeting with Attorney Robert Brownlie and Paralegal Veronica Collins regarding case	3.8	\$275.00	\$1,045.00
7/15/2021	Veronica Collins-	projects. Created	1.5	\$245.00	\$367.50
7/16/2021	Perez Robert Brownlie	Meet and confer with Axonic and TCG's counsel regarding motions that	0.9	\$795.00	\$715.50
7/16/2021	Gerard Trippitelli	intend to file in Collins. Exchange communications Conduct legal research regarding ; conduct legal research regarding revise draft of new	5.3	\$550.00	\$2,915.00
7/16/2021	Koreen Kempton	federal court complaint.  Continue  Prepare  Locate and save ECF Civil  Case cover page and prepare instructions for filing new Complaint;  Prepare	6.1	\$275.00	\$1,677.50
7/17/2021	Gerard Trippitelli	Conduct legal research regarding	4.6	\$550.00	\$2,530.00
7/19/2021	Robert Brownlie	revise draft of new federal court complaint.  Exchange correspondence  Telephone conference	0.6	\$795.00	\$477.00
7/21/2021 7/22/2021 7/23/2021 7/23/2021	Robert Brownlie Robert Brownlie Robert Brownlie Veronica Collins- Perez	Continue to prepare new federal complaint. Continue to prepare new federal complaint. Continue to prepare new federal complaint. Prepare Sent	2.4 6 4.9 0.2	\$795.00 \$795.00 \$795.00 \$245.00	\$1,908.00 \$4,770.00 \$3,895.50 \$49.00
7/26/2021	Robert Brownlie	Analyze Telephone conference	2.5	\$795.00	\$1,987.50
7/26/2021 7/27/2021	Robert Brownlie Robert Brownlie	Travel to and return from hearing in Los Angeles in the federal case.  Prepare for and attend hearing in the federal case on Nelson's motion to dismiss. Further research	5.3 2.2	\$795.00 \$795.00	\$4,213.50 \$1,749.00
7/27/2021	Koreen Kempton	Update ; Prepare ; and Locate and provide case information as requested by Attorney Robert Brownlie during hearing.	1.4	\$275.00	\$385.00
7/28/2021 7/29/2021	Robert Brownlie Robert Brownlie	Revise the new federal complaint.  Telephone conference Revise new federal complaint.  Prepare opposition to Axonic's forum non conveniens motion.	4 6.4	\$795.00 \$795.00	\$3,180.00 \$5,088.00

7/29/2021	Veronica Collins-	Updated Deposition Subpoena Tracker.	0.3	\$245.00	\$73.50
7/29/2021	Perez Veronica Collins-	Made edits to complaint per Attorney Robert Brownlie.	0.9	\$245.00	\$220.50
7/30/2021	Perez Robert Brownlie	Continue to work on new federal complaint. Continue to prepare	1.8	\$795.00	\$1,431.00
7/30/2021	Koreen Kempton	opposition to forum non conveniens motion.  Update ; and Prepare	0.5	\$275.00	\$137.50
7/30/2021	Veronica Collins-	Made edits to complaint per Attorney Robert Brownlie.	0.5	\$245.00	\$122.50
8/2/2021	Perez Robert Brownlie	Continue to prepare opposition to forum non conveniens motion in Collins. Attend to new federal complaint. Prepare proposed protective order.	6.7	\$795.00	\$5,326.50
8/2/2021	Koreen Kempton	Prepare electronic correspondence to Clients requesting data for new Federal Complaint; Update ; and Prepare electronic correspondence	1.7	\$275.00	\$467.50
8/2/2021	Gerard Trippitelli	Analyze revise new federal court complaint to consolidate Alabama claims.	1	\$550.00	\$550.00
8/2/2021	Veronica Collins- Perez	Made edits to complaint per Attorney Robert Brownlie.	0.4	\$245.00	\$98.00
8/3/2021	Robert Brownlie	Continue to revise new federal complaint. Respond to  Review information about a foreclosure on a Nelson Partners' property. Report	2.3	\$795.00	\$1,828.50
8/3/2021	Koreen Kempton	Prepare  Respond to  Prepare  and Update	5.5	\$275.00	\$1,512.50
8/3/2021	Gerard Trippitelli	Conduct follow-up research	0.9	\$550.00	\$495.00
8/3/2021	Veronica Collins-	Updated complaint	1	\$245.00	\$245.00
8/4/2021	Perez Robert Brownlie	Respond Continue to prepare the federal complaint. Continue to prepare forum non conveniens motion.	6.6	\$795.00	\$5,247.00
8/4/2021	Koreen Kempton	Communicate Respond to Prepare and Update	5.3	\$275.00	\$1,457.50
8/4/2021	Gerard Trippitelli	Review and analyze conduct legal research regarding ; draft opposition to motion to strike.	3.8	\$550.00	\$2,090.00
8/5/2021	Robert Brownlie	Finalize opposition to forum non conveniens motion. Analyze	3.8	\$795.00	\$3,021.00
8/5/2021	Koreen Kempton	Locate and upload ; Respond to Update and Research	7.1	\$275.00	\$1,952.50
8/5/2021 8/5/2021	Gerard Trippitelli Veronica Collins- Perez	Draft and revise opposition to motion to strike in CA state court action. Prepared Opposition to Motion to Stay for filing with court.	4.4 0.5	\$550.00 \$245.00	\$2,420.00 \$122.50
8/6/2021	Robert Brownlie	Review and revise opposition to the motion to strike in Collins. Edit new federal complaint.	2.9	\$795.00	\$2,305.50
8/6/2021	Koreen Kempton	Locate and prepare exhibits for Declaration; Respond to  pdate  and Coordinate Court Stamping project with Paralegal	2.4	\$275.00	\$660.00
8/6/2021	Veronica Collins- Perez	Veronica Collins. Filed and served Opposition to Motion to Stay.	0.7	\$245.00	\$171.50
8/6/2021	Veronica Collins-	Made edits to complaint per Attorney Robert Brownlie.	0.5	\$245.00	\$122.50
8/9/2021	Perez Koreen Kempton	Update ; Respond to	3.7	\$275.00	\$1,017.50
8/9/2021	Gerard Trippitelli	and Edit draft of Complaint.  Review and analyze  conduct  legal research  begin drafting meet and confer letter regarding Patrick Nelson and  Nelson Partners' responses to Plaintiff's Request for Production and	4.6	\$550.00	\$2,530.00
8/9/2021	Veronica Collins- Perez	Special Interrogatories.  Made edits to complaint per Attorney Robert Brownlie.	0.2	\$245.00	\$49.00

8/10/2021	Robert Brownlie	Finalize new civil complaint. Telephone conference  Telephone conference	1.8	\$795.00	\$1,431.00
8/10/2021	Koreen Kempton	Prepare related case notice. Prepare electronic correspondence	0.4	\$275.00	\$110.00
8/10/2021	Gerard Trippitelli	Continue drafting and revising meet and confer letter regarding Partrick Nelson and Nelson Partners' responses to Plaintiff's Requests for	4.9	\$550.00	\$2,695.00
8/10/2021	Veronica Collins- Perez	Production and Special Interrogatories.  Prepared, finalized, and filed complaint through ECF system.	2	\$245.00	\$490.00
8/11/2021 8/11/2021	Robert Brownlie Koreen Kempton	Respond to Update Communicate	0.6 0.9	\$795.00 \$275.00	\$477.00 \$247.50
8/12/2021	Robert Brownlie	Review and revise statement of related case. Review and revise Review Judge Fischer's	1.4	\$795.00	\$1,113.00
8/12/2021	Koreen Kempton	bio. Prepare Prepare and Update Court Filing folders with stamped documents.	1.1	\$275.00	\$302.50
8/12/2021	Veronica Collins- Perez	Prepared, filed, and served Notice of Related Case.	1	\$245.00	\$245.00
8/13/2021	Koreen Kempton	Prepare multiple electronic correspondence Update and Upload document in Sharefile folder and Worldox.	5.8	\$275.00	\$1,595.00
8/17/2021	Robert Brownlie	Follow up on discovery in the Collins case.	0.4	\$795.00	\$318.00
8/17/2021	Koreen Kempton	Prepare ; Update ; and Prepare Draft Waiver of Service of Summons and Complaint.	4.9	\$275.00	\$1,347.50
8/18/2021	Robert Brownlie	Review tentative ruling in Collins. Various telephone conferences  Telephone conference	2.3	\$795.00	\$1,828.50
8/18/2021	Koreen Kempton	Prepare electronic correspondence to Opposing Counsel regarding Waiver of Service of Summons and Complaint; Prepare pdate	4.2	\$275.00	\$1,155.00
8/19/2021 8/19/2021 8/19/2021	Robert Brownlie Robert Brownlie Koreen Kempton	and Communicate Prepare for and participate in hearing on motion to stay. Telephone conference Prepare reply electronic correspondence to Opposing Counsel regarding Waiver of Service of Summons and Complaint; Prepare Update and Communicate	1.2 1.2 3	\$795.00 \$795.00 \$275.00	\$954.00 \$954.00 \$825.00
8/20/2021	Robert Brownlie	Attend to service of new federal complaint. Prepare	3.5	\$795.00	\$2,782.50
8/20/2021	Koreen Kempton	Respond to Prepare Update ; and Communicate	5	\$275.00	\$1,375.00
8/23/2021 8/23/2021	Robert Brownlie Koreen Kempton	Telephone conference Prepare Update ; and Communicate with	0.4 3.1	\$795.00 \$275.00	\$318.00 \$852.50
8/24/2021	Koreen Kempton	Prepare electronic correspondence to Attorney Robert Brownlie regarding Personal Service status of Federal Complaint; Prepare and send Paralegal Veronica Collins Proof of Personal service for filing; Prepare Update and Prepare	1.3	\$275.00	\$357.50
8/24/2021	Veronica Collins- Perez	Prepared and filed Proofs of Service of Summons and Complaint on Defendants.	0.5	\$245.00	\$122.50
8/26/2021	Koreen Kempton	Prepare; and Update	1.7	\$275.00	\$467.50
9/2/2021	Veronica Collins- Perez	Prepare shells for Motion for Substitution.	0.4	\$245.00	\$98.00
9/3/2021	Robert Brownlie	Analyze Telephone conference	6.2	\$795.00	\$4,929.00
9/3/2021	Koreen Kempton	Update	0.4	\$275.00	\$110.00
9/7/2021 9/8/2021	Koreen Kempton Robert Brownlie	Update Exchange messages	0.4 1.6	\$275.00 \$795.00	\$110.00 \$1,272.00
9/8/2021	Koreen Kempton	Exchange messages Update Prepare	3	\$795.00 \$275.00	\$1,272.00
	·	Prepare Prepare ; and Prepare			
		, and i topaic			
9/9/2021	Robert Brownlie	Continue to analyze	0.4	\$795.00	\$318.00

9/9/2021	Koreen Kempton	Communicate ; and Prepare	0.5	\$275.00	\$137.50
9/10/2021	Koreen Kempton	Prepare and Update	1.2	\$275.00	\$330.00
9/13/2021	Koreen Kempton	Update and Prepare	1.1	\$275.00	\$302.50
9/15/2021	Robert Brownlie	Review draft Texas complaint.	8.0	\$795.00	\$636.00
9/16/2021	Robert Brownlie	Revise Texas petition (complaint). Prepare	1.4	\$795.00	\$1,113.00
9/17/2021	Robert Brownlie	Review correspondence  Telephone conference  Prepare correspondence to Nelson Partners' attorneys.	0.6	\$795.00	\$477.00
9/20/2021	Robert Brownlie	Review and respond to application.	0.6	\$795.00	\$477.00
9/21/2021	Koreen Kempton	Prepare Prepare ; and Update	2.1	\$275.00	\$577.50
9/22/2021	Robert Brownlie	Identify materials for motion for summary judgment in Texas.	0.6	\$795.00	\$477.00
9/22/2021	Koreen Kempton	Prepare and send case materials to Attorneys Jenny Lloyd and Jerry	1.2	\$275.00	\$330.00
	·	Trippitelli via Sharefile.			
9/24/2021	Koreen Kempton	Update and Prepare and Prepare	0.6	\$275.00	\$165.00
9/27/2021	Koreen Kempton	Update Prepare and Update	1.2	\$275.00	\$330.00
9/28/2021	Koreen Kempton	Update and Update	8.0	\$275.00	\$220.00
9/29/2021	Robert Brownlie	Prepare inspection demand. Attend to Texas litigation.	2.5	\$795.00	\$1,987.50
9/29/2021	Koreen Kempton	Locate and provide case materials to Attorney Jenny Lloyd.	0.8	\$275.00	\$220.00
9/30/2021	Robert Brownlie	, , , ,	0.6	\$795.00 \$795.00	\$477.00
		Review and revise inspection demand.			•
9/30/2021	Robert Brownlie	Prepare initial disclosure for Texas action.	1.8	\$795.00	\$1,431.00
9/30/2021	Koreen Kempton	Prepare and Update	1.7	\$275.00	\$467.50
10/1/2021	Robert Brownlie	Continue to prepare initial disclosures for Texas action. Review the motion to strike the intervention petition. Revise the inspection demand.	5	\$795.00	\$3,975.00
40/4/0004		Prepare notice of appeal for first federal case.	4.5	<b>4075.00</b>	<b>6440.50</b>
10/1/2021	Koreen Kempton	Update ; and Prepare	1.5	\$275.00	\$412.50
10/3/2021	Robert Brownlie	Deview and review motion for partial summers judgment	2.1	\$795.00	\$1,669.50
		Review and revise motion for partial summary judgment.			. ,
10/4/2021	Koreen Kempton	Prepare repare	3.9	\$275.00	\$1,072.50
40/4/0004		and Update		****	***
10/4/2021	Veronica Collins- Perez	Prepare, file, and serve Notice of Appeal.	0.4	\$245.00	\$98.00
10/4/2021	Veronica Collins- Perez	Update and add additional Plaintiff's to First Amended Complaint.	0.7	\$245.00	\$171.50
10/5/2021	Robert Brownlie	Continue to prepare motion for partial summary judgment.	4.1	\$795.00	\$3,259.50
10/5/2021	Koreen Kempton	Prepare electronic correspondence to Nationwide Process Server regarding second attempt to personally serve papers on Clayton Degiacinto; Identify and organize case materials as requested by Attorney Jenny Lloyd; Prepare ; and Update	2.3	\$275.00	\$632.50
10/5/2021	Veronica Collins- Perez	Continue to .	0.4	\$245.00	\$98.00
10/6/2021	Robert Brownlie	Review and revise motion for partial summary judgment.	2.3	\$795.00	\$1,828.50
10/6/2021	Koreen Kempton	Prepare electronic correspondence to Nationwide Process Server to cancel personal service on Clayton Degiacinto; Prepare	0.4	\$275.00	\$110.00
10/7/2021	Robert Brownlie	and Update Review strategy . Revise	2	\$795.00	\$1,590.00
10/7/2021	Koreen Kempton	Update	0.6	\$275.00	\$165.00
10/8/2021	Koreen Kempton	Prepare and Undate	0.4	\$275.00	\$110.00
10/8/2021	Robert Brownlie	and Update  Meet and confer with Nelson Partners' counsel. Meet and confer with  Axonic's counsel. Prepare	2.6	\$795.00	\$2,067.00
10/12/2021	Veronica Collins- Perez	Prepare, file, and serve Mediation Questionnaire in 9th Circuit Court of Appeals.	0.4	\$245.00	\$98.00
10/12/2021	Robert Brownlie	Prepare Ninth Circuit mediation statement. Prepare	3	\$795.00	\$2,385.00

10/12/2021	Koreen Kempton	Prepare ; and Respond to	1.6	\$275.00	\$440.00
10/13/2021	Koreen Kempton	Prepare Prepare	1.7	\$275.00	\$467.50
10/14/2021	Koreen Kempton	and Update  Download and distribute Texas case document productions; Update document production tracker; and Prepare	1.9	\$275.00	\$522.50
10/15/2021	Koreen Kempton	and Update Prepare multiple electronic correspondence with Attorney Jenny Lloyd; Download and distribute Texas case document productions; Update document production tracker; and Update	1.3	\$275.00	\$357.50
10/18/2021	Koreen Kempton	Download Nelson Partners document productions; Update document production tracker; and Update	1.1	\$275.00	\$302.50
10/19/2021	Koreen Kempton	Download replacement Nelson Partners and Polk document productions; Update document production tracker; Coordinate upload to review	7.4	\$275.00	\$2,035.00
10/20/2021	Robert Brownlie	database with CasePoint; and Update Analyze	1.9	\$795.00	\$1,510.50
10/20/2021	Koreen Kempton	Prepare deposition and hearing tracking chart; Download Supplemental Nelson Partners document productions; Update document production tracker; Coordinate upload to review database with CasePoint; and	6.8	\$275.00	\$1,870.00
10/21/2021	Robert Brownlie	Update  Prepare declarations in opposition to motion to strike in the Texas case.	7.6	\$795.00	\$6,042.00
10/21/2021	Koreen Kempton	Strategize Continue organizing Nelson Partners document productions; Update document production tracker; Prepare chart of missing production ranges to coordinate with Opposing Counsel; Coordinate upload to review	2.1	\$275.00	\$577.50
10/22/2021	Robert Brownlie	database with CasePoint; and Update Prepare designation of deposition topics for the Texas case. Prepare  . Telephone conference	5.9	\$795.00	\$4,690.50
10/24/2021	Gerard Trippitelli	Conduct legal research	2.6	\$550.00	\$1,430.00
10/25/2021	Robert Brownlie	Prepare Prepare Finalize first amended federal complaint.	7.9	\$795.00	\$6,280.50
10/25/2021	Gerard Trippitelli	Conduct legal research	4.2	\$550.00	\$2,310.00
10/25/2021	Koreen Kempton	Prepare correspondence to Counsel regarding needed document productions; Continue organizing Nelson Partners document productions; Update document production tracker; Download Texas Court Filings; and	7.4	\$275.00	\$2,035.00
10/26/2021	Robert Brownlie	Update Prepare for and participate in the deposition of Mr. McCormick. Telephone conference Prepare	11.3	\$795.00	\$8,983.50
10/26/2021 10/26/2021	Gerard Trippitelli Koreen Kempton	Revise draft of amended complaint in federal securities action.  Prepare, file and serve Puleo Amended Complaint; Prepare and finalize Client Declarations; Download Texas Court Filings; Add new Defendants to Pleading Caption; Prepare electronic correspondence to Loeb regarding Axonic document productions; Prepare electronic correspondence to TCG Paralegals regarding depositions taken in Texas case; Download Puleo Filings from Court; Send	0.5 8.3	\$550.00 \$275.00	\$275.00 \$2,282.50
10/27/2021	Robert Brownlie	Prepare for and participate in the deposition of Mr. Doucek. Prepare and revise declarations for opposition to motion to strike. Review and revise opposition to motion to strike.	7	\$795.00	\$5,565.00
10/27/2021	Koreen Kempton	Assist with preparation of Texas Opposition to the Motion to Strike and Supporting documents; finalize Client Declarations; Continue to respond to Client electronic correspondence regarding Declarations and Update	6.6	\$275.00	\$1,815.00
10/28/2021	Robert Brownlie	tracking chart.  Prepare for and take the deposition of Defendant DeGiacinto. Attend to	1.9	\$795.00	\$1,510.50
10/28/2021	Koreen Kempton	opposition to motion to strike.  Assist with preparation of Texas Opposition to the Motion to Strike and Supporting documents; finalize  and	4.2	\$275.00	\$1,155.00
10/29/2021	Robert Brownlie	Update Telephone conference	0.9	\$795.00	\$715.50
10/29/2021	Koreen Kempton	Prepare electronic correspondence to Aynsley Young regarding Nelson Partners document production issues; Download and distribute Order to Dismiss; Prepare electronic correspondence; and Update	1.6	\$275.00	\$440.00

11/2/2021	Koreen Kempton	Update document production tracker and coordinate upload of new document productions into CasePoint for review.	1.1	\$275.00	\$302.50
11/3/2021 11/4/2021	Robert Brownlie Robert Brownlie	Prepare for hearing on motion to strike in Texas.  Prepare for and attend motion to strike in Texas. Debrief regarding the same. Strategize regarding upcoming depositions and briefing on	1.1 4.1	\$795.00 \$795.00	\$874.50 \$3,259.50
11/4/2021	Koreen Kempton	summary judgment motion.  Update document production tracker; Coordinate upload of new document productions into CasePoint for review; Prepare correspondence to Opposing Counsel's Paralegal regarding Axonic document productions; Update Texas case deposition tracking chart; Download Nelson Partners Quick Book document production; and Prepare correspondence to CasePoint regarding Quick Book production format.	5.3	\$275.00	\$1,457.50
11/5/2021	Veronica Collins- Perez	Organize documents and prepare binder with materials for Texas depositions.	0.6	\$245.00	\$147.00
11/5/2021 11/5/2021	Robert Brownlie Veronica Collins- Perez	Telephone conference Prepare Amended Summons for filing with the court.	0.4 0.3	\$795.00 \$245.00	\$318.00 \$73.50
11/5/2021	Koreen Kempton	Prepare Draft Cross Notice of Depositons for Texas case; Upload Axonic document productions; Update document production tracker; Coordinate upload of new document productions into CasePoint for review.	3.2	\$275.00	\$880.00
11/8/2021 11/8/2021	Robert Brownlie Koreen Kempton	Participate in scheduling call. Debrief with Prepare electronic correspondence ; Prepare correspondence to CasePoint regarding new Axonic document production; Update document production chart; Upload Court filed documents; and File Maintenance and management.	0.4 1.1	\$795.00 \$275.00	\$318.00 \$302.50
11/9/2021 11/9/2021	Robert Brownlie Koreen Kempton	Prepare Prepare electronic correspondence ; Communicate with prepare correspondence to CasePoint regarding new new document production; Update document production chart; Update deposition tracker; Upload Court filed documents; and File Maintenance and management.	1.2 4.4	\$795.00 \$275.00	\$954.00 \$1,210.00
11/10/2021 11/10/2021	Koreen Kempton Veronica Collins- Perez	Prepare electronic correspondence Calculate and calendar opposition due date to Defendants' Motion to Dismiss.	0.1 0.3	\$275.00 \$245.00	\$27.50 \$73.50
11/10/2021		File maintenance and management of electronic file.	0.9	\$245.00	\$220.50
11/10/2021		Finalize and file Amended Summons with Court.	8.0	\$245.00	\$196.00
11/11/2021		Review issues for opposition to motion to dismiss the federal complaint.	0.5	\$795.00	\$397.50
11/11/2021	Koreen Kempton	Prepare correspondence ; Review service documents Strategize regarding upcoming depositions and document productions; Download Court documents; and File maintenance and management.	1.8	\$275.00	\$495.00
11/11/2021	Gerard Trippitelli	Conduct legal research and draft	1.8	\$550.00	\$990.00
11/12/2021	Veronica Collins- Perez	Update court stamped filings in Texas case and load to document management database.	0.6	\$245.00	\$147.00
11/12/2021	Veronica Collins- Perez	Calendar depositions scheduled in Texas case and	0.3	\$245.00	\$73.50
11/12/2021 11/12/2021	Robert Brownlie Koreen Kempton	Prepare for and take the deposition of Ms. Hartman.  Prepare correspondence and Update deposition tracking chart.	10.1 0.4	\$795.00 \$275.00	\$8,029.50 \$110.00
11/14/2021	Gerard Trippitelli	Conduct legal research	2.4	\$550.00	\$1,320.00
11/15/2021	Veronica Collins- Perez	Retrieve signed Amended Summons from Court e-filing system and prepare electronic correspondence to Nationwide Process Server for personal service of Second Amended Complaint and other initiating documents on Defendant NP Skyloft, DST.	1.2	\$245.00	\$294.00
11/15/2021	Koreen Kempton	Prepare multiple correspondence	0.6	\$275.00	\$165.00
11/15/2021	Veronica Collins- Perez	Prepare correspondence to Nationwide regarding personal service of Summons, Complaint, and other initiating documents on Defendant NP	0.4	\$245.00	\$98.00
11/15/2021	Gerard Trippitelli	Skyloft, DST. Conduct legal research draft opposition to motion to dismiss Puleo	5.2	\$550.00	\$2,860.00
11/16/2021	Robert Brownlie	Amended Complaint.  Prepare for	1.7	\$795.00	\$1,351.50

11/16/2021	Koreen Kempton	Prepare multiple electronic correspondence ; Upload	1.2	\$275.00	\$330.00
11/16/2021	Gerard Trippitelli	Conduct legal research draft opposition to motion to dismiss Puleo	4.7	\$550.00	\$2,585.00
11/17/2021	Koreen Kempton	Amended Complaint.  Prepare multiple electronic correspondence  Communicate ; and File maintenance and	0.9	\$275.00	\$247.50
11/17/2021		management for court filed documents.  Submit signed Proof of Service of Summons re NP Skyloft, DST for filing	0.3	\$245.00	\$73.50
11/17/2021	Perez Veronica Collins- Perez	with the Court Prepare shells for Plaintiffs' Opposition to Motion to Dismiss	0.7	\$245.00	\$171.50
11/17/2021	Gerard Trippitelli	Conduct legal research draft opposition to motion to dismiss Puleo	4.5	\$550.00	\$2,475.00
		Amended Complaint.			
11/18/2021	Koreen Kempton	Prepare electronic correspondence and File maintenance and management for court filed documents.	0.6	\$275.00	\$165.00
11/18/2021	Gerard Trippitelli	Draft opposition to motion to dismiss Puleo Amended Complaint.	4.8	\$550.00	\$2,640.00
	Koreen Kempton	Prepare multiple electronic correspondence	0.4	\$275.00	\$110.00
11/19/2021 11/24/2021	Gerard Trippitelli Veronica Collins-	Draft opposition to motion to dismiss Puleo Amended Complaint.  Retrieve electronic case filings and upload to case files.	3.6 0.2	\$550.00 \$245.00	\$1,980.00 \$49.00
11/29/2021	Perez Veronica Collins-	Update Certificate of Service to add all parties and counsel.	0.2	\$245.00	\$73.50
11/29/2021	Perez Robert Brownlie	Review and revise opposition to motion to dismiss the individual federal	0.3	\$795.00	\$0.00
11/29/2021	Robert Brownie	complaint.	U	Ψ195.00	ψ0.00
11/30/2021	Robert Brownlie	Prepare for and participate in status conference.	3.3	\$795.00	\$2,623.50
11/30/2021	Veronica Collins- Perez	Retrieve electronic case filings and upload to case files.	0.2	\$245.00	\$49.00
11/30/2021	Veronica Collins- Perez	Prepare, file and serve Opposition to Motion to Dismiss Plaintiff's Complaint.	1.2	\$245.00	\$294.00
11/30/2021	Veronica Collins- Perez	Download and save filed endorsed copy of Opposition to Motion to Dismiss Plaintiff's Complaint.	0.2	\$245.00	\$49.00
11/30/2021	Koreen Kempton	Download Texas Court filings; maintenance and management of Investors Sharefile folders and Worldox database; and Respond to	2.8	\$275.00	\$770.00
12/1/2021	Robert Brownlie	Prepare for and attend deposition of Pat Nelson.	10.1	\$795.00	\$8,029.50
12/2/2021	Robert Brownlie	Prepare for and take the deposition of Patrick Nelson.	9.2	\$795.00	\$7,314.00
12/2/2021	Koreen Kempton	Prepare correspondence regarding Patrick Nelson property.	0.4	\$275.00	\$110.00
12/3/2021	Robert Brownlie	Take the deposition of Patrick Nelson.	7.6	\$795.00	\$6,042.00
12/6/2021	Veronica Collins- Perez	Download Texas Court filings; maintenance and management	0.2	\$245.00	\$49.00
12/6/2021	Koreen Kempton	Download Texas case Court filings and load to Sharefile for client review; and Prepare electronic correspondence to Client Dennis Muller regarding case status.	1.6	\$275.00	\$440.00
12/7/2021	Veronica Collins- Perez	Scan Deposition Exhibits in Texas Case and upload to OneDrive.	0.9	\$245.00	\$220.50
12/7/2021	Koreen Kempton	Organize and index Texas Case deposition exhibits; and Order Deposition transcripts from Court Reporting Agencies.	3.2	\$275.00	\$880.00
12/8/2021	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Investors Sharefile folders and Worldox database	0.2	\$245.00	\$49.00
12/8/2021	Veronica Collins- Perez	Continue to scan Deposition Exhibits in Texas Case and upload to OneDrive.	0.7	\$245.00	\$171.50
12/9/2021	Veronica Collins- Perez	Continue to scan Deposition Exhibits in Texas Case and upload to OneDrive.	3.3	\$245.00	\$808.50
12/9/2021	Veronica Collins- Perez	Download deposition transcripts and exhibits; maintenance and management of OneDrive database.	8.0	\$245.00	\$196.00
12/9/2021	Veronica Collins- Perez	Update Deposition Tracker to include Exhibit Bates Range numbers and document dates for all exhibits in depositions taken.	2.9	\$245.00	\$710.50
12/9/2021	Gerard Trippitelli	Review and analyze	3.1	\$550.00	\$1,705.00
12/9/2021	Koreen Kempton	Download deposition transcripts; Organize and index Texas Case deposition exhibits; and Prepare correspondence	1.6	\$275.00	\$440.00
12/10/2021	Veronica Collins- Perez	Continue to scan Deposition Exhibits in Texas Case and upload to OneDrive.	0.2	\$245.00	\$49.00
12/10/2021	Veronica Collins-	Continue to update Deposition Tracker to include Exhibit Bates Range	2.8	\$245.00	\$686.00
12/10/2021	Perez Gerard Trippitelli	numbers and document dates for all exhibits in depositions taken.  Draft memorandum regarding analysis of conduct legal	5.3	\$550.00	\$2,915.00
		research and analysis			

12/10/2021	Koreen Kempton	Prepare correspondence	1.2	\$275.00	\$330.00
12/13/2021	Veronica Collins-	Update Deposition Tracker to include Exhibit Bates Range numbers and	2.4	\$245.00	\$588.00
12/14/2021	Perez Veronica Collins- Perez	document dates for all exhibits in depositions taken.  Update Deposition Tracker to include Exhibit Bates Range numbers and document dates for all exhibits in depositions taken.	1.2	\$245.00	\$294.00
12/14/2021	Veronica Collins- Perez	Download deposition transcripts and exhibits; and Index deposition exhibits.	1.8	\$245.00	\$441.00
12/15/2021	Koreen Kempton	Update Download deposition transcripts and exhibits.	1.4	\$275.00	\$385.00
12/16/2021	Koreen Kempton	Download deposition transcripts and exhibits; and Index deposition exhibits.	2.9	\$275.00	\$797.50
12/17/2021	Koreen Kempton	Index deposition exhibits; Download Court filed documents; Prepare Sharefile folder to Attorney Jenny Lloyd; Load deposition materials on One Drive for reveiw; Upload Opposing Counsel document production and send to vendor for upload to database; Update document production tracker.	4.4	\$275.00	\$1,210.00
12/22/2021		Prepare	1.8	\$795.00	\$1,431.00
12/28/2021		Brainstorm potential experts. Identify trial preparation issues.	1.2	\$795.00	\$954.00
12/30/2021	·	Review Texas Court correspondence and coordinate download of all Court filings.	8.0	\$275.00	\$220.00
12/30/2021	Veronica Collins- Perez	Download Texas Court filings; maintenance and management and Worldox database; calendar dates provided by court.	0.6	\$245.00	\$147.00
1/3/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management and Worldox database; calendar dates specified in Scheduling Order.	0.4	\$245.00	\$98.00
1/3/2022	Koreen Kempton	Review and respond to	0.8	\$275.00	\$220.00
1/4/2022	Veronica Collins- Perez	Download Texas Court filings.	0.2	\$245.00	\$49.00
1/5/2022	Robert Brownlie	Review and respond to	0.4	\$795.00	\$318.00
1/5/2022	Veronica Collins- Perez	Check court docket for Document 11 - Minute Order.	0.2	\$245.00	\$49.00
1/5/2022	Veronica Collins- Perez	Calendar TCG's emergency motion for entry of final judgment and for appeal bond before Judge Sheppard on January 6, 2022.	0.4	\$245.00	\$98.00
1/5/2022	Koreen Kempton	Review and Respond to	1.1	\$275.00	\$302.50
1/6/2022	Robert Brownlie	Attend to Parizale Ninth Circuit appeal. Meet and confer with counsel for the DST regarding the response date to the new federal case.	2.1	\$795.00	\$1,669.50
1/6/2022	Veronica Collins- Perez	Update calendar with updated deadline to file Brief.	0.2	\$245.00	\$49.00
1/6/2022	Koreen Kempton	Download court filings and send to Attorney Jerry Trippitelli for review.	0.7	\$275.00	\$192.50
1/7/2022	Veronica Collins- Perez	Download Order Extending Time for Skyloft DST to respond to First Amended Complaint and update calendar.	0.2	\$245.00	\$49.00
1/7/2022	Koreen Kempton	Research and download Appellate court filing; and Send same to Attorney Jerry Trippitelli.	0.8	\$275.00	\$220.00
1/7/2022	Gerard Trippitelli	Conduct legal research	4.7	\$550.00	\$2,585.00
1/8/2022	Gerard Trippitelli	Conduct legal research	2.3	\$550.00	\$1,265.00
1/10/2022	Veronica Collins- Perez	Prepare and file with Ninth Circuit Court of Appeals a Streamlined request for extension of time to file Opening Brief.	0.6	\$245.00	\$147.00
1/10/2022	Koreen Kempton	Strategize regarding	0.3	\$275.00	\$82.50
1/11/2022 1/11/2022	Robert Brownlie Veronica Collins-	Revise opposition to TCG's motion for summary judgment. Download Texas Court filings; maintenance and management of Worldox	0.7 0.3	\$795.00 \$245.00	\$556.50 \$73.50
1/11/2022	Perez Veronica Collins- Perez	database.  Download and save Notice of Appearance on Behalf of Defendant NP Skyloft, DST (Document 45), maintenance and management of Investors	0.3	\$245.00	\$73.50
1/11/2022	Koreen Kempton	Sharefile folders and Worldox database. Prepare and send zip file of Depositions to Attorney Jenny Lloyd; and	0.9	\$275.00	\$247.50
1/12/2022	Veronica Collins-	Prepare excerpts of deposition transcripts for filing.  Download Texas Court filings; maintenance and management of Worldox	0.4	\$245.00	\$98.00
1/12/2022	Perez Koreen Kempton	database. Prepare correspondence	0.6	\$275.00	\$165.00
1/13/2022	Robert Brownlie	Review oppositions to summary judgment motion. Identify arguments for reply and areas for additional research.	4.4	\$795.00	\$3,498.00
1/13/2022	Gerard Trippitelli	Conduct legal research and draft	5.6	\$550.00	\$3,080.00
1/14/2022	Robert Brownlie	Coordinate reply briefing.	0.4	\$795.00	\$318.00

1/14/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; calendar motion hearing, calculate response deadline and email to Attorney Robert Brownlie.	0.7	\$245.00	\$171.50
1/14/2022	Gerard Trippitelli	Conduct legal research and draft	5.9	\$550.00	\$3,245.00
1/16/2022 1/17/2022 1/17/2022	Robert Brownlie Robert Brownlie Robert Brownlie	Prepare brief in reply to Axonic's opposition.  Continue to prepare reply briefs. Prepare for oral argument.  Prepare Attend to stipulation for motion to compel arbitration in federal complaint.	6.5 2.9 1.7	\$795.00 \$795.00 \$795.00	\$5,167.50 \$2,305.50 \$1,351.50
1/18/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.3	\$245.00	\$73.50
1/18/2022	Robert Brownlie	Prepare for and participate in hearing on motions for summary judgment.	9.4	\$795.00	\$7,473.00
1/18/2022	Gerard Trippitelli	Conduct legal research and draft opening brief in support of Parziale Ninth Circuit appeal.	4.7	\$550.00	\$2,585.00
1/19/2022	Veronica Collins- Perez	Download Texas Court filing; maintenance and management of Worldox database.	0.2	\$245.00	\$49.00
1/19/2022	Koreen Kempton	Prepare draft Stipulation to Extend hearing date and enter briefing schedule; and Send depositions to Attorney Jenny Lloyd.	3.3	\$275.00	\$907.50
1/19/2022	Gerard Trippitelli	Conduct legal research	2.2	\$550.00	\$1,210.00
1/20/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.2	\$245.00	\$49.00
1/20/2022	Gerard Trippitelli	Draft and revise response to Intervenor Schiffman's supplemental briefing on motion to strike motion to intervene in Texas action.	2.6	\$550.00	\$1,430.00
1/21/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.3	\$245.00	\$73.50
1/21/2022	Koreen Kempton	Update ; Prepare correspondence ; Prepare	1.9	\$275.00	\$522.50
1/24/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.2	\$245.00	\$49.00
1/24/2022	Veronica Collins- Perez	Download filed endorsed copy of Stipulation and Proposed Order; calendar new briefing schedule per new order.	0.6	\$245.00	\$147.00
1/24/2022	Koreen Kempton	Communicate with	0.1	\$275.00	\$27.50
1/25/2022	Robert Brownlie	Analyze Prepare case summary for potential experts.	1.7	\$795.00	\$1,351.50
1/25/2022	Veronica Collins- Perez	Download Texas Court filings; save Deposition Notice; calendar deposition date; calendar missing dates per new Order.	1.2	\$245.00	\$294.00
1/25/2022	Koreen Kempton	Prepare correspondence  Coordinate calendar invites.	1.2	\$275.00	\$330.00
1/25/2022	Gerard Trippitelli	Conduct legal research and draft	3.4	\$550.00	\$1,870.00
1/26/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.2	\$245.00	\$49.00
1/26/2022 1/27/2022	Gerard Trippitelli Veronica Collins-	Draft opening brief in support of Parziale Ninth Circuit appeal.  Download Texas Court filings; maintenance and management of Worldox	3.1 0.2	\$550.00 \$245.00	\$1,705.00 \$49.00
1/27/2022	Perez Veronica Collins-	database. Download Minutes of In Chambers Order regarding continuance of	0.2	\$245.00	\$49.00
1/28/2022	Perez Veronica Collins-	Motion to Dismiss; update calendar with new date.  Download Texas Court filings; maintenance and management of Worldox	0.2	\$245.00	\$49.00
1/28/2022	Perez Koreen Kempton	database.  Prepare and send Texas case document production; and Prepare list of	2.4	\$275.00	\$660.00
1/28/2022	Gerard Trippitelli	depositions. Draft opening brief in support of Parziale Ninth Circuit appeal.	3.9	\$550.00	\$2,145.00
1/28/2022	Robert Brownlie  Gerard Trippitelli	Attend to expert witness identification. Telephone conference  Telephone conference  Conduct supplemental legal research and draft	2.7	\$795.00 \$550.00	\$2,146.50 \$1,375.00
1/31/2022	Robert Brownlie	Continue to search for expert witnesses. Attend to scheduling issues.	4.1	\$795.00	\$3,259.50
1/31/2022	Gerard Trippitelli	Draft opening brief in support of Parziale Ninth Circuit appeal.	1.8	\$550.00	\$990.00
1/31/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.7	\$245.00	\$171.50
1/31/2022	Koreen Kempton	Prepare chart of the Texas case parties and their counsel.	2.1	\$275.00	\$577.50
2/1/2022	Robert Brownlie	Prepare expert witness designation in Austin case. Prepare opposition to motion to compel arbitration in individual federal case.	5.6	\$795.00	\$4,452.00
2/1/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.4	\$245.00	\$98.00
2/1/2022	Veronica Collins- Perez	Prepare, file, and serve Provisional Response in Opposition to Motion to Compel Arbitration.	0.6	\$245.00	\$147.00
2/1/2022 2/1/2022	Koreen Kempton Gerard Trippitelli	Update document production chart. Revise opening brief in Parziale Ninth Circuit appeal.	0.1 2.1	\$275.00 \$550.00	\$27.50 \$1,155.00

2/1/2022	Gerard Trippitelli	Review and revise opposition to motion to compel arbitration in Puleo action.	0.6	\$550.00	\$330.00
2/2/2022 2/2/2022	Robert Brownlie Veronica Collins- Perez	Review and revise Ninth Circuit Brief.  Download Texas Court filings; maintenance and management of Worldox database.	1.1 0.7	\$795.00 \$245.00	\$874.50 \$171.50
2/2/2022	Veronica Collins- Perez	Download and save Provisional Response in Opposition to Motion to Compel Arbitration (Document 53), maintenance and management of Investors Sharefile folders and Worldox database.	0.6	\$245.00	\$147.00
2/2/2022	Veronica Collins- Perez	Calendar Zoom call with Mediator Judge Royal Ferguson and send invite to Attorney Jennifer Lloyd.	0.2	\$245.00	\$49.00
2/2/2022	Koreen Kempton	Review electronic correspondence from Texas Court and coordinate upload of same to case database.	0.2	\$275.00	\$55.00
2/3/2022	Robert Brownlie	Attend to expert witness and mediation issues.	0.4	\$795.00	\$318.00
2/3/2022	Veronica Collins- Perez	Review and index deposition exhibits.	1.6	\$245.00	\$392.00
2/3/2022	Veronica Collins- Perez	Download, save, and calendar deposition notices; send invites to Attorney Jennifer Lloyd.	0.7	\$245.00	\$171.50
2/3/2022	Koreen Kempton	Prepare secure sharefile folder and upload case materials	3.4	\$275.00	\$935.00
2/4/2022	Veronica Collins- Perez	Review and index deposition exhibits.	1.9	\$245.00	\$465.50
2/4/2022	Veronica Collins- Perez	Download, save, and calendar deposition notices; send invites to Attorney Jennifer Lloyd.	0.6	\$245.00	\$147.00
2/4/2022	Koreen Kempton	Index deposition exhibits.	0.6	\$275.00	\$165.00
2/7/2022	Robert Brownlie	Participate in mediation call with the mediator. Revise and edit Ninth Circuit opening brief.	5.1	\$795.00	\$4,054.50
2/7/2022	Veronica Collins- Perez	Review and index deposition exhibits for expert.	2.6	\$245.00	\$637.00
2/7/2022	Veronica Collins- Perez	Update calendar with new time for conference call with Judge Royal Ferguson.	0.2	\$245.00	\$49.00
2/7/2022	Veronica Collins- Perez	Conduct research grade ; review court's dos and donts; discuss with Kori Kempton.	1.8	\$245.00	\$441.00
2/7/2022	Koreen Kempton	Index documents for draft Appellant's Excerpts of Record in Parziale v.	1.9	\$275.00	\$522.50
2/8/2022	Robert Brownlie	Nelson, In the United States Court of Appeals for the Ninth Circuit.  Prepare for and participate in Zoom meeting with mediator. Edit Ninth Circuit brief.	2.2	\$795.00	\$1,749.00
2/8/2022	Veronica Collins- Perez	Review and index deposition exhibits for expert.	3.5	\$245.00	\$857.50
2/8/2022	Veronica Collins- Perez	Update calendar with new deadline to file opening and answering briefs per court's order; download and save new court filings; update deposition tracker; calendar depositions.	1.2	\$245.00	\$294.00
2/8/2022	Koreen Kempton	Prepare draft Appellant's Excerpts of Record in Parziale v. Nelson, In the United States Court of Appeals for the Ninth Circuit; Review and reply to electronic correspondence; Update Deposition Chart; and Update Investor chart.	6.9	\$275.00	\$1,897.50
2/9/2022	Veronica Collins-	Download new filings and exhibits re Motion for Summary Judgment,	1.2	\$245.00	\$294.00
2/9/2022	Perez Koreen Kempton	rename documents, save to case file, and calendar motion.  Edit draft Appellant's Excerpts of Record in Parziale v. Nelson, In the United States Court of Appeals for the Ninth Circuit; Review and reply to electronic correspondence to Alaine at Counsel Press regarding Appeal filing; Update deposition schedule chart; and Review electronic correspondence from Texas Court and coordinate upload of same to case database	2.9	\$275.00	\$797.50
2/9/2022	Gerard Trippitelli	Revise opening brief in Parziale Ninth Circuit appeal.	4.2	\$550.00	\$2,310.00
2/10/2022	Robert Brownlie	Finalize Ninth Circuit Brief	1.6	\$795.00	\$1,272.00
2/10/2022	Veronica Collins- Perez	Download and save new court filings; calendar depositions; calendar motions; compare documents saved to file to documents provided in link	1.9	\$245.00	\$465.50
2/10/2022	Koreen Kempton	by Attorney Jenny Lloyd; organize documents in case file. Send draft Appellant's Excerpts of Record in Parziale v. Nelson, In the United States Court of Appeals for the Ninth Circuit to Counsel Press for review; Update Hearing tracker; and Review electronic correspondence from Texas Court and coordinate upload of same to case database.	2.4	\$275.00	\$660.00
2/11/2022	Robert Brownlie	Analyze Telephone conference	1.1	\$795.00	\$874.50
2/11/2022	Veronica Collins-	Download and save filed endorsed copy of Opening Brief; review and	0.8	\$245.00	\$196.00
2/11/2022	Perez Koreen Kempton	compare deposition tracker.  Coordinate filing and service of Final Appellate Brief and Excerpt of Records; Update Deposition and Hearing tracker; and Review electronic correspondence from Texas Court and coordinate upload of same to	2.7	\$275.00	\$742.50
		case database.			<b>.</b>
2/14/2022 2/14/2022	Robert Brownlie Veronica Collins- Perez	Review and revise mediation statement.  Download, save, and calendar deposition notices; send invites to Attorney Jennifer Lloyd.	1.4 0.7	\$795.00 \$245.00	\$1,113.00 \$171.50

2/14/2022 2/15/2022	Koreen Kempton Robert Brownlie	Update Deposition tracker.  Review and revise mediation statement. Review motions for summary judgment. Telephone conference Prepare opposition	0.4 7.3	\$275.00 \$795.00	\$110.00 \$5,803.50
2/15/2022	Koreen Kempton	to TCG's motion for summary judgment.  Download Texas case materials relating to Motion for Summary  Judgement and send to Attorney Robert Brownlie for review; and Review electronic correspondence from Texas Court and coordinate upload of same to case database.	1.2	\$275.00	\$330.00
2/16/2022 2/16/2022	Robert Brownlie Veronica Collins- Perez	Participate in Austin case hearing. Prepare opposition to MSJ motion.  Download and save new filings and deposition notices; calendar deposition notices; send invites to Attorney Jennifer Lloyd; update Deposition Tracker.	2.2 0.8	\$795.00 \$245.00	\$1,749.00 \$196.00
2/16/2022	Koreen Kempton	Download Nelson document production; Send to Casepoint to load in review database; and Update document production tracker.	0.6	\$275.00	\$165.00
2/17/2022 2/17/2022	Robert Brownlie Koreen Kempton	Prepare opposition to TCG's motion for partial summary judgment.  Review and reply to Prepare and send electronic correspondence to Attorney Robert Brownlie; and Review electronic correspondence from Texas Court	6.6 0.7	\$795.00 \$275.00	\$5,247.00 \$192.50
2/18/2022	Robert Brownlie	Continue to prepare oppositions to summary judgment motions in Austin case. Telephone conference	4.8	\$795.00	\$3,816.00
2/18/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	1.4	\$245.00	\$343.00
2/18/2022	Koreen Kempton	Review electronic correspondence from Texas Court and coordinate upload of same to case database.	0.2	\$275.00	\$55.00
2/22/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; calendar discovery response deadline; prepare and send discovery response shells to Attorney Jenny Lloyd.	2.8	\$245.00	\$686.00
2/22/2022	Koreen Kempton	Prepare correspondence to Jenny Lloyd regarding document productions; Coordinate preparation of Discovery Response documents; Review electronic correspondence from Texas Court and coordinate upload of same to case database.	1.2	\$275.00	\$330.00
2/23/2022	Robert Brownlie	Participate in mediation. Telephone conference with	8.4	\$795.00	\$6,678.00
2/23/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; calendar depositions and add Zoom links.	1.2	\$245.00	\$294.00
2/23/2022	Koreen Kempton	Review electronic correspondence from Texas Court and coordinate upload of same to case database.	0.2	\$275.00	\$55.00
2/24/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.7	\$245.00	\$171.50
2/25/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; calendar motion.	8.0	\$245.00	\$196.00
2/28/2022	Koreen Kempton	Review electronic correspondence from Texas Court and coordinate upload of same to case database.	0.3	\$275.00	\$82.50
2/28/2022	Robert Brownlie	Participate in mediation. Telephone conferences	9.4	\$795.00	\$7,473.00
2/28/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; calendar motion to compel arbitration.	0.6	\$245.00	\$147.00
3/1/2022	Robert Brownlie	Prepare for and participate in hearing on Motion for Summary Judgment. Telephone conference	4.2	\$795.00	\$3,339.00
3/1/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; calendar motion and deadlines.	1.8	\$245.00	\$441.00
3/2/2022	Koreen Kempton	Prepare electronic correspondence  Calculate ; Coordinate upload of Texas fillings to document management database; and	1.7	\$275.00	\$467.50
3/2/2022	Robert Brownlie	Prepare Telephone conference	4.4	\$795.00	\$3,498.00
3/2/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.9	\$245.00	\$220.50
3/3/2022	Koreen Kempton	Reply to multiple Update ; Research	5.8	\$275.00	\$1,595.00
3/3/2022	Veronica Collins- Perez	Continue saving deposition notices; Calendar deposition dates and send	1.3	\$245.00	\$318.50
3/4/2022	Koreen Kempton	invites to Attorney Jennifer Lloyd.  Attend ; Track and Prepare and reply to	6.3	\$275.00	\$1,732.50
3/4/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; update depo tracker.	1.2	\$245.00	\$294.00
3/7/2022	Robert Brownlie	Telephone conferences	4.6	\$795.00	\$3,657.00

3/7/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; update calendar per TCG's Notice of Motion; add depositions to Deadlines.com.	2.5	\$245.00	\$612.50
3/7/2022	Koreen Kempton	Prepare correspondence to Update Download document production; Update production tracker; Rename production pdfs; and Send productions to CasePoint to load in review database.	4.2	\$275.00	\$1,155.00
3/8/2022	Robert Brownlie	Review and respond to Research issues Telephone conference	6.6	\$795.00	\$5,247.00
3/8/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; review Deposition Tracker and confirm that all depositions are	1.2	\$245.00	\$294.00
3/8/2022	Koreen Kempton	correct. Prepare correspondence to CasePoint regarding production folders; Prepare case calendar through Trial; Prepare correspondence Update Prepare electronic correspondence under Update Prepare electronic correspondence Update and Reserve hotel for Simmons deposition.	5.4	\$275.00	\$1,485.00
3/9/2022	Robert Brownlie	Participate in Zoom meeting with Judge Furgeson. Prepare opposition to Axonic's motion for partial summary judgment.	6.9	\$795.00	\$5,485.50
3/9/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; add Zoom link to calendar entry for deposition of Jeffrey Hansen; update calendar re depositions of Schiffman, Polk, and Fuertez.	0.8	\$245.00	\$196.00
3/9/2022	Koreen Kempton	Communicate with Prepare electronic correspondence Find forensic specialist Communicate with Ankura regarding project; Communicate with Hotel regarding reservations; Research ; Update and Prepare electronic correspondence to Robert Brownlie regarding	7.7	\$275.00	\$2,117.50
3/10/2022	Robert Brownlie	Prepare for and participate in deposition of Mr. McQuade. Continue to prepare opposition to Axonic's motion for partial summary judgment. Prepare response to Mr. Given's meet and confer letter.	9.7	\$795.00	\$7,711.50
3/10/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; add Zoom link to calendar entries.	0.6	\$245.00	\$147.00
3/10/2022	Koreen Kempton	Review and tag Jim Parziale emails for document production; Prepare multiple electronic correspondence and Update deposition chart.	7	\$275.00	\$1,925.00
3/11/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; update calendar re depositions of Sandy Simmons.	1.2	\$245.00	\$294.00
3/11/2022	Koreen Kempton	Coordinate database search with Casepoint; Cancel hotels for depositions; Prepare and serve Parz document production; Download Greystar document production; Update production chart; and Research	5.2	\$275.00	\$1,430.00
3/14/2022	Robert Brownlie	Review opposition to Axonic's motion for partial summary judgment.  Prepare declaration of Mr. Parziale.	1.8	\$795.00	\$1,431.00
3/14/2022	Koreen Kempton	Prepare and send electronic correspondence; Update case calendar; Print productions to pdf; Prepare multiple electronic correspondence and Update client	5.9	\$275.00	\$1,622.50
3/15/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.6	\$245.00	\$147.00
3/15/2022	Koreen Kempton	Prepare electronic correspondence Prepare and serve PARZ document production; Communicate with ; and Schedule	4.1	\$275.00	\$1,127.50
3/16/2022 3/16/2022	Robert Brownlie Koreen Kempton	Meet with Update deposition chart; Reserve hotel for Simmons deposition; Prepare electronic correspondence to ; Attend Update  . and	4.3 7.9	\$795.00 \$275.00	\$3,418.50 \$2,172.50
3/17/2022 3/17/2022	Robert Brownlie Veronica Collins- Perez	Prepare for and defend Mr. Parziale's deposition.  Download Texas Court filings; maintenance and management of Worldox database; add Zoom link to calendar entry for motion hearings; update calendar with new deposition date for Sandy Simmons; add motion hearings to calendar.	7.7 1.3	\$795.00 \$245.00	\$6,121.50 \$318.50
3/17/2022 3/18/2022	Koreen Kempton Robert Brownlie	Update deposition chart; and Communicate with Revise supplemental discovery responses. Identify and assign tasks going forward. Prepare for hearing on motions for partial summary judgment, motion to compel, and motion to compel arbitration. Review and revise opposition to motion to compel arbitration.	1.3 6.6	\$275.00 \$795.00	\$357.50 \$5,247.00

3/18/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; save deposition notice of Adam Ashourzadeh and calendar; update calendar with new Motion to Dismiss date; work on Privilege Log; download Volumes 1 and 2 of PCM production.	3.4	\$245.00	\$833.00
3/18/2022	Koreen Kempton	Prepare search in database; Review and tag documents for production; and Update case calendar.	5.6	\$275.00	\$1,540.00
3/20/2022	Robert Brownlie	Telephone conference Prepare for hearing.	1.9	\$795.00	\$1,510.50
3/21/2022	Robert Brownlie	Prepare for and attend hearing on various motions. Telephone conference	8.2	\$795.00	\$6,519.00
3/21/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; update calendar with cancelation of Eric Kaufman's deposition; add Zoom link to deposition calendar entry re Javier Martinez.	1.8	\$245.00	\$441.00
3/21/2022	Koreen Kempton	Prepare electronic correspondence to Attorney Jenny Lloyd regarding PCM; Prepare search in production database; Review and tag documents for production; Update case calendar; Prepare Privilege Log; Prepare electronic correspondence to Suzy Nakamura regarding production volumes; Prepare and serve final privilege log and document production on Opposing Counsel.	11	\$275.00	\$3,025.00
3/22/2022	Robert Brownlie	Attend hearing on discovery motions. Meet with	7	\$795.00	\$5,565.00
3/22/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; review calendar for deposition dates and times; make sure all pretrial deadlines are calendared; work on Pre-trial Disclosures and research court rules 194.2; 194.3 and 194.4; attempt to open and download production Folders 5 and 6 from Patrick Capital Markets.	2.3	\$245.00	\$563.50
3/22/2022	Koreen Kempton	Search and Review PCM document production; Prepare electronic correspondence to Court Reporter with Orders for depositions; Update case calendar and send to team; Prepare electronic correspondence to Casepoint; Upload new TSG document production in database; Review Protective Order rules regarding Confidentiality of Parziale deposition; and Update	7.9	\$275.00	\$2,172.50
3/23/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; update calendar regarding Doueck deposition; add Zoom links to deposition calendar entries for Ashourzadeh and Doueck; prepare cross-notices for depositions of Ashourzadeh, Schwartz and Doueck and send to Kori Kempton for review; download and save new deposition notices and update calendar.	2.4	\$245.00	\$588.00
3/23/2022	Koreen Kempton	Send new document productions to Casepoint to load in database; Communicate with Christy at Casepoint regarding folder structure; Edit Deposition Cross Notices and serve on Opposing Counsel; Prepare Pretrial Disclosures; Download new Deposition transcripts from Court Reporting Agency; and Prepare electronic correspondence	6.4	\$275.00	\$1,760.00
3/24/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; confirm time and update calendar with new start time for Schwartz deposition; add Zoom link to deposition calendar entry; deposition exhibit indexing; work on pre-trial disclosures.	3.9	\$245.00	\$955.50
3/24/2022	Koreen Kempton	Update Pretrial Disclosures with new charts; Download new Deposition transcripts from Court Reporting Agency; Update trial exhibit folder; Download new Nelson document production; Update production tracker; Send new document productions to Casepoint to load in database; and Upload new videos.	5.2	\$275.00	\$1,430.00
3/25/2022	Robert Brownlie	Prepare for and attend deposition of Mr. Schwartz. Revise pre-trial disclosures. Participate in conference calls regarding the same.	6.6	\$795.00	\$5,247.00
3/25/2022	Koreen Kempton	Update Expert Designation chart and Witness Charts; Edit Pretrial Disclosures; Prepare electronic correspondence to Suzy Nakamura regarding depositions; and Update case calendar.	5.6	\$275.00	\$1,540.00
3/25/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.5	\$245.00	\$122.50
3/28/2022 3/28/2022	Robert Brownlie Koreen Kempton	Prepare for oral argument in Puleo. Prepare Puleo hearing binder; Update Download and save Texas Court filings; and Prepare and send deposition orders to Court Reporters.	0.8 2.3	\$795.00 \$275.00	\$636.00 \$632.50
3/29/2022 3/29/2022	Robert Brownlie Koreen Kempton	Prepare for and attend hearing on Puelo motion to dismiss. Review court filings and save to Worldox; Download new TSG depositions; Load pdfs in Trial exhibit folder; Search and review documents in database to comply with Motion to Compel order; and Update	7.7 4.7	\$795.00 \$275.00	\$6,121.50 \$1,292.50

3/30/2022	Robert Brownlie	Telephone conferences with Attorney Brothers. Telephone conferences with Attorney Lloyd. Review documents. Prepare for and participate in pretrial meeting of counsel. Prepare global settlement demand.	5.1	\$795.00	\$4,054.50
3/30/2022	Koreen Kempton	Strategize Prepare electronic correspondence ; Send Download Court Filings and upload to Worldox; and Prepare list of email addresses for Casepoint searches	6.8	\$275.00	\$1,870.00
3/31/2022	Koreen Kempton	Prepare electronic to Casepoint with searches needed for document review; Communicate with Christy at Casepoint; Prepare electronic correspondence to Attorney Jenny Lloyd regarding documents to review to comply with Motion to Compel Order; and Respond to	3.6	\$275.00	\$990.00
3/31/2022	Robert Brownlie	Attend and prepare for trial.	11.6	\$795.00	\$9,222.00
4/1/2022	Robert Brownlie	Prepare	2.2	\$795.00	\$1,749.00
4/1/2022	Koreen Kempton	Prepare electronic correspondence ; Download depositions; Update deposition index; Prepare and send Download TCG document production; Update production chart; and research	4.8	\$275.00	\$1,320.00
4/4/2022	Robert Brownlie	Telephone conference	0.4	\$795.00	\$318.00
4/4/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	1	\$245.00	\$245.00
4/4/2022	Koreen Kempton	Prepare multiple electronic correspondence Prepare and service Parziale document production; and Update production chart.	5.1	\$275.00	\$1,402.50
4/5/2022	Robert Brownlie	Prepare for trial. Attend to pretrial motions.	8.1	\$795.00	\$6,439.50
4/5/2022	Veronica Collins-	Download Texas Court filings; maintenance and management of Worldox	8.0	\$245.00	\$196.00
4/5/2022	Perez Koreen Kempton	database. Update and Make Parziale	0.4	\$275.00	\$110.00
4/6/2022	Robert Brownlie	hotel reservation for trial.  Meet with Attorneys Brothers, Horton and Lloyd to plan the trial, discuss	9.1	\$795.00	\$7,234.50
		settlement, and other trial preparation.			
4/6/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	1	\$245.00	\$245.00
4/6/2022	Koreen Kempton	Prepare electronic correspondence to Counsel Press, Appellate Company, regarding Brownlie Hansen contact for upcoming filing; Download deposition exhibits; Prepare multiple electronic responses ; Download TCG document production; Update production tracker; and send TCG production to Casepoint to upload in database for attorney review.	3.4	\$275.00	\$935.00
4/7/2022 4/7/2022	Robert Brownlie Veronica Collins-	Prepare for trial. Prepare Download Texas Court filings; maintenance and management of Worldox	2.1 1	\$795.00 \$245.00	\$1,669.50 \$245.00
4/0/0000	Perez	database.	0.0	<b>#705.00</b>	<b>CO 544 00</b>
4/8/2022 4/8/2022	Robert Brownlie Veronica Collins-	Prepare for trial. Identify trial exhibits.  Download Texas Court filings; maintenance and management of Worldox	3.2 1.1	\$795.00 \$245.00	\$2,544.00 \$269.50
4/0/2022	Perez	database.	1.1	Ψ245.00	φ209.30
4/8/2022	Koreen Kempton	Download Axonic and Nelson document productions; Update production tracker; Send Axonic and Nelson productions to Casepoint to upload in database for attorney review; Download video; and Prepare multiple electronic responses	5	\$275.00	\$1,375.00
4/9/2022	Robert Brownlie	Identify trial exhibits.	1.2	\$795.00	\$954.00
4/11/2022	Robert Brownlie	Prepare for trial. Prepare motions in limine. Identify trial exhibits.	10.1	\$795.00	\$8,029.50
4/11/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	1.6	\$245.00	\$392.00
4/11/2022	Koreen Kempton	Prepare Prepare Prepare Prepare Prepare Prepare Prepare Prepare Multiple electronic responses Prepare Italian Prepare trial exhibit list and trial exhibit pdfs.	6.3	\$275.00	\$1,732.50
4/12/2022 4/12/2022	Robert Brownlie Veronica Collins-	Prepare for trial. Revise motions in limine. Identify trial exhibits.  Download Texas Court filings; maintenance and management of Worldox	14.1 1	\$795.00 \$245.00	\$11,209.50 \$245.00
4/12/2022	Perez Koreen Kempton	database.  Prepare multiple electronic responses ; Track ; Track ; and Prepare trial exhibit list; witness list and deposition designations; and Prepare trial exhibit pdfs.	4.6	\$275.00	\$1,265.00
4/13/2022	Robert Brownlie	Prepare for trial. Edit motions in limine.	12.6	\$795.00	\$10,017.00
4/13/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.6	\$245.00	\$147.00
4/13/2022	Koreen Kempton	Prepare multiple electronic responses ; Prepare and serve final trial exhibit list; witness list and deposition designations; and Prepare trial exhibit pdfs.	9.5	\$275.00	\$2,612.50
4/14/2022	Robert Brownlie	Prepare for trial. Attend to motions in limine.	8.4	\$795.00	\$6,678.00
4/14/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.7	\$245.00	\$171.50

4/14/2022	Koreen Kempton	Download TCG document production; Update production tracker; Send TCG production to Casepoint to load in database; Prepare multiple electronic responses and Serve trial exhibit pdfs.	3.8	\$275.00	\$1,045.00
4/15/2022	Robert Brownlie	Participate in focus group prep. Prepare for trial.	5.2	\$795.00	\$4,134.00
4/16/2022	Robert Brownlie	Review and revise settlement stipulation.	1.1	\$795.00	\$874.50
4/17/2022	Robert Brownlie	Review and revise settlement stipulation and agreed judgment.	0.9	\$795.00	\$715.50
4/18/2022	Robert Brownlie	Prepare opening statement. Review and revise settlement documents.	7.2	\$795.00	\$5,724.00
		Review and object to deposition designations. Prepare for trial.			
4/18/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; calendar Zoom video conference with Judge on 4/21; format deposition exhibit objections and highlights.	4.1	\$245.00	\$1,004.50
4/18/2022	Koreen Kempton	Highlight Parties initial deposition designations for Attorneys to review and prepare Counter-designations; Prepare and send Anthony at Imagine Reporting trial exhibits to print in hard copy for San Diego office; Finalize objections to trial exhibit lists; Prepare excel chart for deposition objections and counter Designations; Serve objections to trial exhibit lists, deposition designations and counter designations on Parties; and Prepare and send multiple electronic correspondence	10.1	\$275.00	\$2,777.50
4/19/2022	Robert Brownlie	Prepare for and participate in focus group. Prepare objections to documentary evidence. Prepare	10.1	\$795.00	\$8,029.50
4/19/2022	Katherine Page	Analysis of opening and answering brief and cited authorities; outline	4.9	\$495.00	\$2,425.50
4/19/2022	Veronica Collins-	reply brief.  Download Texas Court filings; maintenance and management of Worldox	2.5	\$245.00	\$612.50
	Perez	database; calendar Zoom video conference with Judge on 4/21; format deposition exhibit objections and highlights.			
4/19/2022	Koreen Kempton	Prepare for trial; including: Download TCG and Nelson Partners document productions; update document production tracker; Send TCG and Nelson Partners productions to Casepoint to upload to review database; Review counter designations and prepare objections; and	9	\$275.00	\$2,475.00
		Prepare and send multiple electronic correspondence			
4/20/2022	Robert Brownlie	Prepare for and participate in meeting of counsel. Review and revise preliminary approval order. Review and revise pocket briefs.	8.1	\$795.00	\$6,439.50
4/20/2022	Katherine Page	Analysis of opening and answering brief and cited authorities; outline reply brief.	2.7	\$495.00	\$1,336.50
4/20/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; download documents from Box.com; process mail; download and organize all petitions and answers; call Texas hotel regarding receiving deliveries for trial; prepare and file response to consideration	3	\$245.00	\$735.00
4/20/2022	Koreen Kempton	for oral argument.  Prepare for trial; including: Prepare and send multiple electronic correspondence Update trial exhibit list with Parties objections;  Prepare trial exhibit pdfs; Load depositions in Case Notebook; and Prepare and send case materials to print vendor in Texas to print for courtroom.	9.4	\$275.00	\$2,585.00
4/21/2022	Robert Brownlie	Prepare for and attend pretrial conference. Debrief with co-counsel. Continue to prepare for trial.	10.1	\$795.00	\$8,029.50
4/21/2022	Katherine Page	Research and draft	4.3	\$495.00	\$2,128.50
4/21/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; continue to organize petitions and answers; upload documents to OneDrive and share link; prepare FedEx labels and get boxes ready for pickup/delivery to Texas hotel before trial.	2	\$245.00	\$490.00
4/21/2022	Koreen Kempton	Prepare for trial; including: Prepare USB with trial materials for Attorneys; Prepare case materials to be shipped to Texas for trial; Provide case supplies for sending to Texas war room; Prepare and send multiple electronic correspondence Update trial exhibit list; and Prepare new stamped trial exhibit pdfs.	10.3	\$275.00	\$2,832.50
4/22/2022	Robert Brownlie	Participate in meeting of counsel. Finalize	2.3	\$795.00	\$1,828.50
4/22/2022	Katherine Page	Research and draft	4.1	\$495.00	\$2,029.50
4/22/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	1	\$245.00	\$245.00
4/22/2022	Koreen Kempton	Prepare for trial; including: Rename trial exhibit pdfs for combined file folder; Locate and provide Live Pleadings to Attorney Jenny Lloyd and print vendor in Texas; Communicate with Hotel regarding changed arrival date; Communicate with Communicate with Hotel Sales person, Gabby, regarding hotel stay; and	7.9	\$275.00	\$2,172.50
410410000	Dahart Door "	Finalize trial binders for courtroom with Texas printer.	7.4	<b>#705.00</b>	<b>#E 000 00</b>
4/24/2022	Robert Brownlie	Travel to Austin.	7.4	\$795.00	\$5,883.00 \$4,443.00
4/24/2022	Robert Brownlie	Prepare for trial	1.4	\$795.00 \$705.00	\$1,113.00 \$7,050.00
4/24/2022	Robert Brownlie	Prepare for trial	10	\$795.00	\$7,950.00

4/24/2022	Koreen Kempton	Track UPS boxes sent to hotel for trial; Communicate with Hotel multiple times; and Communicate with UPS multiple times.	1.2	\$275.00	\$330.00
4/25/2022	Robert Brownlie	Attend trial. Prepare for cross-examinations.	13.1	\$795.00	\$10,414.50
4/25/2022	Katherine Page	Research and draft	4.2	\$495.00	\$2,079.00
4/25/2022	Koreen Kempton	Prepare for trial; including: Update trial exhibit list with objections; Prepare and respond to multiple electronic correspondence and Prepare electronic correspondence to Robert Brownlie and Jenny Lloyd regarding trial projects; and Search production database for letters as requested by Attorney Jenny Lloyd.	4.1	\$275.00	\$1,127.50
4/26/2022	Robert Brownlie	Attend and prepare for trial	14.5	\$795.00	\$11,527.50
4/26/2022 4/26/2022	Katherine Page Veronica Collins- Perez	Research and draft  Download Texas Court filings; maintenance and management of Worldox database.	3.2 0.8	\$495.00 \$245.00	\$1,584.00 \$196.00
4/26/2022	Koreen Kempton	Prepare and send Plan of Liquidation information; Respond to multiple electronic correspondence; Prepare electronic correspondence to Robert Brownlie and Jenny Lloyd regarding live stream trial; and Communicate with Attorney Robert Brownlie regarding trial projects.	2.8	\$275.00	\$770.00
4/27/2022 4/27/2022	Robert Brownlie Veronica Collins- Perez	Prepare for and attend trial  Download Texas Court filings; maintenance and management of Worldox database.	18.3 0.5	\$795.00 \$245.00	\$14,548.50 \$122.50
4/27/2022	Koreen Kempton	Prepare multiple electronic correspondence to Texas Trial Paralegals regarding jury lunches; Update ; and	2.2	\$275.00	\$605.00
4/28/2022	Veronica Collins- Perez	Update trial exhibit list with admitted trial exhibits.  Download Texas Court filings; maintenance and management of Worldox database.	0.5	\$245.00	\$122.50
4/28/2022	Koreen Kempton	Update trial exhibit list with admitted trial exhibits; Strategize with Attorney Jenny Lloyd regarding trial projects; Update; and Prepare multiple electronic correspondence	4.4	\$275.00	\$1,210.00
4/28/2022	Robert Brownlie	Prepare for and attend trial	13.9	\$795.00	\$11,050.50
4/29/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.5	\$245.00	\$122.50
4/29/2022 4/30/2022	Robert Brownlie Robert Brownlie	Prepare for and attend trial.  Prepare for trial.	11.1 4	\$795.00 \$795.00	\$8,824.50 \$3,180.00
5/1/2022	Robert Brownlie	Prepare for trial.	8.9	\$795.00	\$7,075.50
5/2/2022	Koreen Kempton	Communicate with Communicate with hotel sales manager regarding Jim's hotel reservations; Send Locate and provide Axonic exhibits as requested by Attorney Jenny	3.6	\$275.00	\$990.00
5/2/2022	Veronica Collins-	Lloyd; and Update Trial exhibit list with admitted exhibits and send to trial team.  Download Texas Court filings; maintenance and management of Worldox	0.3	\$245.00	\$73.50
5/3/2022	Perez Robert Brownlie	database.  Attend and prepare for trial.	12.1	\$795.00	\$9,619.50
5/3/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; prepare email to Counsel Press for filing of Reply Brief.	1.9	\$245.00	\$465.50
5/3/2022	Koreen Kempton	Pull cases cited in Jury Charge and send to Attorney Jenny Lloyd  Locate and provide  and Update Trial exhibit list with admitted exhibits and send to	3.8	\$275.00	\$1,045.00
5/4/2022	Robert Brownlie	trial team. Prepare for and attend trial.	12.9	\$795.00	\$10,255.50
5/4/2022	Robert Brownlie	Attend trial and informal charge conference. Telephone conference	9.3	\$795.00	\$7,393.50
5/4/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.4	\$245.00	\$98.00
5/4/2022	Koreen Kempton	Coordinate print job and delivery to Jenny Lloyd's house of cases cited in Jury Charge; Log new checks in Client tracker; Prepare multiple electronic correspondence; Send Appellant's Reply Brief from Counsel Press to team; and Update Trial exhibit list with admitted exhibits and send to trial team.	2.6	\$275.00	\$715.00
5/5/2022 5/5/2022	Robert Brownlie Veronica Collins-	Prepare for and attend trial.  Download Texas Court filings; maintenance and management of Worldox	15.1 0.4	\$795.00 \$245.00	\$12,004.50 \$98.00
5/5/2022	Perez Koreen Kempton	database.  Prepare multiple electronic correspondence to trial Paralegals regarding Jury Notebooks; Prepare multiple electronic correspondence and Update Trial exhibit list with admitted exhibits and send to trial team.	1.8	\$275.00	\$495.00
5/6/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.8	\$245.00	\$196.00

5/6/2022	Koreen Kempton	Prepare multiple electronic correspondence to trial Paralegals regarding Jury Notebooks; Prepare multiple electronic correspondence; Update Forward Goodman & Nedvasil email to Robert Brownlie and Jenny Lloyd, and Update Trial exhibit list with admitted exhibits and send to trial team.	2.3	\$275.00	\$632.50
5/7/2022 5/8/2022 5/9/2022 5/9/2022	Robert Brownlie Robert Brownlie Robert Brownlie Veronica Collins-	Prepare closing statement. Prepare for closing argument. Attend trial. Download Texas Court filings; maintenance and management of Worldox	4.4 10.6 8.9 0.5	\$795.00 \$795.00 \$795.00 \$245.00	\$3,498.00 \$8,427.00 \$7,075.50 \$122.50
5/9/2022	Perez Koreen Kempton	database.  Prepare multiple electronic correspondence to Suzy Nakamura regarding Jury Notebooks; Communicate with Paralegals regarding shipping case materials back to San Diego; Prepare multiple electronic correspondence ; Update Communicate with Hotel regarding Jim's reservations, and Update Trial exhibit list with admitted exhibits and send to trial team.	2.6	\$275.00	\$715.00
5/10/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.5	\$245.00	\$122.50
5/11/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.4	\$245.00	\$98.00
5/11/2022	Koreen Kempton	Prepare multiple electronic correspondence Update Redact Jim Parziale's deposition transcript and research Motion to Seal filing; Prepare and send Fedex slips to Robert to ship case materials back to San Diego; Communicate with Hotel regarding outgoing Fedex boxes; and Prepare electronic correspondence to Hotel regarding early check out.	4.6	\$275.00	\$1,265.00
5/11/2022	Ryan Hansen	Strategize regarding second phase and second phase argument; poll jurors following judgment; strategize regarding same.	2.8	\$695.00	\$1,946.00
5/12/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database; search for sample motion to file exhibit under seal.	1.3	\$245.00	\$318.50
5/12/2022	Koreen Kempton	Prepare multiple electronic correspondence  Communicate with Hotel manager regarding Jim Parziale's hotel invoice to be paid by Brownlie Hansen credit card.	2.5	\$275.00	\$687.50
5/12/2022 5/16/2022	Ryan Hansen Veronica Collins- Perez	Strategize regarding post-trial motions and issues.  Download Texas Court filings; maintenance and management of Worldox database.	1.2 0.6	\$695.00 \$245.00	\$834.00 \$147.00
5/16/2022	Koreen Kempton	Prepare multiple electronic correspondence Prepare electronic correspondence to Suzy Nakamura; and Prepare Cost chart	1.5	\$275.00	\$412.50
5/17/2022	Veronica Collins- Perez	Unpack trial exhibit binders; prepare for shredding; create admitted exhibits binder set.	3.3	\$245.00	\$808.50
5/17/2022	Koreen Kempton	Update and finalize Admitted trial exhibit list and send to Paralegal's at court to submit; Prepare multiple electronic correspondence	2.6	\$275.00	\$715.00
5/18/2022	Veronica Collins- Perez	; and Communicate Unpack trial exhibit binders; prepare for shredding; create admitted exhibits binder set.	1.2	\$245.00	\$294.00
5/18/2022	Veronica Collins- Perez	Unpack trial exhibit binders; prepare for shredding; create admitted exhibits binder set.	3.4	\$245.00	\$833.00
5/18/2022	Koreen Kempton	Set up and prepare and Prepare multiple electronic correspondence	1.1	\$275.00	\$302.50
5/20/2022	Veronica Collins- Perez	Unpack trial exhibit binders; prepare for shredding; create admitted exhibits binder set.	1.2	\$245.00	\$294.00
5/20/2022	Koreen Kempton	Prepare electronic correspondence  Strategize with Attorney Jenny Lloyd regarding post trial projects; Update  Respond to	2.9	\$275.00	\$797.50
5/23/2022	Robert Brownlie	Research	1.4	\$795.00	\$1,113.00
5/23/2022	Veronica Collins- Perez	Unpack trial exhibit binders; prepare for shredding; create admitted exhibits binder set.	0.4	\$245.00	\$98.00
5/23/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.4	\$245.00	\$98.00
5/23/2022	Koreen Kempton	Cross reference Nelson Partners last know addresses with Client physical and email addresses; Prepare electronic correspondence to Brenda at Wick Phillips regarding updated addresses to send Notices regarding Plan of Liquidation; Prepare electronic correspondence and Prepare multiple electronic correspondence	5	\$275.00	\$1,375.00
5/24/2022	Robert Brownlie	Prepare for and participate Further research Prepare brief on equitable remedies.	7.5	\$795.00	\$5,962.50

5/24/2022	Koreen Kempton	Prepare multiple electronic correspondence  Communicate  Prepare and send	3.1	\$275.00	\$852.50
5/25/2022	Koreen Kempton	Prepare multiple electronic correspondence and Prepare and send	0.9	\$275.00	\$247.50
5/25/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox	0.3	\$245.00	\$73.50
5/27/2022	Koreen Kempton	database. Prepare and Prepare	0.4	\$275.00	\$110.00
5/27/2022	Veronica Collins- Perez	Update calendar with new status conference date.	0.2	\$245.00	\$49.00
5/31/2022	Robert Brownlie	Telephone conferences Attend to post hearing briefs.	5.7	\$795.00	\$4,531.50
6/1/2022	Robert Brownlie	Coordinate post-trial briefing. Continue to research	6.8	\$795.00	\$5,406.00
6/2/2022	Koreen Kempton	Prepare electronic correspondence	0.8	\$275.00	\$220.00
6/3/2022	Robert Brownlie	Continue to research	5.1	\$795.00	\$4,054.50
6/6/2022	Robert Brownlie	Continue to research	2.9	\$795.00	\$2,305.50
6/7/2022	Robert Brownlie	Continue to prepare equitable remedies brief.	2.9	\$795.00	\$2,305.50
6/7/2022	Koreen Kempton	Prepare electronic correspondence	0.6	\$275.00	\$165.00
6/8/2022	Katherine Page	Research and analysis	1	\$495.00	\$495.00
6/9/2022	Robert Brownlie	Respond to	1.1	\$795.00	\$874.50
6/13/2022	Robert Brownlie	Continue to prepare post hearing brief	4.4	\$795.00	\$3,498.00
6/14/2022	Robert Brownlie	Meeting with Prepare errata to	6.8	\$795.00	\$5,406.00
		Plan of Liquidation. Continue to research		·	
6/15/2022	Robert Brownlie	Further revisions to Errata. Continue research and preparation.	4.1	\$795.00	\$3,259.50
6/16/2022	Robert Brownlie	Prepare post hearing brief.	4.1	\$795.00	\$3,259.50
6/17/2022	Robert Brownlie	Continue to prepare brief on equitable remedies.	3.1	\$795.00	\$2,464.50
6/21/2022	Robert Brownlie	Research	5.1	\$795.00	\$4,054.50
6/21/2022	Katherine Page	Draft motion to stay appeal.	2.5	\$495.00	\$1,237.50
6/21/2022	Koreen Kempton	Communicate with Communicate with electronic correspondence	2.9	\$275.00	\$797.50
6/21/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.4	\$245.00	\$98.00
6/22/2022	Katherine Page	Draft motion to stay appeal.	0.2	\$495.00	\$99.00
6/22/2022	Robert Brownlie	Review and approve out of pocket expenses through the conclusion of trial.	2.1	\$795.00	\$1,669.50
6/23/2022	Robert Brownlie	Review and revise petition re severed claims against Nelson Partners.	0	\$795.00	\$0.00
6/24/2022	Robert Brownlie	Continue to review and revise petition for severed claims. Continue to research and prepare equitable remedies brief.	5	\$795.00	\$3,975.00
6/27/2022	Robert Brownlie	Review correspondence. Exchange emails  Review additional cases for equitable remedies brief.	1.2	\$795.00	\$954.00
6/27/2022	Koreen Kempton	Communicate with correspondence	8.0	\$275.00	\$220.00
		Prepare electronic correspondence			
6/28/2022	Robert Brownlie	Continue to research	2.5	\$795.00	\$1,987.50
6/29/2022	Robert Brownlie	Prepare section of equitable remedies brief refuting Axonic's defenses.	2.7	\$795.00	\$2,146.50
6/29/2022	Koreen Kempton	Prepare electronic correspondence	0.6	\$275.00	\$165.00
			-		,
7/1/2022	Robert Brownlie	Finalize dismissal of federal appeal. Prepare equitable remedies brief. Telephone conference with counsel for investors regarding stipulation and plan of liquidation.	2.3	\$795.00	\$1,828.50
7/1/2022	Veronica Collins- Perez	Prepare, file, and serve stipulation to dismiss appeal.	0.9	\$245.00	\$220.50
7/5/2022	Robert Brownlie	Continue to prepare equitable remedies brief.	3.2	\$795.00	\$2,544.00
7/5/2022	Veronica Collins-	Download and save expert and trial testimony transcripts to case file.	0.4	\$245.00	\$98.00
1,0,2022	Perez	20	0.4	Ψ= 10.00	Ψ00.00
7/5/2022	Koreen Kempton	Communicate with ; and Prepare multiple reply electronic correspondence	0.6	\$275.00	\$165.00

7/6/2022	Robert Brownlie	Telephone conference with Attorney Lloyd to coordinate remaining tasks.	3.6	\$795.00	\$2,862.00
7/8/2022	Robert Brownlie	Continue to prepare equitable remedies brief.  Participate in strategy call with Attorneys Lloyd and Brothers. Review	1.4	\$795.00	\$1,113.00
7/8/2022	Veronica Collins- Perez	communications from Attorney Nosche. Prepare status update.  Download and save final trial transcripts; calendar post verdict motions.	1.8	\$245.00	\$441.00
7/8/2022	Koreen Kempton	Prepare and send electronic correspondence	0.2	\$275.00	\$55.00
7/12/2022	Veronica Collins- Perez	Calendar post verdict deadlines.	0.3	\$245.00	\$73.50
7/14/2022	Veronica Collins- Perez	Download Nelson's volumes 1 & 2 deposition transcripts and upload to case file.	0.6	\$245.00	\$147.00
7/15/2022 7/18/2022	Robert Brownlie Veronica Collins-	Telephone conferences  Download and save additional transcripts.	0.6 0.2	\$795.00 \$245.00	\$477.00 \$49.00
7/19/2022	Perez Veronica Collins- Perez	Save and upload notice of post verdict motions and calendar motions.	0.4	\$245.00	\$98.00
7/20/2022 7/21/2022	Robert Brownlie Robert Brownlie	Further research  Prepare for and attend hearing on motion for final approval. Continue to work on equitable remedies brief.	1.8 3.2	\$795.00 \$795.00	\$1,431.00 \$2,544.00
7/22/2022	Robert Brownlie	Complete and send draft of equitable remedies brief.	5.4	\$795.00	\$4,293.00
7/22/2022	Koreen Kempton	Communicate with Prepare multiple electronic correspondence	1.4	\$275.00	\$385.00
7/28/2022	Robert Brownlie	Telephone conference  . Review and respond to	0.3	\$795.00	\$238.50
8/1/2022	Robert Brownlie	Review trial transcripts. Continue to prepare brief.	4.1	\$795.00	\$3,259.50
8/2/2022	Robert Brownlie	Continue to prepare brief on equitable remedies.	3.1	\$795.00	\$2,464.50
8/2/2022	Veronica Collins- Perez	Download and save trial final transcripts; maintenance and management of Worldox database.	0.3	\$245.00	\$73.50
8/3/2022	Robert Brownlie	Continue to prepare equitable remedies brief. Telephone conference with Attorneys Given, Skarnulis and Brothers.	6.1	\$795.00	\$4,849.50
8/3/2022	Koreen Kempton	Communicate with Strategize and	0.6	\$275.00	\$165.00
8/4/2022	Robert Brownlie	Communicate with  Further review of trial transcripts. Continue to prepare equitable remedies brief.	8.2	\$795.00	\$6,519.00
8/4/2022	Koreen Kempton	Prepare electronic correspondence	0.3	\$275.00	\$82.50
8/5/2022	Robert Brownlie	Continue to prepare equitable remedies brief.	3.1	\$795.00	\$2,464.50
8/5/2022	Koreen Kempton	Locate and provide Trial Transcripts; and Prepare electronic correspondence	0.4	\$275.00	\$110.00
8/6/2022 8/8/2022	Robert Brownlie Veronica Collins-	Review motion for attorneys' fees and declaration in support thereof. Work on expense and time entries spreadsheets for motion.	0.6 3.7	\$795.00 \$245.00	\$477.00 \$906.50
8/8/2022	Perez Koreen Kempton	Prepare and edit motion cites to post trial motion regarding equitable	8.1	\$275.00	\$2,227.50
8/9/2022	Veronica Collins-	remedies. Continue working on expense and time entries spreadsheets for motion;	4.4	\$245.00	\$1,078.00
8/9/2022	Perez Koreen Kempton	assist with footnote citations in motion. Edit Intervenor's Joint Motion for Entry of Judgement on Equitable and	2	\$275.00	\$550.00
8/10/2022	Veronica Collins-	Legal Claims.  Make edits to expense and time entries spreadsheets for motion.	1.4	\$245.00	\$343.00
8/10/2022	Perez Koreen Kempton	Prepare fees and expense reports and edit narratives; and Edit Intervenor's Joint Motion for Entry of Judgement on Equitable and Legal Claims.	7.7	\$275.00	\$2,117.50
8/11/2022	Koreen Kempton	Prepare final chart of fees and expenses for Brownlie Hansen; Prepare Declaration exhibits for filing; and Prepare electronic correspondence to Joanna Walls regarding pre-trial hearing transcripts.	2	\$275.00	\$550.00
8/12/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox	0.4	\$245.00	\$98.00
8/15/2022	Veronica Collins- Perez	database.  Download Texas Court filings; maintenance and management of Worldox database.	0.6	\$245.00	\$147.00
8/17/2022	Koreen Kempton	Prepare electronic correspondence to clients with status of case and responses to questions; and Pull Westlaw case cites in TCG and	3.7	\$275.00	\$1,017.50
8/19/2022	Robert Brownlie	Axonic motions.  Exchange communication	0.3	\$795.00	\$238.50
8/23/2022	Koreen Kempton	Prepare Quick Check reports on Axonic motions; and Pull Westlaw case cites from Axonic motions.	2.4	\$275.00	\$660.00
8/26/2022	Robert Brownlie	Coordinate responses to Axonic/TCG post-trial motions.	0.5	\$795.00	\$397.50
8/29/2022	Robert Brownlie	Telephone conference Participate in call to strategize oppositions to defendants' post trial motions.	0.6	\$795.00	\$477.00

8/30/2022	Veronica Collins- Perez	Download Court filings; maintenance and management of Worldox database.	0.2	\$245.00	\$49.00
9/1/2022 9/1/2022	Robert Brownlie Koreen Kempton	Review and revise responses to Axonic/TCG post-trial motions.  Prepare multiple electronic correspondence	3.7 0.2	\$795.00 \$275.00	\$2,941.50 \$55.00
9/2/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	0.5	\$245.00	\$122.50
9/6/2022	Robert Brownlie	Analyze	4.1	\$795.00	\$3,259.50
9/6/2022	Veronica Collins-	Download Texas Court filings; maintenance and management of Worldox	0.4	\$245.00	\$98.00
9/6/2022	Perez Koreen Kempton	database. Prepare multiple electronic correspondence	0.7	\$275.00	\$192.50
9/7/2022	Robert Brownlie	Prepare reply in support of equitable claims.	3.6	\$795.00	\$2,862.00
9/8/2022	Robert Brownlie	Continue to prepare post-hearing briefs.	6.4	\$795.00	\$5,088.00
9/9/2022	Robert Brownlie	Continue to prepare post hearing reply briefs. Exchange correspondence	6.2	\$795.00	\$4,929.00
9/12/2022	Robert Brownlie	Prepare for hearing on post-trial motions.	7.4	\$795.00	\$5,883.00
9/12/2022	Veronica Collins- Perez	Apply electronic signatures to Joint Status Report and prepare proof of service for filing; save new filings to file.	2.4	\$245.00	\$588.00
9/13/2022	Robert Brownlie	Prepare for hearing.	4.8	\$795.00	\$3,816.00
9/13/2022	Veronica Collins-	Finalize, file, and serve Joint Status Report; download and save filed	1.9	\$245.00	\$465.50
	Perez	endorsed copy of Joint Status Report; update calendar entry regarding			
		post verdict motions and add Zoom link for remote appearance; One Drive file maintenance and management.			
9/14/2022	Veronica Collins-	Update calendar with new status conference date and deadline to file	0.3	\$245.00	\$73.50
0/46/2022	Perez	joint status report.	4.0	<b>#075.00</b>	#220.00
9/16/2022	Koreen Kempton	Prepare multiple electronic correspondence	1.2	\$275.00	\$330.00
9/19/2022	Veronica Collins-	Download Texas Court filings; maintenance and management of Worldox	0.5	\$245.00	\$122.50
9/20/2022	Perez Robert Brownlie	database. Prepare for and participate in conference call with defense counsel and	0.5	\$795.00	\$397.50
9/20/2022	Koreen Kempton	Attorney Brothers.  Prepare multiple electronic correspondence	1.7	\$275.00	\$467.50
	·			·	
9/21/2022	Zachary Brownlie	Review discovery documents regarding 3/2019 Supplement to Private Placement Memorandum	5.2	\$325.00	\$1,690.00
9/21/2022	Robert Brownlie	Analyze document review for potential documents that may assist with settlement discussions.	1.1	\$795.00	\$874.50
9/21/2022	Veronica Collins- Perez	Download Texas Court filings; maintenance and management of Worldox database.	1.1	\$245.00	\$269.50
9/21/2022	Koreen Kempton	Prepare electronic correspondence to Christine at Casepoint regarding Zak Brownlie access to Colin database.	1	\$275.00	\$275.00
9/22/2022	Zachary Brownlie	Review discovery documents regarding 3/2019 Supplement to Private	2	\$325.00	\$650.00
9/22/2022	Robert Brownlie	Placement Memorandum  Review time records to segregate tasks related to Nelson Partners.	4.2	\$795.00	\$3,339.00
		Review settlement offer. Telephone conference with Attorney Lloyd			
		regarding the same. Telephone conference			
9/22/2022	Koreen Kempton	Prepare segregated billable cost chart and expense chart for brief exhibit.	5.6	\$275.00	\$1,540.00
9/23/2022	Robert Brownlie	Prepare response to supplemental declaration in support of TCG's	2.2	\$795.00	\$1,749.00
9/23/2022	Koreen Kempton	attorney's fee motion. Prepare segregated billable cost chart and expense chart for brief exhibit.	4.7	\$275.00	\$1,292.50
9/26/2022	Koreen Kempton	Prepare multiple electronic correspondence	0.3	\$275.00	\$82.50
9/27/2022	Koreen Kempton	Prepare multiple electronic correspondence	0.4	\$275.00	\$110.00
9/28/2022	Veronica Collins-	Download Texas Court filings; maintenance and management of Worldox	0.4	\$245.00	\$98.00
0/20/2022	Perez	database.	2.6	¢275.00	¢715.00
9/29/2022	Koreen Kempton	Prepare multiple electronic correspondence	2.6	\$275.00	\$715.00
9/30/2022	Koreen Kempton	Prepare multiple electronic correspondence	0.8	\$275.00	\$220.00
10/7/2022	Koreen Kempton	Download Texas filings and save in document database.	0.2	\$275.00	\$55.00
	Koreen Kempton	Download court filing and save to database.	0.1	\$275.00	\$27.50
	Robert Brownlie	Prepare	3.8	\$795.00	\$3,021.00
10/17/2022	Veronica Collins- Perez	Save	1	\$245.00	\$245.00
10/17/2022	Robert Brownlie	update Attend to	3.7	\$795.00	\$2,941.50
		<del></del>			

10/17/2022	Koreen Kempton	Edit  Communicate with  Respond to	3.8	\$275.00	\$1,045.00
10/18/2022	Veronica Collins-	Save	0.7	\$245.00	\$171.50
10/18/2022	Perez Koreen Kempton	update Prepare multiple electronic correspondence to	1.4	\$275.00	\$385.00
10/18/2022 10/19/2022	Robert Brownlie Veronica Collins- Perez	Telephone conferences  Review correspondence from Nekvasil regarding Cestmir Herstus and Mary C. McGinley and confirm that they are not named in the Puleo complaint.	0.9 0.4	\$795.00 \$245.00	\$715.50 \$98.00
10/19/2022	Koreen Kempton	Communicate with Prepare electronic correspondence to Brenda at Wicks Phillips with Hahn questions; and Prepare multiple electronic correspondence	1.1	\$275.00	\$302.50
10/19/2022 10/20/2022	Robert Brownlie Robert Brownlie	Telephone conferences Telephone conference . Zoom meeting with claims administrator and counsel.	1.1 1.1	\$795.00 \$795.00	\$874.50 \$874.50
10/20/2022	Veronica Collins- Perez	Save	0.4	\$245.00	\$98.00
10/20/2022	Koreen Kempton	Update ; Prepare electronic correspondence  Download case filings and put in Worldox database; and	3.1	\$275.00	\$852.50
10/21/2022	Robert Brownlie	Prepare electronic correspondence  Review proposed motion to allow sale. Participate in Zoom meeting regarding the same. Participate in hearing on emergency motion regarding the sale.	1.7	\$795.00	\$1,351.50
10/21/2022	Koreen Kempton	Download case filings and put in Worldox database; Update and Prepare electronic correspondence	1.1	\$275.00	\$302.50
10/24/2022	Koreen Kempton	Communicate Prepare electronic correspondence to Brenda at Wick Phillips; Locate and provide Prepare electronic correspondence	1.4	\$275.00	\$385.00
10/24/2022	Veronica Collins- Perez	Process and scan update	1.2	\$245.00	\$294.00
10/25/2022 10/25/2022	Veronica Collins-	Prepare electronic correspondence Save ; update	0.3 0.3	\$275.00 \$245.00	\$82.50 \$73.50
10/26/2022	Perez Koreen Kempton	Update and Prepare electronic correspondence	0.6	\$275.00	\$165.00
10/27/2022	Koreen Kempton	Prepare multiple electronic correspondence and Update	1.4	\$275.00	\$385.00
10/28/2022	Robert Brownlie	Review information regarding the sale of Sol Y Luna. Exchange emails regarding the same.	0.4	\$795.00	\$318.00
10/28/2022	Veronica Collins- Perez	Send	0.4	\$245.00	\$98.00
10/28/2022	Koreen Kempton	Prepare multiple electronic correspondence  Update  and Download Texas court filings and load in Worldox database.	1.6	\$275.00	\$440.00
11/7/2022	Koreen Kempton	Prepare multiple electronic correspondence and Update	0.9	\$275.00	\$247.50
11/8/2022	Robert Brownlie	Telephone conference Prepare update to co-counsel. Prepare conference with Attorney Brothers. Prepare correspondence to settlement administrator. Respond to	4.1	\$795.00	\$3,259.50
11/8/2022	Veronica Collins- Perez	Save	0.2	\$245.00	\$49.00
11/8/2022	Koreen Kempton	Prepare and send ; Prepare multiple electronic correspondence ; and Update	4.4	\$275.00	\$1,210.00
11/9/2022	Robert Brownlie	Telephone conferences	1.6	\$795.00	\$1,272.00

11/9/2022	Koreen Kempton	Prepare taxable cost excel for final judgment and send to Jenny Lloyd for filing; and Prepare multiple electronic correspondence and	2.6	\$275.00	\$715.00
11/10/2022	Robert Brownlie	Update Investigate SP 180 Fund LLC and Auraria bankruptcy. Zoom meeting with investors.	4.2	\$795.00	\$3,339.00
11/10/2022	Koreen Kempton	Prepare multiple electronic correspondence and Update	1.8	\$275.00	\$495.00
11/11/2022	Koreen Kempton	Prepare multiple electronic correspondence and Update	1.4	\$275.00	\$385.00
11/14/2022	Robert Brownlie	Telephone conference Review motion for contempt.  Prepare message to Attorney Rudd.	1.1	\$795.00	\$874.50
11/15/2022	Robert Brownlie	Participate in Teams meeting with co-counsel and Administrator's counsel. Review emails discussing the Stipulation and Plan of Liquidation. Prepare communication to Administrator's counsel regarding the same.	1.9	\$795.00	\$1,510.50
11/15/2022	Koreen Kempton	Prepare multiple electronic correspondence  Communicate with	1.3	\$275.00	\$357.50
11/16/2022 11/16/2022	Robert Brownlie Koreen Kempton	Telephone conference Prepare multiple electronic correspondence Update; and Prepare electronic correspondence	1.2 1.7	\$795.00 \$275.00	\$954.00 \$467.50
	Robert Brownlie	Participate in various zoom meeting in anticipation of TRO hearing.	0.9	\$795.00	\$715.50
11/18/2022		Prepare for and participate in hearing on TRO motion. Debrief regarding the same. Telephone conference	3.7	\$795.00	\$2,941.50
	Koreen Kempton	Sca	1.6	\$275.00	\$440.00
11/21/2022	Robert Brownlie	Review and revise discovery requests. Review correspondence. Prepare	4.6	\$795.00	\$3,657.00
11/22/2022	Robert Brownlie	Various meetings regarding the liquidation plan. Telephone conferences  Respond	5.8	\$795.00	\$4,611.00
11/29/2022	Koreen Kempton	Update tracker Scan ; Add to file management system; Prepare multiple electronic correspondence	1.3	\$275.00	\$357.50
11/30/2022	Koreen Kempton	Prepare Greg Milligan's investor chart with Brownlie Hansen client contact information; and Prepare multiple electronic correspondence	1.6	\$275.00	\$440.00
12/1/2022	Robert Brownlie	Prepare for and participate in conference call regarding contempt motion.	1.2	\$795.00	\$954.00
12/1/2022 12/2/2022	Robert Brownlie Koreen Kempton	Telephone conference Prepare electronic correspondence to Greg Milligan at Harney Partners	1.1 0.5	\$795.00 \$275.00	\$874.50 \$137.50
12/5/2022	Koreen Kempton	regarding Investor chart; and Review and edit investor chart.  Add Brownlie Hansen investor client information to Greg Milligan at Harney Partners investor chart.	3.1	\$275.00	\$852.50
12/6/2022	Koreen Kempton	Start download of CasePoint document production database to archive.	8.0	\$275.00	\$220.00
12/7/2022	Koreen Kempton	Continue downloading multiple zip files to archive CasePoint document	0.4	\$275.00	\$110.00
12/8/2022	Robert Brownlie	production database.  Analyze Telephone conference  Participate in meeting with Administrator's counsel.  Identify documents for depositions and contempt hearing.	3.1	\$795.00	\$2,464.50
12/8/2022	Koreen Kempton	Continue downloading multiple zip files to archive CasePoint document	1.2	\$275.00	\$330.00
12/8/2022	Koreen Kempton	production database.  Continue downloading multiple zip files to archive CasePoint document production database.	1.2	\$275.00	\$330.00
12/9/2022 12/12/2022	Robert Brownlie Robert Brownlie	Telephone conference with Attorney Brothers. Participate in conference call with Attorneys Givens, Skarnulios and	0.3 1.6	\$795.00 \$795.00	\$238.50 \$1,272.00
		Brothers. Telephone conference with Attorney Curtis. Research		,	, ,
12/12/2022	Veronica Collins- Perez	Update investor tracker; analyze and prepare	2.2	\$245.00	\$539.00
12/13/2022	Koreen Kempton	Prepare electronic correspondence and Edit Investor email addresses, physical addresses and phone numbers for Greg Milligan at Harney Partners.	4.2	\$275.00	\$1,155.00
12/14/2022	Robert Brownlie	Telephone conference	0.6	\$795.00	\$477.00
12/14/2022	Koreen Kempton	Prepare electronic correspondence to Catherine Curtis at Wicks Phillips regarding Nelson subpoena; and Edit Investor email addresses, physical addresses and phone numbers for Greg Milligan at Harney Partners.	3.9	\$275.00	\$1,072.50

12/14/2022	Veronica Collins- Perez	Download and save deposition notices and calendar.	0.4	\$245.00	\$98.00
12/15/2022		Participate in various conference calls to discuss scheduling and Nelson's request for a continuance. Attend corporate representative	6.2	\$795.00	\$4,929.00
12/16/2022	Robert Brownlie	depositions. Attend Patrick Nelson's deposition. Review joinder. Telephone conference	4.1	\$795.00	\$3,259.50
12/16/2022	Koreen Kempton	Continue downloading multiple zip files to archive CasePoint document production database.	0.7	\$275.00	\$192.50
12/18/2022	Robert Brownlie	Participate in zoom meeting to discuss motion for continuance and potential settlement regarding the same. Review correspondence regarding the same.	1.8	\$795.00	\$1,431.00
12/19/2022 12/22/2022		Attend hearing on motion to continue.  Extract document database from downloaded zip files and prepare for archive.	0.8 1.6	\$795.00 \$275.00	\$636.00 \$440.00
12/27/2022	Koreen Kempton	Prepare electronic correspondence	0.4	\$275.00	\$110.00
12/27/2022	Veronica Collins- Perez	Prepare complaint, civil case cover sheet, and summons.	3.2	\$245.00	\$784.00
12/28/2022		Review new federal complaint.	0.3	\$795.00	\$238.50
12/28/2022	Koreen Kempton	Prepare multiple electronic correspondence to clients regarding new complaint filing; and Prepare electronic correspondence	0.5	\$275.00	\$137.50
12/28/2022	Veronica Collins- Perez	Continue working on new complaint, finalize, and submit for filing.	4.6	\$245.00	\$1,127.00
12/29/2022	Veronica Collins- Perez	Download and save endorsed complaint; prepare notice of interested parties and send to Attorney Robert Brownlie for review; finalize and file civil case cover sheet.	2.8	\$245.00	\$686.00
12/30/2022	Veronica Collins- Perez	Finalize and file notice of interested parties.	0.6	\$245.00	\$147.00
1/3/2023	Robert Brownlie	Review scheduling issues. Conference call with co-counsel to discuss possible responses to Axonic.	1.2	\$795.00	\$954.00
1/4/2023	Robert Brownlie	Revise and send response to Axonic's settlement overture.	0.7	\$795.00	\$556.50
1/5/2023	Robert Brownlie	Participate in virtual meeting with Plan Administrator and his counsel.	0.9	\$795.00	\$715.50
1/9/2023	Koreen Kempton	Communicate multiple time with Richard March at Finra regarding office visit to review Skyloft case materials.	1.1	\$275.00	\$302.50
1/11/2023 1/12/2023	Koreen Kempton Veronica Collins-	Download and save Court filings to Worldox.  Download and save court's notice and order regarding deadline to file	0.5 0.4	\$275.00 \$245.00	\$137.50 \$98.00
1/13/2023	Perez Robert Brownlie	Joint Status Report.  Telephone conference with Attorney Brothers. Researchmediators.  Revise and send communication to Attorney Skarnulis regarding proposed mediation.	1.1	\$795.00	\$874.50
1/18/2023	Robert Brownlie	Review background and asset searches	1.1	\$795.00	\$874.50
1/18/2023	Veronica Collins- Perez	Calculate and calendar deadline to serve new case summons and civil complaint.	0.4	\$245.00	\$98.00
1/18/2023	Koreen Kempton	Review and redact Confidential portions of Depositions and Exhibits for upcoming FINRA visit.	2.9	\$275.00	\$797.50
1/19/2023	Koreen Kempton	Review and redact Confidential portions of Trial transcripts for FINRA visit; and Host Richard March and Shane Kelly in office.	2.1	\$275.00	\$577.50
1/20/2023	Robert Brownlie	Prepare and circulate joint status report.	0.5	\$795.00	\$397.50
1/20/2023	Koreen Kempton	Host Richard March and Shane Kelly from FINRA in office; and Prepare flash drive of case materials to share with FINRA team.	2.5	\$275.00	\$687.50
1/24/2023	Veronica Collins- Perez Koreen Kempton	Update calendar with new date for status conference and deadline to file joint status report.  Prepare electronic correspondence with Jenny Lloyd regarding case cost	0.6	\$245.00	\$147.00 \$27.50
1/26/2023	Robert Brownlie	chart.  Review proposed order authorizing distributions.	0.1	\$275.00 \$795.00	\$238.50
1/26/2023	Robert Brownlie	Participate in Zoom meeting to discuss strategy for proceeding.	1	\$795.00	\$795.00
1/26/2023	Veronica Collins- Perez	Contact JAMS Arbitration regarding fees for arbitration; review links provided by JAMS regarding fees and prepare and send electronic correspondence to Attorney Robert Brownlie with findings.	0.7	\$245.00	\$171.50
1/26/2023	Koreen Kempton	Review Nelson Partner's list of Investors to cross reference investment costs of Brownlie Hansen clients.	2.9	\$275.00	\$797.50
1/27/2023	Koreen Kempton	Finalize and send Jenny Lyold list of Brownlie Hansen client investments as cross referenced with Nelson Partner's list.	0.6	\$275.00	\$165.00
2/1/2023	Robert Brownlie	Respond to Participate in strategy meeting.	1.1	\$795.00	\$874.50
2/1/2023	Koreen Kempton	Prepare cost excel chart for court filing.	1.3	\$275.00	\$357.50
2/2/2023	Koreen Kempton	Continue to prepare cost excel chart for court filing and send to Attorney for approval.	1.7	\$275.00	\$467.50
2/3/2023	Veronica Collins- Perez	Download and save new filing re ECF no. 12, standing order.	0.4	\$245.00	\$98.00
2/6/2023	Koreen Kempton	Prepare electronic correspondence ; and Prepare and send cost excel chart to Attorney Jenny Lloyd.	0.9	\$275.00	\$247.50
2/8/2023	Koreen Kempton	Prepare multiple electronic correspondence	1.2	\$275.00	\$330.00

2/9/2023	Veronica Collins- Perez	Finalize prepare caption page; contact JAMS regarding completion of initiation forms; prepare and send statement of claim shell to attorney Robert Brownlie.	3.2	\$245.00	\$784.00
2/14/2023	Robert Brownlie	Strategize for contempt hearing. Telephone conference	1.7	\$795.00	\$1,351.50
2/15/2023 2/16/2023 2/17/2023 2/23/2023	Robert Brownlie Robert Brownlie Robert Brownlie Koreen Kempton	Review issues for upcoming hearing.  Travel to and prepare for hearing on motion for contempt.  Respond to various inquiries about the status of the Liquidation Plan.  Prepare multiple electronic correspondence to clients; and File redacted admitted exhibits in Attorney working binder after Finra review.	0.5 13.1 0.3 1.4	\$795.00 \$795.00 \$795.00 \$275.00	\$397.50 \$10,414.50 \$238.50 \$385.00
2/24/2023	Robert Brownlie	Prepare for and attend hearing on motion for contempt. Return from hearing.	23.4	\$795.00	\$18,603.00
2/24/2023	Veronica Collins- Perez	Download and save conformed copy of ECF no. 66: notice of change of attorney contact info.	0.2	\$245.00	\$49.00
2/27/2023	Robert Brownlie	Draft joint status report.	3.8	\$795.00	\$3,021.00
2/28/2023 2/28/2023	Robert Brownlie Veronica Collins- Perez	Attend to Joint Status Report. Review and revise investor update.  Finalize and file Joint Status Report, download and save conformed copy to case file.	1 0.6	\$795.00 \$245.00	\$795.00 \$147.00
2/28/2023	Koreen Kempton	Prepare electronic correspondence	0.3	\$275.00	\$82.50
3/1/2023	Robert Brownlie	Participate in status meeting regarding CSO and arbitrator.	0.4	\$795.00	\$318.00
3/3/2023	Veronica Collins- Perez	Download and save notice of mediation and add to calendar.	0.3	\$245.00	\$73.50
3/6/2023	Koreen Kempton	Prepare multiple electronic correspondence	0.8	\$275.00	\$220.00
3/7/2023 3/8/2023	Robert Brownlie Robert Brownlie	Participate in pre-mediation call. Prepare mediation brief. Telephone conference	4.5 7.2	\$795.00 \$795.00	\$3,577.50 \$5,724.00
3/9/2023	Robert Brownlie	Continue to prepare mediation brief.	3.8	\$795.00	\$3,021.00
3/10/2023	Robert Brownlie	Finalize mediation brief	1.9	\$795.00	\$1,510.50
3/10/2023	Koreen Kempton	Prepare electronic correspondence ; Prepare electronic correspondence and Download and distribute Mediation Brief.	1.1	\$275.00	\$302.50
3/13/2023	Robert Brownlie	Review motion to withdraw.	0.4	\$795.00	\$318.00
3/13/2023	Koreen Kempton	Prepare electronic correspondence to Wick Phillips with Client	1.4	\$275.00	\$385.00
3/14/2023	Veronica Collins-	investment agreement trial exhibits.  Download and save notice of rescheduled mediation and update	0.4	\$245.00	\$98.00
3/21/2023	Perez Koreen Kempton	calendar.  Locate and provide	8.0	\$275.00	\$220.00
3/22/2023	Robert Brownlie	Prepare for and participate in mediation with Axonic.	8.4	\$795.00	\$6,678.00
3/23/2023	Robert Brownlie	Prepare	2.7	\$795.00	\$2,146.50
3/23/2023	Koreen Kempton	Telephone conference with Attorney Brothers regarding the same.  Prepare electronic	0.4	\$275.00	\$110.00
3/27/2023	Koreen Kempton	Prepare electronic correspondence ; and Communicate with	1.3	\$275.00	\$357.50
3/28/2023	Robert Brownlie	Attend to settlement management issues. Participate in update meeting with Plan Administrtor.	1.3	\$795.00	\$1,033.50
3/28/2023	Koreen Kempton	Prepare electronic correspondence  ; Send  and Prepare electronic correspondence	3.6	\$275.00	\$990.00
3/29/2023	Koreen Kempton	Edit Wick Phillips Investor chart with updated Brownlie Hansen client	5.9	\$275.00	\$1,622.50
3/30/2023	Koreen Kempton	information.  Continue editing Wick Phillips Investor chart with updated Brownlie  Hansen client information; and Prepare electronic correspondence	2.6	\$275.00	\$715.00
4/3/2023 4/3/2023	Robert Brownlie Koreen Kempton	Respond to Update Harney Partner's excel chart with Brownlie Hansen client physical	1.3 3	\$795.00 \$275.00	\$1,033.50 \$825.00
4/5/2023	Koreen Kempton	addresses for distribution checks.  Prepare and reply to  and update Harney Partner's excel chart with Brownlie Hansen client physical addresses for	1.4	\$275.00	\$385.00
4/6/2023	Robert Brownlie	distribution checks. Telephone conferences Review and respond to	0.4	\$795.00	\$318.00
4/10/2023	Veronica Collins- Perez	Download and save ECF Document 13 regarding order to show cause and calendar deadline.	0.3	\$245.00	\$73.50

4/44/2022	Varaniaa Callina	Draces and handle mail regarding court's notice of order to show course	0.0	¢245.00	¢106.00
4/11/2023	Veronica Collins- Perez	Process and handle mail regarding court's notice of order to show cause why case should not be dismissed; calendar hearing; and letter from Kalju Nekvasil regarding Axonic settlement agreement.	0.8	\$245.00	\$196.00
4/19/2023	Koreen Kempton	Reply to multiple electronic correspondence	0.4	\$275.00	\$110.00
4/20/2023	Koreen Kempton	Prepare electronic correspondence regarding change of client address to Harney Partners and reply to client; and prepare electronic correspondence	0.6	\$275.00	\$165.00
4/26/2023	Robert Brownlie	Respond to	0.7	\$795.00	\$556.50
4/26/2023	Koreen Kempton	Communicate with Strategize Prepare electronic	1.2	\$275.00	\$330.00
4/27/2023	Robert Brownlie	correspondence Participate in strategy call about how to proceed to enforce the Liquidation Plan.	0.7	\$795.00	\$556.50
4/28/2023	Robert Brownlie	Telephone conference	0.5	\$795.00	\$397.50
5/2/2023	Robert Brownlie	Review Axonic settlement agreement.	0.7	\$795.00	\$556.50
5/2/2023	Koreen Kempton	Prepare electronic correspondence	0.3	\$275.00	\$82.50
5/3/2023	Robert Brownlie	Telephone conference regarding Axonic settlement agreement.	0.4	\$795.00	\$318.00
5/4/2023	Koreen Kempton	Prepare electronic correspondence to Harney Partners regarding lost settlement check; and Prepare electronic correspondence	0.3	\$275.00	\$82.50
5/5/2023	Robert Brownlie	Telephone conference with Axonic's counsel regarding settlement agreement.	0.2	\$795.00	\$159.00
5/8/2023	Koreen Kempton	Prepare electronic correspondence to Greg Milligan at Harney Partners regarding lost check at post office; and Prepare electronic	0.3	\$275.00	\$82.50
5/10/2023	Robert Brownlie	correspondence Prepare Collins joint status report.	0.2	\$795.00	\$159.00
5/10/2023	Koreen Kempton	Prepare electronic correspondence to Greg Milligan at Harney Partners	0.2	\$275.00	\$192.50
	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	regarding settlement check; and multiple Prepare electronic correspondence		<b>7</b>	*=
5/12/2023	Koreen Kempton	Prepare electronic correspondence	0.4	\$275.00	\$110.00
		; and Prepare electronic correspondence to Erik White at Harney Partners regarding settlement check.			
5/15/2023	Veronica Collins-	Update calendar with new dates regarding status conference and	0.6	\$245.00	\$147.00
5/15/2023	Perez Koreen Kempton	deadline to submit joint status report.  Prepare multiple electronic correspondence	0.5	\$275.00	\$137.50
0/10/2020	Roledi Remplon	and Prepare electronic correspondence to  Erik White at Harney Partners regarding settlement check.	0.0	Ψ270.00	Ψ107.00
5/16/2023	Robert Brownlie	Research	0.5	\$795.00	\$397.50
5/19/2023	Robert Brownlie	File response to OSC in Adams to facilitate the global settlement with Axonic.	1.5	\$795.00	\$1,192.50
5/19/2023	Koreen Kempton	Prepare and File Response to Order to Show Cause regarding Dismissal for Lack of Prosecution.	1.2	\$275.00	\$330.00
5/24/2023	Robert Brownlie	Attend to issues regarding Axonic settlement.	0.2	\$795.00	\$159.00
5/30/2023	Robert Brownlie	Participate in update call with Plan Administrator and his counsel.	0.5	\$795.00	\$397.50
5/31/2023	Koreen Kempton	Prepare electronic correspondence to Harney Partners regarding settlement check for ; and Prepare multiple electronic correspondence	0.8	\$275.00	\$220.00
6/1/2023	Veronica Collins-	Download and save ECF no. 15 regarding notice and order regarding	0.8	\$245.00	\$196.00
6/1/2023	Perez Koreen Kempton	order to show cause; update calendar.  Prepare multiple electronic correspondence	1.2	\$275.00	\$330.00
		and Prepare electronic correspondence to Cooch regarding payments.			
6/2/2023	Robert Brownlie	Research	0.4	\$850.00	\$340.00
6/5/2023	Koreen Kempton	Prepare multiple electronic correspondence	0.8	\$275.00	\$220.00
		and Prepare electronic			
6/6/2023	Robert Brownlie	correspondence to Harney Partners regarding payments.  Address issues related to Axonic settlement.	0.5	\$850.00	\$425.00
6/13/2023	Koreen Kempton	Prepare multiple electronic correspondence	0.7	\$275.00	\$192.50
	·	and Prepare electronic			
6/14/2023	Robert Brownlie	correspondence to Harney Partners regarding payments.  Telephone conference	0.4	\$850.00	\$340.00
6/15/2023	Robert Brownlie	Telephone conference Participate in Zoom meeting to	1.4	\$850.00	\$1,190.00
6/15/2022	Veronica Collina	discuss discussion between Mr. Milligan and Nelson. Download and save Document no. 68 re Minute Order re Joint Status	0.4	\$245 OO	¢00 00
6/15/2023	Veronica Collins- Perez	Report; update calendar with dates in Joint Status Report.	0.4	\$245.00	\$98.00
6/16/2023	Robert Brownlie	Review correspondence with Mr. Milligan and Nelson Partners.	0.3	\$850.00	\$255.00
6/19/2023	Robert Brownlie	Review correspondence with Nelson Partners. Strategize regarding	1.5	\$850.00	\$1,275.00
6/20/2023	Robert Brownlie	contempt hearing. Evaluation latest Nelson Partners' proposal.  Review Rule 11 agreement and related correspondence.	0.3	\$850.00	\$255.00

7/3/2023	Koreen Kempton	Prepare multiple electronic correspondence	0.4	\$275.00	\$110.00
7/10/2023	Veronica Collins-	Download and save ROA no. 68, Minute Order re Joint Status Report;	0.7	\$245.00	\$171.50
7/13/2023 7/14/2023	Perez Robert Brownlie Veronica Collins-	update calendar. Prepare joint status report. Respond to Finalize and file joint status report.	0.4 0.6	\$850.00 \$245.00	\$340.00 \$147.00
7/25/2023 7/25/2023	Perez Robert Brownlie Koreen Kempton	Prepare update . Review and revise settlement documents. Prepare electronic correspondence	4.4 2.1	\$850.00 \$275.00	\$3,740.00 \$577.50
7/26/2023	Robert Brownlie	Telephone conference Attend to investor inquiries. Zoom meeting with co-counsel to discuss Axonic settlement documents.	2.9	\$850.00	\$2,465.00
7/26/2023	Koreen Kempton	Prepare electronic correspondence	2.6	\$275.00	\$715.00
7/31/2023	Robert Brownlie	Participate in conference call with Axonic regarding the settlement documents.	0.5	\$850.00	\$425.00
7/31/2023	Koreen Kempton	Prepare electronic correspondence	1.1	\$275.00	\$302.50
8/1/2023	Koreen Kempton	; and Communicate  Communicate with  Prepare electronic correspondence	1.8	\$275.00	\$495.00
8/7/2023	Robert Brownlie	Review judgment and order against Nelson. Telephone conference  . Revise release language.	1.3	\$850.00	\$1,105.00
8/7/2023	Veronica Collins- Perez	Update calendar with new date re motion for contempt.	0.7	\$245.00	\$171.50
8/8/2023	Robert Brownlie	Review materials from Nelson Partners.	1	\$850.00	\$850.00
8/8/2023	Robert Brownlie	Participate in conference call with Plan Administrator and other counsel about strategy for going forward.	2.5	\$850.00	\$2,125.00
8/9/2023	Robert Brownlie	Telephone conference with Plan Administrator and counsel to discuss plan for going forward.	0.6	\$850.00	\$510.00
8/15/2023	Robert Brownlie	Exchange correspondence with Attorney Givens regarding settlement documents.	0.6	\$850.00	\$510.00
8/16/2023	Robert Brownlie	Prepare for and participate in call to discuss settlement status.	0.7	\$850.00	\$595.00
8/24/2023	Robert Brownlie	Review and respond to correspondence from Attorney Givens. Review and respond to correspondence from Attorney Lloyd.	0.5	\$850.00	\$425.00
8/25/2023	Koreen Kempton	Locate addresses to personally serve Complaint	1.3	\$275.00	\$357.50
8/25/2023 8/25/2023	Robert Brownlie Veronica Collins-	Attend to the service of the Adams complaint.  Prepare documents for service of complaint; gather service addresses;	1.6 2.5	\$850.00 \$245.00	\$1,360.00 \$612.50
6/23/2023	Perez	prepare electronic correspondence to process server with service instructions and list of documents to serve.	2.5	Ψ243.00	\$012.50
8/25/2023	Veronica Collins- Perez	Prepare notice of acknowledgment of receipt for Axonic Defendants; follow-up with process server regarding status of service; download and save proof of service of summons and submit for filing with court.	8.0	\$245.00	\$196.00
8/30/2023	Robert Brownlie	Prepare for and participate in conference call with Attorneys Lloyd and Brothers to discuss Axonic.	0.9	\$850.00	\$765.00
8/31/2023	Robert Brownlie	Respond to	0.6	\$850.00	\$510.00
9/7/2023	Robert Brownlie	Telephone conterence with Attorneys Brothers and Lloyd about the Axonic settlement. Prepare message to Mediator Meyer.	1.9	\$850.00	\$1,615.00
9/8/2023	Robert Brownlie	Prepare joint status report.	0.6	\$850.00	\$510.00
9/8/2023	Veronica Collins- Perez	Prepare proof of service and finalize and file Joint Status Report.	0.8	\$245.00	\$196.00
9/11/2023	Veronica Collins- Perez	Update calendar with new Status Conference date and deadline to file Joint Status Report.	0.3	\$245.00	\$73.50
9/12/2023	Robert Brownlie	Prepare correspondence with SEC enforcement attorney.	0.6	\$850.00	\$510.00
9/14/2023	Robert Brownlie	Prepare update on Axonic settlement. Telephone conference with Attorney Lloyd regarding the same. Telephone conference with an investor about status.	1.1	\$850.00	\$935.00
9/18/2023	Robert Brownlie	Review and approve stip and order in Ames.	0.3	\$850.00	\$255.00
9/18/2023	Koreen Kempton	Communicate with Rick regarding case status; Strategize  Prepare electronic correspondence	0.6	\$275.00	\$165.00
9/19/2023	Koreen Kempton	Respond to multiple electronic correspondence	0.4	\$275.00	\$110.00
9/20/2023	Veronica Collins- Perez	Download ECF no. 19: Stipulation to Compel Arbitration.	0.4	\$245.00	\$98.00
9/25/2023 9/26/2023	Robert Brownlie Robert Brownlie	Prepare for contempt hearing. Travel to Austin for contempt hearing.  Attend hearing on motion for contempt. Strategize next steps. Return	7.4 16.5	\$850.00 \$850.00	\$6,290.00 \$14,025.00
10/2/2023	Robert Brownlie	from hearing.  Participate in zoom meetings to discuss next steps.	0.9	\$850.00	\$765.00
10/5/2023	Chaz Glick	Researching	0.5	\$395.00	\$197.50
10/6/2023	Koreen Kempton	Prepare multiple electronic correspondence	0.9	\$275.00	\$247.50

10/6/2023	Chaz Glick	Researching	2.3	\$395.00	\$908.50
10/10/2023	Chaz Glick	Review Travis County, Texas Judgment; Begin preparing application to	2	\$395.00	\$790.00
10/12/2023	Koreen Kempton	domesticate in California Review list and create list of investor's not represented by Brownlie Hansen or Doug Brothers.	2.9	\$275.00	\$797.50
10/13/2023 10/13/2023	Robert Brownlie Koreen Kempton	Prepare Send ; and Prepare multiple electronic	0.9 1.1	\$850.00 \$275.00	\$765.00 \$302.50
10/16/2023	Koreen Kempton	correspondence Prepare electronic correspondence	1.5	\$275.00	\$412.50
10/24/2023	Chaz Glick	Researching	0.2	\$395.00	\$79.00
10/24/2023 10/25/2023	Koreen Kempton Koreen Kempton	Prepare Notice of Judgement.  Researching  with  Prepare electronic  correspondence to Harney Partners and check; Prepare Application for Entry of Judgement on Sister-State  Judgment.	2 2.9	\$275.00 \$275.00	\$550.00 \$797.50
10/30/2023 11/1/2023	Koreen Kempton Koreen Kempton	Prepare Sister-State Judgment for Texas case in California.  Prepare California Application for Entry of Judgment on Sister-State  Judgment and Notice of Entry of Judgment on Sister-State Judgement.	2.7 1.4	\$275.00 \$275.00	\$742.50 \$385.00
11/2/2023	Chaz Glick	Working w/ Kori to domesticate Texas Judgment in California	0.5	\$395.00	\$197.50
11/2/2023 11/3/2023	Koreen Kempton Chaz Glick	Prepare Texas Judgment documents for California Research request information from Robert Brownlie	2.1 5	\$275.00 \$395.00	\$577.50 \$1,975.00
11/3/2023	Koreen Kempton	Prepare related case attachment for the California Judgment papers;	2.8	\$275.00	\$770.00
11/3/2023	Chaz Glick	Begin preparing declaration for purposes of domesticating Texas judgment	0.2	\$395.00	\$79.00
11/6/2023	Koreen Kempton	Respond to client electronic correspondence; Update Application for Entry of Judgement on Sister-State Judgment.	2.6	\$275.00	\$715.00
11/6/2023 11/6/2023	Chaz Glick Chaz Glick	Research Calculating principal remaining unpaid and post-judgment interest for application to domesticate sister state judgment in California	2.3 0.9	\$395.00 \$395.00	\$908.50 \$355.50
11/6/2023	Chaz Glick	Review, revise, and finalize application for entry of judgment on sister state judgment; notice of entry of judgment; civil cover sheet; notice of related case	2.4	\$395.00	\$948.00
11/6/2023 11/6/2023	Chaz Glick Veronica Collins- Perez	Preparing Prepare civil case cover sheet and finalize, file, and serve application for entry of judgment documents.	1.8 2.9	\$395.00 \$245.00	\$711.00 \$710.50
11/7/2023 11/7/2023	Chaz Glick Chaz Glick	Preparing contact court for	1.9 1.7	\$395.00 \$395.00	\$750.50 \$671.50
11/7/2023	Koreen Kempton	guidance; preparing notice of judgment Prepare response electronic correspondence to Client regarding	0.7	\$275.00	\$192.50
11/9/2023	Koreen Kempton	Judgment; Research Prepare electronic correspondence	0.4	\$275.00	\$110.00
	Veronica Collins- Perez	Download ROA 70 with minutes regarding Joint Status Report and update calendar.	0.6	\$245.00	\$147.00
11/15/2023	Veronica Collins- Perez	Prepare request for dismissal and send to attorney Robert Brownlie for review; finalize, file and serve request for dismissal; contact court clerk regarding pending motion and case management conference on calendar.	0.8	\$245.00	\$196.00
11/15/2023	Veronica Collins- Perez	Check status of previous filing of application for entry of judgment and provide update to attorney Chaz Glick.	0.4	\$245.00	\$98.00
11/17/2023	Koreen Kempton	Locate court conformed copy of Judgment filing in Orange County.	0.3	\$275.00	\$82.50
11/17/2023	Robert Brownlie	Research Telephone conference with Mr. Partida.	0.7	\$850.00	\$595.00
11/22/2023		Telephone conference	0.2	\$850.00	\$170.00
11/22/2023		Review expert witness materials. Prepare brief on remedies.	3.2	\$850.00	\$2,720.00
11/28/2023		Send Notice of Judgment forms to Veronica to edit.	0.3	\$275.00	\$82.50
11/28/2023	Veronica Collins- Perez	Revise and update forms for application for entry of judgment and send to attorney Chaz Glick for approval.	1.6	\$245.00	\$392.00
11/29/2023	Chaz Glick	Revising application for entry of judgment on sister state judgment for refiling	1.9	\$395.00	\$750.50
11/29/2023	Veronica Collins- Perez	Continue revising and updating forms for application for entry of judgment and send to attorney Chaz Glick for approval.	1.8	\$245.00	\$441.00
11/30/2023	Chaz Glick	Review and revise application for entry of judgment on sister state judgment for refiling	3	\$395.00	\$1,185.00
11/30/2023 11/30/2023	Koreen Kempton Veronica Collins- Perez	Email  Continue revising and updating forms for application for entry of judgment and send to attorney Chaz Glick for approval; finalize application for entry of judgment and submit for filing.	0.2 1.2	\$275.00 \$245.00	\$55.00 \$294.00

40/0/0000			0.4	4075.00	<b>0.1.10.00</b>
12/6/2023	Koreen Kempton	Prepare electronic correspondence	0.4	\$275.00	\$110.00
1/3/2024	Robert Brownlie	Prepare and circulate joint status report.	0.6	\$850.00	\$510.00
1/4/2024	Tammy King	Finalize, e-file and serve Joint Status Report.	0.7	\$265.00	\$185.50
1/8/2024	Koreen Kempton	Look for Skyloft Order in CA case	0.4	\$275.00	\$110.00
1/8/2024	Tammy King	Research	0.3	\$265.00	\$79.50
1/9/2024	Robert Brownlie	Participate in strategy call. Research	0.4	\$850.00	\$340.00
1/10/2024	Koreen Kempton	Respond to	0.3	\$275.00	\$82.50
1/11/2024	Chaz Glick	Coordinating service of notice of entry of sister state judgment; laying out	6.2	\$395.00	\$2,449.00
		roadmap for enforcement procedures including judgment liens and writs			
		of execution			
1/11/2024	Koreen Kempton	Prepare electronic correspondence to Richard March at Finra regarding	0.4	\$275.00	\$110.00
		Skyloft cases.			
1/11/2024	Tammy King	Arrange for personal service of the Notice of Entry of Sister Judgment on	1.2	\$265.00	\$318.00
	, ,	debtors; research			
		request Vanguard to obtain			
		certified copy of Notice of Entry of Judgment; call with Ruben at			
		Vanguard regarding status of Judge's review of the Notice of Entry of			
		Judgment.			
1/12/2024	Koreen Kempton	Prepare correspondence	0.6	\$275.00	\$165.00
1/12/2024	Chaz Glick	Preparing roadmap for enforcement procedures including judgment liens	3.5	\$395.00	\$1,382.50
1/12/2024	Oriaz Ollok	and writs of execution	0.0	ψ555.00	Ψ1,302.30
1/12/2024	Tammy King	Finalize and e-file proofs of personal service of the Notice of Entry of	0.4	\$265.00	\$106.00
1/12/2024	ranning King	· · · · · · · · · · · · · · · · · · ·	0.4	φ203.00	φ100.00
4/47/0004		Judgment on debtors.	0.4	<b>#075.00</b>	<b>07.50</b>
1/17/2024	Koreen Kempton	Respond to	0.1	\$275.00	\$27.50
1/22/2024	Chaz Glick	Preparing roadmap for enforcement procedures including judgment liens	1.9	\$395.00	\$750.50
		and writs of execution			
1/23/2024	Chaz Glick	Researching and Preparing	0.4	\$395.00	\$158.00
1/24/2024	Chaz Glick	Researching and Preparin	7	\$395.00	\$2,765.00
1/25/2024	Chaz Glick	Researching and Preparing	2	\$395.00	\$790.00
1/26/2024	Chaz Glick	Researching and Preparing	1	\$395.00	\$395.00
1/26/2024	Chaz Glick	Preparing application for abstract of judgment	2.7	\$395.00	\$1,066.50
1/26/2024	Koreen Kempton	Locate and provide case materials for Abstract of Judgment.	0.7	\$275.00	\$192.50
1/26/2024	Robert Brownlie	Telephone conference with FBI agent. Exchange correspondence with	1.6	\$850.00	\$1,360.00
.,_,,_,		FBI agent.		********	<b>4</b> 1,000100
1/30/2024	Tammy King	Prepare joint status report; circulate to opposing counsel for review and	0.4	\$265.00	\$106.00
170072021	ranning rang	approval.	0.1	Ψ200.00	ψ100.00
1/30/2024	Koreen Kempton	Respond to	0.3	\$275.00	\$82.50
1/31/2024	Tammy King	Finalize and e-file Joint Status Report.	0.6	\$265.00	\$159.00
2/5/2024	Koreen Kempton	Prepare multiple correspondence	0.7	\$275.00	\$192.50
2/6/2024	•				
	Koreen Kempton	Prepare correspondence	0.3	\$275.00	\$82.50
2/8/2024	Koreen Kempton	Prepare correspondence	0.3	\$275.00	\$82.50
2/13/2024	Chaz Glick	Finalize abstract of judgment; send to Kori for review	0.3	\$395.00	\$118.50
2/13/2024	Chaz Glick	Provide update to Robert Brownlie regarding the recording of the abstract	0.2	\$395.00	\$79.00
		of judgment in Orange County			
2/14/2024	Robert Brownlie	Prepare for and participate in zoom meeting to discuss status and	1.2	\$850.00	\$1,020.00
		settlement with Axonic.			
2/14/2024	Koreen Kempton	Look up information for filing Abstract Judgements with Counties	2.1	\$275.00	\$577.50
2/14/2024	Chaz Glick	Working with Kori Kempton to file abstract of judgment	2.2	\$395.00	\$869.00
2/15/2024	Chaz Glick	Working with Kori Kempton to file abstract of judgment	0.6	\$395.00	\$237.00
2/15/2024	Chaz Glick	Working with Tammy King to file abstract of judgment	8.0	\$395.00	\$316.00
2/15/2024	Tammy King	Finalize and e-file Abstract of Judgment.	0.8	\$265.00	\$212.00
2/16/2024	Koreen Kempton	Communicate with Prepare multiple electronic	1.3	\$275.00	\$357.50
	•	correspondence			
2/20/2024	Chaz Glick	Following up with Tammy King on status of Abstract filing	0.3	\$395.00	\$118.50
2/21/2024	Tammy King	Finalize and e-file revised Abstract of Judgment.	0.3	\$265.00	\$79.50
2/21/2024	Koreen Kempton	Prepare Abstract of Judgment.	2.2	\$275.00	\$605.00
2/21/2024	Chaz Glick	Revising abstract of judgment and attachments according to clerks notice	2.8	\$395.00	\$1,106.00
	01102 011011	of rejection of electronic filing; finalize and refile		ψοσο.σσ	Ψ1,100.00
2/21/2024	Robert Brownlie	Meet with	1.1	\$850.00	\$935.00
2/23/2024	Robert Brownlie	Participate in settlement negotiations with Axonic.	0.6	\$850.00	\$510.00
2/23/2024	Chaz Glick	Review and revise abstract of judgment in accordance with rejection	1.7	\$395.00	\$671.50
2,20,2024	JIIGE OHOR	notice; work with Tammy King and Kori Kempton to refile	1.7	ψυσυ.00	ψυ/ 1.50
2/23/2024	Koreen Kempton	Review Abstract of Judgment; Prepare correspondence	3.5	\$275.00	\$962.50
212312024	voiceu veinbion		5.5	φ213.00	φ302.30
		Prepare correspondence			
2/22/2024	Tammy Kina	Finalize and a file Abstract of Judgment	0.4	¢265.00	¢oc eo
2/23/2024	Tammy King	Finalize and e-file Abstract of Judgment.	0.1	\$265.00	\$26.50
2/26/2024	Robert Brownlie	Telephone conference	0.3	\$850.00	\$255.00

2/26/2024	Chaz Glick	Research regarding researching	2.9	\$395.00	\$1,145.50
2/27/2024	Chaz Glick	begin preparing writ of execution Work with Kori Kempton and Tammy King to record judgment with Orange County Recorder	0.6	\$395.00	\$237.00
2/27/2024	Tammy King	Arrange with Vanguard Attorney Service to obtain certified copies of the Abstract of Judgment from Orange County Superior Court.	0.4	\$265.00	\$106.00
2/27/2024	Koreen Kempton	Prepare multiple correspondence	0.6	\$275.00	\$165.00
2/27/2024	Chaz Glick	Preparing writ of execution	0.5	\$395.00	\$197.50
2/28/2024 2/28/2024	Koreen Kempton Tammy King	Prepare correspondence Call with Vanguard Legal Services regarding certification of Abstract of Judgment; email request to Vanguard to record Abstract of Judgment with the Orange County Recorder's office.	0.8 0.3	\$275.00 \$265.00	\$220.00 \$79.50
2/29/2024 2/29/2024	Robert Brownlie Chaz Glick	Meet with Axonic's Delaware counsel to discuss settlement issues. Research	0.4 0.3	\$850.00 \$395.00	\$340.00 \$118.50
3/1/2024	Koreen Kempton	Locate and provide case materials for lien.	8.0	\$275.00	\$220.00
3/5/2024	Chaz Glick	Coordinating service of abstract and title search with Tammy King	0.4	\$395.00	\$158.00
3/5/2024	Tammy King	Research prepare proof of service for mailing recorded Abstract of Judgment to judgment creditors.	0.4	\$265.00	\$106.00
3/6/2024	Tammy King	Prepare recorded Abstract of Judgment for mail service on Judgment Debtors.	0.3	\$265.00	\$79.50
3/6/2024	Koreen Kempton	Prepare service of certified service on County.	0.6	\$275.00	\$165.00
3/12/2024	Tammy King	Continue research ; phone call with Fidelity National Title Company representative regarding same.	0.3	\$265.00	\$79.50
3/27/2024	Tammy King	Ames v. Nelson - prepare draft of joint status report.	0.4	\$265.00	\$106.00
3/28/2024	Robert Brownlie	Revise and circulate joint status report in Ames.	0.7	\$850.00	\$595.00
3/29/2024	Tammy King	Finalize and e-file Status Report.	0.3	\$265.00	\$79.50
4/2/2024 4/10/2024	Koreen Kempton Robert Brownlie	Respond via email to voice messages.  Research	0.4 0.4	\$275.00 \$850.00	\$110.00 \$340.00
4/10/2024	Koreen Kempton	Review and respond to	1.1	\$275.00	\$302.50
4/16/2024	Tammy King	Prepare joint status conference report.	0.4	\$265.00	\$106.00
4/16/2024	Robert Brownlie	Revise joint status conference report.	0.4	\$850.00	\$340.00
4/17/2024	Robert Brownlie	Participate in conference call with co-counsel. Prepare memorandum regarding dissolution of the DST.	8.3	\$850.00	\$7,055.00
4/18/2024	Tammy King	Finalize, e-file and serve joint status conference report.	0.5	\$265.00	\$132.50
4/18/2024	Robert Brownlie	Telephone conference . Prepare	1.1	\$850.00	\$935.00
4/19/2024	Koreen Kempton	Prepare correspondence	0.4	\$275.00	\$110.00
4/19/2024 4/30/2024	Robert Brownlie Robert Brownlie	Telephone conference Review order from NY court.  Meet with Axonic counsel re settlement issues. Discuss collection issues	0.4 0.3	\$850.00 \$850.00	\$340.00 \$255.00
5/2/2024	Robert Brownlie	with co-counsel.  Conference call with co-counsel and collections attorney. Review various	1.6	\$850.00	\$1,360.00
5/15/2024	Koreen Kempton	fillings. Review and respond to	0.2	\$275.00	\$55.00
5/28/2024		Analyze	1.8	\$850.00	\$1,530.00
5/31/2024	Koreen Kempton	Update Prepare correspondence	0.6	\$275.00	\$165.00
6/14/2024	Robert Brownlie	Analyze	0.4	\$850.00	\$340.00
6/19/2024	Robert Brownlie	Prepare for and participate in meeting to discuss Axonic settlement. Review and revise settlement documents.	5.6	\$850.00	\$4,760.00
6/21/2024	Robert Brownlie	Meeting with Wick Philips to discuss moving forward with liquidating trust and Axonic settlement.	0.4	\$850.00	\$340.00
6/26/2024	Robert Brownlie	Participate in conference calls with Axonic's counsel and bankruptcy counsel.	2.4	\$850.00	\$2,040.00
6/27/2024	Robert Brownlie	Prepare for and participate in Zoom meeting with Attorneys Lloyd and Rudd to discuss liquidating trust issues.	1	\$850.00	\$850.00
6/28/2024	Tammy King	Finalize and e-file Joint Response to OSC re Dismissal for Lack of Prosecution.	0.4	\$265.00	\$106.00
6/28/2024	Robert Brownlie	Review and respond to correspondence from Attorney Brothers. Review correspondence from Attorney Simmons regarding response to OSC.	0.3	\$850.00	\$255.00
7/11/2024	Robert Brownlie	Telephone conference	0.5	\$850.00	\$425.00
7/24/2024	Robert Brownlie	Participate in zoom meeting to discuss Axonic settlement.	0.3	\$850.00	\$255.00
8/1/2024	Koreen Kempton	Scan and send certified letters to Robert, Jenny, Doug and Russ.	0.1	\$275.00	\$27.50
8/2/2024	Robert Brownlie	Prepare for and participate in strategy call. Prepare correspondence to	1.4	\$850.00	\$1,190.00
8/5/2024	Koreen Kempton	Attorney Grant. Communicate with	0.6	\$275.00	\$165.00
8/7/2024	Robert Brownlie	Respond to Axonic's counsel regarding the most recent draft of the	0.8	\$850.00	\$680.00
		settlement agreement.			
8/7/2024	Robert Brownlie	Telephone conference with Attorney Simmons.	0.4	\$850.00	\$340.00

8/8/2024	Robert Brownlie	Prepare update regarding discuss with Attorney Simmons.	0.4	\$850.00	\$340.00
8/9/2024	Robert Brownlie	Review correspondence.	0.3	\$850.00	\$255.00
8/14/2024	Robert Brownlie	Prepare joint status report. Update Attorney Simmons regarding status of	0.3	\$850.00	\$255.00
		settlement.			
8/15/2024	Tammy King	Finalize, e-file and serve joint status report.	0.3	\$265.00	\$79.50
8/16/2024	Robert Brownlie	Telephone conference	0.3	\$850.00	\$255.00
8/23/2024	Robert Brownlie	Telephone conference	0.9	\$850.00	\$765.00
8/27/2024	Robert Brownlie	Prepare for and attend preliminary approval hearing. Prepare	0.9	\$850.00	\$765.00
8/27/2024	Koreen Kempton	Prepare and send ; and Reply to multiple correspondence	1.3	\$275.00	\$357.50
8/28/2024	Koreen Kempton	Prepare multiple correspondence	1.3	\$275.00	\$357.50
8/28/2024	Robert Brownlie	Attend to	1.2	\$850.00	\$1,020.00
8/29/2024	Koreen Kempton	Prepare multiple correspondence	1	\$275.00	\$275.00
9/5/2024	Robert Brownlie	Telephone conferences . Review and respond to	0.5	\$850.00	\$425.00
9/13/2024	Tammy King	Draft updated Joint Status Report for submission to Court.	0.2	\$265.00	\$53.00
9/16/2024	Tammy King	Finalize and e-file Status Report.	0.2	\$265.00	\$53.00
9/16/2024	Robert Brownlie	Prepare status report.	0.3	\$850.00	\$255.00
9/18/2024	Robert Brownlie	Meet with Attorney Lloyd to discuss liquidating trust. Zoom meetings co- counsel.	1.3	\$850.00	\$1,105.00
9/20/2024	Robert Brownlie	Communicate with	1.2	\$850.00	\$1,020.00
9/30/2024	Robert Brownlie	Attend hearing on Munch motion to withdraw.	0.5	\$850.00	\$425.00
10/9/2024	Koreen Kempton	Prepare multiple correspondence; Update investor address;	0.8	\$275.00	\$220.00
		Prepare correspondence			
		Total Brownlie Hansen lodestar fees			\$1,803,132.00
		Previous fee award			\$931,767.69
		Amounts distributed to co-counsel from fee award			\$234,779.40
		Net fee award to Brownlie Hansen after payments to co-counsel			\$696,988.29
		Net unreimbursed Brownlie Hansen lodestar fees			\$1,106,143.71

# EXHIBIT D

Date	Hours	Description	Billa	ble (\$)
		Review and analyze pleadings filed in Texas actions; outline		
	3.00	strategy; research		
2/16/2021			\$	1,350.00
	1.50	Call regarding Texas and California litigation strategy		
2/17/2021	1.50	•	\$	675.00
	3.50	Observe hearing on temporary injunction before J. Mangrum and		
2/24/2021	3.50	call .	\$	1,575.00
2/24/2021	1.00	Call with Robert Brownlie regarding	\$	450.00
	1.00	Observation of eviction hearing before J. Chu; update		
3/1/2021	1.00		\$	450.00
	1.50	Attention to status of Texas litigation and update to Robert		
3/8/2021	1.50	Brownlie and investor group.	\$	675.00
	0.50			
3/11/2021	0.50	Attention to hearing on motion to dismiss 21-97 filed by Axonic.	\$	225.00
3/26/2021	1.00	Attention to status of Texas litigation.	\$	450.00
		Download recent pleadings in Texas litigation. Send same to		
	1.50	Robert Brownlie with update. Call to court administrator for all		
4/19/2021		hearing settings in Texas litigation.	\$	675.00
	1.20	Review recent pleadings in Texas litigation.		
4/20/2021	1.20	Discuss strategy with Robert Brownlie.	\$	540.00
		Call and email to clerk about hearing in Texas litigation on Friday.		
	1.00	Search for YouTube link. Correspondence regarding same. Review		
4/22/2021		recent pleadings.	\$	450.00
	0.30	Review pleadings for order on motion to expunge lis pendens and		
5/3/2021	0.30	show authority.	\$	135.00
	1.00	Attention to appeal of eviction case to CCL#2 and download		
5/6/2021	1.00	pleadings, and send same to Robert Brownlie.	\$	450.00
	2.00	Attend hearing before CCL on eviction trial de novo and take		
5/12/2021	2.00	notes.	\$	900.00
	0.80	Draft and review all CCL		
5/13/2021	0.80	eviction pleadings.	\$	360.00
	1.00	Attend hearing on motion to compel Nelson depo; send update		
5/25/2021	1.00	regarding same.	\$	450.00
6/24/2021	1.20	Check docket for recent pleadings and send status update.	\$	540.00
8/13/2021	2.00	Attend Skyloft eviction hearing on MSJ before CCL#2.	\$	900.00
8/18/2021	1.00	Call with Robert Brownlie regarding strategy in Texas litigation	\$	450.00
		_		
	0.80	Call/correspondence with Robert Brownlie regarding strategy		
8/24/2021		Review .	\$	360.00
	2.00	Attention to intervention in Texas action, research		
9/1/2021	2.00	research	\$	900.00
	5.00	Attention to petition in intervention in Texas. Legal research in		
9/2/2021	3.00	support of same.	\$	2,250.00
		Attention to petition in intervention in Texas,		
	3.00			
9/3/2021			\$	1,350.00

9/15/2021	3.00	Draft and research petition in intervention.	\$ 1,350.00
	2.00	Review and revise petition in intervention, and discuss same with	
9/16/2021	2.00	Robert Brownlie.	\$ 900.00
		Review and revise petition in intervention, and discuss same with	
	2.00	Robert Brownlie. Call and correspondence with Jim Parziale	
9/17/2021		regarding .	\$ 900.00
		Review and revise petition in Intervention, letter requesting	
	3.20	service on Degiacinto, PHV motion. Outline	
9/20/2021			\$ 1,440.00
	4.00	Attention to finalizing and filing petition in intervention, request	
9/21/2021	4.00	for service on Degiacinto, shell for initial disclosures.	\$ 1,800.00
	0.80		
9/23/2021	0.00	Correspondence with client regarding	\$ 360.00
		Attention to discovery to parties; initial disclosures, joinder to	
	4.50	confidentiality order; call with Robert Brownlie regarding status.	
9/29/2021		Attention to service on Degiacinto.	\$ 2,025.00
10/1/2021	4.00	Draft motion for partial summary judgment.	\$ 1,800.00
	3.00	Draft motion for partial summary judgment and legal research	
10/5/2021	3.00	for same.	\$ 1,350.00
	5.80	Draft motion for partial summary judgment and legal research in	
10/6/2021	3.00	support of same.	\$ 2,610.00
	6.20	Draft motion for partial summary judgment and legal research in	
10/7/2021	0.20	support of same.	\$ 2,790.00
	6.20	Attention to finalizing and filing motion for partial summary	
10/8/2021	0.20	judgment and exhibits.	\$ 2,790.00
		Attention to pro hac vice motion, attention to document	
	3.00	production from al parties, scheduling depositions, review Patrick	
10/21/2021		Nelson deposition.	\$ 1,350.00
		Attention to depositions in New York. Finalize and serve initial	
		disclosures. Call with all counsel regarding Nelson document	
	5.50	discovery. Correspondence with Jim Parziale. Review Nelson	
		deposition. Attention to opposition to motion to strike	
10/22/2021		intervention.	\$ 2,475.00
	7.50	Attention to cross-depo notices of TCG/Axonic parties. Attention	
10/25/2021	7.50	to response to motion to strike intervention.	\$ 3,375.00
	8.00	Attend deposition of Brandon McCormick/Axonic. Draft	
10/26/2021	0.00	response to motion to strike intervention.	\$ 3,600.00
	9.50	Attend deposition of Morris Doueck/TCG; draft response to	
10/27/2021		motion to strike, legal research in support of same.	\$ 4,275.00
	7.00	Attend deposition of Clayton DeGiacinto, finalize and file	
10/28/2021		opposition to motion to strike intervention.	\$ 3,150.00
10/29/2021	0.30	Attention to gathering documents .	\$ 135.00
		Prepare for and attend hearing before J. Livingston on motions to	
		seal and motion to strike intervention, motion for continuance of	
	8.90	MSJ, and status conference before J. Crump, review MSJs filed by	
		TCG; call regarding strategy and depos;	
11/4/2021			\$ 4,005.00

		Attention to researching . Review		
11/5/2021	1.50	order specially assigning J. Crump.	\$	675.00
		Attention to correspondence on scheduling motions for summary	7	
	1.80	judgment. Attention to cross-notice depositions of Hartman,		
11/10/2021	1.00	Pikula.	\$	810.00
==,==,====		Call with clients regarding . Review	7	0_0.00
11/16/2021	1.50	The state of the s	\$	675.00
11/10/2021		Attention to request .	Υ	0,5.00
11/17/2021	1.40	Correspondence with all counsel regarding MSJ scheduling.	\$	630.00
, , , -		Review Nelson opposition to TCG Motion for SJ on capacity.	·	
11/29/2021	1.80	Prepare for hearing before J. Crump.	\$	810.00
, 2, 2		Prepare for and attend hearing and status conference before J.	•	
11/30/2021	3.50	Crump.	\$	1,575.00
12/1/2021	8.30	Deposition of Pat Nelson.	\$	3,735.00
12/2/2021	7.80	Deposition of Pat Nelson.	\$	3,510.00
12/3/2021	6.50	Deposition of Pat Nelson.	\$	2,925.00
12/15/2021	0.50	Attention to agreement for attorney's fees after trial.	\$	225.00
	1.00	Attention to discovery, upcoming deadlines, task list, motions for		
12/17/2021	1.00	summary judgment.	\$	450.00
		Attention to status of eviction case and writ of		
	1 70	execution/possession; review county court pleadings Update		
	1.70	regarding same. review TCG motion for MSJ against Nelson		
12/28/2021		Parties.	\$	765.00
		Email conference with all counsel regarding extending scheduling		
	1.40	order deadlines; review and approve motion to extend		
12/30/2021		scheduling order.	\$	630.00
	1.50	Attend hearing on motion to seal and status conference.		
1/4/2022	1.50	Attention to Nelson appeal of eviction case.	\$	675.00
	2.30	Observe and report on Skyloft eviction case hearing on appeal		
1/10/2022	2.50	bond. Research into	\$	1,035.00
	5.40	Review Axonic MSJ on Nelson capacity. Draft and file response to		
	3.40	Axonic MSJ on Nelson Capacity; create PowerPoint for hearing on		
1/11/2022		MSJ on rescission; review amended pleadings filed by all parties.	\$	2,430.00
		Download and review oppositions to MPSJ filed by Nelson,		
	5.80	Axonic, TCG. Outline reply briefs. Attention to motion to		
	0.00	mediate by Nelson and potential mediators. Announcement for		
1/12/2022		MSJ hearing.	\$	2,610.00
	_	Meeting with Robert Brownlie and Jerry Trippitelli regarding		
4 /40 /2	2.30	. Attention to Nelson motion to	_ ا	4.007.55
1/13/2022		appoint mediator.	\$	1,035.00
1/13/2022	0.30	Attention to .	\$	135.00
	F	Draft ranks to Nalson's response to Partials MDCL on Resisting		
1 /1 / /2022	5.50	Draft reply to Nelson's response to Parziale MPSJ on Rescission.	ے ا	2 475 00
1/14/2022		Attention to replies to Axonic and TCG on MPSJ on rescission.	\$	2,475.00

#### D-1-GN-21-000097

### Miller Lloyd PC Hours Expended

		Attention to revising, cite-checking, proofing, and filing reply		
	6.30	briefs in support of MPSJ. Circulate link to Zoom/YouTube for		
1/17/2022	0.00	hearing.	\$	2,835.00
2/27/2022		Prepare for and attend hearing before J. Crump on motions for	Υ	2,000.00
	8.00	summary judgment. Upload briefs and evidence and proposed		
1/18/2022	8.00	orders; update to	\$	3,600.00
1/10/2022		Attention to parties' motions to seal. Attention to potential	٧	3,000.00
4 /40 /2022	0.60	mediators.	۲.	270.00
1/19/2022			\$	270.00
		Review letter to J. Livingston on motion to strike and attention to		
	2.50	drafting and filing response; attention to mediator selection and	_	
1/21/2022		scheduling.	\$	1,125.00
	1.80	Attention to researching ; request for Parziale		
1/25/2022		deposition and documents; mediation scheduling.	\$	810.00
		Attention to production of documents from Parziale		
	1.50	Research . Draft shell for		
1/28/2022		expert designation.	\$	675.00
	1.80	Attention to expert designation. Attention to scheduling J.		
2/1/2022	1.80	Parziale deposition.	\$	810.00
2/2/2022	0.70	Review expert designations by other parties.	\$	315.00
		Zoom call with Robert Brownlie and Mediator Royal Furgeson,		
	2.40	email regarding deposition scheduling, review amended		
2/7/2022		pleadings	\$	1,080.00
2/8/2022	2.00	Zoom call with Mediator Royal Ferguson and all parties	\$	900.00
, ,		Draft confidential mediation statement to Royal Ferguson and	<u> </u>	
2/10/2022	6.00	send to Robert Brownlie for review.	\$	2,700.00
2/15/2022	3.00	Deposition of Jane Heider	\$	1,350.00
2, 23, 2322	3.00	Hearing on motions to seal and continuance on MSJs. Revise and	т	
	3.40	serve confidential mediation statement to J. Furgeson. Review		
2/16/2022	3.40	eviction case docket and writs of possession.	\$	1,530.00
2/10/2022		Draft responses to discovery to Jim Parziale and send same to	<u> ۲</u>	1,550.00
	5.30	client for review. Legal research into		
2/17/2022	5.50	. Download orders on MSJs.	¢	2 205 00
	2.50		\$	2,385.00
2/18/2022	2.50	Call with Jim P regarding  Finalize and file responses to discovery.	\$	1,125.00
2/21/2022	2.00	,	<b>&gt;</b>	900.00
2 /22 /222	6.70	File oppositions to Axonic/TCG motions for summary judgment		2 245 22
2/22/2022		on rescission, fiduciary duties.	\$	3,015.00
2/23/2022	8.50	Mediation with Judge Furgeson.	\$	3,825.00
2/25/2022	0.50	Confer with Greg Noschese on motion to compel arbitration.	\$	225.00
2/28/2022	9.00	Mediation with Judge Furgeson.	\$	4,050.00
		Prepare for and attend hearing (remote) before J. Crump on cross-		
	8.70	motions for summary judgment, motion to join responsible third		
3/1/2022		parties, motion to compel arbitration.	\$	3,915.00
		Correspondence with mediator regarding		
		Call with clients regarding; call with		
	3.20	mediator regarding same. Attention to review and production of		
		documents from J. Parziale and review M&C correspondence		
3/4/2022		with B. Bailiette regarding same.	\$	1,440.00
	<u> </u>			-

		Willer bloyd i e flours Experided		
		Attention to correspondence with mediator, deposition		
	1.90	scheduling, reviewing documents from J. Parziale, final discovery		
3/8/2022		and pretrial strategy.	\$	855.00
, ,		7		
		Draft opposition to motion to compel arbitration. Call with Judge		
	6.20	Furgeson. Review Parziale documents		
	6.20			
- 1- 1		Draft responses and objections to discovery to J. Parziale. Draft	١.	
3/9/2022		outline for .	\$	2,790.00
	6.50	Review Parziale docs for production. Outline response to meet		
3/10/2022		and confer letter from Axonic. Attend depo of Jeffrey Hansen.	\$	2,925.00
		Depositions of Polk and Glenn Schiffman. Draft opposition to		
	8.70	Motion to join responsible third parties. Draft opposition to		
3/11/2022		motion to compel arbitration	\$	3,915.00
-, , -		'		-,
1		Review and revise oppositions to Axonic traditional and no		
	8.50	evidence motion, and TCG motion for summary judgment on		
2/14/2022		1	۲.	2 025 00
3/14/2022		rescission. Gather evidence, cite check, and file final oppositions.	\$	3,825.00
3/16/2022	3.00	Deposition preparation with J. Parziale.	\$	1,350.00
	12.00	Attend deposition of J. Parziale. Review documents		
3/17/2022	12.00	Review and revise discovery responses.	\$	5,400.00
		Attend deposition of Ashley Holloway. Review documents		
	10.00	. Draft and file opposition to MTC		
3/18/2022		arbitration.	\$	4,500.00
		Prepare for hearing. Review		
		Draft proposed orders and send motions/responses		
	13.00	to court before hearing. Draft and file opposition to motion to		
3/20/2022		compel.	\$	5,850.00
3/20/2022		Pretrial hearing before Judge Crump on motions to compel,	٦	3,830.00
		motions for summary judgment, motion to compel arbitration,		
	9.50	other pretrial motions. Review . File amended		
		discovery responses by J. Parziale. Meet and confer with		
3/21/2022		opposing counsel on pretrial motions.	\$	4,275.00
		Pretrial hearing (second day) before J Crump. Meet with		
	13.00	. Review Patrick Capital Management documents. ravel		
3/22/2022		to PHX for Sandy Simmons Depo.	\$	5,850.00
		Deposition of Sandy Simmons. Attention to		<u> </u>
3/23/2022	12.50	. Travel to Austin.	\$	5,625.00
3, 23, 2022		Draft and file motions to exclude Doueck and Ashourzadeh	<u> </u>	3,023.00
		expert testimony. Research		
	7.00			
	7.80	Draft amended pretrial disclosures and file. Upload		
		arbitration order from CA Court to Box and send to Nelson		
3/25/2022		counsel.	\$	3,510.00
		Review orders from court on motion to compel Parziale docs,		
	2.70	arbitration, pre-trial matters. Attention		
3/29/2022			\$	1,215.00
	_			

1		Most and confor with all council as a settial issues and a settial	1	
		Meet and confer with all counsel on pretrial issues and pretrial		
	1.80	scheduling. Review B. Simmons email regarding same. Review	l .	_
3/30/2022		· .	\$	810.00
	6.00	Review o		
4/1/2022	0.00		\$	2,700.00
	4.00	Finish review of Parziale emails		
	4.00	Review motions to seal by Axonic. Approve		
4/4/2022		recap of meet and confer call with all counsel re: pretrial issues.	\$	1,800.00
	4 50	Review . Review orders on MSJ		
4/5/2022	1.50	signed by J. Crump and outline claims left after SJ.	\$	675.00
		Meet with Doug Brothers, Russ Horton, Robert Brownlie		
	7.50	regarding trial strategy. Attention to trial preparation. Confer		
4/6/2022		with Nelson on appeal of order denying arbitration.	\$	3,375.00
, -, -		Review petition for mandamus of denial of motion to compel		-,
		arbitration filed by Nelson Parties; review appellate deadlines		
	5.50	outline response to mandamus, review motion to stay trial date		
4/7/2022		pending mandamus.	\$	2,475.00
4/1/2022		Review emergency motion for stay of trial date filed in Austin	7	2,473.00
4/8/2022	6.00	COA by Nelson Parties; research and outline response.	\$	2,700.00
4/8/2022		Attention to joint exhibits.	٦	2,700.00
		. Additional exhibits for trial. Witness list and		
	г 00	exhibit list. Jury questionnaire. Approval of trial deadline		
	5.00	modification. Attention to		
4/11/2022		Nelson Motion to Trifurcate trial. Other PT matters.	\$	2 250 00
4/11/2022			Ş	2,250.00
	- 00	Deposition excerpts, witness list, exhibit list, charge, motions in		
4/42/2022	5.90	limine. Potential settlement communications. Other pretrial	۸ .	2 655 00
4/12/2022		matters.	\$	2,655.00
. / /	1.50	Finalize and serve witness list, exhibit list, initial depo		
4/13/2022		designations.	\$	675.00
		Attend docket call. Attend Zoom session with trial consultant.		
, .	4.80	Finalize and file motion in limine. Attention to potential	l .	
4/15/2022		settlement.	\$	2,160.00
	8.50	Deposition designations, review exhibits lists, witness lists, and		
4/18/2022	0.50	motions in limine. Draft jury charge and research same.	\$	3,825.00
		Finalize and file jury charge. Review jury		
		charge filed by Nelson Parties and Axonic Parties. Depo excerpts.		
	9.50	Trial subpoena for Clayton Degiacinto. Research		
	9.50	Review		
		. Call with Doug Brothers		
4/19/2022		regarding same.	\$	4,275.00
	8.00	Prepare for pretrial hearing, review all filings, and review		
4/20/2022			\$	3,600.00
4/21/2022	8.50	Pretrial hearing (remote) with court.	\$	3,825.00
, ==, ====	2.20	, , , , , , , , , , , , , , , , , , , ,		-,

		· · ·		
		Conference with all counsel on exhibits. Draft jury charge for		
	6.50	Intervenors. Review depo excerpts and exhibits. Courtroom IT		
4/22/2022		presentation in J. Meachum courtroom.	\$	2,925.00
	9.00	Trial prep; prepare trial notebook; motions in limine, proposed		
4/24/2022	5.00	orders; objections to depositions; etc.	\$	4,050.00
4/25/2022	8.00	Pretrial hearing.	\$	3,600.00
	11.00	Jury selection. Draft bench brief on settlement		
4/26/2022	11.00	credit/proportionate responsbility.	\$	4,950.00
4/27/2022	9.00	Trial.	\$	4,050.00
4/28/2022	12.50	Trial. Draft bench brief on liquidation plan admissibility.	\$	5,625.00
4/29/2022	7.50	Trial	\$	3,375.00
	6.50	Revise jury charge, draft instruction on contract interpretation,		
5/1/2022	0.50	review transcript.	\$	2,925.00
5/2/2022	9.00	Trial	\$	4,050.00
5/3/2022	7.00	Trial. Research charge and directed verdict motions.	\$	3,150.00
5/4/2022	9.50	Trial	\$	4,275.00
5/5/2022	9.00	Trial. Jury charge.	\$	4,050.00
5/6/2022	7.50	Trial. Bench conference on jury charge.	\$	3,375.00
5/9/2022	9.50	Trial. Jury charge.	\$	4,275.00
5/10/2022	8.00	Trial. Draft notice to investors.	\$	3,600.00
5/11/2022	8.50	Verdict. Research post-verdict motions	\$	3,825.00
	2.22	Call regarding post-verdict motions; attention to outlining and		
6/1/2022	3.00	researching post-verdict motions.	\$	1,350.00
6/12/2022	1.00	Motion for final approval	\$	450.00
		Attention to schedule for post-verdict motions and research		
6/19/2022	1.50	same.	\$	675.00
7/8/2022	0.70	Attention to schedule for post-verdict motions.	\$	315.00
7/16/2022	4.00	Attention to outlining and researching post-verdict motions.	\$	1,800.00
7/18/2022	7.00	Attention to outlining and researching post-verdict motions.	\$	3,150.00
7/19/2022	0.50	Attention to hearing on post-verdict motions.	\$	225.00
8/7/2022	7.00	Draft post-verdict motions.	\$	3,150.00
8/8/2022	9.20	Draft post-verdict motions.	\$	4,140.00
8/9/2022	2.00	Draft post-verdict motions.	\$	900.00
8/10/2022	10.00	Draft post-verdict motions.	\$	4,500.00
8/11/2022	8.50	Finalize and file post-verdict motions.	\$	3,825.00
, ,		Attention to post-verdict motions and responses. Send motions		•
	2.50	to Court for 9/14 hearing. Send motions to Court box for 9/14		
8/15/2022		hearing.	\$	1,125.00
8/17/2022	1.00	Attention to post-verdict motions.	\$	450.00
9/7/2022	10.00	Reply briefs.	\$	4,500.00
9/8/2022	7.00	Reply briefs.	\$	3,150.00
9/9/2022	16.00	Reply briefs.	\$	7,200.00
10/18/2022	1.00	Review and circulate final judgment.	\$	450.00
10/28/2022	0.70	Draft judgment	\$	315.00
11/9/2022	1.00	Call with all counsel on form of judgment.	\$	450.00
11/15/2022	1.00	Sol y Luna call with plan administrator	\$	450.00
11/13/2022	1.00	por y Lana can with plan administrator	۲	+30.00

	3.50	Call with Doug and Robert; call with wick Phillips team, call with		
11/17/2022	3.50	Noschese. Review motions filed by Plan Administrator.	\$	1,575.00
		attend hearing on motion to show cause. Review proposed		
	7.30	orders . Review email from Noschese. Review closing statement		
11/18/2022		and excel spreadsheet from Munsch.	\$	3,285.00
		Review administrators' proposed investor website. Review		
11/30/2022	1.20		\$	540.00
		Attention to confidentiality agreement in severed case and		
	1.30	emails with Wick Philips regarding same. Send		
12/12/2022		programme and the second secon	\$	585.00
12/15/2022	5.00	Nelson deposition.	\$	2,250.00
	3.00	Nelson deposition day 2. Draft and file joinder to Administrator's	<del></del>	
	5.50	motion for contempt. Review revised liquidation schedule from		
12/16/2022	3.50	Nelson.	\$	2,475.00
12/18/2022	0.50	Attention to request from Wick Philips.	\$	225.00
12/20/2022	0.20	Call from Noschese re: confidentiality in severed case.	\$	90.00
12/20/2022	0.20	cui i forii Noscitese re. comidentiality in severed case.	7	30.00
1/3/2023	0.50	Conference regarding email from Skarnulis	\$	225.00
1/13/2023	0.20	Communications re: Axonic settlement.	\$	90.00
1/13/2023	0.20	Conference with Administrator; review proposed distribution	٠	90.00
1/26/2022	2.90	order; draft motion for approval of attorneys' fee.	, ė	1 205 00
1/26/2023	1.00	Call with	\$ \$	1,305.00
2/1/2023	1.00		Ş	450.00
	4 70	Review plan administrator update for website. Gather costs for		
2/0/2022	1.70	motion and send draft distribution motion to Wick Philips for		765.00
2/8/2023		review.	\$	765.00
0 /0 /0 000	2.50	Draft motion for attorney's fees distribution and costs and		
2/9/2023		circulate same to GBKH and RB for comment.	\$	1,125.00
	3.50	Call with plan administrator and update to RB Finalize and file		
2/10/2023		motion for attorneys fees. send to OC and set for hearing.	\$	1,575.00
2/15/2023	0.50	Announce ready for hearing.	\$	225.00
	2.00	Attention to motion for fees; call with Administrator and NP	1 .	
2/22/2023		attorneys; notes to Robert Brownlie re same.	\$	900.00
	1.80	Attention to order on attorney's fees distribution and prep for		
2/23/2023	1.00	hearing. Call with Wick Phillips re: prep for hearing.	\$	810.00
	8.40			
2/24/2023	0.40	Hearing on motion to contempt; negotiate agreement for CSO.	\$	3,780.00
3/1/2023	0.50	Conference with Wick Philips.	\$	225.00
3/3/2023	1.50	Conference with Wick Phillips	\$	675.00
3/5/2023	1.00	Conference with Wick Phillips re: CSO appointment.	\$	450.00
3/6/2023	0.30	Call and email to Mark Hawkins, arbitrator.	\$	135.00
3/8/2023	0.70	Review and edit draft CSO Order for Wick Phillips.	\$	315.00
3/14/2023	0.50	Send investor agreement to Wick Philips.	\$	225.00
3/22/2023	6.00	Mediation with Bob Meyer.	\$	2,700.00
3/31/2023	0.50	Attention to administrator's motion to distribute.	\$	225.00
4/12/2023	0.20	Request from Dan Byrne re Zoom hearing.	\$	90.00
	4.50	Prepare and file opposition to motion to withdraw and		
4/14/2023	1.50	correspondence regarding same.	\$	675.00
				-

		Attend hearing on motions to withdraw Call to Bohart Brownlie	1	
4/47/2022	2.00	Attend hearing on motions to withdraw. Call to Robert Brownlie	۸ .	000.00
4/17/2023		regarding same.	\$	900.00
4/18/2023	0.20	Request from Dan Byrne to seal.	\$	90.00
4/27/2023	0.50	Call with Administrator counsel regarding strategy.	\$	225.00
	0.80	Call with Axonic counsel to discuss		
5/5/2023			\$	360.00
	0.70	Call with Administrator regarding next steps and		
5/30/2023	0.70		\$	315.00
6/15/2023	0.40	Call with Administrator regarding .	\$	180.00
	2.50	Attention to		
6/19/2023	2.50		\$	1,125.00
	7.00	Prepare for an attend hearing on Nelson settlement. Draft		
6/20/2023	7.00		\$	3,150.00
	1.00	Hearing on Nelson's motion to seal ACP docs. Attention to		
7/7/2023	1.00		\$	450.00
7/10/2023	0.30	Attention to Axonic settlement.	\$	135.00
7/14/2023	0.70	Attention to Axonic settlement.	\$	315.00
7/17/2023	0.80	Attention to Axonic settlement.	\$	360.00
	1.00			
7/18/2023	1.00	Review TCG counsel comments to	\$	450.00
		Internal call regarding		
	3.20	review comments from Barney Givens		
7/26/2023		7/24 and Bethany Simmons 7/20.	\$	1,440.00
	2.00	Call with Barney Given Bethany Simmons regarding Axonic		
7/31/2023	2.00	settlement, edit same.	\$	900.00
8/6/2023	0.50	Call with Administrator and counsel regarding hearing.	\$	225.00
8/9/2023	0.50	Call with Administrator and counsel regarding hearing.	\$	225.00
8/16/2023	0.30	Call internal regarding Axonic settlement status.	\$	135.00
9/7/2023	0.50	Call with Robert/Doug regarding	\$	225.00
9/21/2023	4.00	Resarch into	\$	1,800.00
9/25/2023	2.00	Prepare for hearing on contempt. Call regarding strategy.	\$	900.00
1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1		Attend hearing on contempt against Nelson; attention to post-	Ė	
9/26/2023	6.00	judgment strategy.	\$	2,700.00
10/2/2023	0.40	Call with Administrator counsel regarding strategy.	\$	180.00
	01.10	Attention to research on s	7	
	2.80	Axonic settlement negotiations, and internal		
10/12/2023	2.00	correspondence regarding same.	\$	1,260.00
10/31/2023	1.00	Call with Jason Rudd and Greg Milligan re Nelson meeting.	\$	450.00
12/5/2023	0.30	Correspondence from Axonic counsel	\$	135.00
12/3/2023	0.50	Draft s	ļ _	133.00
12/13/2023	4.00	. Send same to Axonic for review.	\$	1,800.00
12/13/2023		Revise	٠	1,000.00
	5.00	; internal correspondence		
12/14/2023	5.00	regarding same.	ڔ	2,250.00
12/14/2023	0.30	Review dismissal of Nelson appeal of Agreed Judgment.	\$	135.00
12/10/2023	0.50	neview distribution recison appear of Agreed Judgment.	۰	133.00
1/9/2024	1.30	Call with Plan Administrator. Review/email re Axonic settlement.	\$	585.00

T		In		
	0.50	Correspondence from Axonic counsel with revised draft		
2/12/2024	0.50	settlement documents.	\$	225.00
		Review Axonic draft of settlement documents dated 2/12, and		
	2.30	internal call regarding		
2/16/2024	2.00		\$	1,035.00
2/10/2024		Attention to Avenie settlement	٧	1,033.00
- 1- 1	0.50	Attention to Axonic settlement		
3/8/2024			\$	225.00
	0.50	Email to Barney/Bethany		
3/9/2024	0.50	pending DE counsel review.	\$	225.00
3/18/2024	0.20	Email Barney/Bethany regarding settlement.	\$	90.00
		Correspondence with Axonic counsel regarding status of		
3/28/2024	0.20	settlement.	\$	90.00
3/20/2024			۲	30.00
	0.20	Correspondence with Axonic counsel regarding status of		
4/9/2024		settlement.	\$	90.00
	2.00	Internal call/correspondence regarding Axonic settlement		
4/15/2024	2.00	; review same.	\$	900.00
, ,		Internal call/correspondence regarding Axonic settlement		
4/16/2024	1.00	strategy.	\$	450.00
4/10/2024			۲	430.00
	1.30	Correspondence to Axonic and internally regarding		
4/26/2024		current status of settlement docs.	\$	585.00
		Call with Administrator and counsel regarding		
	1.70	call and correspondence with Axonic counsel		
4/30/2024		regarding current status of settlement documents.	\$	765.00
	0.10	Follow up to Axonc counsel regarding status.	\$	
5/6/2024	0.10		Ş	45.00
		Correspondence with Axonic counsel regarding update to Court		
	1.20	and new drafts from Axonic. Review Axonic edits and internal		
5/10/2024		correspondence regarding same.	\$	540.00
		Research into class action notices and final and preliminary		
5/20/2024	3.00	approval orders. Research into liquidating trust agreements.	\$	1,350.00
57 = 57 = 5 = 3		Research into class action notices and final and preliminary	т	_,
F /21 /2024	5.00	· · · · · ·	۲.	2,250.00
5/21/2024		approval orders. Research into liquidating trust agreements.	\$	2,250.00
		Draft Axonic settlement stipulation, notice, final approval order,		
	4.00	preliminary approval order, liquidating trust agreement,		
5/22/2024		supplemental class action petitio.	\$	1,800.00
		Draft Axonic settlement stipulation, notice, final approval order,		
	5.00	preliminary approval order, liquidating trust agreement,		
E /22 /2024		supplemental class action petition; circulate for internal review.	۲	2 250 00
5/23/2024			\$	2,250.00
	1.00	Send Axonic settlement stipulation and all exhibits to Bethany		
5/28/2024		Simmons and Barney Givens.	\$	450.00
6/14/2024	2.20	Attention to Axonic settlement papers contested points.	\$	990.00
		Review revised settlement papers from Axonic counsel, and		
		internal call with Robert, Doug, Russ regarding Axonic settlement		
	3.80	papers. Draft supplemental class action petition.		
	5.00	l		
6/40/202		Correspondence to administrator with agenda for call. Research	۸.	4 740 00
6/19/2024			\$	1,710.00

	0.40	Call with Jason Rudd, Administrator counsel, regarding	
6/21/2024	0.40		\$ 180.00
6/24/2024	2.20	Research severance .	\$ 990.00
	2.50	Correspondence with draft supplemental class action petition	
6/25/2024	2.50	and motion to sever, and draft same.	\$ 1,125.00
		Revised Axonic settlement documents and all exhibits. Call with	
	2.80	Bethany Simmons and Doug, Russ, Robert, regarding Axonic	
6/26/2024		settlement negotiations.	\$ 1,260.00
		Review proposed edits from Jason Rudd, Administrator counsel,	
	1.30	regarding	
6/27/2024		and call regarding same.	\$ 585.00
7/1/2024	0.70	Review administrator comments to Axonic settlement papers.	\$ 315.00
		Review comments to class action petition and motion to sever.	
	1.80	Correspondence with Axonic counsel regarding exhibits to	
7/11/2024		Stipulation.	\$ 810.00
	0.00	Revise class action petition and motion to sever per comments	
7/15/2024	0.80	and re-circulate.	\$ 360.00
	4.00	Attention to distribution procedures and notice for Axonic	
7/19/2024	1.80	settlement and correspondence regarding same.	\$ 810.00
	0.50		
7/22/2024	0.50	Correspondence with Robert/Doug regarding Nelson judgment	\$ 225.00
		Correspondence with Axonic counsel, administrator, and	
	2.00	internally internally regarding	
	2.80	, and research regarding	
7/22/2024		same.	\$ 1,260.00
	0.60		
7/24/2024	0.00	Call with Bethany Simmons regarding Class Action Petition draft.	\$ 270.00
7/25/2024	1.80	Revise class action petition for settlement purposes only.	\$ 810.00
	0.80	Correspondence regarding of Axonic	
8/2/2024	0.80	settlement.	\$ 360.00
8/9/2024	0.40	Correspondence regarding Axonic .	\$ 180.00
	0.80	Correspondence re status of Axonic settlement agreement and	
8/19/2024	0.80	finalizing same.	\$ 360.00
	1.50	Attention to finalizing Axonic settlement, circulating execution	
8/22/2024	1.50	draft.	\$ 675.00
	2.00	Obtain signatures to Axonic settlement, correspondence with	
8/23/2024	2.00	court on preliminary approval hearing, upload documents.	\$ 900.00
	6.00	Attention to Settlement Stipulation; signatures; e-file motion for	
8/26/2024	6.00	preliminary approval of settlement; send to Court.	\$ 2,700.00
8/27/2024	5.00	Prepare for and attend Prelim Approval Hrg.	\$ 2,250.00
8/28/2024	3.00	Attention to notice, settlement timelines, orders.	\$ 1,350.00
	1 20	Attention ;	
8/29/2024	1.30	correspondence regarding same.	\$ 585.00
	0.00	Review final form of notice emailed to class members; cause	
8/30/2024	0.60	number of severed case.	\$ 270.00
9/4/2024	0.30	Correspondence regarding Liquidating Trust Agreement.	\$ 135.00

Jnreimbursed L	.odestar		\$	200,028.28
Prior Fee Award			\$	226,256.72
Total Lodestar	947.30		\$	426,285.00
, ,,===.		, , , , , , , , , , , , , , , , , , , ,		
11/4/2024		Motion for attorney's fees approval.	\$	2,250.00
11/1/2024	5.00	Motion for final approval; motion for attorney's fees approval.	\$	2,250.00
10/31/2024	6.00	Motion for final approval.	\$	2,700.00
10/29/2024	4.50	Motion for final approval. Call with Jason Rudd.	\$	2,025.00
10/28/2024	2.00	Draft motion for final approval, attention to Axonic settlement.	\$	900.00
10/25/2024	2.00	Correspondence with Administrator, class counsel regarding implementation of Axonic settlement; objection to same.	\$	900.00
10/21/2024	1.50	Review objection to Axonic settlement and correspondence regarding same.	\$	675.00
10/16/2024	3.00	Call with Axonic counsel regarding tax disclosure and correspondence regarding same.	\$	1,350.00
10/10/2024	2.70	correspondence regarding same to Axonic counsel.	\$	1,215.00
		Call with ;	Ė	
10/8/2024		Correspondence calls regarding Axonic .	\$	900.00
10/7/2024	1.50	Research and contact potential	\$	675.00
10/7/2024	1.80	Correspondence calls .	\$	810.00
10/3/2024	1.20	Review . Correspondence calls	\$	540.00
10/2/2024	1.30	regarding same.	\$	585.00
9/30/2024	0.70	judgment.  Review and internal discussion	\$	315.00
	0.70	Attend hearing on Munsch motion to withdraw. Call Ben King re		
9/26/2024	0.50	Call from Axonic counsel regarding tax disclosure and internal discussion regarding same.	\$	225.00
9/18/2024	1.50	Calls with Administrator and counsel re Liquidating Trust.	\$	675.00
9/17/2024		Attention to posting class notice on website.	\$	90.00
9/6/2024		settlement notice.	\$	315.00
5/5/2523	0.70	Attention to class members questions regarding Axonic		
9/5/2024	1.30	Attention to Munsch request to withdraw and hearing date. Attention to Axonic request re CAFA notice.	\$	585.00

# EXHIBIT E

Date	Description	Cost
2/23/2021	Superior Court Cost for Filing Complaint (\$435) and Complex Case Fee (\$1000) - Filing date 2021.02.18.	\$1,435.00
2/25/2021	Invoice # OC 182536. Integrity Legal Corp (thru Nationwide) for printing and delivery of Ex Parte Binder to Judge. (\$161.84)	\$161.84
2/25/2021	Inv. # 27128 - (\$2324.49) - Print and Personal service of Complaint, Civil Cover Sheet, TRO documents and Discovery documents on all Defendants.	\$2,251.50
4/1/2021	Order #SD65821 for Courtesy Copy Binder printed and delivered to Judge Marshall.	\$220.10
4/1/2021	Court Call Invoice # 11151897 for Case Management Conference call.	\$94.00
4/1/2021	Delaware Government payment to DCIS.	\$20.00
4/1/2021	One Legal Court Filing Cost for Complaint, Civil Case Cover Sheet, and Summons Issued (Order # 15889156; 02/18/2021)	\$1,496.61
4/1/2021	One Legal Court Filing Cost for Summons Issued and Filed (Order # 15892736; 02/18/2021)	\$14.25
4/1/2021	One Legal Court Filing Cost for Proof of Service (Order # 15906026; 02/22/2021)	\$17.25
4/1/2021	One Legal Court Filing Cost for Ex Parte Application and Supporting documents (Order # 15905982; 02/22/2021)	\$17.25
4/1/2021	One Legal Court Filing Cost for Ex Parte Application (Order # 15905865; 02/22/2021)	\$18.25
4/1/2021	One Legal Court Filing Cost for Ex Parte Application and Supporting documents (Order # 15906096; 02/22/2021)	\$17.25
4/1/2021	One Legal Court Filing Cost for Amended Complaint (Order # 15903151; 02/22/2021)	\$14.25
4/1/2021	One Legal Court Filing Cost for Summons Issued and Filed (Order # 15896641; 02/22/2021)	\$14.25
4/1/2021	One Legal Court Filing Cost for Declaration and Proof of service (Order #15907181; 02/22/2021)	\$18.25
4/1/2021	One Legal Court Filing Cost for Ex Parte Application - Other, Declaration in Support, Proof of	\$80.23
	Service by Mail (Order # 15907416; 02/22/2021)	
4/1/2021	One Legal Court Filing Cost for Declaration (Order # 15911046 on 2/22/2021)	\$18.25
		\$22.91
4/1/2021	One Legal Court Filing Cost for Memorandum of Points and Authorities (Order # 16020366 on 3/17/2021)	·
4/1/2021	One Legal Court Filing Cost for Objection (Order # 16043328 on 3/22/2021)	\$22.91
4/1/2021	One Legal Court Filing Cost for Memorandum of Points and Authorities (Order # 16048641 on 3/23/2021)	\$14.67
4/1/2021	One Legal Court Filing Cost for Case Management Statement (Order # 16059806 on 3/24/2021)	\$12.35
4/1/2021	One Legal Court Filing Cost for Proof of Service of Summons on Defendant (Order # 15952398 on 3/3/2021)	\$18.79
4/1/2021	One Legal Court Filing Cost for Proof of Service of Summons on Defendant (Order # 15952445 on 3/3/2021)	\$18.79
4/1/2021	One Legal Court Filing Cost for Proof of Service of Summons on Defendant (Order # 15952470 on 3/3/2021)	\$18.79
4/1/2021	One Legal Court Filing Cost for Proof of Service of Summons on Defendant (Order # 15952426 on 3/3/2021)	\$18.79
4/1/2021	One Legal Court Filing Cost for Proof of Service of Summons on Defendant (Order # 15952487 on 3/3/2021)	\$18.79
4/1/2021	One Legal Court Filing Cost for Proof of Service of Summons on Defendant (Order # 15952508 on 3/3/2021)	\$18.79
4/1/2021	One Legal Court Filing Cost for Proof of Service of Summons on Defendant (Order # 15952538 on 3/3/2021)	\$18.79

4/1/2021	One Legal Court Filing Cost for Proof of Service of Summons on Defendant (Order # 15952566 on 3/3/2021)	\$18.79
4/1/2021	One Legal Court Filing Cost for Proof of Service of Summons on Defendant (Order # 15952367 on 3/3/2021)	\$18.79
4/1/2021	One Legal Court Filing Cost for Supplemental Filing (Order # 15956393 on 3/3/2021)	\$18.79
4/1/2021	One Legal Court Filing Cost for Ex Parte Application Filing (Order # 16078926 on 3/30/2021)	\$76.44
4/1/2021	One Legal Court Filing Cost for Ex Parte Declaration (Order # 16079299 on 3/30/2021)	\$14.67
4/1/2021	One Legal Court Filing Cost for Surety Bond (Order # 15958220 on 3/4/2021)	\$14.67
4/1/2021	One Legal Court Filing Cost for Notice of Ruling - Complex (Order # 16160373 on 4/14/2021)	\$14.67
4/1/2021	One Legal Court Filing Cost for Ex Parte Application - Other, Declaration in Support, Proof of Service by Mail (Order # 15907344; 02/22/2021)	\$80.23
4/9/2021	Orange County Civil document cost for Court's Minute Order.	\$7.50
4/15/2021	California District Court Cost for Filing Complaint and Civil Cover Sheet on	\$402.00
	2/25/2021.	·
4/15/2021	Court reporter attendance at Motion on 4/1/21 (Invoice #176184) \$164.90	\$164.90 \$199.00
4/19/2021	Server Index LLC invoice no. 191472 (\$199): Subpoena Domestication at Supreme Court (Process Server taking NY and California Subpoenas to County Clerk's office for processing.)	\$199.00
5/4/2021	Fed Ct PACER fee	\$72.70
5/12/2021	Invoice # 29341 -Stakeout and personal service of Subpoena to Mr. Christopher	\$810.00
0/12/2021	Greenwell.	φοτο.σο
5/20/2021	Aptus Court Reporting Invoice # 1085198 for Certified Deposition Transcript of Morris Doueck-PMK (\$1,906.24)	\$1,906.24
5/22/2021	Aptus Court Reporting Invoice # 1085353 for Certified Deposition Transcript of John Kelly (\$2,070.40)	\$2,070.40
5/24/2021	Aptus Court Reporting Invoice # 1085893 for Certified Deposition Transcript of Clayton DeGiacinto (\$1,319.57)	\$1,319.57
5/24/2021	Invoice # 2003 - Retainer fee for Nelson/Skyloft case (\$1500).	\$1,500.00
5/25/2021	Aptus Court Reporting Invoice # 1085748 for Certified Deposition Transcript of	\$1,270.97
	Christopher Greenwell (\$1,270.97)	
5/31/2021	Casepoint Invoice #CP42552 for hosting outside database and billable hours (\$420)	\$420.00
6/10/2021	Karen L. Siedlecki Invoice # 2817 for \$212.50 for Transcript of oral argument and ruling of the Court on Plaintiff's Motions for TRO and expedition	\$212.50
6/10/2021	Miller and Lloyd invoice # 2441 for Billable Hours.	\$4,800.00
6/10/2021	Rachelle Primeaux Invoice # 10770 for Hearing Transcript in Skyloft v. Nelson case (\$378.30)	\$378.30
6/10/2021	Cooch and Taylor Invoice # 173959 for Billable Hours and Disbursements for Messenger Services (\$37,012.90)	\$37,012.90
6/10/2021	Invoice # 28273 - Deliver Courtesy Copy Binder to Judge Marshall with Parziale v. Nelson documents	\$220.10
6/21/2021	Court stamped documents downloaded from Court website for Investors Sharefile folder.	\$7.78
6/30/2021	Casepoint Invoice #CP42972 for Hosted Data (\$20.00)	\$20.00
7/8/2021	One Legal Court Filing Cost for Notice of Motion and Motion for Leave to file Second Amended Derivative Complaint (Order #16285967; Case 30-2021-01184473-CU-MC-CXC; 05/10/2021) Invoice no: 03278594, \$76.44	\$76.44

7/8/2021	One Legal Court Filing Cost for Supplemental Memorandum of Points and Authorities in Opposition to Specially Appearing Defendants' Motion to Quash (Order #16376010; Case 30-2021-01184473-CU-MC-CXC; 05/27/2021) Invoice no: 03314549, \$14.67	\$14.67
7/8/2021	One Legal Court Filing Cost for Declaration of Brownlie in Support of Supplemental Memorandum of Points and Authorities in Opposition to Defendants' Motion to Quash [amended ROA 251 with bookmarks] and POS (Order #16402512; Case 30-2021-01184473-CU-MC-CXC; 06/2/2021) Invoice no: 03324834, \$14.67	\$14.67
7/8/2021	One Legal Court Filing Cost for Plaintiff's Supplemental Reply Memorandum of Points and Authorities re Order to Show Cause Re Preliminary Injunction with POS (Order #16410146; Case 30-2021-01184473-CU-MC-CXC; 06/03/2021) Invoice no: 03327865, \$14.67	\$14.67
7/8/2021	One Legal Court Filing Cost for Declaration in Support of Plaintiff's Supplemental Reply Memorandum of Points and Authorities (Part 1 of 4) (Order #16410588; Case 30-2021-01184473-CU-MC-CXC; 06/03/2021) Invoice no: 03327904, \$14.67	\$14.67
7/8/2021	One Legal Court Filing Cost for Declaration in Support of Plaintiff's Supplemental Reply Memorandum of Points and Authorities (Part 4 of 4) (Order #16410603; Case 30-2021-01184473-CU-MC-CXC; 06/03/2021) Invoice no: 03327909, \$14.67	\$14.67
7/8/2021	One Legal Court Filing Cost for Joint Status Report with Proof of Service (Order #16413415; Case 30-2021-01184473-CU-MC-CXC; 06/04/2021) Invoice no: 03329644, \$14.67	\$14.67
7/8/2021	One Legal Court Filing Cost for Declaration of Brownlie in Support of Supplemental Memorandum of Points and Authorities in Opposition to Specially Appearing Defendants' Motion to Quash [Refiled ROA 251 & 256 with Bookmarks] (Order #16435712; Case 30-2021-01184473-CU-MC-CXC; 06/09/2021) Invoice no: 03338649, \$14.67	\$14.67
7/8/2021	One Legal Court Filing Cost for Declaration of Brownlie in Support of Supplemental Reply Memorandum of P&As re Order to Show Cause re Preliminary Injunction [Part 1 of 4] - [refiled ROA 270 with Bookmarks] (Order #16435820; Case 30-2021-01184473-CU-MC-CXC; 06/09/2021) Invoice no: 03338654, \$14.67	\$14.67
7/8/2021	One Legal Court Filing Cost for Second Amended Derivative Complaint for Declaratory Relief, Breach of Trust Agreement, Breach of Fiduciary Duty, Aiding and Abetting Breach of Fiduciary Duty (Order #16480888; Case 30-2021-01184473-CU-MC-CXC; 06/21/2021) Invoice no: 03361706, \$14.67	\$14.67
7/8/2021	One Legal Court Filing Cost for Plaintiffs' Notice of Ruling re June 17, 2021 Motions and Status Conference (Order #16491661; Case 30-2021-01184473-CU-MC-CXC; 06/22/2021) Invoice no: 03363979, \$14.67	\$14.67
7/8/2021	One Legal Court Filing Cost for Second Amended Summons (Order #16491343; Case 30-2021-01184473-CU-MC-CXC; 06/25/2021) Invoice no: 03371693, \$14.67	\$14.67
7/8/2021	One Legal Court Filing Cost for Proof of Service of Summons re Axonic Capital LLC (Order #16523901; Case 30-2021-01184473-CU-MC-CXC; 06/25/2021) Invoice no: 03375602, \$14.67	\$14.67
7/21/2021	Invoice # 2011 - \$1719.30 - Balance of billable hours for 5/28/2021 through 7/15/2021 (Invoice 2011 was for \$3219.30 total. \$1500 Retainer previously sent as check #1109. \$1719.30 Balance Due.)	\$1,719.30
7/27/2021	Parking at Los Angeles federal court.	\$11.00
7/31/2021	Casepoint Invoice #CP43790 for Hosted Data (\$20.00)	\$20.00 \$76.50
8/9/2021 8/9/2021	Invoice # 31610 (Job # 71032) - Rush filing and courtesy copy for Judge. (\$76.50) Invoice # 31610 - Personal service of Second Amended Complaint to all 9 Defendants	\$76.50 \$1,314.50

8/31/2021 9/13/2021	Casepoint Invoice #CP44129 for Hosted Data (\$20.00)  Nationwide Legal Invoice # 33796 (Puleo Portion of bill) for \$1474.19. Personal service of new Federal Complaint to the following: Clayton Degiancinto; Axonic	\$20.00 \$1,474.19
	Credit Opportunities Master Fund; Axonic Capital; AXSPV LLC Series ACO CRE	
	Lender; AXSPV LLC Series NB CRE Lender; AXSPV LLC Series SBL CRE Lender; AXONIC SPECIAL Opportunities SBL Master Fund; and BURGUNDY 523	
	OFFSHORE Fund, LTD.	
10/8/2021	Check to Court Reporter Anne Kielwasser for 07/27/2021 Hearing Transcript on	\$118.26
. 0, 0, 202 .	Motion to Dismiss for \$131.04.	¥110.20
10/29/2021	Casepoint eDisovery services for document database and professional services.	\$20.00
	Invoice number CP44409 for \$20.00	
	Jona Bolling Investigative Services Invoice #2012 (\$2,513.90)	\$2,513.90
10/29/2021	One Legal Court Filing Cost for Declaration in Support of Plaintiff's Opposition to	\$14.67
	Motion to Stay Action for Ground of Inconvenient Forum (Order 16722758, date	
11/0/2021	8/6/2021) Otio Magriett Hetal Augtin	<b>ቀ</b> ባ72 70
	Otis Marriott Hotel Austin Casepoint Invoice #CP44870 for Hosted Data (\$5,422.00)	\$273.78 \$5,422.00
	Nationwide Legal LLC Invoice # 35921 for service of Petition in Intervention	\$162.50
11/13/2021	(\$162.50)	\$102.50
11/29/2021	Austin airline tickets	\$589.39
	American AA	\$589.39
	Austin parking	\$18.00
12/1/2021	Austin meal	\$45.59
12/1/2021	Austin meal	\$19.85
12/1/2021	Meal while travelling	\$19.85
12/1/2021	Meal while traveling	\$45.59
12/1/2021	Austin parking	\$18.00
12/1/2021	Austin parking (hotel)	\$25.00
12/2/2021	Austin Parking	\$35.35
12/2/2021	Austin Parking	\$18.00
12/2/2021	Austin meal	\$20.00
12/2/2021	Meal while traveling	\$10.00
12/2/2021	Meal while traveling	\$10.00
12/2/2021	Austin parking (depo)	\$18.00
12/2/2021	Austin parking	\$35.35
12/2/2021	Meal while traveling	\$5.33
12/3/2021 12/3/2021	Hertz receipt for Austin Rental	\$247.32 \$3.97
12/3/2021	Gas for Austin Rental car Hertz for Austin deposition trip	\$247.32
12/3/2021	Meal while traveling	\$89.56
12/3/2021	Austin Parking (hotel)	\$18.00
12/3/2021	Austin car rental	\$247.32
12/3/2021	Meal while traveling	\$3.97
12/3/2021	Meal while traveling	\$12.75
12/4/2021	SD Airport Parking	\$128.00
12/4/2021	SD Airport Parking	\$128.00
1/3/2022	Veritext invoice # 544874 for \$619.15. Video MPEG and digitizing for depositions of	\$619.15
	Patrick Nelson Corporate Representative and Corporate Representative for NPPM.	
1/7/2022	Casepoint Invoice #CP45362 for Hosted Data (\$10,860.20)	\$10,860.20
1/7/2022	Nationwide Legal Invoice # 36975 (Puleo Portion of bill) for \$250.30. Personal	\$250.30
	service of Amended Federal Complaint on NP Skyloft DST.	
1/7/2022	Veritext - Pat Nelson Deposition Transcript, Volume 1, 12/01/21, Invoice # 5451548,	\$1,561.95
	(\$1,561.95).	

1/7/2022	Veritext - Lisa Hartman Deposition Transcript, Volume 1, 12/11/12, Invoice # 5421280, (\$1,572.15).	\$1,572.15
1/26/2022	Veritext - Lisa Hartman Deposition Video, Volume 1, 11/15, Invoice # 5469686, (\$800.00).	\$800.00
1/26/2022	Veritext - Patrick Nelson Deposition Video, Volume 1, 12/01/2021, Invoice #5476644, (\$800.00).	\$800.00
1/26/2022	· ·	\$365.00
1/26/2022	Veritext - Patrick Nelson as Corporate Representative for NPPM - Deposition Transcript, Volume 2, 12/02/2021, Invoice #5462319, (\$1720.70).	\$1,720.70
1/26/2022	Veritext - Patrick Nelson as Corporate Representative for NP Skyloft DST, IB and ST - Deposition Transcript, Volume 2, 12/03/2021, Invoice #5465531, (\$1766.35).	\$1,766.35
1/26/2022	Veritext - Patrick Nelson as Corporate Representative for NP Skyloft DST, IB and ST - Deposition Video, Volume 2, 12/03/2021, Invoice #5468142, (\$800.00).	\$800.00
1/26/2022	TSG Reporting - Clayton DeGiacinto Deposition Video, 10/28/2021, Invoice # 2069684, (\$250.00).	\$250.00
1/26/2022	TSG Reporting - Clayton DeGiacinto Deposition Transcript, 10/28/2021, Invoice # 2069683, (\$314.10).	\$314.10
1/26/2022		\$2,074.95
1/26/2022	TSG Reporting - Brendan McCormick Deposition Video, 10/26/2021, Invoice # 2069686, (\$750.00).	\$750.00
1/26/2022	TSG Reporting - Brendan McCormick Deposition Transcript, 10/27/2021, Invoice # 2069687, (\$1042.50).	\$1,042.50
1/26/2022	TSG Reporting - Brendan McCormick Deposition Video, 10/27/2021, Invoice # 2069688, (\$500.00).	\$500.00
1/26/2022	Casepoint eDisovery services for document database and professional services. Invoice number CP45959 for \$6023.00	\$6,023.00
	11110100 Hallibot Of 10000 for \$40020.00	
2/11/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.	\$8,000.00
2/11/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation	\$713.20
2/11/2022 2/11/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000. Austin airline tickets for mediation Delta AA	\$713.20 \$713.20
2/11/2022 2/11/2022 2/19/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets	\$713.20 \$713.20 \$609.21
2/11/2022 2/11/2022 2/19/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000. Austin airline tickets for mediation Delta AA	\$713.20 \$713.20 \$609.21 \$609.21
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal	\$713.20 \$713.20 \$609.21 \$609.21
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/22/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi  Austin meal	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi  Austin meal  Airport parking	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi  Austin meal  Airport parking  Austin hotel for mediation	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi  Austin meal  Airport parking  Austin hotel for mediation  Stephen F Austin Hotel	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$314.73
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi  Austin meal  Airport parking  Austin hotel for mediation  Stephen F Austin Hotel  Airport Parking	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$314.73 \$19.00
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi  Austin meal  Airport parking  Austin hotel for mediation  Stephen F Austin Hotel  Airport Parking  Meal while traveling  Meal while traveling	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$314.73 \$19.00 \$24.88
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi  Austin meal  Airport parking  Austin hotel for mediation  Stephen F Austin Hotel  Airport Parking  Meal while traveling  Meal while traveling  Meal while traveling	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$314.73 \$19.00 \$24.88 \$24.24
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi  Austin meal  Airport parking  Austin hotel for mediation  Stephen F Austin Hotel  Airport Parking  Meal while traveling	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$314.73 \$19.00 \$24.88 \$24.24 \$133.50
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation Delta AA Austin airline tickets American AA Austin taxi Austin meal Meal while traveling Austin Taxi Austin meal Airport parking Austin hotel for mediation Stephen F Austin Hotel Airport Parking Meal while traveling Casepoint eDisovery services for document database and professional services. Invoice number CP46313 for \$5673.00	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$19.00 \$24.88 \$24.24 \$133.50 \$5,673.00
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/25/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi  Austin meal  Airport parking  Austin hotel for mediation  Stephen F Austin Hotel  Airport Parking  Meal while traveling  Casepoint eDisovery services for document database and professional services.  Invoice number CP46313 for \$5673.00  Austin meal	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$314.73 \$19.00 \$24.88 \$24.24 \$133.50 \$5,673.00
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/24/2022 2/25/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi  Austin meal  Airport parking  Austin hotel for mediation  Stephen F Austin Hotel  Airport Parking  Meal while traveling  Casepoint eDisovery services for document database and professional services.  Invoice number CP46313 for \$5673.00  Austin meal  Meal while traveling	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$314.73 \$19.00 \$24.88 \$24.24 \$133.50 \$5,673.00
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/24/2022 2/25/2022 2/27/2022 2/27/2022 2/28/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation  Delta AA  Austin airline tickets  American AA  Austin taxi  Austin meal  Meal while traveling  Austin Taxi  Austin meal  Airport parking  Austin hotel for mediation  Stephen F Austin Hotel  Airport Parking  Meal while traveling  Meal while traveling  Meal while traveling  Meal while traveling  Casepoint eDisovery services for document database and professional services.  Invoice number CP46313 for \$5673.00  Austin meal  Meal while traveling  Austin meal  Meal while traveling	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$314.73 \$19.00 \$24.88 \$24.24 \$133.50 \$5,673.00 \$279.63 \$12.11 \$19.30
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/24/2022 2/25/2022 2/27/2022 2/28/2022 2/28/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation Delta AA Austin airline tickets American AA Austin taxi Austin taxi Austin meal Meal while traveling Austin Taxi Austin meal Airport parking Austin hotel for mediation Stephen F Austin Hotel Airport Parking Meal while traveling Meal while traveling Meal while traveling Casepoint eDisovery services for document database and professional services. Invoice number CP46313 for \$5673.00 Austin meal Meal while traveling Austin meal Meal while traveling Austin meal Austin meal Austin cab	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$19.00 \$24.88 \$24.24 \$133.50 \$5,673.00 \$279.63 \$12.11 \$19.30 \$47.30
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/24/2022 2/25/2022 2/27/2022 2/28/2022 2/28/2022 2/28/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation Delta AA Austin airline tickets American AA Austin taxi Austin meal Meal while traveling Austin Taxi Austin meal Airport parking Austin hotel for mediation Stephen F Austin Hotel Airport Parking Meal while traveling Meal while traveling Meal while traveling Meal while traveling Casepoint eDisovery services for document database and professional services. Invoice number CP46313 for \$5673.00 Austin meal Meal while traveling Austin meal Austin cab Austin hotel for mediation	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$19.00 \$24.88 \$24.24 \$133.50 \$5,673.00 \$279.63 \$47.30 \$279.63
2/11/2022 2/11/2022 2/19/2022 2/19/2022 2/22/2022 2/22/2022 2/22/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/23/2022 2/25/2022 2/27/2022 2/27/2022 2/28/2022 2/28/2022 2/28/2022 2/28/2022	Payment to Royal Furgeson for our portion of Mediation charges. Invoice #1059 for \$8000.  Austin airline tickets for mediation Delta AA Austin airline tickets American AA Austin taxi Austin taxi Austin meal Meal while traveling Austin Taxi Austin meal Airport parking Austin hotel for mediation Stephen F Austin Hotel Airport Parking Meal while traveling Meal while traveling Meal while traveling Casepoint eDisovery services for document database and professional services. Invoice number CP46313 for \$5673.00 Austin meal Meal while traveling Austin meal Meal while traveling Austin meal Austin meal Austin cab	\$713.20 \$713.20 \$609.21 \$609.21 \$45.30 \$17.77 \$17.77 \$45.30 \$24.24 \$19.00 \$314.73 \$19.00 \$24.88 \$24.24 \$133.50 \$5,673.00 \$279.63 \$12.11 \$19.30 \$47.30

2/28/2022	Meal while traveling	\$19.30
3/1/2022	Airport parking	\$64.00
3/1/2022	SD Airport Parking	\$64.00
3/7/2022	Invoice #1070 for \$1404.48 - Payment to Mediator Royal Furgeson for the 2 day	\$1,404.48
	mediation room rental and food (split 6 ways).	. ,
3/11/2022	Meal while traveling	\$26.27
3/11/2022	Deposition parking	\$20.00
3/29/2022	Parking	\$25.00
3/29/2022	Lunch	\$30.57
3/29/2022	Grizzly Digital Data Invoice # 606; \$583.16; For Forensic Acquisition and	\$583.16
0.100.100.00	Consultation for copy of Jim Parziale's computer.	40= 00
3/29/2022	Court parking	\$25.00
3/29/2022	Meal	\$30.57
	LA federal courthouse parking	\$25.00
	Meal while traveling	\$30.57
3/30/2022	Toll travel Central District (Los Angeles)	\$8.82
3/30/2022	Toll	\$8.82
3/31/2022	Counsel Press Inc. invoice # 0009134003; \$1262.55; Assist with editing and file	\$1,262.55
	Appellant's Opening Brief and Excerpts of Record.	
3/31/2022	Casepoint invoice # CP46674; \$5974.60; for services for eDisovery document	\$5,974.60
	database and professional services.	. ,
4/4/2022	Meal while traveling	\$14.27
4/5/2022	Austin meal	\$14.27
4/6/2022	Austin meal	\$9.58
4/6/2022	Austin taxi	\$48.53
4/6/2022	Austin text	\$25.65
4/6/2022	Austin hotel	\$560.43
4/6/2022	Stephen F Austin Hotel	\$560.43
4/6/2022	Meal while traveling	\$25.65
4/6/2022	Austin Taxi	\$48.53
4/6/2022	Meal while traveling	\$9.58
4/7/2022	Austin meal	\$31.94
4/7/2022	Airport parking	\$64.00
4/7/2022	Austin meal	\$32.89
4/7/2022	Meal while traveling	\$32.89
4/7/2022	San Diego Airport Parking	\$64.00
4/7/2022	Meal while traveling	\$31.94
4/19/2022	Austin airfare	\$403.00
4/19/2022	American AA	\$403.00
4/23/2022	Meal while traveling	\$52.93
4/23/2022	Meal while traveling	\$10.32
4/24/2022	Meal while traveling	\$34.15
4/24/2022	Meal while traveling	\$79.82
4/25/2022	Office Depot - trial supplies	\$119.54
4/25/2022	Meal while traveling	\$46.97
4/26/2022	Meal while traveling	\$45.89
	· · · · · · · · · · · · · · · · · · ·	
4/26/2022	Meal while traveling	\$13.10
4/27/2022	Parking	\$30.00
4/27/2022	Parking Machanilla Annualia a	\$10.00
4/28/2022	Meal while traveling	\$42.32
4/28/2022	Parking	\$40.00
4/28/2022	Meal while traveling	\$126.00
4/28/2022	Meal while traveling	\$21.86
4/29/2022	Meal while traveling	\$20.50
4/29/2022	Parking	\$40.00

	Office Depot - trial supplies	\$45.31
4/30/2022	Meal while traveling	\$29.95
4/30/2022	Meal while traveling	\$19.50
5/1/2022	Meal while traveling	\$18.03
5/2/2022	Parking	\$40.00
5/3/2022	Meal while traveling	\$27.92
5/3/2022	Parking	\$40.00
5/3/2022	Meal while traveling	\$72.62
5/4/2022	Dinner with Mr. Parziale during trial	\$197.88
5/4/2022	Parking	\$40.00
5/4/2022	Parking	\$40.00
5/5/2022	Parking	\$40.00
5/6/2022	Casepoint invoice # CP47329; \$14699.60; for March services for eDisovery	\$14,669.60
3/0/2022	document database and professional services.	Ψ14,009.00
5/6/2022	·	<b>CO 404 00</b>
3/0/2022	Casepoint invoice # CP47653; \$9401.00; for March services for eDisovery document	\$9,401.00
F/C/0000	database and professional services.	<b>#0.000.70</b>
5/6/2022	Imagine Reporting: Print Trial Exhibits for San Diego office; Invoice #64330,	\$2,882.78
	\$2882.78.	*
5/6/2022	Joshua Karton; \$101.80; Travel from LA to Solana Beach for Jury Consulting.	\$101.80
5/6/2022	Joshua Karton; \$7700.00; Billable hours for Jury Consulting.	\$7,700.00
5/6/2022	Rainmaker Document Technologies; INV1570278; \$3349.38; Printing, preparing and	\$3,349.38
	delivering trial exhibits for Court Room.	
5/6/2022	Parking	\$40.00
5/8/2022	Ryan Hansen Hotel	\$1,536.02
5/8/2022	Meal while traveling	\$85.89
5/8/2022	Best Buy - trial supply	\$54.11
5/8/2022	Meal while traveling	\$101.27
5/9/2022	TSG Reporting Invoices; 2752.40:	\$2,752.40
	2077594 for Doueck and Ashourzadeh Certified deposition transcripts \$1071.45;	<del>+-,</del>
	2077595 for Doueck and Ashourzadeh Video depositions \$375.00; 2078322 for	
	David Schwarz certified deposition transcript \$930.95; and 2078323 for David	
	Schwarz video deposition\$375.00.	
5/9/2022	Veritext Invoice # 5664577; \$904.95; Joseph J. McQuade certified deposition	\$904.95
3/3/2022	transcript.	ψ904.95
E/0/2022	·	¢ <b>೯</b> ೧೧ ೧೧
5/9/2022	Veritext Invoice # 5668084; \$590.00; Joseph J. McQuade Video deposition.	\$590.00 \$735.00
5/9/2022	Veritext Invoice # 5680110; \$725.00; Amy Pikula Video deposition.	\$725.00
5/9/2022	Veritext Invoice # 5666607; \$1275.15; Amy Pikula Certified deposition transcript.	\$1,275.15
5/9/2022	Veritext Invoice # 5686106; \$1395.85; James Parziale Certified deposition transcript.	\$1,395.85
5/9/2022	Veritext Invoice # 5692489; \$1231.85; Sandy Simmons Certified deposition	\$1,231.85
	transcript.	
5/9/2022	Hyatt House Austin Downtown; Folio No. 132142; \$1117.28; Parziale Hotel Room for	\$1,117.28
	Trial 4/24-4/28.	
5/9/2022	Meal while traveling	\$47.18
5/9/2022	Parking	\$40.00
5/9/2022	Meal while traveling	\$37.82
5/9/2022	Meal while traveling	\$54.47
5/9/2022	Meal while traveling	\$98.00
5/10/2022	Parking	\$10.00
5/11/2022	Dinner with Attorneys Lloyd, Hansen and Brownlie	\$407.85
5/11/2022	Parking	\$10.00
5/11/2022	Parking	\$10.00
5/11/2022	American AA	\$227.00
5/12/2022	Hyatt House Austin Downtown; \$6213.35; Robert Brownlie hotel room for Trial in	\$6,213.35
JI 1212UZZ	Texas 2022.04.23 through 2022.05.12.	ψυ,∠ 13.33
	10/43 2022.07.20 tillough 2022.00.12.	

5/12/2022	Hyatt House Austin Downtown; \$794.94; Jim Parziale Hotel room for 2022.05.03 and	\$794.94
= / 4 0 / 0 0 0 0	2022.05.04 for trial.	<b>*</b> 4
5/12/2022	Hertz receipt for Austin rental	\$1,157.75
	Four Seasons Hotel charge; \$54.47; 2022.05.09.	\$54.47
5/12/2022	Hyatt House Austin Downtown; \$317.36; Jim Parziale Hotel room for 2022.04.20 and	\$317.36
E/12/2022	2022.04.22 for trial.	<b>¢</b> 24.22
5/12/2022	Meal while traveling	\$34.23
	Meal while traveling	\$165.49
	Meal while traveling	\$61.96 \$40.00
	Meal while traveling Meal while traveling	\$40.00 \$9.33
	<u> </u>	
	Meal while traveling	\$45.74 \$6.212.25
	Hyatt House Austin - trial  Meal while traveling	\$6,213.35 \$54.46
5/16/2022	<u> </u>	\$54.40 \$66.54
3/10/2022	Rainmaker (UBEO LLC) INV1580267; \$66.54; for printing and preparing trial binder.	φ00.54
6/22/2022	Merchandise & Supplies for trial; \$45.74; 2022.05.12.	\$45.74
6/22/2022	Best Buy; \$54.11; 2022.05.08.	\$54.11
6/22/2022	Parking; \$40.00; 2022.05.04.	\$40.00
	Parking; \$40.00; 2022.05.05.	\$40.00
	· · · · · · · · · · · · · · · · · · ·	\$40.00
	Gas station charge; \$9.33; 2022.05.12.	\$9.33
6/22/2022	Parking; \$20.00; 2022.05.11.	\$20.00
6/22/2022	Parking; \$10.00; 2022.05.10.	\$10.00
6/22/2022	Parking; \$40.00; 2022.05.09.	\$40.00
	Gas; \$47.18; 2022.05.09.	\$47.18
	Parking; \$40.00; 2022.05.03.	\$40.00
	Parking; \$40.00; 2022.05.02.	\$40.00
	Parking; \$40.00; 2022.04.29.	\$40.00
6/22/2022	Parking; \$40.00; 2022.04.28.	\$40.00
6/22/2022	· · · · · · · · · · · · · · · · · · ·	\$10.00
6/22/2022	Parking; \$30.00; 2022.04.27.	\$30.00
6/22/2022	· · · · · · · · · · · · · · · · · · ·	\$119.54
6/22/2022	Austin airfare; 2022.05.11	\$227.00
6/22/2022	Office Depot; \$45.31; 2022.04.30.	\$45.31
6/22/2022	Restaurant charge; \$227.45; 2022.05.12	\$227.45
6/22/2022	Restaurant charge; \$407.85; 2022.05.11	\$407.85
6/22/2022	Restaurant charge; \$135.85; 2022.05.09	\$135.85
6/22/2022	Restaurant charge; \$101.27; 2022.05.08	\$101.27
6/22/2022	Restaurant charge; \$197.88; 2022.05.04	\$197.88
6/22/2022	Restaurant charge; \$72.62; 2022.05.03	\$72.62
6/22/2022	Restaurant charge; \$27.92; 2022.05.03	\$27.92
6/22/2022	Restaurant charge; \$18.03; 2022.05.01	\$18.03
6/22/2022	Restaurant charge; \$49.45; 2022.04.30	\$49.45
6/22/2022	Restaurant charge; \$20.50; 2022.04.29	\$20.50
6/22/2022	Restaurant charge; \$147.86; 2022.04.28.	\$147.86
6/22/2022	Restaurant charge; \$42.32; 2022.04.28.	\$42.32
6/22/2022	Restaurant charge; \$58.99; 2022.04.26.	\$58.99
6/22/2022	Restaurant charge; \$46.97; 2022.04.25.	\$46.97
6/22/2022	Restaurant charge; \$113.97; 2022.04.24.	\$113.97
6/22/2022	Restaurant charge; \$63.25; 2022.04.23.	\$63.25
6/22/2022	2022.04.23: AppleOne Temps cost for mock jurors	\$2,054.88
6/22/2022	2022.04.19: Mock jury conference room at Marriott Courtyard.	\$849.21
6/22/2022	2022.04.04 through 2022.04.19: Suzanne H. Mindlin billable hours for Jury	\$1,586.74
	Consulting.	

6/22/2022	2022.04.22 through 2022.05.06: Airfare, Lyft, Cab and Super 8 hotel cost for Jim Parziale's travel to Texas for Trial.	\$1,747.12
6/22/2022	Casepoint invoice # CP48156; \$6251.00; for May services for eDisovery document database and professional services.	\$6,251.00
6/23/2022	Corodata; Invoice # 1363773; \$69.00; Corodata: Shredding of case materials after trial.	\$69.00
6/23/2022	Counsel Press Inc.; Invoice # 9136684; \$779.17; Counsel Press preparation and filing of Reply Brief for Parziale case	\$779.17
6/30/2022	One Legal Court Filing Cost for Status Conference Statement -Order #18251852; Case 30-2021-01184473-CU-MC-CXC; 05/20/2022	\$25.48
7/28/2022	Casepoint invoice # CP48599; \$6251.00; for June services for eDisovery document database and professional services.	\$6,251.00
8/15/2022	Casepoint invoice # CP48870; \$6251.00; for July services for eDisovery document database and professional services.	\$6,251.00
9/6/2022	Casepoint invoice # CP49300; \$6251.00; for August services for eDisovery document database and professional services.	\$6,251.00
9/9/2022	American AA	\$701.21
10/3/2022	Casepoint eDisovery services for document database and professional services. Invoice number CP49922 for \$6251.00	\$6,251.00
	Casepoint invoice # CP50415; \$6251.00; for November services for eDisovery document database and professional services.	\$6,251.00
	CasePoint invoice # CP50822; \$6651.00; Casepoint eDiscovery database and services.	\$6,651.00
	One Legal Court Filing Cost for Status Conference Statement - Order #19677838; Case 30-2021-01184473-CU-MC-CXC; 1/20/23	\$25.94
1/26/2023	United Airlines Flight to Austin	\$1,954.30
2/8/2023	One Legal Court Filing Cost for Joint Status Report, Order #18908493; Case 30-2021-01184473-CU-MC-CXC; 09/13/2022	\$25.48
2/8/2023	One Legal Court Filing Cost for Proof of eService re Joint Status Report - Order #18908492; Case 30-2021-01184473-CU-MC-CXC; 09/13/2022	\$25.48
	American AA	\$951.90
2/23/2023	Meal while traveling	\$33.05
2/24/2023	Airport parking	\$24.00
2/24/2023	Hilton Garden Inn Austin	\$333.26
2/24/2023	Meal while traveling	\$34.42
2/24/2023	Austin Taxi	\$51.28
2/25/2023	Uber - Austin	\$28.63
2/25/2023	Uber - Austin	\$5.72
3/7/2023	JAMS mediation fee	\$4,843.83
4/1/2023	Cooch and Taylor billable hours for May 2021- July 2021 and Expenses from April 2021-October 2021; Invoice 175770; \$5696.90	\$5,696.90
8/18/2023	One Legal Court Filing Cost for Status Conference Statement - Order #20399337; Case 30-2021-01184473-CU-MC-CXC; 5/11/23	\$25.94
8/25/2023	Vanguard Invoice # 49022-01; \$303.50; for service of process of complaint and other initiating documents on NP Skyloft, DST	\$303.50
8/25/2023	Vanguard Invoice # 49023-01; \$243.50; for service of process of complaint and other initiating documents on NELSON PARTNERS, LLC	\$243.50
9/23/2023	Airport parking	\$75.00
9/25/2023	Lunch	\$26.24
9/26/2023	Hotel and meals for attending hearing on motion to hold Nelson in contempt.	\$519.16
9/26/2023	Cab fare from Austin airport to hotel	\$69.02
9/26/2023	Airfare to Austin	\$877.80
9/26/2023	Dinner	\$50.47
9/26/2023	Breakfast	\$18.70
		÷ . 3 0

12/5/2023	One Legal Court Filing Cost for Status Conference Statement - Order #21177280; Case 30-2021-01184473-CU-MC-CXC; 9/8/23	\$25.94
12/5/2023	One Legal Court Filing Cost for Application for Entry of Judgment on Sister-State Judgment - Order #21581512; Case 30-2021-01184473-CU-MC-CXC; 11/28/23	\$15.65
12/12/2023	Filing fee for Application for Entry of Judgment (filed 11/30/23) in Orange County Superior Court.	\$435.00
1/4/2024	2024.01.04 Filing Fee for Joint Status Report filed 1-4-24 (Order #21946342)	\$15.65
1/11/2024	Vanguard Legal Solutions service of process on Patrick Nelson, Invoice 49741-01; \$175.00	\$175.00
1/11/2024	Vanguard Legal Solutions service of process on Nelson Property Management Inc., Invoice 49742-01; \$195.00	\$195.00
1/11/2024	Vanguard Legal Solutions service of process on Nelson Partners, Invoice 49743-01; \$97.50	\$97.50
1/11/2024	Vanguard Legal Solutions service of process on NP Skyloft, Invoice 49744-01; \$265.00	\$265.00
1/12/2024	2024.01.12 Filing Fee for Proof of Personal Service of Notice of Entry of Judgment on NP Skyloft Equity filed 01-12-24 (Order #22008620)	\$17.71
1/12/2024	2024.01.12 Filing Fee for Proof of Personal Service of Notice of Entry of Judgment on Nelson Partners filed 01-12-24 (Order #22008742)	\$17.71
1/12/2024	2024.01.12 Filing Fee for Proof of Personal Service of Notice of Entry of Judgment on Patrick Nelson filed 01-12-24 (Order #22008658)	\$17.71
1/12/2024	2024.01.12 Filing Fee for Proof of Personal Service of Notice of Entry of Judgment on Nelson Brothers Property Management filed 01-12-24 (Order #22008717)	\$17.71
2/21/2024	2024.02.21 Filing Fee for Abstract of Judgment filed 02-15-24 (Order #22245220)	\$17.71
2/23/2024	2024.02.23 Filing Fee for revised Abstract of Judgment filed 02-21-24 (Order #22284666)	\$17.71
2/27/2024	2024.02.27 Filing Fee for revised Abstract of Judgment filed 02-23-24 (Order #22307033)	\$58.89
2/29/2024	Vanguard Legal Solutions pick up of Abstract of Judgment at courthouse, Invoice 49978; \$101.50	\$101.50
3/26/2024	Vanguard Legal Solutions pick up certified Abstract of Judgment at courthouse, Invoice 49988-03; \$309.10	\$309.10
4/18/2024	2024.04.18 Filing Fee for Joint Status Report (Order #22709524)	\$17.71
5/2/2024	Purchase of Patrick Nelson divorce case files from Dallas, Texas and Santa Ana, California.	\$155.51
8/15/2024	2024.08.15 Filing Fee for Status Conference Statement (Order #23533460) Total Brownlie Hansen Expenses	\$17.71 \$277,868.98
	Previous costs awarded to Brownlie Hansen	\$191,902.96
	Net unreimbursed Brownlie Hansen expenses	\$85,966.02

#### **Automated Certificate of eService**

This automated certificate of service was created by the efiling system. The filer served this document via email generated by the efiling system on the date and to the persons listed below. The rules governing certificates of service have not changed. Filers must still provide a certificate of service that complies with all applicable rules.

Suzanne Nakamura on behalf of D. Douglas Brothers

Bar No. 03084500 snakamura@gbkh.com Envelope ID: 93967716

Filing Code Description: Motion (No Fee)

Filing Description: MOTION FOR ATTORNEY'S FEES AND EXPENSES

AND CLASS REPRESENTATIVE SERVICE AWARDS

Status as of 11/7/2024 1:31 PM CST

Associated Case Party: JAMES V PARZIALE TRUSTEE OF THE PARZIALE FAMILY TRUST

Name	BarNumber	Email	TimestampSubmitted	Status
Jennifer Lloyd		jlloyd@millerlloyd.com	11/5/2024 5:21:20 PM	SENT
Kori Kempton		kori.kempton@brownliehansen.com	11/5/2024 5:21:20 PM	SENT

Associated Case Party: ACO SKYLOFT MANAGER LLC

Name	BarNumber	Email	TimestampSubmitted	Status
Bethany Simmons		bsimmons@loeb.com	11/5/2024 5:21:20 PM	SENT
Barney Given		bgiven@loeb.com	11/5/2024 5:21:20 PM	SENT

#### **Case Contacts**

Name	BarNumber	Email	TimestampSubmitted	Status
Jason Rudd		jason.rudd@wickphillips.com	11/5/2024 5:21:20 PM	SENT

Associated Case Party: STACYRSCHIFFMAN

Name	BarNumber	Email	TimestampSubmitted	Status
D. Douglas Brothers		dbrothers@gbkh.com	11/5/2024 5:21:20 PM	SENT
Suzy Nakamura		snakamura@gbkh.com	11/5/2024 5:21:20 PM	SENT